FORM NO. MGT-7

[Pursuant to sub-Section(1) of section 92 of the Companies Act, 2013 and sub-rule (1) of rule 11of the Companies (Management and Administration) Rules, 2014]



Annual Return

(other than OPCs and Small **Companies**)

Form language	English	Hindi
Refer the instruct	ion kit for fil	ing the form.

Ī.

I. REGISTRATION AND OTHER	R DETAILS						
(i) * Corporate Identification Number (C	IN) of the company	U45200	0MH1989PLC050444	Pre-fill			
Global Location Number (GLN) of the company							
* Permanent Account Number (PAN) of the company			AAECS0591F				
(ii) (a) Name of the company		TATA M	TATA MOTORS FINANCE LIM				
(b) Registered office address							
14, 4TH FLOOR, SIR H.C. DINSHAW B 16, HORNIMAN CIRCLE, FORT MUMBAI Maharashtra 400001	UILDING						
(c) *e-mail ID of the company		vinay.la	avannis@tmf.co.in				
(d) *Telephone number with STD co	ode	022610	70000				
(e) Website		www.tr	mf.co.in				
(iii) Date of Incorporation		24/01/	1989				
(iv) Type of the Company	Category of the Company		Sub-category of the	Company			
Public Company	Company limited by sh	ares	Indian Non-Gov	ernment company			
(v) Whether company is having share ca	apital	Yes	○ No				
(vi) *Whether shares listed on recognize	ed Stock Exchange(s)	Yes	No				
(b) CIN of the Registrar and Transf	er Agent	U74999	9MH2018PTC307859	Pre-fill			
Name of the Registrar and Transfe	or Agont						

TSI	R CONSULTANT	S PRIVATE LIMITE	ED							
L Re	gistered office	address of the I	Registrar and Trar	nsfer Agen	ıts					
	101, 1st Floor, 24 I Bahadur Shasti	47 Park, ri Marg, Vikhroli (West)					Ð		
(vii) *Fin	nancial year Fro	om date 01/04/	2021	(DD/MM/Y	YYY) T	To date	31/03/202		_	M/YYYY)
(viii) *WI	hether Annual	general meeting	g (AGM) held	(Yes		No			
(a)	If yes, date of	AGM								
(b)	Due date of A	GM [30/09/2022							
		ا extension for AG				Yes (No			
` ,	•		IVITIES OF TH	IE COM	_	,	9			
*	Number of bus	iness activities	1							
S.No	Main Activity group code	Description of N	Main Activity group	Busines Activity Code	s Des	scription of	Business	Activity	/	% of turnove of the company
1	К	Financial and	insurance Service	K8		Othe	r financial	activitie	S	100
(INC	CLUDING JO	DINT VENTUI	G, SUBSIDIAR RES) attion is to be given		ASSO(CIATE C		IIES		
S.No	Name of t	the company	CIN / FCF	RN	Holdin	g/ Subsidi Joint Ve		iate/	% of sh	ares held
1		INGS LIMITED	U65923MH2006PI			Ho l di				97
i) *SHA	ARE CAPITA RE CAPITA ity share capita	L	URES AND OT	THER SE	CURIT	TIES OF	THE CO	OMPA	NY	
	Particula	ırs	Authorised capital	Issu cap			cribed bital	Paid u	ıp capital	
Total nu	umber of equity	/ shares	120,000,000	60,827,6	89	60,827,6	89	60,827	7,689	
Total ar Rupees	mount of equity	shares (in	12,000,000,000	6,082,76	8,900	6,082,76	8,900	6,082,	768,900	

Number of classes

Class of Shares	Authoricad	ICabilai	Subscribed capital	Paid up capital
Number of equity shares	120,000,000	60,827,689	60,827,689	60,827,689
Nominal value per share (in rupees)	100	100	100	100
Total amount of equity shares (in rupees)	12,000,000,000	6,082,768,900	6,082,768,900	6,082,768,900

(b) Preference share capital

Particulars	Authorised capital	Issued capital	Subscribed capital	Paid-up capital
Total number of preference shares	80,000,000	72,300,000	72,300,000	72,300,000
Total amount of preference shares (in rupees)	8,000,000,000	7,230,000,000	7,230,000,000	7,230,000,000

Number of classes	1

Class of shares	Authoriond	Issued capital	Subscribed capital	Paid up capital
Number of preference shares	80,000,000	72,300,000	72,300,000	72,300,000
Nominal value per share (in rupees)	100	100	100	100
Total amount of preference shares (in rupees)	8,000,000,000	7,230,000,000	7,230,000,000	7,230,000,000

(c) Unclassified share capital

Particulars	Authorised Capital
Total amount of unclassified shares	0

(d) Break-up of paid-up share capital

Class of shares	N	umber of sh	ares	Total nominal amount	Total Paid-up amount	Total premium
Equity shares	Physical	DEMAT	Total			
At the beginning of the year	0	60,827,689	60827689	6,082,768,9 +	6,082,768,±	
Increase during the year	0	0	0	0	0	0
i. Pubic Issues	0	0	0	0	0	0
ii. Rights issue	0	0	0	0	0	0
iii. Bonus issue	0	0	0	0	0	0
iv. Private Placement/ Preferential allotment	0	0	0	0	0	0

v. ESOPs						
	0	0	0	0	0	0
vi. Sweat equity shares allotted	0	0	0	0	0	0
vii. Conversion of Preference share	0	0	0	0	0	0
viii. Conversion of Debentures	0	0	0	0	0	0
ix. GDRs/ADRs	0	0	0	0	0	0
x. Others, specify						
Decrease during the year	0	0	0	0	0	0
i. Buy-back of shares	0	0	0	0	0	0
ii. Shares forfeited	0	0	0	0	0	0
iii. Reduction of share capital	0	0	0	0	0	0
iv. Others, specify						
At the end of the year	0	60,827,689	60827689	6,082,768,9	6,082,768,	
Preference shares						
At the beginning of the year						
At the beginning of the year	0	72,300,000	72300000	7,230,000,0		
Increase during the year	0	72,300,000	72300000	7,230,000,0 0		0
Increase during the year				+	0	
	0	0	0	0	0	0
Increase during the year i. Issues of shares	0	0	0	0	0	0
i. Issues of shares ii. Re-issue of forfeited shares	0	0	0	0	0	0
i. Issues of shares ii. Re-issue of forfeited shares iii. Others, specify	0 0 0	0 0 0	0 0 0	0 0	0 0	0 0
i. Issues of shares ii. Re-issue of forfeited shares iii. Others, specify Decrease during the year	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0	0 0 0
i. Issues of shares ii. Re-issue of forfeited shares iii. Others, specify Decrease during the year i. Redemption of shares	0 0 0	0 0 0 0	0 0 0	0 0 0 0	0 0 0	0 0 0 0
i. Issues of shares ii. Re-issue of forfeited shares iii. Others, specify Decrease during the year i. Redemption of shares ii. Shares forfeited	0 0 0 0 0 0	0 0 0 0 0	0 0 0 0 0	0 0 0 0 0	0 0 0 0	0 0 0 0 0

Class o	f shares	(i)			(ii)			(iii)
	Number of shares							
Before split /								
Consolidation	Face value per share							
After split /	Number of shares							
Consolidation	Face value per share							
f the first return a	es/Debentures Transfe It any time since the incommendation Vided in a CD/Digital Media		on of the		iny)		cial y	ear (or in the
	tached for details of transfer	S		Yes		No		riot / ipplicable
edia may be shown.	sfer exceeds 10, option for so	ubmission as	a separato	e sheet a	ttach	ment	or subn	nission in a CD/
Date of registration	of transfer (Date Month Ye	ear)						
		′ <u> </u>						
Type of transf	er 1	· L	- Preferen	ce Shar	es,3	- Del	penture	es, 4 - Stock
Type of transformation Number of Shares/ Units Transferred		- Equity, 2	- Preferen Amount p Debentur	er Shar			penture	es, 4 - Stock
Number of Shares/	Debentures/	- Equity, 2	Amount p	er Shar			oenture	es, 4 - Stock
Number of Shares/ Units Transferred	Debentures/	- Equity, 2	Amount p	er Shar			penture	es, 4 - Stock

Transferee's Name							
	Surname	middle name	first name				
Date of registration of transfer (Date Month Year)							
Type of transfer 1 - Equity, 2- Preference Shares,3 - Debentures, 4 - Stock							
Number of Shares/ Debentures/ Units Transferred Amount per Share/ Debenture/Unit (in Rs.)							
Ledger Folio of Transferor							
Transferor's Name							
	Surname	middle name	first name				
Ledger Folio of Transferee							
Transferee's Name							
	Surname	middle name	first name				

(iv) *Debentures (Outstanding as at the end of financial year)

Particulars	Number of units	Nominal value per unit	Total value
Non-convertible debentures	62,937	5,00,000/10,00,000	62,351,518,067.84
Partly convertible debentures	0	0	0
Fully convertible debentures	0	0	0
Total			62,351,518,067.84

Details of debentures

Class of debentures	Outstanding as at the beginning of the		Decrease during the year	Outstanding as at the end of the year
	year			
Non-convertible debentures	50,713,808,878.1	24,642,981,273.77	13,005,272,084.03	62,351,518,067.84
Partly convertible debentures	0	0	0	0
Fully convertible debentures	0	0	0	0

(v) Securities (other than shares and debentures)

		•			
Type of Securities	Number of Securities	Nominal Value of each Unit	Total Nominal Value	Paid up Value of each Unit	Total Paid up Value
Total					

V. *Turnover and net worth of the company (as defined in the Companies Act, 2013)

(i) Turnover

37,626,354,000		
07,020,001,000		

0

(ii) Net worth of the Company

47,993,170,000

VI. (a) *SHARE HOLDING PATTERN - Promoters

S. No.	Category	Equ	ity	Preference	
		Number of shares	Percentage	Number of shares	Percentage
1.	Individual/Hindu Undivided Family				
	(i) Indian	0	0	0	0
	(ii) Non-resident Indian (NRI)	0	0	0	0
	(iii) Foreign national (other than NRI)	0	0	0	0
2.	Government				
	(i) Central Government	0	0	0	0
	(ii) State Government	0	0	0	0
	(iii) Government companies	0	0	0	0
3.	Insurance companies	0	0	0	0
4.	Banks	0	0	0	0
5.	Financial institutions	0	0	0	0

6.	Foreign institutional investors	0	0	0	0
7.	Mutual funds	0	0	0	0
8.	Venture capital	0	0	0	0
9.	Body corporate (not mentioned above)	60,827,689	100	72,300,000	100
10.	Others	0	0	0	0
	Total	60,827,689	100	72,300,000	100

Total number of shareholders (promoters)

9		

(b) *SHARE HOLDING PATTERN - Public/Other than promoters

S. No.	Category	Equi	ty	Preference		
		Number of shares	Percentage	Number of shares	Percentage	
1.	Individual/Hindu Undivided Family					
	(i) Indian	0	0	0	0	
	(ii) Non-resident Indian (NRI)	0	0	0	0	
	(iii) Foreign national (other than NRI)	0	0	0	0	
2.	Government					
	(i) Central Government	0	0	0	0	
	(ii) State Government	0	0	0	0	
	(iii) Government companies	0	0	0	0	
3.	Insurance companies	0	0	0	0	
4.	Banks	0	0	0	0	
5.	Financial institutions	0	0	0	0	
6.	Foreign institutional investors	0	0	0	0	
7.	Mutual funds	0	0	0	0	
8.	Venture capital	0	0	0	0	
9.	Body corporate (not mentioned above)	0	0	0	0	
10.	Others	0	0	0	0	

	Total	0	0	0	0	
Total number of shareholders (other than promoters) 0						
	ber of shareholders (Promoters+Publi n promoters)	c / 9				

VII. *NUMBER OF PROMOTERS, MEMBERS, DEBENTURE HOLDERS (Details, Promoters, Members (other than promoters), Debenture holders)

Details	At the beginning of the year	At the end of the year
Promoters	9	9
Members (other than promoters)	0	0
Debenture holders	5,616	7,445

VIII. DETAILS OF DIRECTORS AND KEY MANAGERIAL PERSONNEL

(A) *Composition of Board of Directors

Category	Number of directors at the beginning of the year		Number of directors at the end of the year		Percentage of shares held by directors as at the end of year	
	Executive	Non-executive	Executive	Non-executive	Executive	Non-executive
A. Promoter	0	0	0	0	0	0
B. Non-Promoter	1	5	1	6	0	0
(i) Non-Independent	1	2	1	2	0	0
(ii) Independent	0	3	0	4	0	0
C. Nominee Directors representing	0	0	0	0	0	0
(i) Banks & FIs	0	0	0	0	0	0
(ii) Investing institutions	0	0	0	0	0	0
(iii) Government	0	0	0	0	0	0
(iv) Small share holders	0	0	0	0	0	0
(v) Others	0	0	0	0	0	0
Total	1	5	1	6	0	0

Number of Directors and Key managerial personnel (who is not director) as on the financial year end date

(B) (i) *Details of directors and Key managerial personnel as on the closure of financial year

Name	DIN/PAN	Designation	Number of equity share(s) held	Date of cessation (after closure of financial year : If any)
NASSER MUKHTAR M	00010180	Director	0	
PALAMADAI SUNDARA	01173236	Director	0	
VEDIKA BHANDARKAF	00033808	Director	0	
VARSHA VASANT PUF	05288076	Director	0	
PATHAMADAI BALACH	02762983	Director	0	
SHYAM MANI	00273598	Director	0	
SAMRAT GUPTA	07071479	Managing Director	0	
SAMRAT GUPTA	ABNPG9172H	CEO	0	
RIDHI ZAVERI GANGA	ALFPG0689P	CFO	0	
VINAY LAVANNIS	AAAPL7819C	Company Secretar	0	

(ii) Particulars of change in director(s) and Key managerial personnel during the year

Name		beginning / during	Ichange in decignation/	Nature of change (Appointment/ Change in designation/ Cessation)
VARSHA VASANT PUF	05288076	Director	16/06/2021	Appointment

IX. MEETINGS OF MEMBERS/CLASS OF MEMBERS/BOARD/COMMITTEES OF THE BOARD OF DIRECTORS

A. MEMBERS/CLASS /REQUISITIONED/NCLT/COURT CONVENED MEETINGS

Number of meetings held 4 Attendance Total Number of Type of meeting Date of meeting Members entitled to attend meeting Number of members % of total attended shareholding EXTRA ORDINARY GENEF 9 8 100 11/05/2021 100 ANNUAL GENERAL MEET 31/08/2021 9 9 EXTRA ORDINARY GENEF 100 12/11/2021 9 9 9 EXTRA ORDINARY GENEF 04/03/2022 9 100

1

B. BOARD MEETINGS

*Number of meetings held

13

S. No.	Date of meeting	Total Number of directors associated as on the date				
		of meeting	Number of directors attended	% of attendance		
1	12/04/2021	6	6	100		
2	30/04/2021	6	6	100		
3	11/05/2021	6	6	100		
4	18/06/2021	7	7	100		
5	20/07/2021	7	7	100		
6	07/09/2021	7	7	100		
7	20/10/2021	7	7	100		
8	12/11/2021	7	7	100		
9	25/01/2022	7	7	100		
10	11/02/2022	7	7	100		
11	25/02/2022	7	7	100		
12	02/03/2022	7	7	100		

C. COMMITTEE MEETINGS

Number of meetings held

29

S. No.	Type of meeting		Total Number of Members as			
	modung	Date of meeting	on the date of the meeting	Number of members attended	% of attendance	
1	AUDIT COMM	09/04/2021	3	3	100	
2	AUDIT COMM	30/04/2021	3	3	100	
3	UDIT COMMIT	11/05/2021	3	3	100	
4	UDIT COMMIT	20/07/2021	5	5	100	
5	UDIT COMMIT	23/08/2021	5	4	80	
6	UDIT COMMIT	07/09/2021	5	5	100	
7	UDIT COMMIT	18/10/2021	5	5	100	

S. No.	Type of meeting		Total Number of Members as	Attendance	
		Date of meeting		Number of members attended	% of attendance
8	AUDIT COMM	14/12/2021	4	4	100
9	AUDIT COMM	25/01/2022	4	4	100
10	AUDIT COMM	25/02/2022	4	4	100

D. *ATTENDANCE OF DIRECTORS

		Board Meetings Committee Meetings				Whether attended AGM		
S. No.	of the director		Meetings	% of attendance		Meetings	% of attendance	held on
		entitled to attend	attended		entitled to attend	attended	allondanoo	(Y/N/NA)
1	NASSER MU	13	13	100	6	6	100	
2	PALAMADAI S	13	13	100	25	24	96	
3	VEDIKA BHAI	13	12	92.31	21	20	95.24	
4	VARSHA VAS	10	10	100	18	16	88.89	
5	PATHAMADA	13	13	100	25	25	100	
6	SHYAM MANI	13	13	100	22	22	100	
7	SAMRAT GUF	13	13	100	12	12	100	

X. *REMUNERATION OF DIRECTORS AND KEY MANAGERIAL PERSONNEL

☐ Nil

Number of Managing Director, Whole-time Directors and/or Manager whose remuneration details to be entered

1			
---	--	--	--

S. No.	Name	Designation	Gross Salary	Commission	Stock Option/ Sweat equity	Others	Total Amount
1	SAMRAT GUPTA	Managing Direct	50,633,576				50,633,576
	Total		50,633,576				50,633,576

Number of CEO, CFO and Company secretary whose remuneration details to be entered

S. No.	Name	Designation	Gross Salary	Commission	Stock Option/ Sweat equity	Others	Total Amount
1	RIDHI GANGAR	CFO	11,321,223				11,321,223

S. No.	Name	Designation	Gross Sala	ry Commission	Stock Option/ Sweat equity	Others	Total Amount
2	VINAY LAVANNIS	Company Secre	8,651,555	5			8,651,555
	Total		19,972,77	8 0			19,972,778
Number o	of other directors who	se remuneration deta	ails to be enter	ed	-	5	
S. No.	Name	Designation	Gross Sala	ry Commission	Stock Option/ Sweat equity	Others	Total Amount
1	NASSER MUNJE	INDEPENDENT	0	4,000,000	0	860,000	4,860,000
2	PALAMADAI SUN	DINDEPENDENT	0	3,000,000	0	1,620,000	4,620,000
3	VEDIKA BHANDA	RINDEPENDENT	0	4,000,000	0	1,430,000	5,430,000
4	VARSHA VASANT	INDEPENDENT	0	0	0	1,150,000	1,150,000
5	SHYAM MANI	NON-EXECUTIVE		0	0	1,390,000	1,390,000
	Total		0	11,000,000	0	6,450,000	17,450,000
	LTY AND PUNISHM			MPANY/PUPSOTOP	0 (05510550		
(A) DETAI	ILS OF PENALTIES /	PUNISHMENT IMP	OSED ON CO	MPANY/DIRECTOR	S/OFFICERS	Nil	
	Name of the court/ concerned Authority Name of the court/ concerned Authority Name of the Act and section under which penalised / punished Name of the Act and section under which penalised / punishment Details of penalty/ punishment Details of appeal (if any) including present status						
(B) DET	AILS OF COMPOUNI	DING OF OFFENCE	ES ⊠ Nil				
Name of company officers			s	Name of the Act and section under which offence committed	Particulars of offence	Amount of com Rupees)	pounding (in

Yes () No	
XIV. COMPLIANCE OF SUB-SEC	TION (2) OF SECTION 92, IN CASE OF LISTED COMPANIES
	mpany having paid up share capital of Ten Crore rupees or more or turnover of Fifty Crore rupees or in whole time practice certifying the annual return in Form MGT-8.
Name	SUHAS S. GANPULE
Whether associate or fellow	Associate Fellow
Certificate of practice number	5722
	ney stood on the date of the closure of the financial year aforesaid correctly and adequately. ed to the contrary elsewhere in this Return, the Company has complied with all the provisions of the
	Declaration
·	rectors of the company vide resolution no 12 dated 29/10/2018 nd declare that all the requirements of the Companies Act, 2013 and the rules made thereunder
in respect of the subject matter of t	his form and matters incidental thereto have been compiled with. I further declare that:
	form and in the attachments thereto is true, correct and complete and no information material to form has been suppressed or concealed and is as per the original records maintained by the company.
2. All the required attachmen	nts have been completely and legibly attached to this form.
	the provisions of Section 447, section 448 and 449 of the Companies Act, 2013 which provide for the forfalse statement and punishment for false evidence respectively.
To be digitally signed by	
Director	
DIN of the director	07071479
To be digitally signed by	
Company Secretary	
Ocompany secretary in practice	
Membership number 7911	Certificate of practice number

XIII. Whether complete list of shareholders, debenture holders has been enclosed as an attachment

List of attachments 1. List of share holders, debenture holders TMFL SHP Equity and CCPS Shares 31 M List of CCPS Transfered during FY 2021-2 TMFL List of DEBENTURES hodlers as on Attach 2. Approval letter for extension of AGM; **Attach** Meeting Attendance FY 2021-22.pdf 3. Copy of MGT-8; Attach 4. Optional Attachement(s), if any Attach Remove attachment Prescrutiny Submit Modify Check Form

Attachments

This eForm has been taken on file maintained by the Registrar of Companies through electronic mode and on the basis of statement of correctness given by the company



SHAREHOLDING PATTERN OF TATA MOTORS FINANCE LIMITED AS ON MARCH 31, 2022

EQUITY SHARE CAPITAL

Name of the Shareholder	Number of Shares held	Amt paid up (Rs)	% of Total
TMF Holdings Limited	59,005,666	59,00,566,600	97.00
TMF Holdings Limited J/W	1	100	
Mr. P.B. Balaji			
TMF Holdings Limited J/W	1	100	
Mr. Shyam Mani			
TMF Holdings Limited J/W	1	100	
Mr. Samrat Gupta			
TMF Holdings Limited J/W	1	100	
Mr. Anand Bang			
TMF Holdings Limited J/W	1	100	
Mr. Vinay Lavannis			
TMF Holdings Limited J/W	1	100	
Mr. Alok Chadha			
TMF Holdings Limited J/W	1	100	
Mr. Rohit Sarda			
Tata Motors Finance Solutions	1,822,016	1,82,201,600	3.00
Limited			
TOTAL	60,827,689	60,82,768,900	100.00

PREFERENCE SHARE CAPITAL

Particulars	Number of Shares held	Amt paid up (Rs)	% of Total
Promoters' holding :			
Indian :			
Individual	0	0	Nil
Bodies Corporate	72,300,000	72,30,000,000	100.00

TATA MOTORS FINANCE LIMITED



Sub Total	72,300,000	72,30,000,000	100.00
Foreign Promoters	0	0	0
Sub Total (A)	72,300,000	72,30,000,000	100.00
Non- Promoters' holding :			
Body Corporate	0	0	0
Directors and Relatives	0	0	0
Individuals	0	0	0
Sub Total(B)	0	0	0
TOTAL	72,300,000	72,30,000,000	100.00

For TATA MOTORS FINANCE LIMITED

VINAY LAVANNIS

Company Secretary

Membership No: A7911

LIST OF COMPULSORILY CONVERTIBLE PREFERENE SHARES (CCPS) TRANSFERRED IN TATA MOTORS

FINANCE LIMITED DURING F.Y. 2021-22

Name of Transferee: TMF Holdings Ltd. (DP Ac No. IN301151 -22158878)

ISIN: INE601U03037

Sr.	DP ID of	Client Id of	Name of Transferor	No. of CCPS	Date of CCPS
No.	Transferor	Transferor		transferred	Credit in
					TMFHL Demat
					account
1	IN300214	20753582	BEEM ENTERPRISE LLP	50000	06-12-2021
2	IN300214	20755713	MISHAL ASHOK THAKKAR	100000	07-12-2021
3	IN300214	20825636	VICCO PRODUCTS BOMBAY PVT LTD	500000	07-12-2021
4	IN300214	20868829	PANKAJ MUNJAL	250000	07-12-2021
5	IN300214	26839129	SIGNET CAPITAL PRIVATE LIMITED	500000	08-12-2021
6	IN300450	10161758	MYSORE PETRO CHEMICALS LIMITED	250000	09-12-2021
7	IN300484	11481575	VOLTAMP TRANSFORMERS LIMITED	250000	08-12-2021
8	IN300749	11143592	ECHJAY INDUSTRIES PRIVATE LIMITED	750000	07-12-2021
9	IN301151	20963040	SPECTRUM TRIMPEX PVT LTD	250000	25-11-2021
10	IN301330	21353957	FINAV GEMS AND SECURITIES PVT LTD	500000	01-12-2021
11	IN301549	14744215	JYOTI D VAGHANI	25000	07-12-2021
12	IN301549	37628683	NUCLEUS SOFTWARE EXPORTS LIMITED	1000000	02-12-2021
13	IN301549	54092112	ASK WEALTH ADVISORS PRIVATE LIMITED	150000	07-12-2021
14	IN301549	54435256	AAMIR KHAN	250000	03-12-2021
15	IN301549	61764482	EVEREST FOOD PRODUCTS PRIVATE LIMITED	500000	09-12-2021
16	IN301549	64236894	M PALLONJI LOGISTICS PVT LTD	125000	30-11-2021
17	IN302105	10604677	PRECISION AUTOMOTIVE PVT LTD	150000	07-12-2021
18	IN302646	10007285	NARANTAK DEALCOMM LIMITED	900000	02-12-2021
19	IN302646	10010771	DORITE TRACON (P) LTD	450000	06-12-2021
20	IN302646	10075255	RASOI LIMITED	100000	07-12-2021
21	IN302814	10578274	Kotak Mahindra Prime Limited	5000000	08-12-2021
22	IN302927	10312598	ASIAN HEART INSTITUTE AND RESEARCH CENTRE PRIVA	250000	07-12-2021
23	IN303270	10937212	PICO CAPITAL PRIVATE LIMITED	500000	06-12-2021
24	IN303559	10009430	Shrinivas Vasudeva Dempo	250000	08-12-2021
25	IN303559	10017069	Artek Surfin Chemicals Limited	100000	07-12-2021
26	IN303559	10018096	Essae Teraoka Private Limited	250000	03-12-2021
27	IN303559	10018527	Trinity Finsec Private Limited	250000	26-11-2021
28	IN303559	10020968	Granada Investments And Finance Pvt Ltd	150000	02-12-2021
29	IN303559	10023305	M Pallonji And Co Pvt Ltd	125000	29-11-2021
30	IN303559	10023803	Prem Prakash Sikka	500000	03-12-2021
31	IN303559	10023811	Parveenkumari Sikka	500000	06-12-2021
32	IN303559	10024033	Barclays Wealth Trustees India Private Limited	500000	01-12-2021
33	IN303559	10024700	D Decor Exports Private Limited	350000	08-12-2021
34	IN304158	10031277	UNIVERSAL MEDICARE PRIVATE LIMITED	275000	03-12-2021
35	IN304158	10050226	DHANUKA AGRITECH LTD	250000	07-12-2021

Total 16300000

For TATA MOTORS FINANCE LIMITED

VINAY LAVANNIS Company Secretary Membership No.: A7911

Listed / Unlisted	count	first_holder_name	ben_free	isin_no	FACE VALUE	AMOUNT
LISTED	1	BANK OF BARODA		INE601U07160	10,00,000	5,00,00,00,000
LISTED	1	STATE BANK OF INDIA	5000	INE601U07178	10,00,000	5,00,00,00,000
LISTED	1	STATE BANK OF INDIA	5000	INE601U07186	10,00,000	5,00,00,00,000
LISTED	1	PUNJAB NATIONAL BANK	500	INE601U07210	10,00,000	50,00,00,000
LISTED	1	UCO BANK	500	INE601U07210	10,00,000	50,00,00,000
LISTED	1	NOMURA CAPITAL (INDIA) PRIVATE LIMITED	800	INE601U07228	10,00,000	80,00,00,000
LISTED	1	HDFC TRUSTEE COMPANY LTD A/C HDFC SHORT TERM DEBT FUND	1000	INE601U07228	10,00,000	1,00,00,00,000
LISTED	1	ADITYA BIRLA SUN LIFE TRUSTEE PRIVATE LIMITED A/C ADITYA BIRLA SUN LIFE EQUITY HYBRID 95 FUND	650	INE601U07236	10,00,000	65,00,00,000
LISTED	1	ADITYA BIRLA SUN LIFE TRUSTEE PRIVATE LIMITED A/C ADITYA BIRLA SUN LIFE REGULAR SAVINGS FUND	100	INE601U07236	10,00,000	10,00,00,000
LISTED	1	AXIS MUTUAL FUND TRUSTEE LIMITED A/C AXIS MUTUAL FUND A/C AXIS ULTRA SHORT TERM FUND	250	INE601U07236	10,00,000	25,00,00,000
LISTED	1	MADHO PROPERTIES PRIVATE LIMITED	1	INE601U08010	10,00,000	10,00,000
LISTED	1	NOVOTECH ENTERPRISES PRIVATE LIMITED	1	INE601U08010	10,00,000	10,00,000
LISTED	1	BHARAT DHIRAJLAL SHAH & LEENA BHARAT SHAH HUF	1	INE601U08010	10,00,000	10,00,000
LISTED	1	RAVINDRA KESHAVRAO DALAL	2	INE601U08010	10,00,000	20,00,000
LISTED	1	ANIL KUMAR AGRAWAL	2	INE601U08010	10,00,000	20,00,000
LISTED	1	KOKILA CHANDRAKANT SHETH	1	INE601U08010	10,00,000	10,00,000
LISTED	1	SUKHPREET KAUR ANAND	1	INE601U08010	10,00,000	10,00,000
LISTED	1	NANDKISHORE SHEMBAVNEKAR		INE601U08010	10,00,000	30,00,000
LISTED	1	RAMESHCHANDRA HIRALAL RAITHATHA	1	INE601U08010	10,00,000	10,00,000
LISTED	1	ALPA ASHVIN SHAH	1	INE601U08010	10,00,000	10,00,000
LISTED	1	SURESH KANTILAL SHAH	1	INE601U08010	10,00,000	10,00,000
LISTED	1	KISHORIBEN RAMESHCHANDRA KAPADIA	1	INE601U08010	10,00,000	10,00,000
LISTED	1	MEERA KAILASH MATHUR	1	INE601U08010	10,00,000	10,00,000
LISTED	1	MEENAKSHI DAMANI	1	INE601U08010	10,00,000	10,00,000
LISTED	1	HARVINDER KAUR ANAND	1	INE601U08010	10,00,000	10,00,000
LISTED	1	JAISON MANATHARA	1	INE601U08010	10,00,000	10,00,000
LISTED	1	SAROJBEN CHIMANLAL SHAH	1	INE601U08010	10,00,000	10,00,000
LISTED	1	SANJAY D BHARGAVA		INE601U08010	10,00,000	10,00,000
LISTED	1	JYOTI RAJIV DHANDHANIA		INE601U08010	10,00,000	10,00,000
LISTED	1	NISHA DALMIA		INE601U08010	10,00,000	10,00,000
LISTED	1	TARUN SETH	1	INE601U08010	10,00,000	10,00,000
LISTED	1 1	MONISH BIPINCHANDRA SHAH	1	INE601U08010	10,00,000	10,00,000
LISTED	1 1	SHEILA BHARGAVA	1	INE601U08010	10,00,000	10,00,000
LISTED	1	MANAV BHARGAVA	1	INE601U08010	10,00,000	10,00,000
LISTED	1 1	GUR PARTAP SINGH	1	INE601U08010	10,00,000	10,00,000
LISTED	1 1	AKRITI DHANDHANIA		INE601U08010 INE601U08010	10,00,000	10,00,000
LISTED LISTED	1	Vineet Nahata THANGA PRAGASH SOUNDRAPANDIAN		INE601U08010	10,00,000	60,00,000 10,00,000
LISTED	1	JAYAKUMAR A	1	INE601U08010	10,00,000	10,00,000
LISTED	1	SUSHILABEN MAHESHBHAI		INE601U08010	10,00,000	10,00,000
LICTED	1 -	RANGOONWALA		DIECOTION 10	10.00.000	40.00.000
LISTED	1 1	MUKESH CHANDRA	1	INE601U08010	10,00,000	10,00,000
LISTED	1 1	VINAY KEWALKRISHEN AGGARWAL	1	INE601U08010	10,00,000	10,00,000
LISTED LISTED	1 1	SNEHAL ARVIND PARIKH		INE601U08010 INE601U08010	10,00,000	1,00,00,000
LISTED	+	AJIT RAMESH TENDULKAR RAMCHANDRA RAJU MANTHENA	1 2	INE601U08010 INE601U08010	10,00,000	20,00,000 10,00,000

LISTED	1 NEENA SAHA	2	INE601U08010	10,00,000	20,00,000
LISTED	1 KRISHNA KANT SHARMA	1	INE601U08010	10,00,000	10,00,000
LISTED	1 DHANISHTA SHARMA	1	INE601U08010	10,00,000	10,00,000
LISTED	1 SANDEEP KATARIA	1	INE601U08010	10,00,000	10,00,000
LISTED	1 AVAN VIRAPH VANDREWALLA	1	INE601U08010	10,00,000	10,00,000
LISTED	1 SANJAY KAUL	1	INE601U08010	10,00,000	10,00,000
LISTED	1 PHILIP KUNNENKERIL JOHN .	1	INE601U08010	10,00,000	10,00,000
LISTED	1 JAIKISHAN BHANWARLAL RATHI .	1	INE601U08010	10,00,000	10,00,000
LISTED	1 ARUNKUMAR JAGMOHANLAL ROONGTA	1	INE601U08010	10,00,000	10,00,000
v vomere	4 CANDONAL CANANA DAVAANA		D. TE COLLYDOO 10	10.00.000	40.00.000
LISTED	1 CHETNA SUNIL BHAVNANI		INE601U08010	10,00,000	10,00,000
LISTED	1 ANKITA RAHUL KAPADIA		INE601U08010	10,00,000	10,00,000
LISTED	1 KALPESH JIVANLAL SHAH		INE601U08010	10,00,000	10,00,000
LISTED	1 AYYAGARI RAJESWARA RAO		INE601U08010	10,00,000	20,00,000
LISTED LISTED	1 ASHISH VINODRAY AJMERA . 1 SHRIKANTBHAI NANDLAL SHAH		INE601U08010 INE601U08010	10,00,000	20,00,000
LISTED	1 NAYANABEN SHRIKANTBHAI SHAH		INE601U08010	10,00,000	10,00,000
LISTED	1 VIKAS JAYANTBHAI TANNA		INE601U08010	10,00,000	10,00,000
LISTED	1 NEHA NARESHBHAI TRIVEDI		INE601U08010	10,00,000	
LISTED	1 SONALI AMIT MEHTA		INE601U08010	10,00,000	10,00,000
LISTED	1 WIN-MEDICARE LTD EMP PF		INE601U08010	10,00,000	1,10,00,000
LISTED	1 BREACH CANDY HOSPITAL TRUST STAFF		INE601U08010	10,00,000	20,00,000
LISTED	PROVIDENT FUND	2	INEOUTOOOTO	10,00,000	20,00,000
LISTED	1 THDC INDIA LIMITED EMPLOYEES	10	INE601U08010	10,00,000	1,00,00,000
	PROVIDENT FUND				2,00,00,000
LISTED	1 OHPC PROVIDENT FUND	10	INE601U08010	10,00,000	1,00,00,000
LISTED	1 INCS EMPLOYEES' PROVIDENT FUND	4	INE601U08010	10,00,000	40,00,000
LISTED	1 SHREE GOURI SHANKAR JUTE MILLS LTD		INE601U08010	10,00,000	10,00,000
	PROVIDENT FUND INSTITUTION				, ,
LISTED	1 HINDUSTHAN CHARITY TRUST PROVIDENT	10	INE601U08010	10,00,000	1,00,00,000
	FUND INSTITUTION				
LISTED	1 KEC INTERNATIONAL LTD PROVINDENT	55	INE601U08010	10,00,000	5,50,00,000
	FUND				
LISTED	1 NIPPON POLYMERS PVT LTD OFFICERS	1	INE601U08010	10,00,000	10,00,000
	PROVIDENT FUND		************	40.00.000	
LISTED	1 DUTRON PLASTICS LIMITED OFFICERS	2	INE601U08010	10,00,000	20,00,000
LISTED	PROVIDENT FUND 1 DUTRON POLYMERS LIMITED GRATUITY	2	INE601U08010	10,00,000	20,00,000
LISTED	FUND	2	INEOUTOOOTO	10,00,000	20,00,000
LISTED	1 JK PAPER LIMITED (JK PAPER MILLS)	5	INE601U08010	10,00,000	50,00,000
LIGILD	COMPULSORY EMPLOYEES PROVIDENT	3	I (Edd I e dd d I d	10,00,000	20,00,000
	FUND				
LISTED	1 SANOFI INDIA LTD PROVIDENT FUND	14	INE601U08010	10,00,000	1,40,00,000
LISTED	1 HINDUSTAN CONSTRUCTION COMPANY	13	INE601U08010	10,00,000	1,30,00,000
	EMPLOYEES PROVIDENT FUND				
v vomere	A THE COURSE AN OTHER STATE PROVIDENT	10	D. TE COLLYDOO 10	10.00.000	1.0000000
LISTED	1 TATA COFFEE LIMITED STAFF PROVIDENT	12	INE601U08010	10,00,000	1,20,00,000
v vomen	FUND	-	D. F. CO. I. V. CO. I. C.	10.00.000	7 0.00.000
LISTED	1 S H KELKAR AND CO LTD EMPLOYEES	5	INE601U08010	10,00,000	50,00,000
LICTED	PROVIDENT FUND	20	INE601U08010	10.00.000	2 00 00 000
LISTED	1 EMPLOYEES PROVIDENT FUND TRUST DCM SHRIRAM INDUSTRIES LIMITED	20	INE601U08010	10,00,000	2,00,00,000
	SHRIKAM INDUSTRIES LIMITED				
LISTED	1 PARRY GROUP STAFF PROVIDENT FUND	5	INE601U08010	10,00,000	50,00,000
LIGILED	TARKT GROOT STAIT TROVIDENT FUND	3	111200100010	10,00,000	30,00,000
LISTED	1 FRANCO INDIAN PHARMACEUTICALS PVT	14	INE601U08010	10,00,000	1,40,00,000
	LTD STAFF PROVIDENT FUND	11		- 3,00,000	1,10,00,000
]					
LISTED	1 ABC EMPLOYEES SUPERANNUATION	1	INE601U08010	10,00,000	10,00,000
	SCHEME	1		-,,	,,500
LISTED	1 KANSAI NEROLAC PAINTS LIMITED	20	INE601U08010	10,00,000	2,00,00,000
	PROVIDENT FUND				

LISTED	1 ST PAULS SCHOOL DARJEELING PROVIDENT FUND	4	INE601U08010	10,00,000	40,00,000
LISTED	1 ST THOMAS CHURCH SCHOOL EMPLOYEES PROVIDENT FUND	2	INE601U08010	10,00,000	20,00,000
LISTED	1 TAMIL NADU CHEMICAL PRODUCTS LTD EMPLOYEES PROVIDENT FUND	2	INE601U08010	10,00,000	20,00,000
LISTED	1 HOUSING DEVELOPMENT FINANCE CORPORATION LTD -PROVIDENT FUND	43	INE601U08010	10,00,000	4,30,00,000
LISTED	1 ALFA LAVAL INDIA STAFF PROVIDENT FUND	6	INE601U08010	10,00,000	60,00,000
LISTED	1 MAFATLAL GAGALBHAI AND SONS AND THE ASSOCIATED CONCERNS EMPLOYEES PROVIDENT FUND	9	INE601U08010	10,00,000	90,00,000
LISTED	1 BHARAT ELECTRONICS LTD PROVIDENT FUND I	20	INE601U08010	10,00,000	2,00,00,000
LISTED	1 BHARAT ELECTRONICS LIMITED PROVIDENT FUND	20	INE601U08010	10,00,000	2,00,00,000
LISTED	1 TPIL EMPLOYEES PROVIDENT FUND TRUST	7	INE601U08010	10,00,000	70,00,000
LISTED	1 L&T CONSTRUCTION EQUIPMENT EMPLOYEES' PROVIDENT FUND TRUST	6	INE601U08010	10,00,000	60,00,000
LISTED	1 HINDUSTAN STEEL LTD CENTRAL PURCHASE ORGANISATION SALES AND TRANSPORT CALCUTTA PROVIDENT FUND	10	INE601U08010	10,00,000	1,00,00,000
LISTED	1 INDIAN PROVIDENT FUND OF BHARAT PETROLEUM CORPORATION LTD.	14	INE601U08010	10,00,000	1,40,00,000
LISTED	1 KORES (INDIA) LTD EMPLOYEES PROVIDENT FUND	6	INE601U08010	10,00,000	60,00,000
LISTED	1 J K COMPANIES OFFICERS PROVIDENT FUND TRUST	3	INE601U08010	10,00,000	30,00,000
LISTED	1 MANIPAL ACADEMY OF HIGHER EDUCATION EMPLOYEES PROVIDENT FUND TRUST	2	INE601U08010	10,00,000	20,00,000
LISTED	1 THE DELHI FLOUR MILLS CO LTD PROVIDENT FUND TRUST	1	INE601U08010	10,00,000	10,00,000
LISTED	1 LUPIN LTD EMPLOYEES PROVIDENT FUND TRUST	40	INE601U08010	10,00,000	4,00,00,000
LISTED	1 MAFATLAL INDUSTRIES LIMITED EMPLOYEES' GRATUITY FUND	12	INE601U08010	10,00,000	1,20,00,000
LISTED	1 A K CAPITAL FINANCE LIMITED	46	INE601U08051	10,00,000	4,60,00,000
LISTED	1 MONTE CARLO FASHIONS LTD	40	INE601U08051	10,00,000	4,00,00,000
LISTED	1 ANKOLA PAPER MILLS PRIVATE LIMITED		INE601U08051	10,00,000	20,00,000
LISTED	1 TRADEMAX SOLUTIONS PRIVATE LIMITED	1	INE601U08051	10,00,000	10,00,000
LISTED	1 MEHTA VAKIL & CO. PVT. LTD.	3	INE601U08051	10,00,000	30,00,000
LISTED	1 P P BHANDARI HUF	1	INE601U08051	10,00,000	10,00,000
LISTED	1 ASHISH C SONI	1	INE601U08051	10,00,000	10,00,000
LISTED	1 SAURIN N SHAH	20	INE601U08051	10,00,000	2,00,00,000
LISTED	1 MOHAN RAO HUF	1	INE601U08051	10,00,000	10,00,000
LISTED	1 AGGARWAL ANILKUMAR HUF	2	INE601U08051	10,00,000	20,00,000
LISTED	1 RAJESH GONDALIA		INE601U08051	10,00,000	10,00,000
LISTED LISTED	1 DEVEN H DOSHI 1 MANOL R TANNA HUE	1	INE601U08051 INE601U08051	10,00,000	10,00,000
LISTED	1 MANOJ R TANNA HUF 1 BHARAT NATHALAL VAGHANI (HUF)	3	INE601U08051 INE601U08051	10,00,000	10,00,000 30,00,000
LISTED	1 HDFC LIFE INSURANCE COMPANY LIMITED	1000	INE601U08051	10,00,000	1,00,00,00,000
LISTED	1 CORNUCOPIA CONSUMER VENTURE ADVISORY LLP	1	INE601U08051	10,00,000	10,00,000

LISTED	1 RESHMA PRASAD SHETTY	1 INE601U08051	10,00,000	10,00,000
LISTED	1 V B HARIBHAKTI	1 INE601U08051	10,00,000	, , , , , , , , , , , , , , , , , , ,
LISTED	1 DINSHAW KAIKI TAMBOLY	2 INE601U08051	10,00,000	10,00,000
			, ,	20,00,000
LISTED	1 PRAMODA ARVIND MODY	1 INE601U08051	10,00,000	10,00,000
LISTED	1 BHATT ROHAN KETAN	3 INE601U08051	10,00,000	30,00,000
LISTED	1 Biligere Ramachandra Rao Manjunath	1 INE601U08051	10,00,000	10,00,000
LISTED	1 RESHMA KHANNA	1 INE601U08051	10,00,000	10,00,000
LISTED	1 NILOUFER NOWROZE VAZIFDAR	2 INE601U08051	10,00,000	20,00,000
LISTED	1 BHUVANESH PURI	2 INE601U08051	10,00,000	20,00,000
LISTED	1 DR. ASHOK CHANDRAVADAN SHAH	1 INE601U08051	10,00,000	10,00,000
LISTED	1 AVANI ASHOK SHAH	1 INE601U08051	10,00,000	10,00,000
LISTED	1 SHARUKH ASPI GOLWALLA	1 INE601U08051	10,00,000	10,00,000
LISTED	1 MAYURI MILAN SHAH	1 INE601U08051	10,00,000	10,00,000
LISTED	1 JAGANATH D BASRUR	1 INE601U08051	10,00,000	10,00,000
LISTED	1 VENKATESA PRASAD NARAYAN IYER	1 INE601U08051	10,00,000	10,00,000
			.,,	.,,
LISTED	1 SUVARNA AJAY JOSHI	1 INE601U08051	10,00,000	10,00,000
LISTED	1 PUSHPA RATANKUMAR SANGHI	8 INE601U08051	10,00,000	80,00,000
LISTED	1 DEVAYANI SHRIKANT RASANE	1 INE601U08051	10,00,000	, , , , , , , , , , , , , , , , , , ,
LISTED	1 MOHIL SURESH SANGHAVI	1 INE601U08051	10,00,000	10,00,000
			-,,	10,00,000
LISTED	1 RENU SHARMA	1 INE601U08051	10,00,000	10,00,000
LISTED	1 GOUTAM BAUL	1 INE601U08051	10,00,000	10,00,000
LISTED	1 EDI BAPOOJI SETHNA	3 INE601U08051	10,00,000	30,00,000
LISTED	1 CHAMARTY JANAKIDEVI	1 INE601U08051	10,00,000	10,00,000
LISTED	1 NEHA JIGAR KSHATRI	1 INE601U08051	10,00,000	10,00,000
LISTED	1 ALPESH TRILOK PARIKH	1 INE601U08051	10,00,000	10,00,000
LISTED	1 KABIR SETH	2 INE601U08051	10,00,000	20,00,000
LISTED	1 MADHURI SAHA	1 INE601U08051	10,00,000	10,00,000
LISTED	1 DEVENDRA SINGHAI	2 INE601U08051	10,00,000	20,00,000
LISTED	1 AMRITA CHRISTINA SETH	1 INE601U08051	10,00,000	10,00,000
LISTED	1 SWARNA ATUL KAJI	1 INE601U08051	10,00,000	10,00,000
LISTED	1 SUNDEEP GUPTA	1 INE601U08051	10,00,000	10,00,000
LISTED	1 Rekha Sushilkumar Acharekar	1 INE601U08051	10,00,000	10,00,000
LISTED	1 LALIT CHAINWALA	1 INE601U08051	10,00,000	10,00,000
LISTED	1 NOWROZE J N VAZIFDAR	2 INE601U08051	10,00,000	20,00,000
LISTED	1 SUNDAR NARASIMHAN	1 INE601U08051	10,00,000	10,00,000
LISTED	1 SHIREEN CAMA	1 INE601U08051	10,00,000	10,00,000
LISTED	1 MADAN MOHAN SHARMA	1 INE601U08051	10,00,000	10,00,000
LISTED	1 ALTAF PATEL	2 INE601U08051	10,00,000	20,00,000
LISTED	1 PRITI R. SHAH	1 INE601U08051	10,00,000	10,00,000
LISTED	1 SAURIN N SHAH	10 INE601U08051	10,00,000	1,00,00,000
LISTED	1 NASREEN YOUSUFALI FAZALBHOY	1 INE601U08051	10,00,000	10,00,000
LISTED	1 RAJESH RAMAN DESAI	1 INE601U08051	10,00,000	10,00,000
				, ,
LISTED	1 CHINTAMANI BAPAT	1 INE601U08051	10,00,000	10,00,000
LISTED	1 JADAVJEE G SATRA	1 INE601U08051	10,00,000	/ /
LISTED	1 RAJADHYAKSHA ASHLESHA VINAY	1 INE601U08051	10,00,000	10,00,000
LISTED	1 HITESH D. SHAH	1 INE601U08051	10,00,000	10,00,000
LISTED	1 KIRIT NAVINCHANDRA SHAH	1 INE601U08051	10,00,000	10,00,000
LISTED	1 BACHI DINSHAW TAMBOLY	2 INE601U08051	10,00,000	20,00,000
LISTED	1 CHANDRASHEKHAR VINAYAK NATU	1 INE601U08051	10,00,000	10,00,000
LISTED	1 RAMCHANDRA VITHAL GADRE	1 INE601U08051	10,00,000	10,00,000
LISTED	1 NALINI KEDLAYA	2 INE601U08051	10,00,000	20,00,000
LISTED	1 POURUS R MEHTA	5 INE601U08051	10,00,000	50,00,000
LISTED	1 ASHOK DAYALJI KATARIYA	3 INE601U08051	10,00,000	30,00,000
LISTED	1 ABHIJIT CHAKRABORTY	1 INE601U08051	10,00,000	10,00,000
LISTED	1 POORNIMA GOPINATH	5 INE601U08051	10,00,000	50,00,000
LISTED	1 HOMI NAWROJI KAVARANA	3 INE601U08051	10,00,000	30,00,000
		1 INE601U08051	10.00.000	10.00.000
LISTED	1 SARITA PRAFUL JHALANI	1 INE601U08051 2 INE601U08051	10,00,000	10,00,000
LISTED LISTED	1 SARITA PRAFUL JHALANI 1 PRAFULL MOTILAL JHALANI	2 INE601U08051	10,00,000	20,00,000
LISTED	1 SARITA PRAFUL JHALANI			, ,
LISTED LISTED LISTED	1 SARITA PRAFUL JHALANI 1 PRAFULL MOTILAL JHALANI 1 BHAGYASHREE CHINTAMANI BAPAT	2 INE601U08051 1 INE601U08051	10,00,000 10,00,000	20,00,000 10,00,000
LISTED LISTED	1 SARITA PRAFUL JHALANI 1 PRAFULL MOTILAL JHALANI	2 INE601U08051	10,00,000	20,00,000

LISTED	1 PERCY F GILDER	2	INE601U08051	10,00,000	20,00,000
LISTED	1 RAJSHREE MISHRA		INE601U08051	10,00,000	10,00,000
LISTED	1 NIRANJALI RAO		INE601U08051	10,00,000	10,00,000
LISTED	1 ROOPINA COUTINHO		INE601U08051	10,00,000	10,00,000
LISTED	1 KHORDEH MEHER ANKLESARIA		INE601U08051	10,00,000	1,00,00,000
LISTED	1 MINI BANGA		INE601U08051	10,00,000	20,00,000
LISTED	1 SEEMA PARIMOO MEHTA		INE601U08051	10,00,000	20,00,000
LISTED	1 AMAR SINHJI		INE601U08051	10,00,000	10,00,000
LISTED	1 INDIRA NAGARAJAN		INE601U08051	10,00,000	10,00,000
LISTED	1 ANITA ASHOK KATARIYA		INE601U08051	10,00,000	30,00,000
LISTED	1 LAKSHMI SATISH SHENOY		INE601U08051	10,00,000	10,00,000
LISTED	1 VISPY KEKI DALAL		INE601U08051	10,00,000	20,00,000
LISTED	1 LUKE DE NORONHA		INE601U08051	10,00,000	20,00,000
LISTED	1 LALIT THUKRAL		INE601U08051	10,00,000	10,00,000
LISTED	1 ANJANA THUKRAL		INE601U08051	10,00,000	20,00,000
LISTED	1 RISHABH THUKRAL		INE601U08051	10,00,000	10,00,000
LISTED	1 ARMAITY ADI BHABHA		INE601U08051	10,00,000	10,00,000
LISTED	1 AYUSH A GUNDERIA		INE601U08051	10,00,000	20,00,000
LISTED	1 RAMESH ROOP KHEMANI		INE601U08051	10,00,000	10,00,000
LISTED	1 RAJESH ROOP KHEMANI		INE601U08051	10,00,000	10,00,000
LISTED	1 NITISHA MADAN GOPAL DHAWAN		INE601U08051	10,00,000	10,00,000
LISTED	1 NAGASUNDARAGANESH VEL		INE601U08051	10,00,000	10,00,000
LISTED	1 P V JAISHANKAR		INE601U08051	10,00,000	10,00,000
LISTED	1 ANIL CHAWLA		INE601U08051	10,00,000	10,00,000
LISTED	1 TARUN SETH		INE601U08051	10,00,000	10,00,000
LISTED	1 BHARATI DILIP SHETH		INE601U08051	10,00,000	10,00,000
LISTED	1 MANISHA VALLI KOMPELLA		INE601U08051	10,00,000	10,00,000
LISTED	1 NAVEENKUMAR R		INE601U08051	10,00,000	10,00,000
LISTED	1 SHIRISH VAMAN SATHE		INE601U08051	10,00,000	10,00,000
LISTED	1 MOHAN NARASIMHAN		INE601U08051	10,00,000	10,00,000
LISTED	1 KRISHNAN A		INE601U08051	10,00,000	10,00,000
LISTED	1 KAREENA KETAN SHETH		INE601U08051	10,00,000	50,00,000
LISTED	1 Gulab Jain		INE601U08051	10,00,000	10,00,000
LISTED	1 KIRAN VIRCHAND NANDU		INE601U08051	10,00,000	10,00,000
LISTED	1 NEETU BAHETI		INE601U08051	10,00,000	10,00,000
LISTED	1 VINAY VEDAVYAS BHAT		INE601U08051	10,00,000	10,00,000
LISTED	1 SONAL SUBHASH SHAH		INE601U08051	10,00,000	40,00,000
LISTED	1 ARPIT MANISH SHAH		INE601U08051	10,00,000	10,00,000
LISTED	1 NARESH ARYA		INE601U08051	10,00,000	50,00,000
LISTED	1 SUHITA ROY		INE601U08051	10,00,000	10,00,000
LISTED	1 Divya Ajay Samat		INE601U08051	10,00,000	10,00,000
LISTED	1 Anilkumar Manoharlal Aggarwal		INE601U08051	10,00,000	20,00,000
LISTED	1 Sachi Anil Aggarwal		INE601U08051	10,00,000	20,00,000
LISTED	1 Neeli Anil Aggarwal		INE601U08051	10,00,000	20,00,000
LISTED	1 Sneha Anilkumar Aggarwal		INE601U08051	10,00,000	20,00,000
LISTED	1 NEENA DHAMIJA		INE601U08051	10,00,000	10,00,000
LISTED	1 KAMINI SINHA		INE601U08051	10,00,000	40,00,000
LISTED	1 ALOK SHARMA		INE601U08051	10,00,000	10,00,000
LISTED	1 SURENDRA RANGANATH		INE601U08051	10,00,000	40,00,000
LISTED	1 SHERNAZ BEHRAM PATEL		INE601U08051	10,00,000	10,00,000
LISTED	1 RANGASWAMY SRIVATSA		INE601U08051	10,00,000	10,00,000
LISTED	1 SUNDAR MATHRUBOOTHESWARAN		INE601U08051	10,00,000	10,00,000
LISTED	1 DILIP BHAGWANDAS MANGLANI		INE601U08051	10,00,000	10,00,000
LISTED	1 JITENDER BHAGWANDAS MANGLANI		INE601U08051	10,00,000	10,00,000
עניו זיייי	IJITENDER DITAG WANDAS MANGLANI	1	1112001000001	10,00,000	10,00,000
LISTED	1 KAMAL CHHABRA		INE601U08051	10,00,000	30,00,000
LISTED	1 POONAM CHHABRA		INE601U08051	10,00,000	20,00,000
LISTED	1 PETER CLAVER CHRISTIAN SALDANHA	3	INE601U08051	10,00,000	30,00,000
LISTED	1 SURYAKANT MATHURDAS MADLANI	1	INE601U08051	10,00,000	10,00,000
LISTED	1 SUMAN SURYAKANT MADLANI	2	INE601U08051	10,00,000	20,00,000
LISTED	1 MITA AMRISH ASHER		INE601U08051	10,00,000	10,00,000
	1 MADAN GOPAL DHAWAN		INE601U08051	10,00,000	20,00,000

1 SANGEETA AJIT MAVINKURVE 1 PRIYANSHI HEMAL MEHTA 1 MANINDER KALRA 1 HEMA FEROZE MASANI	1 1 1	INE601U08051 INE601U08051 INE601U08051	10,00,000 10,00,000 10,00,000	10,00,000 10,00,000 10,00,000
1 MANINDER KALRA 1 HEMA FEROZE MASANI	1 1		, ,	, ,
1 HEMA FEROZE MASANI	4	INE001000031	10,00,000	10,00,000
	4	DIECOTITOROET	10.00.000	40.00.000
	+	INE601U08051	10,00,000	40,00,000
1 KORIMILLI VENKATA PRASANNA	1	INE601U08051	10,00,000	10,00,000
1 PRITI BHASKARRAO THAKOR	1	INE601U08051	10,00,000	10,00,000
1 DR NAJMA HEPTULLA	5	INE601U08051	10,00,000	50,00,000
1 SARYU KOTHARI	1	INE601U08051	10,00,000	10,00,000
1 HEMLATA J SATRA	1	INE601U08051	10,00,000	10,00,000
1 NEELAKSHI JAYANTA BHUYAN	1	INE601U08051	10,00,000	10,00,000
1 JAYANTA ISHWAR BHUYAN	30	INE601U08051	10,00,000	3,00,00,000
1 KINJAL SHARDUL	1	INE601U08051	10,00,000	10,00,000
1 SAMINA KAIZAR LOKHANDWALA	3	INE601U08051	10,00,000	30,00,000
1 ANANDA SARKAR	1	INE601U08051	10,00,000	10,00,000
1 POOJA YOGESH GOYAL	2	INE601U08051	10.00.000	20,00,000
	1		1 1	10,00,000
	1	1.2001000001	10,00,000	20,00,000
1 MUKUI CHANDRA BHOGILAL GANDHI	1	INE6011108051	10.00.000	10,00,000
I MURULCHANDRA BHOOILAL GANDHI	1	INE001008031	10,00,000	10,00,000
1 DENUMBALA MALLIOTERA	<u> </u>	DIECO11100051	10.00.000	10.00.000
	1		-,,	10,00,000
	1			10,00,000
	1			10,00,000
	1		-,,	10,00,000
	3	INE601U08051	10,00,000	30,00,000
1 KALAVATHI KRISHNAN	2		10,00,000	20,00,000
1 PARU AMIT VORA .	1	INE601U08051	10,00,000	10,00,000
1 HARIN RAMESHCHANDRA PATEL .	1	INE601U08051	10,00,000	10,00,000
1 VASHI HIRENKUMAR DAHYABHAI	2	INE601U08051	10,00,000	20,00,000
1 NEHA P SHAH	1	INE601U08051	10,00,000	10,00,000
1 DILIP JIVANDAS DIWAN	2	INE601U08051	10,00,000	20,00,000
1 MAHABIR PRASAD BAJAJ	1	INE601U08051	10.00.000	10,00,000
	1			10,00,000
	1		1 1	10,00,000
	1			10,00,000
	2		, ,	20,00,000
			1 1	10,00,000
			1 1	1,00,00,000
	10		1 1	(((
	1		, ,	10,00,000
	1			10,00,000
	2			20,00,000
	1			10,00,000
	1		, ,	10,00,000
	2			20,00,000
1 JANESH VASANT SANZGIRI	3		, ,	30,00,000
1 NAVIN MISHRA .	1	INE601U08051	10,00,000	10,00,000
1 MAHESH MOHANLAL KHATRI			10,00,000	10,00,000
1 PRANAV PRAVIN GUGALE	1	INE601U08051	10,00,000	10,00,000
1 HARSH NILESH PATEL	1	INE601U08051	10,00,000	10,00,000
1 JINAL BHARAT BAJARIA	1	INE601U08051	10,00,000	10,00,000
1 DHRUVKUMAR NILESHKUMAR PATEL	1	INE601U08051	10,00,000	10,00,000
1 POOJA M. MUDRAS			10,00,000	20,00,000
1 KALAVATI KANTILAL SHAH	3		10,00,000	30,00,000
1 RUSTOM KEKI SETHNA	1	INE601U08051	10,00,000	10,00,000
1 PURVA ALPESH SHAH	1	INE601U08051	10,00,000	10,00,000
1 ASHOK G ASWANI	3	INE601U08051	10,00,000	30,00,000
1 MEHERAAB HOSHANG CHOTHIA	1	INE601U08051	10,00,000	10,00,000
1 MANYA DUGGAL	1	INE601U08051	10,00,000	10,00,000
	1		10,00,000	10,00,000
	1		, ,	10,00,000
1 RAMAN ARUMUGAM	1	INE601U08051	10,00,000	10,00,000
	+			
IIM()HAMED IBRAHIM HAMEETHA	. 1	INE6011108051	10 00 000	10 00 000
1 MOHAMED IBRAHIM HAMEETHA 1 NAYAN YOGESH DIORA	1 2	INE601U08051 INE601U08051	10,00,000	10,00,000 20,00,000
	1 SARYU KOTHARI 1 HEMLATA J SATRA 1 NEELAKSHI JAYANTA BHUYAN 1 JAYANTA ISHWAR BHUYAN 1 KINJAL SHARDUL 1 SAMINA KAIZAR LOKHANDWALA 1 ANANDA SARKAR 1 POOJA YOGESH GOYAL 1 SHRILEKHA MUKULCHANDRA GANDHI 1 MUKULCHANDRA BHOGILAL GANDHI 1 RENUBALA MALHOTRA 1 AMRESH SINHA 1 MARINA RAYOMAND DADACHANJI 1 DEEPA ATUL NENE 1 SUNITA INDER KHILNANY 1 KALAVATHI KRISHNAN 1 PARU AMIT VORA. 1 HARIN RAMESHCHANDRA PATEL. 1 VASHI HIRENKUMAR DAHYABHAI 1 NEHA P SHAH 1 DILIP JIVANDAS DIWAN 1 MAHABIR PRASAD BAJAJ 1 SHARAD TRIMBAK JOGLEKAR 1 DARSHANA HASMUKH MODY 1 BHAVANA GUNVANTRAY PAREKH 1 ANAND KUMAR 1 JAYASHREE KUMARPAL SHAH. 1 BALWANT KAUR 1 ANILA RASHMIN MEHTA 1 PRASHANT YORA ANILAR SHETH 1 SHAH SHARAD A 1 PRASHANT VIJAY SHAH 1 VASANT NARAYAN SANZGIRI 1 JANESH VASANT SANZGIRI 1 JANESH VASANT SANZGIRI 1 JANESH VASANT SANZGIRI 1 JANESH VASANT SANZGIRI 1 JANESH WASANT SANZGIRI 1 JANESH WASANT SANZGIRI 1 JANESH WASANT SANZGIRI 1 JANESH WASANT SANZGIRI 1 DIPTI SANZGIRI 1 DIPTI SANZGIRI 1 JANESH WASANT SANZGIRI 1 DIPTI SANZGIRI 1 JANESH WASANT SANZGIRI 1 DIPTI SANZGIRI	SARYU KOTHARI	I SARYU KOTHARI	I NEGOLUOSOSI 10,00,000 1 NEGOLUOSOSI 10,00,000 1 NEELAKSHI JAYANTA BHUYAN 1 NEGOLUOSOSI 10,00,000 1 JAYANTA ISHWAR BHUYAN 30 NEGOLUOSOSI 10,00,000 1 JAYANTA ISHWAR BHUYAN 30 NEGOLUOSOSI 10,00,000 1 SAMINA KAIZAR LOKHANDWALA 3 NEGOLUOSOSI 10,00,000 1 SAMINA KAIZAR LOKHANDWALA 3 NEGOLUOSOSI 10,00,000 1 JAYANTA SHWAR BHUYAN 3 NEGOLUOSOSI 10,00,000 1 JAYANTA LOYOGESH GOYAL 2 NEGOLUOSOSI 10,00,000 1 JAYANDA SARKAR 1 NEGOLUOSOSI 10,00,000 1 SHRILEKHA MUKULCHANDRA GANDHI 1 NEGOLUOSOSI 10,00,000 1 SHRILEKHA MUKULCHANDRA GANDHI 1 NEGOLUOSOSI 10,00,000 1 JAYANTA SHOGILAL GANDHI 1 NEGOLUOSOSI 10,00,000 1 JAYANTA SHOGILAL GANDHI 1 NEGOLUOSOSI 10,00,000 1 JAYANTA SHOGILAL GANDHI 1 NEGOLUOSOSI 10,00,000 1 JAYANTA SHOMANDA DADACHANJI 1 NEGOLUOSOSI 10,00,000 1 JAYANTA SHOMANDA DADACHANJI 1 NEGOLUOSOSI 10,00,000 1 JOHANDA SHOMANDA DADACHANJI 1 NEGOLUOSOSI 10,00,000 1 JOHANDA SHOMANDA SHILAL SHANDA 1 NEGOLUOSOSI 10,00,000 1 JOHANDA SHILAL SHANDA 1 NEGOLUOSOSI 10,00,000 1 JOHANDA SHILAL SHANDA 2 NEGOLUOSOSI 10,00,000 1 JAYASHI HERISHNAN 2 NEGOLUOSOSI 10,00,000 1 JOHANDA SHANDA SHAN

LISTED	1 RANJANBEN RAMANLAL SHAH	1	INE601U08051	10,00,000	10,00,000
LISTED	1 YUKTI SHAILENDRA KUMAR	1	INE601U08051	10,00,000	10,00,000
LISTED	1 MEGHNA SAVANBHAI KOTHARI	2	INE601U08051	10,00,000	20,00,000
LISTED	1 BINA AMEET PARIKH	1	INE601U08051	10,00,000	10,00,000
LISTED	1 MANSI A PARIKH	1	INE601U08051	10,00,000	10,00,000
LISTED	1 JANAVI PARIKH	1	INE601U08051	10,00,000	10,00,000
LISTED	1 LAXMIBEN NAVINCHANDRA LAPASIA	1	INE601U08051	10,00,000	10,00,000
LISTLD	I ENVINIBLE VIVI VII VEITI II VEITI EN II NOIT		1112001000031	10,00,000	10,00,000
LISTED	1 GAGAN DEEP ARORA	1	INE601U08051	10,00,000	10,00,000
LISTED	1 MANISHA KEDAR BAPAT	1	INE601U08051	10,00,000	10,00,000
LISTED	1 ASHISH SRIVASTAVA	1	INE601U08051	10,00,000	10,00,000
LISTED	1 ASHA JHA	2	INE601U08051	10,00,000	20,00,000
LISTED	1 SREEJAYANTHI SWAMINATHAN	3	INE601U08051	10,00,000	30,00,000
LISTED	1 FARAZ AHMED SYED		INE601U08051	10,00,000	10,00,000
LISTED	1 PAULAMKUMAR SHIRISHBHAI PATEL		INE601U08051	10,00,000	10,00,000
210120		•	11.20010.00001	10,00,000	20,00,000
LISTED	1 VANMALA GIRISH NANAVATI	1	INE601U08051	10,00,000	10,00,000
LISTED	1 BHARAT NATHALAL VAGHANI		INE601U08051	10,00,000	20,00,000
LISTED	1 MEENA BHARAT VAGHANI		INE601U08051	10,00,000	20,00,000
LISTED	1 RAWI KUMAR PURI		INE601U08051	10,00,000	10,00,000
LISTED	1 SANDHYA RAWI PURI		INE601U08051	10,00,000	10,00,000
LISTED	1 J K CEMENT LTD EMPLOYEES GRATUITY		INE601U08051	10,00,000	1,00,00,000
LISTED	FUND	10	1112001200031	10,00,000	1,00,00,000
LISTED	1 DUTRON POLYMERS LIMITED GRATUITY	1	INE601U08051	10,00,000	10,00,000
2.5122	FUND	•	11.20010.00001	10,00,000	20,00,000
LISTED	1 NIPPON POLYMERS PVT LTD GRATUITY	1	INE601U08051	10,00,000	10,00,000
	FUND	_		,,	20,00,000
LISTED	1 NARBHERAM H. KAMANI CHARITY TRUST	1	INE601U08051	10,00,000	10,00,000
				.,,	.,,
LISTED	1 TMF HOLDINGS LIMITED	2000	INE601U08077	10,00,000	2,00,00,00,000
LISTED	1 MEATTLES PRIVATE LIMITED.		INE601U08085	10,00,000	10,00,000
LISTED	1 ANUBHAV COMMODEAL PVT.LTD.	1	INE601U08085	10,00,000	10,00,000
LISTED	1 VOLTAS LIMITED	500	INE601U08085	10,00,000	50,00,00,000
LISTED	1 EVEREST FOOD PRODUCTS PRIVATE	100	INE601U08085	10,00,000	10,00,00,000
	LIMITED				
LISTED	1 SINGHANIA BROTHERS LIMITED	10	INE601U08085	10,00,000	1,00,00,000
LISTED	1 SINGHANIA ESTATE PVT.LTD.	10	INE601U08085	10,00,000	1,00,00,000
LISTED	1 UC IT MANAGED SERVICES PRIVATE	20	INE601U08085	10,00,000	2,00,00,000
	LIMITED				
LISTED	1 BUTEX PROJECT SERVICES PVT LTD	1	INE601U08085	10,00,000	10,00,000
LISTED	1 SUNRISE INDUSTRIAL TRADERS LIMITED	15	INE601U08085	10,00,000	1,50,00,000
LISTED	1 SYKES & RAY EQUITIES (I) LTD	2	INE601U08085	10,00,000	20,00,000
LISTED	1 HIRACHAND BHIKCHAND JAIN	1	INE601U08085	10,00,000	10,00,000
LISTED	1 VIRAL MAHESHBHAI JHAVERI HUF	1	INE601U08085	10,00,000	10,00,000
LISTED	1 SAURABH MAHESHBHAI JHAVERI HUF	1	INE601U08085	10,00,000	10,00,000
LISTED	1 DEVANG J DESAI	1	INE601U08085	10,00,000	10,00,000
LISTED	1 KAMDAR PRADIP PRANLAL HUF	1	INE601U08085	10,00,000	10,00,000
LISTED	1 KOTI JAYABHARATH REDDY .	2	INE601U08085	10,00,000	20,00,000
LISTED	1 SANGHI MADAN VISHNUKUMAR HUF	1	INE601U08085	10,00,000	10,00,000
LISTED	1 AJAY KUMAR MANSUKHANI HUF	1	INE601U08085	10,00,000	10,00,000
LISTED	1 SURESH JETHMAL THADANI (HUF)	2	INE601U08085	10,00,000	20,00,000
LISTED	1 BHARTI M LALA	1	INE601U08085	10,00,000	10,00,000
LISTED	1 KETAN K SHETH	1	INE601U08085	10,00,000	10,00,000
LISTED	1 SURESH NARAINDAS VASWANI	1	INE601U08085	10,00,000	10,00,000
LISTED	1 RAMESHCHANDRA R PATEL	1	INE601U08085	10,00,000	10,00,000
			INE601U08085	10,00,000	10,00,000
LISTED	1 SANJAY EKNATH RAUT	1			
LISTED	1 SAM SAVAKSHAW COOPER	1	INE601U08085	10,00,000	10,00,000
LISTED LISTED	1 SAM SAVAKSHAW COOPER 1 ROHIN SAM COOPER	1 1	INE601U08085 INE601U08085	10,00,000 10,00,000	10,00,000
LISTED LISTED	1 SAM SAVAKSHAW COOPER 1 ROHIN SAM COOPER 1 SANJAY PURUSHOTTAM PURANIK	1 1 1	INE601U08085 INE601U08085 INE601U08085	10,00,000 10,00,000 10,00,000	10,00,000 10,00,000
LISTED LISTED LISTED LISTED	1 SAM SAVAKSHAW COOPER 1 ROHIN SAM COOPER 1 SANJAY PURUSHOTTAM PURANIK 1 SUSHMA SANJAY PURANIK	1 1 1 1	INE601U08085 INE601U08085 INE601U08085 INE601U08085	10,00,000 10,00,000 10,00,000 10,00,000	10,00,000 10,00,000 10,00,000
LISTED LISTED LISTED	1 SAM SAVAKSHAW COOPER 1 ROHIN SAM COOPER 1 SANJAY PURUSHOTTAM PURANIK	1 1 1	INE601U08085 INE601U08085 INE601U08085	10,00,000 10,00,000 10,00,000	10,00,000 10,00,000

LISTED	1 REKHA DILIP MUNI	1 INE601U08085	10,00,000	10,00,000
LISTED	1 SRIDHAR SUNDARARAJAN	1 INE601U08085	10,00,000	10,00,000
LISTED	1 DAYA SRIDHAR	1 INE601U08085	10,00,000	/ /
				10,00,000
LISTED	1 JAYALAKSHMI VENKATARAMAN	1 INE601U08085	10,00,000	10,00,000
LISTED	1 NARAYAN SANTHANAM	1 INE601U08085	10,00,000	10,00,000
LISTED	1 RAJIV KISHORILAL PATODIA	1 INE601U08085	10,00,000	10,00,000
LISTED	1 Arukandathil Ramakrishnan	1 INE601U08085	10,00,000	10,00,000
LISTED	1 ANJANA KHANNA	1 INE601U08085	10,00,000	10,00,000
LISTED	1 PRAVEEN KUMAR SHARMA	1 INE601U08085	10,00,000	10,00,000
LISTED	1 UDAYSHANKAR RAO	1 INE601U08085	10,00,000	10,00,000
LISTED	1 ANNE PARIMAL HIRADHAR	2 INE601U08085	10,00,000	20,00,000
LISTED	1 T S JAYALAKSHMI	1 INE601U08085	10,00,000	10,00,000
LISTED	1 RAJKUMAR SABOO	2 INE601U08085	10,00,000	20,00,000
LISTED	1 ASHUTOSH BOSE	1 INE601U08085	10,00,000	10,00,000
LISTED	1 SEJAL KIRTIKANT KOTHARI	2 INE601U08085	10,00,000	20,00,000
LISTED	1 PRADEEP KHEDKAR	1 INE601U08085	10,00,000	10,00,000
LISTED	1 LALIT CHAINWALA	2 INE601U08085	10,00,000	20,00,000
LISTED	1 AJAY CHANDANMAL DARDA	1 INE601U08085	10,00,000	10,00,000
LISTED	1 DEVINDER KAUR	15 INE601U08085	10,00,000	1,50,00,000
LISTED	1 NANDITA NARAYAN LAWANDE	4 INE601U08085	10,00,000	40,00,000
LISTED	1 G RAMESH KUMAR	1 INE601U08085	10,00,000	10,00,000
LISTED	1 SARLA BALDEVRAJ CHAWLA	1 INE601U08085	10,00,000	10,00,000
LISTED	1 ANUSHREE KAPIL SAXENA	1 INE601U08085	10,00,000	10,00,000
LISTED	1 ROHAN SHIVSHANKAR PANDIT	4 INE601U08085	10,00,000	40,00,000
LISTED	1 PRATIMA AJAY DARDA	1 INE601U08085	10,00,000	10,00,000
LISTED	1 DHWANI PURVIN SHAH	1 INE601U08085	10,00,000	10,00,000
LISTED	1 ANUJ PANDURANG PANDIT	3 INE601U08085	10,00,000	30,00,000
LISTED	1 VILASH KISHORKUMAR SHAH	1 INE601U08085	10,00,000	10,00,000
LISTED	1 SWATI B S	2 INE601U08085	10,00,000	20,00,000
LISTED	1 CHANDAN PRAVIN MEHTA	1 INE601U08085	10,00,000	10,00,000
LISTED	1 SANJIV KUMAR	1 INE601U08085	10,00,000	10,00,000
LISTED	1 RAJESH RAMAN DESAI	1 INE601U08085	10,00,000	10,00,000
LISTED	1 SADHANA BHASKAR CHAUDHARI	1 INE601U08085	10,00,000	10,00,000
LISTED	1 CHANDRA DEVI DAGA	1 INE601U08085	10,00,000	10,00,000
LISTED	1 SHAH HARSHA KIRTKUMAR	1 INE601U08085	10,00,000	10,00,000
LISTED	1 MADHURI SHRIKANT WARERKAR	1 INE601U08085	10,00,000	10,00,000
				, ,
LISTED LISTED	1 RAJADHYAKSHA ASHLESHA VINAY 1 D. SRINIVASAN	1 INE601U08085 1 INE601U08085	10,00,000	10,00,000
LISTED	1 PANKAJ HASMUKHRAI SHAH	1 INE601U08085	10,00,000	10,00,000
LISTED	1 MAHASHAWAR NAND KAUSHAL	1 INE601U08085		10,00,000
			10,00,000	10,00,000
LISTED	1 DARSHAN SINGH ANAND	1 INE601U08085	10,00,000	10,00,000
LISTED	1 LALITHA KAUL	1 INE601U08085	10,00,000	10,00,000
LISTED	1 SAGAR DUTTA	10 INE601U08085	10,00,000	1,00,00,000
LISTED	1 JAYANT P RAMAIYA	1 INE601U08085	10,00,000	10,00,000
LISTED	1 CHHAYA KAMLESH PAREKH	1 INE601U08085	10,00,000	10,00,000
LISTED	1 JASMINE DILIP THAKKAR	3 INE601U08085	10,00,000	30,00,000
LISTED	1 PRATIK BHASKARBHAI SHAH	1 INE601U08085	10,00,000	10,00,000
LISTED	1 MAYANK PRADYUMNA SHAH	1 INE601U08085	10,00,000	10,00,000
LISTED	1 DEEPAK BANERJEE	1 INE601U08085	10,00,000	10,00,000
LISTED	1 NIRAV RAJABABU GANDHI	1 INE601U08085	10,00,000	10,00,000
LISTED	1 KAJAL NIRAV GANDHI	1 INE601U08085	10,00,000	10,00,000
LISTED	1 MIHIR R GANDHI	1 INE601U08085	10,00,000	10,00,000
LISTED	1 BELA K SHAH	1 INE601U08085	10,00,000	10,00,000
LISTED	1 URMILABEN CHAMPAKLAL GANDHI	1 INE601U08085	10,00,000	10,00,000
LISTED	1 HIRAL GORDHANBHAI PATEL	1 INE601U08085	10,00,000	10,00,000
LISTED	1 ANERI NISHITH DESAI	1 INE601U08085	10,00,000	10,00,000
LISTED	1 LAHER DIPENBHAI SHAH	1 INE601U08085	10,00,000	10,00,000
LISTED	1 SONIA PREM DARYANANI	1 INE601U08085	10,00,000	10,00,000
LISTED	1 DARAYUS RUSTAM MEHTA	1 INE601U08085	10,00,000	10,00,000
LISTED	1 PRAMOD KUMAR RAI	1 INE601U08085	10,00,000	10,00,000
LISTED	1 JAYANTI SRINIVAS PRASAD	1 INE601U08085	10,00,000	10,00,000
LISTED	1 PRIYANKA SONI KOCHHAR	1 INE601U08085	10,00,000	10,00,000
LISTED	1 M R SRINIVAS PRASAD	1 INE601U08085	10,00,000	10,00,000
LISTED	1 ANANTH GANAPATHY	1 INE601U08085	10,00,000	10,00,000

LISTED	1 RAGHAVENDRA GOVIND JOSHI	3 INE601U08085	10,00,000	30,00,000
LISTED	1 RUPA MUKESH MODY	1 INE601U08085	10,00,000	10,00,000
LISTED	1 MUKESH MATHURADAS MODY	2 INE601U08085	10,00,000	20,00,000
LISTED	1 SNEHA RAMASWAMY	1 INE601U08085	10,00,000	10,00,000
LISTED	1 RAMASWAMY RAJARAMAN	1 INE601U08085	10,00,000	10,00,000
LISTED	1 PRAGNA MATHURADAS MODY	1 INE601U08085	10,00,000	10,00,000
LISTED	1 REKHA MATHURDAS MODY	1 INE601U08085	10,00,000	10,00,000
LISTED	1 HAZEL HANISH CHOKSI	2 INE601U08085	10,00,000	20,00,000
LISTED	1 GORDHANDAS HANSRAJ MULANI	1 INE601U08085	10,00,000	10,00,000
LISTED	1 JAYNA NISHIDH SHAH	1 INE601U08085	10,00,000	10,00,000
LISTED	1 RAJENDRA MANGILAL SHINGI	3 INE601U08085	10,00,000	30,00,000
LISTED	1 SARTHAK GOEL	1 INE601U08085	10,00,000	10,00,000
LISTED	1 DHRUV GOEL	3 INE601U08085	10,00,000	30,00,000
LISTED	1 ADITYA GOEL	3 INE601U08085	10,00,000	30,00,000
LISTED	1 ROHIT GOEL	5 INE601U08085	10,00,000	
LISTED	1 RUCHI BANSAL	1 INE601U08085	10,00,000	50,00,000
LISTED	1 BHARTI GOEL	2 INE601U08085		, ,
		1 INE601U08085	10,00,000	20,00,000
LISTED	1 DIPIKA VIJAY DESAI		10,00,000	10,00,000
LISTED LISTED	1 SARLA PRAVIN SHAH 1 MILIND BADRINATH JOSHI	1 INE601U08085 1 INE601U08085	10,00,000 10,00,000	10,00,000
	1 PRASADARAO VSRV PUDIPEDDI			10,00,000
LISTED		1 INE601U08085	10,00,000	10,00,000
LISTED LISTED	1 PAYAL T TEKCHANDANI	1 INE601U08085	10,00,000	10,00,000
	1 SHALINI SRIVASTAVA	2 INE601U08085 2 INE601U08085	10,00,000	20,00,000
LISTED	1 NIRUPAMA KAPUR		10,00,000	20,00,000
LISTED LISTED	1 Prerana Uday Panchal 1 Sachi Anil Aggarwal	1 INE601U08085	10,00,000	10,00,000
	CC	4 INE601U08085	10,00,000	40,00,000
LISTED	1 SAXENA POORNIMA ASHOKKUMAR	1 INE601U08085	10,00,000	10,00,000
LISTED	1 JOSEPH A ALMEIDA	1 INE601U08085	10,00,000	10,00,000
LISTED	1 PANKAJ SAHANI	2 INE601U08085	10,00,000	20,00,000
LISTED	1 BHOLANATH SAGARMAL GUPTA	1 INE601U08085	10,00,000	10,00,000
LISTED	1 Tarak H Shah	1 INE601U08085	10,00,000	10,00,000
LISTED	1 SHEKHAR HUPRIKAR	1 INE601U08085	10,00,000	10,00,000
LISTED	1 MEHROO DHUNJISHAW COOPER	1 INE601U08085	10,00,000	10,00,000
LISTED	1 HARSH GUPTA	1 INE601U08085	10,00,000	10,00,000
LISTED LISTED	1 SUNNY MALHOTRA 1 CHANDRAKALA MAHASUKHLAL MEHTA	4 INE601U08085 1 INE601U08085	10,00,000	40,00,000
LISTED	I CHANDRAKALA MAHASUKHLAL MEHTA	1 INE601 008083	10,00,000	10,00,000
LISTED	1 HEMLAL BADHO MODI	2 INE601U08085	10,00,000	20,00,000
LISTED	1 DINESH KRISHNARAJ HEGDE	1 INE601U08085	10,00,000	10.00,000
LISTED	1 JAWAHAR JEEVANDAS SAMPAT	1 INE601U08085	10,00,000	10,00,000
LISTED	1 KAVITA DEVANG DESAI	2 INE601U08085	10,00,000	20,00,000
LISTED	1 SUMATI SHASHIKANT WANDREKAR	1 INE601U08085	10,00,000	10,00,000
LISTED	1 SUNETRA KUNAL KATARA	1 INE601U08085	10,00,000	10,00,000
LISTED	1 ANJU HARESH KATARA	1 INE601U08085	10,00,000	10,00,000
LISTED	1 MADHUSUDAN VAMAN BHIDE	1 INE601U08085	10,00,000	10,00,000
LISTED	1 RASHMI PRADEEP PHANSE	1 INE601U08085	10,00,000	10,00,000
LISTED	1 NAMRATA ASHOKKUMAR SONI	1 INE601U08085	10,00,000	10,00,000
LISTED	1 AKIV ASGAR ALI	1 INE601U08085	10,00,000	10,00,000
LISTED	1 SUHAS VINAYAK DESHPANDE	1 INE601U08085	10,00,000	10,00,000
LISTED	1 RAHUL LAXMAN NERLEKAR	1 INE601U08085	10,00,000	10,00,000
LISTED	1 DANESH KHODADADI	1 INE601U08085	10,00,000	10,00,000
LISTED	1 GIRISH MARUTI TELANG	1 INE601U08085	10,00,000	10,00,000
LISTED	1 VEDAANT NACHIKET SUKHTANKAR	1 INE601U08085	10,00,000	10,00,000
LISTED	1 DEVANG J DESAI	1 INE601U08085	10,00,000	10,00,000
LISTED	1 PRIYANKA JITENDRA PALANDE	1 INE601U08085	10,00,000	10,00,000
LISTED	1 RINA ARVINDBHAI DALASANIA	1 INE601U08085	10,00,000	10,00,000
LISTED	1 BINA SURESH DALASANIA	1 INE601U08085	10,00,000	10,00,000
ITI21 DIA			10,00,000	
		1 INE601U08085	10 00 000	10.00.000
LISTED	1 PRISHA NIRAV GANDHI		10,00,000	10,00,000
LISTED LISTED	1 PRISHA NIRAV GANDHI 1 ASHOK KANTILAL SHAH	1 INE601U08085	10,00,000	10,00,000
LISTED LISTED LISTED	1 PRISHA NIRAV GANDHI 1 ASHOK KANTILAL SHAH 1 UTSAV SHAH	1 INE601U08085 10 INE601U08085	10,00,000 10,00,000	10,00,000 1,00,00,000
LISTED LISTED LISTED LISTED	1 PRISHA NIRAV GANDHI 1 ASHOK KANTILAL SHAH 1 UTSAV SHAH 1 REKHA SHAH	1 INE601U08085 10 INE601U08085 6 INE601U08085	10,00,000 10,00,000 10,00,000	10,00,000 1,00,00,000 60,00,000
LISTED LISTED LISTED LISTED LISTED	1 PRISHA NIRAV GANDHI 1 ASHOK KANTILAL SHAH 1 UTSAV SHAH 1 REKHA SHAH 1 JESSY PHILIP	1 INE601U08085 10 INE601U08085 6 INE601U08085 1 INE601U08085	10,00,000 10,00,000 10,00,000 10,00,000	10,00,000 1,00,00,000 60,00,000 10,00,000
LISTED LISTED LISTED LISTED	1 PRISHA NIRAV GANDHI 1 ASHOK KANTILAL SHAH 1 UTSAV SHAH 1 REKHA SHAH	1 INE601U08085 10 INE601U08085 6 INE601U08085 1 INE601U08085	10,00,000 10,00,000 10,00,000	10,00,000 1,00,00,000 60,00,000

LISTED	1 SHILPA B NAIK	1 INE601U08085	10,00,000	10,00,000
LISTED	1 SANJAY DHANSUKHLAL SHAH	1 INE601U08085	10,00,000	10,00,000
LISTED	1 REKHA UTSAV SHAH	4 INE601U08085	10,00,000	40,00,000
LISTED	1 SATISH CHIMANLAL PARIKH	1 INE601U08085	10,00,000	10,00,000
LISTED	1 NITUL SATISH PARIKH	1 INE601U08085	10,00,000	10,00,000
LISTED	1 ASHALATA SHARAD MATHURE .	1 INE601U08085	10,00,000	10,00,000
LISTED	1 SHETAL KIRAN DESAI	1 INE601U08085	10,00,000	10,00,000
LISTED	1 KIRAN ASHOK DESAI	1 INE601U08085	10,00,000	10,00,000
LISTED	1 ROMY BAPALAL MEHTA	3 INE601U08085	10,00,000	30,00,000
LISTED	1 PANNA YATIN SHAH	1 INE601U08085	10,00,000	10,00,000
LISTED	1 BHOOMI JANAKBHAI THAKKAR	1 INE601U08085	10,00,000	10,00,000
LISTED	1 CHETAN RAVILAL SHAH	1 INE601U08085	10,00,000	10,00,000
LISTED	1 SHITAL NILESH SHAH	1 INE601U08085	10,00,000	10,00,000
LISTED	1 RACHANA AMAL SHAH	5 INE601U08085	10,00,000	50,00,000
LISTED	1 BIJAL PRITESH SHAH	2 INE601U08085	10,00,000	20,00,000
LISTED	1 DHARMISHTHA AKSHAYKUMAR DESAI	1 INE601U08085	10,00,000	10,00,000
LISTED	1 NATASHA KERSI WADIA	1 INE601U08085	10,00,000	10,00,000
LISTED	1 SATISH KUMAR RUSTAGI	1 INE601U08085	10,00,000	10,00,000
LISTED	1 BHOOPENDRA KUMAR JAIN	1 INE601U08085	10,00,000	10,00,000
LISTED	1 MEENA HIROO MELWANI	5 INE601U08085	10,00,000	50,00,000
LISTED	1 RAVINDRA RATHEE	1 INE601U08085	10,00,000	10,00,000
LISTED	1 DHWANI HARESH DESAI	1 INE601U08085	10,00,000	10,00,000
		1 INE601U08085	10,00,000	, ,
LISTED	1 JAYSHREE PIYUSH SHAH		· · · · · · · · · · · · · · · · · · ·	10,00,000
LISTED	1 RAVINDRA BHIKHUBHAI VAIDYA	1 INE601U08085	10,00,000	10,00,000
LISTED	1 DISHA DOSHI	1 INE601U08085	10,00,000	10,00,000
LISTED	1 KAMLADEVI RAMGOPAL ASSAWA	1 INE601U08085	10,00,000	10,00,000
LISTED	1 MADAN VISHNUKUMAR SANGHI	1 INE601U08085	10,00,000	10,00,000
LISTED	1 SHRUTI RAVI AGRAWAL	1 INE601U08085	10,00,000	10,00,000
LISTED	1 ANURAG MUKUND BAHETI	2 INE601U08085	10,00,000	20,00,000
LISTED	1 GEETADEVI SURESH CHANDAK	1 INE601U08085	10,00,000	10,00,000
LISTED	1 NEELU RAMANAND SOMANI	1 INE601U08085	10,00,000	10,00,000
LISTED	1 MEGHA AJAY SAXENA	1 INE601U08085	10,00,000	10,00,000
LISTED	1 ANOOP NANDI	1 INE601U08085	10,00,000	10,00,000
LISTED	1 HEENA PANKAJ AJMERA	1 INE601U08085	10,00,000	10,00,000
LISTED	1 ANIL NAVALRAI PATEL	3 INE601U08085	10,00,000	30,00,000
LISTED	1 RAJESH CHANDRA VERMA	2 INE601U08085	10,00,000	20,00,000
LISTED	1 K S SREEMATHY	1 INE601U08085	10,00,000	10,00,000
LISTED	1 KALPESH JIVANLAL SHAH	4 INE601U08085	10,00,000	40,00,000
LISTED	1 SUSAN MASTER	1 INE601U08085	10,00,000	10,00,000
LISTED	1 MOULI ALKESH SHAH	1 INE601U08085	10,00,000	10,00,000
LISTED	1 RAJNIKANT POPATLAL SHAH	1 INE601U08085	10,00,000	10,00,000
LISTED	1 TARANG VIJAY MEHTA	20 INE601U08085	10,00,000	2,00,00,000
LISTED	1 CHITRA VASANT KHETANI	1 INE601U08085	10,00,000	10,00,000
LISTED	1 NIRMALABEN VINODCHANDRA GANDHI	1 INE601U08085	10,00,000	10,00,000
LISTED	1 ANKUR ARVINDBHAI KADODWALA	1 INE601U08085	10,00,000	10,00,000
LISTED	1 HEMA GAURAV GOYAL	1 INE601U08085	10,00,000	10,00,000
LISTED	1 KRISHNA DEVI	1 INE601U08085	10,00,000	10,00,000
LISTED	1 KUSUM CHITLANGIA	2 INE601U08085	10,00,000	20,00,000
LISTED	1 DHANANJAY SACCHIDANAND TATKE	1 INE601U08085	10,00,000	10,00,000
LISTED	1 FIROZA CYRUS SHROFF	8 INE601U08085	10,00,000	80,00,000
LISTED	1 RADHA MOHAN BHATKAL	4 INE601U08085	10,00,000	40,00,000
LISTED	1 CHANDRESHKUMAR V KAMDAR	1 INE601U08085	10,00,000	10,00,000
LISTED	1 KETAN C KOTHARI	1 INE601U08085	10,00,000	10,00,000
LISTED	1 SULEKHA ADHIKARI	1 INE601U08085	10,00,000	10,00,000
LISTED	1 MAITRAYI M AMBARDEKAR	1 INE601U08085	10,00,000	10,00,000
LISTED	1 ROHINI SHASHIKANT AMBARDEKAR	1 INE601U08085	10,00,000	10,00,000
LISTED	1 MOHINI DIXIT	1 INE601U08085	10,00,000	10,00,000
LISTED	1 SHAILEY GUPTA	1 INE601U08085	10,00,000	10,00,000
	1 BHUMIKA R CHOKSI	1 INE601U08085	10,00,000	10,00,000
LISTED		THILDUITUOUGG		

LISTED	1 THE KOLHAPUR CANE SUGAR WORKS LTD EMPLOYEES PROVIDENT FUND	1	INE601U08085	10,00,000	10,00,000
LISTED	1 SRF Transnational Holdings Limited	50	INE601U08093	10,00,000	5,00,00,000
LISTED	1 MEATTLES PRIVATE LIMITED.	1	INE601U08093	10,00,000	10,00,000
LISTED	1 BHARAT BHUSHAN FINANCE AND COMMODITY BROKERS LTD.	1	INE601U08093	10,00,000	10,00,000
LISTED	1 SCHUTZ CARBON ELECTRODES PVT.LTD	1	INE601U08093	10,00,000	10,00,000
LISTED	1 G L D INTERNATIONAL LIMITED	10	INE601U08093	10,00,000	1,00,00,000
LISTED	1 YASHVI PRINTPACK PRIVATE LIMITED	1	INE601U08093	10,00,000	10,00,000
LISTED	1 RISHAB EXPORTS LIMITED	4	INE601U08093	10,00,000	40,00,000
LISTED	1 SUPER AUTO FORGE PRIVATE LIMITED		INE601U08093	10,00,000	1,00,00,000
LISTED	1 SHUBHSWASAN INDIA PRIVATE LTD	2	INE601U08093	10,00,000	20,00,000
LISTED	1 SANSACH DEVELOPERS PRIVATE LIMITED		INE601U08093	10,00,000	10,00,000
LISTED	1 ESAM SHARES AND STOCK BROKERS PRIVATE LIMITED	3	INE601U08093	10,00,000	30,00,000
LISTED	1 CFB ADVISORS PRIVATE LIMITED	2	INE601U08093	10,00,000	20,00,000
LISTED	1 AMBIENCE BUSINESS SERVICES PRIVATE LIMITED		INE601U08093	10,00,000	50,00,000
LISTED	1 KT EXPORTS INDIA PRIVATE LIMITED	5	INE601U08093	10,00,000	50,00,000
LISTED	1 R V HEMANI SHARES AND STOCK LLP	1	INE601U08093	10,00,000	10,00,000
LISTED	1 MAHESHWARI MADAN GOPAL	10	INE601U08093	10,00,000	1,00,00,000
LISTED	1 RAJENDRA SINGHAL		INE601U08093	10,00,000	10,00,000
LISTED	1 DEEPAK PUKHRAJ JAIN HUF	1	INE601U08093	10,00,000	10,00,000
LISTED	1 PUKHRAJ MULCHAND JAIN HUF	1	INE601U08093	10,00,000	10,00,000
LISTED	1 DHARMESH DINESH SHAH HUF	1	INE601U08093	10,00,000	10,00,000
LISTED	1 PRAMOD KUMAR AGARWAL HUF	5	INE601U08093	10,00,000	50,00,000
LISTED	1 BAVADEKAR GAJANAN VINAYAK (HUF)	1	INE601U08093	10,00,000	10,00,000
LISTED	1 KEYUR BALKRISHNA THAKKAR	5	INE601U08093	10,00,000	50,00,000
LISTED	1 HARSH SINGHAL HUF	1	INE601U08093	10,00,000	10,00,000
LISTED	1 DILIP ASHOK KIRPALANI	1	INE601U08093	10,00,000	10,00,000
LISTED	1 DINESH M CHAUDHARY	1	INE601U08093	10,00,000	10,00,000
LISTED	1 MACHINA ASHOK KUMAR HUF	1	INE601U08093	10,00,000	10,00,000
LISTED	1 VIRAL MAHESHBHAI JHAVERI HUF	2	INE601U08093	10,00,000	20,00,000
LISTED	1 SAURABH MAHESHBHAI JHAVERI HUF	1	INE601U08093	10,00,000	10,00,000
LISTED	1 D DULAVMAL	1	INE601U08093	10,00,000	10,00,000
LISTED	1 VENKATESH HANAMATRAO TAVARGIRI (HUF)	1	INE601U08093	10,00,000	10,00,000
LISTED	1 SURESH JETHMAL THADANI (HUF)	2	INE601U08093	10,00,000	20,00,000
LISTED	1 ASHOK KUMAR AND SONS HUF	1	INE601U08093	10,00,000	10,00,000
LISTED	1 ABHISHEK S MORARKA HUF .	1	INE601U08093	10,00,000	10,00,000
LISTED	1 RAJESH C SHAH .	3	INE601U08093	10,00,000	30,00,000
LISTED	1 VIJAY MEHTA HUF .	10	INE601U08093	10,00,000	1,00,00,000
LISTED	1 GURVINDER SINGH JOLLY (HUF) .	1	INE601U08093	10,00,000	10,00,000
LISTED	1 BHARAT NATHALAL VAGHANI (HUF)	1	INE601U08093	10,00,000	10,00,000
LISTED	1 Rose Farms (Delhi) LLP	10	INE601U08093	10,00,000	1,00,00,000
LISTED	1 VALUEX FUND MANAGERS LLP	1	INE601U08093	10,00,000	10,00,000
LISTED	1 SHILPA BATHIJA		INE601U08093	10,00,000	10,00,000
LISTED	1 SAMVEG NAVINCHANDRA SHAH		INE601U08093	10,00,000	10,00,000
LISTED	1 BOOVANAHALLI KRISHNEGOWDA MAHESH	1	INE601U08093	10,00,000	10,00,000
LISTED	1 HARSHAD L. MEHTA	1	INE601U08093	10,00,000	10,00,000
LISTED	1 SAROJ B CHIRAWAWALA	3	INE601U08093	10,00,000	30,00,000
LISTED	1 MADHVI G VASWANI	1	INE601U08093	10,00,000	10,00,000
LISTED	1 BHAIRAVI NITIN MEHTA	1	INE601U08093	10,00,000	10,00,000

LICTED	1 MIDITIMINAD MATMADI AL CUTADIA	1 DIEC011100002	10.00.000	10.00.000
LISTED	1 KIRITKUMAR NATVARLAL SUTARIA	1 INE601U08093	10,00,000	10,00,000
LISTED	1 AMIR EBRAHIM CURMALLY	2 INE601U08093	10,00,000	20,00,000
LISTED	1 MAHNAZ AMIR CURMALLY	1 INE601U08093	10,00,000	10,00,000
LISTED	1 V. RANGANATHAN	5 INE601U08093	10,00,000	50,00,000
LISTED	1 SUDHIR SHANTILAL SHAH	1 INE601U08093	10,00,000	10,00,000
LISTED	1 VARSHA TRIPATHI 1 DR PARIMAL TRIPATHI	1 INE601U08093 1 INE601U08093	10,00,000	10,00,000
LISTED			-,,	10,00,000
LISTED	1 JIMMY FIROZ KHAN	1 INE601U08093	10,00,000	10,00,000
LISTED	1 AVNEESH GUPTA	1 INE601U08093 1 INE601U08093	10,00,000	10,00,000
LISTED LISTED	1 SURESH NARAINDAS VASWANI 1 VASUDEV GOPINATH PILLAI	1 INE601U08093	10,00,000	10,00,000
		2 INE601U08093	, ,	10,00,000
LISTED	1 PARTHASARATHI KAR		10,00,000	20,00,000
LISTED	1 SMITA SHEKHAR HUPRIKAR	1 INE601U08093 1 INE601U08093	10,00,000	10,00,000
LISTED	1 A J XAVIER		10,00,000	10,00,000
LISTED	1 GANESAN RAMACHANDRAN CHETTIAR	1 INE601U08093	10,00,000	10,00,000
LISTED	1 SOUNDARAM RAJENDRAN	2 INE601U08093	10,00,000	20,00,000
LISTED	1 JANHAVI N SANGHRAJKA	1 INE601U08093	10,00,000	10,00,000
LISTED	1 K B V L NARASIMHAM	1 INE601U08093	10,00,000	
LISTED	1 PANNA LAL NATHANI	2 INE601U08093	10,00,000	10,00,000 20,00,000
LISTED	1 KARAN MANOJ MAHESHWARI	4 INE601U08093	10,00,000	40,00,000
LISTED	1 BEENA DHARMESH GANDHI	1 INE601U08093	10,00,000	10,00,000
LISTED	1 RAMACHANDRAN VASUDEVAN	1 INE601U08093	10,00,000	10,00,000
LISTED	1 M S KRISHNAMURTHY	1 INE601U08093	10,00,000	10,00,000
		1 INE601U08093		
LISTED LISTED	1 LAKSHMINARAYANA BHAT N 1 ANIKET NAVINCHANDRA SHAH	1 INE601U08093	10,00,000	10,00,000
LISTED	1 KUMUDA VIVEK KAMATH	1 INE601U08093	10,00,000	
LISTED	1 SANDHYA ANIKET SHAH	1 INE601U08093	10,00,000	10,00,000
LISTED	1 KSHITI RUSHABH SHAH	1 INE601U08093	10,00,000	10,00,000
LISTED	1 VIVEK VASUDEV KAMATH	1 INE601U08093	10,00,000	10,00,000
LISTED	1 SUNITA LALITKUMAR AGARWAL	1 INE601U08093	10,00,000	10,00,000
LISTED	1 YASHOVARDHAN AGARWAL	4 INE601U08093	10,00,000	40,00,000
LISTED	1 H MEGHANA PRABHU	1 INE601U08093	10,00,000	10,00,000
LISTED	1 RAJESWARI N	1 INE601U08093	10,00,000	10,00,000
LISTED	1 SARASWATHI C	1 INE601U08093	10,00,000	10,00,000
LISTED	1 SURINDER KHOSLA	2 INE601U08093	10,00,000	20,00,000
LISTED	1 RAMAN KUMAR KHOSLA	2 INE601U08093	10,00,000	20,00,000
LISTED	1 RAJIV KUMAR GUPTA	1 INE601U08093	10,00,000	10,00,000
LISTED	1 VANITA DE NORONHA	1 INE601U08093	10,00,000	10,00,000
LISTED	1 SHAILESH KARNANI	1 INE601U08093	10,00,000	10,00,000
LISTED	1 SUNIL VINAYAK PARANJAPE	1 INE601U08093	10,00,000	10,00,000
LISTED	1 SHRADDHA GAURANG PATWA	2 INE601U08093	10,00,000	20,00,000
LISTED	1 GULAMABBAS BARODAWALA	1 INE601U08093	10,00,000	10,00,000
LISTED	1 H V KEDLAYA	2 INE601U08093	10,00,000	20,00,000
LISTED	1 SRIVIDYA SUBRAMANIAN	1 INE601U08093	10,00,000	10,00,000
LISTED	1 A MEERAN	1 INE601U08093	10,00,000	10,00,000
LISTED	1 JIGNA DEVANG SHAH	1 INE601U08093	10,00,000	10,00,000
LISTED	1 SHREEKANT VASANTLAL MEHTA	2 INE601U08093	10,00,000	20,00,000
LISTED	1 NARENDRA SOMANI	2 INE601U08093	10,00,000	20,00,000
LISTED	1 ANIL KOSHY	1 INE601U08093	10,00,000	10,00,000
LISTED	1 POORNIMA NATARAJA	1 INE601U08093	10,00,000	10,00,000
LISTED	1 CHAMPALAL POONAMCHAND JAIN	1 INE601U08093	10,00,000	10,00,000
LISTED	1 DIPIKA KALPESH JAIN	1 INE601U08093	10,00,000	10,00,000
LISTED	1 GULAN KRIPALANI	1 INE601U08093	10,00,000	10,00,000
LISTED	1 MURARILAL SHARMA	1 INE601U08093	10,00,000	10,00,000
LISTED	1 K N MURULIDHAR	1 INE601U08093	10,00,000	10,00,000
LISTED	1 PRATIBHABEN MAHENDRABHAI SHAH	1 INE601U08093	10,00,000	10,00,000
LISTED	1 MANDEEP SINGH BUTTAR	2 INE601U08093	10,00,000	20,00,000
LISTED	1 NEETA AGARWAL	5 INE601U08093	10,00,000	50,00,000
LISTED	1 USHA BALRAM	3 INE601U08093	10,00,000	30,00,000
LISTED	1 D. SRINIVASAN	1 INE601U08093	10,00,000	10,00,000
LISTED	1 KOTHA SURYANARAYANA	1 INE601U08093	10,00,000	10,00,000
LISTED	1 K SASTRY SUKUMAR	5 INE601U08093	10,00,000	50,00,000

LISTED LISTED LISTED LISTED LISTED	1 RAJIV MEMANI 1 HUZAAN NAOZER DALAL	20			
LISTED LISTED	1 HUZAAN NAOZER DALAL	30	INE601U08093	10,00,000	3,00,00,000
LISTED	THE ZEET WITH THE ZEET BEIEF	1	INE601U08093	10,00,000	10,00,000
	1 SEJAL KETAN SHETH	1	INE601U08093	10,00,000	10,00,000
LICTED	1 SANDHYA WINDLASS		INE601U08093	10,00,000	30,00,000
	1 ASHWANI WINDLASS		INE601U08093	10,00,000	20,00,000
LISTED	1 CAWAS NARIMAN LALKAKA	1	INE601U08093	10,00,000	10,00,000
LISTED	1 SONAL SIDDHARTH SHAH	1	INE601U08093	10,00,000	10,00,000
LISTED	1 RAGHU RAMAN J		INE601U08093	10,00,000	10,00,000
LISTED	1 SHASHI RAMDASS KAPOOR		INE601U08093	10,00,000	10,00,000
LISTED	1 PRATIK BHASKARBHAI SHAH	1	INE601U08093	10,00,000	10,00,000
LISTED	1 SARITA AHUJA	1 1	INE601U08093	10,00,000	10,00,000
LISTED	1 NISHA AHUJA		INE601U08093	10,00,000	10,00,000
LISTED LISTED	1 ASHA AGARWAL 1 VEENA ANILBHAI	1	INE601U08093 INE601U08093	10,00,000 10,00,000	10,00,000
LISTED	1 CHAULA NAVNITLAL	1	INE601U08093	10,00,000	10,00,000
LISTED	1 VENKATARAMAN KRISHNAN	1	INE601U08093	10,00,000	10,00,000
LISTED	1 NANDITA DAMANI	1	INE601U08093	10,00,000	10,00,000
LISTED	1 MANAV WINDLASS	1	INE601U08093	10,00,000	10,00,000
LISTED	1 MADHAV WINDLASS		INE601U08093	10,00,000	10,00,000
LISTED	1 BENAGAL GURUPRASHANTH MADI	1	INE601U08093	10,00,000	10,00,000
LISTED	1 SUBRAMANYAM KRISHNAMURTHY	1	INE601U08093	10,00,000	10,00,000
LISTED	1 BALASUBRAMANIAN ANNAMALAI	1		10,00,000	10,00,000
LISTED	1 RAJA KRISHNAMOORTHY	1	INE601U08093	10,00,000	10,00,000
LISTED	1 GIRISH MANEKLAL SHAH	2	INE601U08093	10,00,000	20,00,000
LISTED	1 MYTHILI EASWARAN	1	INE601U08093	10,00,000	10,00,000
LISTED	1 SHREEKANT V MEHTA	2	INE601U08093	10,00,000	20,00,000
LISTED	1 INDIRA NAGARAJAN	1	INE601U08093	10,00,000	10,00,000
LISTED	1 SONIA PREM DARYANANI	1	INE601U08093	10,00,000	10,00,000
LISTED	1 SANJAY RAMBHAJ GARG	1	INE601U08093	10,00,000	10,00,000
LISTED	1 TULSI JABAL LASHKARI	1	INE601U08093	10,00,000	10,00,000
LISTED	1 RUCHI NIRAJ SIRSALEWAL		INE601U08093	10,00,000	10,00,000
LISTED	1 LUKE DE NORONHA	1	INE601U08093	10,00,000	10,00,000
LISTED	1 DHUN RUTTON TATA	1	INE601U08093	10,00,000	10,00,000
LISTED	1 SHIMPY KHURANA		INE601U08093	10,00,000	10,00,000
LISTED	1 PREMA BAJAJ	1	INE601U08093	10,00,000	10,00,000
LISTED	1 BHARAT SHANTILAL DESAI 1 GEETA GARG	1	INE601U08093 INE601U08093	10,00,000	10,00,000
LISTED LISTED	1 MALA GUL BATHIJA		INE601U08093	10,00,000	10,00,000
LISTED	1 VIDHI BHARAT MEHTA			10,00,000	10,00,000
LISTED	1 NIRMALA SAHLOT	1	INE601U08093	10,00,000	10,00,000
LISTED	1 KUMAR SATUR NATHANI	1	INE601U08093	10,00,000	10,00,000
LISTED	1 RAVI VITHAL RAO		INE601U08093	10,00,000	10,00,000
LISTED	1 ROOP KISHINCHAND KHEMANI		INE601U08093	10,00,000	10,00,000
LISTED	1 VANDANA MAHANDRU	2	INE601U08093	10,00,000	20,00,000
LISTED	1 ASHA SRINIVASAN	1	INE601U08093	10,00,000	10,00,000
LISTED	1 AARTI KAMLESH MEHTA	1	INE601U08093	10,00,000	10,00,000
LISTED	1 H RAGHURAM	2	INE601U08093	10,00,000	20,00,000
LISTED	1 GUPTA SHARDA V		INE601U08093	10,00,000	10,00,000
LISTED	1 KAMLESH RAMNIKLAL MEHTA		INE601U08093	10,00,000	10,00,000
LISTED	1 SUGNA KETAN PARIKH		INE601U08093	10,00,000	10,00,000
LISTED	1 SHAH SURESH SHANTILAL		INE601U08093	10,00,000	10,00,000
LISTED	1 SONIA SOOD		INE601U08093	10,00,000	10,00,000
LISTED	1 JATINDER MOHAN		INE601U08093	10,00,000	10,00,000
LISTED	1 KANCHI A. SHARDA		INE601U08093	10,00,000	10,00,000
LISTED	1 M ACHYUTA KUMARI		INE601U08093	10,00,000	10,00,000
LISTED	1 K RAMESH BABU		INE601U08093	10,00,000	10,00,000
LISTED LISTED	1 V G IYER		INE601U08093 INE601U08093	10,00,000	10,00,000
LISTED	1 KULWANT SINGH ANAND 1 JYOTSNABEN BHANUPRASAD PATEL		INE601U08093	10,00,000	50,00,000
LISTED	1 HEMANG BHANUPRASAD PATEL		INE601U08093	10,00,000	10,00,000
LISTED	1 MURALIDHARAN REGUPATHY		INE601U08093	10,00,000	10,00,000
LISTED	1 ROHINI KAMALESH PARIKH		INE601U08093	10,00,000	10,00,000

LICTED	1 IAVENDDADIJAINATVEDI ALDATEI	1 1	DIEC011100002	10.00.000	10.00.000
LISTED	1 JAYENDRABHAI NATVERLAL PATEL	1	INE601U08093	10,00,000	10,00,000
LISTED	1 HORMAZ SOLI PITHAWALA	1	INE601U08093	10,00,000	10,00,000
LISTED	1 BERAM SORAB GAZDAR	1	INE601U08093	10,00,000	10,00,000
LISTED	1 R N PRABHU	1	INE601U08093	10,00,000	10,00,000
LISTED	1 MADHAV J JOSHI	1	INE601U08093	10,00,000	10,00,000
LISTED	1 Rajendra Singhal	1	INE601U08093	10,00,000	10,00,000
LISTED	1 Anita Singhal	1	INE601U08093	10,00,000	10,00,000
LISTED	1 Ira Singhal		INE601U08093	10,00,000	10,00,000
LISTED	1 Sneha Anilkumar Aggarwal	- 6	INE601U08093	10,00,000	60,00,000
LISTED	1 ADITI GARG	1	INE601U08093	10,00,000	10,00,000
LISTED	1 SHARAD RAO	1	INE601U08093	10,00,000	10,00,000
LISTED	1 ANUPAM MADAN PAREEK		INE601U08093	10,00,000	20,00,000
LISTED	1 AKSHAY KUMAR BHATIA		INE601U08093	10,00,000	1,00,00,000
LISTED	1 SUJATA SUSHANT JAGDALE	1	INE601U08093	10,00,000	10,00,000
LISTED	1 MANAS SURESH PINGLE	2	INE601U08093	10,00,000	20,00,000
LISTED	1 ASHOKKUMAR HUNDRAJ MULANI	1	INE601U08093	10,00,000	10,00,000
LISTED	1 SHEKHAR HUPRIKAR	1	INE601U08093	10,00,000	10,00,000
LISTED	1 VIJAYA RAMJI	1	INE601U08093	10,00,000	10,00,000
LISTED	1 KETAN SURESHCHANDRA DESAI	1	INE601U08093	10,00,000	10,00,000
LISTED	1 PINKI ARIZ ANKLESARIA	1	INE601U08093	10,00,000	10,00,000
LISTED	1 RAJESH MURLI DOULATRAMANI	1	INE601U08093	10,00,000	10,00,000
LISTED	1 SEEMA GARG	1	INE601U08093	10,00,000	10,00,000
LISTED	1 DUSHYANT NIJHAWAN	1	INE601U08093	10,00,000	10,00,000
LISTED	1 HORMUZ A BULSARA	1	INE601U08093	10,00,000	10,00,000
LISTED	1 PRAVEEN KUMAR GARG	1	INE601U08093	10,00,000	10,00,000
LISTED	1 VALLI CHITHRA A	1	INE601U08093	10,00,000	10,00,000
LISTED	1 RENU GUPTA	2	INE601U08093	10,00,000	20,00,000
LISTED	1 KAILASH CHANDRA GUPTA	1	INE601U08093	10,00,000	10,00,000
LISTED	1 ARUN PRAKASH SRIVASTAVA	5	INE601U08093	10,00,000	50,00,000
LISTED	1 JAGDISH SALGAONKAR	5	INE601U08093	10,00,000	50,00,000
LISTED	1 RAMAWATAR JOSHI	1	INE601U08093	10,00,000	10,00,000
LISTED	1 RAJASHREE NAVIN MAHADEVIA	I	INE601U08093	10,00,000	10,00,000
LISTED	1 ASHOK DATTATRAYA ALATE	I	INE601U08093	10,00,000	10,00,000
LISTED	1 SWATI YOGESH SOVANI	I	INE601U08093	10,00,000	10,00,000
LISTED	1 ANINDITA SARKAR	1	INE601U08093	10,00,000	10,00,000
LISTED	1 GARIMA LALIT MERANI	I	INE601U08093	10,00,000	10,00,000
LISTED	1 RASHMI R SHRIVASTAVA	1	INE601U08093	10,00,000	10,00,000
LISTED	1 SEJAL SAMEER PARIKH	1	INE601U08093	10,00,000	10,00,000
LISTED	1 SHALINI SUMAN	1	INE601U08093	10,00,000	10,00,000
LISTED	1 URSHIT ASHOK SHAH	1	INE601U08093	10,00,000	10,00,000
LISTED	1 BISHNU SANGAI	1	INE601U08093	10,00,000	10,00,000
LISTED	1 NIKHIL SUMIT GUPTA	3	INE601U08093	10,00,000	30,00,000
LISTED	1 JIGNASABAHEN PARIMAL SHAH	10	INE601U08093	10,00,000	10,00,000
LISTED	1 CHIRAG MEHTA		INE601U08093	10,00,000	1,00,00,000
LISTED LISTED	1 RAJAT GUPTA 1 MALINI SENTHILNATHAN		INE601U08093 INE601U08093	10,00,000	10,00,000
LISTED	1 DINYAR RUSI CONTRACTOR.		INE601U08093 INE601U08093	10,00,000	20,00,000
LISTED		_		10,00,000	10,00,000
LISTED	1 SANKET BHATT 1 SHEETAL B VASANI	1	INE601U08093 INE601U08093	10,00,000	10,00,000
LISTED	1 ARCHANA . GOENKA	1	INE601U08093	10,00,000	10,00,000
LISTED	1 JAYANT ANAND LAKHKAR .	1	INE601U08093	10,00,000	10,00,000
LISTED	1 DIPTI NIKHIL LAKHKAR .	1	INE601U08093	10,00,000	10,00,000
LISTED	1 JAYASHREE JAYANT LAKHKAR	1	INE601U08093	10,00,000	10,00,000
LISTED	1 DAMAYANTHI M .	1	INE601U08093	10,00,000	10,00,000
LISTED	1 NITA SURESH DOSHI	1	INE601U08093	10,00,000	10,00,000
LISTED	1 KRISHNA KANT SHARMA	1	INE601U08093	10,00,000	10,00,000
LISTED	1 RAJU PRABHAKAR BHADKE	1	INE601U08093	10,00,000	10,00,000
LISTED	1 HASINA JUZER NULWALA	1	INE601U08093	10,00,000	10,00,000
LISTED	1 ANUPAMA AKHIL SAVANT	1	INE601U08093	10,00,000	10,00,000
LISTED	1 Y VASANTH KUMAR MAYYA	1	INE601U08093	10,00,000	10,00,000
LISTED	1 MANGALA SUMATILAL BHANDARI	2		10,00,000	20,00,000
LISTED	1 SURESH CHIMANLAL CHOKSI	1	INE601U08093	10,00,000	10,00,000
LISTED	1 DHAVAL JALUNDHAWALA	1	INE601U08093	10,00,000	10,00,000
LISTED	1 AMBRISH JAGDISHMITTAR KHOSLA	1	INE601U08093	10,00,000	10,00,000
LIGIED	AJGUTA AAT HIMHGIUUNG HGIMULIAK	1	T1F001000033	10,00,000	10,00,000

LICTED	1 CIDICH DHACKEDD AV MADH	1 DIEC011109002	10.00.000	10.00.000
LISTED	1 GIRISH BHASKERRAY MARU	1 INE601U08093	10,00,000	10,00,000
LISTED	1 DILIP VITHALBHAI JOSHI	1 INE601U08093	10,00,000	10,00,000
LISTED	1 NIMISH DINKER JALUNDHWALA	1 INE601U08093	10,00,000	10,00,000
LISTED	1 MAKARAND JANARDAN BODAS	1 INE601U08093	10,00,000	10,00,000
LISTED	1 DHANANJAY JANARDAN BODAS	1 INE601U08093	10,00,000	10,00,000
LISTED	1 NILA NITIN KUVADIA	1 INE601U08093	10,00,000	10,00,000
LISTED	1 SATISH KUMAR RUSTAGI	1 INE601U08093	10,00,000	10,00,000
LISTED	1 FAROKH NARIMAN PAVRI	1 INE601U08093	10,00,000	10,00,000
LISTED	1 JAYESH JAYANTILAL GAJJAR	1 INE601U08093	10,00,000	10,00,000
LISTED	1 VISHAKHA NIRANJAN THAKKAR	1 INE601U08093	10,00,000	10,00,000
LISTED	1 NIRANJAN PRAGJI THAKKAR	1 INE601U08093	10,00,000	10,00,000
LISTED	1 RICHA NIRANJAN THAKKAR	1 INE601U08093	10,00,000	10,00,000
LISTED	1 GANDHI PRANAY	2 INE601U08093	10,00,000	20,00,000
LISTED	1 ROMA GANDHI	1 INE601U08093	10,00,000	10,00,000
LISTED	1 HANSA KESHAVJI CHHEDA	2 INE601U08093	10,00,000	20,00,000
LISTED	1 JAYSHREE ANANTRAI RAVAL	1 INE601U08093	10,00,000	10,00,000
LISTED	1 P V NAGABHUSHANA RAO	1 INE601U08093	10,00,000	10,00,000
LISTED	1 AKASHDEEP HOWLADAR	1 INE601U08093	10,00,000	10,00,000
LISTED	1 HETAL PARTH MEHTA	1 INE601U08093	10,00,000	10,00,000
LISTED	1 VENKAIPURAM RAJAGOPALAN KASTURI	1 INE601U08093	10,00,000	10,00,000
	RANGAN			
LISTED	1 SONU MAHESHWARI	1 INE601U08093	10,00,000	10,00,000
LISTED	1 RADHA RAMANI MALLADI	1 INE601U08093	10,00,000	10,00,000
LISTED	1 BIREN PREMJI SHAH	1 INE601U08093	10,00,000	10,00,000
LISTED	1 PRADNYA MOHAN OAK	1 INE601U08093	10,00,000	10,00,000
LISTED	1 RUPA GHOSAL	1 INE601U08093	10,00,000	10,00,000
LISTED	1 SAVITA SINGHANIA	1 INE601U08093	10,00,000	10,00,000
LISTED	1 GANGADHAR SUBBAIAH SHARMA	1 INE601U08093	10,00,000	10,00,000
LISTED	1 ASHOK MATHAI KURIEN	15 INE601U08093	10,00,000	1,50,00,000
LISTED	1 NAGARAJAN .S	2 INE601U08093	10,00,000	20,00,000
LISTED	1 PRADIP KUMAR CHATTOPADHYAY	1 INE601U08093	10,00,000	10,00,000
LISTED	1 AJAY KUMAR SINGH	1 INE601U08093	10,00,000	10,00,000
LISTED	1 ANITA AMIT TAORI	1 INE601U08093	10,00,000	10,00,000
LISTED	1 BIHARI KANAYALAL LUND	1 INE601U08093	10,00,000	10,00,000
LISTED	1 SANKARAN RAMASWAMY	1 INE601U08093	10,00,000	10,00,000
LISTED	1 ANAR HEMANG PATEL	1 INE601U08093	10,00,000	10,00,000
LISTED	1 YASHASVI DEVENDRA AGARWAL	1 INE601U08093	10,00,000	10,00,000
LISTED	1 ARPITA MAHESHWARI	1 INE601U08093	10,00,000	10,00,000
LISTED	1 SUMAN LATA SINHA	1 INE601U08093	10,00,000	10,00,000
LISTED	1 SNIGDHA POREL	1 INE601U08093	10,00,000	10,00,000
				-,,
LISTED	1 VILLOO MEHERNOZ MALOO	2 INE601U08093	10,00,000	20,00,000
LISTED	1 MEHERNOZ HOMI MALOO	1 INE601U08093	10,00,000	10,00,000
LISTED	1 K P KRISHNAKUMAR	1 INE601U08093	10,00,000	10,00,000
LISTED	1 KARAN SHAH .	2 INE601U08093	10,00,000	20,00,000
LISTED	1 PAYAL SHAH .	2 INE601U08093	10,00,000	20,00,000
LISTED	1 RAJESH SHAH .	3 INE601U08093	10,00,000	30,00,000
LISTED	1 RAJSHRI SHAH	3 INE601U08093	10,00,000	30,00,000
LISTED	1 LALITHA SWAMINATHAN .	1 INE601U08093	10,00,000	10,00,000
LISTED	1 SREERAM R .	2 INE601U08093	10,00,000	20,00,000
LISTED	1 ANKITA AGARWAL	1 INE601U08093	10,00,000	10,00,000
LISTED	1 KETAN BABULAL DIYORA	1 INE601U08093	10,00,000	10,00,000
LISTED	1 ANKEET SURESH ADANI	2 INE601U08093	10,00,000	20,00,000
LISTED	1 DISHA VIJAY MEHTA	10 INE601U08093	10,00,000	1,00,00,000
LISTED	1 SNEHLATA RAJU DIAS	5 INE601U08093	10,00,000	50,00,000
LISTED	1 RAMESHCHANDRA CHUNILAL SHAH	5 INE601U08093	10,00,000	50,00,000
LISTED	1 ARUN DAS BAIJAL	1 INE601U08093	10,00,000	10,00,000
LISTED	1 RASHMI SURESH ADANI	2 INE601U08093	10,00,000	20,00,000
LISTED	1 SUSHILABEN KANTIBHAI PATEL	1 INE601U08093	10,00,000	10,00,000
LISTED	1 NEERAJ AGRAWAL	1 INE601U08093	10,00,000	10,00,000
LISTED	1 INDUMATI MANSUKHLAL SAGLANI	1 INE601U08093	10,00,000	10,00,000
LISTED	1 MANSUKHALAL VITHALDAS SAGLANI	1 INE601U08093	10,00,000	10,00,000
LISTED	1 JYOTI GAJANAN BAGAWE	1 INE601U08093	10,00,000	10,00,000
LISTED	1 NARAYANAN VENKATESH	1 INE601U08093	10,00,000	10,00,000

LISTED	1 PREMKUMAR KRISHNAMOORTHY	1 IN	E601U08093	10,00,000	10,00,000
LISTED	1 BHARATHI YOUSUPALI DHALA		E601U08093	10,00,000	, , , , , , , , , , , , , , , , , , ,
LISTED	1 NATVARSINH HATHIBHAI BARIA		E601U08093	10,00,000	10,00,000
				-,,	10,00,000
LISTED	1 MAYUR AGRAWAL		E601U08093	10,00,000	10,00,000
LISTED	1 ANURADHA SAHA		E601U08093	10,00,000	10,00,000
LISTED	1 SHRUTI VINAY BAGRI		E601U08093	10,00,000	10,00,000
LISTED	1 ANKIT SAHA		E601U08093	10,00,000	10,00,000
LISTED	1 BHAGYASHREE SUBHASH POTDAR		E601U08093	10,00,000	10,00,000
LISTED	1 SANJAY KANAIYALAL PARIKH		E601U08093	10,00,000	10,00,000
LISTED	1 BOBJI KETTAY .		E601U08093	10,00,000	10,00,000
LISTED	1 PARUL ASHISH MEHTA		E601U08093	10,00,000	10,00,000
LISTED	1 GIRIJA SHANKAR AGARWAL		E601U08093	10,00,000	30,00,000
LISTED	1 T S NARAYANASAMI		E601U08093	10,00,000	10,00,000
LISTED	1 PRADIP WAMANRAO UGHADE	1 IN	E601U08093	10,00,000	10,00,000
LISTED	1 THE KOLHAPUR CANE SUGAR WORKS LTD EMPLOYEES PROVIDENT FUND	1 IN	E601U08093	10,00,000	10,00,000
LISTED	1 MEATTLES PRIVATE LIMITED.	1 IN	E601U08101	10,00,000	10,00,000
LISTED	1 NORQUEST BRANDS PRIVATE LIMITED	2 IN	E601U08101	10,00,000	20,00,000
1				, ,	.,,
LISTED	1 ESSAE TECHNOLOGYS PRIVATE LIMITED	6 IN	E601U08101	10,00,000	60,00,000
LISTED	1 SUDHIR ENTERPRISES PRIVATE LIMITED	2 IN	E601U08101	10,00,000	20,00,000
LISTED	1 RELIANCE TOBACCO LIMITED	1 IN	E601U08101	10,00,000	10,00,000
LISTED	1 SHUBHSWASAN INDIA PRIVATE LTD	2 IN	E601U08101	10,00,000	20,00,000
LISTED	1 ATUT FINCAP LIMITED .	5 IN	E601U08101	10,00,000	50,00,000
LISTED	1 RISHI KIRAN LOGISTICS PVT LTD	20 IN	E601U08101	10,00,000	2,00,00,000
LISTED	1 KT EXPORTS INDIA PRIVATE LIMITED	2 IN	E601U08101	10,00,000	20,00,000
LISTED	1 RAHEJA STOCK BROKERS PRIVTAE LIMITED PROPRIETARY STOCK IN TRADE	2 IN	E601U08101	10,00,000	20,00,000
LISTED	1 SUNRISE INDUSTRIAL TRADERS LIMITED	3 IN	E601U08101	10,00,000	30,00,000
LISTED	1 SHIRISH J MANIAR HUF	1 IN	E601U08101	10,00,000	10,00,000
LISTED	1 R G AGARWAL	1 IN	E601U08101	10,00,000	10,00,000
LISTED	1 PARIN AMARCHAND JHAVERI	1 IN	E601U08101	10,00,000	10,00,000
LISTED	1 ANIL KUMAR CHOUDHURY	1 IN	E601U08101	10,00,000	10,00,000
LISTED	1 R M CHACHLANI (HUF)	1 IN	E601U08101	10,00,000	10,00,000
LISTED	1 UPENDRA P PATEL	1 IN	E601U08101	10,00,000	10,00,000
LISTED	1 KAMLESH RAMNIKLAL MEHTA	1 IN	E601U08101	10,00,000	10,00,000
LISTED	1 HEMANT K PARIKH HUF	1 IN	E601U08101	10,00,000	10,00,000
LISTED	1 SWAMINATH PARASNATH MISHRA HUF	1 IN	E601U08101	10,00,000	10,00,000
LISTED	1 HEMLAL BADHO MODI	1 IN	E601U08101	10,00,000	10,00,000
LISTED	1 ASHOK TRILOKNATH GOYAL (HUF)		E601U08101	10,00,000	10,00,000
LISTED	1 MISHRIMAL PRATAPJI SHAH HUF		E601U08101	10,00,000	10,00,000
LISTED	1 PULIN SHAH HUF .		E601U08101	10,00,000	10,00,000
LISTED	1 NEERAJ KUMAR HUF .		E601U08101	10,00,000	10,00,000
LISTED	1 MAYUR V SHAH (HUF)		E601U08101	10,00,000	10,00,000
LISTED	1 Rose Farms (Delhi) LLP		E601U08101	10,00,000	4,00,00,000
LISTED	1 Kriti Gupta		E601U08101	10,00,000	20,00,000
LISTED	1 USHA SHARMA		E601U08101	10,00,000	10,00,000
LISTED	1 VIPUL RAMESHCHANDRA SHAH		E601U08101	10,00,000	1,00,00,000
LISTED	1 J. P. ACHARYA		E601U08101	10,00,000	1,00,00,000
LISTED	1 SURAJ R SHAH	1 IN	E601U08101	10,00,000	10,00,000
LISTED	1 NEKCHEHER HOSHANG SINOR		E601U08101	10,00,000	10,00,000
LISTED	1 PRASAD SHRIKRISHNA KALKAR		E601U08101	10,00,000	40,00,000
LISTED	1 ANJANA MODY		E601U08101	10,00,000	10,00,000
LISTED	1 SHAM NARAIN GUPTA		E601U08101	10,00,000	10,00,000
LISTED	1 GAYATRI NIRAJ SANGHVI		E601U08101	10,00,000	10,00,000
LISTED	1 PALLAVI NIKHIL PURI		E601U08101	10,00,000	10,00,000
LISTED	1 RAJKUMAR NATARAJAN		E601U08101	10,00,000	10,00,000

	T			
LISTED	1 K B V L NARASIMHAM	1 INE601U08101	10,00,000	10,00,000
LISTED	1 SHREYASH GOPANI	1 INE601U08101	10,00,000	10,00,000
LISTED	1 SHAISHAV KARNANI	1 INE601U08101	10,00,000	10,00,000
LISTED	1 AUGUSTINE D'LIMA	1 INE601U08101	10,00,000	10,00,000
LISTED	1 DEVIYANI KIRIT SANGHAVI	1 INE601U08101	10,00,000	10,00,000
LISTED	1 DORAB RUSTUMJI SOPARIWALA	2 INE601U08101	10,00,000	20,00,000
LISTED	1 KABIR SETH	1 INE601U08101	10,00,000	10,00,000
LISTED	1 K MADHAVA	1 INE601U08101	10,00,000	10,00,000
LISTED	1 S JANAKI	1 INE601U08101	10,00,000	10,00,000
LISTED	1 VIJAYABASKAR ANANDKUMAR	3 INE601U08101	10,00,000	30,00,000
LISTED	1 R.VIJAYA BASKAR	2 INE601U08101	10,00,000	20,00,000
LISTED	1 T.V.JANANI PRAKASH	1 INE601U08101	10,00,000	10,00,000
LISTED	1 VAISHALI PRAKASH KOTADIA	1 INE601U08101	10,00,000	10,00,000
LISTED	1 VAKILNA ARUN RAMAKANT	1 INE601U08101	10,00,000	10,00,000
LISTED	1 JAYARAMAN RAMESH	5 INE601U08101	10,00,000	50,00,000
LISTED	1 DIVAKAR ATLURI	5 INE601U08101	10,00,000	50,00,000
LISTED	1 CHANDRA PRAKASH LOHIYA	2 INE601U08101	10,00,000	20,00,000
LISTED	1 POONAM LOHIYA	3 INE601U08101	10,00,000	30,00,000
LISTED	1 ADITYA VINAY BHAT	1 INE601U08101	10,00,000	10,00,000
LISTED	1 NITIN SETHI	1 INE601U08101	10,00,000	10,00,000
LISTED	1 NAMRATA B TALREJA	1 INE601U08101	10,00,000	-,,
	1 SAGAR DUTTA			10,00,000
LISTED	1 ANICATTU ISSAC GEORGE	5 INE601U08101 1 INE601U08101	10,00,000	50,00,000 10,00,000
LISTED				, ,
LISTED	1 PATCHAVA VENKATA RAMA RAO	1 INE601U08101	10,00,000	10,00,000
LISTED	1 SUSAN ISSAC GEORGE	1 INE601U08101	10,00,000	10,00,000
LISTED	1 SHAH RUSHITA PRATIK	1 INE601U08101	10,00,000	10,00,000
LISTED	1 YOHAN GEORGE ISSAC	1 INE601U08101	10,00,000	10,00,000
LISTED	1 ANICATTU ISSAC RUEBAN JACOB	1 INE601U08101	10,00,000	10,00,000
LISTED	1 NARESH DASWANI	1 INE601U08101	10,00,000	10,00,000
LISTED	1 BHASKAR RAMAN	1 INE601U08101	10,00,000	10,00,000
LISTED	1 ASHOKKUMAR RAMANLAL GANDHI	1 INE601U08101	10,00,000	10,00,000
LISTED	1 KAVI ASHOKKUMAR GANDHI	1 INE601U08101	10,00,000	10,00,000
LISTED	1 BHAVANABEN ASHOKKUMAR GANDHI	1 INE601U08101	10,00,000	10,00,000
LISTED	1 KARISHMA KAVI GANDHI	1 INE601U08101	10,00,000	10,00,000
LISTED	1 ASHOKKUMAR RAMANLAL GANDHI	1 INE601U08101	10,00,000	10,00,000
LISTED	1 UPENDRAKUMAR PURSHOTTAMDAS PATEL	2 INE601U08101	10,00,000	20,00,000
LISTED	1 R DEEPAK	1 INE601U08101	10,00,000	10,00,000
LISTED	1 PRAKASH B SHAH	3 INE601U08101	10,00,000	30,00,000
LISTED	1 GIRISH MANEKLAL SHAH	2 INE601U08101	10,00,000	20,00,000
LISTED	1 SWETA CHETAN KOTHARI	3 INE601U08101	10,00,000	30,00,000
LISTED	1 VENKATA RAO TATICHERLA	1 INE601U08101	10,00,000	10,00,000
LISTED	1 GAUTAM LOHIYA	2 INE601U08101	10,00,000	20,00,000
LISTED	1 ANAM BINA	1 INE601U08101	10,00,000	10,00,000
LISTED	1 MAHESH RAVIDAS NAYAK	1 INE601U08101	10,00,000	10,00,000
LISTED	1 UDAY UCHIL	1 INE601U08101	10,00,000	10,00,000
LISTED	1 ANAND V SRIVATHSA	1 INE601U08101	10,00,000	10,00,000
LISTED	1 SOMA ROY	1 INE601U08101	10,00,000	10,00,000
LISTED	1 LAKSHMI VEERARAGAVAN	1 INE601U08101	10,00,000	10,00,000
LISTED	1 P AMMAJI	6 INE601U08101	10,00,000	60,00,000
LISTED	1 V S SHANKARSUBRAMANIAN	1 INE601U08101	10,00,000	10,00,000
LISTED		1 INE601U08101		
	1 RITA N SHAH 1 ALKA ANKIT JAIN	1 INE601U08101 1 INE601U08101	10,00,000	10,00,000
LISTED				
LISTED	1 K S RAGHUNANDANA	1 INE601U08101	10,00,000	10,00,000
LISTED	1 NIKHILESH MURAR JOSHI	1 INE601U08101	10,00,000	10,00,000
LISTED	1 VIVEK NARAYAN CHAPHEKAR	1 INE601U08101	10,00,000	10,00,000
LISTED	1 URAVI P. BHATT	1 INE601U08101	10,00,000	10,00,000
LISTED	1 KALYANI PALLAVIKA N.	1 INE601U08101	10,00,000	10,00,000
LISTED	1 ANUPAMA RAJ	1 INE601U08101	10,00,000	10,00,000
LISTED	1 VAIBHAV DHANESH RAHEJA	5 INE601U08101	10,00,000	50,00,000
LISTED	1 RAJYALAKSHMI KOTTA	1 INE601U08101	10,00,000	10,00,000
	•			
LISTED LISTED	1 AMI MALAV SHAH 1 ASHOK PREMJI GANATRA	1 INE601U08101 1 INE601U08101	10,00,000 10,00,000	10,00,000 10,00,000

I ICTED	1 IZAL DECLI DA DUDULAL DALAL	1 DIECO11100101	10.00.000	10.00.000
LISTED	1 KALPESH BABUBHAI DALAL	1 INE601U08101	10,00,000	10,00,000
LISTED	1 VIJAYSINH L JADEJA	1 INE601U08101	10,00,000	10,00,000
LISTED	1 AARTI MILIND VAIDYA	1 INE601U08101	10,00,000	10,00,000
LISTED	1 VIRAL NARESHBHAI MODI	1 INE601U08101	10,00,000	10,00,000
LISTED	1 Bimal Arunbhai Shukla	1 INE601U08101	10,00,000	10,00,000
LISTED	1 Zubin Dady Shekary	8 INE601U08101	10,00,000	80,00,000
LISTED	1 RASHMI AGRAWAL J	5 INE601U08101	10,00,000	50,00,000
LISTED	1 GOVIND LAKSHMANAN	1 INE601U08101	10,00,000	10,00,000
LISTED	1 SUTHAR SHANTABEN NARAYANBHAI	1 INE601U08101	10,00,000	10,00,000
LISTED	1 SUTHAN SHANTADEN NAKA TANDHAI	1 111001008101	10,00,000	10,00,000
I IOTED	1 ANTIDAG KINGINIA	1 DECOMMON	10.00.000	10.00.000
LISTED	1 ANURAG KRISHNA	1 INE601U08101	10,00,000	10,00,000
LISTED	1 RAJEEV MANOHAR DONGRE	1 INE601U08101	10,00,000	10,00,000
LISTED	1 Y SHEELA S HEGDE	1 INE601U08101	10,00,000	10,00,000
LISTED	1 KANUPRIYA GUPTA	1 INE601U08101	10,00,000	10,00,000
LISTED	1 T RAMALINGAM	1 INE601U08101	10,00,000	10,00,000
LISTED	1 CHARU LALKA	1 INE601U08101	10,00,000	10,00,000
LISTED	1 MANJULA FOTEDAR	1 INE601U08101	10,00,000	10,00,000
LISTED	1 APARNA DUTT SHARMA	1 INE601U08101	10,00,000	10,00,000
LISTED	1 SEEMA GARG	1 INE601U08101	10,00,000	10,00,000
LISTED	1 AMRITA CHANDRA	2 INE601U08101	10,00,000	20,00,000
			, ,	
LISTED	1 KANUPRIYA SABHARWAL	1 INE601U08101	10,00,000	10,00,000
LISTED	1 BAKHTAVAR SORAB GAZDAR	1 INE601U08101	10,00,000	10,00,000
LISTED	1 NANDINI BHARATHI	1 INE601U08101	10,00,000	10,00,000
LISTED	1 RISHIKESHA THIRUVENKATA KRISHNAN	1 INE601U08101	10,00,000	10,00,000
LISTED	1 DRISHTI VIJAY MANIAR	2 INE601U08101	10,00,000	20,00,000
LISTED	1 N SUBRAMANIAM	1 INE601U08101	10,00,000	10,00,000
LISTED	1 ANJALI GUPTA	1 INE601U08101	10,00,000	10,00,000
LISTED	1 RAVI SUD	1 INE601U08101	10,00,000	10,00,000
LISTED	1 NANDITA SUD	1 INE601U08101	10,00,000	10,00,000
LISTED	1 LUV DEEPAK SHRI RAM	50 INE601U08101	10,00,000	5,00,00,000
LISTED				
	1 HETAL DHILAN KANAKIA	3 INE601U08101	10,00,000	30,00,000
LISTED	1 NIKHIL SUMIT GUPTA	2 INE601U08101	10,00,000	20,00,000
LISTED	1 KSHAMA KASHYAP THAKORE	1 INE601U08101	10,00,000	10,00,000
LISTED	1 SANATKUMAR SHRINATH SHIRALKAR	1 INE601U08101	10,00,000	10,00,000
LISTED	1 AMRESH SINHA	1 INE601U08101	10,00,000	10,00,000
LISTED	1 SWATI SHAILESH SHAH	1 INE601U08101	10,00,000	10,00,000
LISTED	1 DARSHAN V MEHTA	10 INE601U08101	10,00,000	1,00,00,000
LISTED	1 JALPA CHIRAG SHAH	1 INE601U08101	10,00,000	10,00,000
LISTED	1 PRADIP SANYAL	10 INE601U08101	10,00,000	1,00,00,000
LISTED	1 YASH VARDHAN CHOUDHURY	2 INE601U08101		
LISTED			10 00 000 1	20.00.000
LISTED			10,00,000	20,00,000
LICTED	1 NITHYA SUNDARESAN	10 INE601U08101	10,00,000	1,00,00,000
LISTED	1 K S GOKULDAS	10 INE601U08101 5 INE601U08101	10,00,000 10,00,000	1,00,00,000 50,00,000
LISTED	1 K S GOKULDAS 1 S SEETHARAMAN	10 INE601U08101 5 INE601U08101 3 INE601U08101	10,00,000 10,00,000 10,00,000	1,00,00,000 50,00,000 30,00,000
LISTED LISTED	1 K S GOKULDAS 1 S SEETHARAMAN 1 S KALYANI	10 INE601U08101 5 INE601U08101 3 INE601U08101 2 INE601U08101	10,00,000 10,00,000 10,00,000 10,00,000	1,00,00,000 50,00,000 30,00,000 20,00,000
LISTED LISTED	1 K S GOKULDAS 1 S SEETHARAMAN 1 S KALYANI 1 VASUDEVAN SANKARANARAYANAN	10 INE601U08101 5 INE601U08101 3 INE601U08101 2 INE601U08101 10 INE601U08101	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	1,00,00,000 50,00,000 30,00,000 20,00,000 1,00,00,000
LISTED LISTED LISTED LISTED	1 K S GOKULDAS 1 S SEETHARAMAN 1 S KALYANI 1 VASUDEVAN SANKARANARAYANAN 1 NEVILLE DINYAR CONTRACTOR	10 INE601U08101 5 INE601U08101 3 INE601U08101 2 INE601U08101 10 INE601U08101 1 INE601U08101	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	1,00,00,000 50,00,000 30,00,000 20,00,000
LISTED LISTED LISTED LISTED LISTED	1 K S GOKULDAS 1 S SEETHARAMAN 1 S KALYANI 1 VASUDEVAN SANKARANARAYANAN	10 INE601U08101 5 INE601U08101 3 INE601U08101 2 INE601U08101 10 INE601U08101	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	1,00,00,000 50,00,000 30,00,000 20,00,000 1,00,00,000
LISTED LISTED LISTED LISTED	1 K S GOKULDAS 1 S SEETHARAMAN 1 S KALYANI 1 VASUDEVAN SANKARANARAYANAN 1 NEVILLE DINYAR CONTRACTOR	10 INE601U08101 5 INE601U08101 3 INE601U08101 2 INE601U08101 10 INE601U08101 1 INE601U08101	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	1,00,00,000 50,00,000 30,00,000 20,00,000 1,00,00,000
LISTED LISTED LISTED LISTED LISTED	1 K S GOKULDAS 1 S SEETHARAMAN 1 S KALYANI 1 VASUDEVAN SANKARANARAYANAN 1 NEVILLE DINYAR CONTRACTOR 1 MADAN MOHAN LAL	10 INE601U08101 5 INE601U08101 3 INE601U08101 2 INE601U08101 10 INE601U08101 1 INE601U08101 3 INE601U08101	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	1,00,00,000 50,00,000 30,00,000 20,00,000 1,00,00,000 10,00,000 30,00,000
LISTED LISTED LISTED LISTED LISTED LISTED LISTED	1 K S GOKULDAS 1 S SEETHARAMAN 1 S KALYANI 1 VASUDEVAN SANKARANARAYANAN 1 NEVILLE DINYAR CONTRACTOR 1 MADAN MOHAN LAL 1 USHA B NADKARNI	10 INE601U08101 5 INE601U08101 3 INE601U08101 2 INE601U08101 10 INE601U08101 1 INE601U08101 3 INE601U08101 1 INE601U08101	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	1,00,00,000 50,00,000 30,00,000 20,00,000 1,00,00,000 10,00,000 30,00,000 10,00,000
LISTED	1 K S GOKULDAS 1 S SEETHARAMAN 1 S KALYANI 1 VASUDEVAN SANKARANARAYANAN 1 NEVILLE DINYAR CONTRACTOR 1 MADAN MOHAN LAL 1 USHA B NADKARNI 1 SUMANTH B S. 1 SUBHASH G PAHARIA	10 INE601U08101 5 INE601U08101 3 INE601U08101 2 INE601U08101 10 INE601U08101 1 INE601U08101 3 INE601U08101 1 INE601U08101 1 INE601U08101 1 INE601U08101 1 INE601U08101 1 INE601U08101	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	1,00,00,000 50,00,000 30,00,000 20,00,000 1,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000
LISTED	1 K S GOKULDAS 1 S SEETHARAMAN 1 S KALYANI 1 VASUDEVAN SANKARANARAYANAN 1 NEVILLE DINYAR CONTRACTOR 1 MADAN MOHAN LAL 1 USHA B NADKARNI 1 SUMANTH B S. 1 SUBHASH G PAHARIA 1 RUPASREE BOSE.	10 INE601U08101 5 INE601U08101 3 INE601U08101 2 INE601U08101 10 INE601U08101 1 INE601U08101	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	1,00,00,000 50,00,000 30,00,000 20,00,000 1,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000
LISTED	1 K S GOKULDAS 1 S SEETHARAMAN 1 S KALYANI 1 VASUDEVAN SANKARANARAYANAN 1 NEVILLE DINYAR CONTRACTOR 1 MADAN MOHAN LAL 1 USHA B NADKARNI 1 SUMANTH B S. 1 SUBHASH G PAHARIA 1 RUPASREE BOSE. 1 BINOD KUMAR KARNANI.	10 INE601U08101 5 INE601U08101 3 INE601U08101 2 INE601U08101 10 INE601U08101 1 INE601U08101	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	1,00,00,000 50,00,000 30,00,000 20,00,000 1,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000
LISTED	1 K S GOKULDAS 1 S SEETHARAMAN 1 S KALYANI 1 VASUDEVAN SANKARANARAYANAN 1 NEVILLE DINYAR CONTRACTOR 1 MADAN MOHAN LAL 1 USHA B NADKARNI 1 SUMANTH B S. 1 SUBHASH G PAHARIA 1 RUPASREE BOSE . 1 BINOD KUMAR KARNANI . 1 AAYUSHI AJAY MALPANI	10 INE601U08101 5 INE601U08101 3 INE601U08101 2 INE601U08101 10 INE601U08101 1 INE601U08101	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	1,00,00,000 50,00,000 30,00,000 20,00,000 1,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000
LISTED	1 K S GOKULDAS 1 S SEETHARAMAN 1 S KALYANI 1 VASUDEVAN SANKARANARAYANAN 1 NEVILLE DINYAR CONTRACTOR 1 MADAN MOHAN LAL 1 USHA B NADKARNI 1 SUMANTH B S. 1 SUBHASH G PAHARIA 1 RUPASREE BOSE . 1 BINOD KUMAR KARNANI . 1 AAYUSHI AJAY MALPANI	10 INE601U08101 5 INE601U08101 3 INE601U08101 2 INE601U08101 10 INE601U08101 1 INE601U08101	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	1,00,00,000 50,00,000 30,00,000 20,00,000 1,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000
LISTED	1 K S GOKULDAS 1 S SEETHARAMAN 1 S KALYANI 1 VASUDEVAN SANKARANARAYANAN 1 NEVILLE DINYAR CONTRACTOR 1 MADAN MOHAN LAL 1 USHA B NADKARNI 1 SUMANTH B S. 1 SUBHASH G PAHARIA 1 RUPASREE BOSE . 1 BINOD KUMAR KARNANI . 1 AAYUSHI AJAY MALPANI 1 NIRMALA AJAY MALPANI	10 INE601U08101 5 INE601U08101 3 INE601U08101 2 INE601U08101 10 INE601U08101 1 INE601U08101	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	1,00,00,000 50,00,000 30,00,000 20,00,000 1,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000
LISTED	1 K S GOKULDAS 1 S SEETHARAMAN 1 S KALYANI 1 VASUDEVAN SANKARANARAYANAN 1 NEVILLE DINYAR CONTRACTOR 1 MADAN MOHAN LAL 1 USHA B NADKARNI 1 SUMANTH B S. 1 SUBHASH G PAHARIA 1 RUPASREE BOSE. 1 BINOD KUMAR KARNANI. 1 AAYUSHI AJAY MALPANI 1 NIRMALA AJAY MALPANI 1 MAZHER BASHIR JAFFAR	10 INE601U08101 5 INE601U08101 3 INE601U08101 2 INE601U08101 10 INE601U08101 1 INE601U08101	10,00,000 10,00,000	1,00,00,000 50,00,000 30,00,000 20,00,000 1,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000
LISTED	1 K S GOKULDAS 1 S SEETHARAMAN 1 S KALYANI 1 VASUDEVAN SANKARANARAYANAN 1 NEVILLE DINYAR CONTRACTOR 1 MADAN MOHAN LAL 1 USHA B NADKARNI 1 SUMANTH B S. 1 SUBHASH G PAHARIA 1 RUPASREE BOSE. 1 BINOD KUMAR KARNANI. 1 AAYUSHI AJAY MALPANI 1 NIRMALA AJAY MALPANI 1 MAZHER BASHIR JAFFAR 1 JYOTI PRADEEP SHAH	10 INE601U08101 5 INE601U08101 3 INE601U08101 2 INE601U08101 10 INE601U08101 1 INE601U08101	10,00,000 10,00,000	1,00,00,000 50,00,000 30,00,000 20,00,000 1,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000
LISTED	1 K S GOKULDAS 1 S SEETHARAMAN 1 S KALYANI 1 VASUDEVAN SANKARANARAYANAN 1 NEVILLE DINYAR CONTRACTOR 1 MADAN MOHAN LAL 1 USHA B NADKARNI 1 SUMANTH B S. 1 SUBHASH G PAHARIA 1 RUPASREE BOSE. 1 BINOD KUMAR KARNANI. 1 AAYUSHI AJAY MALPANI 1 NIRMALA AJAY MALPANI 1 MAZHER BASHIR JAFFAR	10 INE601U08101 5 INE601U08101 3 INE601U08101 2 INE601U08101 10 INE601U08101 1 INE601U08101	10,00,000 10,00,000	1,00,00,000 50,00,000 30,00,000 20,00,000 1,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000
LISTED	1 K S GOKULDAS 1 S SEETHARAMAN 1 S KALYANI 1 VASUDEVAN SANKARANARAYANAN 1 NEVILLE DINYAR CONTRACTOR 1 MADAN MOHAN LAL 1 USHA B NADKARNI 1 SUMANTH B S. 1 SUBHASH G PAHARIA 1 RUPASREE BOSE. 1 BINOD KUMAR KARNANI. 1 AAYUSHI AJAY MALPANI 1 NIRMALA AJAY MALPANI 1 MAZHER BASHIR JAFFAR 1 JYOTI PRADEEP SHAH	10 INE601U08101 5 INE601U08101 3 INE601U08101 2 INE601U08101 10 INE601U08101 1 INE601U08101	10,00,000 10,00,000	1,00,00,000 50,00,000 30,00,000 20,00,000 1,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000
LISTED	1 K S GOKULDAS 1 S SEETHARAMAN 1 S KALYANI 1 VASUDEVAN SANKARANARAYANAN 1 NEVILLE DINYAR CONTRACTOR 1 MADAN MOHAN LAL 1 USHA B NADKARNI 1 SUMANTH B S. 1 SUBHASH G PAHARIA 1 RUPASREE BOSE. 1 BINOD KUMAR KARNANI. 1 AAYUSHI AJAY MALPANI 1 NIRMALA AJAY MALPANI 1 NIRMALA AJAY MALPANI 1 MAZHER BASHIR JAFFAR 1 JYOTI PRADEEP SHAH 1 SAROJ SINHA	10 INE601U08101 5 INE601U08101 3 INE601U08101 2 INE601U08101 10 INE601U08101 1 INE601U08101	10,00,000 10,00,000	1,00,00,000 50,00,000 30,00,000 20,00,000 1,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000
LISTED	1 K S GOKULDAS 1 S SEETHARAMAN 1 S KALYANI 1 VASUDEVAN SANKARANARAYANAN 1 NEVILLE DINYAR CONTRACTOR 1 MADAN MOHAN LAL 1 USHA B NADKARNI 1 SUMANTH B S. 1 SUBHASH G PAHARIA 1 RUPASREE BOSE. 1 BINOD KUMAR KARNANI. 1 AAYUSHI AJAY MALPANI 1 AJAY GULABCHAND MALPANI 1 NIRMALA AJAY MALPANI 1 MAZHER BASHIR JAFFAR 1 JYOTI PRADEEP SHAH 1 SAROJ SINHA 1 VINODBHAI RAMANLAL SHAH	10 INE601U08101 5 INE601U08101 3 INE601U08101 2 INE601U08101 10 INE601U08101 1 INE601U08101	10,00,000 10,00,000	1,00,00,000 50,00,000 30,00,000 20,00,000 1,00,000 10,00,000

LICTED	1 DICHA NIDANIAN THAIMAD	2 B)E(011109101	10.00.000	20.00.000
LISTED	1 RICHA NIRANJAN THAKKAR	3 INE601U08101	10,00,000	30,00,000
LISTED	1 APOORVA A SHENOY	1 INE601U08101	10,00,000	10,00,000
LISTED	1 MANISH BUCH	4 INE601U08101	10,00,000	40,00,000
LISTED	1 NASIM ANWAR SHAIKH	1 INE601U08101	10,00,000	10,00,000
LISTED	1 CHAMPABEN RAMNIKLAL TANNA	1 INE601U08101	10,00,000	10,00,000
LISTED	1 NAYANA B PATEL	1 INE601U08101	10,00,000	10,00,000
LISTED	1 MOHAN ANANT OAK	2 INE601U08101	10,00,000	20,00,000
LISTED	1 R RAM MOHAN .	1 INE601U08101	10,00,000	10,00,000
LISTED	1 AMIBEN DHANESHBHAI SANGHVI 1 KALPANA RAGHURAMAN	1 INE601U08101	10,00,000	10,00,000
LISTED LISTED		1 INE601U08101	10,00,000	10,00,000
	1 PRACHI MANISH GUPTA	1 INE601U08101	10,00,000	10,00,000
LISTED	1 P SAMPATH KUMAR .	1 INE601U08101	10,00,000	10,00,000
LISTED	1 SREERAM R .	3 INE601U08101	10,00,000	30,00,000
LISTED	1 NITIN DIGAMBAR GALANDE .	1 INE601U08101	10,00,000	10,00,000
LISTED	1 KAIYOMARSE BOMAN KHODAIJI	2 INE601U08101	10,00,000	20,00,000
LISTED	1 RASHMIKANT SANKELCHAND SHAH	1 INE601U08101	10,00,000	10,00,000
LISTED	1 ILA RASHMIKANT SHAH	1 INE601U08101	10,00,000	10,00,000
LISTED	1 JANAKI RAMANI	1 INE601U08101	10,00,000	10,00,000
LISTED	1 SHALENDRA AGARWAL 1 SANTOSHKUMAR BHAGAWANTH	3 INE601U08101 1 INE601U08101	10,00,000	30,00,000
LISTED		1 INE601008101	10,00,000	10,00,000
LICTED	HONNAGUNTI	2 INF6011108101	10.00.000	20.00.000
LISTED	1 NITIKA DHAWAN 1 BHAGYASHREE SUBHASH POTDAR	2 INE601U08101	10,00,000	20,00,000
LISTED LISTED		1 INE601U08101 2 INE601U08101	10,00,000	10,00,000
LISTED	1 BHARAT NATHALAL VAGHANI			20,00,000
	1 TARPANA DILIPKUMAR TRIVEDI	1 INE601U08101 1 INE601U08101	10,00,000	10,00,000
LISTED LISTED	1 RASHMI VAZE 1 RAMESH R CHOKSI	1 INE601U08101	10,00,000	10,00,000
LISTED	1 SMITA RAMESH CHOKSI	1 INE601U08101		10,00,000
LISTED	1 RESHMA SUNDIP THAKORE	1 INE601U08101	10,00,000	10,00,000
LISTED	1 KOCHERLAKOTA VARA PRASAD	1 INE601U08101	10,00,000	10,00,000
LISTED	1 PRAVIN R SHAH HUF	2 INE601U08101	10,00,000	20,00,000
LISTED	1 Akshay Subhash Morzaria Foundation	1 INE601U08101	10,00,000	10,00,000
LISTED	1 VASUNDHARA DEALER PVT LTD	2 INE601U08119	10,00,000	20,00,000
LISTED	1 SWASTIK TECHNOPACK PVT LTD	2 INE601U08119	10,00,000	20,00,000
LISTED	1 BHANDARI AUTOMOBILES PRIVATE	150 INE601U08119	10,00,000	15,00,00,000
LISTED	LIMITED	130 11 (2001 2001 1)	10,00,000	13,00,00,000
LISTED	1 JANARDAN COLD STORAGE CO PVT LTD	1 INE601U08119	10,00,000	10,00,000
LISTED	1 3711 VIKDALI COLD BIOKAGE COT VI EID	THVEOOTCOOTT)	10,00,000	10,00,000
LISTED	1 ARIHANT MEDICINES PRIVATE LIMITED	1 INE601U08119	10,00,000	10,00,000
210120		11.200100011	10,00,000	10,00,000
LISTED	1 GHANSHYAM G D HUF	1 INE601U08119	10,00,000	10,00,000
LISTED	1 HARSHAD L MEHTA	1 INE601U08119	10.00.000	10,00,000
LISTED	1 BANSAL AND SONS	1 INE601U08119	10,00,000	10,00,000
LISTED	1 RAM KISHAN GOEL HUF	1 INE601U08119	10,00,000	10,00,000
LISTED	1 MRUGESH HARNISHBHAI SHAH	1 INE601U08119	10,00,000	10,00,000
LISTED	1 ADITYA PANDEY	1 INE601U08119	10,00,000	10,00,000
LISTED	1 S SRINIVASAN HUF	1 INE601U08119	10,00,000	10,00,000
LISTED	1 VIMLESH CHHOTALAL SHAH HUF	5 INE601U08119	10,00,000	50,00,000
LISTED	1 KAMAL BABULAL SHAH (HUF) .	1 INE601U08119	10,00,000	10,00,000
LISTED	1 RAJEEV GUPTA HUF .	1 INE601U08119	10,00,000	10,00,000
LISTED	1 SANJAY KUMAR GOYAL (HUF) .	2 INE601U08119	10,00,000	20,00,000
LISTED	1 CHETANA DEORAH	3 INE601U08119	10,00,000	30,00,000
LISTED	1 RAMESH PRANLAL PATHAK	1 INE601U08119	10,00,000	10,00,000
LISTED	1 SHRI BAJRANGLAL TAPARIA	3 INE601U08119	10,00,000	30,00,000
LISTED	1 PURNIMA VED	1 INE601U08119	10,00,000	10,00,000
LISTED	1 SANKARANARAYANAN VISHWANATH	2 INE601U08119	10,00,000	20,00,000
LISTED	1 JAYASHREE SONDUR	2 INE601U08119	10,00,000	20,00,000
LISTED	1 M VINITHA	1 INE601U08119	10,00,000	10,00,000
LISTED	1 KRISHNA RAO M	1 INE601U08119	10,00,000	10,00,000
LISTED	1 KINNARI VIRENDRARAI VACHHRAJANI	1 INE601U08119	10,00,000	10,00,000
				-//
LISTED	1 VANITA DE NORONHA	1 INE601U08119	10,00,000	10,00,000
LISTED	1 MRIDULA MUKHERJI	2 INE601U08119	10,00,000	20,00,000

v vomen	ALCONOMINATE C	1 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2	10.00.000	40.00.000
LISTED	1 MANOJ KUMAR G	1 INE601U08119	10,00,000	10,00,000
LISTED	1 PREMLATA VASANJI GADA	1 INE601U08119	10,00,000	10,00,000
LISTED	1 NARENDRAKUMAR MOTILAL SHAH	1 INE601U08119	10,00,000	10,00,000
LISTED	1 PARUL AGGARWAL	1 INE601U08119	10,00,000	10,00,000
LISTED	1 NIRMALA PARASHURAM	1 INE601U08119	10,00,000	10,00,000
LISTED	1 KAVITHA	3 INE601U08119	10,00,000	30,00,000
LISTED	1 UMA	2 INE601U08119	10,00,000	20,00,000
LISTED	1 R.MOHANAVEL	1 INE601U08119	10,00,000	10,00,000
LISTED	1 M. MANIGANDAN	1 INE601U08119	10,00,000	10,00,000
LISTED	1 INDUMATHI MADHAVAN	1 INE601U08119	10,00,000	10,00,000
LISTED	1 G.JENI PRIYA	1 INE601U08119	10,00,000	10,00,000
LISTED	1 M.KARTHIKA	2 INE601U08119	10,00,000	20,00,000
LISTED	1 HEMA S	1 INE601U08119	10,00,000	10,00,000
LISTED	1 THOKALA DEEPTHI	2 INE601U08119	10,00,000	20,00,000
LISTED	1 K REVATHI	1 INE601U08119	10,00,000	10,00,000
LISTED	1 SOWMIYA N	3 INE601U08119	10,00,000	30,00,000
LISTED	1 R RADHIKA	1 INE601U08119	10,00,000	10,00,000
LISTED	1 SUJATHA S	3 INE601U08119	10,00,000	30,00,000
LISTED	1 PADMA R	1 INE601U08119	10,00,000	10,00,000
LISTED	1 SOOSAI RATHINAM ROHINI	1 INE601U08119	10,00,000	10,00,000
LISTED	1 YOGESH SHANTILAL VYAS	1 INE601U08119	10,00,000	10,00,000
LISTED	1 ARVIND VEERABHADRAPPA KUBSAD	1 INE601U08119	10,00,000	10,00,000
LISTED	1 SHOBHA ARVIND KUBSAD	1 INE601U08119	10,00,000	10,00,000
LISTED	1 SHASHIKANT KADAM	1 INE601U08119	10,00,000	10,00,000
LISTED	1 KAMDAR PRITI	1 INE601U08119	10,00,000	10,00,000
LISTED	1 B LAVANYA	2 INE601U08119	10,00,000	20,00,000
LISTED	1 SNEHA SHRIKANT PATNE	1 INE601U08119	10,00,000	10,00,000
LISTED	1 JATINDER OBEROI	1 INE601U08119	10,00,000	10,00,000
LISTED	1 RUKMANI GOPALDAS MANTRI	1 INE601U08119	10,00,000	10,00,000
LISTED	1 KAVITA MATHUR	1 INE601U08119	10,00,000	10,00,000
LISTED	1 PRACHI PRASHANT MAHAGAONKAR	2 INE601U08119	10,00,000	20,00,000
LISTED	1 SANJEEV GANESH	1 INE601U08119	10,00,000	10,00,000
LISTED	1 SHANTHI VIJAYAKUMAR	1 INE601U08119	10,00,000	10,00,000
LISTED	1 VIMAL RAMNIKLAL AMBANI	1 INE601U08119	10,00,000	10,00,000
LISTED	1 DILIP H SHAH	1 INE601U08119	10,00,000	10,00,000
LISTED	1 ABHA WADHWA	1 INE601U08119	10,00,000	10,00,000
LISTED	1 ANU MALIK	1 INE601U08119	10,00,000	10,00,000
LISTED	1 ARVIND SETHI	10 INE601U08119	10,00,000	1,00,00,000
LISTED	1 SANJAY RAMBHAJ GARG	1 INE601U08119	10,00,000	10,00,000
LISTED	1 SANJAY NARAYAN KHARE	1 INE601U08119	10,00,000	10,00,000
LISTED	1 LUKE DE NORONHA	1 INE601U08119	10,00,000	10,00,000
LISTED	1 DOSHI KALPESHKUMAR AMBALAL	1 INE601U08119	10,00,000	10,00,000
LISTED	1 AMRUTA SANJAY KHARE	1 INE601U08119	10,00,000	10,00,000
LISTED	1 ANKESH ASHOK KANUGA	1 INE601U08119	10,00,000	10,00,000
LISTED	1 ESHWUR KUBSAD	1 INE601U08119	10,00,000	10,00,000
LISTED	1 CHIRANJIV WALIA	1 INE601U08119	10,00,000	10,00,000
LISTED	1 V S SHANKARSUBRAMANIAN	1 INE601U08119	10,00,000	10,00,000
LISTED	1 RUPA SANJIV DAVE	1 INE601U08119	10,00,000	10,00,000
LISTED	1 AJAY SINGHAL	1 INE601U08119	10,00,000	10,00,000
LISTED	1 K R CHANDRASEKARAN	2 INE601U08119	10,00,000	20,00,000
LISTED	1 RAJENDRA MANGILAL SHINGI	1 INE601U08119	10,00,000	10,00,000
LISTED	1 POONAM KAMATH	1 INE601U08119	10,00,000	10,00,000
LISTED	1 RASHMI RAJENDRA SHINGI	2 INE601U08119	10,00,000	20,00,000
LISTED	1 SALDANHA RICHARD	1 INE601U08119	10,00,000	10,00,000
LISTED	1 SAKINA S. HAJOORI	1 INE601U08119	10,00,000	10,00,000
LISTED		1 INE601U08119	10,00,000	, ,
	1 SHYAM SAMIRBHAI PARIKH			10,00,000
LISTED	1 BALASUBRAMANYA BHAT	1 INE601U08119	10,00,000	10,00,000
LISTED	1 VARANASHI KRISHNA MOORTHY	2 INE601U08119	10,00,000	20,00,000
LISTED	1 ASHWINI KRISHNAMOORTHY	3 INE601U08119	10,00,000	30,00,000
LISTED	1 SUSHEEL KUMAR MOHATA	1 INE601U08119	10,00,000	10,00,000
LISTED	THE STANDARD HILL ALLS	3 INE601U08119	10,00,000	30,00,000
* **	1 GNANAMBHIKAI S			, ,
LISTED	1 BINAY AGARWAL	1 INE601U08119	10,00,000	10,00,000
LISTED LISTED LISTED				, ,

			T.	
LISTED	1 PRABHJOT KAUR	1 INE601U08119	10,00,000	10,00,000
LISTED	1 KAVYA DHRUMIL JOSHI	1 INE601U08119	10,00,000	10,00,000
LISTED	1 JYOTI RAVIN DAFTARI	1 INE601U08119	10,00,000	10,00,000
LISTED	1 AJOY MOHAN DYUNDI	1 INE601U08119	10,00,000	10,00,000
LISTED	1 KOUSALYA JAYARAJ	3 INE601U08119	10,00,000	30,00,000
LISTED	1 GOPINATH C J	8 INE601U08119	10,00,000	80,00,000
LISTED	1 ARINDAM GUHA	1 INE601U08119	10,00,000	10,00,000
LISTED	1 VARADHARAJAN SRINIVASAN	1 INE601U08119	10,00,000	10,00,000
LISTED	1 PRABIR KUMAR MAJUMDAR	1 INE601U08119	10,00,000	10,00,000
LISTED	1 Vijayarangachari Sridharan	1 INE601U08119	10,00,000	10,00,000
LISTED	1 DILEEP K	2 INE601U08119	10,00,000	20,00,000
LISTED	1 SHILPA GOPINATH	3 INE601U08119	10,00,000	30,00,000
LISTED	1 SUJATA SUSHANT JAGDALE	1 INE601U08119	10,00,000	10,00,000
LISTED	1 SAROJ GYANCHAND BAKLIWAL	1 INE601U08119	10,00,000	10,00,000
LISTED	1 SEEMA GARG	1 INE601U08119	10,00,000	10,00,000
LISTED	1 KRISHNAPADA RAMPADA RAY	1 INE601U08119	10,00,000	10,00,000
LISTED	1 SATEESH BABU RAMANJANEYULU DESU	1 INE601U08119	10,00,000	10,00,000
LISTED	1 SATELSH BABU KAMANJANETULU DESU	1111001008119	10,00,000	10,00,000
LISTED	1 G R BALAJI	1 INE601U08119	10,00,000	10,00,000
LISTED	1 TORAL VIMLESH SHAH	5 INE601U08119	10,00,000	50,00,000
LISTED	1 RABIA BEG	2 INE601U08119	10,00,000	20,00,000
LISTED	1 KAUSHIK KANTILAL SHAH	1 INE601U08119	10,00,000	10,00,000
LISTED	1 RAVINDER KAUR CHHABRA	1 INE601U08119	10,00,000	10,00,000
LISTED	1 G HEMAMALINI	5 INE601U08119	10,00,000	50,00,000
LISTED	1 NEELAKANTAN SUBRAMANIAN	1 INE601U08119	10,00,000	10,00,000
LISTED	1 MOLOY CHAUDHURI	2 INE601U08119	10,00,000	20,00,000
LISTED	1 DARIUS SAROSH BAHADURJI	7 INE601U08119	10,00,000	
			, ,	70,00,000
LISTED	1 TEHNAZ BAHADURJI	7 INE601U08119	10,00,000	70,00,000
LISTED	1 PRAMIT SHASHIKANT JHAVERI	50 INE601U08119	10,00,000	5,00,00,000
LISTED	1 SUNITA INDER KHILNANY	1 INE601U08119	10,00,000	10,00,000
LISTED	1 PUTTARAJU P GOWDA	2 INE601U08119	10,00,000	20,00,000
LISTED	1 REENA DHOLE	2 INE601U08119	10,00,000	20,00,000
LISTED	1 BHOOMI JANAKBHAI THAKKAR	2 INE601U08119	10,00,000	20,00,000
LISTED	1 AMBRISH JAGDISHMITTAR KHOSLA	1 INE601U08119	10,00,000	10,00,000
LISTED	1 VIPIN AGGARWAAL	1 INE601U08119	10,00,000	10,00,000
LISTED	1 ASHLESHA ALKESHBHAI PATEL	1 INE601U08119	10,00,000	10,00,000
LISTED	1 KERBANOO ERUCH PATEL	1 INE601U08119	10,00,000	10,00,000
LISTED	1 SATISH KUMAR RUSTAGI	1 INE601U08119	10,00,000	10,00,000
LISTED	1 PRATIBHA RUSTAGI	1 INE601U08119	10,00,000	10,00,000
LISTED	1 GIRISHBHAI H PATEL	1 INE601U08119	10,00,000	10,00,000
LISTED	1 KAMAL CHAMPAKLAL PATEL	2 INE601U08119	10,00,000	20,00,000
LISTED	1 KOMALBEN BHATT	1 INE601U08119	10,00,000	10,00,000
LISTED	1 RAJNIKANT AMRITLAL MEHTA	1 INE601U08119	10,00,000	10,00,000
LISTED	1 KETAN MAYABHAI DAMANIA	1 INE601U08119	10,00,000	10,00,000
LISTED	1 HARMEET KOCHAR	15 INE601U08119	10,00,000	1,50,00,000
LISTED	1 HETAL PARTH MEHTA	1 INE601U08119	10,00,000	10,00,000
LISTED	1 VENKAIPURAM RAJAGOPALAN KASTURI	1 INE601U08119	10,00,000	10,00,000
	RANGAN		·	
LISTED	1 JYOTI RAJENDRA SHINGI	1 INE601U08119	10,00,000	10,00,000
LISTED	1 SYAM SUNDER VASILI	1 INE601U08119	10,00,000	10,00,000
LISTED	1 ANJU JOSHI	1 INE601U08119	10,00,000	10,00,000
LISTED	1 NEELANJANA SEN .	1 INE601U08119	10,00,000	10,00,000
LISTED	1 SANJAY KUMAR GOYAL	2 INE601U08119	10,00,000	20,00,000
LISTED	1 KANTA AGARWAL	1 INE601U08119	10,00,000	10,00,000
LISTED	1 PRADEEP KUMAR AGARWAL	1 INE601U08119	10,00,000	10,00,000
LISTED	1 SNEHA GOYAL	1 INE601U08119	10,00,000	10,00,000
LISTED	1 USHA AGARWAL	1 INE601U08119	10,00,000	10,00,000
LISTED	1 SHABNAM AMIN RAJWANI	1 INE601U08119	10,00,000	10,00,000
LISTED		2 INE601U08119		
	1 KETKI ANIL DESAI		10,00,000	20,00,000
LISTED	1 NITA UMESH SHAH	1 INE601U08119	10,00,000	10,00,000
LISTED	1 PARUL ASHISH MEHTA	1 INE601U08119	10,00,000	10,00,000
LISTED	1 KIRAN VASANT ACHREKAR	1 INE601U08119	10,00,000	10,00,000
LISTED	1 HARSHAD MANILAL PAREKH	1 INE601U08119	10,00,000	10,00,000
LISTED	1 JAYA KASTURILAL BHASIN	1 INE601U08119	10,00,000	10,00,000

LISTED	1 BADA KHALSA CHARITIES OF	2	INE601U08119	10,00,000	20,00,000
LISTED	KHETSYDASJI TRUST 1 BHANDARI AUTOMOBILES PRIVATE	150	INE601U08127	10,00,000	15,00,00,000
LISTED	LIMITED 1 B R HERMAN AND MOHATTA INDIA PVT	10	INE601U08135	10,00,000	1,00,00,000
LISTED	LTD 1 BOMBAY SEALINK BUILDERS PVT LTD	30	INE601U08135	10,00,000	3,00,00,000
LISTED	1 ESSAE TECHNOLOGYS PRIVATE LIMITED	5	INE601U08135	10,00,000	50,00,000
LISTED	1 VAGVIDHAGDHA LEARNING SERVICES	1	INE601U08135	10,00,000	10,00,000
LISTED	PRIVATE LIMITED 1 ESSAE SUHAGRAJA PRIVATE LIMITED	5	INE601U08135	10,00,000	50,00,000
1 IOMED	1 FLANCOVANIANE	- 1	DTE CO11100125	10.00.000	10.00.000
LISTED LISTED	1 ELANGOVAN HUF 1 PRADYUMANBHAI RAMPRASAD MANKAD		INE601U08135 INE601U08135	10,00,000 10,00,000	10,00,000 20,00,000
LISTED	HUF.	2	INE001008133	10,00,000	20,00,000
LISTED	1 DEVANG PRADHUMAN MANKAD HUF .	2	INE601U08135	10,00,000	20,00,000
LISTED	1 ASHISH V. GANDHI-HUF	1	INE601U08135	10.00.000	10,00,000
LISTED	1 RAM KUMAR SRINIVASAN		INE601U08135	10,00,000	30,00,000
LISTED	1 NIMESH KANTILAL JOSHI		INE601U08135	10,00,000	20,00,000
LISTED	1 PADINJARUVEETIL KANGAPIRAMBIL RAMAN	10	INE601U08135	10,00,000	1,00,00,000
LISTED	1 MUSTI ANURADHA	1	INE601U08135	10,00,000	10,00,000
LISTED	1 SHYAM MANI	10	INE601U08135	10,00,000	1,00,00,000
LISTED	1 MOHINI GORDHANDAS MATTA	10	INE601U08135	10,00,000	1,00,00,000
LISTED	1 HOZEFA SAIFUDDIN MIYASAHEB	1	INE601U08135	10,00,000	10,00,000
LISTED	1 BALAJI M	1	INE601U08135	10,00,000	10,00,000
LISTED	1 MALTI N SRIVASTAVA	7	INE601U08135	10,00,000	70,00,000
LISTED	1 ZARAAN R ENGINEER	1	INE601U08135	10,00,000	10,00,000
LISTED	1 YESHWANT JAYWANT REGE	1	INE601U08135	10,00,000	10,00,000
LISTED	1 AMARNATH HARISHCHANDRA JHA	1	INE601U08135	10,00,000	10,00,000
LISTED	1 SRINIVAS ACHARYA	2	INE601U08135	10,00,000	20,00,000
LISTED	1 ASHISH NIMAICHANDRA BASU	1	INE601U08135	10,00,000	10,00,000
LISTED	1 SUVITHA SYAM MOHAN	2		10,00,000	20,00,000
LISTED	1 PERSIS DANESH MISTRY	1	INE601U08135	10,00,000	10,00,000
LISTED	1 PHILLIE D KARKARIA	I	INE601U08135	10,00,000	10,00,000
LISTED LISTED	1 BAKHTAWAR P KARKARIA 1 NOSHIR MANECKSHAW MISTRY	1	INE601U08135 INE601U08135	10,00,000 10,00,000	10,00,000
LISTED	1 KANAN BIRENDRA SHAH	1	INE601U08135	10,00,000	10,00,000
LISTED	1 BAIDEBETT JAYARAM PAI	1	INE601U08135	10,00,000	10,00,000
LISTED	1 PAWAN KUMAR AGARWAL	1	INE601U08135	10,00,000	10,00,000
LISTED	1 H V KEDLAYA	1	INE601U08135	10,00,000	10,00,000
LISTED	1 NAMRATA DIVEKAR		INE601U08135	10.00.000	50,00,000
LISTED	1 VIDYA ADWAIT JOGLEKAR		INE601U08135	10,00,000	10,00,000
LISTED	1 GEETA SRIDHAR SARATHY	1	INE601U08135	10,00,000	10,00,000
LISTED	1 JIMMY RUSTOM DORDI	1	INE601U08135	10,00,000	10,00,000
LISTED	1 KRISHNA RAO	1	INE601U08135	10,00,000	10,00,000
LISTED	1 NIRMALA PARASHURAM	1	INE601U08135	10,00,000	10,00,000
LISTED	1 N DEVARAJAN	2	INE601U08135	10,00,000	20,00,000
LISTED	1 RAAM KUMAR M	1	INE601U08135	10,00,000	10,00,000
LISTED	1 S PADMINI	1	INE601U08135	10,00,000	10,00,000
LISTED	1 SOWMIYA N	2	INE601U08135	10,00,000	20,00,000
LISTED	1 SIVA RANJANI A	1	INE601U08135	10,00,000	10,00,000
LISTED	1 PRABHA SATHYAMORTHY	1	INE601U08135	10,00,000	10,00,000
LISTED	1 VIDYA SAGAR D	2	INE601U08135	10,00,000	20,00,000
LISTED	1 SUJATHA DORAISWAMY		INE601U08135	10,00,000	10,00,000
LISTED	1 RAMYA R		INE601U08135	10,00,000	20,00,000
LISTED	1 S SRIVIDYA	1	INE601U08135	10,00,000	10,00,000
LISTED	1 P PREMA	1	INE601U08135	10,00,000	10,00,000
LISTED	1 SELVANAYAKI S	1	INE601U08135 INE601U08135	10,00,000	10,00,000
LISTED LISTED	1 C ROBERT JOSE 1 RAMKUMAR E	I	INE601U08135 INE601U08135	10,00,000 10,00,000	10,00,000

LISTED	1 RAJA PRADEEPA	1 INE601U08135	10,00,000	10,00,000
LISTED	1 SIVARANJANI RAJA	1 INE601U08135	10,00,000	10,00,000
LISTED	1 SIVAKUMAR	2 INE601U08135	10,00,000	20,00,000
LISTED	1 JAYALEKSHMI VISWANATH IYER	2 INE601U08135	10,00,000	20,00,000
LISTED	1 M RASHMIJA	1 INE601U08135	10,00,000	10,00,000
LISTED	1 T V THULASIMALA	1 INE601U08135	10,00,000	10,00,000
LISTED	1 BANUCHANDRA	1 INE601U08135	10,00,000	10,00,000
LISTED	1 PHILOMINA K	1 INE601U08135	10,00,000	10,00,000
LISTED	1 SRIMATHI B	1 INE601U08135	10,00,000	10,00,000
LISTED	1 SANJAY	1 INE601U08135	10,00,000	10,00,000
LISTED	1 ABIRAMAN P R	4 INE601U08135	10,00,000	40,00,000
LISTED	1 RAMA D	1 INE601U08135	10,00,000	10,00,000
LISTED	1 T M DURGA	1 INE601U08135	10,00,000	10,00,000
LISTED	1 THOPPAE RAMACHANDRAN MOTHILAL	1 INE601U08135	10,00,000	10,00,000
LISTED		11112001000133	10,00,000	10,00,000
LISTED	1 SUMA SUDHEER	1 INE601U08135	10,00,000	10,00,000
LISTED	1 G SUGANTHI	1 INE601U08135	10,00,000	10,00,000
LISTED	1 P JAYALAKSHMI	2 INE601U08135	10,00,000	20,00,000
LISTED	1 AARTHI DE	1 INE601U08135	10,00,000	10,00,000
LISTED	1 AARTHEESWARI SARAVANAN	1 INE601U08135	10,00,000	10,00,000
LISTED	1 RAJASEKAR KALISAMY	1 INE601U08135	10,00,000	10,00,000
LISTED	1 NALINI SURESH KUMAR	1 INE601U08135	10.00.000	10,00,000
LISTED	1 JOTHI SELVAPATHY	1 INE601U08135	10,00,000	10,00,000
LISTED	1 AMI APOORVA DOSHI	2 INE601U08135	10,00,000	20,00,000
LISTED	1 DARSHANA MANISH SUTARWALA	1 INE601U08135	10,00,000	10,00,000
LISTED	1 TAPAN KISHORCHANDRA JARIWALA	1 INE601U08135	10,00,000	10,00,000
LISTED	1 MOHSIN N. PATEL	10 INE601U08135	10,00,000	1,00,00,000
LISTED	1 DEEPALI POTDAR	1 INE601U08135	10.00.000	10,00,000
LISTED	1 MANJU GATTANI	1 INE601U08135	10,00,000	10,00,000
LISTED	1 SUNITA GATTANI	2 INE601U08135	10,00,000	20,00,000
LISTED	1 JYOTI SETHI	1 INE601U08135	10,00,000	10,00,000
LISTED	1 KAMLESH MANSUKHLAL PAREKH	1 INE601U08135	10,00,000	10,00,000
LISTED	1 SHUBHADA SHASTRY	1 INE601U08135	10,00,000	10,00,000
LISTED	1 USHIR D. SHAH	1 INE601U08135	10,00,000	10,00,000
LISTED	1 SHASHINDRA N	3 INE601U08135	10,00,000	30,00,000
LISTED	1 RAMA H R	3 INE601U08135	10,00,000	30,00,000
LISTED	1 NIRAV RAJABABU GANDHI	2 INE601U08135	10,00,000	20,00,000
LISTED	1 SHAMITA KIRITKUMAR AMIN	1 INE601U08135	10,00,000	10,00,000
LISTED	1 KUSUM BHUPATRAI GANDHI	1 INE601U08135	10,00,000	10,00,000
LISTED	1 CYRUS ROHINTON SHROFF	2 INE601U08135	10,00,000	20,00,000
LISTED	1 SHILPA BANG	2 INE601U08135	10,00,000	20,00,000
LISTED	1 BHUMIKA ANANT DESAI	2 INE601U08135	10,00,000	20,00,000
LISTED	1 PRAVEEN PURUSHOTTAM KADLE	2 INE601U08135	10,00,000	20,00,000
LISTED	1 V N RAJAGOPALAN	2 INE601U08135	10,00,000	20,00,000
LISTED	1 SANJAY RAMBHAJ GARG	1 INE601U08135	10,00,000	10,00,000
LISTED	1 VIDYA CHOUDHARY	1 INE601U08135	10,00,000	10,00,000
LISTED	1 NIRAV HASMUKHLAL RAVAL	1 INE601U08135	10,00,000	10,00,000
LISTED	1 RAVINDRA BHIM BODHE	1 INE601U08135	10,00,000	10,00,000
LISTED	1 ANEETA RAGHUNATH MHAPSEKAR	1 INE601U08135	10,00,000	10,00,000
LISTED	1 UDAY UCHIL	2 INE601U08135	10,00,000	20,00,000
LISTED	1 RAKHI SEN	1 INE601U08135	10,00,000	10,00,000
LISTED	1 VATCHALA G	3 INE601U08135	10,00,000	30,00,000
LISTED	1 VEENA BHARATKUMAR DERASARI	1 INE601U08135	10,00,000	10,00,000
LISTED	1 CHANDRASHEKHAR NARAYAN JOSHI	1 INE601U08135	10,00,000	10,00,000
LISTED	1 KVN SHARMA	4 INE601U08135	10,00,000	40,00,000
LISTED	1 RAJEH GANESH N	1 INE601U08135	10,00,000	10,00,000
LISTED	1 RAMU MAHALINGAM S	2 INE601U08135	10,00,000	20,00,000
LISTED	1 MAHALAKSHMI V	1 INE601U08135	10,00,000	10,00,000
LISTED	1 RAJESH VINODRAY CHAWDA	1 INE601U08135	10,00,000	10,00,000
LISTED	1 A RAJAGOPAL GUPTA	1 INE601U08135	10,00,000	10,00,000
LISTED	1 A SAROJA	1 INE601U08135	10,00,000	10,00,000
LISTED	1 DEVIKA DHANESH RAHEJA	2 INE601U08135	10,00,000	20,00,000
LISTED	1 SULOCHANADEVI BRIJMOHAN SEKHSARIA	1 INE601U08135	10,00,000	10,00,000

LISTED	1 BRIJMOHAN PARMESHWARLAL	4 INE601U08135	10,00,000	40,00,000
	SEKHSARIA			
LISTED	1 BELLUR N SRIKRISHNA	5 INE601U08135	10,00,000	50,00,000
LISTED	1 RITA PURI	1 INE601U08135	10,00,000	10,00,000
LISTED	1 PALLAVI B SHAH	1 INE601U08135	10,00,000	10,00,000
LISTED	1 ZALAK HARDIKBHAI PATEL	1 INE601U08135	10,00,000	10,00,000
LISTED	1 RAJESH GUPTA	5 INE601U08135	10,00,000	50,00,000
LISTED	1 SWATI GUPTA	2 INE601U08135	10,00,000	20,00,000
LISTED	1 HETAL KANAIYALAL POPAT	1 INE601U08135	10,00,000	10,00,000
LISTED	1 BHOOMI NIKHILKUMAR POPAT	1 INE601U08135	10,00,000	10,00,000
LISTED	1 MAYURIKA TUSHAR SHAH	1 INE601U08135	10,00,000	10,00,000
LISTED	1 PREETI NIGAM PARIKH	2 INE601U08135	10,00,000	20,00,000
LISTED	1 KOUSALYA JAYARAJ	5 INE601U08135	10,00,000	50,00,000
LISTED	1 GOPINATH C J	9 INE601U08135	10,00,000	90,00,000
LISTED	1 KISHOR D NADKARNI	1 INE601U08135	10,00,000	10,00,000
LISTED	1 HEMA K NADKARNI	1 INE601U08135	10,00,000	10,00,000
LISTED	1 NAGARAJ GUPTHA	1 INE601U08135	10,00,000	10,00,000
LISTED	1 VIVEK JOLLY	1 INE601U08135	10,00,000	10,00,000
LISTED	1 KEEZHPADA RAVINDRAN	1 INE601U08135	10,00,000	10,00,000
LISTED	1 RAMESH CHANDRA	3 INE601U08135	10,00,000	30,00,000
LISTED	1 SONALI AYYAR	1 INE601U08135	10,00,000	10,00,000
LISTED	1 MANSI DIDWANIA	1 INE601U08135	10,00,000	10,00,000
LISTED	1 MEENAKSHI KUMAR	2 INE601U08135	10,00,000	20,00,000
LISTED	1 GEETA SHARMA	1 INE601U08135	10,00,000	10,00,000
LISTED	1 RACHEL CAROLINE RODRIGUES	4 INE601U08135	10,00,000	40,00,000
LISTED LISTED	1 AMRITA CHANDRA	1 INE601U08135 50 INE601U08135	10,00,000	10,00,000
LISTED	1 GUDALUR KALYANSUNDARAM RAMAMURTHY	30 INE601008133	10,00,000	5,00,00,000
LISTED	1 RAJESH KUMAR NIJHAWAN	1 INE601U08135	10,00,000	10,00,000
LISTED	1 HARISH NAIR	1 INE601U08135	10,00,000	10,00,000
LISTED	1 KRISHNA IYER H	1 INE601U08135	10,00,000	10,00,000
LISTED	1 MANIKA GUPTA	1 INE601U08135	10,00,000	10,00,000
LISTED	1 KANWAL SINGH	2 INE601U08135	10,00,000	20,00,000
LISTED	1 SESHADRI P R	1 INE601U08135	10,00,000	10,00,000
LISTED	1 RAJAT GUPTA	1 INE601U08135	10,00,000	10,00,000
LISTED	1 NIMISH ANIL GANDHI	2 INE601U08135	10,00,000	20,00,000
LISTED	1 RAMNIKLAL MEHTA	1 INE601U08135	10,00,000	10,00,000
LISTED	1 KUNDAN ARUN VORA	1 INE601U08135	10,00,000	10,00,000
LISTED	1 RISHABH SHARAD NEMANI	1 INE601U08135	10,00,000	10,00,000
LISTED	1 RITWIK SHARAD NEMANI	1 INE601U08135	10,00,000	10,00,000
LISTED	1 AKANKSHA SUNIL GOENKA .	1 INE601U08135	10,00,000	10,00,000
LISTED	1 MEENAKSHI BHATIA .	1 INE601U08135	10,00,000	10,00,000
LISTED	1 DINESH KUMAR GUPTA .	3 INE601U08135	10,00,000	30,00,000
LISTED	1 CHANDRASHEKHARAN RAMAN NAIR	1 INE601U08135	10,00,000	10,00,000
LISTED	1 SIYA RITWIK NEMANI	1 INE601U08135	10,00,000	10,00,000
LISTED	1 MAITRI MITULKUMAR SHAH	1 INE601U08135	10,00,000	10,00,000
LISTED	1 SANJAY GANESH GOKHALE	1 INE601U08135	10,00,000	10,00,000
LISTED	1 VANDANA S GOKHALE	1 INE601U08135	10,00,000	10,00,000
LISTED	1 ZEEL NIKUNJ MODY	1 INE601U08135	10,00,000	10,00,000
LISTED	1 POOJA SANJAY GOKHALE	2 INE601U08135	10,00,000	20,00,000
LISTED	1 DHWANI CHINTAN MODY	1 INE601U08135	10,00,000	10,00,000
LISTED	1 ANUPAMA AKHIL SAVANT	1 INE601U08135	10,00,000	10,00,000
LISTED	1 GOVIND RAM JHUNJHUNWALA	1 INE601U08135	10,00,000	10,00,000
LISTED	1 MANAS PRATIM SAIKIA	1 INE601U08135	10,00,000	10,00,000
LISTED	1 MUKESHBHAI DALSUKHBHAI GANDHI	1 INE601U08135	10,00,000	10,00,000
LISTED	1 SATISH RASIKLAL SHAH	1 INE601U08135	10,00,000	10,00,000
LISTED	1 RAJABABU BHAGUBHAI GANDHI	2 INE601U08135	10,00,000	20,00,000
LISTED	1 NINA HEMANTBHAI SHAH	1 INE601U08135	10,00,000	10,00,000
LISTED	1 ELAPPULLY PARAMESWARAN	2 INE601U08135	10,00,000	20,00,000
	BALASUBRAMANIAN			
LISTED	1 KETAN MAYABHAI DAMANIA	1 INE601U08135	10,00,000	10,00,000
LISTED	1 DHIRENDRA HARILAL SHAH	1 INE601U08135	10,00,000	10,00,000
LISTED	1 PRADIP SHANTILAL SHETH	1 INE601U08135	10,00,000	10,00,000

LICTED	1 D CETHID AMAN	1	DEC011100125	10.00.000	10.00.000
LISTED	1 R SETHURAMAN		INE601U08135	10,00,000	10,00,000
LISTED	1 SESHADRI LAKSHMANAN	1	INE601U08135	10,00,000	10,00,000
LISTED	1 APARNA KUMAR	4	INE601U08135	10,00,000	40,00,000
LISTED	1 SANDEEP NARAIN	5	INE601U08135	10,00,000	50,00,000
LISTED	1 RAJ KUMAR SINHA		INE601U08135	10,00,000	10,00,000
LISTED	1 MUTHIAH CHIDAMBARAM .		INE601U08135	10,00,000	10,00,000
LISTED	1 RAJESH ATMARAM PATIL .		INE601U08135	10,00,000	10,00,000
LISTED	1 SUSILA .	1	INE601U08135	10,00,000	10,00,000
LISTED	1 PREMILA RAMARATHINAM	1	INE601U08135	10,00,000	10,00,000
LISTED	1 MANISH KUMAR VERMA .	10	INE601U08135	10,00,000	1,00,00,000
LISTED	1 NEERAJ DINDORE.	2	INE601U08135	10,00,000	20,00,000
LISTED	1 HITESHKUMAR ARVINDLAL SHAH		INE601U08135	10,00,000	10,00,000
LISTED	1 ANITA SUNIL TAHILIANI	1	INE601U08135	10,00,000	10,00,000
LISTED	1 HARSHADKUMAR AMRUTLAL PATEL	1	INE601U08135	10,00,000	10,00,000
LISTED	1 SANJEEV CHIDAMBAR JOSHI	1	INE601U08135	10,00,000	10,00,000
LISTED	1 KALKUNI SOMASEKHARAMURTHY DINESH	1	INE601U08135	10,00,000	10,00,000
	-				10,00,000
LICTED	1 MITHU DOVOUGUDUA DV	1	DIECO11100125	10,00,000	10,00,000
LISTED	1 MITHU ROYCHOUDHARY		INE601U08135		
LISTED	1 PRAKASHKUMAR AMBELAL MEHTA		INE601U08135	10,00,000	10,00,000
LISTED	1 KARTHI CHANDRASEKARAN	1	INE601U08135	10,00,000	10,00,000
LISTED	1 ASHA JHA	1	INE601U08135	10,00,000	10,00,000
LISTED	1 YAMINI ASHISH BASU	1	INE601U08135	10,00,000	10,00,000
LISTED	1 PANKAJ DAHYABHAI DESAI		INE601U08135	10,00,000	10,00,000
LISTED	1 BINDU KAKUBHAI THAKORE		INE601U08135	10,00,000	10,00,000
LISTED	1 BHAGWATI SPHEROCAST PVT LTD		INE601U08143	10,00,000	40,00,000
LISTED	1 MAHESH VISHNU TRADE & CREDIT PVT.	3	INE601U08143	10,00,000	30,00,000
	LTD.				
LISTED	1 NAHAR CAPITAL AND FINANCIAL	20	INE601U08143	10,00,000	2,00,00,000
	SERVICES LTD				
LISTED	1 SKY ACETYLENE COMPANY PVT LTD	1	INE601U08143	10,00,000	10,00,000
LISTED	I SKI ACEI ILENE COMI ANTI VI EID	1	IIVE001000143	10,00,000	10,00,000
Y YOMED	1 D V D . V . 1		D. W. CO. 1 1 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2	10.00.000	. =
LISTED	1 Basons Investments Pvt Ltd		INE601U08143	10,00,000	4,50,00,000
LISTED	1 GROUPL SERVICES PVT LTD	1	INE601U08143	10,00,000	10,00,000
LISTED	1 MANPASAND MANPOWER PVT LTD	3	INE601U08143	10,00,000	30,00,000
LISTED	1 GI SECURITY PVT LTD	1	INE601U08143	10,00,000	10,00,000
LISTED	1 ILE AYO INVESTMENTS AND	1	INE601U08143	10,00,000	10,00,000
	CONSULTANTS PVT LTD				,,-,
LISTED	1 RAVIKIRAN CERAMICS PRIVATE LIMITED	5	INE601U08143	10,00,000	50,00,000
LISTED	TRAVIKIRAN CERAMICS PRIVATE LIMITED	3	INE001008143	10,00,000	50,00,000
LISTED	1 INBOT PROPERTIES PRIVATE LTD	3	INE601U08143	10,00,000	30,00,000
LISTED	1 ROSHNI AGENCIES PVT LTD	50	INE601U08143	10,00,000	5,00,00,000
LISTED	1 ZCON SOLUTIONS PRIVATE LIMITED	1	INE601U08143	10,00,000	10,00,000
LISTED	1 CAREWEL FACILITIES INDIA PRIVATE	11	INE601U08143	10,00,000	1,10,00,000
	LIMITED			10,00,000	2,20,00,000
LICTED		A	INE6011100142	10.00.000	40 00 000
LISTED	1 VAAYA WORKPLACE SOLUTIONS		INE601U08143	10,00,000	40,00,000
LISTED	1 AMOL CAPITAL MARKETS PVT. LTD.	2	INE601U08143	10,00,000	20,00,000
LISTED	1 VISOKA ENGINEERING PRIVATE LIMITED	3	INE601U08143	10,00,000	30,00,000
LISTED	1 ANIL KUMAR GOEL HUF	2	INE601U08143	10,00,000	20,00,000
LISTED	1 RADHAKRISHNAN HUF		INE601U08143	10,00,000	10,00,000
מבומוב	TIMADHAKKISHIYAN HUL	1	11 12001 0 00143	10,00,000	/ /
LICTED	1 CUDTUA D D D	1	INTEG011100142	10.00.000	10 00 000
LISTED	1 GUPTHA D B R	1	INE601U08143	10,00,000	10,00,000
LISTED	1 KAMLESH RAMNIKLAL MEHTA	1	INE601U08143	10,00,000	10,00,000
LISTED LISTED	1 KAMLESH RAMNIKLAL MEHTA 1 A S NICHANI HUF	1		10,00,000 10,00,000	
LISTED	1 KAMLESH RAMNIKLAL MEHTA	1	INE601U08143	10,00,000	10,00,000
LISTED LISTED	1 KAMLESH RAMNIKLAL MEHTA 1 A S NICHANI HUF	1	INE601U08143 INE601U08143	10,00,000 10,00,000	10,00,000 10,00,000
LISTED LISTED LISTED LISTED	1 KAMLESH RAMNIKLAL MEHTA 1 A S NICHANI HUF 1 JAYDEEP ARVINDBHAI SHAH HUF 1 VIJAYARAGHAVAN SARANGAPANI	1 1 1 1	INE601U08143 INE601U08143 INE601U08143 INE601U08143	10,00,000 10,00,000 10,00,000 10,00,000	10,00,000 10,00,000 10,00,000 10,00,000
LISTED LISTED LISTED LISTED LISTED	1 KAMLESH RAMNIKLAL MEHTA 1 A S NICHANI HUF 1 JAYDEEP ARVINDBHAI SHAH HUF 1 VIJAYARAGHAVAN SARANGAPANI 1 SUHAS D SATHE	1 1 1 1 1	INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000
LISTED LISTED LISTED LISTED LISTED LISTED LISTED	1 KAMLESH RAMNIKLAL MEHTA 1 A S NICHANI HUF 1 JAYDEEP ARVINDBHAI SHAH HUF 1 VIJAYARAGHAVAN SARANGAPANI 1 SUHAS D SATHE 1 SANDEEP JAYANT SHAH HUF.	1 1 1 1 1 1	INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000
LISTED LISTED LISTED LISTED LISTED	1 KAMLESH RAMNIKLAL MEHTA 1 A S NICHANI HUF 1 JAYDEEP ARVINDBHAI SHAH HUF 1 VIJAYARAGHAVAN SARANGAPANI 1 SUHAS D SATHE	1 1 1 1 1 1	INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000
LISTED LISTED LISTED LISTED LISTED LISTED LISTED LISTED	1 KAMLESH RAMNIKLAL MEHTA 1 A S NICHANI HUF 1 JAYDEEP ARVINDBHAI SHAH HUF 1 VIJAYARAGHAVAN SARANGAPANI 1 SUHAS D SATHE 1 SANDEEP JAYANT SHAH HUF. 1 JANAKKUMAR AMBALAL MODI (HUF).	1 1 1 1 1 1	INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000
LISTED	1 KAMLESH RAMNIKLAL MEHTA 1 A S NICHANI HUF 1 JAYDEEP ARVINDBHAI SHAH HUF 1 VIJAYARAGHAVAN SARANGAPANI 1 SUHAS D SATHE 1 SANDEEP JAYANT SHAH HUF.	1 1 1 1 1 1 1	INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000
LISTED LISTED LISTED LISTED LISTED LISTED LISTED LISTED	1 KAMLESH RAMNIKLAL MEHTA 1 A S NICHANI HUF 1 JAYDEEP ARVINDBHAI SHAH HUF 1 VIJAYARAGHAVAN SARANGAPANI 1 SUHAS D SATHE 1 SANDEEP JAYANT SHAH HUF. 1 JANAKKUMAR AMBALAL MODI (HUF).	1 1 1 1 1 1 1	INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000

LISTED	1 AMIT KANTILAL PAREKH HUF .	1	INE601U08143	10,00,000	10,00,000
					
LISTED	1 ANKUR P MEHTA HUF		INE601U08143	10,00,000	10,00,000
LISTED	1 ABHAY AGARWAL HUF .	3		10,00,000	30,00,000
LISTED	1 PRAKASH B PATEL HUF		INE601U08143	10,00,000	10,00,000
LISTED	1 SONI CHHAGANLAL NARSHIBHAI HUF .	1	INE601U08143	10,00,000	10,00,000
LISTED	1 SONI RAJESH CHHAGANLAL HUF .	1	INE601U08143	10,00,000	10,00,000
			INE601U08143		
LISTED	1 BHARATKUMAR CHHAGANLAL SONI HUF .	1	INE001008143	10,00,000	10,00,000
LISTED	1 SANCHITJAIN HUF	1	INE601U08143	10,00,000	10,00,000
LISTED	1 MIZAR RAMDAS POI HUF		INE601U08143	10,00,000	10,00,000
LISTED	1 SUCCESS GYAN INDIA		INE601U08143	10,00,000	10,00,000
LISTED	1 GOPALAKRISHNAN SESHADRI .		INE601U08143	10,00,000	10,00,000
LISTED	1 VIVEKANAND MATHAPATI		INE601U08143	10,00,000	10,00,000
LISTED	1 ROMA SOMESH LALA		INE601U08143	10,00,000	/ /
LISTED	1 HARISH J SHAH		INE601U08143	, ,	10,00,000
				10,00,000	10,00,000
LISTED	1 KULDEEP SINGH NANDA		INE601U08143	10,00,000	80,00,000
LISTED	1 J. P. ACHARYA		INE601U08143	10,00,000	4,00,00,000
LISTED	1 SURESH BABU GUNAKALA	1	INE601U08143	10,00,000	10,00,000
LISTED	1 PRAVIN BHAGWANDAS HARIBHAKTI	1	INE601U08143	10,00,000	10,00,000
LISTED	1 ARUN SHRIPAD KULKARNI	2	INE601U08143	10,00,000	20,00,000
LISTED	1 VASUDEV GOPINATH PILLAI	2	INE601U08143	10,00,000	20,00,000
LISTED	1 V RAVICHANDRAN	1	INE601U08143	10,00,000	10,00,000
LISTED	1 HOZEFA SAIFUDDIN MIYASAHEB	1	INE601U08143	10,00,000	10,00,000
LISTED	1 N SELVARAJ	1	INE601U08143	10,00,000	10,00,000
LISTED	1 RAJARAM N VADAPANDESHWARA	1	INE601U08143	10,00,000	10,00,000
LISTED	1 MANOJ RENUKADAS VYAWAHARE	1	INE601U08143	10,00,000	10,00,000
LISTED	1 TEJAL JAY CHOKSI	1	INE601U08143	10,00,000	10,00,000
LISTED	1 VIKRAM SUD	1	INE601U08143	10,00,000	10,00,000
LISTED	1 KAPIL KUMAR MEHAN	10	INE601U08143	10,00,000	1,00,00,000
LISTED	1 NAFISA SAIFUDDIN MIYASAHEB	1	INE601U08143	10,00,000	10,00,000
LISTED	1 APURVA BHARAT SHAH		INE601U08143	10,00,000	10,00,000
LISTED	1 ALOO NOEL TATA		INE601U08143	10,00,000	2,00,00,000
LISTED	1 NOEL NAVAL TATA		INE601U08143	10,00,000	5,00,00,000
LISTED	1 PRADIP DIGAMBARDAS GUJRATHI		INE601U08143	10,00,000	10,00,000
LISTED	1 KUMARAPURAM PADMANABHAN		INE601U08143	10,00,000	10,00,000
	BALASUBRAMANIAN				,,,,,,
LISTED	1 RIDDHI MANAN SHAH	1	INE601U08143	10,00,000	10,00,000
LISTED	1 SUJATHAMEENAKSHISUNDARAM	1	INE601U08143	10,00,000	10,00,000
LISTED	1 RAHUL VINOD GADIA	3	INE601U08143	10,00,000	30,00,000
LISTED	1 MANJU VINOD GADIA	2	INE601U08143	10,00,000	20,00,000
LISTED	1 B JYOTHI PAI	1	INE601U08143	10,00,000	10,00,000
LISTED	1 ROHINTON ENGINEER	1	INE601U08143	10,00,000	10,00,000
LISTED	1 ASHA RAO	2	INE601U08143	10,00,000	20,00,000
LISTED	1 MALA B	1	INE601U08143	10,00,000	10,00,000
LISTED	1 NEELIMA UDAY KARANJKAR		INE601U08143	10,00,000	10,00,000
LISTED	1 ASHUTOSH BOSE		INE601U08143	10,00,000	40,00,000
LISTED	1 RAJIB BHATTACHARJEE	1	INE601U08143	10,00,000	10,00,000
LISTED	1 KIRAN GANDHI	4	INE601U08143	10,00,000	40,00,000
LISTED	1 LATA JAIN		INE601U08143	10,00,000	30,00,000
LISTED	1 ASHOK KUMAR JAIN	1	INE601U08143	10,00,000	10,00,000
LISTED	1 RAJASEKARAN T	1	INE601U08143	10,00,000	10,00,000
LISTED	1 CHHAYA RAJESH SHAH	1	INE601U08143	10,00,000	10,00,000
LISTED	1 ANAND SARAF	1	INE601U08143	10,00,000	10,00,000
		1	INE601U08143		
LISTED LISTED	1 AVINASH ACHYUT DEODHAR 1 NITIN LALITKUMAR DHOLAKIA	1	INE601U08143	10,00,000	10,00,000
				10,00,000	30,00,000
LISTED	1 SANDHYA R SUBRAMANIAN		INE601U08143	10,00,000	30,00,000
LISTED	1 N.VISWESWARA RAO		INE601U08143	10,00,000	10,00,000
LISTED	1 UDAYAKUMAR SAMUEL		INE601U08143	10,00,000	10,00,000
LISTED	1 KAMAL KISHORE CHADDA		INE601U08143	10,00,000	30,00,000
LISTED	1 KUSUM CHADDA	3		10,00,000	30,00,000
LISTED	1 R SARASWATHI	1	INE601U08143	10,00,000	10,00,000
LISTED	1 MALATHY MURALIDHARAN		INE601U08143	10,00,000	10,00,000
LISTED	1 UMA	2	INE601U08143	10,00,000	20,00,000

LISTED LISTED	1 INDUMATHI MADHAVAN		10,00,000	10,00,000
	1 POORNI.R	1 INE601U08143 2 INE601U08143	10,00,000	20,00,000
LISTED	1 M R GAYATHRI	1 INE601U08143	10,00,000	10,00,000
LISTED	1 PREETHI ROOPA	1 INE601U08143	10,00,000	10,00,000
LISTED	1 K REVATHI	1 INE601U08143	10,00,000	10,00,000
LISTED	1 NALLIKOVIL MARAPPAN SIVAKUMAR	3 INE601U08143	10,00,000	30,00,000
LISTED	1 SOWMIYA N	1 INE601U08143	10,00,000	10,00,000
LISTED	1 THILLAI CHIDAMBARA VADIVOO A	1 INE601U08143	10,00,000	10,00,000
LISTED	1 R RADHIKA	1 INE601U08143	10,00,000	10,00,000
LISTED	1 PRIYADARISINI	1 INE601U08143	10,00,000	10,00,000
LISTED	1 S SUBHASHREE	1 INE601U08143	10,00,000	10,00,000
LISTED	1 GOMATHI A	1 INE601U08143	10,00,000	10,00,000
LISTED	1 A AMBIKA	1 INE601U08143	10,00,000	10,00,000
LISTED	1 APARNA MUKHERJI	1 INE601U08143	10,00,000	10,00,000
LISTED	1 SELLAMMAL N	1 INE601U08143	10,00,000	10,00,000
LISTED	1 RADHAKRISHNAN	1 INE601U08143	10,00,000	10,00,000
LISTED	1 YOGALAKSHMI	1 INE601U08143	10,00,000	10,00,000
LISTED	1 VIJAYARAGAVAN K	1 INE601U08143	10,00,000	10,00,000
LISTED	1 RANI J	4 INE601U08143	10,00,000	40,00,000
LISTED	1 J JEYARANJAN	4 INE601U08143	10,00,000	40,00,000
LISTED	1 RADHA SEETHARAMAN	2 INE601U08143	10,00,000	20,00,000
LISTED	1 R THINAKARAN	1 INE601U08143	10,00,000	10,00,000
LISTED	1 KAUSALYA	1 INE601U08143	10,00,000	10,00,000
LISTED	1 SUDHIR RAO 1 BEGUM ZEBIN MAMATAZ	8 INE601U08143	10,00,000	80,00,000
LISTED	1 SARAVANAN MANI	1 INE601U08143	10,00,000	10,00,000
LISTED LISTED	1 PALANIAPPAN RAMASAMY	1 INE601U08143 1 INE601U08143	10,00,000	10,00,000
LISTED	1 VANMATHI M	1 INE601U08143	10,00,000	10,00,000
LISTED	1 P RAJESWARI	1 INE601U08143	10,00,000	10,00,000
LISTED	1 R SNEHA LATHA	1 INE601U08143	10,00,000	10,00,000
LISTED	1 R PATHALA ESHWARI	2 INE601U08143	10,00,000	20,00,000
LISTED	1 RAMESH KUMAR D	1 INE601U08143	10,00,000	10,00,000
LISTED	1 GOMATHI SELVI S	1 INE601U08143	10,00,000	10,00,000
LISTED	1 SUBASHINI BASKARAN	1 INE601U08143	10,00,000	10,00,000
LISTED	1 SELVI R	1 INE601U08143	10,00,000	10,00,000
LISTED	1 SABARI SARAVANAN M	1 INE601U08143	10,00,000	10,00,000
LISTED	1 KALYANI	3 INE601U08143	10,00,000	30,00,000
LISTED	1 REVATHY	1 INE601U08143	10,00,000	10,00,000
LISTED	1 INDHUMATHI PALANISAMY	1 INE601U08143	10,00,000	10,00,000
LISTED	1 RAVINDRAN SURAIYA	2 INE601U08143	10,00,000	20,00,000
LISTED	1 RAMASAMY GEETHA KARTHIKEYANI	1 INE601U08143	10,00,000	10,00,000
LISTED	1 MUTHUKRISHNAN SEENIVASAN	2 INE601U08143	10,00,000	20,00,000
LISTED	1 M SUDHALAKSHMI	1 INE601U08143	10,00,000	10,00,000
LISTED	1 ANUSHA GEORGE G	1 INE601U08143	10,00,000	10,00,000
LISTED	1 BHUVANA SUNDARI	1 INE601U08143	10,00,000	10,00,000
LISTED	1 T.NALINI	3 INE601U08143	10,00,000	30,00,000
LISTED	1 G PANCRAS	1 INE601U08143	10,00,000	10,00,000
LISTED	1 RAMASWAMY SATYAMURTHI	1 INE601U08143	10,00,000	10,00,000
LISTED	1 FELIX CLARA DIJO	1 INE601U08143	10,00,000	10,00,000
LISTED	1 SHEIKABDUL KADHER AYSHA BANU	1 INE601U08143	10,00,000	10,00,000
LISTED	1 VIDYA CLARA	1 INE601U08143	10,00,000	10,00,000
LISTED	1 RAJESHKUMAR KAVITHA	2 INE601U08143	10,00,000	20,00,000
LISTED	1 JAYARAMAN NIVETHA	2 INE601U08143	10,00,000	20,00,000
LISTED	1 RADHIKA V	1 INE601U08143 2 INE601U08143	10,00,000	10,00,000
LISTED LISTED	1 SHOBHANA SARANKUMAR 1 S PRIYANKA	2 INE601U08143 2 INE601U08143	10,00,000	20,00,000
LISTED		1 INE601U08143		20,00,000
LISTED	1 NIRMALAS 1 SANGEETHA PRASAD	2 INE601U08143	10,00,000	10,00,000 20,00,000
LISTED	1 PRIYA	1 INE601U08143	10,00,000	10,00,000
LISTED	1 CHINNAPPAN SIVAKALA	1 INE601U08143	10,00,000	10,00,000
	1 ELSON KIRUBAHARAN	1 INE601U08143	10,00,000	10,00,000
LISTED				10.00.00

LISTED	1 KIRUBAHARAN JEBARAJ	1 INE601U08143	10,00,000	10,00,000
LISTED	1 GANESAN SHEEBA	1 INE601U08143	10,00,000	
LISTED		1 INE601U08143	10.00.000	10,00,000
	1 MUTHURAJ KALAIVANI		-,,	10,00,000
LISTED	1 D RAMYA	1 INE601U08143	10,00,000	10,00,000
LISTED	1 MEERA	1 INE601U08143	10,00,000	10,00,000
LISTED	1 SRIKANTH KRISHNAMURTHY	1 INE601U08143	10,00,000	10,00,000
LISTED	1 B BHARATHI REDDY	1 INE601U08143	10,00,000	10,00,000
LISTED	1 ABIRAMI	2 INE601U08143	10,00,000	20,00,000
LISTED	1 K THANGAM	1 INE601U08143	10,00,000	10,00,000
LISTED	1 KUMARESAN VIJAYA HEMALATHA	1 INE601U08143	10,00,000	10,00,000
LISTED	1 NALINI SURESH KUMAR	1 INE601U08143	10,00,000	10,00,000
LISTED	1 RAVISRINIVAASAN SAIKISHORE	1 INE601U08143	10,00,000	10,00,000
LISTED	1 R KANAGARAJ	1 INE601U08143	10,00,000	10,00,000
LISTED	1 JAYABHARATHI	1 INE601U08143	10,00,000	10,00,000
LISTED	1 VASHDEV G KUNDWANI	2 INE601U08143	10,00,000	20,00,000
LISTED	1 MEENA NILESH KARIA	2 INE601U08143	10,00,000	20,00,000
LISTED	1 SAURIN N SHAH	20 INE601U08143	10,00,000	2,00,00,000
LISTED	1 ISHWARI SAHIL CHHEDA	7 INE601U08143	10,00,000	70,00,000
LISTED	1 SURESH BALVANTRAI DESAI	1 INE601U08143	10,00,000	10,00,000
LISTED	1 PANKAJ VADILAL SAFI	1 INE601U08143	10,00,000	10,00,000
LISTED	1 TATA SIMONE NAVAL	50 INE601U08143	10,00,000	5,00,00,000
LISTED	1 M A NARAYANA SWAMY	3 INE601U08143	10,00,000	30,00,000
		3 INE601U08143	, ,	
LISTED	1 LATHA SWAMY		10,00,000	30,00,000
LISTED	1 NAMRATA B TALREJA	1 INE601U08143	10,00,000	10,00,000
LISTED	1 AJAY S NICHANI	1 INE601U08143	10,00,000	10,00,000
LISTED	1 SHEKAR GANAPATHY	2 INE601U08143	10,00,000	20,00,000
LISTED	1 K R G SHARAD	2 INE601U08143	10,00,000	20,00,000
LISTED	1 SIDDHARTH NARAYAN SHAH	1 INE601U08143	10,00,000	10,00,000
LISTED	1 ANILBHAI RAMANLAL SHAH	1 INE601U08143	10,00,000	10,00,000
LISTED	1 SANJEEV GANESH	1 INE601U08143	10,00,000	10,00,000
LISTED	1 MEHERNOSH KERSI KHAMBATTA	1 INE601U08143	10,00,000	10,00,000
LISTED	1 SHOHINI MAJUMDER	1 INE601U08143	10,00,000	10,00,000
LISTED	1 DIPTI RAJESH SHAH	1 INE601U08143	10,00,000	10,00,000
LISTED	1 HASMUKHRAI MANSUKHLAL SHAH	1 INE601U08143	10,00,000	10,00,000
LISTED	1 BHAVNA KHANNA	2 INE601U08143	10,00,000	20,00,000
LISTED	1 MUTHULAKSHMI ACHI	3 INE601U08143	10,00,000	30,00,000
LISTED	1 JITENDRA S SANGHVI	1 INE601U08143	10,00,000	10,00,000
LISTED	1 RANJAN J SANGHVI	1 INE601U08143	10,00,000	10,00,000
LISTED	1 SUDHIN BHAGWANDAS CHOKSEY	2 INE601U08143	10,00,000	20,00,000
LISTED	1 MUKESH PARSRAM KHATIJA	2 INE601U08143	10,00,000	20,00,000
LISTED	1 RAWAL JANAK RATILAL	1 INE601U08143	10,00,000	10,00,000
LISTED	1 SHAH KIMTEE NEHAL	1 INE601U08143	10,00,000	10,00,000
LISTED	1 SANJAY RAMBHAJ GARG	1 INE601U08143	10,00,000	10,00,000
LISTED	1 GORDHAN KARAMCHAND BHAWNANI	1 INE601U08143	10,00,000	10,00,000
LISTED	I GORDIIAN KARAWCIIAND BIIAWNANI	1 INE001008143	10,00,000	10,00,000
LISTED	1 STUTI TRIVEDI	3 INE601U08143	10,00,000	20.00.000
		+ + + + + + + + + + + + + + + + + + + +	10,00,000	30,00,000
LISTED	1 ARMAITY ADI BHABHA	2 INE601U08143	- , ,	20,00,000
LISTED	1 RAKESH BRAHMDEV KAPOOR	1 INE601U08143	10,00,000	10,00,000
LISTED	1 GAYETRI GUPTA	1 INE601U08143	10,00,000	10,00,000
LISTED	1 RAVI VENKATARAMAN	1 INE601U08143	10,00,000	10,00,000
LISTED	1 RAJESH BALAKRISHNAN	1 INE601U08143	10,00,000	10,00,000
LISTED	1 HRITIKA CHIRAG SHAH	20 INE601U08143	10,00,000	2,00,00,000
LISTED	1 NISHANT JAISWAL	1 INE601U08143	10,00,000	10,00,000
LISTED	1 MICHELLE SHANEL CORDA	2 INE601U08143	10,00,000	20,00,000
LISTED	1 AARTI KAMLESH MEHTA	1 INE601U08143	10,00,000	10,00,000
LISTED	1 SHRIKANT NARAYAN JOSHI	1 INE601U08143	10,00,000	10,00,000
LISTED	1 DEEPAK U CHHABRIA	1 INE601U08143	10,00,000	10,00,000
LISTED	1 VARGHESE MATHEW	1 INE601U08143	10,00,000	10,00,000
LISTED	1 MEENA S SARDA	1 INE601U08143	10,00,000	10,00,000
LISTED	1 NIKITA SIDDHARTH MEHTA	1 INE601U08143	10,00,000	10,00,000
LISTED	1 SEJAL SAMIR AJMERA	2 INE601U08143	10,00,000	20,00,000
LISTED	1 RAJAGOPAL NARAYAN	2 INE601U08143	10,00,000	20,00,000
LISTED	1 JITENDRA H MEHTA	1 INE601U08143	10,00,000	10,00,000

	. Lawrence a new control of the cont		10.00.000	
LISTED	1 CHANDRASEKARAN	1 INE601U08143	10,00,000	10,00,000
LISTED	1 SUJATHA CHANDRASEKARAN	1 INE601U08143	10,00,000	10,00,000
LISTED	1 PARUL CHETAN SHAH	1 INE601U08143	10,00,000	10,00,000
LISTED	1 MAHALAKSHMI V	1 INE601U08143	10,00,000	10,00,000
LISTED	1 ILAMURUGAN ARASU	1 INE601U08143	10,00,000	10,00,000
LISTED	1 SAMEER SUDHIR MEHTA	1 INE601U08143	10,00,000	10,00,000
LISTED	1 SHEFALI SUDHIR MEHTA	1 INE601U08143	10,00,000	10,00,000
LISTED	1 JAMUNA RAMAKRISHNA	2 INE601U08143	10,00,000	20,00,000
LISTED	1 RAMAKRISHNA NARENDRA	2 INE601U08143	10,00,000	20,00,000
LISTED	1 RIDDHI RAJESH MAKAM	2 INE601U08143	10,00,000	20,00,000
LISTED	1 ARUN SHOURIE	3 INE601U08143	10,00,000	30,00,000
LISTED	1 ANUSUYA K	1 INE601U08143	10,00,000	10,00,000
LISTED	1 ARTI RANI KHANDELWAL	2 INE601U08143	10,00,000	20,00,000
LISTED	1 VISHNU KUMAR GOYAL	1 INE601U08143	10,00,000	10,00,000
LISTED	1 THIRUMAL ARUNKUMAR	2 INE601U08143	10,00,000	20,00,000
LISTED	1 SANDIP VINODKUMAR PATEL	1 INE601U08143	10,00,000	10,00,000
LISTED	1 MADHAVI HIMANSHU SHAH	1 INE601U08143	10,00,000	10,00,000
LISTED	1 VIBHUTI PRAFULCHANDRA NANAVATY	1 INE601U08143	10,00,000	10,00,000
LISTED	1 VIBITOTITICAL OLCHANDRA NANAVATT	1 INE001008143	10,00,000	10,00,000
LISTED	1 LAKSHMI S	1 INE601U08143	10,00,000	10,00,000
LISTED	1 BENNY JOSE	1 INE601U08143	10,00,000	10,00,000
LISTED	1 KALPANA P	1 INE601U08143	10,00,000	10,00,000
	1 ASHIT MOHAN LUTHRA	3 INE601U08143		/ /
LISTED			10,00,000	30,00,000
LISTED	1 M PREMKUMAR	3 INE601U08143	10,00,000	30,00,000
LISTED	1 Minal Madan Achwal	1 INE601U08143	10,00,000	10,00,000
LISTED	1 Madan Ganpati Achwal	1 INE601U08143	10,00,000	10,00,000
LISTED	1 NIKHIL GUPTA	1 INE601U08143	10,00,000	10,00,000
LISTED	1 A SANKARA NARAYANAN	14 INE601U08143	10,00,000	1,40,00,000
LISTED	1 NANDKUMAR MADHAV ATHAWALE	1 INE601U08143	10,00,000	10,00,000
LISTED	1 SMITA NANDKUMAR ATHAWALE	1 INE601U08143	10,00,000	10,00,000
LISTED	1 RAMNATH SUNDARESAN	1 INE601U08143	10,00,000	10,00,000
LISTED	1 NEELAKANTIAH R CHAKRAGIRI	1 INE601U08143	10,00,000	10,00,000
LISTED	1 RAJU SANGAL	1 INE601U08143	10,00,000	10,00,000
LISTED	1 NEENA SANGAL	1 INE601U08143	10,00,000	10,00,000
LISTED	1 KANCHAN SUNIL ADVANI	1 INE601U08143	10,00,000	10,00,000
LISTED	1 Sunil Bhalchandra Londhe	1 INE601U08143	10,00,000	10,00,000
LISTED	1 RAKESH MANDANGOPAL BEDI	2 INE601U08143	10,00,000	20,00,000
LISTED	1 MEENAKSHI KUMAR	3 INE601U08143	10,00,000	30,00,000
LISTED	1 PUNEET JETLI	3 INE601U08143	10,00,000	30,00,000
LISTED	1 VINOD KUMAR RUNGTA	1 INE601U08143	10,00,000	10,00,000
LISTED	1 PREETI BALACHANDRAN	1 INE601U08143	10,00,000	10,00,000
LISTED	1 VENUGOPAL A N	2 INE601U08143	10,00,000	20,00,000
LISTED	1 H K AGARWAL	1 INE601U08143	10,00,000	10,00,000
LISTED	1 UMA MANALURPET KRISHNAMURTHY	1 INE601U08143	10,00,000	10,00,000
		11.20010001.5	10,00,000	20,00,000
LISTED	1 TAPAN DATTA	1 INE601U08143	10,00,000	10,00,000
LISTED	1 JAYATI BHATTACHARYA	1 INE601U08143	10,00,000	10,00,000
LISTED	1 DILIP BHAGWANDAS MANGLANI	1 INE601U08143	10.00.000	10,00,000
LISTED	1 SEEMA GARG	1 INE601U08143	10.00.000	10,00,000
LISTED	1 MEGHNA AMIT DUTTA	1 INE601U08143	10,00,000	10,00,000
LISTED	1 ARUN RAJASEKARAN RATHNAKUMAR	3 INE601U08143	10,00,000	30,00,000
LISTED	I AKUN KAJASEKAKAN KATHIYAKUWAK	3 INE001008143	10,00,000	30,00,000
LICTED	1 MINOO VARCHESE	1 INIE 2011 1001 42	10.00.000	10.00.000
LISTED	1 MINOO VARGHESE	1 INE601U08143	10,00,000	10,00,000
LISTED	1 SANTOSRI DASGUPTA	1 INE601U08143	10,00,000	10,00,000
LISTED	1 KANUPRIYA SABHARWAL	1 INE601U08143	10,00,000	10,00,000
LISTED	1 VISHAL MOTI DADLANI	5 INE601U08143	10,00,000	50,00,000
LISTED	1 POORNA CHANDRA	3 INE601U08143	10,00,000	30,00,000
LISTED	1 ANSHU KAUL	1 INE601U08143	10,00,000	10,00,000
LISTED	1 SHIRLEY MANNING	1 INE601U08143	10,00,000	10,00,000
LISTED	1 G KRISHNA MOORTHY	1 INE601U08143	10,00,000	10,00,000
LISTED	1 KETKIBEN HEMANTBHAI SHAH	1 INE601U08143	10,00,000	10,00,000
LISTED	1 MAYUR MADHUKAR SHAH	1 INE601U08143	10,00,000	10,00,000
LISTED	1 RENU SOMANI	1 INE601U08143	10,00,000	10,00,000

ITA SOMANI SHA PRAGJI NALIAPARA UTE SAVIO CORDA EL RAMABHAI REMA H SAURIN SHAH HHARTH DILIP MEHTA ENKATARAMAN SANTA KUMAR MITRA VANATH CHATTOPADHAYA ANTI ZUMAKHLAL PATWA SUBRAMANIAN J OGINDARSINGH THAPAR ESH KINI U VA PAI IYA SUNDARESAN ITA SHARMA N KUMAR VORA RMISHTHA S DONGRE ESH GOMU JL RAJNIKANT SHAH DANA S GOKHALE NDAN MOHINTA RSHID THRETUN PATEL SHNUMA OM KISHNANI INI HEMANGBHAI PATEL PLE KETAN SHAH A SAURABH TURAKHIA NUKUMAR HARJIWANBHAI HWANI IITH DAYAL NA H. PARIKH ITA PATHIK SHAH	1 2 2 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	INE601U08143	10,00,000 10,00,000	10,00,000 10,00,000
UTE SAVIO CORDA EL RAMABHAI EL RAMAR MITRA EL RAMATH CHATTOPADHAYA ANTI ZUMAKHLAL PATWA SUBRAMANIAN EL JOGINDARSINGH THAPAR EL SH KINI U ETA PAI EL RAMA EL RA	2 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	INE601U08143	10,00,000 10,00,000	20,00,000 10,000,000 10,00,000
EL RAMABHAI REMA H SAURIN SHAH H SANTA KUMAR MITRA WANATH CHATTOPADHAYA ANTI ZUMAKHLAL PATWA SUBRAMANIAN U JOGINDARSINGH THAPAR RESH KINI U WA PAI HYA SUNDARESAN HTA SHARMA N KUMAR VORA RMISHTHA S DONGRE ESH GOMU JL RAJNIKANT SHAH DANA S GOKHALE NDAN MOHINTA RSHID THRETUN PATEL SHNUMA OM KISHNANI ANT BHAGCHANDANI INI HEMANGBHAI PATEL PLE KETAN SHAH A SAURABH TURAKHIA NUKUMAR HARJIWANBHAI HWANI HITH DAYAL NA H. PARIKH	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	INE601U08143	10,00,000 10,00,000	10,00,000 10,00,000
REMA H SAURIN SHAH H SANTA KUMAR MITRA WANATH CHATTOPADHAYA ANTI ZUMAKHLAL PATWA SUBRAMANIAN U JOGINDARSINGH THAPAR RESH KINI U WA PAI HYA SUNDARESAN HTA SHARMA N KUMAR VORA RMISHTHA S DONGRE ESH GOMU JL RAJNIKANT SHAH DANA S GOKHALE NDAN MOHINTA RSHID THRETUN PATEL SHNUMA OM KISHNANI ANT BHAGCHANDANI INI HEMANGBHAI PATEL PLE KETAN SHAH A SAURABH TURAKHIA NUKUMAR HARJIWANBHAI HWANI HITH DAYAL NA H. PARIKH	1 6 6 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	INE601U08143	10,00,000 10,00,000	10,00,000 60,00,000 10,00,000
H SAURIN SHAH DHARTH DILIP MEHTA SINKATARAMAN SANTA KUMAR MITRA VANATH CHATTOPADHAYA ANTI ZUMAKHLAL PATWA SUBRAMANIAN U JOGINDARSINGH THAPAR SESH KINI U VA PAI SIYA SUNDARESAN STA SHARMA N KUMAR VORA RMISHTHA S DONGRE ESH GOMU JL RAJNIKANT SHAH DANA S GOKHALE NDAN MOHINTA RSHID THRETUN PATEL SHNUMA OM KISHNANI ANT BHAGCHANDANI INI HEMANGBHAI PATEL PLE KETAN SHAH A SAURABH TURAKHIA NUKUMAR HARJIWANBHAI HWANI IITH DAYAL NA H. PARIKH	66 11 11 12 11 10 11 11 11 11 11 11 11 11 11 11 11	INE601U08143	10,00,000 10,00,000	60,00,000 10,00,000
HARTH DILIP MEHTA ENKATARAMAN SANTA KUMAR MITRA VANATH CHATTOPADHAYA ANTI ZUMAKHLAL PATWA SUBRAMANIAN U JOGINDARSINGH THAPAR EESH KINI U VA PAI IYA SUNDARESAN ITA SHARMA N KUMAR VORA RMISHTHA S DONGRE ESH GOMU JL RAJNIKANT SHAH DANA S GOKHALE NDAN MOHINTA RSHID THRETUN PATEL SHNUMA OM KISHNANI ANT BHAGCHANDANI INI HEMANGBHAI PATEL PLE KETAN SHAH A SAURABH TURAKHIA NUKUMAR HARJIWANBHAI HWANI IITH DAYAL NA H. PARIKH	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	INE601U08143	10,00,000 10,00,000	10,00,000 10,00,000
ENKATARAMAN SANTA KUMAR MITRA VANATH CHATTOPADHAYA ANTI ZUMAKHLAL PATWA SUBRAMANIAN U JOGINDARSINGH THAPAR EESH KINI U VA PAI IYA SUNDARESAN ITA SHARMA N KUMAR VORA RMISHTHA S DONGRE ESH GOMU JL RAJNIKANT SHAH DANA S GOKHALE NDAN MOHINTA RSHID THRETUN PATEL SHNUMA OM KISHNANI ANT BHAGCHANDANI INI HEMANGBHAI PATEL PLE KETAN SHAH A SAURABH TURAKHIA NUKUMAR HARJIWANBHAI HWANI IITH DAYAL NA H. PARIKH	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	INE601U08143	10,00,000 10,00,000	10,00,000 10,00,000
SANTA KUMAR MITRA VANATH CHATTOPADHAYA ANTI ZUMAKHLAL PATWA SUBRAMANIAN U JOGINDARSINGH THAPAR ESH KINI U VA PAI IYA SUNDARESAN ITA SHARMA N KUMAR VORA RMISHTHA S DONGRE ESH GOMU JL RAJNIKANT SHAH DANA S GOKHALE NDAN MOHINTA RSHID THRETUN PATEL SHNUMA OM KISHNANI ANT BHAGCHANDANI INI HEMANGBHAI PATEL PLE KETAN SHAH A SAURABH TURAKHIA NUKUMAR HARJIWANBHAI HWANI IITH DAYAL NA H. PARIKH	1 2 2 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	INE601U08143	10,00,000 10,00,000	10,00,000 20,000,000 10,000,000 10,000,000 10,000,00
VANATH CHATTOPADHAYA ANTI ZUMAKHLAL PATWA SUBRAMANIAN J JOGINDARSINGH THAPAR ESH KINI U (A PAI IYA SUNDARESAN ITA SHARMA N KUMAR VORA RMISHTHA S DONGRE ESH GOMU JL RAJNIKANT SHAH DANA S GOKHALE NDAN MOHINTA RSHID THRETUN PATEL SHNUMA OM KISHNANI ANT BHAGCHANDANI INI HEMANGBHAI PATEL PLE KETAN SHAH A SAURABH TURAKHIA NUKUMAR HARJIWANBHAI HWANI IITH DAYAL NA H. PARIKH	2 1 10 1 1 1 1 1 1 1 1 1 1 1 2 3 3 5 5 1 1 1 1 1 1 1 1 1 1 1 1 1	INE601U08143	10,00,000 10,00,000	20,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 20,00,000 50,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000
VANATH CHATTOPADHAYA ANTI ZUMAKHLAL PATWA SUBRAMANIAN J JOGINDARSINGH THAPAR ESH KINI U (A PAI IYA SUNDARESAN ITA SHARMA N KUMAR VORA RMISHTHA S DONGRE ESH GOMU JL RAJNIKANT SHAH DANA S GOKHALE NDAN MOHINTA RSHID THRETUN PATEL SHNUMA OM KISHNANI ANT BHAGCHANDANI INI HEMANGBHAI PATEL PLE KETAN SHAH A SAURABH TURAKHIA NUKUMAR HARJIWANBHAI HWANI IITH DAYAL NA H. PARIKH	2 1 10 1 1 1 1 1 1 1 1 1 1 1 2 3 3 5 5 1 1 1 1 1 1 1 1 1 1 1 1 1	INE601U08143	10,00,000 10,00,000	20,00,000 10,000,000 10,000,000 10,000,00
ANTI ZUMAKHLAL PATWA SUBRAMANIAN I JOGINDARSINGH THAPAR IESH KINI U (A PAI IYA SUNDARESAN ITA SHARMA N KUMAR VORA RMISHTHA S DONGRE ESH GOMU JL RAJNIKANT SHAH DANA S GOKHALE NDAN MOHINTA RSHID THRETUN PATEL SHNUMA OM KISHNANI ANT BHAGCHANDANI INI HEMANGBHAI PATEL PLE KETAN SHAH A SAURABH TURAKHIA NUKUMAR HARJIWANBHAI HWANI IITH DAYAL NA H. PARIKH	1 10 1 1 1 10 1 1 1 1 1 1 2 2 3 3 5 5 5 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	INE601U08143	10,00,000 10,00,000	10,00,000 1,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 20,00,000 50,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000
SUBRAMANIAN J JOGINDARSINGH THAPAR JUSH KINI U JA PAI JYA SUNDARESAN JA SHARMA N KUMAR VORA RMISHTHA S DONGRE ESH GOMU JI RAJNIKANT SHAH DANA S GOKHALE NDAN MOHINTA RSHID THRETUN PATEL SHNUMA OM KISHNANI ANT BHAGCHANDANI INI HEMANGBHAI PATEL PLE KETAN SHAH A SAURABH TURAKHIA NUKUMAR HARJIWANBHAI HWANI JITH DAYAL NA H. PARIKH	10 1 1 1 10 1 1 1 1 1 1 2 3 3 5 5 1 1 1 1 1 1 1 1 1 1 1 1 1	INE601U08143 INE601U08143	10,00,000 10,00,000	1,00,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 20,00,000 50,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000
I JOGINDARSINGH THAPAR LESH KINI U (A PAI IYA SUNDARESAN ITA SHARMA N KUMAR VORA RMISHTHA S DONGRE ESH GOMU JL RAJNIKANT SHAH DANA S GOKHALE NDAN MOHINTA RSHID THRETUN PATEL SHNUMA OM KISHNANI ANT BHAGCHANDANI INI HEMANGBHAI PATEL PLE KETAN SHAH A SAURABH TURAKHIA NUKUMAR HARJIWANBHAI HWANI IITH DAYAL NA H. PARIKH	1 1 1 10 1 1 1 1 1 1 2 3 3 5 5 5 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	INE601U08143 INE601U08143	10,00,000 10,00,000	10,00,000 10,000,000 10,000,000 10,000,00
ESH KINI U (A PAI IYA SUNDARESAN ITA SHARMA N KUMAR VORA RMISHTHA S DONGRE ESH GOMU JL RAJNIKANT SHAH DANA S GOKHALE NDAN MOHINTA RSHID THRETUN PATEL SHNUMA OM KISHNANI ANT BHAGCHANDANI INI HEMANGBHAI PATEL PLE KETAN SHAH A SAURABH TURAKHIA NUKUMAR HARJIWANBHAI HWANI IITH DAYAL NA H. PARIKH	1 10 10 11 11 11 12 2 33 55 55 11 11 11	INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143	10,00,000 10,00,000	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 20,00,000 50,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000
(A PAI IYA SUNDARESAN ITA SHARMA N KUMAR VORA RMISHTHA S DONGRE ESH GOMU JL RAJNIKANT SHAH DANA S GOKHALE NDAN MOHINTA RSHID THRETUN PATEL SHNUMA OM KISHNANI ANT BHAGCHANDANI INI HEMANGBHAI PATEL PLE KETAN SHAH A SAURABH TURAKHIA NUKUMAR HARJIWANBHAI HWANI IITH DAYAL NA H. PARIKH	1 10 10 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143	10,00,000 10,00,000	10,00,000 1,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 20,00,000 50,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000
IYA SUNDARESAN ITA SHARMA N KUMAR VORA RMISHTHA S DONGRE ESH GOMU JL RAJNIKANT SHAH DANA S GOKHALE NDAN MOHINTA RSHID THRETUN PATEL SHNUMA OM KISHNANI ANT BHAGCHANDANI INI HEMANGBHAI PATEL PLE KETAN SHAH A SAURABH TURAKHIA NUKUMAR HARJIWANBHAI HWANI IITH DAYAL NA H. PARIKH	10 1 1 1 1 1 1 2 3 5 5 1 1 1 1 1 1 1 1 1 1 1 1 1	INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	1,00,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 20,00,000 30,00,000 50,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000
ITA SHARMA N KUMAR VORA RMISHTHA S DONGRE ESH GOMU JL RAJNIKANT SHAH DANA S GOKHALE NDAN MOHINTA RSHID THRETUN PATEL SHNUMA OM KISHNANI ANT BHAGCHANDANI INI HEMANGBHAI PATEL PLE KETAN SHAH A SAURABH TURAKHIA NUKUMAR HARJIWANBHAI HWANI IITH DAYAL NA H. PARIKH	1 1 1 1 1 2 3 3 5 5 5 1 1 1 1 1	INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 20,00,000 30,00,000 50,00,000 10,00,000 10,00,000 10,00,000 10,00,000
N KUMAR VORA RMISHTHA S DONGRE ESH GOMU JL RAJNIKANT SHAH DANA S GOKHALE NDAN MOHINTA RSHID THRETUN PATEL SHNUMA OM KISHNANI ANT BHAGCHANDANI INI HEMANGBHAI PATEL PLE KETAN SHAH A SAURABH TURAKHIA NUKUMAR HARJIWANBHAI HWANI IITH DAYAL NA H. PARIKH	1 1 1 1 2 3 3 5 5 5 1 1 1 1 1	INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	10,00,000 10,00,000 10,00,000 10,00,000 20,00,000 30,00,000 50,00,000 10,00,000 10,00,000 10,00,000 10,00,000
RMISHTHA S DONGRE ESH GOMU JL RAJNIKANT SHAH DANA S GOKHALE NDAN MOHINTA RSHID THRETUN PATEL SHNUMA OM KISHNANI ANT BHAGCHANDANI INI HEMANGBHAI PATEL PLE KETAN SHAH A SAURABH TURAKHIA NUKUMAR HARJIWANBHAI HWANI IITH DAYAL NA H. PARIKH	1 1 1 2 3 3 5 5 5 1 1 1 1 1	INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	10,00,000 10,00,000 10,00,000 20,00,000 30,00,000 50,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000
ESH GOMU JL RAJNIKANT SHAH DANA S GOKHALE NDAN MOHINTA RSHID THRETUN PATEL SHNUMA OM KISHNANI ANT BHAGCHANDANI INI HEMANGBHAI PATEL PLE KETAN SHAH A SAURABH TURAKHIA NUKUMAR HARJIWANBHAI HWANI IITH DAYAL NA H. PARIKH	1 1 2 3 5 5 5 1 1 1 1 1	INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	10,00,000 10,00,000 20,00,000 30,00,000 50,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000
JL RAJNIKANT SHAH DANA S GOKHALE NDAN MOHINTA RSHID THRETUN PATEL SHNUMA OM KISHNANI ANT BHAGCHANDANI INI HEMANGBHAI PATEL PLE KETAN SHAH A SAURABH TURAKHIA NUKUMAR HARJIWANBHAI HWANI IITH DAYAL NA H. PARIKH	1 2 3 5 5 5 1 1 1 1 1	INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	10,00,000 20,00,000 30,00,000 50,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000
DANA S GOKHALE NDAN MOHINTA RSHID THRETUN PATEL SHNUMA OM KISHNANI ANT BHAGCHANDANI INI HEMANGBHAI PATEL PLE KETAN SHAH A SAURABH TURAKHIA NUKUMAR HARJIWANBHAI HWANI IITH DAYAL NA H. PARIKH	2 3 5 5 1 1 1 1 1	INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	20,00,000 30,00,000 50,00,000 50,00,000 10,00,000 10,00,000 10,00,000 10,00,000
NDAN MOHINTA RSHID THRETUN PATEL SHNUMA OM KISHNANI ANT BHAGCHANDANI INI HEMANGBHAI PATEL PLE KETAN SHAH A SAURABH TURAKHIA NUKUMAR HARJIWANBHAI HWANI IITH DAYAL NA H. PARIKH	3 5 5 1 1 1 1 1	INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	30,00,000 50,00,000 50,00,000 10,00,000 10,00,000 10,00,000 10,00,000
RSHID THRETUN PATEL SHNUMA OM KISHNANI ANT BHAGCHANDANI INI HEMANGBHAI PATEL PLE KETAN SHAH A SAURABH TURAKHIA NUKUMAR HARJIWANBHAI HWANI IITH DAYAL NA H. PARIKH	5 5 1 1 1 1 1 1	INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	50,00,000 50,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000
SHNUMA OM KISHNANI ANT BHAGCHANDANI INI HEMANGBHAI PATEL PLE KETAN SHAH A SAURABH TURAKHIA NUKUMAR HARJIWANBHAI HWANI IITH DAYAL NA H. PARIKH	5 1 1 1 1 1 1	INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	50,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000
ANT BHAGCHANDANI INI HEMANGBHAI PATEL PLE KETAN SHAH A SAURABH TURAKHIA NUKUMAR HARJIWANBHAI HWANI IITH DAYAL NA H. PARIKH	1 1 1 1 1 1	INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000
INI HEMANGBHAI PATEL PLE KETAN SHAH A SAURABH TURAKHIA NUKUMAR HARJIWANBHAI HWANI IITH DAYAL NA H. PARIKH	1 1 1 1	INE601U08143 INE601U08143 INE601U08143 INE601U08143 INE601U08143	10,00,000 10,00,000 10,00,000 10,00,000	10,00,000 10,00,000 10,00,000 10,00,000
PLE KETAN SHAH A SAURABH TURAKHIA NUKUMAR HARJIWANBHAI HWANI IITH DAYAL NA H. PARIKH	1 1 1	INE601U08143 INE601U08143 INE601U08143 INE601U08143	10,00,000 10,00,000 10,00,000	10,00,000 10,00,000 10,00,000
A SAURABH TURAKHIA NUKUMAR HARJIWANBHAI HWANI IITH DAYAL NA H. PARIKH	1 1	INE601U08143 INE601U08143 INE601U08143	10,00,000 10,00,000	10,00,000 10,00,000
NUKUMAR HARJIWANBHAI HWANI IITH DAYAL NA H. PARIKH	1	INE601U08143 INE601U08143	10,00,000	10,00,000
HWANI IITH DAYAL NA H. PARIKH	1	INE601U08143	, ,	
IITH DAYAL NA H. PARIKH	-		10,00,000	10.00.000
NA H. PARIKH	-		10,00,000	10.00.000
	1	INIE/011100142		10,00,000
TA PATHIK SHAH		INE001008143	10,00,000	10,00,000
	1	INE601U08143	10,00,000	10,00,000
ONI MAYUR SHAH		INE601U08143	10,00,000	10,00,000
ITI SHREYAS DANI	-	INE601U08143	10,00,000	10,00,000
				10,00,000
				10,00,000
	1	1112001000113	10,00,000	10,00,000
IIT I II ARAM MIRCHANDANI	10	INE6011108143	10.00.000	4,90,00,000
				30,00,000
				10,00,000
				· · · · · · · · · · · · · · · · · · ·
				10,00,000
			-,,	10,00,000
	-			10,00,000
				10,00,000
				10,00,000
				10,00,000
				10,00,000
				10,00,000
				10,00,000
SHBHAI H PATEL			10,00,000	10,00,000
M ANWAR SHAIKH			10,00,000	10,00,000
JDIN ASGARALI MALKAN	1	INE601U08143	10,00,000	10,00,000
DHA	1	INE601U08143	10,00,000	10,00,000
RNA KUMAR	1	INE601U08143	10,00,000	10,00,000
AL HEMANG VACHHARAJANI	1	INE601U08143	10,00,000	10,00,000
MINI KUMARAVELU	1	INE601U08143	10,00,000	10,00,000
ESHA BHAVIN CHANDARANA			10,00,000	10,00,000
L NIPUN SHAH .			10,00,000	20,00,000
			10,00,000	10,00,000
INDI SANDIPBHAI DESAI				10,00,000
				10,00,000
MURALIDHARAN	-			10,00,000
III U J J HII Y A A Y J J III II II II II D D	M ANWAR SHAIKH DIN ASGARALI MALKAN DHA NA KUMAR IL HEMANG VACHHARAJANI MINI KUMARAVELU SHA BHAVIN CHANDARANA L NIPUN SHAH LEE RAJU KAGALWALA NDI SANDIPBHAI DESAI	T LILARAM MIRCHANDANI IT LILARAM MIRCHANDANI IL HABIB HAMEED KHAN SETH IL KHANNA IL KHANNA IL MBHIMBHAI PATIL A DEEPAK CHANDNANI INKUMAR VADILAL SHAH IL AT SHANTILAL SHAH IL AT SHANTILAL SHAH IL AT SHANTILAL SHAH INTILAL RATILAL S	ALAKSHMI VENKATARAGHAVAN I INE601U08143 IT LILARAM MIRCHANDANI IL HABIB HAMEED KHAN SETH I INE601U08143 IKHANNA I INE601U08143 IKHANNA I INE601U08143 IKHANNA I INE601U08143 IME601U08143 IMEGO1U08143 IME601U08143 IME601U08144 IME601U08144 IME601U08144 IME601U08144 IMECONA IMECONA IMECONA IMECONA IMECO	ALAKSHMI VENKATARAGHAVAN I INE601U08143 10,00,000 IT LILARAM MIRCHANDANI IL HABIB HAMEED KHAN IL INE601U08143 IL 10,00,000 IL HABIB HAMEED KHAN IL INE601U08143 IL 10,00,000 IL KHANNA IL INE601U08143 IL 10,00,000 IL KHANNA IL INE601U08143 IL 10,00,000 IL INE601U08143 IL 10,00,000 IL INE601U08143 IL 10,00,000 IL INE601U08143 IL INE601U08143

LISTED	1 P PRADEEP KUMAR	1 INE601U08143	10,00,000	10,00,000
LISTED	1 MAMTA D PANDIT	1 INE601U08143	10,00,000	10,00,000
LISTED	1 VISWANATHAN .	1 INE601U08143	10,00,000	10,00,000
LISTED	1 K RANGANATHAN .	2 INE601U08143	10,00,000	20,00,000
LISTED	1 KAMAKSHI RAJARAM .	1 INE601U08143	10,00,000	10,00,000
LISTED	1 MUTHIAH CHIDAMBARAM .	2 INE601U08143	10,00,000	20,00,000
LISTED	1 DEEPA.	1 INE601U08143	10,00,000	10,00,000
LISTED	1 B KOTHANDARAMAN .	1 INE601U08143	10,00,000	10,00,000
LISTED	1 VIJAYA RAGHAVAN .	2 INE601U08143	10,00,000	20,00,000
LISTED	1 SIVARAM THAILYALBAGUM RAMALINGAM	1 INE601U08143	10,00,000	10,00,000
LISTED	1 THIRUMALAISAMY KARPAGAM .	1 INE601U08143	10,00,000	10,00,000
LISTED	1 P VARADARAJAN .	1 INE601U08143	10,00,000	10,00,000
LISTED	1 MADAN IRUDAYARAJ .	1 INE601U08143	10,00,000	10,00,000
LISTED	1 GANESAN LAKSHMI PRABHA .	2 INE601U08143	10,00,000	20,00,000
LISTED	1 AMBADASU RAMACHANDRA RAO .	1 INE601U08143	10,00,000	10,00,000
LISTED LISTED	1 HARIKRISHNAN . 1 REWGARAJ LAKSHMIPRIYA	1 INE601U08143 1 INE601U08143	10,00,000	10,00,000
LISTED	1 RATNAGIRI KRISHNAMURTHY	1 INE601U08143	10,00,000	10,00,000
LISTED	ANANDALAKSHMI	1 INE001008143	10,00,000	10,00,000
LISTED	1 PREMILA RAMARATHINAM	1 INE601U08143	10,00,000	10,00,000
LISTED	1 TEJASVI PANTANGI	1 INE601U08143	10,00,000	10,00,000
LISTED	1 SUSHIL BHATLA	4 INE601U08143	10,00,000	40,00,000
LISTED	1 CHITRA SOOD	2 INE601U08143	10,00,000	20,00,000
LISTED	1 MANISH KUMAR VERMA .	10 INE601U08143	10,00,000	1,00,00,000
LISTED	1 MAHESH KUMAR AGARWAL .	3 INE601U08143	10,00,000	30,00,000
LISTED	1 SANGEETA AGARWAL .	3 INE601U08143	10,00,000	30,00,000
LISTED	1 AKHIL AGARWAL .	3 INE601U08143	10,00,000	30,00,000
LISTED	1 ANIL MOHANLAL VAZIRANI	2 INE601U08143	10,00,000	20,00,000
LISTED	1 HETAL RAJESHKUMAR SONI	1 INE601U08143	10,00,000	10,00,000
LISTED	1 PARTH RAJESHBHAI SONI	1 INE601U08143	10,00,000	10,00,000
LISTED	1 NEETABEN BHARATKUMAR SONI	1 INE601U08143	10,00,000	10,00,000
LISTED	1 ANKURKUMAR NAVINBHAI SAILOR	1 INE601U08143	10,00,000	10,00,000
LISTED	1 MALINI RANGANATHAN .	1 INE601U08143	10,00,000	10,00,000
LISTED	1 RADHIKA SHAILESHKUMAR MEHTA	1 INE601U08143	10,00,000	10,00,000
LISTED	1 BHARAT RAICHAND GOSRANI	1 INE601U08143	10,00,000	10,00,000
LISTED	1 MEGHMALHAR SHRIPAD MOOLEY	1 INE601U08143	10,00,000	10,00,000
LISTED	1 DHANASHRI M MOOLEY	1 INE601U08143	10,00,000	10,00,000
LISTED	1 ABHA JAINENDRA PANT	1 INE601U08143	10,00,000	10,00,000
LISTED	1 LATA RAKESH PANT	1 INE601U08143	10,00,000	10,00,000
LISTED	1 JAINENDRA HARISH CHANDRA PANT	1 INE601U08143	10,00,000	10,00,000
LISTED LISTED	1 YUGESH NARAYAN POLISETTY 1 HARDIK PRAVINBHAI PARMAR	1 INE601U08143 1 INE601U08143	10,00,000	10,00,000
			10,00,000	10,00,000
LISTED LISTED	1 JYOTI NANDLAL MANGTANI 1 CHINA SATYANARAYANA MURTHY	1 INE601U08143 1 INE601U08143	10,00,000	10,00,000
LISTED	MADDULA	1 INE001008143	10,00,000	10,00,000
LISTED	1 ASHA JHA	1 INE601U08143	10,00,000	10,00,000
LISTED	1 KARTHIKEYAN SHENBAGAVALLI	1 INE601U08143	10,00,000	10,00,000
LISTED	1 DHARMESH PRANLAL SHAH	1 INE601U08143	10,00,000	10,00,000
LISTED	1 MADHURI GANGADHAR SHARMA	1 INE601U08143	10,00,000	10,00,000
LISTED	1 SAJAL DASGUPTA	1 INE601U08143	10,00,000	10,00,000
LISTED	1 VIRAF RUSTOM HAVEWALLA	1 INE601U08143	10,00,000	10,00,000
LISTED	1 SUBHASHCHANDRA MURARILAL AGARWAL	1 INE601U08143	10,00,000	10,00,000
LISTED	1 BELA BATHWAL	15 INE601U08143	10,00,000	1,50,00,000
LISTED	1 NANDAKUMAR NANDAKUMAR	1 INE601U08143	10,00,000	10,00,000
LISTED	1 GIRIJA SHANKAR AGARWAL	1 INE601U08143	10,00,000	10,00,000
LISTED	1 KINCHIT KARAM TRUST	8 INE601U08143	10,00,000	80,00,000
LISTED	1 TAMIL NADU CHEMICAL PRODUCTS LTD	1 INE601U08143	10,00,000	10,00,000
	EMPLOYEES PROVIDENT FUND			
LISTED	1 THE KOLHAPUR CANE SUGAR WORKS LTD EMPLOYEES PROVIDENT FUND	3 INE601U08143	10,00,000	30,00,000
LISTED	1 S P CAPITAL FINANCING LTD	2 INE601U08150	10,00,000	20,00,000
	•	•		

LISTED	1 AKHIL PROJECTS PRIVATE LIMITED	1 INE601U08150	10,00,000	10,00,000
LISTED	1 COPPER ROLLERS PVT LTD	1 INE601U08150	10,00,000	10,00,000
LISTED	1 LAUNCHPAD FINTECH PVT LTD	2 INE601U08150	10,00,000	20,00,000
LISTED	1 NARBHERAM FINANCE CO PRIVATE LIMITED	2 INE601U08150	10,00,000	20,00,000
LISTED	1 PRAGATI PAPER INDUSTRIES LIMITED	10 INE601U08150	10,00,000	1,00,00,000
LISTED	1 M/S ACK CAPITAL MANAGEMENT PVT.LTD	1 INE601U08150	10,00,000	10,00,000
LISTED	1 CMD FINANCIAL SERVICES P. LTD.	1 INE601U08150	10,00,000	10,00,000
LISTED	1 DHIRANAND ENGINEERS PRIVATE LIMITED	1 INE601U08150	10,00,000	10,00,000
LISTED	1 PRACHETAS ADVISORY SERVICES PRIVATE LIMITED	5 INE601U08150	10,00,000	50,00,000
LISTED	1 SWASTIK TECHNOPACK PRIVATE LIMITED	2 INE601U08150	10,00,000	20,00,000
LISTED	1 SMC GLOBAL SECURITIES LIMITED	1 INE601U08150	10,00,000	10,00,000
LISTED	1 PEE EMPRO EXPORTS PVT.LTD	5 INE601U08150	10,00,000	50,00,000
LISTED	1 WERECO PRODUCTS PRIVATE LIMITED	3 INE601U08150	10,00,000	30,00,000
LISTED	1 UNITED OXYGEN COMPANY PRIVATE LIMITED	4 INE601U08150	10,00,000	40,00,000
LISTED	1 ZCON SOLUTIONS PRIVATE LIMITED	2 INE601U08150	10,00,000	20,00,000
LISTED	1 EVERLINK INVESTMENT ADVISORY PRIVATE LIMITED	5 INE601U08150	10,00,000	50,00,000
LISTED	1 EDELWEISS FINANCE AND INVESTMENTS LIMITED	1 INE601U08150	10,00,000	10,00,000
LISTED	1 AMBIENCE BUSINESS SERVICES PRIVATE LIMITED	5 INE601U08150	10,00,000	50,00,000
LISTED	1 RAGHURAM FINANCIAL SERVICES PRIVATE LIMITED	1 INE601U08150	10,00,000	10,00,000
LISTED	1 TRADEMAX SOLUTIONS PRIVATE LIMITED	1 INE601U08150	10,00,000	10,00,000
LISTED	1 AMOL FINANCIAL SERVICES PRIVATE LIMITED	5 INE601U08150	10,00,000	50,00,000
LISTED	1 SHAH DHIREN CHANDRAKANT	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SHARAD GATTANI HUF	1 INE601U08150	10,00,000	10,00,000
LISTED	1 HEMANT SUMATILAL KOTADIA HUF	1 INE601U08150	10,00,000	10,00,000
LISTED	1 ELANGOVAN HUF	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SUNIL K MALESHA HUF	1 INE601U08150	10,00,000	10,00,000
LISTED	1 PRAKASH SUMATILAL KOTADIA (HUF)	1 INE601U08150	10,00,000	10,00,000
LISTED	1 DIKE SHREEKANT HERAMB	3 INE601U08150	10,00,000	30,00,000
LISTED	1 PUSHPIN V SHAH	1 INE601U08150	10,00,000	10,00,000
LISTED	1 JITEN MAHENDRA PAREKH	1 INE601U08150	10,00,000	10,00,000
LISTED	1 ASHISH PATIL (HUF)	1 INE601U08150	10,00,000	10,00,000
LISTED	1 PRADEEP NARAYAN PANCHOLI (HUF)	5 INE601U08150	10,00,000	50,00,000
LISTED	1 ROOP KISHINCHAND KHEMANI HUF	1 INE601U08150	10,00,000	10,00,000
LISTED	1 VIJAY KUMAR NOPANY HUF	1 INE601U08150	10,00,000	10,00,000
LISTED	1 MUKESH M MODY HUF	2 INE601U08150	10,00,000	20,00,000
LISTED	1 ANUJ AMRISH NANAVATI HUF	1 INE601U08150	10,00,000	10,00,000
LISTED	1 AMIT BANSAL AND SONS HUF	1 INE601U08150	10,00,000	10,00,000
LISTED	1 VINOD BOGHABHAI SHAH	1 INE601U08150	10,00,000	10,00,000
LISTED	1 NAWRATAN MAL BENGANI & SONS HUF	2 INE601U08150	10,00,000	20,00,000
LISTED	1 THIRVINDER SINGH ANAND	2 INE601U08150	10,00,000	20,00,000
LIGILD	1 CHAIL LONDIE HHE	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SUNIL LONDHE HUF		†	
LISTED LISTED	1 ANUPAM MADAN PAREEK HUF	1 INE601U08150	10,00,000	10,00,000
LISTED LISTED LISTED	1 ANUPAM MADAN PAREEK HUF 1 JAIDEEP VERMA	1 INE601U08150 1 INE601U08150	10,00,000	10,00,000
LISTED LISTED	1 ANUPAM MADAN PAREEK HUF	1 INE601U08150		

LISTED	1 NITINBHAI VINODRAY VADODARIYA HUF .	1 INE601U08150	10,00,000	10,00,000
LISTED	1 KAMAL KISHORE MUNDADA (HUF)	1 INE601U08150	10.00.000	10,00,000
LISTED	1 LAXMIPRASAD SOBHASARIA .	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SANJAY GANESH GOKHALE HUF.	1 INE601U08150	10,00,000	10,00,000
LISTED	1 PRAMOD SHARAD JOGLEKAR HUF	1 INE601U08150	10,00,000	10,00,000
LISTED	1 RAJ KUMAR AGGARWAL (HUF) .	1 INE601U08150	10,00,000	10,00,000
LISTED	1 UMESH KHIMJI GALA (HUF) .	2 INE601U08150	10,00,000	20,00,000
LISTED	1 NARENDRA M SHAH (HUF) .	1 INE601U08150	10,00,000	10,00,000
LISTED	1 MANEKLAL DAMODARDAS PATEL HUF	1 INE601U08150	10.00.000	10,00,000
LISTED	I WANGERE DANNODARDAS TATLE HOT	11112001200130	10,00,000	10,00,000
LISTED	1 ASHVIN MANEKLAL PATEL HUF	2 INE601U08150	10,00,000	20,00,000
LISTED	1 JEETENDRA C SHAH HUF .	1 INE601U08150	10,00,000	10,00,000
LISTED	1 GOVIND NARAYAN HUF .	1 INE601U08150	10,00,000	10,00,000
LISTED	1 MANILAL HIRJI SHAH (HUF)	1 INE601U08150	10,00,000	10,00,000
LISTED	1 BIREN PREMJI SHAH (HUF)	1 INE601U08150	10,00,000	10,00,000
LISTED	1 DALIP DAGA & SONS (HUF) .	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SURESH JETHMAL THADANI (HUF)	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SOHESH PRAKASH SHAH HUF	1 INE601U08150	10,00,000	10,00,000
LISTED	1 PADMAKANT D SHAH	3 INE601U08150	10,00,000	30,00,000
LISTED	1 BHARAT NATHALAL VAGHANI (HUF)	1 INE601U08150	10,00,000	10,00,000
LISTED	1 CORNUCOPIA CONSUMER VENTURE	1 INE601U08150	10,00,000	10,00,000
LISTED	ADVISORY LLP	1 IINE001008130	10,00,000	10,00,000
LISTED	1 CHANDRAKANT SANJIVA SALIAN	4 INE601U08150	10,00,000	40,00,000
LISTED	1 VISHAL NAVNITBHAI MASTER	1 INE601U08150	10,00,000	10,00,000
LISTED	1 GOPALAKRISHNAN SESHADRI .	1 INE601U08150	10,00,000	10,00,000
LISTED	1 PRANAB GANGULI	5 INE601U08150	10,00,000	50,00,000
LISTED	1 RUPESH NAVANITLAL JHAVERI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 NEETA H. MEHTA	2 INE601U08150	10,00,000	20,00,000
LISTED	1 HARSHAD L. MEHTA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 YOGESH BADRINARAYAN RANDAD	1 INE601U08150	10,00,000	10,00,000
LISTED	1 Aparna U Kanitkar	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SHANKAR BHATIA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 PRAVINCHANDRA MAGANLAL MEHTA	4 INE601U08150	10,00,000	40,00,000
LISTED	1 DR PRABHA JAIRAJ	1 INE601U08150	10,00,000	10,00,000
LISTED	1 KULDEEP SINGH NANDA	12 INE601U08150	10,00,000	1,20,00,000
LISTED	1 SHAHNAZ SOLI POHOWALA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SURESH NARAINDAS VASWANI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 BHUPINDER SINGH AHUJA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 VINOD KUMAR ANAND	1 INE601U08150	10,00,000	10,00,000
LISTED	1 NARAYAN DAS DUJARI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 APPADURAI VENKATACHALAM	2 INE601U08150	10,00,000	20,00,000
LISTED	1 SRAWAN KUMAR BAGLA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 MUKTA DEVI BAGLA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 GOPALKRISHNA V PARADKAR	1 INE601U08150	10,00,000	10,00,000
LISTED	1 RATANKUMAR MOTILAL SANGHI	3 INE601U08150	10,00,000	30,00,000
LISTED	1 SUJATA GOPALKRISHNA PARADKAR	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SHRUTI ANUP SHAH	4 INE601U08150	10,00,000	40,00,000
LISTED	1 TANAZ LAKESH KAUL	2 INE601U08150	10,00,000	20,00,000
LISTED	1 RATHAN GOPAL	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SUMESH GOSWAMI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 DILIP MUKUNDRAI MUNI	2 INE601U08150	10,00,000	20,00,000
LISTED	1 ANURADHA GARG	1 INE601U08150	10,00,000	10,00,000
LISTED	1 GOPAL RAO ADDANKI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 Niru Jitendra Shah	1 INE601U08150	10,00,000	10,00,000
LISTED	1 RUPINDER KAUR	1 INE601U08150	10,00,000	10,00,000
LISTED	1 REKHA BHARAT MEHTA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 VIVEK UMMAT	1 INE601U08150	10,00,000	10,00,000
LISTED	1 KAMALA BALASUBRAMANIAN	1 INE601U08150	10,00,000	10,00,000
LISTED	1 PARIMAL KANTILAL HIRADHAR	2 INE601U08150	10,00,000	20,00,000
LISTED	1 ANJALI WANI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 MEENA SHAH	5 INE601U08150	10,00,000	50,00,000

LISTED	1 SHAH NILESH NARESHBHAI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SHITAL J PATEL	1 INE601U08150	10,00,000	10,00,000
LISTED	1 NIYATI SHAH	1 INE601U08150	10,00,000	10,00,000
LISTED	1 MANOJBHAI VADILAL PARIKH	1 INE601U08150	10,00,000	10,00,000
LISTED	1 KRISHNA JAYDIP SHAH	1 INE601U08150	10,00,000	10,00,000
LISTED	1 RIDDHI MANAN SHAH	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SHYAMAL DINESHKUMAR PATEL	1 INE601U08150	10,00,000	10,00,000
LISTED	1 JAYDEEP KIRITBHAI PATEL	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SANJAY KAR CHOWDHURY	1 INE601U08150	10,00,000	10,00,000
LISTED	1 MAHESHKUMAR MOOLCHAND SHAH	1 INE601U08150	10,00,000	10,00,000
LISTED	1 MALA B	1 INE601U08150	10,00,000	10,00,000
LISTED	1 VIJAYALAKSHMI VISWANATHAN	1 INE601U08150	10,00,000	10,00,000
LISTED	1 RAJESWARI RAMAN	1 INE601U08150	10,00,000	10,00,000
LISTED	1 KABIR SETH	2 INE601U08150	10,00,000	20,00,000
LISTED	1 SANGEETA CHOWDHARY	1 INE601U08150	10,00,000	10,00,000
LISTED	1 ROHAN RAPHAEL SETH	1 INE601U08150	10,00,000	10,00,000
LISTED	1 AMRITA CHRISTINA SETH	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SHEELA MOHAN	1 INE601U08150	10,00,000	10,00,000
LISTED	1 ANUSHREE AMIT PATODIA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 RAKESH CHANDRA KASLIWAL	1 INE601U08150	10,00,000	10,00,000
LISTED	1 NEMMARA CHIDAMBARAM	1 INE601U08150	10,00,000	10,00,000
	PARAMESWARAN	4 77 777 40 477 40 4 70	10.00.000	10.00.000
LISTED	1 SWARNA ATUL KAJI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 RAMCHANDRA (RAMLAL) PITAMBER	1 INE601U08150	10,00,000	10,00,000
I IOTED	TALATHI	1 DTC011100150	10.00.000	10.00.000
LISTED	1 SURESH CHANDRA PURI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 ROHIT TANDON	1 INE601U08150	10,00,000	10,00,000
LISTED	1 ASHOK BHASKAR TULANKAR	1 INE601U08150	10,00,000	10,00,000
LISTED LISTED	1 MRIDULA KUMAR	2 INE601U08150	10,00,000	20,00,000
LISTED	1 KANAN JAYANT GHARPURE	1 INE601U08150 1 INE601U08150	10,00,000	10,00,000
LISTED	1 MAHESWAR SAHOO 1 MURZBAN D MEHTA	5 INE601U08150	10,00,000	10,00,000 50,00,000
LISTED	1 HEMAMALINI CHANDRASEKARAN	2 INE601U08150	10,00,000	20,00,000
LISTED	1 ARCHANA SINGH	1 INE601U08150	10,00,000	10,00,000
LISTED	1 NARENDRA MARTAND BANDE	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SARDAR MAL SURANA	2 INE601U08150	10,00,000	20,00,000
LISTED	1 CHANDRASEKARAN S R	1 INE601U08150	10,00,000	10,00,000
LISTED	1 MARTAND MADHAV BANDE	1 INE601U08150	10,00,000	10,00,000
LISTED	1 JITENDRA KUMAR SOMANI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 MAMTA SOMANI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 UDAYAKUMAR SAMUEL	1 INE601U08150	10,00,000	10,00,000
LISTED	1 VALLI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 NAGARAJA VENKATASUBRAMANIAN	3 INE601U08150	10,00,000	30,00,000
LISTED	1 THOPPAE RAMACHANDRAN MOTHILAL	1 INE601U08150	10,00,000	10,00,000
LISTED	1 G SUGANTHI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 R THINAKARAN	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SANGEETHA PRASAD	1 INE601U08150	10,00,000	10,00,000
LISTED	1 KUPPUSAMY PANNEER SELVAM ANUSUYA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 RAMALINGAM ABARNA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 JESUDHAS LAILA MASIL INBAKUMAR	1 INE601U08150	10,00,000	10,00,000
\vdash				
LISTED	1 GOVINDA REKHA J	2 INE601U08150	10,00,000	20,00,000
LISTED	1 G KANAKA	2 INE601U08150	10,00,000	20,00,000
LISTED	1 KALYANASUNDRAM DIVYA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 NAGENDRA SINGH RAMYA	3 INE601U08150	10,00,000	30,00,000
LISTED	1 SUNDARAM RAMALAKSHMI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 LOURDES SAGAYA RANI TITUS	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SHREYAS TITUS	1 INE601U08150	10,00,000	10,00,000
LISTED	1 KASINATHAN DEVIPRIYA	3 INE601U08150	10,00,000	30,00,000
LISTED	1 S PUSHPALATHA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 RAMESHWAR BHADADA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SARYU PADMAKANT SHAH	1 INE601U08150	10,00,000	10,00,000

INTEGER INTE	LISTED	1 ALTAF PATEL	1 INE601U08150	10,00,000	10,00,000
ISSTED					/ /
ISTEP					/ /
ISTEP 1 RAJAT BHASKER TALATT 1 NF601U08150 10,00,000 10,					
ISSTEP				, ,	, ,
INTED					
ISSTEP					, ,
INTED PARUL SANGHAYI				, ,	
ILISTED					, ,
INSERT INSERTION INSERTION INSERTION INSERTION INSERTION INSERT INSE					
INTERD INVIRLAN NAOZER DALAL INEGOLUOSISO 100,0000 70,00,000 10,00,000 70,00,000 10,00,000 70,00,000 10,00					
LISTED SANDINA WINDLASS NEGOLUORISO 10,00,000 50,00,000					
LISTED					/ /
INSTED MANISHA SATISHKUMAR SHAH INSEOLURIS 10,00,000 10,				-,,	
INSTED RENU BHUWALKA					
IASTED IADITYA SHANKAR BHATIA I INEGOLIUSIS 10,00,000 20,00,000 20,00,000 1,000,000 20,00,000 20,00,000 1,000,000 1,000,000 20,00,000 1,000,000 1,					, ,
LISTED INESAIATHY PADMANABHAN 2 INESOIL08150 10,00,000 20,00,000 10,00,000					
INTERD					, ,
LISTED					
LISTED 1 DELICIA DESIREE DUNBAR 1 INE601U08150 10,00,000 10,00,0					
ISTED 1 BHARATI KESHAVIAL JHAVERI 1 INEGO IU08150 10,00,000 10,0					/ /
LISTED					
LISTED					
LISTED					
ILSTED					
LISTED					, ,
LISTED				, ,	, ,
LISTED 1 SHIRAZ FREDDY TALATI 2 INEGOIU08150 10,00,000 20,00,000 LISTED 1 GULAB VORA 2 INEGOIU08150 10,00,000 20,00,000 LISTED 1 SANGEETA NILESH PATEL INEGOIU08150 10,00,000 10,00,000 LISTED 1 NILOUFER NOWROZE VAZIFDAR 1 INEGOIU08150 10,00,000 30,00,000 LISTED 1 KHORSHI PERVEZ MISTRY 3 INEGOIU08150 10,00,000 30,00,000 LISTED 1 KHORSHI PERVEZ MISTRY 3 INEGOIU08150 10,00,000 30,00,000 LISTED 1 ZINNIA ARDESHIR MODI INEGOIU08150 10,00,000 10,00,000 LISTED 1 NAMRATA ASHOK KIRPALANI 1 INEGOIU08150 10,00,000 10,00,000 LISTED 1 NETAK IRANI 1 INEGOIU08150 10,00,000 10,00,000 LISTED 1 NETAK IRANI 2 INEGOIU08150 10,00,000 20,00,000 LISTED 1 SHERNAZ KHURSHED DICK 1 INEGOIU08150 10,00,000 10,00,000 LISTED 1 SHERNAZ KHURSHED DICK 1 INEGOIU08150 10,00,000 10,00,000 LISTED 1 MUKESH CHHAIED 3 INEGOIU08150 10,00,000 10,00,000 LISTED 1 MUKESH CHHAIED 3 INEGOIU08150 10,00,000 30,00,000 LISTED 1 KUNJAL DEEPESH SHAH 1 INEGOIU08150 10,00,000 10,00,000 LISTED 1 HETAL HITESH SHAH 1 INEGOIU08150 10,00,000 10,00,000 LISTED 1 HETAL HITESH SHAH 1 INEGOIU08150 10,00,000 10,00,000 LISTED 1 VIJAY KUMAR AGARWAL 1 INEGOIU08150 10,00,000 10,00,000 LISTED 1 SUKANYA GANAPATHY 1 INEGOIU08150 10,00,000 10,00,000 LISTED 1 SUKANYA GANAPATHY 1 INEGOIU08150 10,00,000 10,00,000 LISTED 1 JAYANT BHARGAO GHARPURE 1 INEGOIU08150 10,00,000 10,00,000 LISTED 1 JAYANT BHARGAO GHARPURE 1 INEGOIU08150 10,00,000 10,00,000 LISTED 1 JAYANT BHARGAO GHARPURE 1 INEGOIU08150 10,00,000 10,00,000 LISTED 1 JAYANT BHARGAO GHARPURE 1 INEGOIU08150 10,00,000 10,00,000 LISTED 1 JAYANT BHARGAO GHARPURE 1 INEGOIU08150 10,00,000 10,00,000 LISTED 1 JAYANT BHARGAO GHARPURE 1 INEGOIU08150 10,00,000 10,00,000 LISTED 1 JAYANT B					
LISTED					
LISTED					/ /
INTEGENDATE NILOUFER NOWROZE VAZIFDAR INEGO1U08150 10,00,000 10,00,0					/ /
LISTED					
LISTED					, ,
LISTED NAMRATA ASHOK KIRPALANI NE601U08150 10,00,000 10,00,000 LISTED NEETA K IRANI NE601U08150 10,00,000 10,00,000 LISTED NEETA K IRANI NE601U08150 10,00,000 20,00,000 LISTED SUSUM RAMESH SAGLANI 2 NE601U08150 10,00,000 10,00,000 LISTED SHERNAZ KHURSHED DICK NE601U08150 10,00,000 10,00,000 LISTED SHOBHIT SINGH NE601U08150 10,00,000 10,00,000 LISTED MUKESH CHHAJED NE601U08150 10,00,000 10,00,000 LISTED KUNJAL DEEPESH SHAH NE601U08150 10,00,000 10,00,000 LISTED HETAL HITESH SHAH NE601U08150 10,00,000 10,00,000 LISTED VIJAY KUMAR AGARWAL NE601U08150 10,00,000 10,00,000 LISTED VIJAY KUMAR AGARWAL NE601U08150 10,00,000 10,00,000 LISTED KALPANA HAREADRAKUMAR NE601U08150 10,00,000 10,00,000 LISTED SUKANYA GANAPATHY NE601U08150 10,00,000 10,00,000 LISTED SUKANYA GANAPATHY NE601U08150 10,00,000 10,00,000 LISTED JAYANT BHARGAO GHARPURE NE601U08150 10,00,000 10,00,000 LISTED SIVARAMAN R NE601U08150 10,00,000 10,00,000 LISTED HALCHANDRA GOKHALE NE601U08150 10,00,000 10,00,000 LISTED BHALCHANDRA GOKHALE NE601U08150 10,00,000 10,00,000 LISTED JAYANT BHARGA GHARE NE601U08150 10,00,000 10,00,000 LISTED JAYANT BHARGA GHARE NE601U08150 10,00,000 10,00,000 LISTED SHALCHANDRA GOKHALE NE601U08150 10,00,000 10,00,000 LISTED SHALCHANDRA					, ,
LISTED 1 NEETA K IRANI 1 INEG01U08150 10,00,000 10,00,000 LISTED 1 KUSUM RAMESH SAGLANI 2 INEG01U08150 10,00,000 20,00,000 LISTED 1 SHERNAZ KHURSHED DICK 1 INEG01U08150 10,00,000 10,00,000 LISTED 1 SHOBHIT SINGH 1 INEG01U08150 10,00,000 10,00,000 LISTED 1 MUKESH CHHAJED 3 INEG01U08150 10,00,000 30,00,000 LISTED 1 KUNJAL DEEPESH SHAH 1 INEG01U08150 10,00,000 10,00,000 LISTED 1 HETAL HITESH SHAH 1 INEG01U08150 10,00,000 10,00,000 LISTED 1 VIJAY KUMAR AGARWAL 1 INEG01U08150 10,00,000 10,00,000 LISTED 1 KALPANA HARENDRAKUMAR 1 INEG01U08150 10,00,000 10,00,000 LISTED 1 JAYANT BHARGAO GHARPURE 1 INEG01U08150 10,00,000 10,00,000 LISTED					, ,
LISTED 1 SHERNAZ KHURSHED DICK 1 INE601U08150 10,00,000 10,00,000 10,00,000 LISTED 1 SHOBHIT SINGH 1 INE601U08150 10,00,000 10,00,000 10,00,000 LISTED 1 MUKESH CHHAJED 3 INE601U08150 10,00,000 10,00,000 LISTED 1 KUNJAL DEEPESH SHAH 1 INE601U08150 10,00,000 10,00,000 LISTED 1 HETAL HITESH SHAH 1 INE601U08150 10,00,000 10,00,000 LISTED 1 VUAY KUMAR AGARWAL 1 INE601U08150 10,00,000 10,00,000 LISTED 1 VUAY KUMAR AGARWAL 1 INE601U08150 10,00,000 10,00,000 LISTED 1 SUKANYA GANAPATHY 1 INE601U08150 10,00,000 10,00,000 LISTED 1 SUKANYA GANAPATHY 1 INE601U08150 10,00,000 10,00,000 LISTED 1 JAYANT BHARGAO GHARPURE 1 INE601U08150 10,00,000 10,00,000 LISTED 1 SIVARAMAN R 1 INE601U08150 10,00,000 10,00,000 LISTED 1 SIVARAMAN R 1 INE601U08150 10,00,000 10,00,000 LISTED 1 BHALCHANDRA GOKHALE 1 INE601U08150 10,00,000 10,00,000 LISTED 1 BHALCHANDRA GOKHALE 1 INE601U08150 10,00,000 10,00,000 LISTED 1 JAYANT BHARGAO GHARE 1 INE601U08150 10,00,000 10,00,000 LISTED 1 JAYANT BHARGAO GHARE 1 INE601U08150 10,00,000 10,00,000 LISTED 1 JAYANT BHARGAO GHARE 1 INE601U08150 10,00,000 10,00,000 LISTED 1 JAYANT BHARTA GOKHALE 1 INE601U08150 10,00,000 10,00,000 LISTED 1 JAYANT BHARTA 1 INE601U08150 10,00,000 10,00,000 LISTED 1 HEMPRABHA BHATT 1 INE601U08150 10,00,000 10,00,000 LISTED 1 HEMPRABHA BHATT 1 INE601U08150 10,00,000 10,00,000 LISTED 1 ANAHTY ADI BHABHA 1 INE601U08150 10,00,000 10,00,000 LISTED 1 ANAHTY ADI BH				, ,	, ,
LISTED 1 SHERNAZ KHURSHED DICK 1 INE601U08150 10,00,000 10,00,000 10,00,000 LISTED 1 SHOBHIT SINGH 1 INE601U08150 10,00,000 10,00,000 10,00,000 LISTED 1 MUKESH CHHAJED 3 INE601U08150 10,00,000 10,00,000 LISTED 1 KUNJAL DEEPESH SHAH 1 INE601U08150 10,00,000 10,00,000 LISTED 1 HETAL HITESH SHAH 1 INE601U08150 10,00,000 10,00,000 LISTED 1 VUAY KUMAR AGARWAL 1 INE601U08150 10,00,000 10,00,000 LISTED 1 VUAY KUMAR AGARWAL 1 INE601U08150 10,00,000 10,00,000 LISTED 1 SUKANYA GANAPATHY 1 INE601U08150 10,00,000 10,00,000 LISTED 1 SUKANYA GANAPATHY 1 INE601U08150 10,00,000 10,00,000 LISTED 1 JAYANT BHARGAO GHARPURE 1 INE601U08150 10,00,000 10,00,000 LISTED 1 SIVARAMAN R 1 INE601U08150 10,00,000 10,00,000 LISTED 1 SIVARAMAN R 1 INE601U08150 10,00,000 10,00,000 LISTED 1 BHALCHANDRA GOKHALE 1 INE601U08150 10,00,000 10,00,000 LISTED 1 BHALCHANDRA GOKHALE 1 INE601U08150 10,00,000 10,00,000 LISTED 1 JAYANT BHARGAO GHARE 1 INE601U08150 10,00,000 10,00,000 LISTED 1 JAYANT BHARGAO GHARE 1 INE601U08150 10,00,000 10,00,000 LISTED 1 JAYANT BHARGAO GHARE 1 INE601U08150 10,00,000 10,00,000 LISTED 1 JAYANT BHARTA GOKHALE 1 INE601U08150 10,00,000 10,00,000 LISTED 1 JAYANT BHARTA 1 INE601U08150 10,00,000 10,00,000 LISTED 1 HEMPRABHA BHATT 1 INE601U08150 10,00,000 10,00,000 LISTED 1 HEMPRABHA BHATT 1 INE601U08150 10,00,000 10,00,000 LISTED 1 ANAHTY ADI BHABHA 1 INE601U08150 10,00,000 10,00,000 LISTED 1 ANAHTY ADI BH					, ,
LISTED 1 SHOBHIT SINGH 1 INE601U08150 10,00,000 10,00,000			1 INE601U08150	10,00,000	10,00,000
LISTED I MUKESH CHHAJED 3 INE601U08150 10,00,000 30,00,000 LISTED I KUNIAL DEEPESH SHAH 1 INE601U08150 10,00,000 10,00,000 LISTED I HETAL HITESH SHAH 1 INE601U08150 10,00,000 10,00,000 LISTED I VIJAY KUMAR AGARWAL 1 INE601U08150 10,00,000 10,00,000 LISTED I KALPANA HARENDRAKUMAR 1 INE601U08150 10,00,000 10,00,000 LISTED I SUKANYA GANAPATHY 1 INE601U08150 10,00,000 10,00,000 LISTED I JAYANT BHARGAO GHARPURE 1 INE601U08150 10,00,000 10,00,000 LISTED I SIVARAMAN R 1 INE601U08150 10,00,000 10,00,000 LISTED I SIVARAMAN R 1 INE601U08150 10,00,000 10,00,000 LISTED I BHALCHANDRA GOKHALE 1 INE601U08150 10,00,000 10,00,000 LISTED I MAHARUKH BOMI BADSHAW 2 INE601U08150 10,00,000 10,00,000 LISTED I JAOKAR MAHESH VIJAYKUMAR 1 INE601U08150 10,00,000 10,00,000 LISTED				10,00,000	
LISTED		1 MUKESH CHHAJED	3 INE601U08150	10,00,000	
LISTED		1 KUNJAL DEEPESH SHAH	1 INE601U08150	10,00,000	
LISTED I KALPANA HARENDRAKUMAR I INE601U08150 10,00,000 10,00,000 LISTED I SUKANYA GANAPATHY I INE601U08150 10,00,000 10,00,000 LISTED I JAYANT BHARGAO GHARPURE I INE601U08150 10,00,000 10,00,000 LISTED I SIVARAMAN R I INE601U08150 10,00,000 10,00,000 LISTED I ANIL AGARWAL I INE601U08150 10,00,000 10,00,000 LISTED I BHALCHANDRA GOKHALE I INE601U08150 10,00,000 10,00,000 LISTED I BHALCHANDRA GOKHALE I INE601U08150 10,00,000 10,00,000 LISTED I MAHARUKH BOMI BADSHAW 2 INE601U08150 10,00,000 20,00,000 LISTED I USHA VASANT GUMASTE I INE601U08150 10,00,000 10,00,000 LISTED I JAOKAR MAHESH VIJAYKUMAR I INE601U08150 10,00,000 10,00,000 LISTED<	LISTED	1 HETAL HITESH SHAH	1 INE601U08150	10,00,000	
LISTED 1					
LISTED 1 JAYANT BHARGAO GHARPURE 1 INE601U08150 10,00,000 10,00,000 LISTED 1 SIVARAMAN R 1 INE601U08150 10,00,000 10,00,000 LISTED 1 ANIL AGARWAL 1 INE601U08150 10,00,000 10,00,000 LISTED 1 BHALCHANDRA GOKHALE 1 INE601U08150 10,00,000 10,00,000 LISTED 1 MAHARUKH BOMI BADSHAW 2 INE601U08150 10,00,000 20,00,000 LISTED 1 USHA VASANT GUMASTE 1 INE601U08150 10,00,000 10,00,000 LISTED 1 JAOKAR MAHESH VIJAYKUMAR 1 INE601U08150 10,00,000 10,00,000 LISTED 1 LEELAVATI NAGAPPA SHETTY 1 INE601U08150 10,00,000 10,00,000 LISTED 1 PRADEEP NARAYAN PANCHOLI 2 INE601U08150 10,00,000 20,00,000 LISTED 1 MEGHA VIJAY DEO 1 INE601U08150 10,00,000 10,00,000 LISTED 1 HEMPRABHA BHATT 1 INE601U08150 10,00,000 10,00,000 LISTED 1 CHAITANYA BHATT 1 INE601U08150 10,00,000 10,00,000 LISTED	LISTED	1 KALPANA HARENDRAKUMAR	1 INE601U08150	10,00,000	10,00,000
LISTED 1 JAYANT BHARGAO GHARPURE 1 INE601U08150 10,00,000 10,00,000 LISTED 1 SIVARAMAN R 1 INE601U08150 10,00,000 10,00,000 LISTED 1 ANIL AGARWAL 1 INE601U08150 10,00,000 10,00,000 LISTED 1 BHALCHANDRA GOKHALE 1 INE601U08150 10,00,000 10,00,000 LISTED 1 MAHARUKH BOMI BADSHAW 2 INE601U08150 10,00,000 20,00,000 LISTED 1 USHA VASANT GUMASTE 1 INE601U08150 10,00,000 10,00,000 LISTED 1 JAOKAR MAHESH VIJAYKUMAR 1 INE601U08150 10,00,000 10,00,000 LISTED 1 LEELAVATI NAGAPPA SHETTY 1 INE601U08150 10,00,000 10,00,000 LISTED 1 PRADEEP NARAYAN PANCHOLI 2 INE601U08150 10,00,000 20,00,000 LISTED 1 MEGHA VIJAY DEO 1 INE601U08150 10,00,000 10,00,000 LISTED 1 HEMPRABHA BHATT 1 INE601U08150 10,00,000 10,00,000 LISTED 1 CHAITANYA BHATT 1 INE601U08150 10,00,000 10,00,000 LISTED	LISTED	1 SUKANYA GANAPATHY	1 INE601U08150	10,00,000	
LISTED 1 SIVARAMAN R 1 INE601U08150 10,00,000 10,00,000 LISTED 1 ANIL AGARWAL 1 INE601U08150 10,00,000 10,00,000 LISTED 1 BHALCHANDRA GOKHALE 1 INE601U08150 10,00,000 10,00,000 LISTED 1 MAHARUKH BOMI BADSHAW 2 INE601U08150 10,00,000 20,00,000 LISTED 1 USHA VASANT GUMASTE 1 INE601U08150 10,00,000 10,00,000 LISTED 1 JAOKAR MAHESH VIJAYKUMAR 1 INE601U08150 10,00,000 10,00,000 LISTED 1 LEELAVATI NAGAPPA SHETTY 1 INE601U08150 10,00,000 10,00,000 LISTED 1 PRADEEP NARAYAN PANCHOLI 2 INE601U08150 10,00,000 10,00,000 LISTED 1 MEGHA VIJAY DEO 1 INE601U08150 10,00,000 10,00,000 LISTED 1 HEMPRABHA BHATT 1 INE601U08150 10,00,000 10,00,000 LISTED <td></td> <td></td> <td></td> <td></td> <td>, ,</td>					, ,
LISTED 1 BHALCHANDRA GOKHALE 1 INE601U08150 10,00,000 10,00,000 LISTED 1 MAHARUKH BOMI BADSHAW 2 INE601U08150 10,00,000 20,00,000 LISTED 1 USHA VASANT GUMASTE 1 INE601U08150 10,00,000 10,00,000 LISTED 1 JAOKAR MAHESH VIJAYKUMAR 1 INE601U08150 10,00,000 10,00,000 LISTED 1 LEELAVATI NAGAPPA SHETTY 1 INE601U08150 10,00,000 10,00,000 LISTED 1 PRADEEP NARAYAN PANCHOLI 2 INE601U08150 10,00,000 20,00,000 LISTED 1 SMITA BHATT 1 INE601U08150 10,00,000 10,00,000 LISTED 1 MEGHA VIJAY DEO 1 INE601U08150 10,00,000 10,00,000 LISTED 1 HEMPRABHA BHATT 1 INE601U08150 10,00,000 10,00,000 LISTED 1 CHAITANYA BHATT 1 INE601U08150 10,00,000 10,00,000 LISTED	LISTED	1 SIVARAMAN R	1 INE601U08150	10,00,000	
LISTED 1 MAHARUKH BOMI BADSHAW 2 INE601U08150 10,00,000 20,00,000 LISTED 1 USHA VASANT GUMASTE 1 INE601U08150 10,00,000 10,00,000 LISTED 1 JAOKAR MAHESH VIJAYKUMAR 1 INE601U08150 10,00,000 10,00,000 LISTED 1 LEELAVATI NAGAPPA SHETTY 1 INE601U08150 10,00,000 10,00,000 LISTED 1 PRADEEP NARAYAN PANCHOLI 2 INE601U08150 10,00,000 20,00,000 LISTED 1 SMITA BHATT 1 INE601U08150 10,00,000 10,00,000 LISTED 1 MEGHA VIJAY DEO 1 INE601U08150 10,00,000 10,00,000 LISTED 1 HEMPRABHA BHATT 1 INE601U08150 10,00,000 10,00,000 LISTED 1 CHAITANYA BHATT 1 INE601U08150 10,00,000 10,00,000 LISTED 1 ARMAITY ADI BHABHA 1 INE601U08150 10,00,000 10,00,000 LISTED 1 ANAHITA BAHADUR NALLADAROO 1 INE601U08150 10,00,000 10,00,000 LISTED 1 HIRAL PRADEEP PANCHOLI 3 INE601U08150 10,00,000 30,00,000 L	LISTED		1 INE601U08150	10,00,000	
LISTED 1 USHA VASANT GUMASTE 1 INE601U08150 10,00,000 10,00,000 LISTED 1 JAOKAR MAHESH VIJAYKUMAR 1 INE601U08150 10,00,000 10,00,000 LISTED 1 LEELAVATI NAGAPPA SHETTY 1 INE601U08150 10,00,000 10,00,000 LISTED 1 PRADEEP NARAYAN PANCHOLI 2 INE601U08150 10,00,000 20,00,000 LISTED 1 SMITA BHATT 1 INE601U08150 10,00,000 10,00,000 LISTED 1 MEGHA VIJAY DEO 1 INE601U08150 10,00,000 10,00,000 LISTED 1 HEMPRABHA BHATT 1 INE601U08150 10,00,000 10,00,000 LISTED 1 CHAITANYA BHATT 1 INE601U08150 10,00,000 10,00,000 LISTED 1 ARMAITY ADI BHABHA 1 INE601U08150 10,00,000 10,00,000 LISTED 1 ANAHITA BAHADUR NALLADAROO 1 INE601U08150 10,00,000 10,00,000 LI	LISTED	1 BHALCHANDRA GOKHALE	1 INE601U08150	10,00,000	10,00,000
LISTED 1 USHA VASANT GUMASTE 1 INE601U08150 10,00,000 10,00,000 LISTED 1 JAOKAR MAHESH VIJAYKUMAR 1 INE601U08150 10,00,000 10,00,000 LISTED 1 LEELAVATI NAGAPPA SHETTY 1 INE601U08150 10,00,000 10,00,000 LISTED 1 PRADEEP NARAYAN PANCHOLI 2 INE601U08150 10,00,000 20,00,000 LISTED 1 SMITA BHATT 1 INE601U08150 10,00,000 10,00,000 LISTED 1 MEGHA VIJAY DEO 1 INE601U08150 10,00,000 10,00,000 LISTED 1 HEMPRABHA BHATT 1 INE601U08150 10,00,000 10,00,000 LISTED 1 CHAITANYA BHATT 1 INE601U08150 10,00,000 10,00,000 LISTED 1 ARMAITY ADI BHABHA 1 INE601U08150 10,00,000 10,00,000 LISTED 1 ANAHITA BAHADUR NALLADAROO 1 INE601U08150 10,00,000 10,00,000 LI	LISTED	1 MAHARUKH BOMI BADSHAW	2 INE601U08150	10,00,000	
LISTED 1 JAOKAR MAHESH VIJAYKUMAR 1 INE601U08150 10,00,000 10,00,000 LISTED 1 LEELAVATI NAGAPPA SHETTY 1 INE601U08150 10,00,000 10,00,000 LISTED 1 PRADEEP NARAYAN PANCHOLI 2 INE601U08150 10,00,000 20,00,000 LISTED 1 SMITA BHATT 1 INE601U08150 10,00,000 10,00,000 LISTED 1 MEGHA VIJAY DEO 1 INE601U08150 10,00,000 10,00,000 LISTED 1 HEMPRABHA BHATT 1 INE601U08150 10,00,000 10,00,000 LISTED 1 CHAITANYA BHATT 1 INE601U08150 10,00,000 10,00,000 LISTED 1 ARMAITY ADI BHABHA 1 INE601U08150 10,00,000 10,00,000 LISTED 1 ANAHITA BAHADUR NALLADAROO 1 INE601U08150 10,00,000 10,00,000 LISTED 1 HIRAL PRADEEP PANCHOLI 3 INE601U08150 10,00,000 30,00,000 LISTED 1 DESAI KASHMIRA 1 INE601U08150 10,00,000 10,00,000		1 USHA VASANT GUMASTE	1 INE601U08150	10,00,000	10,00,000
LISTED 1 PRADEEP NARAYAN PANCHOLI 2 INE601U08150 10,00,000 20,00,000 LISTED 1 SMITA BHATT 1 INE601U08150 10,00,000 10,00,000 LISTED 1 MEGHA VIJAY DEO 1 INE601U08150 10,00,000 10,00,000 LISTED 1 HEMPRABHA BHATT 1 INE601U08150 10,00,000 10,00,000 LISTED 1 CHAITANYA BHATT 1 INE601U08150 10,00,000 10,00,000 LISTED 1 ARMAITY ADI BHABHA 1 INE601U08150 10,00,000 10,00,000 LISTED 1 ANAHITA BAHADUR NALLADAROO 1 INE601U08150 10,00,000 10,00,000 LISTED 1 HIRAL PRADEEP PANCHOLI 3 INE601U08150 10,00,000 30,00,000 LISTED 1 DESAI KASHMIRA 1 INE601U08150 10,00,000 10,00,000	LISTED	1 JAOKAR MAHESH VIJAYKUMAR	1 INE601U08150	10,00,000	
LISTED 1 SMITA BHATT 1 INE601U08150 10,00,000 10,00,000 LISTED 1 MEGHA VIJAY DEO 1 INE601U08150 10,00,000 10,00,000 LISTED 1 HEMPRABHA BHATT 1 INE601U08150 10,00,000 10,00,000 LISTED 1 CHAITANYA BHATT 1 INE601U08150 10,00,000 10,00,000 LISTED 1 ARMAITY ADI BHABHA 1 INE601U08150 10,00,000 10,00,000 LISTED 1 ANAHITA BAHADUR NALLADAROO 1 INE601U08150 10,00,000 10,00,000 LISTED 1 HIRAL PRADEEP PANCHOLI 3 INE601U08150 10,00,000 30,00,000 LISTED 1 DESAI KASHMIRA 1 INE601U08150 10,00,000 10,00,000	LISTED	1 LEELAVATI NAGAPPA SHETTY	1 INE601U08150	10,00,000	10,00,000
LISTED 1 MEGHA VIJAY DEO 1 INE601U08150 10,00,000 10,00,000 LISTED 1 HEMPRABHA BHATT 1 INE601U08150 10,00,000 10,00,000 LISTED 1 CHAITANYA BHATT 1 INE601U08150 10,00,000 10,00,000 LISTED 1 ARMAITY ADI BHABHA 1 INE601U08150 10,00,000 10,00,000 LISTED 1 ANAHITA BAHADUR NALLADAROO 1 INE601U08150 10,00,000 10,00,000 LISTED 1 HIRAL PRADEEP PANCHOLI 3 INE601U08150 10,00,000 30,00,000 LISTED 1 DESAI KASHMIRA 1 INE601U08150 10,00,000 10,00,000	LISTED	1 PRADEEP NARAYAN PANCHOLI		10,00,000	20,00,000
LISTED 1 HEMPRABHA BHATT 1 INE601U08150 10,00,000 10,00,000 LISTED 1 CHAITANYA BHATT 1 INE601U08150 10,00,000 10,00,000 LISTED 1 ARMAITY ADI BHABHA 1 INE601U08150 10,00,000 10,00,000 LISTED 1 ANAHITA BAHADUR NALLADAROO 1 INE601U08150 10,00,000 10,00,000 LISTED 1 HIRAL PRADEEP PANCHOLI 3 INE601U08150 10,00,000 30,00,000 LISTED 1 DESAI KASHMIRA 1 INE601U08150 10,00,000 10,00,000	LISTED	1 SMITA BHATT	1 INE601U08150	10,00,000	10,00,000
LISTED 1 CHAITANYA BHATT 1 INE601U08150 10,00,000 10,00,000 LISTED 1 ARMAITY ADI BHABHA 1 INE601U08150 10,00,000 10,00,000 LISTED 1 ANAHITA BAHADUR NALLADAROO 1 INE601U08150 10,00,000 10,00,000 LISTED 1 HIRAL PRADEEP PANCHOLI 3 INE601U08150 10,00,000 30,00,000 LISTED 1 DESAI KASHMIRA 1 INE601U08150 10,00,000 10,00,000	LISTED	1 MEGHA VIJAY DEO	1 INE601U08150	10,00,000	10,00,000
LISTED 1 ARMAITY ADI BHABHA 1 INE601U08150 10,00,000 10,00,000 LISTED 1 ANAHITA BAHADUR NALLADAROO 1 INE601U08150 10,00,000 10,00,000 LISTED 1 HIRAL PRADEEP PANCHOLI 3 INE601U08150 10,00,000 30,00,000 LISTED 1 DESAI KASHMIRA 1 INE601U08150 10,00,000 10,00,000	LISTED	1 HEMPRABHA BHATT	1 INE601U08150	10,00,000	10,00,000
LISTED 1 ANAHITA BAHADUR NALLADAROO 1 INE601U08150 10,00,000 10,00,000 LISTED 1 HIRAL PRADEEP PANCHOLI 3 INE601U08150 10,00,000 30,00,000 LISTED 1 DESAI KASHMIRA 1 INE601U08150 10,00,000 10,00,000	LISTED	1 CHAITANYA BHATT	1 INE601U08150	10,00,000	10,00,000
LISTED 1 HIRAL PRADEEP PANCHOLI 3 INE601U08150 10,00,000 30,00,000 LISTED 1 DESAI KASHMIRA 1 INE601U08150 10,00,000 10,00,000	LISTED	1 ARMAITY ADI BHABHA	1 INE601U08150	10,00,000	10,00,000
LISTED 1 DESAI KASHMIRA 1 INE601U08150 10,00,000 10,00,000	LISTED	1 ANAHITA BAHADUR NALLADAROO	1 INE601U08150	10,00,000	10,00,000
	LISTED	1 HIRAL PRADEEP PANCHOLI	3 INE601U08150	10,00,000	30,00,000
LISTED 1 MANOHAR PURUSHOTTAM PATWARDHAN 1 INE601U08150 10,00,000 10,00,000	LISTED	1 DESAI KASHMIRA	1 INE601U08150	10,00,000	10,00,000
	LISTED	1 MANOHAR PURUSHOTTAM PATWARDHAN	1 INE601U08150	10,00,000	10,00,000

LISTED	1 MITA DEBASIS MITRAROY	4 INE601U08150	10,00,000	40,00,000
LISTED	1 TRUPTI PRASHANT MACHWE	1 INE601U08150	10,00,000	10,00,000
LISTED	1 ANEETA RAGHUNATH MHAPSEKAR	1 INE601U08150	10,00,000	10,00,000
LISTED	1 THYAGARAJAN VENKATARAMAN	1 INE601U08150	10,00,000	10,00,000
LISTED	1 AKILA VENKATARAMAN	1 INE601U08150	10,00,000	10,00,000
LISTED	1 VIVEKANAND KODIKAL	1 INE601U08150	10,00,000	10,00,000
LISTED	1 ASPI FAREDUN BHARUCHA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 RACHANA ACHARYA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 VINAY MAHAJAN	1 INE601U08150	10,00,000	10,00,000
LISTED	1 RUPA MUKESH MODY	1 INE601U08150	10,00,000	10,00,000
LISTED	1 MUKESH MATHURADAS MODY	1 INE601U08150	10,00,000	10,00,000
LISTED	1 RANGANATH N KRISHNA	2 INE601U08150	10,00,000	20,00,000
LISTED	1 THAKAR JIGAR B	1 INE601U08150	10,00,000	10,00,000
LISTED	1 K VARA PRASADA RAO	1 INE601U08150	10,00,000	10,00,000
LISTED	1 KAPIL DHARMAKUMAR KAPADIA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 DANDNAYAK DARSHANA	2 INE601U08150	10,00,000	20,00,000
LISTED	1 R K GUPTA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 KISHORE KASTURI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SUNITA KISHORE	1 INE601U08150	10,00,000	10,00,000
LISTED	1 PARTH KHANNA	1 INE601U08150	10,00,000	10,00,000
				-,,
LISTED	1 MAMTA SANGHVI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 DIPAK SANGHVI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 MURARILAL KANDOI	5 INE601U08150	10,00,000	50,00,000
LISTED	1 ARUSHI GUPTA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 PRAGNA MATHURADAS MODY	1 INE601U08150	10,00,000	10,00,000
LISTED	1 REKHA MATHURDAS MODY	3 INE601U08150	10,00,000	30,00,000
LISTED	1 KAMLESH RAMNIKLAL MEHTA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 ARTI KAPUR	1 INE601U08150	10,00,000	10,00,000
LISTED	1 MAITRI SAMIR SHAH	1 INE601U08150	10,00,000	10,00,000
LISTED	1 MUKUND BAJAJ	1 INE601U08150	10,00,000	10,00,000
LISTED	1 DINYAR FRAMROZE PANTHAKI	3 INE601U08150	10,00,000	30,00,000
LISTED	1 DOCTOR JYOTIBEN PRAVINBHAI	3 INE601U08150	10,00,000	30,00,000
LISTED	1 ANKITA CHAITANYA BHATT	1 INE601U08150	10,00,000	10,00,000
LISTED	1 TWINKLE ADUKIA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 AASHNA APOORVA DOSHI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SINDHUJA J	1 INE601U08150	10,00,000	10,00,000
LISTED	1 MEENA KRISHNASWAMY	1 INE601U08150	10,00,000	10,00,000
LISTED	1 KAILASH CHACHRA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 RAEE AJIT PAVGI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 VIJAYALAKSHMI CHANDRASHEKAR	1 INE601U08150	10,00,000	10,00,000
LISTED	1 NANDITA YOGESH PAREKH	1 INE601U08150	10,00,000	10,00,000
LISTED	1 KUNTI ANKIT JHAVERI	10 INE601U08150	10,00,000	1,00,00,000
LISTED	1 BIJAL BHAVESH PATEL	1 INE601U08150	10,00,000	10,00,000
LISTED	1 UMANG MUKUNDRAI DESAI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 HEMANT JAIN	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SHOBHA SANDEEP GANGOLLI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 RADHA S BHAT	1 INE601U08150	10,00,000	10,00,000
LISTED	1 B PRAVEEN KUMAR	1 INE601U08150	10,00,000	10,00,000
LISTED	1 DR GEETHA PRAMOD SHANBHAG	3 INE601U08150	10,00,000	30,00,000
LISTED	1 SUMANA K MURULIDHAR	1 INE601U08150	10,00,000	10,00,000
LISTED	1 A R MYTHILI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 GOPAL BALARAMASETTY MOOVALA	1 INE601U08150	10,00,000	10,00,000
	I GOLAL DALAKAMASETTI MOOVALA	11112001000130	10,00,000	10,00,000
LISTED	1 AMISHI NIMISH UNADKAT	1 INE601U08150	10,00,000	10,00,000
LISTED	1 VAISHALI PRATAP CHAVAN	1 INE601U08150	, ,	
			10,00,000	10,00,000
LISTED	1 ARUN MANKODI	5 INE601U08150	10,00,000	50,00,000
LISTED	1 PALLAVI B SHAH	1 INE601U08150	10,00,000	10,00,000
LISTED	1 ANAR BABULAL PATEL	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SHARADINI ANAND MUDHOLKAR	2 INE601U08150	10,00,000	20,00,000
LISTED	1 URMILA DEVI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 DEEPALI DHRUMIL JOSHI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 DIPIKA VIJAY DESAI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SAURIN THAKORE	1 INE601U08150	10,00,000	10,00,000
LISTED	1 DEEPAK K BISWAS	1 INE601U08150	10,00,000	10,00,000

		1	1	
LISTED	1 SHILPA ALAY SHAH	2 INE601U08150	10,00,000	20,00,000
LISTED	1 USHA CHOUDHARY	1 INE601U08150	10,00,000	10,00,000
LISTED	1 DR KIRTI SHETH	1 INE601U08150	10,00,000	10,00,000
LISTED	1 ARUP KUMAR TRIPATHI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SWATI YOGESH SOVANI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 MOHIT ANAND BHATIA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 Bimal Arunbhai Shukla	2 INE601U08150	10,00,000	20,00,000
LISTED	1 Ajay Vikram Singh	1 INE601U08150	10,00,000	10,00,000
LISTED	1 Rajendra Singhal	2 INE601U08150	10,00,000	20,00,000
LISTED	1 Anita Singhal	2 INE601U08150	10,00,000	20,00,000
LISTED	1 Ira Singhal	2 INE601U08150	10,00,000	20,00,000
LISTED	1 DEBASHIS GHOSH	2 INE601U08150	10,00,000	20,00,000
LISTED	1 GAURAV ARVIND KARNIK	1 INE601U08150	10,00,000	10,00,000
LISTED	1 ANIL KUMAR CHAWLA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SAKTI PADA CHAKRABORTY	5 INE601U08150	10,00,000	50,00,000
LISTED	1 SHRIKANT CHANDRAKANT KULKARNI	1 INE601U08150	10,00,000	10,00,000
LISTED		1 1 2001 200120	10,00,000	10,00,000
LISTED	1 GEETHA RAMABADHRAN	2 INE601U08150	10,00,000	20,00,000
LISTED	1 AJAY KUMAR	2 INE601U08150	10,00,000	20,00,000
LISTED	1 NANDINI GUHA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SALLY JANE BURBY	1 INE601U08150	10,00,000	10,00,000
LISTED	1 RITA JAIN	1 INE601U08150	10,00,000	10,00,000
LISTED	1 Sunil Bhalchandra Londhe	1 INE601U08150	10,00,000	10,00,000
			, ,	- , ,
LISTED	1 Mithra Shenoy	1 INE601U08150	10,00,000	10,00,000
LISTED	1 REKHA SINGH	1 INE601U08150	10,00,000	10,00,000
LISTED	1 KAMAL SHARMA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 RADHIKA VERMA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SRINIVASAN VISWANATHAN	1 INE601U08150	10,00,000	10,00,000
LISTED	1 KAVITA PRAVIN GATTANI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 MANJULA FOTEDAR	1 INE601U08150	10,00,000	10,00,000
LISTED	1 DILIP BHAGWANDAS MANGLANI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 VIJAY RAMKRISHNA DEO	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SEEMA GARG	1 INE601U08150	10,00,000	10,00,000
LISTED	1 ALAK BHATTACHARJEE	1 INE601U08150	10,00,000	10,00,000
LISTED	1 JAYALAKSHMI RAMASUBRAMANIAN	1 INE601U08150	10,00,000	10,00,000
LISTED	1 NIKETA MOHAN	1 INE601U08150	10,00,000	10,00,000
LISTED	1 VIJAYALAKSHMI KUMAR	1 INE601U08150	10,00,000	10,00,000
LISTED	1 PRAVEEN KUMAR GARG	2 INE601U08150	10.00.000	20,00,000
LISTED	1 ANKUR GARG	1 INE601U08150	10,00,000	10,00,000
LISTED	1 RAJ BARUA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SHWETA BAJPAI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 KOTHANDARAMAN K	1 INE601U08150	10,00,000	10,00,000
LISTED	1 LAISHA JITENDER MANGLANI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 INDURANI MARIMUTHU	1 INE601U08150	10,00,000	10,00,000
LISTED	1 RASBIHARI MUKHERJEE	1 INE601U08150	10,00,000	10,00,000
LISTED	1 PUSHPA MAYUR SHAH	1 INE601U08150	10,00,000	10,00,000
LISTED	1 NEETA SANTOSH GORE	1 INE601U08150	10,00,000	10,00,000
LISTED	1 BELA NIPUN MEHTA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 BINNA N PARIKH	1 INE601U08150	10,00,000	10,00,000
LISTED	1 MANISHA SUHAS SATHE	1 INE601U08150	10,00,000	10,00,000
LISTED	1 PINTOO NRIPENDRA GANGULY	1 INE601U08150	10,00,000	10,00,000
LISTED	1 TRISHLA M SHAH	1 INE601U08150	10,00,000	10,00,000
LISTED	1 MOHAN RAMANATHAN	1 INE601U08150	10,00,000	10,00,000
LISTED	1 FARIDA CYRUS MEHTA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SHABBIR TAHER KINKHABWALA	3 INE601U08150	10,00,000	30,00,000
LISTED	1 SHLOKA MAYUR SHAH	1 INE601U08150	10,00,000	10,00,000
LISTED	1 NANDKISHORE KAWARILAL INNANI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 DEBABRATA CHAKRAVORTY	1 INE601U08150	10,00,000	10,00,000
LISTED	1 HOMYAR RUSTOMJI DESAI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 ARMIN HOSHANG SETHNA	2 INE601U08150	10,00,000	20,00,000
LISTED	1 CYRUS BAJI MEHTA	1 INE601U08150	10,00,000	10,00,000
LISTED			10,00,000	-,,-
LISTED	1 VIHAAN HADA	1 INE601U08150	10,00,000	10,00,000

LISTED	1 SUDHIR BHAVANJI RUPAREL	1 INE601U08150	10,00,000	10,00,000
LISTED	1 BHAIRAVI SUDHIR RUPAREL	1 INE601U08150	10,00,000	
LISTED	1 RABINDRA NATH SEN	1 INE601U08150	10,00,000	10,00,000
				.,,
LISTED	1 ASHA POPATLAL VAKIYANI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 KOLLEGAL RAMACHANDRA	3 INE601U08150	10,00,000	30,00,000
	CHANDRASEKHAR	1 777 10 1770 170	40.00.000	
LISTED	1 AKRUTI BIMAL SHAH	1 INE601U08150	10,00,000	10,00,000
LISTED	1 RAMSWARUP L SHILU	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SUKETU M SHAH	1 INE601U08150	10,00,000	10,00,000
LISTED	1 KARTHIK MANOHAR RAO	1 INE601U08150	10,00,000	10,00,000
LISTED	1 MADHU GUPTA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 PRIYANKA SHAHI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 NANDITA SUD	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SAROJ AGGARWAL	1 INE601U08150	10,00,000	10,00,000
LISTED	1 BEENA MATHUR	1 INE601U08150	10,00,000	10,00,000
LISTED	1 ISHWAR CHAND GUPTA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SAPNA GUPTA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 KUSHANK GUPTA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 RENUBALA MALHOTRA	2 INE601U08150	10,00,000	
				20,00,000
LISTED	1 BHAVNI KARTIK PATEL	1 INE601U08150	10,00,000	10,00,000
LISTED	1 FIRUZA RUMY PATEL	1 INE601U08150	10,00,000	10,00,000
LISTED	1 HETAL KOTHARI	2 INE601U08150	10,00,000	20,00,000
LISTED	1 DEEPESH MAHENDRA SHAH	1 INE601U08150	10,00,000	10,00,000
LISTED	1 PRADYUMNA NATVARLAL SHAH	2 INE601U08150	10,00,000	20,00,000
LISTED	1 MONESH RAVIVADAN BHANSALI	2 INE601U08150	10,00,000	20,00,000
LISTED	1 ABHISHEK SUNDARESHWARAN	2 INE601U08150	10,00,000	20,00,000
LISTED	1 ANUJ MEHTA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 GEETA PINAK MODI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 NANDAGIRI USHA RAMANI	2 INE601U08150	10,00,000	20,00,000
LISTED	1 PRANLAL MANSUKHLAL SHAH	1 INE601U08150	10,00,000	10,00,000
LISTED	1 MANISHA HEMANT KOTADIA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 NEELAM CHOPRA	2 INE601U08150	10,00,000	20,00,000
LISTED	1 KRISHNAIAH NANJAIAH NEELATHALLI	1 INE601U08150	10,00,000	10,00,000
EISTED		11112001200130	10,00,000	10,00,000
LISTED	1 RAMESH CHANDRA GUPTA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 YOGESH BHURA	2 INE601U08150	10,00,000	20,00,000
LISTED	1 AVANI VISHAL DEDHIA	1 INE601U08150		
LISTED			10,00,000	10,00,000
	1 TAPATI GHOSH	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SURENDRA KEWALRAM ANAND	1 INE601U08150	10,00,000	10,00,000
LISTED	1 PERIN HOMI AYRTON	5 INE601U08150	10,00,000	50,00,000
LISTED	1 PRAMOD MANI IYER	1 INE601U08150	10,00,000	10,00,000
LISTED	1 RATAKONDLA RAMESH	2 INE601U08150	10,00,000	20,00,000
LISTED	1 ROXSHANA SAROSH BAHADURJI	2 INE601U08150	10,00,000	20,00,000
LISTED	1 PRADIP PRANLAL KAMDAR	1 INE601U08150	10,00,000	10,00,000
LISTED	1 KARTIK MANAKCHAND RATHOD	1 INE601U08150	10,00,000	10,00,000
LISTED	1 ADHISH MANAKCHAND RATHOD	1 INE601U08150	10,00,000	10,00,000
LISTED	1 YASHPAL CHUGH	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SHAM KASHINATH DANDEKAR	1 INE601U08150	10,00,000	10,00,000
LISTED	1 PRABHDEEP SINGH SAMBI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 KAVITA SHASHI CHOUDHARY	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SANJEEV KHETRAPAL	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SACHIN SUDARSHAN RATHI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SIDDHARTH TIKU	1 INE601U08150	10,00,000	10,00,000
LISTED	1 ALKA PURWAR	1 INE601U08150	10,00,000	10,00,000
	1 RAJ KUMAR JALAN		10,00,000	
LISTED		1 INE601U08150		10,00,000
LISTED	1 REKHA BHANOT	1 INE601U08150	10,00,000	10,00,000
LISTED	1 HEMANTHA RAJ BK	1 INE601U08150	10,00,000	10,00,000
LISTED	1 BHARTI JAYSINH NEGANDHI	2 INE601U08150	10,00,000	20,00,000
LISTED	1 SHIREEN MITHIKA MENON	2 INE601U08150	10,00,000	20,00,000
LISTED	1 SANTOSH KUMAR GUPTA	2 INE601U08150	10,00,000	20,00,000
LISTED	1 SUDHIR CHOPRA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SUJAY KUMAR PRASAD	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SHANKAR KUMAR ROY	1 INE601U08150	10,00,000	10,00,000
BIGTED				

	T			1
LISTED	1 AMITAVA BAKSY	1 INE601U08150	10,00,000	10,00,000
LISTED	1 MEHERAZ KHAN	1 INE601U08150	10,00,000	10,00,000
LISTED	1 MANGESH RAMESH SARAF	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SHIVANNA RAVISHANKAR	1 INE601U08150	10,00,000	10,00,000
LISTED	1 RANU VICKI KAPOOR	1 INE601U08150	10,00,000	10,00,000
LISTED	1 ASHOK LUNIDARAM GANGWANI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SARAH ALKA MACWAN	1 INE601U08150	10,00,000	10,00,000
LISTED	1 NUTAN SINHA	2 INE601U08150	10,00,000	20,00,000
LISTED	1 KUMKUM BHALLA	3 INE601U08150	10,00,000	30,00,000
LISTED	1 Prakash Mohanlal Chandak	1 INE601U08150	10,00,000	10,00,000
LISTED	1 ABAN ADI MAGRA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 VILAS ANAND KALE	1 INE601U08150	10,00,000	10,00,000
LISTED	1 USHA SHARMA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SUSHILABEN LAXMIPRASAD PATEL	1 INE601U08150	10,00,000	10,00,000
LISTED	1 GANESH KRISHNAJI POTDAR	6 INE601U08150	10,00,000	60,00,000
LISTED	1 RASILABEN HARIDAS KIKANI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 RAJARAM RANGANATHAN MOSUR .	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SONAL SANJAY SHAH	1 INE601U08150	10,00,000	10,00,000
LISTED	1 VIVEK LOHIA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 LAXMIKANT HANUMANPRASAD	2 INE601U08150	10,00,000	20,00,000
	HARLALKA .	2 11 12.001 0 0 0 1 3 0	10,00,000	20,00,000
LISTED	1 MILONI AMIT PAREKH .	1 INE601U08150	10,00,000	10,00,000
				, ,
LISTED	1 VANDANA SINHA .	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SHILPA HARENDRAKUMAR UDESHI .	1 INE601U08150	10,00,000	10,00,000
LISTED	1 RAJENDRA KUMAR ARORA .	1 INE601U08150	10,00,000	10,00,000
LISTED	1 PRADEEP KUMAR PADIA	3 INE601U08150	10,00,000	30,00,000
LISTED	1 ATULKUMAR JYOTINDRA PANDYA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 CHANDRA DHAR	1 INE601U08150	10,00,000	10,00,000
LISTED	1 ROSHNI KIRANKUMAR DAVEY	3 INE601U08150	10,00,000	30,00,000
LISTED	1 RITA SINHA RAY	1 INE601U08150	10,00,000	10,00,000
LISTED	1 ANGANA SINHA RAY	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SHETAL KIRAN DESAI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 KIRAN ASHOK DESAI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 KALPANA MITESH TOLIA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 RUKSHANA IRANI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 RAGHBIR SINGH	1 INE601U08150	10,00,000	10,00,000
LISTED	1 RAJ KUMAR GUPTA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 RAVINDERPAL SINGH BAWA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SANJAY GANESH GOKHALE	2 INE601U08150	10,00,000	20,00,000
LISTED	1 POOJA SANJAY GOKHALE	1 INE601U08150	10,00,000	10,00,000
LISTED	1 CHANDNI HASMUKH SHAH	1 INE601U08150	10,00,000	10,00,000
LISTED	1 BHARTI KUKREJA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 CHANDAN MOHINTA	4 INE601U08150	10,00,000	40,00,000
LISTED	1 SHIBANI HEMAL MEHTA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 MUTHYALA TANVI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 NEEMA KESHAV THAPPA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SOHRAB RASHEED MISTRI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 DHRUTI JAKIN SHAH	1 INE601U08150	10,00,000	10,00,000
LISTED	1 VAISHALI SHANTILAL CHHAJED	2 INE601U08150	10,00,000	20,00,000
LISTED	1 VIKAS NARAYAN BAPAT	1 INE601U08150	10,00,000	, ,
LISTED	1 PALLAWI RAJIV PODAR	1 INE601U08150	10,00,000	10,00,000
				10,00,000
LISTED	1 JOGLEKAR SHARAD TRIMBAK	1 INE601U08150	10,00,000	10,00,000
LISTED	1 BHAVANA GUNVANTRAY PAREKH	1 INE601U08150	10,00,000	10,00,000
LISTED	1 AMI J PAREKH	1 INE601U08150	10,00,000	10,00,000
LISTED	1 JATIN GUNVANTRAY PAREKH	1 INE601U08150	10,00,000	10,00,000
LISTED	1 ARUN SITARAM KEER	1 INE601U08150	10,00,000	10,00,000
LISTED	1 BHANUKUMAR HARJIWANBHAI	1 INE601U08150	10,00,000	10,00,000
	NATHWANI			
LISTED	1 SONA KISHINCHAND SIPPY	5 INE601U08150	10,00,000	50,00,000
LISTED	1 NEENA UMESH GALA	3 INE601U08150	10,00,000	30,00,000
LISTED	1 DEEPAK NARENDRA SHAH .	1 INE601U08150	10,00,000	10,00,000
LISTED	1 MYTHILI SAIRAM IYER .	1 INE601U08150	10,00,000	10,00,000
LISTED	1 PAYAL SUMIT SHAH	7 INE601U08150	10,00,000	70,00,000

			10.00.000	
LISTED	1 DHUNJISHAW CAVASJI GAZDER	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SARYU ASHOK BAGADIA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 AMBRISH JAGDISHMITTAR KHOSLA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 NEEPA SANJAYKUMAR NAIK	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SAVITABEN SHRIPALBHAI SHAH	2 INE601U08150	10,00,000	20,00,000
LISTED	1 VIJAY GOPALDAS MEHRA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SHACHII GAURAV MANIK	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SONALEE MILIND PARIKH	1 INE601U08150	10,00,000	10,00,000
LISTED	1 PRASHANT VIJAY SHAH	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SHAM GOPAL KANITKAR	1 INE601U08150	10,00,000	10,00,000
LISTED	1 VASANT NARAYAN SANZGIRI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 DIPTI SANZGIRI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 VIDULA D KULKARNI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 KEKI VIRAF DEHNUGARA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 ROHIN EARACH MEHTA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 ADWAIT ANANT JOGLEKAR	1 INE601U08150	10,00,000	10,00,000
LISTED	1 MITA KHONA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 AJAY ARORA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 MEENAKSHI ARORA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 NIRAV BHUSHAN MEHTA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 VIKRAM SUDHIR SAPRE	1 INE601U08150	10,00,000	10,00,000
LISTED	1 RAMYASRI SRIDHARAN	1 INE601U08150	10,00,000	10,00,000
LISTED	1 RISHAB PRABHAKAR SALIAN	2 INE601U08150	10,00,000	20,00,000
LISTED	1 BHARAT SHANTILAL SHAH	1 INE601U08150	10,00,000	10,00,000
LISTED	1 GOWTHAM G SHROFF	1 INE601U08150	10,00,000	10,00,000
LISTED	1 AJESH NARENDRAKUMAR DESAI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 PRIYANSHI PARIKH	1 INE601U08150	10,00,000	10,00,000
LISTED	1 VISPY RUSI WRITER .	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SANJAY JAYANTILAL SHAH	1 INE601U08150	10,00,000	10,00,000
LISTED	1 PRADEEP SEKHRI	3 INE601U08150	10,00,000	30,00,000
LISTED	1 JAYANTI DAMJI MARU	1 INE601U08150	10,00,000	10,00,000
LISTED	1 NIRANJANA JAYANTI MARU	1 INE601U08150	10,00,000	10,00,000
LISTED	1 APARNA KUMAR	1 INE601U08150	10,00,000	10,00,000
LISTED	1 CHANDNI KIRTIKUMAR MEHTA .	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SOHESH PRAKASH SHAH	1 INE601U08150	10,00,000	10,00,000
LISTED	1 PRAKASH DEVIDAS SHAH	1 INE601U08150	10,00,000	10,00,000
LISTED	1 ANILA PRAKASH SHAH	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SAROJ JAYANTILAL SHAH	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SHAILEE RAJU KAGALWALA	1 INE601U08150	10.00.000	10,00,000
LISTED	1 RACHNA LAKHANI .	1 INE601U08150	10,00,000	10,00,000
LISTED	1 BHAKTI LAKHANI .	1 INE601U08150	10,00,000	10,00,000
LISTED	1 PRADEEP KUMAR JOHAR	1 INE601U08150	10,00,000	10,00,000
LISTED	1 KAVIT PANKAJ VORA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 HANSA DHANKUMAR DAND	1 INE601U08150	10,00,000	10,00,000
	1 NIPA MANISH VORA			10,00,000
LISTED LISTED	1 KARSANBHAI KACHARABHAI PATEL	1 INE601U08150 3 INE601U08150	10,00,000	
			10,00,000	30,00,000
LISTED	1 MIKEN PANKAJ AJMERA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 VIPIN PALIWAL	1 INE601U08150	10,00,000	10,00,000
LISTED	1 ALPANA VARMA	2 INE601U08150	10,00,000	20,00,000
LISTED	1 PRAVIN VARMA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SHANTILAL KIRAN DAVEY	1 INE601U08150	10,00,000	10,00,000
LISTED	1 JEHAN FRAMROZ LANGRANA	2 INE601U08150	10,00,000	20,00,000
LISTED	1 SARALA BEENEEDI	1 INE601U08150	10,00,000	10,00,000
LISTED	1 MURUGANATHAN UDHAYAKUMAR .	2 INE601U08150	10,00,000	20,00,000
LISTED	1 LALITHA G .	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SNEHA AGARWAL .	1 INE601U08150	10,00,000	10,00,000
LISTED	1 OM PRAKASH AGARWAL .	1 INE601U08150	10,00,000	10,00,000
	A CANCETTA A CARTILLA	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SANGITA AGARWAL .	1 1112001000130		
LISTED LISTED	1 SANGEETA AGARWAL . 1 SANGEETA AGARWAL .	1 INE601U08150	10,00,000	10,00,000
LISTED	1 SANGEETA AGARWAL .	1 INE601U08150	10,00,000	
LISTED LISTED	1 SANGEETA AGARWAL . 1 ABHAY AGARWAL .	1 INE601U08150 1 INE601U08150	10,00,000 10,00,000	10,00,000
LISTED LISTED LISTED	1 SANGEETA AGARWAL . 1 ABHAY AGARWAL . 1 AKHIL AGARWAL .	1 INE601U08150 1 INE601U08150 1 INE601U08150	10,00,000 10,00,000 10,00,000	10,00,000 10,00,000
LISTED LISTED	1 SANGEETA AGARWAL . 1 ABHAY AGARWAL .	1 INE601U08150 1 INE601U08150	10,00,000 10,00,000	10,00,000

LISTED	1 ARUN DAS BAIJAL	2	INE601U08150	10,00,000	20,00,000
LISTED	1 PUNAM BAIJAL	1	INE601U08150	10,00,000	10,00,000
LISTED	1 HEMU RUSTOM KARBHARI .	2	INE601U08150	10,00,000	20,00,000
LISTED	1 SOUMEN DEBENDRA BASU	1	INE601U08150	10,00,000	10,00,000
LISTED	1 DINESH RAMNIKLAL VORA	1	INE601U08150	10,00,000	10,00,000
LISTED	1 MANJULABEN GUNVANTBHAI PARSANA	1	INE601U08150	10,00,000	10,00,000
LISTED	1 GUNVANTBHAI VALJIBHAI PARSANA	1	INE601U08150	10,00,000	10,00,000
LISTED	1 USHA RAMESHKUMAR MODY	1	INE601U08150	10,00,000	10,00,000
LISTED	1 NAVINCHANDRA MOHANBHAI SHANI	1	INE601U08150	10,00,000	10,00,000
LISTED	1 MEERA UNMESH NAGARKAR	1	INE601U08150	10,00,000	10,00,000
LISTED	1 DEVANG JAGDISHCHANDRA AMBANI	1	INE601U08150	10,00,000	10,00,000
LISTED	1 DARAYES B. MEHTA	1	INE601U08150	10,00,000	10,00,000
LISTED	1 RITU MANN	1	INE601U08150	10,00,000	10,00,000
LISTED	1 RAJ NARAYANAN P	1	INE601U08150	10,00,000	10,00,000
LISTED	1 NOEL CECIL SALDHANA	1	INE601U08150	10,00,000	10,00,000
LISTED	1 PRAKASHKUMAR AMBELAL MEHTA	1	INE601U08150	10,00,000	10,00,000
LISTED	1 NIRAV NAGINBHAI PATEL .	1	INE601U08150	10,00,000	10,00,000
LISTED	1 ANKUSH MAHAJAN	1	INE601U08150	10,00,000	10,00,000
LISTED	1 ADIT GHAI	1	INE601U08150	10,00,000	10,00,000
LISTED	1 RAJNI SOOD	1	INE601U08150	10,00,000	10,00,000
LISTED	1 PRITI DHARMESH SHAH	1	INE601U08150	10,00,000	10,00,000
LISTED	1 AJAY RASIKLAL VORA	1	INE601U08150	10,00,000	10,00,000
LISTED	1 KARIM VAKIL	1	INE601U08150	10,00,000	10,00,000
LISTED	1 MANAN AJAY VORA	1	INE601U08150	10,00,000	10,00,000
LISTED	1 VARSHA TUSHAR TRIPATHI	1	INE601U08150	10,00,000	10,00,000
LISTED	1 SUDESHNA MUKHOPADHYAY	1	INE601U08150	10,00,000	10,00,000
LISTED	1 SHAMLY SURENDRAN	1	INE601U08150	10,00,000	10,00,000
LISTED	1 SOHIL HARISH SHRIYAN	2	INE601U08150	10,00,000	20,00,000
LISTED	1 UDAY BHARAT MEHTA	3	INE601U08150	10,00,000	30,00,000
LISTED	1 MADHAVI NILESH MEHTA		INE601U08150	10,00,000	20,00,000
LISTED	1 ROHAN NILESH MEHTA	2	INE601U08150	10,00,000	20,00,000
LISTED	1 NEELAM UDAY MEHTA	3	INE601U08150	10,00,000	30,00,000
LISTED	1 RAHUL NILESH MEHTA	2	INE601U08150	10,00,000	20,00,000
LISTED	1 DEVIKA JAGDISH ASWANI	1	INE601U08150	10,00,000	10,00,000
LISTED	1 MEENA BHARAT VAGHANI	2	INE601U08150	10,00,000	20,00,000
LISTED	1 HANSA MAHENDRA SHAH	2	INE601U08150	10,00,000	20,00,000
LISTED	1 LEELA KUMAR .		INE601U08150	10,00,000	30,00,000
LISTED	1 PARVATI DEVI TRUST	5	INE601U08150	10,00,000	50,00,000
LISTED	1 FRANCO INDIAN PHARMACEUTICALS PVT LTD STAFF PROVIDENT FUND	3	INE601U08150	10,00,000	30,00,000
LISTED	1 TAMIL NADU CHEMICAL PRODUCTS LTD EMPLOYEES PROVIDENT FUND	1	INE601U08150	10,00,000	10,00,000
LISTED	1 Boon Investment And Trading Company Private Limited	10	INE601U08168	10,00,000	1,00,00,000
LISTED	1 SHIVALIK PRINTS LIMITED	100	INE601U08168	10,00,000	10,00,00,000
LISTED	1 SUN N SAND HOTEL PRIVATE LTD		INE601U08168	10,00,000	2,00,00,000
LISTED	1 AFCO FINCON PVT. LTD.	4	INE601U08168	10,00,000	40,00,000
LISTED	1 TRENDWITH CONSULTANCY LTD.,	3	INE601U08168	10,00,000	30,00,000
LISTED	1 MODY CHEMI PHARMA LIMITED	3	INE601U08168	10,00,000	30,00,000
LISTED	1 PRAKASH METALLIC PVT LTD		INE601U08168	10,00,000	50,00,000
LISTED	1 SATCO WEALTH PRIVATE LIMITED		INE601U08168	10,00,000	10,00,000
LISTED	1 RAGHURAM FINANCIAL SERVICES PRIVATE LIMITED		INE601U08168	10,00,000	10,00,000
LISTED	1 GROWEVER SECURITIES PVT LTD	1	INE601U08168	10,00,000	10,00,000
LISTED	1 SETRON SYNTHETICS PRIVATE		INE601U08168	10,00,000	10,00,000
LISTED	1 JRD SECURITIES PRIVATE LIMITED		INE601U08168	10,00,000	10,00,000
LISTED	1 ROSHNI AGENCIES PVT LTD		INE601U08168	10,00,000	3,00,00,000
LISTED	1 ZCON SOLUTIONS PRIVATE LIMITED		INE601U08168	10,00,000	20,00,000
LISTED	1 ESAM SHARES AND STOCK BROKERS		INE601U08168	10,00,000	20,00,000
110111111111111111111111111111111111111	PRIVATE LIMITED		1.2001000100	10,00,000	20,00,000

LISTED	1 SHREE GAJRAJ HOUSING NIRMAN PRIVATE	5	INE601U08168	10,00,000	50,00,000
LISTED	LIMITED 1 EVERLINK INVESTMENT ADVISORY	10	INE601U08168	10,00,000	1,00,00,000
LICTED	PRIVATE LIMITED	2	INE601U08168	10.00.000	20.00.000
LISTED LISTED	1 SKY OXYGEN CO LTD 1 AJIT KUMAR & OTHERS (HUF)		INE601U08168	10,00,000	20,00,000
LISTED	1 ANAND AMIT SHAH		INE601U08168	10,00,000	30,00,000 10,00,000
LISTED	1 AMIT AMBALAL SHAH		INE601U08168	10,00,000	10,00,000
LISTED	1 ANUJ AMIT SHAH	1	INE601U08168	10,00,000	10,00,000
LISTED	1 SHAH SUBODHBHAI MOHANLAL	1	INE601U08168	10,00,000	10,00,000
LISTED	1 SUNIL MANIKANT KOTHARI HUF	3	INE601U08168	10,00,000	30,00,000
LISTED	1 S N DESAI HUF	1	INE601U08168	10,00,000	10,00,000
LISTED	1 MANHAR P JARIWALA	1	INE601U08168	10,00,000	10,00,000
LISTED	1 DEEPAK RATILAL SHAH HUF	5	INE601U08168	10,00,000	50,00,000
LISTED	1 DILIP ASHOK KIRPALANI	2	INE601U08168	10,00,000	20,00,000
LISTED	1 JITEN MAHENDRA PAREKH	1	INE601U08168	10,00,000	10,00,000
LISTED	1 ARVIND GAJANAN PATANKAR	1	INE601U08168	10,00,000	10,00,000
LISTED	1 SASHI PRAKASH KHAITAN HUF	2	INE601U08168	10,00,000	20,00,000
LISTED	1 RAJNEESH CHAWLA HUF	2	INE601U08168	10,00,000	20,00,000
LISTED	1 VISHNU KUMAR GOYAL HUF	1	INE601U08168	10,00,000	10,00,000
LISTED	1 JAYENDRA NATVERLAL PATEL HUF	1	INE601U08168	10,00,000	10,00,000
LISTED	1 JASMIN VINOD SHAH	1	INE601U08168	10,00,000	10,00,000
LISTED	1 NARESH K GUPTA	2	INE601U08168	10,00,000	20,00,000
LISTED	1 JAWAHAR PAMNANY HUF	1	INE601U08168	10,00,000	10,00,000
LISTED	1 DIPESH V SHAH HUF .	1	INE601U08168	10,00,000	10,00,000
LISTED	1 JITENDRA H MEHTA HUF .	1	INE601U08168	10,00,000	10,00,000
LISTED	1 V D RAIPANCHOLIA .	1	INE601U08168	10,00,000	10,00,000
LISTED	1 RAJKUMAR P SHAH HUF.	1	INE601U08168	10,00,000	10,00,000
LISTED	1 ISHWARDAS AGARWAL RASIWASIA		INE601U08168	10,00,000	10,00,000
LISTED	1 MAHESHKUMAR ATMARAM VORA (HUF)	1	INE601U08168	10,00,000	10,00,000
LISTED	1 BIPIN PATEL HUF .	1	INE601U08168	10,00,000	10,00,000
LISTED	1 ATUL AHUJA HUF .		INE601U08168	10,00,000	20,00,000
LISTED	1 SHAH MAYANK RAMANLAL.	1	INE601U08168	10,00,000	10,00,000
LISTED	1 MAYUR B.VAGHANI HUF MAYUR	1	INE601U08168	10,00,000	10,00,000
LISTED	1 BHAVESH NAVINCHANDRA MODY HUF.	1	INE601U08168	10,00,000	10,00,000
LISTED		•	1.2001000100	10,00,000	20,00,000
LISTED	1 BALASUBRAMANIAN NARAYANASWAMY	1	INE601U08168	10,00,000	10,00,000
LISTED	PRASAD (HUF) . 1 BHAVESH B CHITALIA (HUF) .	1	INE601U08168	10,00,000	10,00,000
LISTED	1 PRAVIN KANTILAL VAKIL		INE601U08168	10,00,000	80,00,000
LISTED	1 JAYMIN BALVANTRAI DESAI HUF.	3	INE601U08168	10,00,000	30,00,000
LISTED	1 DIXIT VIJAY KRISHNA .	1	INE601U08168	10,00,000	10,00,000
LISTED	1 AK SHARES PORTFOLIO LLP		INE601U08168	10,00,000	1,00,00,000
LISTED	1 DAYCO COMMODITY BROKERS LLP	3	INE601U08168	10,00,000	30,00,000
LISTED	1 UNIQUE ASSET MANAGEMENT LLP		INE601U08168	10,00,000	20,00,000
LISTED	1 KRUTI GIRISH SHAH		INE601U08168	10,00,000	20,00,000
LISTED	1 SHIVANI E V RAJARAM TAPARIA	2	INE601U08168	10,00,000	20,00,000
LISTED	1 VIRAL PRADEEP DESAI	2	INE601U08168	10,00,000	20,00,000
LISTED	1 CHANDRAKANT SANJIVA SALIAN		INE601U08168	10,00,000	40,00,000
LISTED	1 PRANAB GANGULI		INE601U08168	10,00,000	1,00,00,000
LISTED	1 LEENA SAMIR MEHTA		INE601U08168	10,00,000	10,00,000
LISTED	1 DESIREE LACERDA		INE601U08168	10,00,000	10,00,000
LISTED	1 Ismail Siraj Kurwa		INE601U08168	10,00,000	10,00,000
LISTED	1 Niloufer Ismail Kurwa	1	INE601U08168	10,00,000	10,00,000
LISTED	1 NILABH NAGAR	2	INE601U08168	10,00,000	20,00,000
LISTED	1 C VENUGOPAL		INE601U08168	10,00,000	10,00,000
LISTED	1 REENA MANECK HIRANANDANI	2		10,00,000	20,00,000
LISTED	1 CHULANI MAYA	1	INE601U08168	10,00,000	10,00,000
LISTED LISTED	1 HAREN BHALCHANDRA JOKHAKAR 1 DEEPALI BHAVESH CHITALIA	1	INE601U08168 INE601U08168	10,00,000 10,00,000	10,00,000
LISTED	1 NEKCHEHER HOSHANG SINOR		INE601U08168	10,00,000	10,00,000 20,00,000
LISTED	1 MEENAKSHI KAUL		INE601U08168	10,00,000	30,00,000
	1 KUMUD GANGWAL		INE601U08168	10,00,000	10,00,000

LISTED	1 DR UMA SHETH	1 INE601U08168	10,00,000	10,00,000
LISTED	1 SIDDHARTO BANERJEE	2 INE601U08168	10,00,000	20,00,000
LISTED	1 VENKATESA PRASAD NARAYAN IYER	1 INE601U08168	10,00,000	10,00,000
LISTED	1 SUMIT KUMAR DATTA	1 INE601U08168	10,00,000	10,00,000
LISTED	1 DEVIKA ANAND	1 INE601U08168	10,00,000	10,00,000
LISTED	1 DAYA SRIDHAR	1 INE601U08168	10,00,000	10,00,000
LISTED	1 JAYATI DATTA	1 INE601U08168	10,00,000	10,00,000
LISTED	1 ASHOK VENILAL SURATWALA	1 INE601U08168	10,00,000	10,00,000
LISTED	1 HARESH SOHANLAL KASAT	1 INE601U08168	10,00,000	10,00,000
LISTED	1 SUDHA HARESH KASAT	1 INE601U08168	10,00,000	10,00,000
LISTED	1 NEHA HUDDAR	1 INE601U08168	10,00,000	10,00,000
LISTED	1 SEEMA KUMAR	1 INE601U08168	10,00,000	10,00,000
LISTED	1 PARVATHI	1 INE601U08168	10,00,000	10,00,000
LISTED	1 LEAH NOEL TATA	5 INE601U08168	10,00,000	50,00,000
LISTED	1 AMIN PARUL RASENDRABHAI	1 INE601U08168	10,00,000	10,00,000
LISTED	1 ATUL RAMESH DATTANI	3 INE601U08168	10,00,000	30,00,000
LISTED	1 NISHTHA AGRAWAL	1 INE601U08168	10,00,000	10,00,000
LISTED	1 ALOK KUMAR	1 INE601U08168	10,00,000	10,00,000
LISTED	1 SHWETA BHARGAVA	1 INE601U08168	10,00,000	10,00,000
LISTED	1 KAMALA BALASUBRAMANIAN	1 INE601U08168	10,00,000	10,00,000
LISTED	1 THRESMI PHILIP	1 INE601U08168	10,00,000	10,00,000
LISTED	1 ARUN KUMAR KOTHARI	1 INE601U08168	10,00,000	10,00,000
LISTED	1 SHITAL J PATEL	2 INE601U08168	10,00,000	20,00,000
LISTED	1 ADITYAKUMAR PAWAR	1 INE601U08168	10,00,000	10,00,000
LISTED	1 CHETAN SURENDRABHAI SHAH	1 INE601U08168	10,00,000	10,00,000
LISTED	1 MANISHA MITESH DALAL	1 INE601U08168	10,00,000	10,00,000
LISTED	1 VANSH MITESH DALAL	1 INE601U08168	10,00,000	10,00,000
LISTED	1 KANAN BIRENDRA SHAH	2 INE601U08168	10,00,000	20,00,000
LISTED	1 RAJESWARI RAMAN	1 INE601U08168	10,00,000	10,00,000
LISTED	1 RAM TAWAKYA SINGH	1 INE601U08168	10,00,000	10,00,000
LISTED	1 JAGDISH RAJARAM VAIDYA	1 INE601U08168	10,00,000	10,00,000
LISTED	1 DALIP DAGA	1 INE601U08168	10,00,000	10,00,000
LISTED	1 JOHN LOUIS PINTO	1 INE601U08168	10,00,000	10,00,000
LISTED	1 PARESH RANJIT KAPADIA	15 INE601U08168	10,00,000	1,50,00,000
LISTED	1 ANJALI GOEL	1 INE601U08168	10,00,000	10,00,000
LISTED	1 SWARNA ATUL KAJI	2 INE601U08168	10,00,000	20,00,000
LISTED	1 SHUBHANGI KISHOR MALI	2 INE601U08168	10,00,000	20,00,000
LISTED	1 KISHOR KONDIBA MALI	1 INE601U08168	10,00,000	10,00,000
LISTED	1 ALOK KANAGAT	4 INE601U08168	10.00.000	40,00,000
LISTED	1 PARAG PATWA	2 INE601U08168	10,00,000	20,00,000
LISTED	1 KHURSHED R PRINTER	1 INE601U08168	10,00,000	10,00,000
LISTED	1 DEVESH R JAYKRISHNA	1 INE601U08168	10.00.000	10,00,000
LISTED	1 H V KEDLAYA	2 INE601U08168	10,00,000	20,00,000
LISTED	1 ANSHU BHARTIA	1 INE601U08168	10,00,000	10,00,000
LISTED	1 NANDITA V SHAH	1 INE601U08168	10,00,000	10,00,000
LISTED	1 AASHWINA MOULI	20 INE601U08168	10,00,000	2,00,00,000
LISTED	1 JUGALKISHORE MUGATLAL SHAH	1 INE601U08168	10,00,000	10,00,000
LISTED	1 K VENKATARAMANAN	1 INE601U08168	10,00,000	10,00,000
LISTED	1 ASHWINI A SOOD	1 INE601U08168	10,00,000	10,00,000
LISTED	1 B G ANIRUDH	1 INE601U08168	10,00,000	10,00,000
LISTED	1 BIMLA SURANA	1 INE601U08168	10,00,000	10,00,000
LISTED	1 MAYANK MITTAL	1 INE601U08168	10,00,000	10,00,000
LISTED	1 POOJA DEEPAK SHAH	3 INE601U08168	10,00,000	30,00,000
LISTED	1 LAKSHMI SARATH	1 INE601U08168	10,00,000	10,00,000
LISTED	1 POORNIMA NATARAJA	1 INE601U08168	10,00,000	10,00,000
LISTED	1 ALPA CHETAN SHETH	1 INE601U08168	10,00,000	10,00,000
LISTED	1 C.LALITHA	2 INE601U08168	10,00,000	20,00,000
LISTED	1 THOPPAE RAMACHANDRAN MOTHILAL	1 INE601U08168	10,00,000	10,00,000
TIO I ED	I I TOFFAE KAWACHANDKAN WO I HILAL	1 IINE001008108	10,00,000	10,00,000
LISTED	1 SAHAYA RAHELA	1 INE601U08168	10,00,000	10,00,000
LISTED	1 JAYAMANOKARAN SELVI	1 INE601U08168	10,00,000	10,00,000
LISTED	1 MUTHIAH SWAMINATHAN	1 INE601U08168	10,00,000	10,00,000
LISTED	1 MAHENDRA KANTILAL SHAH	1 INE601U08168	10,00,000	10,00,000

LISTED	1 PRATIBHABEN MAHENDRABHAI SHAH	2 INE601U08168	10,00,000	20,00,000
LISTED	1 PIYUSH JESHINGLAL PARIKH	1 INE601U08168	10,00,000	10,00,000
LISTED	1 JITENDRA MULRAJ MERCHANT	1 INE601U08168	10,00,000	10,00,000
LISTED	1 NEHA MAHESH DASWANI	1 INE601U08168	10,00,000	10,00,000
LISTED	1 REKHA MILAN SHAH	1 INE601U08168	10,00,000	10,00,000
LISTED	1 MILIND PIYUSH PARIKH	1 INE601U08168	10,00,000	10,00,000
LISTED	1 HARSH PIYUSH PARIKH	2 INE601U08168	10,00,000	20,00,000
LISTED	1 VAISHALI PRAKASH KOTADIA	1 INE601U08168	10,00,000	10,00,000
LISTED	1 YVONNE PAMELA SOLOMON	1 INE601U08168	10,00,000	10,00,000
LISTED	1 JACINTA MENDONCA	1 INE601U08168	10,00,000	10,00,000
LISTED	1 ANAND VARDHAN KOTHARI	1 INE601U08168	10,00,000	10,00,000
LISTED	1 KAPADIA DHARMAKUMAR CHARANDAS	1 INE601U08168	10,00,000	10,00,000
LISTED	1 JAIRAM MENON	1 INE601U08168	10,00,000	10,00,000
LISTED	1 FARIDA HOSHANG WADIA	1 INE601U08168	10,00,000	10,00,000
LISTED	1 SAPNA SURI	1 INE601U08168	10,00,000	10,00,000
LISTED	1 ASHA HAREN JOKHAKAR	1 INE601U08168	10,00,000	10,00,000
LISTED	1 BACHI DINSHAW TAMBOLY	1 INE601U08168	10,00,000	10,00,000
LISTED	1 HARSHIL DHARMESH SHAH	1 INE601U08168	10,00,000	10,00,000
LISTED	1 SHAH VINI HARSHIL	1 INE601U08168	10,00,000	10,00,000
LISTED	1 VIKRAM P KULKARNI	1 INE601U08168	10,00,000	10,00,000
LISTED	1 ARUN VISHWAS SATHE	1 INE601U08168	10,00,000	10,00,000
LISTED	1 RITU AGGARWAL	1 INE601U08168	10,00,000	10,00,000
LISTED	1 RAMAKANT GARG	4 INE601U08168	10,00,000	40,00,000
LISTED	1 DILIP KUMAR BHANDARI	1 INE601U08168	10,00,000	10,00,000
LISTED	1 ASHWANI WINDLASS	3 INE601U08168	10,00,000	30,00,000
LISTED	1 FALGUNI DIVYESH SHAH	1 INE601U08168	10,00,000	10,00,000
LISTED	1 LAKSHMI CHANDRU	1 INE601U08168	10,00,000	10,00,000
LISTED	1 S BALASUBRAMANIAN	1 INE601U08168	10,00,000	10,00,000
LISTED	1 K RAGOTHAMAN	1 INE601U08168	10,00,000	10,00,000
LISTED	1 P S SANKARANARAYANAN	1 INE601U08168	10,00,000	10,00,000
LISTED	1 JYOTIBEN SUDIPBHAI PATEL	2 INE601U08168	10,00,000	20,00,000
LISTED	1 JIMMY MANSUKHLAL JAGANI	2 INE601U08168	10,00,000	20,00,000
LISTED	1 NEERJA BAJAJ	1 INE601U08168	10,00,000	10,00,000
LISTED	1 K R G SHARAD	1 INE601U08168	10,00,000	10,00,000
LISTED	1 NAZIR JAMIL BALSARA	1 INE601U08168	10,00,000	10,00,000
LISTED	1 SWATI ROHIT MARU	1 INE601U08168	10,00,000	10,00,000
LISTED	1 MAYANK PRADYUMNA SHAH	1 INE601U08168	10,00,000	10,00,000
LISTED	1 KUSUM SARAF	2 INE601U08168	10,00,000	20,00,000
LISTED	1 PATEL MIHIR PRAVINCHANDRA	1 INE601U08168	10,00,000	10,00,000
LISTED	1 PRANAY BHAGERIA	2 INE601U08168	10,00,000	20,00,000
LISTED	1 PRIYANKA BHAGERIA	6 INE601U08168	10,00,000	60,00,000
LISTED	1 KRITI BHAGERIA	1 INE601U08168	10,00,000	10,00,000
LISTED	1 JANDHYALA NARAYANA MURTHY	1 INE601U08168	10,00,000	10,00,000
LISTED	1 MUTHUKRISHNAN VENKATARAMAN	2 INE601U08168	10,00,000	20,00,000
LISTED	1 SHRAVAN RAJESH MANGHANI	1 INE601U08168	10,00,000	10,00,000
LISTED	1 KALPANA RANI SHAW	1 INE601U08168	10,00,000	10,00,000
LISTED	1 SUBBALAKSHMI MURTY	2 INE601U08168	10,00,000	20,00,000
LISTED	1 ABHA BHANDARI	3 INE601U08168	10,00,000	30,00,000
LISTED	1 MANAV WINDLASS	1 INE601U08168	10,00,000	10,00,000
LISTED	1 MONAZ S DARUWALLA	1 INE601U08168	10,00,000	10,00,000
LISTED	1 ANIL BERERA	12 INE601U08168	10,00,000	1,20,00,000
LISTED	1 SHANTHI NARESH	2 INE601U08168	10,00,000	20,00,000
LISTED	1 KAMLAKAR P MAHAJANI	1 INE601U08168	10,00,000	10,00,000
LISTED	1 GOOL PERVEZ TALATI	1 INE601U08168	10,00,000	10,00,000
LISTED	1 KURUSH J IRANI	1 INE601U08168	10,00,000	10,00,000
LISTED	1 DEVYANI DEEPAK SHAH	2 INE601U08168	10,00,000	20,00,000
LISTED	1 DIPAK RATILAL SHAH	3 INE601U08168	10,00,000	30,00,000
LISTED	1 PRANAV JAYANTILAL PANCHAL	10 INE601U08168	10,00,000	1,00,00,000
LISTED	1 SVEN JOHN SALDANHA	1 INE601U08168	10,00,000	10,00,000
LISTED	1 MUKESH CHHAJED	2 INE601U08168	10,00,000	20,00,000
LISTED	1 SEJAL DEEPAK PARIKH	1 INE601U08168	10,00,000	10,00,000

LISTED	1 PREMILABEN VIRENDRAKUMAR SHAH	1 INE601U08168	10,00,000	10,00,000
LISTED	1 HARVINDER BHASIN	1 INE601U08168	10,00,000	10,00,000
LISTED	1 LYLA JIMMY BAVAADAM	1 INE601U08168	10,00,000	10,00,000
LISTED	1 REKHA MANHAR JARIWALA	1 INE601U08168	10.00.000	10,00,000
LISTED	1 SHRINIWAS VIJAY DIXIT	1 INE601U08168	10,00,000	10,00,000
LISTED	1 HIMANSHUBHAI DOLATRAM NANDWANA	10 INE601U08168	10,00,000	1,00,00,000
LISTED	1 SURESHBHAI DOLATRAM NANDWANA	10 INE601U08168	10,00,000	1,00,00,000
			40.00.000	
LISTED	1 DIVYA SARAF	5 INE601U08168	10,00,000	50,00,000
LISTED	1 PARVATHY RAMAN	1 INE601U08168	10,00,000	10,00,000
LISTED	1 MANSUKHLAL CHHAGANLAL JAGANI	1 INE601U08168	10,00,000	10,00,000
LISTED	1 SHYAM GULAB JESWANI	1 INE601U08168	10,00,000	10,00,000
LISTED	1 CHHAYA JAWRILAL JAIN	1 INE601U08168	10,00,000	10,00,000
LISTED	1 B DEEPTHI	1 INE601U08168	10,00,000	10,00,000
LISTED	1 B AARTHI	1 INE601U08168	10,00,000	10,00,000
LISTED	1 VAIJAYANTI V MAHAJAN	1 INE601U08168	10,00,000	10,00,000
LISTED	1 ANIL SHANKAR SATHE	1 INE601U08168	10,00,000	10,00,000
LISTED	1 ILLABEN MANHARBHAI SHAH	1 INE601U08168	10,00,000	10,00,000
LISTED	1 MEGHANA SHATISHBHAI SHAH	1 INE601U08168	10,00,000	10,00,000
LISTED	1 JYOTIBEN NITINBHAI SHAH	1 INE601U08168	10,00,000	10,00,000
LISTED	1 SAROJBEN DINESHKUMAR SHAH	1 INE601U08168 1 INE601U08168	10,00,000	10,00,000
LISTED LISTED	1 SMITABEN RAJESHKUMAR SHAH 1 JYOTI SHIRALI	1 INE601U08168	10,00,000	10,00,000
LISTED	1 DEVYANIBEN RAJESH JAYKRISHNA	1 INE601U08168	10,00,000	10,00,000
LISTED	1 K CHANDRU	1 INE601U08168	10,00,000	10,00,000
LISTED	1 TUSHAR KANTI CHOPRA	2 INE601U08168	10,00,000	20,00,000
LISTED	1 KSHITIJA VARADAN	1 INE601U08168	10,00,000	10,00,000
LISTED	1 MATANGI VARADAN CHARI	1 INE601U08168	10,00,000	10,00,000
LISTED	1 ASHAY SHREYAS MEHTA	1 INE601U08168	10,00,000	10,00,000
LISTED	1 SARITA RAMESH MEHTA	2 INE601U08168	10,00,000	20,00,000
LISTED	1 SHREYAS RAMNIKLAL MEHTA	2 INE601U08168	10,00,000	20,00,000
LISTED	1 NILIMA SHREYAS MEHTA	1 INE601U08168	10,00,000	10,00,000
LISTED	1 DAMYANTI KHAITAN	3 INE601U08168	10,00,000	30,00,000
LISTED	1 PARTHA SARATHI BHATTACHARYYA	5 INE601U08168	10,00,000	50,00,000
LISTED	1 PERSIS RUSI MODI	1 INE601U08168	10,00,000	10,00,000
LISTED	1 MAYURI MEHTA	1 INE601U08168	10,00,000	10,00,000
LISTED	1 MANLEEN SHANT	1 INE601U08168	10,00,000	10,00,000
LISTED	1 KAPIL DHARMAKUMAR KAPADIA	1 INE601U08168	10,00,000	10,00,000
LISTED	1 MEENAL MAHENDRU	2 INE601U08168	10,00,000	20,00,000
LISTED	1 SHIVANI DINESH GOEL	1 INE601U08168	10,00,000	10,00,000
LISTED	1 SHUBHRA SANTOSH DAVE	1 INE601U08168	10,00,000	10,00,000
LISTED	1 MAMTA SANGHVI	7 INE601U08168	10,00,000	70,00,000
LISTED	1 DIPAK SANGHVI	3 INE601U08168	10,00,000	30,00,000
LISTED	1 BHAVANA OBEROI	1 INE601U08168	10,00,000	10,00,000
LISTED	1 PUSHPA SHIVAJIRAO DESHMUKH	1 INE601U08168	10,00,000	10,00,000
LISTED	1 DINYAR FRAMROZE PANTHAKI	3 INE601U08168	10,00,000	30,00,000
LISTED	1 KRISHNABEN MADHUKAR CHOKSI	2 INE601U08168	10,00,000	20,00,000
LISTED	1 ANNAPOORNI V. IYER	1 INE601U08168	10,00,000	10,00,000
LISTED	1 VENKITARAMAN S. IYER	1 INE601U08168	10,00,000	10,00,000
LISTED	1 SAROJ JAIRAJ BHAM	1 INE601U08168	10,00,000	10,00,000
LISTED	1 SHILPA KAUSHIK PATEL	1 INE601U08168	10,00,000	10,00,000
LISTED	1 KAUSHIKBHAI ATMARAMBHAI PATEL	1 INE601U08168	10,00,000	10,00,000
LISTED	1 DARSHNA DHARMENDRA PANDYA	1 INE601U08168	10,00,000	10,00,000
LISTED	1 RAJENDRA MANGILAL SHINGI	1 INE601U08168	10,00,000	10,00,000
LISTED	1 RASHMI RAJENDRA SHINGI	1 INE601U08168	10,00,000	10,00,000
LISTED	1 RAMA KANT SHARMA	3 INE601U08168	10,00,000	30,00,000
LISTED	1 PAYAL VINIT SANGHVI	1 INE601U08168	10,00,000	10,00,000
LISTED	1 SANDEEP M GANGOLLI	1 INE601U08168	10,00,000	10,00,000
LISTED	1 H P CHANDRAKALA	1 INE601U08168	10,00,000	10,00,000

LISTED 1 S PARSWANATH 1 INE601U08168 10,00,000 LISTED 1 AMI MALAV SHAH 1 INE601U08168 10,00,000 LISTED 1 RAJESH GUPTA 5 INE601U08168 10,00,000 LISTED 1 URMILA DEVI 1 INE601U08168 10,00,000 LISTED 1 KERUL DINESHKUMAR DESAI 1 INE601U08168 10,00,000 LISTED 1 JAYENDRABHAI NATVERLAL PATEL 2 INE601U08168 10,00,000 LISTED 1 PAULOMI RAMESH SHAH 2 INE601U08168 10,00,000 LISTED 1 KINJAL KRUNALKUMAR PATEL 1 INE601U08168 10,00,000 LISTED 1 HETALBEN JATINBHAI PATEL 1 INE601U08168 10,00,000 LISTED 1 VIMALABEN MUKESHBHAI PATEL 1 INE601U08168 10,00,000 LISTED 1 JANKI PANKILKUMAR AMIN 1 INE601U08168 10,00,000 LISTED 1 PREETI NIGAM PARIKH 1 INE601U08168 10,00,000 LISTED 1 JAYDEEPBHAI ARVINDBHAI SHAH 1 INE601U08168 10,00,000 LISTED 1 SUMITA GUHA 3 INE601U08168 10,00,000 LISTED 1 OM PRAKASH MISHRA	10,00,000 10,00,000 10,00,000 10,00,000 20,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 20,00,000 20,00,000 20,00,000 20,00,000
LISTED 1 URMILA DEVI 1 INE601U08168 10,00,000 LISTED 1 KERUL DINESHKUMAR DESAI 1 INE601U08168 10,00,000 LISTED 1 JAYENDRABHAI NATVERLAL PATEL 2 INE601U08168 10,00,000 LISTED 1 PAULOMI RAMESH SHAH 2 INE601U08168 10,00,000 LISTED 1 KINJAL KRUNALKUMAR PATEL 1 INE601U08168 10,00,000 LISTED 1 HETALBEN JATINBHAI PATEL 1 INE601U08168 10,00,000 LISTED 1 VIMALABEN MUKESHBHAI PATEL 1 INE601U08168 10,00,000 LISTED 1 JANKI PANKILKUMAR AMIN 1 INE601U08168 10,00,000 LISTED 1 PREETI NIGAM PARIKH 1 INE601U08168 10,00,000 LISTED 1 JAYDEEPBHAI ARVINDBHAI SHAH 1 INE601U08168 10,00,000 LISTED 1 SUMITA GUHA 3 INE601U08168 10,00,000 LISTED 1 OM PRAKASH MISHRA 2 INE601U08168 10,00,000	50,00,000 10,00,000 10,00,000 20,00,000 20,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 20,00,000 20,00,000 20,00,000 20,00,000
LISTED I KERUL DINESHKUMAR DESAI 1 INE601U08168 10,00,000 LISTED I JAYENDRABHAI NATVERLAL PATEL 2 INE601U08168 10,00,000 LISTED I PAULOMI RAMESH SHAH 2 INE601U08168 10,00,000 LISTED I KINJAL KRUNALKUMAR PATEL 1 INE601U08168 10,00,000 LISTED I HETALBEN JATINBHAI PATEL 1 INE601U08168 10,00,000 LISTED I VIMALABEN MUKESHBHAI PATEL 1 INE601U08168 10,00,000 LISTED I JANKI PANKILKUMAR AMIN 1 INE601U08168 10,00,000 LISTED I PREETI NIGAM PARIKH 1 INE601U08168 10,00,000 LISTED I JAYDEEPBHAI ARVINDBHAI SHAH 1 INE601U08168 10,00,000 LISTED I SUMITA GUHA 3 INE601U08168 10,00,000 LISTED 1 OM PRAKASH MISHRA 2 INE601U08168 10,00,000	10,00,000 10,00,000 20,00,000 20,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 20,00,000 20,00,000 20,00,000
LISTED 1 JAYENDRABHAI NATVERLAL PATEL 2 INE601U08168 10,00,000 LISTED 1 PAULOMI RAMESH SHAH 2 INE601U08168 10,00,000 LISTED 1 KINJAL KRUNALKUMAR PATEL 1 INE601U08168 10,00,000 LISTED 1 HETALBEN JATINBHAI PATEL 1 INE601U08168 10,00,000 LISTED 1 VIMALABEN MUKESHBHAI PATEL 1 INE601U08168 10,00,000 LISTED 1 JANKI PANKILKUMAR AMIN 1 INE601U08168 10,00,000 LISTED 1 PREETI NIGAM PARIKH 1 INE601U08168 10,00,000 LISTED 1 JAYDEEPBHAI ARVINDBHAI SHAH 1 INE601U08168 10,00,000 LISTED 1 SUMITA GUHA 3 INE601U08168 10,00,000 LISTED 1 OM PRAKASH MISHRA 2 INE601U08168 10,00,000	20,00,000 20,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 30,00,000 20,00,000 20,00,000
LISTED 1 PAULOMI RAMESH SHAH 2 INE601U08168 10,00,000 LISTED 1 KINJAL KRUNALKUMAR PATEL 1 INE601U08168 10,00,000 LISTED 1 HETALBEN JATINBHAI PATEL 1 INE601U08168 10,00,000 LISTED 1 VIMALABEN MUKESHBHAI PATEL 1 INE601U08168 10,00,000 LISTED 1 JANKI PANKILKUMAR AMIN 1 INE601U08168 10,00,000 LISTED 1 PREETI NIGAM PARIKH 1 INE601U08168 10,00,000 LISTED 1 JAYDEEPBHAI ARVINDBHAI SHAH 1 INE601U08168 10,00,000 LISTED 1 SUMITA GUHA 3 INE601U08168 10,00,000 LISTED 1 OM PRAKASH MISHRA 2 INE601U08168 10,00,000	20,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 20,00,000 20,00,000
LISTED 1 KINJAL KRUNALKUMAR PATEL 1 INE601U08168 10,00,000 LISTED 1 HETALBEN JATINBHAI PATEL 1 INE601U08168 10,00,000 LISTED 1 VIMALABEN MUKESHBHAI PATEL 1 INE601U08168 10,00,000 LISTED 1 JANKI PANKILKUMAR AMIN 1 INE601U08168 10,00,000 LISTED 1 PREETI NIGAM PARIKH 1 INE601U08168 10,00,000 LISTED 1 JAYDEEPBHAI ARVINDBHAI SHAH 1 INE601U08168 10,00,000 LISTED 1 SUMITA GUHA 3 INE601U08168 10,00,000 LISTED 1 OM PRAKASH MISHRA 2 INE601U08168 10,00,000	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 30,00,000 20,00,000 20,00,000
LISTED 1 HETALBEN JATINBHAI PATEL 1 INE601U08168 10,00,000 LISTED 1 VIMALABEN MUKESHBHAI PATEL 1 INE601U08168 10,00,000 LISTED 1 JANKI PANKILKUMAR AMIN 1 INE601U08168 10,00,000 LISTED 1 PREETI NIGAM PARIKH 1 INE601U08168 10,00,000 LISTED 1 JAYDEEPBHAI ARVINDBHAI SHAH 1 INE601U08168 10,00,000 LISTED 1 SUMITA GUHA 3 INE601U08168 10,00,000 LISTED 1 OM PRAKASH MISHRA 2 INE601U08168 10,00,000	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 30,00,000 20,00,000 20,00,000
LISTED 1 VIMALABEN MUKESHBHAI PATEL 1 INE601U08168 10,00,000 LISTED 1 JANKI PANKILKUMAR AMIN 1 INE601U08168 10,00,000 LISTED 1 PREETI NIGAM PARIKH 1 INE601U08168 10,00,000 LISTED 1 JAYDEEPBHAI ARVINDBHAI SHAH 1 INE601U08168 10,00,000 LISTED 1 SUMITA GUHA 3 INE601U08168 10,00,000 LISTED 1 OM PRAKASH MISHRA 2 INE601U08168 10,00,000	10,00,000 10,00,000 10,00,000 10,00,000 30,00,000 20,00,000 20,00,000
LISTED 1 JANKI PANKILKUMAR AMIN 1 INE601U08168 10,00,000 LISTED 1 PREETI NIGAM PARIKH 1 INE601U08168 10,00,000 LISTED 1 JAYDEEPBHAI ARVINDBHAI SHAH 1 INE601U08168 10,00,000 LISTED 1 SUMITA GUHA 3 INE601U08168 10,00,000 LISTED 1 OM PRAKASH MISHRA 2 INE601U08168 10,00,000	10,00,000 10,00,000 10,00,000 30,00,000 20,00,000 20,00,000
LISTED 1 PREETI NIGAM PARIKH 1 INE601U08168 10,00,000 LISTED 1 JAYDEEPBHAI ARVINDBHAI SHAH 1 INE601U08168 10,00,000 LISTED 1 SUMITA GUHA 3 INE601U08168 10,00,000 LISTED 1 OM PRAKASH MISHRA 2 INE601U08168 10,00,000	10,00,000 10,00,000 30,00,000 20,00,000 20,00,000
LISTED 1 JAYDEEPBHAI ARVINDBHAI SHAH 1 INE601U08168 10,00,000 LISTED 1 SUMITA GUHA 3 INE601U08168 10,00,000 LISTED 1 OM PRAKASH MISHRA 2 INE601U08168 10,00,000	10,00,000 30,00,000 20,00,000 20,00,000
LISTED 1 SUMITA GUHA 3 INE601U08168 10,00,000 LISTED 1 OM PRAKASH MISHRA 2 INE601U08168 10,00,000	30,00,000 20,00,000 20,00,000
LISTED 1 OM PRAKASH MISHRA 2 INE601U08168 10,00,000	20,00,000 20,00,000
	20,00,000
LISTED 1 RAJASI BOSE 2 INE601U08168 10,00,000	10.00.000
LISTED 1 DAVID RASQUINHA 1 INE601U08168 10,00,000	10,00,000
LISTED 1 MILIND SHASHIKANT AJGAONKAR 1 INE601U08168 10,00,000	10,00,000
LISTED 1 LANDGE SEEMA P 2 INE601U08168 10,00,000	20,00,000
LISTED 1 ARCHANA PALIWAL 1 INE601U08168 10,00,000	10,00,000
LISTED 1 VENKATRAMAN KOLLENGODE 1 INE601U08168 10,00,000	10,00,000
SUBRAMANIAN	
LISTED 1 AMALESH ROY 1 INE601U08168 10,00,000	10,00,000
LISTED 1 Bhushan C Mehta 1 INE601U08168 10,00,000	10,00,000
LISTED 1 Rekha Gupta 2 INE601U08168 10,00,000	20,00,000
LISTED 1 VARSHA KETANKUMAR DESAI 2 INE601U08168 10,00,000	20,00,000
LISTED 1 GAURAV ARVIND KARNIK 1 INE601U08168 10,00,000	10,00,000
LISTED 1 JIBAN BALLAV SAHOO 1 INE601U08168 10,00,000	10,00,000
LISTED 1 KUNAL NARESH ARYA 1 INE601U08168 10,00,000	10,00,000
LISTED 1 SUJOY DATTA 1 INE601U08168 10,00,000	10,00,000
LISTED 1 DEBASISH BANERJEE 1 INE601U08168 10,00,000	10,00,000
LISTED 1 PARUL JAGGI 1 INE601U08168 10,00,000	10,00,000
LISTED 1 SURENDRAKUMAR SIRIRAM JAGGI 1 INE601U08168 10,00,000	10,00,000
LISTED 1 MEGHNA AMISH CHANDARANA 1 INE601U08168 10,00,000	10,00,000
LISTED 1 SANJEEV BANSAL 1 INE601U08168 10,00,000	10,00,000
LISTED 1 SRIDHAR G 1 INE601U08168 10,00,000	10,00,000
LISTED 1 PRAKASH BALKRISHNA SHIMPI 1 INE601U08168 10,00,000	10,00,000
LISTED 1 T RAMALINGAM 1 INE601U08168 10,00,000	10,00,000
LISTED 1 DIPANKAR BASU 1 INE601U08168 10,00,000	10,00,000
LISTED 1 GITALI DATTA 1 INE601U08168 10,00,000	10,00,000
LISTED 1 NISHIKANT JAYAVANT MUPID 1 INE601U08168 10,00,000	10,00,000
LISTED 1 MADHAV WINDLASS 1 INE601U08168 10,00,000	10,00,000
LISTED 1 SHYAMALA HARISHCHANDRA SALIAN 1 INE601U08168 10,00,000	10,00,000
LISTED 1 KANTA SHARMA 1 INE601U08168 10,00,000	10,00,000
LISTED 1 VIJAY RAMKRISHNA DEO 1 INE601U08168 10,00,000	10,00,000
LISTED 1 RAMAN VENKATAKRISHNAN 1 INE601U08168 10,00,000	10,00,000
LISTED 1 UDAYAN AJIT SHAH 8 INE601U08168 10,00,000	80,00,000
LISTED 1 VANDANA SABHARWAL 1 INE601U08168 10,00,000	10,00,000
LISTED 1 SHASHI JASWAL 1 INE601U08168 10,00,000	10,00,000
LISTED 1 UMA RATHI 1 INE601U08168 10,00,000	10,00,000
LISTED 1 RENU SUNEJA 2 INE601U08168 10,00,000	20,00,000
LISTED 1 HEMLAL BADHO MODI 1 INE601U08168 10,00,000	10,00,000
LISTED 1 SHANTI JAIN 1 INE601U08168 10,00,000	10,00,000
LISTED 1 ARATI DESAI 1 INE601U08168 10,00,000	10,00,000
LISTED 1 SHARAN DILIP KUMAR DESAI 1 INE601U08168 10,00,000	10,00,000
LISTED 1 ASHOK KUMAR TRIVEDI 2 INE601U08168 10,00,000	20,00,000
LISTED 1 NIDHI TRIVEDI 1 INE601U08168 10,00,000	10,00,000
LISTED 1 VILAS SHANTARAM RASAL 1 INE601U08168 10,00,000	10,00,000
LISTED 1 NEETA SANTOSH GORE 1 INE601U08168 10,00,000	10,00,000
LISTED 1 VIVEK NARAYAN CHAPHEKAR 2 INE601U08168 10,00,000	20,00,000
LISTED 1 HARSHVADAN NAVNITLAL MEHTA 1 INE601U08168 10,00,000	10,00,000
LISTED 1 SONALI DEEPAK NANDE 1 INE601U08168 10,00,000	10,00,000
LISTED 1 SURAT SUHAGIN DESAI 1 INE601U08168 10,00,000	10,00,000

LISTED	1 VAMI A DHACWAN MEDANI	1 INE 6011109169	10.00.000	10.00.000
LISTED	1 KAMLA BHAGWAN MERANI 1 RAMDULARI R SHARMA	1 INE601U08168 1 INE601U08168	10,00,000	10,00,000
LISTED	1 ZARNI PATEL THOMAS	1 INE601U08168	10,00,000	10,00,000
LISTED	1 NEETA SANJAY SHAH	1 INE601U08168	10,00,000	10,00,000
LISTED	1 FARIDA SHABBIR KINKHABWALA	1 INE601U08168	10,00,000	10,00,000
LISTED	1 HIMANSHU DHIRENDRA DIVECHA	1 INE601U08168	10,00,000	10,00,000
LISTED	1 SANTOSH VASANT TAMHANE	1 INE601U08168	10,00,000	10,00,000
LISTED	1 KAMLESH SHAH	1 INE601U08168	10,00,000	10,00,000
LISTED	1 VINEY CHAND JAIN	1 INE601U08168	10,00,000	10,00,000
LISTED	1 SUHAS DAMODAR SATHE	2 INE601U08168	10,00,000	20,00,000
LISTED	1 BHAVINI DEEPAK HARIA	1 INE601U08168	10,00,000	10,00,000
LISTED	1 ROHINI KOTHA	1 INE601U08168	10,00,000	10,00,000
LISTED	1 KOBAD NARIMAN GHEEWALA	1 INE601U08168	10,00,000	10,00,000
LISTED	1 SUSHAMA SHASHANK DESAI	1 INE601U08168	10,00,000	10,00,000
LISTED	1 DILIP KUMAR TIWARI	3 INE601U08168	10,00,000	30,00,000
LISTED	1 SURENDRA BAFNA	1 INE601U08168	10,00,000	10,00,000
LISTED	1 VIVEK MANDHATA	1 INE601U08168	10,00,000	10,00,000
LISTED	1 RUPAL D. DOSHI	1 INE601U08168	10,00,000	10,00,000
LISTED	1 KRUTI MANISHKUMAR BAGADIA	1 INE601U08168	10,00,000	10,00,000
LISTED	1 TRUPTI KAUSHAL KOTHARI	1 INE601U08168	10,00,000	10,00,000
LISTED	1 ALPA GOPANI	1 INE601U08168	10,00,000	10,00,000
LISTED	1 KISHORE RAVJIBHAI PATEL	1 INE601U08168	10,00,000	10,00,000
LISTED	1 KALPANA PRAKASH THAKKAR	4 INE601U08168	10,00,000	40,00,000
LISTED	1 PRAKASH CHANDULAL THAKKAR	11 INE601U08168	10,00,000	1,10,00,000
LISTED	1 RUPA NILESH GOPANI	1 INE601U08168	10,00,000	10,00,000
LISTED	1 MUKESH MAGANLAL SHAH	6 INE601U08168	10,00,000	60,00,000
LISTED	1 BIMAL MUKESH SHAH	5 INE601U08168	10,00,000	50,00,000
LISTED LISTED	1 RAMSWARUP L SHILU 1 SHAMMI VERMA	1 INE601U08168 1 INE601U08168	10,00,000	10,00,000
LISTED	1 SUNITA YOGESH MARU	1 INE601U08168	10,00,000	10,00,000
LISTED	1 KSHAMA KASHYAP THAKORE	1 INE601U08168	10,00,000	10,00,000
LISTED	1 HETAL KOTHARI	2 INE601U08168	10,00,000	20,00,000
LISTED	1 MANGALA JAGANNATH KALE	1 INE601U08168	10,00,000	10,00,000
LISTED	1 DHARMESH B PANDYA	1 INE601U08168	10,00,000	10,00,000
LISTED	1 KRISHNAIAH NANJAIAH NEELATHALLI	1 INE601U08168	10,00,000	10,00,000
LISTED	1 JAWAHAR PAMNANY	1 INE601U08168	10,00,000	10,00,000
LISTED	1 PRAMOD MANI IYER	1 INE601U08168	10,00,000	10,00,000
LISTED	1 RENU MAHNA	1 INE601U08168	10,00,000	10,00,000
LISTED	1 MANISH BHUPATRAI TRIVEDI	2 INE601U08168	10,00,000	20,00,000
LISTED	1 MOMIN FEMINABANU SALIM	1 INE601U08168	10,00,000	10,00,000
LISTED	1 ZUBEDABANU FAKIRMOHMED MOMIN	1 INE601U08168	10,00,000	10,00,000
LISTED	1 BATUL ZAHERA SALIM MOMIN	1 INE601U08168	10,00,000	10,00,000
LISTED	1 PINAKINI VINODCHANDRA PATEL	2 INE601U08168	10,00,000	20,00,000
LISTED	1 KIRAN KAUSHIK SAVLA	1 INE601U08168	10,00,000	10,00,000
LISTED	1 KALA JASHWANT SHAH	1 INE601U08168	10,00,000	10,00,000
LISTED	1 PARTHASARATHY M A	1 INE601U08168	10,00,000	10,00,000
LISTED	1 VAIDEHI JAGDISHKUMAR PARIKH	1 INE601U08168	10,00,000	10,00,000
LISTED	1 VISPY RUSI WRITER .	1 INE601U08168	10,00,000	10,00,000
LISTED	1 VINITA DAS	1 INE601U08168	10,00,000	10,00,000
LISTED	1 HARSHA ROMESH PATEL	1 INE601U08168	10,00,000	10,00,000
LISTED LISTED	1 SRUCHI PRATIK DADIA 1 NAKSHATRA OWNERS ASSOCIATION .	4 INE601U08168 2 INE601U08168	10,00,000 10,00,000	40,00,000 20,00,000
LICTED	1 NIVET TELAS DOSHI	1 INE (0.11.1001.60	10.00.000	10.00.000
LISTED LISTED	1 NIKET TEJAS DOSHI 1 PRAVIN WILLIAM DSOUZA	1 INE601U08168 1 INE601U08168	10,00,000	10,00,000
LISTED	1 SMITA ARVINDKUMAR MEHTA	1 INE601U08168	10,00,000	10,00,000
LISTED	1 SALAGAME KESHAVAIAH	1 INE601U08168	10,00,000	10,00,000
EWIED	KESHAVAPRAKASH	1 111001000100	10,00,000	10,00,000
	121/0/11/1/11/11/11/10/11			20.00.000
LISTED	1 IYOTI RAJENDRA SHINGI	2 INE6011108168	10 00 000 1	20 00 000
LISTED LISTED	1 JYOTI RAJENDRA SHINGI 1 HARSH PRAKASH TULSIANI	2 INE601U08168 3 INE601U08168	10,00,000	20,00,000 30,00,000
LISTED LISTED LISTED	1 JYOTI RAJENDRA SHINGI 1 HARSH PRAKASH TULSIANI 1 RUPA RAO .	2 INE601U08168 3 INE601U08168 1 INE601U08168	10,00,000 10,00,000 10,00,000	20,00,000 30,00,000 10,00,000

r romen	A AMAN ON A FOND DADWIN	1 12 12 14 14 14 14	10.00.000	40.00.000
LISTED	1 AVANI SHAILESH PARIKH	1 INE601U08168	10,00,000	10,00,000
LISTED	1 SANJAY MAHENDRA JANI	1 INE601U08168	10,00,000	10,00,000
LISTED	1 K SRINIVASAN	2 INE601U08168	10,00,000	20,00,000
LISTED	1 PRADEEP KUMAR JOHAR	2 INE601U08168	10,00,000	20,00,000
LISTED	1 VIPUL MANGALDAS SONI	1 INE601U08168	10,00,000	10,00,000
LISTED	1 VIDYA ANIL SATHE	1 INE601U08168	10,00,000	10,00,000
LISTED	1 YOGENDRA KUMAR JAIN	1 INE601U08168	10,00,000	10,00,000
LISTED	1 USHA LAKSHMI RAMAN	1 INE601U08168	10,00,000	10,00,000
LISTED	1 SAVITA VINAY KSHIRSAGAR	1 INE601U08168	10,00,000	10,00,000
LISTED	1 FIRDAUS PHIROZE BATIVALA	1 INE601U08168	10,00,000	10,00,000
LISTED	1 T S PRANESHA.	1 INE601U08168	10,00,000	10,00,000
LISTED	1 JYOTI NALIN KOTICHA	1 INE601U08168	10,00,000	
				10,00,000
LISTED	1 NIRUPAM KUNDU	1 INE601U08168	10,00,000	10,00,000
LISTED	1 RAMESH BABU	1 INE601U08168	10,00,000	10,00,000
LISTED	1 RATNAPRABHA KESHAV MIRASDAR	1 INE601U08168	10,00,000	10,00,000
LISTED	1 JAGDISHKUMAR MULJIDAS GANDHI	1 INE601U08168	10,00,000	10,00,000
LISTED	1 SHANTABEN MADHUKARBHAI	10 INE601U08168	10,00,000	1,00,00,000
	VADODARIA			
LISTED	1 JYOTI R SHAH	1 INE601U08168	10,00,000	10,00,000
LISTED	1 VINOD CHHABILDAS MEHTA	1 INE601U08168	10,00,000	10,00,000
LISTED	1 SHAH NISTHA CHIRAG	2 INE601U08168	10,00,000	20,00,000
LISTED	1 VIJAY KUMAR BHANDARI	1 INE601U08168	10,00,000	10,00,000
LISTED	1 MADHUKAR LAXMANBHAI VADODARIA	10 INE601U08168	10,00,000	1,00,00,000
Librid		10 11 120010 00100	10,00,000	2,00,00,000
LISTED	1 NIMISHA RUPESH KANKUWALA	1 INE601U08168	10,00,000	10,00,000
LISTED	1 JAYDEEP MUKUNDLAL SHAH	1 INE601U08168	10,00,000	10,00,000
LISTED	1 MONIKA R P .	1 INE601U08168	10,00,000	10,00,000
LISTED	1 RITU PRIYANK MEHTA	1 INE601U08168	10,00,000	10,00,000
			- , ,	/ /
LISTED	1 TUSHAR SHANTILAL SHAH	10 INE601U08168	10,00,000	1,00,00,000
LISTED	1 ALPESH PRAKASHKUMAR SHAH	1 INE601U08168	10,00,000	10,00,000
LISTED	1 ANKITKUMAR PRAKASH SHAH	1 INE601U08168	10,00,000	10,00,000
LISTED	1 LATA RAKESH PANT	1 INE601U08168	10,00,000	10,00,000
LISTED	1 NANDKUMAR DHONDU PAGADE	1 INE601U08168	10,00,000	10,00,000
LISTED	1 JAYANT ANAND LAKHKAR	1 INE601U08168	10,00,000	10,00,000
LISTED	1 JAYASHREE JAYANT LAKHKAR	1 INE601U08168	10,00,000	10,00,000
LISTED	1 DHARMESH PRANLAL SHAH	1 INE601U08168	10,00,000	10,00,000
LISTED	1 PRASHANT BABUBHAI SHAH .	2 INE601U08168	10,00,000	20,00,000
LISTED	1 DHARA MAYANKKUMAR SHAH .	1 INE601U08168	10,00,000	10,00,000
LISTED	1 TEJAL SHAILESHBHAI SHAH .	4 INE601U08168	10,00,000	40,00,000
LISTED	1 LALIT ANUPAM OZA	1 INE601U08168	10,00,000	10,00,000
LISTED	1 RAJA MAHENDRA PRATAP SINGH	1 INE601U08168	10,00,000	10,00,000
LISTED	1 MANDHIR PREM SINGH	1 INE601U08168	10,00,000	10,00,000
LISTED	1 VANA KULIN GHATALIA	1 INE601U08168	10,00,000	10,00,000
LISTED	1 PINA CHETAN SHAH	1 INE601U08168	10,00,000	10,00,000
LISTED	1 SHAKUNTLA PARIKH	2 INE601U08168	10,00,000	20,00,000
LISTED	1 V. JANAKI .	2 INE601U08168	10,00,000	20,00,000
		1 INE601U08168	10,00,000	10,00,000
LISTED	1 MARIA ANTOINETTE DSOUZA		, ,	, ,
LISTED	1 CHIMANLAL SHANTILAL MEHTA	3 INE601U08168	10,00,000	30,00,000
LISTED	1 ASIM ASHISH MEHTA	1 INE601U08168	10,00,000	10,00,000
LISTED	1 ARCHANA KIRAN ACHAREKAR	1 INE601U08168	10,00,000	10,00,000
LISTED	1 RAMADASS BALAN	1 INE601U08168	10,00,000	10,00,000
LISTED	1 PREM NARAYAN PURWAR	2 INE601U08168	10,00,000	20,00,000
LISTED	1 JAYSHREE HETUKUMAR GADOYA	1 INE601U08168	10,00,000	10,00,000
LISTED	1 GANESH KRISHNAJI POTDAR	4 INE601U08168	10,00,000	40,00,000
LISTED	1 TARA MURARILAL VERMA	1 INE601U08168	10,00,000	10,00,000
LISTED	1 SURINDER KUMAR	1 INE601U08168	10,00,000	10,00,000
LISTED	1 MEHERWAN F JAMSHEDIAN .	2 INE601U08168	10,00,000	20,00,000
LISTED	1 AKANKSHA SUNIL GOENKA .	1 INE601U08168	10,00,000	10,00,000
LISTED	1 RADHA KABRA .	1 INE601U08168	10,00,000	10,00,000
LISTED	1 FAIZ AHMED.	1 INE601U08168	10,00,000	10,00,000
LISTED	1 DINESH KUMAR GUPTA .	3 INE601U08168	10,00,000	30,00,000
LISTED	1 RASHMI SUNIL THAKKAR	1 INE601U08168	10,00,000	10,00,000
LISTED	1 VASANT KIKABHAI DALAL	2 INE601U08168	10,00,000	20,00,000
LISTED	1 SMITA NIMISH TRIVEDI	1 INE601U08168	10,00,000	10,00,000
ממומה	I SWILLY BURIEL LIKEVEDI	1 11/15/0/10/0/100	10,00,000	10,00,000

LISTED	1 RUKSHANA IRANI	1 INE601U08168	10,00,000	10,00,000
LISTED	1 AARTI KOCHAR	1 INE601U08168	10,00,000	10,00,000
LISTED	1 MAULIK PRADIP SHAH	1 INE601U08168	10,00,000	10,00,000
LISTED	1 SANDHYA SUSHMA SOOD	1 INE601U08168	10,00,000	10,00,000
LISTED	1 OM PARKASH SOOD	2 INE601U08168	10,00,000	20,00,000
LISTED	1 PRIT MOHINDER SINGH UPPAL	5 INE601U08168	10,00,000	50,00,000
LISTED	1 MOHINI BHATIA	1 INE601U08168	10,00,000	10,00,000
LISTED	1 SATISH MADHUSUDAN BHAT	1 INE601U08168	10,00,000	10,00,000
LISTED	1 POONDY SRINIVASAN MURALI	1 INE601U08168	10,00,000	10,00,000
LISTED	1 NIRMALA PRASAD	1 INE601U08168	10,00,000	10,00,000
LISTED	1 BENAIFER RASHEED MISTRI .	1 INE601U08168	10,00,000	10,00,000
LISTED	1 VIKAS NARAYAN BAPAT	1 INE601U08168	10,00,000	10,00,000
LISTED	1 NAINA JAYANT PARANJAPE	1 INE601U08168	10,00,000	10,00,000
LISTED	1 CHIRAYUSH PRAVIN VAKIL	9 INE601U08168	10,00,000	90,00,000
LISTED	1 PRAFULCHAND GULABCHAND KARANIA	1 INE601U08168	10,00,000	10,00,000
LISTED	1 CHINTAN RAMESH DOSHI	1 INE601U08168	10,00,000	10,00,000
LISTED	1 GEETA KAMALKUMAR PAREKH	1 INE601U08168	10,00,000	10,00,000
LISTED	1 JAYSHREE HEMENDRA PATEL	1 INE601U08168	10,00,000	10,00,000
LISTED	1 SUMITRABEN RAMBHAI PATEL	1 INE601U08168	10,00,000	10,00,000
LISTED	1 JAHAR BANERJEE	1 INE601U08168	10,00,000	10,00,000
LISTED	1 ASHISH MAHESHKUMAR SAMPAT	3 INE601U08168	10,00,000	30,00,000
LISTED	1 SHOBHANA MAHESHKUMAR	3 INE601U08168	10,00,000	30,00,000
LISTED	1 VIKRAM MAHESHKUMAR SAMPAT	3 INE601U08168	10,00,000	30,00,000
LISTED	1 SONA KISHINCHAND SIPPY	5 INE601U08168	10,00,000	50,00,000
LISTED	1 DHARMENDRA VINODCHANDRA SHAH	1 INE601U08168	10,00,000	10,00,000
LISTED	1 KUNAL NARESHCHANDRA SHAH	1 INE601U08168	10,00,000	10,00,000
LISTED	1 CHANDRAKANT JADHAVJI CHANDAN	1 INE601U08168	10,00,000	10,00,000
LISTED	1 JYOTI SANDEEP NAVAL	1 INE601U08168	10,00,000	10,00,000
LISTED	1 VIDYADHAR SUDHAKAR NAVAL	1 INE601U08168	10,00,000	10,00,000
LISTED	1 SANJAY MADHUKAR KORANNE	1 INE601U08168	10,00,000	10,00,000
LISTED	1 JYOTI PRADEEP PHALAK	1 INE601U08168	10,00,000	10,00,000
LISTED	1 MAHENDRA NANDKISHOR SHAH	1 INE601U08168	10,00,000	10,00,000
LISTED	1 YOGESH ASHOK AHUJA	1 INE601U08168	10,00,000	10,00,000
LISTED	1 SANDEEP SUDHAKAR NAVAL	1 INE601U08168	10,00,000	10,00,000
LISTED LISTED	1 TEJENDRA DHIRAJLAL THAKKAR	1 INE601U08168	10,00,000	10,00,000
LISTED	1 AMBRISH JAGDISHMITTAR KHOSLA 1 HANSABEN BHARATKUMAR PARIKH	1 INE601U08168 1 INE601U08168	10,00,000	10,00,000
LISTED	1 SWATI MANISH BARWAL	1 INE601U08168	10,00,000	10,00,000
LISTED	1 LATA JITENDRA SHAH	1 INE601U08168	10,00,000	10,00,000
LISTED	1 SATISH KUMAR RUSTAGI	1 INE601U08168	10,00,000	10,00,000
LISTED	1 BHARTI RAJESH SHAH	1 INE601U08168	10,00,000	10,00,000
LISTED	1 ROHITA MILIND AJGAONKAR	1 INE601U08168	10,00,000	10,00,000
LISTED	1 PRAMILA NANDU GUPTA	1 INE601U08168	10,00,000	10,00,000
LISTED	1 SHREE BOMBAY JAIN SWAYAMSEVAK MANDAL	1 INE601U08168	10,00,000	10,00,000
LISTED	1 KINCHIT KARAM TRUST	7 INE601U08168	10,00,000	70,00,000
LISTED	1 SHRI BALMUKANDJI SWARUP TRUST	1 INE601U08168	10,00,000	10,00,000
LISTED	1 P C MANGALICK PUBLIC CHARITABLE TRUST	3 INE601U08168	10,00,000	30,00,000
LISTED	1 COPPER ROLLERS PVT LTD	3 INE601U08176	10,00,000	30,00,000
LISTED	1 NAVNEET DEALERS PRIVATE LIMITED	2 INE601U08176	10,00,000	20,00,000
LISTED	1 INDEXONE INTERNATIONAL PRIVATE	1 INE601U08176	10,00,000	10,00,000
LICTED	LIMITED	1 INTEGRATION S	10.00.000	40.00.000
LISTED	1 INDEXONE INDUSTRIES LTD	1 INE601U08176	10,00,000	10,00,000
LISTED LISTED	1 MANPASAND MANPOWER PVT LTD 1 GI SECURITY PVT LTD	1 INE601U08176 1 INE601U08176	10,00,000 10,00,000	10,00,000
LISTED	1 SWARNIM MULTIVENTURES PRIVATE	10 INE601U08176	10,00,000	1,00,00,000
	LIMITED			
LISTED	1 JRD SECURITIES PRIVATE LIMITED	2 INE601U08176	10,00,000	20,00,000

LISTED	1 INDCHEMIE HEALTH SPECIALITIES	5 INE601U08176	10,00,000	50,00,000
	PRIVATE			
LISTED	1 OM APEX INVESTMENT SERVICES PRIVATE	1 INE601U08176	10,00,000	10,00,000
	LIMITED			
LISTED	1 ESAM SHARES AND STOCK BROKERS	1 INE601U08176	10,00,000	10,00,000
	PRIVATE LIMITED			
LISTED	1 VAGVIDHAGDHA LEARNING SERVICES	1 INE601U08176	10,00,000	10,00,000
	PRIVATE LIMITED	4 77 77 40 47 40 47	40.00.000	
LISTED	1 DHARAMPAL GUPTA & SONS	1 INE601U08176	10,00,000	10,00,000
LISTED	1 DILIPSINH UMAT	1 INE601U08176	10,00,000	10,00,000
LISTED LISTED	1 JASWANT HATIBHAI SHAH 1 ANANDBHAI VIKRAM MEHTA(HUF)	1 INE601U08176 2 INE601U08176	10,00,000	10,00,000 20,00,000
LISTED	1 MANUBHAI KUVERJI SHAH HUF	3 INE601U08176	10,00,000	30,00,000
LISTED	1 PALANI VENKATESAN HUF	1 INE601U08176	10,00,000	10,00,000
LISTED	1 YOGESH ARUN PRASAD RAMACHANDRAN	1 INE601U08176	10,00,000	10,00,000
LIGILD	HUF	11112001200170	10,00,000	10,00,000
LISTED	1 SANJAY R SHAH	1 INE601U08176	10,00,000	10,00,000
LISTED	1 BAVADEKAR GAJANAN VINAYAK (HUF)	1 INE601U08176	10,00,000	10,00,000
LISTED	1 HARSHAD RAVAL HUF	1 INE601U08176	10,00,000	10,00,000
LISTED	1 VINAY D MAHAJAN	1 INE601U08176	10,00,000	10,00,000
LISTED	1 NIRANJAN PRASAD TODI(HUF)	1 INE601U08176	10,00,000	10,00,000
LISTED	1 VISHNU KUMAR GOYAL HUF	1 INE601U08176	10,00,000	10,00,000
LISTED	1 KANAIYO M THAKKAR HUF	1 INE601U08176	10,00,000	10,00,000
LISTED	1 AVIN R SHAH	1 INE601U08176	10,00,000	10,00,000
LISTED	1 JAIDEEP VERMA	1 INE601U08176	10,00,000	10,00,000
LISTED	1 BHADRA C. PATEL (HUF)	2 INE601U08176	10,00,000	20,00,000
LISTED	1 PRAVIN KANTILAL VAKIL	8 INE601U08176	10,00,000	80,00,000
LISTED LISTED	1 ABHAY V MEHTA HUF.	2 INE601U08176	10,00,000	20,00,000
LISTED	1 JIGNESH R SHAH HUF . 1 PANKAJ KANTEELAL POKARNA HUF .	1 INE601U08176 1 INE601U08176	10,00,000	10,00,000
LISTED	I FAINKAJ KAINTEELAL FOKAKNA HUF.	111NE001008170	10,00,000	10,00,000
LISTED	1 DEEPMALA SUPPLIERS LLP	1 INE601U08176	10,00,000	10,00,000
LISTED	1 RHEA NINAD TIPNIS	1 INE601U08176	10,00,000	10,00,000
LISTED	1 RENJINI.C	1 INE601U08176	10,00,000	10,00,000
LISTED	1 NITINCHANDRA NANDEKAR	10 INE601U08176	10,00,000	1,00,00,000
LISTED	1 YOGESH HARISH BULCHANDANI	4 INE601U08176	10,00,000	40,00,000
LISTED	1 AMISH NARENDRA SHAH	1 INE601U08176 1 INE601U08176	10,00,000	10,00,000
LISTED LISTED	1 KHORSHED DADY DARUWALLA 1 LEENA SAMIR MEHTA	2 INE601U08176	10,00,000	10,00,000 20,00,000
LISTED	1 VARSHA TRIPATHI	2 INE601U08176	10,00,000	20,00,000
LISTED	1 DR PARIMAL TRIPATHI	2 INE601U08176	10,00,000	20,00,000
LISTED	1 ROHIT RAI	2 INE601U08176	10,00,000	20,00,000
LISTED	1 KISHOR BHASKAR LAAD	1 INE601U08176	10,00,000	10,00,000
LISTED	1 SHUBHANGI ANIL PATIL	1 INE601U08176	10,00,000	10,00,000
LISTED	1 MUKESH BAJAJ	1 INE601U08176	10,00,000	10,00,000
LISTED	1 SHUBHAM GANGWAL	1 INE601U08176	10,00,000	10,00,000
LISTED	1 INDERJEET SINGH J BHATIA	2 INE601U08176	10,00,000	20,00,000
LISTED	1 PREMKUMAR RAMCHANDRA APTE	1 INE601U08176	10,00,000	10,00,000
LISTED	1 RUSTOM SHAPOOR MEHTA	1 INE601U08176	10,00,000	10,00,000
LISTED	1 NISHCHAL DHANANJAY GORHE	1 INE601U08176	10,00,000	10,00,000
LISTED	1 NARAYAN SANTHANAM	1 INE601U08176	10,00,000	10,00,000
LISTED	1 VAIDEHEE RAMARAO HINGANE	1 INE601U08176	10,00,000	10,00,000
LISTED	1 DWITI PRANAV GANDHI	1 INE601U08176	10,00,000	10,00,000
LISTED	1 SEEMA KUMAR	1 INE601U08176	10,00,000	10,00,000
LISTED	1 SHIREEN E SETHNA	3 INE601U08176	10,00,000	30,00,000
LISTED LISTED	1 NALIN KANTILAL KOTICHA 1 STYLO ITTOOP CHERUVATHOOR	1 INE601U08176 1 INE601U08176	10,00,000	10,00,000
LISTED	1 ATUL SARAF	1 INE601U08176	10,00,000	10,00,000
LISTED	1 AKHIL SARAF	1 INE601U08176	10,00,000	10,00,000
LISTED	1 RAMCHARAN SIMHADRI	2 INE601U08176	10,00,000	20,00,000
LISTED	1 BOMI SORABJI AYRTON	1 INE601U08176		
ILISTED :	HDOWI SONADJI A I K I ON	THINEOUTUOOT70	1(),()() ()()()	117.1717.17171
LISTED	1 RAHUL VINOD GADIA	2 INE601U08176	10,00,000	10,00,000 20,00,000

LISTED	1 NIRMALA BHAVANJI SHAH	2 INE601U08176	10,00,000	20,00,000
LISTED	1 MAHADEVAN R	1 INE601U08176	10,00,000	10,00,000
LISTED	1 M P GOVINDARAJAN	1 INE601U08176	10,00,000	10,00,000
LISTED	1 MAHENDRA SHROFF	1 INE601U08176	10,00,000	10,00,000
LISTED	1 AMIT MADHUKAR MANIAR	1 INE601U08176	10,00,000	10,00,000
LISTED	1 RAKESH T KAPUR	1 INE601U08176	10,00,000	10,00,000
LISTED	1 DEBAJIT SEN SHARMA	1 INE601U08176	10,00,000	10,00,000
LISTED	1 UJWALA KRISHNAKUMAR JOSHI	1 INE601U08176	10,00,000	10,00,000
LISTED	1 KRISHNAKUMAR MUKUND JOSHI	1 INE601U08176	10,00,000	10,00,000
LISTED	1 MRUNAL PRADEEP BAPAT	1 INE601U08176	10,00,000	10,00,000
LISTED	1 POONAM NINAD TIPNIS	1 INE601U08176	10,00,000	10,00,000
LISTED LISTED	1 JASMIN BURZIN SHAHANA	1 INE601U08176 1 INE601U08176	10,00,000	10,00,000
LISTED	1 GEETA SADANAND SHETTY 1 B G SUMANA	1 INE601U08176	10,00,000	10,00,000
LISTED	1 YOGESH KUMAR LUTHRA	1 INE601U08176	10,00,000	10,00,000
LISTED	1 BILIGERI GOVINDAYA JAGADEESH	1 INE601U08176	10,00,000	10,00,000
LISTED	1 ZUBINA KHUSHRU TAVADIA	1 INE601U08176	10,00,000	10,00,000
LISTED	1 JITENDRA KUMAR SOMANI	1 INE601U08176	10,00,000	10,00,000
LISTED	1 BALA MANIAN	5 INE601U08176	10,00,000	50,00,000
LISTED	1 MALATHY MURALIDHARAN	1 INE601U08176	10,00,000	10,00,000
LISTED	1 JAGAN	1 INE601U08176	10,00,000	10,00,000
LISTED	1 NALINI RAMDAS	1 INE601U08176	10,00,000	10,00,000
LISTED	1 K MOHANA DHARANI	1 INE601U08176	10,00,000	10,00,000
LISTED	1 JAYARAMAN NIVETHA	1 INE601U08176	10,00,000	10,00,000
LISTED	1 HARIHARAN SANKARESWARAN	1 INE601U08176	10,00,000	10,00,000
LISTED	1 D RAMYA	1 INE601U08176	10,00,000	10,00,000
LISTED	1 VINOTH RAJ	1 INE601U08176	10,00,000	10,00,000
LISTED	1 NIDHYA RAJESWARI GUHAN	5 INE601U08176	10,00,000	50,00,000
LISTED	1 KANNIAPPAN KUMARAVEL	1 INE601U08176	10,00,000	10,00,000
LISTED LISTED	1 RAVIKUMAR MANGALA GOWRI 1 YEGNAMURTHY KANDIVAKKAM	1 INE601U08176 1 INE601U08176	10,00,000	10,00,000
LISTED	SUGANYA	1 INE001008170	10,00,000	10,00,000
LISTED	1 SRAVANTHI TIRUMALA	1 INE601U08176	10,00,000	10,00,000
LISTED	1 ROBERT JOSE JEFFRY COPPS	1 INE601U08176	10,00,000	10,00,000
LISTED	1 INDRANI	1 INE601U08176	10,00,000	10,00,000
LISTED	1 KARPAGAM SAKTHI MEYYAPPAN	1 INE601U08176	10,00,000	10,00,000
LISTED	1 SENTHIL MUTHU VISALATCHI	1 INE601U08176	10,00,000	10,00,000
LISTED	1 MURUGAN AISHWARYA	2 INE601U08176	10,00,000	20,00,000
LISTED	1 ETHAYASOTHI MALA	2 INE601U08176	10,00,000	20,00,000
LISTED	1 JENNINGSMCENROE	2 INE601U08176	10,00,000	20,00,000
LISTED	1 SRIPRIYA LAKSHMANAN	1 INE601U08176	10,00,000	10,00,000
LISTED	1 RAJAKUMAR NANDA	1 INE601U08176	10,00,000	10,00,000
LISTED	1 NIRMALA RAJAH JANET MARY	3 INE601U08176	10,00,000	30,00,000
LISTED	1 D LAKSHMI	1 INE601U08176	10,00,000	10,00,000
LISTED	1 VISHNUVARTHAN SIVARAMAKRISHNAN	1 INE601U08176	10,00,000	10,00,000
LISTED	1 KULATHU VISWANATH IYER	3 INE601U08176	10,00,000	30,00,000
LISTED	1 ASHOK RAMANLAL SHAH	1 INE601U08176	10,00,000	10,00,000
LISTED	1 PARUL NITIN KHANDELWAL	1 INE601U08176	10,00,000	10,00,000
LISTED	1 GEETA HARESH SHAH	1 INE601U08176	10,00,000	10,00,000
LISTED	1 HARESH RASIKLAL SHAH	1 INE601U08176	10,00,000	10,00,000
LISTED	1 PERVEEN NOSHIR UDWADIA	1 INE601U08176	10,00,000	10,00,000
LISTED	1 SHILPA MEMANI	20 INE601U08176	10,00,000	2,00,00,000
LISTED	1 SUNIL SINGH	5 INE601U08176	10,00,000	50,00,000
LISTED	1 SANDHYA WINDLASS	3 INE601U08176	10,00,000	30,00,000
LISTED	1 DIPTI M DOSHI	1 INE601U08176	10,00,000	10,00,000
LISTED	1 ASHITH SHANKER RAO	1 INE601U08176	10,00,000	10,00,000
LISTED	1 DIPALI GHANSHYAM BHATT	1 INE601U08176	10,00,000	10,00,000
LISTED	1 LATHA MENON	2 INE601U08176	10,00,000	20,00,000
LISTED	1 JYOTIBEN RANJIT CHOTHANI	1 INE601U08176	10,00,000	10,00,000
LISTED LISTED	1 ASHIT ARVIND GANDHI	1 INE601U08176	10,00,000	10,00,000
LISTED	1 BALAKRISHNAN VAIDYANATHAN 1 VIVEK MALHOTRA	1 INE601U08176 3 INE601U08176	10,00,000	10,00,000 30,00,000
LISTED	1 RATNABALI SHOME	1 INE601U08176	10,00,000	10,00,000
ענונינוני	TIME THE SHOWING	1 1112001000170	10,00,000	10,00,000

Y YORKED	CIAMANII IAMANI DIDWAY		D. T. COLLYDOL E.	10.00.000	40.00.000
	SANDHYA AMRISH PARIKH	1	INE601U08176	10,00,000	10,00,000
	SUBBALAKSHMI MURTY	1	INE601U08176	10,00,000	10,00,000
	MEHERWANJI RUSTOMJI CAMA		INE601U08176	10,00,000	20,00,000
	MANAV WINDLASS		INE601U08176	10,00,000	10,00,000
	MADHAV WINDLASS		INE601U08176	10,00,000	10,00,000
	SHEFALI J SACHDEV		INE601U08176	10,00,000	10,00,000
	SAMEER PIYUSHBHAI BAXI		INE601U08176	10,00,000	1,00,00,000
	KIRANBEN PIYUSHBHAI BAXI		INE601U08176	10,00,000	1,00,00,000
	FAROKH NARIMAN SUBEDAR		INE601U08176	10,00,000	1,00,00,000
	RAJENDRA K. PATEL		INE601U08176	10,00,000	10,00,000
	ALKA RJENDRABHAI PATEL		INE601U08176	10,00,000	40,00,000
	SUSHAMA SANJIV BARVE	1	INE601U08176	10,00,000	10,00,000
	SANJIV SADASHIV BARVE	1	INE601U08176	10,00,000	10,00,000
	LAKSHMI RADHAKRISHNAN		INE601U08176	10,00,000	10,00,000
	NIRUPAM S HIREMATH		INE601U08176	10,00,000	10,00,000
	DAVID DASILVA	5	INE601U08176	10,00,000	50,00,000
	JOAQUIM ANTHONY NOGUER	1	INE601U08176	10,00,000	10,00,000
LISTED 1	SHARMILA VIJAY BHAGTANI	1	INE601U08176	10,00,000	10,00,000
LISTED 1	MEGHA VIJAY DEO	1	INE601U08176	10,00,000	10,00,000
LISTED 1	R SIVAGAMI		INE601U08176	10,00,000	10,00,000
LISTED 1	UMESH MEHRA	2	INE601U08176	10,00,000	20,00,000
LISTED 1	PERSIS CYRUS VACHHA	1	INE601U08176	10,00,000	10,00,000
LISTED 1	BHARATI DILIP SHETH	1	INE601U08176	10,00,000	10,00,000
LISTED 1	BHARATI CHANDRAKANT SHAH	20	INE601U08176	10,00,000	2,00,00,000
LISTED 1	MANDEEP KOUR	1	INE601U08176	10,00,000	10,00,000
LISTED 1	CYRUS FILOO VACHHA	1	INE601U08176	10,00,000	10,00,000
LISTED 1	VANDANA MAHANDRU	2	INE601U08176	10,00,000	20,00,000
LISTED 1	APARNA SETHURAMAN	6	INE601U08176	10,00,000	60,00,000
LISTED 1	PUSHPA CHHAJERH	1	INE601U08176	10,00,000	10,00,000
	VARGHESE MATHEW	1	INE601U08176	10,00,000	10,00,000
LISTED 1	NERGISH VISTASP PASTAKIA	1	INE601U08176	10,00,000	10,00,000
LISTED 1	DIVYA MENON	1	INE601U08176	10,00,000	10,00,000
LISTED 1	SAKSHI HIREMATH	1	INE601U08176	10,00,000	10,00,000
	RUKMA CHANDUR GURBAXANI	1	INE601U08176	10,00,000	10,00,000
	RANJEEV CHANDRA DUBEY		INE601U08176	10,00,000	30,00,000
	BHAMINI GOPAL SHAH		INE601U08176	10,00,000	10,00,000
	Sangeeta Dangoria		INE601U08176	10,00,000	20,00,000
	Nitin Dangoria		INE601U08176	10,00,000	20,00,000
LISTED 1	NARENDRAKUMAR CHHOTALAL DOSHI		INE601U08176	10,00,000	10,00,000
LISTED 1	DHARMISTHA DILIPSINH UMAT	1	INE601U08176	10,00,000	10,00,000
	VRAJESH RASIKLAL PARIKH		INE601U08176	10,00,000	10,00,000
	C H ANUSOOYA		INE601U08176	10,00,000	
			INE601U08176	, ,	10,00,000 20,00,000
	RINA AJAY MEHTA BIJAL HITESH SHAH		INE601U08176	10,00,000 10,00,000	10,00,000
	DAVID JEYASEKARAN DAVIDAR		INE601U08176	10,00,000	20,00,000
				, ,	10,00,000
	UMANGBHAI RAMANIKLAL SHETH KUNDANBEN PRADIPKUMAR PARIKH		INE601U08176 INE601U08176	10,00,000 10,00,000	10,00,000
LISTED	RONDANDEN TRADITROMAR TARRET	1	1112001000170	10,00,000	10,00,000
LISTED 1	RAMILABEN HASVANTRAI DESAI	1	INE601U08176	10,00,000	10,00,000
	JAYENDRABHAI NATVERLAL PATEL		INE601U08176	10,00,000	20,00,000
	JAYSHIL RAMESHCHANDRA PARIKH		INE601U08176	10,00,000	10,00,000
	URVASHI VINOD SHAH		INE601U08176	10,00,000	10,00,000
	DIPIKA VIJAY DESAI		INE601U08176	10,00,000	10,00,000
	PANNA DALSUKHBHAI CHAVDA		INE601U08176	10,00,000	10,00,000
	JIVA NARAYANAN		INE601U08176	10,00,000	10,00,000
	ASHA KARTIKEYA KANUGA		INE601U08176	10,00,000	10,00,000
	SAURIN THAKORE		INE601U08176	10,00,000	10,00,000
	VIJAY MOHAN KAPUR		INE601U08176	10,00,000	10,00,000
	Shanti Devi Damani		INE601U08176	10,00,000	10,00,000
LISTED 1	Anuradha Damani		INE601U08176	10,00,000	10,00,000
	GIRISH NANDLAL VYAS		INE601U08176	10,00,000	10,00,000
	SARITA UDAYA SARNOBAT		INE601U08176	10,00,000	10,00,000
	VIVEK DHARIWAL		INE601U08176	10,00,000	10,00,000
בוטוניום	TILE DIRECTION	1	11.12001000170	10,00,000	10,00,000

LISTED LISTED	1 ABHISHEK GANGWAL	1 INE601U08176	10,00,000	
	1 DR NANDINI S BABHULKAR	1 INE601U08176	10,00,000	10,00,000
LISTED	1 ASHIT MOHAN LUTHRA	1 INE601U08176	10,00,000	10,00,000
LISTED	1 SHARDUL V VAZE	1 INE601U08176	10,00,000	10,00,000
LISTED	1 Chintan Sudhirkumar Shah	1 INE601U08176	10,00,000	10,00,000
LISTED	1 Vaijayanti Vishwas Pendse	1 INE601U08176	10,00,000	10,00,000
LISTED	1 Vishwas Digambar Pendse	1 INE601U08176	10,00,000	10,00,000
LISTED	1 Kashmira C Talathi	1 INE601U08176	10,00,000	10,00,000
				/ /
LISTED	1 KUNAL NARESH ARYA	1 INE601U08176	10,00,000	10,00,000
LISTED	1 SUMITHA VIBHU	1 INE601U08176	10,00,000	10,00,000
LISTED	1 GUNTESHWAR SINGH	3 INE601U08176	10,00,000	30,00,000
LISTED	1 REEMA JINAND SHAH	1 INE601U08176	10,00,000	10,00,000
LISTED	1 REKHA VINOD MODHA	1 INE601U08176	10,00,000	10,00,000
LISTED	1 VINOD DURLABHJI MODHA	1 INE601U08176	10,00,000	10,00,000
LISTED	1 RAMESHWAR LAL SAWHNEY	1 INE601U08176	10,00,000	10,00,000
LISTED	1 NARENDRA LAXMAN ARORA	1 INE601U08176	10,00,000	10,00,000
LISTED	1 KRISHAN KUMAR	1 INE601U08176	10,00,000	10,00,000
LISTED	1 ALOK DEB	1 INE601U08176	10,00,000	10,00,000
LISTED	1 JITENDRA KUMAR GUPTA	3 INE601U08176	10,00,000	30,00,000
LISTED	1 MEHUL RAMAKANT PANJI	1 INE601U08176	10,00,000	10,00,000
LISTED	1 AMAR MANOHAR PANDIT	1 INE601U08176	10,00,000	10,00,000
LISTED	1 VANDANA UMESH BANGAL	1 INE601U08176	10,00,000	10,00,000
LISTED	1 PARAMJIT SINGH UPPAL	1 INE601U08176	10,00,000	10,00,000
LISTED	1 RADHIKA VERMA	1 INE601U08176	10,00,000	10,00,000
LISTED	1 NAYANTARA ARVIND NAIR	1 INE601U08176	10,00,000	10,00,000
LISTED	1 TAPAN DATTA	1 INE601U08176	10,00,000	10,00,000
LISTED	1 SOMKANT KESHAV APSHETE	1 INE601U08176	10,00,000	10,00,000
LISTED	1 SONI NEETABEN RAJENDRAKUMAR	1 INE601U08176	10,00,000	10,00,000
LISTED	1 JEHANGIR RUSTOM DARUWALA	1 INE601U08176	10,00,000	10,00,000
LISTED	1 CHAVDA YOGRAJSINH	1 INE601U08176	10,00,000	10,00,000
LISTED	1 JANKI VISHAL PATEL	1 INE601U08176	10,00,000	10,00,000
LISTED	1 SUDHA SHARMA	1 INE601U08176	10,00,000	10,00,000
LISTED	1 NEETA SANTOSH GORE	1 INE601U08176	10,00,000	10,00,000
LISTED	1 RAHUL R SHARMA	1 INE601U08176	10,00,000	10,00,000
LISTED	1 BHAKTI PRAKASH VARMA	2 INE601U08176	10,00,000	20,00,000
LISTED	1 ASHOK DATTATRAYA ALATE	2 INE601U08176	10,00,000	20,00,000
LISTED	1 KAMLESH SHAH	1 INE601U08176	10,00,000	10,00,000
LISTED	1 BHAVINI DEEPAK HARIA	1 INE601U08176	10,00,000	10,00,000
LISTED	1 YASMIN ABIZER KOTHARI	2 INE601U08176	10,00,000	20,00,000
LISTED	1 INDIRA GERA	1 INE601U08176	10,00,000	10,00,000
LISTED	1 PURVA SANTOSH TAMHANE	2 INE601U08176	10,00,000	20,00,000
LISTED	1 SULBHA SHRIRAM BEDEKAR	1 INE601U08176	10,00,000	10,00,000
LISTED	1 NANDITA CHAKRAVORTY	1 INE601U08176	10,00,000	10,00,000
LISTED	1 SAROJ PRADYUMNA SHAH	1 INE601U08176	10,00,000	10,00,000
LISTED	1 JYOTSNA SINGH	1 INE601U08176	10,00,000	10,00,000
LISTED	1 MARINA RAYOMAND DADACHANJI	1 INE601U08176	10,00,000	10,00,000
LISTED	1 PRAMIT SHASHIKANT JHAVERI	10 INE601U08176	10,00,000	1,00,00,000
	1 KRISHAN SRIRAM MITTAL			
LISTED LISTED		1 INE601U08176 6 INE601U08176	10,00,000	10,00,000
	1 JAYSHREE HETUKUMAR GADOYA			60,00,000
LISTED	1 MANOJ MURARILAL VERMA	1 INE601U08176	10,00,000	10,00,000
LISTED	1 SANDHYA JAYESH ULLAL	1 INE601U08176	10,00,000	10,00,000
LISTED	1 VAISHALI BANERJEE .	2 INE601U08176	10,00,000	20,00,000
LISTED	1 SARABJEET SINGH.	2 INE601U08176	10,00,000	20,00,000
LISTED	1 LAXMIKANT HANUMANPRASAD	1 INE601U08176	10,00,000	10,00,000
I IODEE	HARLALKA .	2 P.W. 6017700175	10.00.000	*****
LISTED	1 HARJEET SINGH.	2 INE601U08176	10,00,000	20,00,000
LISTED	1 SHYAMA JETLI .	1 INE601U08176	10,00,000	10,00,000
LISTED	1 DINESH KUMAR GUPTA .	3 INE601U08176	10,00,000	30,00,000
LISTED	1 SHEETAL NACHIKET SULE .	1 INE601U08176	10,00,000	10,00,000
LISTED	1 KOKILA MAHENDRA PAREKH	1 INE601U08176	10,00,000	10,00,000
LISTED	1 MAHENDRA HARILAL PAREKH	1 INE601U08176	10,00,000	10,00,000
LISTED	1 ANANTHAKRISHNAN SUBRAMANIAM IYER	2 INE601U08176	10,00,000	20,00,000
		1 INE601U08176		

LISTED	1 ARNAVAZ ZARIR MISTRY	1 INE601U08176	10,00,000	10,00,000
LISTED	1 SHAILA PREM KAPOOR	4 INE601U08176	10,00,000	40,00,000
LISTED	1 CHANDRASHEKHAR SADASHIV TAMBOLI	1 INE601U08176	10,00,000	10,00,000
LISTED	1 KHURSHID THRETUN PATEL	10 INE601U08176	10,00,000	1,00,00,000
LISTED	1 DHANYA V PRABHU	1 INE601U08176	10,00,000	10,00,000
LISTED	1 KAPIL SADANAND BAHRI	1 INE601U08176	10,00,000	10,00,000
LISTED	1 ANAND KUMAR	1 INE601U08176	10,00,000	10,00,000
LISTED	1 ITISHA KAPIL BAHRI	1 INE601U08176	10,00,000	10,00,000
LISTED	1 ROMY BAPALAL MEHTA	7 INE601U08176	10,00,000	70,00,000
LISTED	1 YAJUVENNDRA DANGORIA	2 INE601U08176	10,00,000	20,00,000
LISTED	1 MEENABEN PRAVINKUMAR PAREKH	1 INE601U08176	10,00,000	10,00,000
LISTED	1 ASHOK TRILOKNATH GOYAL	1 INE601U08176	10,00,000	10,00,000
LISTED	1 JYOTI A GOYAL	1 INE601U08176	10,00,000	10,00,000
LISTED	1 MALIKA BIMAL PAREKH .	10 INE601U08176	10,00,000	1,00,00,000
LISTED	1 TUSHAR MEHTA .	1 INE601U08176	10,00,000	10,00,000
LISTED	1 BANKIM SUBODHCHANDRA DESAI .	1 INE601U08176	10,00,000	10,00,000
LISTED	1 SEEMA BANKIM DESAI .	1 INE601U08176	10,00,000	10,00,000
LISTED	1 NARENDRA CHANDULAL SHAH .	1 INE601U08176	10,00,000	10,00,000
LISTED	1 PRAVINA ROHITKUMAR DESAI	2 INE601U08176	10,00,000	20,00,000
LISTED	1 BHARTI RAJESH SHAH	1 INE601U08176	10,00,000	10,00,000
LISTED	1 SUMAN P SABOO	2 INE601U08176	10,00,000	20,00,000
LISTED	1 PRAHLADRAI SAGARMAL SABOO	2 INE601U08176	10,00,000	20,00,000
LISTED	1 USHA CHHABRA	1 INE601U08176	10,00,000	10,00,000
LISTED	1 NANDITA KARTHIK	1 INE601U08176	10,00,000	10,00,000
LISTED	1 SATYAJIT BALIARSINGH	1 INE601U08176	10,00,000	10,00,000
LISTED	1 BINA ANIL DAVE	1 INE601U08176	10,00,000	10,00,000
LISTED	1 MANOJ GIRDHARLAL KATARIA	1 INE601U08176	10,00,000	10,00,000
LISTED	1 Meet Anil Dave	1 INE601U08176	10,00,000	10,00,000
LISTED	1 Shikha Agarwal	1 INE601U08176	10,00,000	10,00,000
LISTED	1 Venkatraman Krishnan Iyer	2 INE601U08176	10,00,000	20,00,000
LISTED	1 UNNATI NAVNITLAL PAREKH	2 INE601U08176	10,00,000	20,00,000
LISTED	1 ALKA HEMANT SHAH	1 INE601U08176	10,00,000	10,00,000
LISTED	1 MAHADEO BABURAO MUDRAS	1 INE601U08176	10,00,000	10,00,000
LISTED	1 POOJA M. MUDRAS	2 INE601U08176	10,00,000	20,00,000
LISTED	1 PIYUSH VAJENDRALAL SHAH	1 INE601U08176	10,00,000	10,00,000
LISTED	1 MAMTA SINHA	1 INE601U08176	10,00,000	10,00,000
LISTED	1 SUHANI DIDWANIA	2 INE601U08176	10,00,000	20,00,000
LISTED	1 KANCHAN SETHI	1 INE601U08176	10,00,000	10,00,000
LISTED	1 MALINI KIRIT SHAH	2 INE601U08176	10,00,000	20,00,000
LISTED	1 SHERRY DHANJU BATLIWALA .	11 INE601U08176	10,00,000	1,10,00,000
LISTED	1 KAMINI MANISH SHAH .	11 INE601U08176	10,00,000	1,10,00,000
LISTED	1 PARIKH DIPAN URVIN	1 INE601U08176	10,00,000	10,00,000
LISTED	1 URVIN CHANDRAVADAN PARIKH	1 INE601U08176	10,00,000	10,00,000
LISTED	1 KALPESH JIVANLAL SHAH	2 INE601U08176	10,00,000	20,00,000
LISTED	1 AMENA HONAID KOTHARI	4 INE601U08176	10,00,000	40,00,000
LISTED	1 JANE VICTOR ALMEIDA	4 INE601U08176	10,00,000	40,00,000
LISTED	1 CALPAKAM VENKATA KRISHNA MOHAN	5 INE601U08176	10,00,000	50,00,000
LISTED	1 MARIAM MATHEW	1 INE601U08176	10,00,000	10,00,000
LISTED	1 RAMANUJAM VENKAT RAGHAVAN .	1 INE601U08176	10,00,000	10,00,000
LISTED	1 VIJAYA RAGHAVAN .	1 INE601U08176	10,00,000	10,00,000
LISTED	1 JEYALAKSHMI RAMANATHAN .	5 INE601U08176	10,00,000	50,00,000
LISTED	1 AJAY MURLIDHAR PONKSHE	2 INE601U08176	10,00,000	20,00,000
LISTED	1 ARUN DAS BAIJAL	1 INE601U08176	10,00,000	10,00,000
LISTED	1 PUNAM BAIJAL	1 INE601U08176	10,00,000	10,00,000
LISTED	1 DEVIKA MEHTA .	1 INE601U08176	10,00,000	10,00,000
LISTED	1 JASMINA BHAVESHKUMAR SONI	1 INE601U08176	10,00,000	10,00,000
LISTED	1 TEJAS LALIT MEHTA	1 INE601U08176	10,00,000	10,00,000
LISTED	1 JAGRUTI TEJAS MEHTA	1 INE601U08176	10,00,000	10,00,000
LISTED	1 SEJALBEN HIMANSHUBHAI LINESWALA	1 INE601U08176	10,00,000	10,00,000
LISTED	1 DEANNE WINNIFRED BAPTIST	1 INE601U08176	10,00,000	10,00,000
				10,00,000
LISTED	1 PANNA ASHWANI SHAH	1 INE601U08176	10,00,000	10,00,0

LISTED	1 RAMCHANDRAN RAMASWAMY	1	INE601U08176	10,00,000	10,00,000
LISTED	1 BINA AMEET PARIKH		INE601U08176	10,00,000	10,00,000
LISTED	1 JANAVI PARIKH	1	INE601U08176	10,00,000	10,00,000
LISTED	1 NIRMALA MAHESH SARAF		INE601U08176	10,00,000	10,00,000
LISTED	1 HEMAL BHARATKUMAR THAKORE .		INE601U08176	10,00,000	10,00,000
LISTED	1 VAIBHAV DATTATRAY WALAVALKAR		INE601U08176	10,00,000	20,00,000
				, ,	, ,
LISTED	1 JYOTI KUKREJA	1	INE601U08176	10,00,000	10,00,000
LISTED	1 MANIKAM KRISHNAVENI	1	INE601U08176	10,00,000	10,00,000
LISTED	1 HITESH JAIN	1	INE601U08176	10,00,000	10,00,000
LISTED	1 LALIT ANUPAM OZA	1	INE601U08176	10,00,000	10,00,000
LISTED	1 AVI BEHERAM DASTOOR	2	INE601U08176	10,00,000	20,00,000
LISTED	1 ASHNI PARIMAL TRIPATHI	1	INE601U08176	10,00,000	10,00,000
LISTED	1 ABHINAV CHOKHAVATIA	2	INE601U08176	10,00,000	20,00,000
LISTED	1 PRANIT ARVIND KATHALE	2	INE601U08176	10,00,000	20,00,000
LISTED	1 KINJAL MITUL PARIKH	1	INE601U08176	10,00,000	10,00,000
LISTED	1 SUPRIYA SHEKHAR	1	INE601U08176	10,00,000	10,00,000
LISTED	1 DIVYA SHEKHAR	1	INE601U08176	10,00,000	10,00,000
LISTED	1 BASKARAN S	2	INE601U08176	10,00,000	20,00,000
LISTED	1 FRANCO INDIAN PHARMACEUTICALS PVT LTD STAFF PROVIDENT FUND	2	INE601U08176	10,00,000	20,00,000
LISTED	1 SMT SHANTABEN BHOGILAL MEHTA CHARITY TRUST	1	INE601U08176	10,00,000	10,00,000
LISTED	1 VASUNDHARA DEALER PVT LTD	10	INE601U08184	10,00,000	1,00,00,000
LISTED	1 UNIPLAN PROPERTIES PVT LTD	3	INE601U08184	10,00,000	30,00,000
LISTED	1 ALL WAVE A V SYSTEMS PVT LTD	3	INE601U08184	10,00,000	30,00,000
LISTED	1 INDIAN ENERGY EXCHANGE LIMITED	200	INE601U08184	10,00,000	20,00,00,000
LISTED	1 GRACE PAPER INDUSTRIES PRIVATE LIMITED	1	INE601U08184	10,00,000	10,00,000
LISTED	1 SIDHIVINAYAK HOTELS PVT. LTD.	20	INE601U08184	10,00,000	2,00,00,000
LISTED	1 POLARIS BANYAN HOLDING PRIVATE LIMITED	5	INE601U08184	10,00,000	50,00,000
LISTED	1 SUDSAR CONSULTANTS	2	INE601U08184	10,00,000	20,00,000
LISTED	1 BRAHMAPUTRA BIOCHEM PRIVATE LIMITED		INE601U08184	10,00,000	1,30,00,000
LISTED	1 RISHI KIRAN LOGISTICS PVT LTD	15	INE601U08184	10,00,000	1,50,00,000
LISTED	1 DHARAMPAL GUPTA & SONS		INE601U08184	10,00,000	10,00,000
LISTED	1 MEHUL ARVINDBHAI SHAH		INE601U08184	10.00.000	40,00,000
LISTED	1 JAYACHANDRAN VENKATESAN (HUF)		INE601U08184	10,00,000	10,00,000
LISTED	1 MUKUND C DOSHI HUF	1	INE601U08184	10,00,000	10,00,000
LISTED	1 PRAVIN V MEHTA		INE601U08184	10,00,000	10,00,000
LISTED	1 AMRISH HASMUKHLAL PARIKH		INE601U08184	10,00,000	10,00,000
LISTED	1 KOTAK MAGANLAL RANCHHODDAS		INE601U08184	10,00,000	10,00,000
LISTED	1 HARSHAD L MEHTA	1	INE601U08184	10,00,000	10,00,000
LISTED	1 PRADEEP MISHRA	1	INE601U08184	10,00,000	10,00,000
LISTED	1 SUNIL MAHENDRA VORA	1	INE601U08184	10,00,000	10,00,000
LISTED	1 SHAH VIRAJ RAJENDRABHAI (HUF)		INE601U08184	10,00,000	10,00,000
LISTED	1 RAJIV R TIBREWALA HUF	1	INE601U08184	10,00,000	10,00,000
LISTED	1 NIRAV DEVENDRA SAVAI HUF	1	INE601U08184	10,00,000	10,00,000
LISTED	1 BHARAT KESHAVLAL SHAH	1	INE601U08184	10,00,000	10,00,000
LISTED	1 KESHAVLAL MANILAL SHAH HUF	1	INE601U08184	10,00,000	10,00,000
LISTED	1 LAKHOTIYA NARAYANDAS	1	INE601U08184	10,00,000	10,00,000
LISTED	1 KALPESH BABULAL DALAL	1	INE601U08184	10,00,000	10,00,000
LISTED	1 NATVAR BHIMJI VADGAMA HUF	1	INE601U08184	10,00,000	10,00,000
LISTED	1 SOWMYAN RAMAKRISHNAN	1	INE601U08184	10,00,000	10,00,000
LISTED	1 JITENDRA H MEHTA HUF .	3	INE601U08184	10,00,000	30,00,000
LISTED	1 D N PADWAL HUF		INE601U08184	10,00,000	10,00,000
LISTED	1 MITUL RAJNIKANT SHAH (HUF) .		INE601U08184	10,00,000	10,00,000
LISTED	1 RAJEEV GOEL HUF .		INE601U08184	10,00,000	20,00,000
LISTED	1 VIVEK R GUPTA HUF .		INE601U08184	10,00,000	50,00,000
LISTED	1 KANHI RAM RAM NATH JAIN (HUF)	2	INE601U08184	10,00,000	20,00,000

LISTED	1 ABHAY B THAKKAR HUF .	2 INE601U08184	10,00,000	20,00,000
LISTED	1 HARDIK N CHITALIA HUF .	1 INE601U08184	10,00,000	10,00,000
LISTED	1 PATHIK N CHITALIA HUF .	1 INE601U08184	10,00,000	10,00,000
LISTED	1 JAGDISH CHUNILAL PATEL HUF.	1 INE601U08184	10,00,000	10,00,000
LISTED	1 RAMNIKLAL D TANNA HUF .	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SHAH BHAILALBHAI HIMATLAL HUF .	1 INE601U08184	10,00,000	10,00,000
				, ,
LISTED	1 ISHWARDAS AGARWAL RASIWASIA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 ANAND P BHALODI HUF .	2 INE601U08184	10,00,000	20,00,000
LISTED	1 UNIQUE ASSET MANAGEMENT LLP	3 INE601U08184	10,00,000	30,00,000
LISTED	1 PARUL MISHRA	1 INE601U08184	10,00,000	10,00,000
		4 INE601U08184	10,00,000	
LISTED	1 CHANDRAKANT SANJIVA SALIAN			40,00,000
LISTED	1 VIBHUTI NIMESH JOSHI	1 INE601U08184	10,00,000	10,00,000
LISTED	1 POOJA ARJAN CHANGRANI	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SATHASIVAM .	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SUNIL BHARATKUMAR SHAH	1 INE601U08184	10,00,000	10,00,000
LISTED	1 CHANDRIKA KANDHARI	4 INE601U08184	10,00,000	40,00,000
LISTED	1 NEETA H. MEHTA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 DEENA HASMUKH VORA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 HASMUKH UTTAMCHAND VORA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 PRIYA A NARAYANAN	1 INE601U08184	10,00,000	10,00,000
LISTED	1 Bina Amit Gunderia	1 INE601U08184	10,00,000	10,00,000
LISTED	1 KRISHNA KANT MITAL	1 INE601U08184	10,00,000	10,00,000
LISTED	1 NILABH NAGAR	2 INE601U08184	10,00,000	20,00,000
LISTED	1 KETU SUBODHBHAI SHAH	1 INE601U08184	10,00,000	10,00,000
LISTED	1 KULDEEP SINGH NANDA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 MARIO S COLACO	1 INE601U08184	10,00,000	10,00,000
LISTED	1 FEROZA POONAWALLA	2 INE601U08184	10,00,000	20,00,000
-	1 KHORSHED DORAB MEHTA	3 INE601U08184	10,00,000	30,00,000
LISTED				/ /
LISTED	1 DINA DADABHOY BROACHA	2 INE601U08184	10,00,000	20,00,000
LISTED	1 ASHWINA PIYUSH SHAH	5 INE601U08184	10,00,000	50,00,000
LISTED	1 DEEPAK JAGGI	3 INE601U08184	10,00,000	30,00,000
LISTED	1 ANITA V DAISARIA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 KALLOL ADHIKARY	1 INE601U08184	10,00,000	10,00,000
LISTED	1 MINOO KAIKHUSROO BHARUCHA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 MANISH GOPALDAS SHAH	1 INE601U08184	10,00,000	10,00,000
LISTED	1 NALINI GOPALDAS SHAH	1 INE601U08184	10,00,000	10,00,000
LISTED	1 GAYATRI NIRAJ SANGHVI	1 INE601U08184	10,00,000	10,00,000
LISTED	1 CONSTANCE ANTONETTE ALMEIDA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SIDDHARTO BANERJEE	1 INE601U08184	10,00,000	10,00,000
LISTED	1 NAINA DEVI JHUNJHUNWALA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 VENKATESA PRASAD NARAYAN IYER	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SANYOGITA PAREKH	1 INE601U08184	10,00,000	10,00,000
LISTED	1 ANIL PUSHKAR GOEL	2 INE601U08184	10,00,000	20,00,000
LISTED	1 SRIMATHY SUNDAR	1 INE601U08184	10,00,000	10,00,000
LISTED	1 LAKSHMI GANDHI VADLAPATLA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SURESH KUMAR GOYAL	1 INE601U08184	10,00,000	10,00,000
LISTED	1 RAKESH DALAL	1 INE601U08184	10,00,000	10,00,000
LISTED	1 HANSA KIRITKUMAR SHAH	1 INE601U08184	10,00,000	
LISTED	1 DILIP MUKUNDRAI MUNI	2 INE601U08184	10,00,000	10,00,000
-				20,00,000
LISTED	1 KAMLESH SHANTILAL SONAWALA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SHIBANI MADHAVLAL	2 INE601U08184	10,00,000	20,00,000
LISTED	1 BANGALORE NANJAPPA PATTABHI	1 INE601U08184	10,00,000	10,00,000
LISTED	1 EDI BAPOOJI SETHNA	2 INE601U08184	10,00,000	20,00,000
LISTED	1 SUBRAMANIAN SREENIVASAN	1 INE601U08184	10,00,000	10,00,000
LISTED	1 ANNE PARIMAL HIRADHAR	2 INE601U08184	10,00,000	20,00,000
LISTED	1 KETKI UPEN SHAH	1 INE601U08184	10,00,000	10,00,000
LISTED	1 ANILA SHAH	1 INE601U08184	10,00,000	10,00,000
LISTED	1 ANILA A MODI	1 INE601U08184	10,00,000	10,00,000
LISTED	1 DHARMESH ASHWIN PARIKH	1 INE601U08184	10,00,000	10,00,000
LISTED	1 KABIR SETH	1 INE601U08184	10,00,000	10,00,000
LISTED	1 NARESH CHANDRA AGARWAL	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SHEELA MOHAN	1 INE601U08184	10,00,000	10,00,000
	1		,,	20,00,000

LISTED	1 PAWAN KUMAR BHAGERIA	4 INE601U08184	10,00,000	40,00,000
LISTED	1 ANIL GARG	2 INE601U08184	10,00,000	20,00,000
LISTED	1 SRIDHAR NARASIMHAN	1 INE601U08184	10,00,000	10,00,000
LISTED	1 MEENA H SHAH	2 INE601U08184	10,00,000	20,00,000
LISTED	1 UDAY SURESH DHARIA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 RATNA PRABHAKAR	1 INE601U08184	10,00,000	10,00,000
LISTED	1 NAGRAJ B SHET	1 INE601U08184	10,00,000	10,00,000
LISTED	1 ALPANA AVINASH DEODHAR	1 INE601U08184	10,00,000	10,00,000
LISTED	1 VINODKUMAR NARAYAN PUTHRAN	1 INE601U08184	10,00,000	10,00,000
LISTED	1 UDAYAKUMAR SAMUEL	2 INE601U08184	10,00,000	20,00,000
LISTED	1 SIVA SAGARRAO YENDAMURI	1 INE601U08184	10,00,000	10,00,000
LISTED	1 N DEVARAJAN	2 INE601U08184	10,00,000	20,00,000
LISTED	1 S SUBHASHREE	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SANGARI R	1 INE601U08184	10,00,000	10,00,000
LISTED	1 K.KRITHIVASAN	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SRIPRIYA LAKSHMANAN	1 INE601U08184	10,00,000	10,00,000
LISTED	1 ROOPA GANESH SESHADRI	1 INE601U08184	10,00,000	10,00,000
LISTED	1 M.R.SREEDHAR	1 INE601U08184	10,00,000	10,00,000
LISTED	1 JAYARAMAN RAVICHANDRAN	1 INE601U08184	10,00,000	10,00,000
LISTED	1 OM PARKASH ARORA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 C B MOHAN KUMAR	1 INE601U08184	10,00,000	10,00,000
LISTED	1 MANAN SURESHBHAI SHAH	1 INE601U08184	10,00,000	10,00,000
LISTED	1 PRADEEP AHUJA	5 INE601U08184	10,00,000	50,00,000
LISTED	1 PUSHPA DEVI AGRAWAL	1 INE601U08184	10,00,000	10,00,000
LISTED	1 RASHMI AGRAWAL	1 INE601U08184	10,00,000	10,00,000
LISTED	1 VIVASVAT D MEHTA	5 INE601U08184	10,00,000	50,00,000
LISTED	1 HADI E. KIZILBASH	1 INE601U08184	10,00,000	10,00,000
LISTED	1 JITENDRA MULRAJ MERCHANT	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SANJEEL KADAM	1 INE601U08184	10,00,000	10,00,000
LISTED	1 AMI APOORVA DOSHI	1 INE601U08184	10,00,000	10,00,000
LISTED	1 KAMDAR PANKAJ	1 INE601U08184	10,00,000	10,00,000
LISTED	1 MINAL SUNIL PALANDE	1 INE601U08184	10,00,000	10,00,000
LISTED	1 AR RAMANATHAN	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SNEHA SHRIKANT PATNE	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SHAH JITENDRA NATWARLAL	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SADHANA SUNIL KATWALA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 MANISHA SATISHKUMAR SHAH	1 INE601U08184	10,00,000	10,00,000
LISTED	1 NARENDRA GURTU	1 INE601U08184	10,00,000	10,00,000
LISTED	1 LALIT KAILASH SINGHANIA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 RANDHIR BEHL	3 INE601U08184	10,00,000	30,00,000
LISTED	1 G V N APPARAO	2 INE601U08184	10,00,000	20,00,000
LISTED	1 ROHAN SUNIL VORA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 REENA TALSANIA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SEJAL DHIREN MEHTA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SANJAY NARESHCHANDRA DALAL	1 INE601U08184	10,00,000	10,00,000
LISTED	1 AMRISH HASMUKHLAL PARIKH	1 INE601U08184	10,00,000	10,00,000
LISTED	1 VASUDEVAN N	1 INE601U08184	10,00,000	10,00,000
LISTED	1 MUTHUKRISHNAN VENKATARAMAN	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SIMRAT KAUR NIJJAR	1 INE601U08184	10,00,000	10,00,000
LISTED	1 ASHISH SETHI	2 INE601U08184	10,00,000	20,00,000
LISTED	1 KERSI R BHAGAT	2 INE601U08184	10,00,000	20,00,000
LISTED	1 BHAKTI HARSHAD MEHTA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 ANIL BERERA	5 INE601U08184	10,00,000	50,00,000
LISTED	1 FARZAN KERSI FOUZDAR	2 INE601U08184	10,00,000	20,00,000
LISTED	1 HIRAL HARSHAD MEHTA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SHERNAZ KHURSHED DICK	1 INE601U08184	10,00,000	10,00,000
LISTED	1 YAMINI RAMCHANDANI	2 INE601U08184	10,00,000	20,00,000
LISTED	1 RIDDHI ROHAN GOLWALA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 MEHERNOSH HOMI POONAWALLA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 HRUSHI ATULBHAI MEHTA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SNEHA SHRIPAD SATHE	3 INE601U08184	10,00,000	30,00,000
LISTED	1 SAMPADA AJIT SATHE	1 INE601U08184	10,00,000	10,00,000
LISTED	1 MEETA AGARWAL	1 INE601U08184	10,00,000	10,00,000

LISTED	1 RASHMIBEN SAURABHBHAI SHODHAN	1	INE601U08184	10,00,000	10,00,000
LISTED	1 SARLA YESHVANT VARAIYA	1	INE601U08184	10,00,000	10,00,000
LISTED	1 YESHVANT SOBHAGCHAND VARAIYA		INE601U08184	10,00,000	10,00,000
LISTED	1 INDIRA NAGARAJAN	1	INE601U08184	10,00,000	10,00,000
LISTED	1 ARADHNA RAKESH KAPUR		INE601U08184	10,00,000	10,00,000
LISTED	1 JAYA RAJU BHAGIA		INE601U08184	10,00,000	10,00,000
LISTED	1 SUNIL MAHENDRA VORA	1	INE601U08184	10,00,000	10,00,000
LISTED	1 AMI SUNIL VORA	1	INE601U08184	10,00,000	10,00,000
LISTED	1 BELA RAJARSHI TEMBE	1	INE601U08184	10,00,000	10,00,000
LISTED	1 ANIL CHANDER RAMCHANDANI	2	INE601U08184	10,00,000	20,00,000
LISTED	1 RUSHABH SUNIL VORA	1	INE601U08184	10,00,000	10,00,000
LISTED	1 R SIVAGAMI	1	INE601U08184	10,00,000	10,00,000
LISTED	1 AANAL P BHAGWATI	2	INE601U08184	10,00,000	20,00,000
LISTED	1 SUNIL DALPATRAM DAMANIA	1	INE601U08184	10,00,000	10,00,000
LISTED	1 SURENDRA MALHOTRA	2	INE601U08184	10,00,000	20,00,000
LISTED	1 ANEETA RAGHUNATH MHAPSEKAR	1	INE601U08184	10,00,000	10,00,000
LISTED	1 DIPAK JADAVRAY SHUKLA	3	INE601U08184	10,00,000	30,00,000
LISTED	1 DIPAK JADAVRAY SHUKLA	3	INE601U08184	10,00,000	30,00,000
LISTED	1 BIRENDRA GIRDHARILAL SAMPAT	1	INE601U08184	10,00,000	10,00,000
LISTED	1 DIVYA M BALASUBRAMANIAN	1	INE601U08184	10,00,000	10,00,000
LISTED	1 DEVADAS NAIR		INE601U08184	10,00,000	10,00,000
LISTED	1 SHERNAAZ MARFATIA	1	INE601U08184	10,00,000	10,00,000
LISTED	1 RAJ HUKUMAT KATRA	2	INE601U08184	10,00,000	20,00,000
LISTED	1 CHETANA PUTHRAN	2	INE601U08184	10,00,000	20,00,000
LISTED	1 LAKSHMIKUMARI RAGHVENDRASINH JHALA	1	INE601U08184	10,00,000	10,00,000
LISTED	1 MALLADI RAMABABU	1	INE601U08184	10,00,000	10,00,000
LISTED	1 JAYASHREE SUBRAMANIAN	+	INE601U08184	10,00,000	10,00,000
LISTED	1 APARNA SETHURAMAN			10,00,000	40,00,000
LISTED	1 ANURADHA SETHURAMAN		INE601U08184	10,00,000	40,00,000
LISTED	1 SUDARSHANRAM NARAYAN RAO	+	INE601U08184	10,00,000	10,00,000
LISTED	1 PUSHPA CHHAJERH		INE601U08184	10,00,000	10,00,000
LISTED	1 MAITRI SAMIR SHAH		INE601U08184	10,00,000	10,00,000
LISTED	1 RUKMA CHANDUR GURBAXANI		INE601U08184	10,00,000	30,00,000
LISTED	1 SUSHIL RAMGOPAL MOHTA	5	INE601U08184	10,00,000	50,00,000
LISTED	1 CHARU BHARAT PAREKH	1	INE601U08184	10,00,000	10,00,000
LISTED	1 DINA SHIVLAL DESAI	1	INE601U08184	10,00,000	10,00,000
LISTED	1 DAKSHA SURESH PATEL	1	INE601U08184	10,00,000	10,00,000
LISTED	1 HEMANGI SHRIPAD SHIDORE	1	INE601U08184	10,00,000	10,00,000
LISTED	1 CHANDRAKANT CHUNILAL KOTADIA	1	INE601U08184	10,00,000	10,00,000
LISTED	1 SHANTILAL MANNALALJI BOHRA	1	INE601U08184	10,00,000	10,00,000
LISTED	1 PREMILA BHARATKUMAR SHAH		INE601U08184	10,00,000	10,00,000
LISTED	1 VIJAYALAKSHMI V R		INE601U08184	10,00,000	10,00,000
LISTED	1 BHARATHI MUTHU CHIDAMBARAM	+	INE601U08184	10,00,000	10,00,000
LISTED	1 PADMA HARAN		INE601U08184	10,00,000	10,00,000
LISTED	1 KUNTI ANKIT JHAVERI		INE601U08184	10,00,000	1,00,00,000
LISTED	1 MADHAVI R. BALANI		INE601U08184	10,00,000	20,00,000
LISTED	1 MAHESH B		INE601U08184	10,00,000	10,00,000
LISTED	1 DATTA RS SUBRAHMANYA		INE601U08184	10,00,000	10,00,000
LISTED	1 RINA SURENDRA SHAH	+	INE601U08184	10,00,000	10,00,000
LISTED	1 PRATIMABEN JAYENDRABHAI PATEL	+	INE601U08184	10,00,000	40,00,000
LISTED	1 RUPAL JIGNESH SHAH		INE601U08184	10,00,000	10,00,000
LISTED	1 HITENDRA JASWANTLAL SHAH	+	INE601U08184	10,00,000	10,00,000
LISTED	1 BHOOMI MAYANKUMAR MEHTA	+	INE601U08184	10,00,000	10,00,000
LISTED	1 DEEPALI DHRUMIL JOSHI		INE601U08184	10,00,000	10,00,000
LISTED	1 ROHITBHAI MAHENDRABHAI DESAI		INE601U08184	10,00,000	10,00,000
LISTED	1 JAYENDRABHAI NATVERLAL PATEL	+	INE601U08184	10,00,000	40,00,000
LISTED	1 MADHAVI JAGAT SHAH		INE601U08184	10,00,000	20,00,000
LISTED	1 KALPESH BABUBHAI DALAL		INE601U08184	10,00,000	20,00,000
LISTED	1 KAUSHIKKUMAR GANESHMAL SHAH	1	INE601U08184	10,00,000	10,00,000

LISTED	1 DHARANENDRAKUMAR LALITKUMAR	1 INE601U08184	10,00,000	10,00,000
	SHAH			
LISTED	1 PANKAJKUMAR LALITKUMAR SHAH	1 INE601U08184	10,00,000	10,00,000
LISTED	1 AVISHI ANUJ SHAREDALAL	1 INE601U08184	10,00,000	10,00,000
LISTED	1 PAULOMI RAMESH SHAH	2 INE601U08184	10,00,000	20,00,000
LISTED	1 ANISHA SHAILEH MEHTA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 POYANI ANANTKUMAR DAVE	1 INE601U08184	10,00,000	10,00,000
LISTED	1 JESICKA SETU SHAH	1 INE601U08184	10,00,000	10,00,000
LISTED	1 CHIRAG SETU SHAH	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SAURIN THAKORE	1 INE601U08184	10,00,000	10,00,000
LISTED	1 KALPIT SURESHCHANDRA BHAVSAR	1 INE601U08184	10,00,000	10,00,000
LISTED	1 HIRAL JAGDISH LAKHANI	1 INE601U08184	10,00,000	10,00,000
LISTED	1 Shailja Bhaia	1 INE601U08184	10,00,000	10,00,000
LISTED	1 Vandana Damani	1 INE601U08184	10,00,000	10,00,000
LISTED	1 Neerja Bhaia	2 INE601U08184	10,00,000	20,00,000
LISTED	1 Ankita Damani	1 INE601U08184	10,00,000	10,00,000
LISTED	1 BHARATHI VISHWAS	1 INE601U08184	10,00,000	10,00,000
LISTED	1 DEEPALI HIRENBHAI THAKKER	1 INE601U08184	10,00,000	10,00,000
LISTED	1 DAKSHABEN DIPAK SHAH	1 INE601U08184	10,00,000	10,00,000
LISTED	1 HIREN SATYENDRA THAKKER	1 INE601U08184	10,00,000	10,00,000
LISTED	1 Yogeshchand Goyal	1 INE601U08184	10,00,000	10,00,000
LISTED	1 Saroja Srinivasan	1 INE601U08184	10,00,000	10,00,000
LISTED	1 AJAY MEHRA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 DIVYA SAHAYA AGGARWAL	1 INE601U08184	10,00,000	10,00,000
LISTED	1 BAMI MINOO BHARUCHA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 NAVROZ MINOO BHARUCHA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 LALITA SETHI	1 INE601U08184	10,00,000	10,00,000
LISTED	1 ANIL KUMAR SHRANGARYA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SUSHEELA SATISH	1 INE601U08184	10,00,000	10,00,000
LISTED	1 RANJIT SINGH	1 INE601U08184	10,00,000	10,00,000
LISTED	1 VIDYA S RASTE	1 INE601U08184	10,00,000	10,00,000
LISTED	1 MALLIKA PATRA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 AMITA UDAY KHAIRATKAR	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SANJAY KAUL	1 INE601U08184	10,00,000	10,00,000
LISTED	1 LATHA RAJESH	1 INE601U08184	10,00,000	10,00,000
LISTED	1 ANAND E	1 INE601U08184	10,00,000	10,00,000
LISTED	1 B N CHANDRASHEKHAR	2 INE601U08184	10,00,000	20,00,000
LISTED	1 SHARON JACOB	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SHIVYA GUPTA	3 INE601U08184	10,00,000	30,00,000
LISTED	1 ANIL BHANDARKAR	1 INE601U08184	10,00,000	10,00,000
LISTED	1 ALKA MEHANDRU	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SHAKTI BAJAJ	2 INE601U08184	10,00,000	20,00,000
LISTED	1 KRISHAN KUMAR	5 INE601U08184	10,00,000	50,00,000
LISTED	1 ALOK DEB	1 INE601U08184	10,00,000	10,00,000
LISTED	1 N VIJAYALAKSHMI	2 INE601U08184	10,00,000	20,00,000
LISTED	1 RAVISHANKAR SANKARA NARAYANAN	1 INE601U08184	10,00,000	10,00,000
LISTED	1 KRISHNA CHAUBEY	1 INE601U08184	10,00,000	10,00,000
LISTED	1 UDAY NARAYAN DIXIT	1 INE601U08184	10,00,000	10,00,000
LISTED	1 ROHAN JATIN DAISARIA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 POONAM TOSHNIWAL	1 INE601U08184	10,00,000	10,00,000
LISTED	1 CSV RAMANA KUMAR	1 INE601U08184	10,00,000	10,00,000
LISTED	1 ARISTO BHUPAL	1 INE601U08184	10,00,000	10,00,000
LISTED	1 MANISHA HIMANSHU SOMAIYA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 HIMANI SABHARWAL	1 INE601U08184	10,00,000	10,00,000
LISTED	1 GRISHMA PRASAD	1 INE601U08184	10,00,000	10,00,000
LISTED	1 GUDALUR KALYANSUNDARAM	50 INE601U08184	10,00,000	5,00,00,000
	RAMAMURTHY			
LISTED	1 JALPA USHIR SHAH	1 INE601U08184	10,00,000	10,00,000
LISTED	1 MEENAKSHI SHIVA POOJARY	1 INE601U08184	10,00,000	10,00,000
LISTED	1 MOHIT DEWAN	1 INE601U08184	10,00,000	10,00,000
LISTED	1 RAMA NAND SINGH	1 INE601U08184	10,00,000	10,00,000
LISTED	1 KANIKA NANDA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 USHA SURESH GUPTA	1 INE601U08184	10,00,000	10,00,000

LISTED	1 KAILASH CHANDRA GUPTA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 ASHISH NANDA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 NEELU DHAWAN	2 INE601U08184	10,00,000	20,00,000
LISTED	1 PRANJALI BHATIA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SMITA NITIN GADKARI	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SUHAS VASANT RAJE	1 INE601U08184	10,00,000	10,00,000
LISTED	1 VENUGOPAL H N	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SUDHIR BHAVANJI RUPAREL	1 INE601U08184	10,00,000	10,00,000
LISTED	1 VIVEK AVTAR	3 INE601U08184	10,00,000	30,00,000
LISTED	1 HARSHABEN BHARATKUMAR BAGADIA	2 INE601U08184	10,00,000	20,00,000
LISTED	THARSHADEN BHARATRUMAR BAGADIA	2 1112001008184	10,00,000	20,00,000
LISTED	1 BHARAT CHAMPAKLAL SHAH	1 INE601U08184	10,00,000	10,00,000
LISTED	1 ANJANA RAJESH BHANSALI	4 INE601U08184	10,00,000	40,00,000
LISTED	1 KAMAL KISHORE CHOUDHURY	1 INE601U08184	10,00,000	10,00,000
LISTED	1 ASHOK KUMAR M SHAH	1 INE601U08184	10,00,000	10,00,000
LISTED	1 PUSHPA GATTANI	1 INE601U08184	10,00,000	10,00,000
LISTED	1 DHARMESH B PANDYA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 THAKKUM BALAIYAN SRIDHARAN	2 INE601U08184	10,00,000	20,00,000
LISTED	1 INDRANATH CHATTERJEE	1 INE601U08184	10,00,000	10,00,000
LISTED	1 ASHISH DIWAKAR BARVE	1 INE601U08184	10,00,000	10,00,000
LISTED	1 VINOD RANJAN	1 INE601U08184	10,00,000	10,00,000
LISTED	1 VINOD RANJAN 1 VINAY VINOD CHOPRA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 NIJESSH SHAH	1 INE601U08184	10,00,000	10,00,000
LISTED	1 ASHA S KAPADIA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 AMRUTLAL MANGALDAS PATEL	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SURESH JAIKRISHNA PUROHIT	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SNEHAL DEEPAK PADVAL	1 INE601U08184	10,00,000	10,00,000
LISTED	1 ANILA NARENDRABHAI SAPARIA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 PRATIMA SANJAY CHOPRA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SARITA SURESH SATAV	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SEEMA RAJESH BAJAJ .	1 INE601U08184	10,00,000	10,00,000
LISTED	1 ANUJA VINAYAK DIXIT	1 INE601U08184	10,00,000	10,00,000
LISTED	1 KAMAL BHANDARI .	1 INE601U08184	10,00,000	10,00,000
LISTED	1 PARUL PATNI .	1 INE601U08184	10,00,000	10,00,000
LISTED	1 LAXMIBEN MANJIBHAI PATEL .	1 INE601U08184	10,00,000	10,00,000
LISTED	1 RAJENDRA KUMAR ARORA .	2 INE601U08184	10,00,000	20,00,000
LISTED	1 VEENA ARORA .	1 INE601U08184	10,00,000	10,00,000
LISTED	1 VASANTHI .	1 INE601U08184	10,00,000	10,00,000
LISTED	1 RAMESH HARIBHAU HANKARE	1 INE601U08184	10,00,000	10,00,000
LISTED	1 NIHARIKA PUNIT PATEL	1 INE601U08184	10,00,000	10,00,000
LISTED	1 KAVITA KULDIP KAMAT	1 INE601U08184	10,00,000	10,00,000
LISTED	1 AVANI A THAKKAR	3 INE601U08184	10,00,000	30,00,000
LISTED	1 SHAH SADHNA RAJESH	1 INE601U08184	10,00,000	10,00,000
LISTED	1 MAHESH ZUMBERLAL UPADHYE	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SANGEETA MAHESH UPADHYE	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SHASHIKALA S BOHRA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 AAKASH SHANTILAL BOHRA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 HARSHA HARISIDDHA TALATI	2 INE601U08184	10,00,000	20,00,000
LISTED	1 PINKU PRAVIN TALATI	2 INE601U08184	10,00,000	20,00,000
LISTED	1 NILIMA CHANDRAKANT PHADNIS	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SANJAY GANESH GOKHALE	1 INE601U08184	10,00,000	10,00,000
LISTED	1 HOMI SORABJI AYRTON	3 INE601U08184	10,00,000	30,00,000
LISTED	1 VIPUL RAMESHCHANDRA SHAH	1 INE601U08184	10,00,000	10,00,000
LISTED	1 AARON SANJAY MUDARTHA	5 INE601U08184	10,00,000	50,00,000
LISTED	1 KASHMIRA FIROZE MISTRY	1 INE601U08184	10,00,000	10,00,000
LISTED	1 DAVINDER KUMAR JAIN	3 INE601U08184	10,00,000	30,00,000
LISTED	1 KUMUD LATA JAIN	1 INE601U08184	10,00,000	10,00,000
LISTED	1 ASHWANI KUMAR NANDA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 KENNETH DCUNHA	2 INE601U08184	10,00,000	20,00,000
LISTED	1 HEMLATA PANKAJ JOSHI	2 INE601U08184	10,00,000	20,00,000
LISTED	1 MALLIKA MHATRE .	2 INE601U08184	10,00,000	20,00,000
LISTED	1 SANGEETA GOKHALE	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SALONI NIRAV SOMANI	1 INE601U08184	10,00,000	10,00,000
LISTED	1 VINODKUMAR RAMANLAL DAVE	1 INE601U08184	10,00,000	10,00,000

LISTED	1 JAYESH JAYENDRA MEHTA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SANGEETA SHAILESH GANDHI	2 INE601U08184	10,00,000	20,00,000
LISTED	1 RUCHITA PRAFULLA GANDHI	1 INE601U08184	10,00,000	10,00,000
LISTED	1 PREETI GARG	1 INE601U08184	10,00,000	10,00,000
LISTED	1 ARUN GOVIND GUJAR	1 INE601U08184	10,00,000	10,00,000
LISTED	1 R. P. GUPTA	2 INE601U08184	10,00,000	20,00,000
LISTED	1 ARUN KUMAR SHETH	1 INE601U08184	10,00,000	10,00,000
LISTED	1 MINAXI SHETH	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SHIVANI ARUNKUMAR SHETH	1 INE601U08184	10,00,000	10,00,000
LISTED	1 ILA JAGDISH PATEL	1 INE601U08184	10,00,000	10,00,000
LISTED	1 NIRALI NISCHAL PATEL .	1 INE601U08184	10,00,000	10,00,000
LISTED	1 HEMALI MITESH SHAH .	5 INE601U08184	10,00,000	50,00,000
LISTED	1 MANASHI MUKHERJEE .	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SAIFUDDIN HATIM SHEHABI	1 INE601U08184	10,00,000	10,00,000
LISTED	1 AMEETA ROHINTON MARFATIA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 LINA MUKUL DALAL	2 INE601U08184	10,00,000	20,00,000
LISTED	1 NIRUPA PANKAJ NEGANDHI	1 INE601U08184	10,00,000	10,00,000
LISTED	1 KAILASH SUBASH BAHAL	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SUBASH TEJBHAN BAHAL	1 INE601U08184	10,00,000	10,00,000
LISTED	1 NISHA SHAILESH SHAH	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SUDHA SURESH SHAH	1 INE601U08184	10,00,000	10,00,000
LISTED	1 JULISHA ANAND SANGOI	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SURESHCHANDRA A SHAH	1 INE601U08184	10,00,000	10,00,000
LISTED	1 BHAVIKA DHARMESH SHETH	1 INE601U08184	10,00,000	10,00,000
LISTED	1 VIJAY GOPALDAS MEHRA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 NITISH NATWARLAL SHAH	1 INE601U08184	10,00,000	10,00,000
LISTED	1 GEORGE KURIAKOSE	1 INE601U08184	10,00,000	10,00,000
LISTED	1 PULKIT MALHOTRA	1 INE601U08184	10,00,000	10,00,000
LISTED LISTED	1 VASANT NARAYAN SANZGIRI	2 INE601U08184	10,00,000	20,00,000
LISTED	1 DIPTI SANZGIRI	2 INE601U08184 1 INE601U08184	10,00,000	20,00,000
LISTED	1 JYOTI NARANG 1 SUSHIL JAIN	2 INE601U08184	10,00,000	10,00,000 20,00,000
LISTED	1 POLI REDDY YANNAM	1 INE601U08184	10,00,000	10,00,000
LISTED	1 BANWARI LAL SABOO	1 INE601U08184	10,00,000	10,00,000
LISTED	1 JAGDISH VAMAN JAGTAP .	1 INE601U08184	10,00,000	10,00,000
LISTED	1 CHANDRAMOHAN TANAJI PARAB .	1 INE601U08184	10,00,000	10,00,000
LISTED	1 DEEPALI NIHAG SHAH	1 INE601U08184	10,00,000	10,00,000
LISTED	1 VISHWAS PRABHAKAR SAHASRABUDDHE	1 INE601U08184	10,00,000	10,00,000
LIGILD		111,2001000101	10,00,000	10,00,000
LISTED	1 KAMAL CHAMPAKLAL PATEL	2 INE601U08184	10,00,000	20,00,000
LISTED	1 Rashmi Pratap Ruparelia	2 INE601U08184	10,00,000	20,00,000
LISTED	1 SANJAY KANUBHAI PATEL	1 INE601U08184	10,00,000	10,00,000
LISTED	1 ANJALI LAXMAN	1 INE601U08184	10,00,000	10,00,000
LISTED	1 KSHMA NILESH PATEL	1 INE601U08184	10,00,000	10,00,000
LISTED	1 NILESH SURESH SHAH	1 INE601U08184	10,00,000	10,00,000
LISTED	1 ARCHANA KUMAR	1 INE601U08184	10,00,000	10,00,000
LISTED	1 BHUVNESH KUMAR	1 INE601U08184	10,00,000	10,00,000
LISTED	1 HEMALI NILESH SHAH	1 INE601U08184	10,00,000	10,00,000
LISTED	1 GANSHYAM JAGANNATH JAMBOTKAR	2 INE601U08184	10,00,000	20,00,000
LISTED	1 BILIGERE GOVINDIAH SAVITHRI	1 INE601U08184	10,00,000	10,00,000
LISTED	1 MADAN HARBHAGWANDAS SAMAT	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SHERRY DHANJU BATLIWALA .	8 INE601U08184	10,00,000	80,00,000
LISTED	1 KAMINI MANISH SHAH .	20 INE601U08184	10,00,000	2,00,00,000
LISTED	1 KIRTIKUMAR HIMATLAL BAGADIA .	1 INE601U08184	10,00,000	10,00,000
LISTED	1 JAGUBHAI NAROTTAMBHAI PATEL	1 INE601U08184	10,00,000	10,00,000
LISTED	1 DAHIBEN HARGOVANBHAI PATEL	1 INE601U08184	10,00,000	10,00,000
LISTED	1 POOJA ARORA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 ARIZ ASPI ANKLESARIA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 JAYA SUNIL RADHAKRISHNANI	1 INE601U08184	10,00,000	10,00,000
LISTED	1 GURUNG NARENDRA JAMBAHADUR	1 INE601U08184	10,00,000	10,00,000
LISTED	1 RADHIKA SOKHI	2 INE601U08184	10,00,000	20,00,000
LISTED	1 ROHIT PHADKE.G	1 INE601U08184	10,00,000	10,00,000
LISTED	1 JYOTHI SWARUP	1 INE601U08184	10,00,000	10,00,000

LISTED	1 P J G GUPTA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 CHANDRIKA S RAO	1 INE601U08184	10,00,000	10,00,000
LISTED	1 CHARUMATHI CHERUKUPALLI	1 INE601U08184	10,00,000	10,00,000
LISTED	1 VISWANATHAN .	1 INE601U08184	10,00,000	10,00,000
LISTED	1 BALALAKSHMI SUNDARESAN	1 INE601U08184	10,00,000	10,00,000
LISTED	1 LALITHA SWAMINATHAN .	1 INE601U08184	10,00,000	10,00,000
LISTED	1 MALATI MUKHERJEE .	1 INE601U08184	10,00,000	10,00,000
LISTED	1 RAGHAVAN SESHAN .	1 INE601U08184	10,00,000	10,00,000
LISTED	1 NITIN DIGAMBAR GALANDE .	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SANGEETA MADAN NANDAY .	1 INE601U08184	10,00,000	10,00,000
LISTED	1 B KOTHANDARAMAN .	1 INE601U08184	10,00,000	10,00,000
LISTED	1 S SARVESH .	5 INE601U08184	10,00,000	50,00,000
LISTED	1 CHINNAMMA YENDAMURI	1 INE601U08184	10,00,000	10,00,000
LISTED	1 VANITA BALDEV MEHRA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 ARCHANA DIVYAKANT SHAH	1 INE601U08184	10,00,000	10,00,000
LISTED	1 NAYAN YOGESH DIORA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 RAJENDRA PANDURANG ARGADE	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SIVAMANGALAM NARAYANAN	2 INE601U08184	10,00,000	20,00,000
	SREEVALSAN		.,,	.,,
LISTED	1 BHARATI MEHTA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 HEMU RUSTOM KARBHARI .	1 INE601U08184	10,00,000	10,00,000
LISTED	1 RINKU KALPESH MOTHARIYA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 NAYNA AJAY ACHARYA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SHARMISTHA AVANTILAL SHAH	1 INE601U08184	10,00,000	10,00,000
LISTED	1 BHUPENDRABHAI KALIDAS LAPSIWALA	1 INE601U08184	10,00,000	10,00,000
1				
LISTED	1 SHASHIKALA PRADEEPKUMAR DIXIT	1 INE601U08184	10,00,000	10,00,000
LISTED	1 PURUSHOTTAM JADAV BHALODI	2 INE601U08184	10,00,000	20,00,000
LISTED	1 VIJYA PURUSHOTTAM BHALODI	2 INE601U08184	10,00,000	20,00,000
LISTED	1 SANGITA ANAND BHALODI	2 INE601U08184	10,00,000	20,00,000
LISTED	1 ANAND PURUSHOTTAM BHALODI	1 INE601U08184	10,00,000	10,00,000
LISTED	1 DEANNE WINNIFRED BAPTIST	1 INE601U08184	10,00,000	10,00,000
LISTED	1 JYOTSNA MAHENDRA DASADIA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 JAYESH TOKERLAL SHAH	1 INE601U08184	10,00,000	10,00,000
LISTED	1 BHANUKUMAR GIRDHARLAL FOZDAR	3 INE601U08184	10,00,000	30,00,000
			40.00.000	
LISTED	1 BINAL KAMLESH DAMANI	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SIDHARTH BAJAJ	3 INE601U08184	10,00,000	30,00,000
LISTED	1 CHETNA BHARAT GOSRANI	1 INE601U08184	10,00,000	10,00,000
LISTED	1 BHARAT RAMNIKAL PAREKH	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SANJEEV HARISHCHANDRA AGARWAL	2 INE601U08184	10,00,000	20,00,000
LISTED	1 DEVANSHI DARSHAK SALOT	2 INE601U08184	10.00.000	20.00.000
	1 MIHIR K MEHTA		10,00,000	20,00,000
LISTED LISTED	1 YASH KAMLESH MEHTA	1 INE601U08184 1 INE601U08184	10,00,000	10,00,000
LISTED	1 RAKESH GUPTA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SAPNA JAIN	1 INE601U08184	10,00,000	10,00,000
LISTED	1 DIKSHA GUPTA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 ARVIND KUMAR MATHUR	2 INE601U08184	10,00,000	20,00,000
LISTED	1 J G PICHAI	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SREEKANTH H SATHYANARAYANA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SHAH DARSHNA SHALIBHADRA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 SHOBHANA GITESH SHAH	1 INE601U08184	10,00,000	10,00,000
LISTED	1 DINAZ HUSHIDER MUNSHI	4 INE601U08184	10,00,000	40,00,000
LISTED	1 HUSHIDER BOMAN MUNSHI	1 INE601U08184	10,00,000	10,00,000
LISTED	1 PERIANNAN SUNDAR	1 INE601U08184	10,00,000	10,00,000
LISTED	1 CHIMANLAL SHANTILAL MEHTA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 REKHA SHARAT NEVATIA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 KASHMIRA COMMISSARIAT	13 INE601U08184	10,00,000	1,30,00,000
LISTED	1 SUDHEENDRA M R	1 INE601U08184	10,00,000	10,00,000
LISTED	1 MADHU AHUJA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 ABHINAV PRADEEP MISHRA	1 INE601U08184	10,00,000	10,00,000
LISTED	1 KALPANA ARVIND GUNDERIA	1 INE601U08184	10,00,000	10,00,000

LISTED	1 SHREE BOMBAY JAIN SWAYAMSEVAK	1	INE601U08184	10,00,000	10,00,000
LISTED	MANDAL 1 SAVITRIDEVI VISHVANATH MANSINGHKA	5	INE601U08184	10,00,000	50,00,000
LISTED	1 SHRI VISHWANATH MANSINGHKA	1	INE601U08184	10,00,000	10,00,000
LISTED	1 R.S.R.MOHOTA SPG.&WVG.MILLS LTD.EMPLOYEES PROVIDENT FUND TRUST		INE601U08184	10,00,000	70,00,000
LISTED	1 BM PARIKH FOUNDATION TRUST	2	INE601U08184	10,00,000	20,00,000
LISTED	1 AMIT NALIN SECURITIES PVT LTD	10	INE601U08192	10,00,000	1,00,00,000
LISTED	1 R G CREDIT PRIVATE LIMITED	1	INE601U08192	10,00,000	10,00,000
LISTED	1 BHAGWATI FILTERS PRIVATE LIMITED	5	INE601U08192	10,00,000	50,00,000
LISTED	1 VIVRO FINANCIAL SERVICES PVT LTD	3	INE601U08192	10,00,000	30,00,000
LISTED	1 VIMLA SECURITIES PRIVATE LIMITED	1	INE601U08192	10,00,000	10,00,000
LISTED	1 COPPER ROLLERS PVT LTD	2	INE601U08192	10,00,000	20,00,000
LISTED	1 LAUNCHPAD FINTECH PVT LTD	1	INE601U08192	10,00,000	10,00,000
LISTED	1 HARI ORGOCHEM PVT LTD		INE601U08192	10,00,000	3,00,00,000
LISTED	1 UNIPLAN PROPERTIES PVT LTD		INE601U08192	10,00,000	10,00,000
LISTED	1 STANFORD HOLDINGS PRIVATE LIMITED	60	INE601U08192	10,00,000	6,00,00,000
LISTED	1 ALL WAVE A V SYSTEMS PVT LTD	7	INE601U08192	10,00,000	70,00,000
LISTED	1 POONA FORGE PRIVATE LIMITED	10	INE601U08192	10,00,000	1,00,00,000
LISTED	1 SHINE PHARMACEUTICALS LTD	5	INE601U08192	10,00,000	50,00,000
LISTED	1 ANTICA GREENWOODS CO. OP. HOUSING SERVICE SOCIETY LTD.	6	INE601U08192	10,00,000	60,00,000
LISTED	1 STEEL CITY FINANCIAL SERVICES PRIVATE LIMITED	4	INE601U08192	10,00,000	40,00,000
LISTED	1 RJB ESTATES PVT LTD	2	INE601U08192	10,00,000	20,00,000
LISTED	1 POLARIS BANYAN HOLDING PRIVATE LIMITED		INE601U08192	10,00,000	1,00,00,000
LISTED	1 ARYAN MINING & TRADING CORPN PRIVATE LIMITED	50	INE601U08192	10,00,000	5,00,00,000
LISTED	1 DILESH ROADLINES PVT LTD	10	INE601U08192	10,00,000	1,00,00,000
LISTED	1 NARBOD CONSTRUCTIONS PRIVATE LIMITED		INE601U08192	10,00,000	20,00,000
LISTED	1 SUPER AUTO FORGE PRIVATE LIMITED	20	INE601U08192	10,00,000	2,00,00,000
LISTED	1 ELEANORA FASHION PRIVATE LIMITED	1	INE601U08192	10,00,000	10,00,000
LISTED	1 ESAM SHARES AND STOCK BROKERS PRIVATE LIMITED	3	INE601U08192	10,00,000	30,00,000
LISTED	1 HAMSA THEATRES P LTD	1	INE601U08192	10,00,000	10,00,000
LISTED	1 Gujarat JHM Hotels Ltd	10	INE601U08192	10,00,000	1,00,00,000
LISTED LISTED	1 DAZZLE ROBOTICS PRIVATE 1 AMOL CAPITAL MARKETS PVT. LTD.		INE601U08192 INE601U08192	10,00,000	20,00,000 1,60,00,000
LISTED	1 DHARAMPAL GUPTA & SONS	1	INE601U08192	10,00,000	10,00,000
LISTED	1 JITENDAR TAYAL		INE601U08192	10,00,000	20,00,000
LISTED	1 RAVINDRANATH PALAVALLU		INE601U08192	10,00,000	10,00,000
LISTED	1 PANDYA DILIP LABSHANKAR		INE601U08192	10,00,000	20,00,000
LISTED	1 AJIT KUMAR & OTHERS (HUF)	1	INE601U08192	10,00,000	10,00,000
LISTED	1 MANEESH JAIN		INE601U08192	10,00,000	20,00,000
LISTED	1 SUNIL MANIKANT KOTHARI HUF		INE601U08192	10,00,000	70,00,000
LISTED	1 PRAKASH VITHALDAS SOMAIYA		INE601U08192	10,00,000	10,00,000
LISTED	1 KAMDAR PANKAJ		INE601U08192	10,00,000	10,00,000
LISTED	1 GAUTAMLAL NARANLAL SHAH		INE601U08192	10,00,000	50,00,000
LISTED	1 RAMESH BHOGILAL SHAH		INE601U08192	10,00,000	10,00,000
LISTED	1 ANIL BABURAO JAVALEKAR		INE601U08192	10,00,000	10,00,000
LISTED	1 SURESH J DOSHI (HUF)		INE601U08192	10,00,000	80,00,000
LISTED LISTED	1 SHIVRAM MURTI HUF 1 NIRAJ BIPINCHANDRA MEHTA HUF		INE601U08192 INE601U08192	10,00,000	10,00,000

LICTED	1 DIDINGHANDD A NACADD AC MEHTA HHE	1 DECOMPOS	10.00.000	10.00.000
LISTED	1 BIPINCHANDRA NAGARDAS MEHTA HUF	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SUDHANSHU BHUSHAN CHADHA AND	2 INE601U08192	10,00,000	20,00,000
	SONS (HUF)		, ,	, ,
LISTED	1 ASHISH GOYAL HUF	2 INE601U08192	10,00,000	20,00,000
LISTED	1 BHARAT KESHAVLAL SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SHAHIL NARESH BHEDA HUF	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RAMSWAROOP KESHAVDEO PODAR	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SHAH UMESH JAYANTILAL HUF	1 INE601U08192	10,00,000	10,00,000
LISTED	1 BANTVAL YOGISH RAO	1 INE601U08192	10,00,000	10,00,000
LISTED	1 DIPAK MADHUKAR MODY	1 INE601U08192	10,00,000	10,00,000
LISTED	1 MANAN V SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 AMIT BANSAL AND SONS HUF	2 INE601U08192	10,00,000	20,00,000
LISTED	1 DARSHIT AJAYBHAI SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 KALPESH AMRITLAL SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 AMIT MADHUSUDAN SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ALAY JITENDRA SHAH	2 INE601U08192	10,00,000	20,00,000
LISTED	1 WALIA SUMEET MAHENDRA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 NARESHKUMAR ARYA	2 INE601U08192 1 INE601U08192	10,00,000	20,00,000
LISTED LISTED	1 VINOD MODHA 1 NITIN N CHAUDHARY HUF	1 INE601U08192	10,00,000	10,00,000
LISTED	1 PRASHANT VIJAY	1 INE601U08192	10,00,000	
LISTED	1 DEVANG J DESAI	1 INE601U08192 1 INE601U08192	10,00,000	10,00,000
LISTED	1 RAJEEV KUMAR JAIN	1 INE601U08192	10,00,000	10,00,000
LISTED	1 KETAN K GOPANI HUF .	3 INE601U08192	10,00,000	30,00,000
LISTED	1 HARSHAD C GOPANI .	2 INE601U08192	10,00,000	20,00,000
LISTED	1 ARVIND C GOPANI HUF .	2 INE601U08192	10,00,000	20,00,000
LISTED	1 GOPANI HASMUKH C .	2 INE601U08192	10,00,000	20,00,000
LISTED	1 DEEPAK M KOTHARI HUF .	2 INE601U08192	10,00,000	20,00,000
LISTED	1 NIMESH S SHAH HUF .	1 INE601U08192	10,00,000	10,00,000
LISTED	1 PATEL KISHORE RAVJI HUF .	2 INE601U08192	10,00,000	20,00,000
LISTED	1 NIGAM P DESAI HUF .	7 INE601U08192	10,00,000	70,00,000
LISTED	1 CHIMANLAL N SHAH HUF .	6 INE601U08192	10,00,000	60,00,000
LISTED	1 BHARAT C GOPANI .	5 INE601U08192	10,00,000	50,00,000
LISTED	1 D DULAVMAL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 D N PADWAL HUF	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SURINDER GARGI AND SONS .	1 INE601U08192	10,00,000	10,00,000
LISTED	1 VIKESH K NAYAK HUF .	1 INE601U08192	10,00,000	10,00,000
LISTED	1 R K ARORA HUF.	2 INE601U08192	10,00,000	20,00,000
LISTED	1 RAMESH SUBRAMANIAM IYER HUF .	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RAJEEV GOEL HUF.	1 INE601U08192	10,00,000	10,00,000
LISTED	1 KANHI RAM RAM NATH JAIN (HUF)	1 INE601U08192	10,00,000	10,00,000
LISTED	1 HARDIK N CHITALIA HUF.	1 INE601U08192	10,00,000	10,00,000
LISTED	1 PANKAJ MANILAL BAVISHI (H.U.F) 1 RASIKLAL T GANDHI	1 INE601U08192 2 INE601U08192	-,,	10,00,000
LISTED LISTED	1 SHAILESH RASIKLAL GANDHI	1 INE601U08192	10,00,000	20,00,000
LISTED	1 PRAFULLA TALAKCHAND GANDHI (HUF)	1 INE601U08192	10,00,000	10,00,000
LISTED	I RAPOLLA TALARCHAND GANDIII (HOF)	1 111001008192	10,00,000	10,00,000
LISTED	1 T P GANDHI-HUF	1 INE601U08192	10,00,000	10,00,000
LISTED	1 NATHMAL BAFNA & SONS .	1 INE601U08192	10,00,000	10,00,000
LISTED	1 K K GUPTA AND SONS	1 INE601U08192	10,00,000	10,00,000
LISTED	1 DEEPAK NAVINCHANDRA PARIKH HUF	2 INE601U08192	10,00,000	20,00,000
			.,,	.,,
LISTED	1 MANEKLAL DAMODARDAS PATEL HUF	5 INE601U08192	10,00,000	50,00,000
LISTED	1 ASHVIN MANEKLAL PATEL HUF	4 INE601U08192	10,00,000	40,00,000
LISTED	1 NILESH R SHAH (HUF) .	1 INE601U08192	10,00,000	10,00,000
LISTED	1 AJIT S SHAH (HUF)	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RAJESH VRAJLAL SHAH HUF .	2 INE601U08192	10,00,000	20,00,000
LISTED	1 KAILASH CHANDRA MISHRA (HUF) .	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SANJAY DAGA HUF .	1 INE601U08192	10,00,000	10,00,000
LISTED	1 KIRTI KANTILAL SHAH HUF	2 INE601U08192	10,00,000	20,00,000
LISTED	1 SANJAY AIREN HUF	1 INE601U08192	10,00,000	10,00,000
LISTED	1 PRADIPKUMAR SHETH HUF .	1 INE601U08192	10,00,000	10,00,000

LISTED	1 RAJESH KUMAR SHROFF (HUF)	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RAJESH GORDHANDAS KAMANI HUF.	1 INE601U08192	10,00,000	10,00,000
LISTED	1 DEEPAK GUNVANTLAL MODI HUF	1 INE601U08192	10,00,000	10,00,000
LISTED	1 KALPESH JIVANLAL SHAH HUF	5 INE601U08192	10,00,000	50,00,000
LISTED	1 VIVID C VAKIL HUF	1 INE601U08192	10,00,000	10,00,000
LISTED	1 AJIT C JHAVERI (HUF)	1 INE601U08192	10,00,000	10,00,000
LISTED	1 VASANTLAL AMRATLAL VAKHARIA HUF .	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ANIL KANTILAL SOMAIYA HUF	1 INE601U08192	10,00,000	10,00,000
LISTED	1 KAMLESH DAHYABHAI PATEL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 NAVNITLAL KODARLAL SHAH HUF	5 INE601U08192	10,00,000	50,00,000
LISTED	1 MAMTA GIRDHAR SOMAYA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 CHANDRAKANT SANJIVA SALIAN	4 INE601U08192	10,00,000	40,00,000
LISTED	1 RUCHI SOOD	1 INE601U08192	10,00,000	10,00,000
LISTED	1 MADHAVI RAJAN	1 INE601U08192	10,00,000	10,00,000
LISTED	1 CHETAN M KANSARA	9 INE601U08192	10,00,000	90,00,000
LISTED	1 HITENKUMAR CHANDRAKANT PANDYA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 AMISH NARENDRA SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RANNA KIRAN SHETH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RAMESH PAHLAJRAI THAKUR	1 INE601U08192	10,00,000	10,00,000
LISTED	1 BHALCHANDRA RAGHUNATH GOKHALE	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RAMAN KHURANA	2 INE601U08192	10,00,000	20,00,000
LISTED	1 RAKSHA SANJAY PAREKH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 PRITI SUNIL PAREKH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SHILPA DEEPAK PAREKH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SUDHA KHURANA	2 INE601U08192	10,00,000	20,00,000
LISTED	1 URESH BHUPTANI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 PUNYASHALI SANJAY PAREKH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 GAYATRI DEEPAK PAREKH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 KARISHMA DEEPAK PAREKH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 HEENA DEEPAK PAREKH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 DEEVYASHALI SANJAY PAREKH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 NILAM R KANAL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 BHAGYA SUNIL PAREKH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SHROFF BOMI JEHANGIR	2 INE601U08192	10,00,000	20,00,000
LISTED	1 SRIKANTA KUMAR PATTANAYAK	1 INE601U08192	10,00,000	10,00,000
LISTED	1 Vikram Rajaram	1 INE601U08192	10,00,000	10,00,000
LISTED LISTED	1 VENUGOPAL M PANICKER	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ARPIT KANTILAL PATEL 1 DILIP BHASKAR MATHKAR	2 INE601U08192 1 INE601U08192	10,00,000	20,00,000
LISTED	1 DHANANJAY SAPRE	1 INE601U08192	10,00,000	10,00,000
LISTED	1 CHANDRA KANT SHARMA	2 INE601U08192	10,00,000	20,00,000
LISTED	1 NIHARIKA SHYAM SUTARIA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SMITA RAMESH SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RAMA SONI	2 INE601U08192	10,00,000	20,00,000
LISTED	1 KETU SUBODHBHAI SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 PRAVIN MOHANLAL PATEL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 TALLAPRAGADA BADDIRAJU	1 INE601U08192	10,00,000	10,00,000
I IGEED	RAVINDRANATH	0.10.10.10.2	10.00.000	00.00.000
LISTED	1 KULDEEP SINGH NANDA	8 INE601U08192	10,00,000	80,00,000
LISTED	1 SANDEEP K GOENKA	2 INE601U08192	10,00,000	20,00,000
LISTED	1 PRAKASH HASYACHANDRA MEHTA	1 INE601U08192	10,00,000	10,00,000
LISTED LISTED	1 JEROO DORAB MEHTA 1 BHAVANA DEEPAK PATTNI	4 INE601U08192 1 INE601U08192	10,00,000	10,00,000
LISTED	1 RASILABEN MUKTIKUMAR SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 KHORSHED DORAB MEHTA	2 INE601U08192	10,00,000	20,00,000
LISTED	1 ZAL KAIKHOSHROO ERANEE	2 INE601U08192	10,00,000	20,00,000
LISTED	1 HEMANT GAMANLAL MODI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SURESH NARAINDAS VASWANI	2 INE601U08192	10,00,000	20,00,000
LISTED	1 ASHWINA PIYUSH SHAH	15 INE601U08192	10,00,000	1,50,00,000
		1 INE601U08192	, , .	,,

LISTED	1 DRUPAD HARESH SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 VINOD VASWANI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 JATIN V DAISARIA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 HARSHA J DAISARIA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ARUN SHRIPAD KULKARNI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RUBYNA P BILIMORIA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RAMESH SUNDARAM	1 INE601U08192	10,00,000	10,00,000
LISTED	1 VASUDEV GOPINATH PILLAI	2 INE601U08192	10,00,000	20,00,000
LISTED	1 SHOBHANA P DESAI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 PARUL GANDHI	5 INE601U08192	10,00,000	50,00,000
LISTED	1 CHANDRASEKHAR RAMACHANDRAN	1 INE601U08192	10,00,000	10,00,000
				, ,
LISTED	1 SANGEETA GUPTA	3 INE601U08192	10,00,000	30,00,000
LISTED	1 GAYATHRI VIDYASAGAR	2 INE601U08192	10,00,000	20,00,000
LISTED	1 AKHIL GUPTA	2 INE601U08192	10,00,000	20,00,000
LISTED	1 PARIKH SAMIR RANCHHODLAL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 MUNISH BHARGAVA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 MEERA TANTRY	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SONI JITENDRA ARIWALA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 PARLOOP AMIT BHATT	2 INE601U08192	10,00,000	20,00,000
LISTED	1 KRISHNA HIREN THAKKAR	2 INE601U08192	10,00,000	20,00,000
LISTED	1 RAJENDRA GUTTAL	5 INE601U08192	10,00,000	50,00,000
LISTED	1 DEVENDRA SINGH NEGI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 JAGJIT AHUJA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 KRISHNA KODIYALAM	2 INE601U08192	10,00,000	20,00,000
LISTED	1 JITENDRA MADHAVAJIBHAI GAJJAR	1 INE601U08192	10,00,000	10,00,000
LISTED	1 JALPA CHETAN POPAT	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SUBHASH BHANUDAS KULKARNI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 KALYANI SUBHASH KULKARNI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RAMA RAVINDRANATH PALAVALLI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 HARSHAN KUMAR BHANDARI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 VIDYADHAR VENKATESH JOGLEKAR	1 INE601U08192	10,00,000	10,00,000
LISTED	1 AMISHA HARDIK KAMDAR	1 INE601U08192	10,00,000	10,00,000
LISTED	1 AMIT AVINASH MUDHALE	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SARIKA JAIN	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SAKSHI VARUN BAKSHI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 NISHCHAL DHANANJAY GORHE	1 INE601U08192	10,00,000	10,00,000
LISTED	1 BHUPENDRA VADILAL SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 NANDA KUMAR KRISHNASWAMY	1 INE601U08192	10,00,000	10,00,000
LISTED	1 NEVIL CHAMPAKBHAI ZAVERI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 JITENDAR TAYAL	2 INE601U08192	10,00,000	20,00,000
LISTED	1 DIPIKA AVNISHBHAI SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 VIJAY APPA KASAR	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RUPALBEN CHIRAGBHAI SHETH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SHANKAR BHAGUJI SHINDE	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RASHMI HANUMANTHAPPA	2 INE601U08192	10,00,000	20,00,000
LISTED	1 RUCHI SUDHANSHU BHUWALKA	2 INE601U08192	10,00,000	20,00,000
LISTED	1 VENI GUPTA	2 INE601U08192	10,00,000	20,00,000
LISTED	1 ADWAIT ANANT JOGLEKAR	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SRINIDHI K V	1 INE601U08192	10,00,000	10,00,000
LISTED	1 KINJAL NIKUNJ CHHEDA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 NEETHA MARIAM ABRAHAM	1 INE601U08192	10,00,000	10,00,000
LISTED	1 PARIMAL KANTILAL HIRADHAR	10 INE601U08192	10,00,000	1,00,00,000
LISTED	1 NAYANABEN SUBHASHBHAI GANDHI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SUBHASHBHAI CHIMANLAL GANDHI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 HEMENDRA S SHAH	3 INE601U08192	10,00,000	30,00,000
LISTED	1 NISHA KEKIN PARIKH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RITU ABHISHEK CHAUDHARY	2 INE601U08192	10,00,000	20,00,000
LISTED	1 DEEPANKARKUMAR JITENDRAKUMAR	7 INE601U08192	10,00,000	70,00,000
	GHOSH	, 11.2001000172	10,00,000	7 0,00,000
LISTED	1 NALINI PINTO	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SAMIR BANERJEE	1 INE601U08192	10,00,000	10,00,000

LICTED	1 EIDOZE EA DDOONII WATDAW	1 DIECO11100102	10.00.000	10.00.000
LISTED	1 FIROZE FARDOONJI KATRAK	1 INE601U08192	10,00,000	10,00,000
LISTED	1 BHAVINI DHARMESH PATEL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 CHANDRAKANT MOHANLAL SHETH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ALPESH CHANDRAKANT SHETH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ANIKET RAJESH SHAH	2 INE601U08192	10,00,000	20,00,000
LISTED	1 SONAL ANIKET SHAH	3 INE601U08192	10,00,000	30,00,000
LISTED	1 NOSHIR MANECKSHAW KAPADIA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 DILIP SHANKAR GOWAIKAR	1 INE601U08192	10,00,000	10,00,000
LISTED	1 VIVEK VITHAL NAYAK	1 INE601U08192	10,00,000	10,00,000
LISTED	1 KEKUL P DALAL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ALPA PRIYAVADAN DALAL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 PRASHANT MANHERLAL SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 KANCHAN PRASHANT SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 DEVESH R JAYKRISHNA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SUMAN CHERRY RANEY	1 INE601U08192	10,00,000	10,00,000
LISTED	1 H V KEDLAYA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SUDIP B PATEL	3 INE601U08192	10,00,000	30,00,000
LISTED	1 ANIL GARG	1 INE601U08192	10,00,000	10,00,000
LISTED	1 NAMRATA DIVEKAR	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ANIL GARG	1 INE601U08192	10,00,000	10,00,000
LISTED	1 KANTABEN NARPATLAL SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 NARPATLAL PURSHOTAMDAS SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 C SANTHA KUMARY	1 INE601U08192	10,00,000	10,00,000
LISTED	1 MEHERNOSH MINOO CONTRACTOR	3 INE601U08192	10,00,000	30,00,000
LISTED	1 SHREEKANT VASANTLAL MEHTA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 BEENA B SAMPAT	1 INE601U08192	10,00,000	10,00,000
LISTED	1 MATAPRASAD LAXMINARAYAN DUBEY	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SNEHAMOY ROY	3 INE601U08192	10,00,000	30,00,000
LISTED	1 GURPREET SETHI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 LATA JULKA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 MURZBAN D MEHTA	3 INE601U08192	10,00,000	30,00,000
LISTED	1 MAHESHCHANDRA JANKILAL NAGAR	1 INE601U08192	10,00,000	10,00,000
LISTED	1 GLENNY CYRIL SALDANHA	2 INE601U08192	10,00,000	20,00,000
LISTED	1 SHIPRA SINGH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ARUNA SHAH LAKHANI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RUPAL K THAKKAR	1 INE601U08192	10,00,000	10,00,000
LISTED	1 DHIREN MAHESHBHAI SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 MITTAL NIRANJAN SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 NITIN LALITKUMAR DHOLAKIA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ADITI RAMESH KASBEKAR	2 INE601U08192	10,00,000	20,00,000
LISTED	1 MANISHA S GANDHI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 PRADIP MEHTA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SNEHAL SANJAY DAMLE	1 INE601U08192	10,00,000	10,00,000
LISTED	1 CHRISTOPHER JOSEPH HYACINTH DSOUZA	2 INE601U08192	10,00,000	20,00,000
LISTED	1 YASH GIRIRAJ SINGHEE	1 INE601U08192	10,00,000	10,00,000
LISTED	1 KEYUR BHISHMA THAKORE	2 INE601U08192	10,00,000	20,00,000
LISTED	1 HARBINDER SINGH VIRK	1 INE601U08192	10,00,000	10,00,000
LISTED	1 MONISHA PRAKASH DIWAN	4 INE601U08192	10,00,000	40,00,000
LISTED	1 JIMMY RUSTOM DORDI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 JAINIL RAKESH MODI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 GEETA MANGESH AGHANASHINI	2 INE601U08192	10,00,000	20,00,000
LISTED	1 KAMUBEN ANUBHAI PATEL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ASHA MUKUND DESAI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 MALATHY MURALIDHARAN	2 INE601U08192	10,00,000	20,00,000
LISTED	1 MURALIDHARAN.S	3 INE601U08192	10,00,000	30,00,000
LISTED	1 VASHDEV G KUNDWANI	2 INE601U08192	10,00,000	20,00,000
LISTED	1 PRATIBHABEN MAHENDRABHAI SHAH	2 INE601U08192	10,00,000	20,00,000
LISTED	1 PREM MAHENDRAKUMAR SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 HEMANGI MANISH SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	I TIEM IN COLUMN COLUMN	1 11 (12001 0 001)2	10,00,000	

I IOTED	ANOGHEDWAN D. GETTINA	1 DECOMPOSIO	10.00.000	10.00.000
LISTED LISTED	1 NOSHERWAN D. SETHNA	1 INE601U08192	10,00,000	10,00,000
	1 ARMIN N. SETHNA	2 INE601U08192	10,00,000	20,00,000
LISTED	1 SHEILA GORDHAN PANJABI	2 INE601U08192	10,00,000	20,00,000
LISTED	1 RAJESH SHANTILAL DOSHI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 HARDIK PAWAN BOTHRA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 DILIP PARIKH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RAJESH M MANGHANI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 GITA S DOSHI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 DILIP RASIKLAL SONAWALA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 CHANDRAHAS G KAMAT	1 INE601U08192	10,00,000	10,00,000
LISTED	1 BHANSALI RAJESH RAMNIKLAL	2 INE601U08192	10,00,000	20,00,000
LISTED	1 MASAND SANJAY VISHANDAS	2 INE601U08192	10,00,000	20,00,000
LISTED	1 KHAKHRA JYOTI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 MEHTA SHIMONI AMIT	1 INE601U08192	10,00,000	10,00,000
LISTED	1 AMI SAUMIL BHANSALI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 HITESH JAYANTILAL SANGHVI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 VASANTI V VAIDYA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 KUMAR T NAIK	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ARVIND RAMANLAL DALAL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 DHARMESH CHANDRAKANT PATEL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 KIRIT NAVINCHANDRA SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 DAND VISHANJI JETSHI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 KAMLINI JAYSINH THAKKAR	1 INE601U08192	10,00,000	10,00,000
LISTED	1 LEENA SHRIKANT SUTARIA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 KOMAL NIRANJAN BRAHMBHATT	1 INE601U08192	10,00,000	10,00,000
LISTED	1 KALINDI JAYESH PARIKH	2 INE601U08192	10,00,000	20,00,000
LISTED	1 KEYA CHATTERJEE	1 INE601U08192	10,00,000	10,00,000
LISTED	1 MEENA GOEL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 BARVE KIRAN HANUMANT	1 INE601U08192	10,00,000	10,00,000
LISTED	1 PINAKIN RAMLAL PARIKH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SUNIL SINGH	5 INE601U08192	10,00,000	50,00,000
LISTED	1 NALINI KEDLAYA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 MEENA BHALLA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SHABBIR KANCHWALA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ASHWANI WINDLASS	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SANDHYA WINDLASS	1 INE601U08192	10,00,000	10,00,000
LISTED	1 J NIRANJAN	3 INE601U08192	10,00,000	30,00,000
LISTED	1 RAJESH DASHRATHBHAI SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ARVIND GAJANAN PATANKAR	1 INE601U08192	10,00,000	10,00,000
LISTED	1 DR BHARAT TULSIDAS SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ASHITH SHANKER RAO	1 INE601U08192	10,00,000	10,00,000
LISTED	1 JIMMY MANSUKHLAL JAGANI	2 INE601U08192	10,00,000	20,00,000
LISTED	1 SHARDAGAURI MANSUKHLAL JAGANI	2 INE601U08192	10,00,000	20,00,000
LISTED	1 RAJESH VIRENDRA GANDHI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 MALAYBHAI SURYAKANT KARBHARI	1 INE601U08192	10,00,000	10,00,000
			,,	20,00,000
LISTED	1 AARTHI RAMAKRISHNAN	5 INE601U08192	10,00,000	50,00,000
LISTED	1 NAFISA R THINGNA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 BHARATI KESHAVLAL JHAVERI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 JAY HARSHADKUMAR SHAH	2 INE601U08192	10,00,000	20,00,000
LISTED	1 VIRENDRAKUMAR MOHANLAL GARG	2 INE601U08192	10,00,000	20,00,000
LISTED	1 MEHERANGIZ PERCYOUS KASAD	1 INE601U08192	10,00,000	10,00,000
LISTED	1 AYESHA PREM DARYANANI	3 INE601U08192	10,00,000	30,00,000
LISTED	1 SAMARESH ROY	3 INE601U08192	10,00,000	30,00,000
LISTED	1 KRISHNA SAMARESH ROY	2 INE601U08192	10,00,000	20,00,000
LISTED	1 BHARATHI DEVI TELAPROLU	3 INE601U08192	10,00,000	30,00,000
LISTED	1 BHAKTI SAMEER JOSHI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SARTHAK GARG	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ASHA AGARWAL	2 INE601U08192	10,00,000	20,00,000
LISTED	1 PIYUSH VITHLDAS SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 MIHIR R GANDHI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 DEEPAK JAYANTILAL SHROFF	1 INE601U08192	10,00,000	10,00,000
LISTED	1 UMANGI UMANG SHAH	1 INE601U08192	10,00,000	10,00,000
LIUILU		1 1112001000172	10,00,000	10,00,000

LISTED	1 SMITABEN KIRTIKUMAR SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 TARA RAO	3 INE601U08192	10,00,000	30,00,000
LISTED	1 SUDHA DHIRAJLAL SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 KANAN SACHIN PAREKH	3 INE601U08192	10,00,000	30,00,000
LISTED	1 SANGEETA NITIN BELLARA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 PIYUSH INDRAJIT SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 CHINMAY JAVALEKAR	2 INE601U08192	10.00.000	20,00,000
LISTED	1 ASHISH ANIL NAVANEY	1 INE601U08192	10,00,000	10,00,000
LISTED	1 NILOUFER NOWROZE VAZIFDAR	3 INE601U08192	10,00,000	30,00,000
LISTED	1 KHORSHI PERVEZ MISTRY	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ZINNIA ARDESHIR MODI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RITA PIYUSH SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 KHUSHI JAYRAJ NAIK	2 INE601U08192	10,00,000	20,00,000
LISTED	1 FREDDY K KHAPOLIWALLA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 JEROO VISPI MISTRY	1 INE601U08192	10,00,000	10,00,000
LISTED	1 VISPI NOSHIR MISTRY	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RITESH PREM BELLARA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SVEN JOHN SALDANHA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SHIKHA SATYAPRAKASH SHARMA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 KRISHNA SATYAPRAKASH SHARMA	3 INE601U08192	10,00,000	30,00,000
LISTED	1 SANJEEVANI ANIL JAVALEKAR	2 INE601U08192	10,00,000	20,00,000
LISTED	1 SHIPRA MILAN PARIKH	2 INE601U08192	10,00,000	20,00,000
LISTED	1 PADAM KUMAR GUPTA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RASHMI GUPTA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 POONAM KAPADIA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 PARNAMI BHAWNA AJAY	4 INE601U08192	10,00,000	40,00,000
LISTED	1 AGRAWAL CHIRAGKUMAR	1 INE601U08192	10,00,000	10,00,000
	MAHENDRAKUMAR			
LISTED	1 AKANSHA MURLIDHAR PARNAMI	3 INE601U08192	10,00,000	30,00,000
LISTED	1 HASMUKH MAGANLAL GUNDIGARA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 BHAVNA DARSHAN MEHTA	3 INE601U08192	10,00,000	30,00,000
LISTED	1 GOPAL L TALREJA	5 INE601U08192	10,00,000	50,00,000
LISTED	1 NAWAZ BAHADUR MODY	1 INE601U08192	10,00,000	10,00,000
LISTED	1 JYOTI D VAGHANI	3 INE601U08192	10,00,000	30,00,000
LISTED	1 ANURADHA SHIRISH TARE	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SHILPA HEMANT SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 PRAVEEN SOOD	1 INE601U08192	10,00,000	10,00,000
LISTED	1 GURAZ H WANKADIA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 POONAM DHARMESH SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 NIRUPAM S HIREMATH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 MANSUKHLAL CHHAGANLAL JAGANI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 AMITA PRUTHI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 JAOKAR MAHESH VIJAYKUMAR	1 INE601U08192	10,00,000	10,00,000
LISTED	1 TARUNA DUGGAL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 BISWAROOP CHAKRABORTY	1 INE601U08192	10,00,000	10,00,000
LISTED	1 NISHA SHREYANSH SHAH	5 INE601U08192	10,00,000	50,00,000
LISTED	1 SHAH KIMTEE NEHAL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 UDAY SHANTARAM THAKURDESAI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 INDIRA THAWANI	2 INE601U08192	10,00,000	20,00,000
LISTED	1 GORDHAN KARAMCHAND BHAWNANI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 UPENDRA SHANKAR DESAI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 VAIBHAV KIRIT MEHTA	2 INE601U08192	10,00,000	20,00,000
LISTED	1 JUEE SUJAL SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 HARSH NAINESH BENGALI	3 INE601U08192	10,00,000	30,00,000
LISTED	1 RITA MANOJ AGARWAL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 MEGHA VIJAY DEO	1 INE601U08192	10,00,000	10,00,000
LISTED	1 KERSI NARIMAN AMARIA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ARMAITY ADI BHABHA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 PRAKASH CHANDUR GURBAXANI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 KISHORE MOTICHAND ZAVERI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 NOWZER MINOO DUDHMAL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 NAOZER RUSI WANKADIYA	1 INE601U08192	10,00,000	10,00,000
			- /~ ~,~ ~ ~	,00,000

LISTED	1 FRANK DSOUZA	15 INE601U08192	10,00,000	1,50,00,000
LISTED	1 YASH SIDHU	1 INE601U08192	10,00,000	10,00,000
LISTED	1 DESAI KASHMIRA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 VINITA CHOPRA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 TUSHAR KANTI CHOPRA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SMIT SUJAL SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 PHIROZE NARIMAN AMARIA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 PRASANN KUMAR CHOBE	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SHRISHTI JAIN	2 INE601U08192	10,00,000	20,00,000
LISTED	1 ALOK CHADHA	3 INE601U08192	10,00,000	30,00,000
LISTED	1 AYESHA ZUBIN MEHTA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SHIVRAM MURTI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 PATEL BHOOMI SUDIP	2 INE601U08192	10,00,000	20,00,000
LISTED	1 RAMESH ROOP KHEMANI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RAJESH ROOP KHEMANI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 MEENA RAVINDRA DIVEKAR	2 INE601U08192	10,00,000	20,00,000
LISTED	1 JAISHREE MURTI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SHASHI KUMAR	5 INE601U08192	10,00,000	50,00,000
LISTED	1 SUREKHA ARVIND GURAV 1 GEETA GARG	1 INE601U08192	10,00,000	10,00,000
LISTED LISTED	1 RITA VERMA	1 INE601U08192 1 INE601U08192	10,00,000 10,00,000	10,00,000
LISTED	1 SINDHUJA V V	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ANKITA TALWAR	1 INE601U08192	10,00,000	10,00,000
LISTED	1 JAGANNATHAN SRINIVASAN	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SUNIL NATVAR VADGAMA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RITIK ASHISH MODY	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SANAYA ZUBIN MEHTA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 MANIZA BHARUCHA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SURESH BHANDARY	1 INE601U08192	10,00,000	10,00,000
LISTED	1 BHARATI DILIP SHETH	2 INE601U08192	10,00,000	20,00,000
LISTED	1 SUMITA SUDHANSHU CHADHA	2 INE601U08192	10,00,000	20,00,000
LISTED	1 BANOO BURJOR JUSSAWALLA	2 INE601U08192	10,00,000	20,00,000
LISTED	1 KETAN KISHORE GOPANI	2 INE601U08192	10,00,000	20,00,000
LISTED	1 MANALI MANOJ KAMATH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 MEGHA TIRTHAL PATEL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 PATEL NILAY SUDIPBHAI	2 INE601U08192	10,00,000	20,00,000
LISTED	1 DANDNAYAK DARSHANA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 DEEPIKA KAPUR GAINDA	2 INE601U08192	10,00,000	20,00,000
LISTED	1 HITENDRA DHARAMSINH SAMPAT	2 INE601U08192	10,00,000	20,00,000
LISTED	1 BHUMIKA J SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SIDLAGATTA RAMACHANDRA SRIDHAR	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ROMEN SATINDERNATH SOOD	1 INE601U08192	10,00,000	10,00,000
LISTED	1 APARNA SETHURAMAN	2 INE601U08192	10,00,000	20,00,000
LISTED	1 GURPREET SINGH VOHRA	5 INE601U08192	10,00,000	50,00,000
LISTED	1 ANURADHA SETHURAMAN	2 INE601U08192	10,00,000	20,00,000
LISTED	1 NEHAA RAKYAN	1 INE601U08192	10,00,000	10,00,000
LISTED	1 VATCHALA G	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SUCHITA SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 REKHA BIPINCHANDRA MEHTA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 KHYATI NIRAJ MEHTA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ASHA BHALCHANDRA GOKHALE	1 INE601U08192	10,00,000	10,00,000
LISTED	1 KALPESH PRAMOD DODECHA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 CYRUS KHUSHROO SUNTOOK	4 INE601U08192	10,00,000	40,00,000
LISTED	1 BALACHANDRAN MARIA	2 INE601U08192	10,00,000	20,00,000
LISTED	1 KAMLESH RAMNIKLAL MEHTA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 MAITRI SAMIR SHAH	4 INE601U08192	10,00,000	40,00,000
LISTED	1 KIMAYA PUNDALIK KUDVA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SMITA RANADE	5 INE601U08192	10,00,000	50,00,000
LISTED	1 JAYESH GAUTAMBHAI RAVAT	1 INE601U08192	10,00,000	10,00,000
LISTED	1 T VINOD SINGH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 NIHARIKA DHARIRA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SWATI AKSHAY PARNAMI 1 V RAMESH	3 INE601U08192	10,00,000	30,00,000
LISTED	1 V RAMESH	5 INE601U08192	10,00,000	50,00,000

LISTED LISTED	1 V RAMESH	2 INE601U08192	10,00,000	20,00,000
	1 JIGNESH KISHORCHANDRA SANGHAVI	1 INE601U08192	10,00,000	10,00,000
				, ,
LISTED	1 JASHNA N SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RITA NAYAN SHETH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 VIPUL BHARATBHAI SHAH	2 INE601U08192	10,00,000	20,00,000
LISTED	1 AMAR CHANDRASHEKHAR PATRA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SULOCHNADEVI K KEJRIWAL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RAJENDRA MANGILAL SHINGI	2 INE601U08192	10,00,000	20,00,000
LISTED	1 CHANDRASEKARAN B	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ANURADHA MAHESH KUMAR	1 INE601U08192	10,00,000	10,00,000
LISTED	1 MANJARI KHAITAN	1 INE601U08192	10,00,000	10,00,000
LISTED	1 INDU AGARWAL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ANIL KUMAR JAIN	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RAM DITTA MALL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 POONAM MITTAL	3 INE601U08192	10,00,000	30,00,000
LISTED	1 DINESHKUMAR KASHIPRASAD AGARWAL	1 INE601U08192	10,00,000	10,00,000
			10.00.000	40.00.00
LISTED	1 RIDDHI JAIN	1 INE601U08192	10,00,000	10,00,000
LISTED	1 NIKHIL AGARWAL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 BEENADEVI CHUNILAL AGRAWAL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 JASVEEN S KAPOOR	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RAJENDRA MANEKLAL JAIN	1 INE601U08192	10,00,000	10,00,000
LISTED	1 DARSHANA BABUL DESAI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RAJAN KAMLESHKANT MODI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SUSHMABEN RAJANBHAI MODI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SHYAM SAMIRBHAI PARIKH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SATISHBHAI RAMESHBHAI BHAGIA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 K RAMESH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 BAIKERE SANNAPPA MALATHI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SATISH KUNVERJI SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SREEPURNA MOHATA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 AAGAM AMIT CHHEDA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 PARUL RAVICHAND SANGHVI	1 INE601U08192	10,00,000	10,00,000
LISTED LISTED	1 NAVEEN SHARMA 1 DINESH SHANKAR MUKATI	3 INE601U08192	10,00,000	30,00,000
LISTED	1 ARUN MANKODI	1 INE601U08192 3 INE601U08192		10,00,000 30,00,000
LISTED	1 SARITA NEERAJ SHARMA	2 INE601U08192	10,00,000	20,00,000
LISTED	1 VARUN HARESHBHAI BHUTA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 DEVINDRA B SHAH	3 INE601U08192	10,00,000	30,00,000
LISTED	1 SEEMA SANJAY AHER	2 INE601U08192	10,00,000	20,00,000
LISTED	1 PRAVESH AGARWAL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 VADDI VENKAT RAMANA	5 INE601U08192	10,00,000	50,00,000
LISTED	1 RASHMI AHOOJA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SANDIPAN SUDHIRCHANDRA KAR	1 INE601U08192	10,00,000	10,00,000
LISTED	1 GEETIKA KAPOOR	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SUBHADRA VANKAYALA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 PARTH HIMANSHU BAVISHI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 JANKI PARTH BAVISHI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 NAYANBHAI RASIKLAL PARIKH	4 INE601U08192	10,00,000	40,00,000
LISTED	1 SHARADINI ANAND MUDHOLKAR	1 INE601U08192	10,00,000	10,00,000
LISTED	1 DILIP DUDANI	2 INE601U08192	10,00,000	20,00,000
LISTED	1 KALPESH SATEYENDRA JHAVERI	2 INE601U08192	10,00,000	20,00,000
LISTED	1 VINAYAKUMAR VITHALRAO JOSHI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 VINODCHANDRA HIRALAL PARIKH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 BHAVANA DIPAK BAVISHI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 MITABEN SHARADBHAI OZA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 AJITBHAI MANGALDAS SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RASILABEN AJITBHAI SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 MITSU SHARADBHAI OZA	2 INE601U08192	10,00,000	20,00,000
LISTED	1 BANOO ASPI CHOKSEY	1 INE601U08192	10,00,000	10,00,000
LISTED	1 JAYENDRABHAI NATVERLAL PATEL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 HET HARSHVADAN SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 KAVYA DHRUMIL JOSHI	1 INE601U08192	10,00,000	10,00,000

r ramen	AVAIL DEGAY DA DANDANA DA AVAIL	1 7775011100100	10.00.000	40.00.000
LISTED	1 KALPESH BABUBHAI DALAL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 NAKUL JAYESHBHAI SHAREDALAL	2 INE601U08192	10,00,000	20,00,000
LISTED	1 JAYSHREE Y PARIKH	2 INE601U08192	10,00,000	20,00,000
LISTED	1 FARDAAD ASPI CHOKSEY	2 INE601U08192	10,00,000	20,00,000
LISTED	1 MARKAND HARISHANKER SHARMA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 AVANI SHAILESHBHAI MEHTA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 BHARTI SUDHIRBHAI SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 KHUSHBOO NAKUL SHAREDALAL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 DHRUPAL B SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 URVI DARSHITBHAI SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 KSHAMA JAYANT SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 PAULOMI RAMESH SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 MONIKA V SONI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 POYANI ANANTKUMAR DAVE	5 INE601U08192	10,00,000	50,00,000
LISTED	1 INAXI PRADIPBHAI PATEL	4 INE601U08192	10,00,000	40,00,000
LISTED	1 JINI DEEP KANKARIA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ASHA KARTIKEYA KANUGA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SAURIN THAKORE	2 INE601U08192	10,00,000	20,00,000
LISTED	1 SHANTHA SIVARAMAN	1 INE601U08192	10,00,000	10,00,000
LISTED	1 HEMA PRADEEP AMBADAN	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ASHOK KUMAR JAIN	1 INE601U08192	10,00,000	10,00,000
LISTED	1 BAKTHAVATCHALAM S	1 INE601U08192	10,00,000	
			10,00,000	10,00,000
LISTED	1 RAVIPALLI GOPINATHA RAO	1 INE601U08192	-,,	10,00,000
LISTED	1 KAMALAKAR BYSANI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 KOUSALYA JAYARAJ	1 INE601U08192	10,00,000	10,00,000
LISTED	1 GOPINATH C J	4 INE601U08192	10,00,000	40,00,000
LISTED	1 SARALA RAVISHANKAR	1 INE601U08192	10,00,000	10,00,000
LISTED	1 AVIN RASIKLAL SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RATISH KUMAR	1 INE601U08192	10,00,000	10,00,000
LISTED	1 S NARAYANAN	1 INE601U08192	10,00,000	10,00,000
LISTED	1 HOMI TEHMURAS PARDIWALA	4 INE601U08192	10,00,000	40,00,000
LISTED	1 DEEPA S MENON	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SHAILA ARUN KULKARNI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 VIJAY BAKSHI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 YAMINI BAKSHI	2 INE601U08192	10,00,000	20,00,000
LISTED	1 Ankita Chintan Shah	1 INE601U08192	10,00,000	10,00,000
LISTED	1 Ajay Gopaldas Samat	1 INE601U08192	10,00,000	10,00,000
LISTED	1 Rajendra Trivedi	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SMRUTI RUBIN PATEL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 VACHAN AGGARWAL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ABHA GUPTA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 PARINITA SINHA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 VARSHA KETANKUMAR DESAI	2 INE601U08192	10,00,000	20,00,000
LISTED	1 JIBAN BALLAV SAHOO	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RAJKUMAR RASTOGI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 GAUTAM DAS GUPTA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RATUL NEOGI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ANISH ANTANI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 KISHOR CHAND KATOCH	2 INE601U08192	10,00,000	20,00,000
LISTED		5 INE601U08192		/ /
	1 SANGEETA SABHARWAL		10,00,000	50,00,000
LISTED	1 RAMESH CHANDRA JAIN	2 INE601U08192	10,00,000	20,00,000
LISTED	1 URVI ANISH JOSHI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ANKUR SHARMA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 REEMA JINAND SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 REKHA VINOD MODHA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ARUN KUMAR SARKAR	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SUSHEN KUMAR MUKHERJEE	1 INE601U08192	10,00,000	10,00,000
LISTED	1 KUNJLATABEN KISHORBHAI LAVINGIA	2 INE601U08192	10,00,000	20,00,000
LISTED	1 SIKHA DUTTA	2 INE601U08192	10,00,000	20,00,000
LISTED	1 DAYA KORI	3 INE601U08192	10,00,000	30,00,000
LISTED	1 AMITA UDAY KHAIRATKAR	1 INE601U08192	10,00,000	10,00,000
LISTED	1 Rajnika Prafulchandra Patel	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ANIL KOHLI	5 INE601U08192	10,00,000	50,00,000

LISTED	1 HARINDER SINGH BAJWA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SABEETA MEHTA	2 INE601U08192	10,00,000	20,00,000
LISTED	1 CHERUKUPALLI BALA SUBRAHMANYAM	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SEEMA JHANGIANI	4 INE601U08192	10,00,000	40,00,000
LISTED	1 REKHA SURENDRANATH PRABHU	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SAUMYA BANSAL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SANJEEV BANSAL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ALLA SURYA RAO	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SHALINI YASH VERMA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 TUSHAR LAXMIKANT NAIK	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RITIKA JAYESH SHAH	10 INE601U08192	10,00,000	1,00,00,000
LISTED	1 NARENDER MOHAN MEHRA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RAJA SEKHAR KANCHERLA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ALAY N SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SURYAKANT RAMCHANDRA OAK	1 INE601U08192	10,00,000	10,00,000
LISTED	1 Y PURNA CHANDRA KUMARI	2 INE601U08192	10,00,000	20,00,000
LISTED	1 KUMUD RANJAN	1 INE601U08192	10,00,000	10,00,000
LISTED	1 VINOD V THAKKER	1 INE601U08192	10,00,000	10,00,000
LISTED	1 MEHUL RAMAKANT PANJI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RAVISHANKAR SANKARA NARAYANAN	2 INE601U08192	10,00,000	20,00,000
LISTED	1 N RAVIKUMAR	1 INE601U08192	10,00,000	10,00,000
LISTED	1 GEETHA NAGARAJU	2 INE601U08192	10,00,000	20,00,000
LISTED	1 AVANI ADITYA SHAH	2 INE601U08192	10,00,000	20,00,000
LISTED	1 JAYATI BHATTACHARYA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 VERTICA AGARWAL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 DEVANSH MANOJ DAISARIA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RAGHAVENDRA SHERMADEVI VENKATA	2 INE601U08192	10,00,000	20,00,000
LISTED	1 KARAN MANOJ DAISARIA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SANTOSH GOPAL IYER	1 INE601U08192	10,00,000	10,00,000
LISTED	1 URMI MANOJ DAISARIA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 MEHNAAZ B KHATIB	2 INE601U08192	10,00,000	20,00,000
LISTED	1 ANUSH ASHISH GANDHI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 DINESH PRASAD BHARGAVA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 JAGGIE B KALYANI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SEEMA GARG	1 INE601U08192	10,00,000	10,00,000
LISTED	1 TAMMARA VANI	2 INE601U08192	10,00,000	20,00,000
LISTED	1 SHIRAZ HOMI BUGWADIA	2 INE601U08192	10,00,000	20,00,000
LISTED	1 ABHAY KUMAR TIWARI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 GUDALUR KALYANSUNDARAM RAMAMURTHY	50 INE601U08192	10,00,000	5,00,00,000
LISTED	1 SHEFALI UNMESH KHANVILKAR	1 INE601U08192	10,00,000	10,00,000
LISTED	1 MAHASUKHLAL MOHANLAL MEHTA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 CHANDRAKALA MAHASUKHLAL MEHTA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 MANISHA VILAS SHINDE	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SANGEETA AJIT MAVINKURVE	3 INE601U08192	10,00,000	30,00,000
LISTED	1 NILAX R	1 INE601U08192	10,00,000	10,00,000
LISTED	1 JYOTI SATISH GONDHALEKAR	1 INE601U08192	10,00,000	10,00,000
LISTED	1 PRAVEEN KUMAR GARG	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ANKUR GARG	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SNEHAL VIJAY DEO	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ANNAPOORNA BHUPAL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 DAVIERWALLA ZUBIN	3 INE601U08192	10,00,000	30,00,000
LISTED	1 VIJAYARAJAN PARAKATAVATH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SUNIL BHAGVATLAL GABHAWALLA	2 INE601U08192	10,00,000	20,00,000
LISTED	1 ALOK HRISHIKESH VAIDYA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RADHIECKA PERIWAAL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 BELA NIPUN MEHTA	2 INE601U08192	10,00,000	20,00,000
LISTED	1 BINNA N PARIKH	2 INE601U08192	10,00,000	20,00,000
LISTED	1 RAJENDRA SHANTARAM PATKI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RUKIBAI SHEWARAM	2 INE601U08192	10,00,000	20,00,000

	T			
LISTED	1 T S BALASUBRAMANIAN	1 INE601U08192	10,00,000	10,00,000
LISTED	1 POURUSH H BEHRAMKAMDIN	1 INE601U08192	10,00,000	10,00,000
LISTED	1 B V RAVIPRAKASH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ARMIN HOSHANG SETHNA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 NAVNEET KUMAR	1 INE601U08192	10,00,000	10,00,000
LISTED	1 DIMPLE GAUTAM PUNJABI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ROMILA KISHIN PUNJABI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 GAUTAM KISHIN PUNJABI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ROHIT GAUTAM PUNJABI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SHARDUL SUSHIL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 VIKRAM SUHAS PATWARDHAN	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SUHAS SHIVRAM PATWARDHAN	1 INE601U08192	10,00,000	10,00,000
LISTED	1 PARINAZ RUMI MASALAWALA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 BHAGYAWATI CHANDULAL JAIN	2 INE601U08192	10,00,000	20,00,000
LISTED	1 SHETH JAYVANTI PANNALAL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 VIVEK AVTAR	1 INE601U08192	10,00,000	10,00,000
LISTED	1 TIRU KHANNA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 CHINMAY HARESH BHUTA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 NIYATI KAUSHAL KOTHARI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 PALAK MANOJ DAND	1 INE601U08192	10,00,000	
LISTED	1 NIKITA NIMESH SHAH			10,00,000
		3 INE601U08192	10,00,000	30,00,000
LISTED	1 KALPANA MANOJ DAND	4 INE601U08192	10,00,000	40,00,000
LISTED	1 KUNVERJI KHIMJI DAND	3 INE601U08192	10,00,000	30,00,000
LISTED	1 DIPTI KAMAL MATALIA	2 INE601U08192	10,00,000	20,00,000
LISTED	1 PARBATI MAHADEV DAS	1 INE601U08192	10,00,000	10,00,000
LISTED	1 MAHADEV G DAS	2 INE601U08192	10,00,000	20,00,000
LISTED	1 KAPADIA SUREKHA SUBHASH	4 INE601U08192	10,00,000	40,00,000
LISTED	1 NITA RAJESH BAGADIA	2 INE601U08192	10,00,000	20,00,000
LISTED	1 RAJANI JAMNADAS MAHIDHAR	4 INE601U08192	10,00,000	40,00,000
LISTED	1 REENA DEEPAK KOTHARI	3 INE601U08192	10,00,000	30,00,000
LISTED	1 ARTI CHINTAN KOTHARI	2 INE601U08192	10,00,000	20,00,000
LISTED	1 DEEPAK MANIKANT KOTHARI	2 INE601U08192	10,00,000	20,00,000
LISTED	1 CHINTAN DEEPAK KOTHARI	2 INE601U08192	10,00,000	20,00,000
LISTED	1 RANJANA VIJAY RAIPANCHOLIA	8 INE601U08192	10,00,000	80,00,000
LISTED	1 YASH VIJAY RAIPANCHOLIA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 PRIYANKA KISHORE PATEL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 DAMAYANTI P DESAI	6 INE601U08192	10,00,000	60,00,000
LISTED	1 LAXMIBAI DAMODARDAS	5 INE601U08192	10,00,000	50,00,000
LISTED	1 KISHORE RAVJIBHAI PATEL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 PRAKASH CHANDULAL THAKKAR	7 INE601U08192	10,00,000	70,00,000
LISTED	1 JAYSHREE MUKESH SHAH	5 INE601U08192	10,00,000	50,00,000
LISTED	1 MUKESH MAGANLAL SHAH	9 INE601U08192	10,00,000	90,00,000
LISTED	1 BHAVNABEN KIRITBHAI SAPARA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 KAUSHAL ANUBHAI VORA	1 INE601U08192	10,00,000	10,00,000
			, ,	
LISTED	1 JANAVI SUNIL KOTHARI	3 INE601U08192	10,00,000	30,00,000
LISTED	1 MAMTA CHETAN SHAH	3 INE601U08192	10,00,000	30,00,000
LISTED	1 HETSVI MANISH NAVNITLAL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 PRABHA KASERA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 GAURI DIVANJI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ARVIND PRAHLAD JOSHI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 PRASANNA KUMAR PARIDA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 JAGPAT JAIN	1 INE601U08192	10,00,000	10,00,000
LISTED	1 MAULIK PRADIP SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SUSHILA ARVIND JOSHI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 EKTA MAULIK SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 HETAL KOTHARI	11 INE601U08192	10,00,000	1,10,00,000
LISTED	1 SUNIL KOTHARI	7 INE601U08192	10,00,000	70,00,000
LISTED	1 SAROJ PRADYUMNA SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 PRADYUMNA NATVARLAL SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 PRADIP KESHAV RANE	1 INE601U08192	10,00,000	10,00,000
LISTED		001000172	,00,000	
	1 CHANDRALEKHA ARUN ROONGTA	2 INE6011108192	10 00 000	20 00 000
LISTED	1 CHANDRALEKHA ARUN ROONGTA 1 DIYA VISHAL SHAH	2 INE601U08192 1 INE601U08192	10,00,000	20,00,000
	1 CHANDRALEKHA ARUN ROONGTA 1 DIYA VISHAL SHAH 1 DISHA VISHAL SHAH	2 INE601U08192 1 INE601U08192 1 INE601U08192	10,00,000 10,00,000 10,00,000	20,00,000 10,00,000 10,00,000

LISTED	1 YASHNA MAULIK SHAH	1 INE601U08192	10,00,000	10,00,000
	1 DIVANJI NIYANTA	1 INE601U08192		<i>, ,</i>
LISTED			10,00,000	10,00,000
LISTED	1 PRATIMA ANJAN DESAI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SMITA AGGARWAL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 VANDANA ARJUN BULCHANDANI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SAMTA PANDEY	1 INE601U08192	10,00,000	10,00,000
LISTED	1 MANI RATNAM	5 INE601U08192	10,00,000	50,00,000
LISTED	1 CHANDRAKANT S CHOKSI	5 INE601U08192	10,00,000	50,00,000
LISTED	1 JAYALAKSHMI KRISHNAMURTHI	3 INE601U08192	10,00,000	30,00,000
LISTED	1 BALASUBRAHMANYAM	3 INE601U08192	10,00,000	30,00,000
LISTED	1 K ETHIRAJAN	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RAVINDER NATH GUPTA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 NAMITA GUPTA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SRIDHARA RAO LINGASGUR	2 INE601U08192	10,00,000	20,00,000
LISTED	1 HARSHA BIMAL NAIK	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SURESH JAIKRISHNA PUROHIT	2 INE601U08192	10,00,000	20,00,000
LISTED	1 SHRIKANT KASHINATH DAMLE	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SHUBHADA SHRIKANT DAMLE	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RAMESH CHAND GUPTA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 VUDHYA VENKATA NARAYANA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 DEEPAK NIVRUTI PADVAL	1 INE601U08192	10,00,000	
				10,00,000
LISTED	1 SNEHAL DEEPAK PADVAL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 KIRAN JAJODIA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 KANCHAN SINGH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SOUMYA AMIT BANSAL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 HASMUKH NANALAL DOSHI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 PANDURANG MAHADEO PATIL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 MADHUBALA MATHUR	1 INE601U08192	10,00,000	10,00,000
LISTED	1 VISHWAS VISHNU MOGHE	3 INE601U08192	10,00,000	30,00,000
LISTED	1 SUDHIR CHOPRA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RAJANI NARENDRA PANPALIA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 M R RAJARAM	3 INE601U08192	10,00,000	30,00,000
LISTED	1 PALAK ROHAN CHAUDHARY	1 INE601U08192	10,00,000	10,00,000
LISTED	1 NARENDER LAL BHARDWAJ	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ARUN KUMAR VORA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 KUNDAN ARUN VORA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 MAKHAN SINGH KALSI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SUDHIR NARANG	1 INE601U08192	10,00,000	10,00,000
LISTED	1 NEHA SINGLA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SUSHANT SINGH	2 INE601U08192	10,00,000	20,00,000
LISTED	1 HEMANT DEEPAK PADWAL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 MOHIT DEEPAK PADWAL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SAHIL CHOPRA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 WILMA INDAP	1 INE601U08192	10,00,000	10,00,000
LISTED	1 KISHOR DADAJI MANDADE	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SAVITA BHARAT JALAN	5 INE601U08192	10,00,000	50,00,000
LISTED	1 BHARAT MURLIDHAR JALAN	5 INE601U08192	10,00,000	50,00,000
LISTED	1 MEHERNOS JAL SUTARIA	1 INE601U08192	10,00,000	10,00,000
		1 INE601U08192		
LISTED LISTED	1 ANUJA VINAYAK DIXIT 1 VASANTI DILIP VAIDYA	1 INE601U08192	10,00,000 10,00,000	10,00,000
		2 INE601U08192	10,00,000	-,,
LISTED	1 LATA SHARMA	/ IINE601110X197	10 00 000	20,00,000
LISTED				10 00 000
LISTED	1 RAJEEV LOCHAN SHARMA	1 INE601U08192	10,00,000	10,00,000
ILLISTED .	1 RAJEEV LOCHAN SHARMA 1 POONAM AGGARWAL VADDI	1 INE601U08192 1 INE601U08192	10,00,000 10,00,000	10,00,000
LISTED	1 RAJEEV LOCHAN SHARMA 1 POONAM AGGARWAL VADDI 1 AYUSH AJAYKUMAR SHAH	1 INE601U08192 1 INE601U08192 1 INE601U08192	10,00,000 10,00,000 10,00,000	10,00,000 10,00,000
LISTED	1 RAJEEV LOCHAN SHARMA 1 POONAM AGGARWAL VADDI 1 AYUSH AJAYKUMAR SHAH 1 PANKTI AYUSH SHAH .	1 INE601U08192 1 INE601U08192 1 INE601U08192 1 INE601U08192	10,00,000 10,00,000 10,00,000 10,00,000	10,00,000 10,00,000 10,00,000
LISTED LISTED	1 RAJEEV LOCHAN SHARMA 1 POONAM AGGARWAL VADDI 1 AYUSH AJAYKUMAR SHAH 1 PANKTI AYUSH SHAH. 1 RITA UPADHYAYA.	1 INE601U08192 1 INE601U08192 1 INE601U08192 1 INE601U08192 2 INE601U08192	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	10,00,000 10,00,000 10,00,000 20,00,000
LISTED LISTED LISTED	1 RAJEEV LOCHAN SHARMA 1 POONAM AGGARWAL VADDI 1 AYUSH AJAYKUMAR SHAH 1 PANKTI AYUSH SHAH . 1 RITA UPADHYAYA . 1 DIGGE SANGAMNATH .	1 INE601U08192 1 INE601U08192 1 INE601U08192 1 INE601U08192 2 INE601U08192 2 INE601U08192 2 INE601U08192	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	10,00,000 10,00,000 10,00,000 20,00,000 20,00,000
LISTED LISTED LISTED LISTED	1 RAJEEV LOCHAN SHARMA 1 POONAM AGGARWAL VADDI 1 AYUSH AJAYKUMAR SHAH 1 PANKTI AYUSH SHAH . 1 RITA UPADHYAYA . 1 DIGGE SANGAMNATH . 1 PADMAJA MAYUR SWADIA .	1 INE601U08192 1 INE601U08192 1 INE601U08192 1 INE601U08192 2 INE601U08192 2 INE601U08192 2 INE601U08192 1 INE601U08192	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	10,00,000 10,00,000 10,00,000 20,00,000 20,00,000 10,00,000
LISTED LISTED LISTED LISTED LISTED	1 RAJEEV LOCHAN SHARMA 1 POONAM AGGARWAL VADDI 1 AYUSH AJAYKUMAR SHAH 1 PANKTI AYUSH SHAH. 1 RITA UPADHYAYA. 1 DIGGE SANGAMNATH. 1 PADMAJA MAYUR SWADIA. 1 PARUL PATNI.	1 INE601U08192 1 INE601U08192 1 INE601U08192 1 INE601U08192 2 INE601U08192 2 INE601U08192 1 INE601U08192 1 INE601U08192 1 INE601U08192	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	10,00,000 10,00,000 10,00,000 20,00,000 20,00,000 10,00,000 10,00,000
LISTED LISTED LISTED LISTED LISTED LISTED LISTED	1 RAJEEV LOCHAN SHARMA 1 POONAM AGGARWAL VADDI 1 AYUSH AJAYKUMAR SHAH 1 PANKTI AYUSH SHAH. 1 RITA UPADHYAYA. 1 DIGGE SANGAMNATH. 1 PADMAJA MAYUR SWADIA. 1 PARUL PATNI. 1 SHREE GOPAL CHOUDHARY.	1 INE601U08192 1 INE601U08192 1 INE601U08192 1 INE601U08192 2 INE601U08192 2 INE601U08192 1 INE601U08192 1 INE601U08192 1 INE601U08192 5 INE601U08192	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	10,00,000 10,00,000 10,00,000 20,00,000 20,00,000 10,00,000 10,00,000 50,00,000
LISTED LISTED LISTED LISTED LISTED	1 RAJEEV LOCHAN SHARMA 1 POONAM AGGARWAL VADDI 1 AYUSH AJAYKUMAR SHAH 1 PANKTI AYUSH SHAH. 1 RITA UPADHYAYA. 1 DIGGE SANGAMNATH. 1 PADMAJA MAYUR SWADIA. 1 PARUL PATNI.	1 INE601U08192 1 INE601U08192 1 INE601U08192 1 INE601U08192 2 INE601U08192 2 INE601U08192 1 INE601U08192 1 INE601U08192 1 INE601U08192	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	10,00,000 10,00,000 10,00,000 20,00,000 20,00,000 10,00,000 10,00,000
LISTED	1 RAJEEV LOCHAN SHARMA 1 POONAM AGGARWAL VADDI 1 AYUSH AJAYKUMAR SHAH 1 PANKTI AYUSH SHAH. 1 RITA UPADHYAYA. 1 DIGGE SANGAMNATH. 1 PADMAJA MAYUR SWADIA. 1 PARUL PATNI. 1 SHREE GOPAL CHOUDHARY. 1 MINAXI N SHAH. 1 PRANAV KUMAR PATEL.	1 INE601U08192 1 INE601U08192 1 INE601U08192 1 INE601U08192 2 INE601U08192 2 INE601U08192 1 INE601U08192 1 INE601U08192 1 INE601U08192 5 INE601U08192 1 INE601U08192 2 INE601U08192 2 INE601U08192	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	10,00,000 10,00,000 10,00,000 20,00,000 20,00,000 10,00,000 10,00,000 50,00,000
LISTED LISTED LISTED LISTED LISTED LISTED LISTED LISTED LISTED	1 RAJEEV LOCHAN SHARMA 1 POONAM AGGARWAL VADDI 1 AYUSH AJAYKUMAR SHAH 1 PANKTI AYUSH SHAH. 1 RITA UPADHYAYA. 1 DIGGE SANGAMNATH. 1 PADMAJA MAYUR SWADIA. 1 PARUL PATNI. 1 SHREE GOPAL CHOUDHARY.	1 INE601U08192 1 INE601U08192 1 INE601U08192 1 INE601U08192 2 INE601U08192 2 INE601U08192 1 INE601U08192 1 INE601U08192 1 INE601U08192 5 INE601U08192 1 INE601U08192	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	10,00,000 10,00,000 10,00,000 20,00,000 20,00,000 10,00,000 10,00,000 50,00,000 10,00,000

LISTED	1 NITIN HASHMAT KHATWANI .	1	INE601U08192	10,00,000	10,00,000
LISTED	1 GEETHA MUTHUSAMY .		INE601U08192	10,00,000	50,00,000
LISTED	1 SATYAPAL JAIKUMAR JAIN .		INE601U08192	10,00,000	1,00,00,000
LISTED	1 SANGITABEN VINESHCHANDRA BARDOLIA		INE601U08192	10,00,000	20,00,000
LISTED	I SANGITABEN VINESIICHANDRA BARDOLIA	2	INE001008192	10,00,000	20,00,000
LISTED	1 SHASHI MEHRA .	1	INE601U08192	10,00,000	10,00,000
LISTED	1 SUNITA SHASHI MEHRA .		INE601U08192	10,00,000	10,00,000
LISTED	1 NEIL CHRISTOPHER PEREIRA .		INE601U08192	10,00,000	20,00,000
LISTED	1 SHEETAL NEIL PEREIRA .		INE601U08192	10,00,000	20,00,000
LISTED	1 ASHA GUPTA .		INE601U08192	10,00,000	10,00,000
LISTED	1 HARSH N PARIKH .		INE601U08192	10,00,000	30,00,000
LISTED	1 INDU JAISWAL .		INE601U08192	10,00,000	10,00,000
LISTED	1 DILIP NARANDAS RUPAREL .		INE601U08192	10,00,000	30,00,000
LISTED	1 V S RAJAN .		INE601U08192	10,00,000	40,00,000
LISTED	1 RAJENDRA KUMAR ARORA .		INE601U08192	10,00,000	20,00,000
LISTED	1 PRASAD SADANAND JOSHI .		INE601U08192	10,00,000	10,00,000
LISTED	1 POOJA PRASAD JOSHI .		INE601U08192	10,00,000	10,00,000
LISTED	1 ANOOP KALAVATH GOVINDANKUTTY .		INE601U08192	10,00,000	10,00,000
LISTED	Throof Mariting Countries		1112001000192	10,00,000	10,00,000
LISTED	1 GRACE MENDONCA	2.	INE601U08192	10,00,000	20,00,000
LISTED	1 PRABHA R CHOKHANI		INE601U08192	10,00,000	20,00,000
LISTED	1 PRADNYA VIVEKANAND MUNDHE		INE601U08192	10,00,000	10,00,000
LISTED	1 ASHWINI G WATVE	1	INE601U08192	10,00,000	10,00,000
LISTED	1 RAVINDRA NATH JAISWAL	1	INE601U08192	10,00,000	10,00,000
LISTED	1 RONAK MAHESH SHAH		INE601U08192	10,00,000	10,00,000
LISTED	1 CHARUBEN GIRISHKUMAR SHAH		INE601U08192	10,00,000	10,00,000
LISTED	1 TEJAL PARTH MODI	1	INE601U08192	10,00,000	10,00,000
LISTED	1 HARINI GORUR SAMPATHIYENGAR	1	INE601U08192	10.00,000	10,00,000
LISTED	1 RINA VERMA		INE601U08192	10,00,000	10,00,000
LISTED	1 PANKAJKUMAR JAYANTILAL DALAL	1	INE601U08192	10,00,000	10,00,000
				, ,	, ,
LISTED	1 SANGEETA JAIN	1	INE601U08192	10,00,000	10,00,000
LISTED	1 CHIRAG VENISHANKER JOSHI	1	INE601U08192	10,00,000	10,00,000
LISTED	1 HARIDAS NAGARDAS KIKANI	1	INE601U08192	10,00,000	10,00,000
LISTED	1 VINEET SINGH	1	INE601U08192	10,00,000	10,00,000
LISTED	1 NAINI BOSE D .	1	INE601U08192	10,00,000	10,00,000
LISTED	1 HINA LALIT ASHANI	1	INE601U08192	10,00,000	10,00,000
LISTED	1 PARULBEN PRAFULBHAI GANDHI	1	INE601U08192	10,00,000	10,00,000
LISTED	1 PRAFULBHAI SHANTILAL GANDHI	1	INE601U08192	10,00,000	10,00,000
LISTED	1 REKHABEN KIRITBHAI SHAH	1	INE601U08192	10,00,000	10,00,000
LISTED	1 NILSHA PINAKIN SHAH	1	INE601U08192	10,00,000	10,00,000
LISTED	1 PINAKIN VASANTLAL SHAH	1	INE601U08192	10,00,000	10,00,000
LISTED	1 PRANAV SURESH SHAH	1	INE601U08192	10,00,000	10,00,000
LISTED	1 PANNA SURESH SHAH	1	INE601U08192	10,00,000	10,00,000
LISTED	1 SURESH CHATRABHUJ SHAH	1	INE601U08192	10,00,000	10,00,000
LISTED	1 EKTA MAULIK SHAH	1	INE601U08192	10,00,000	10,00,000
LISTED	1 MAULIK PRADIP SHAH		INE601U08192	10,00,000	10,00,000
LISTED	1 VISHA VISHAL SHAH		INE601U08192	10,00,000	20,00,000
LISTED	1 VISHAL AJAY SHAH		INE601U08192	10,00,000	10,00,000
LISTED	1 PRADIPKUMAR BABULAL SHAH		INE601U08192	10,00,000	20,00,000
LISTED	1 ASHOK CHHAGANLAL SHAH		INE601U08192	10,00,000	10,00,000
LISTED	1 RAMA PRADEEP SHAH		INE601U08192	10,00,000	20,00,000
LISTED	1 RASILABEN RAMJIBHAI KUNDALIA		INE601U08192	10,00,000	10,00,000
LISTED	1 AMITA BAVISKAR		INE601U08192	10,00,000	10,00,000
LISTED	1 DEVICA SINGHA	1		10,00,000	10,00,000
LISTED	1 ARSHIYA SINGH		INE601U08192	10,00,000	10,00,000
LISTED	1 PRADEEP SOOD		INE601U08192	10,00,000	10,00,000
LISTED	1 SANJAY RAVIKANT WARKE		INE601U08192	10,00,000	20,00,000
LISTED	1 INDRUJ SINGH RAI		INE601U08192	10,00,000	10,00,000
LISTED	1 HARBHAJAN SINGH NARANG		INE601U08192	10,00,000	20,00,000
LISTED	1 REKHA AGGARWAL		INE601U08192	10,00,000	50,00,000
LISTED	1 KANIKA SINGH		INE601U08192	10,00,000	20,00,000
LISTED	1 NAVIN SOOD		INE601U08192	10,00,000	10,00,000
LISTED	1 ISHU NARANG	1	INE601U08192	10,00,000	10,00,000

LISTED	1 MINAL SHREYASH PARIKH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 PRIYA JAGWANI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 DAVINDER KUMAR JAIN	1 INE601U08192	10,00,000	10,00,000
LISTED	1 KUMUD LATA JAIN	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SEEMA PANKAJ DAND	1 INE601U08192	10,00,000	10,00,000
LISTED	1 CHANDANBEN PRAVINCHANDRA KOTHARI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 PRATIK SUNIL KOTHARI	12 INE601U08192	10,00,000	1,20,00,000
LISTED	1 PREET KETAN GOPANI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 BALASUBRAMANIAN NARAYANASWAMY	1 INE601U08192	10,00,000	10,00,000
	PRASAD			
LISTED	1 TEJAL BHAVIK SHETH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RAJNI DATTATRAYA BHAT	1 INE601U08192	10,00,000	10,00,000
LISTED	1 VIDYUT SHRIKANT JOSHI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 PALLAWI RAJIV PODAR	2 INE601U08192	10,00,000	20,00,000
LISTED	1 KISHOR PANDEY	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ASHA KHATORIA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 DAKSHA MAHESH MEHTA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 MAHESH INDULAL MEHTA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ROMY BAPALAL MEHTA	3 INE601U08192	10,00,000	30,00,000
LISTED	1 SUNIL KUMAR SHARMA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 KETAN HARKISHAN SHAH	2 INE601U08192	10,00,000	20,00,000
LISTED	1 SHEFALI TEJAS GANDHI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RUCHITA PRAFULLA GANDHI	2 INE601U08192	10,00,000	20,00,000
LISTED	1 SUNIL BHARATLAL MAJMUDAR	1 INE601U08192	10,00,000	10,00,000
LISTED LISTED	1 ABHAY MANUBHAI GHEEWALA 1 POONAM JHA	1 INE601U08192 2 INE601U08192	10,00,000	10,00,000
LISTED	1 NEELAM GOENKA	1 INE601U08192	10,00,000	20,00,000
LISTED	1 POOJA SINGHAL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 G LALITHA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 HASUMATI DHIRUBHAI SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 GAUTAM VINOD DAFTARY	34 INE601U08192	10,00,000	3,40,00,000
LISTED	1 BINA KIRTI SHAH .	10 INE601U08192	10,00,000	1,00,00,000
LISTED	1 HIMANSHU J. DAVE .	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RASHI BIMAL PAREKH .	10 INE601U08192	10,00,000	1,00,00,000
LISTED	1 SUSHILA JASVANTILAL PAREKH .	5 INE601U08192	10,00,000	50,00,000
LISTED	1 DEEPALI ANAND MEHTA .	2 INE601U08192	10,00,000	20,00,000
LISTED	1 VIRENDRA KANTILAL MEHTA .	1 INE601U08192	10,00,000	10,00,000
LISTED	1 REKHA ASHVIN PATEL	2 INE601U08192	10,00,000	20,00,000
LISTED	1 ANITA PIYUSH KAMDAR	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ARTI HITESH DOSHI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 HEERACHAND S VARDHAN	1 INE601U08192	10,00,000	10,00,000
LISTED	1 LAXMI H VARDHAN	1 INE601U08192	10,00,000	10,00,000
LISTED	1 MAITHILEE KAIZAD MISTRY	3 INE601U08192	10,00,000	30,00,000
LISTED	1 BHARTIBEN RAMESHBHAI SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 VIJENDRA SINGH TYAGI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SHAILESH ASHOK KALE	1 INE601U08192	10,00,000	10,00,000
LISTED	1 HEMA VISHAL SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 NISHA SHAILESH SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 HIMANSHU KIRTISAGAR SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ANAND NANJI SANGOI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 CHIRAG NANJI SANGOI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SUDHA SURESH SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 JULISHA ANAND SANGOI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SURESHCHANDRA A SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED LISTED	1 BHAVIKA DHARMESH SHETH 1 SAGAR SHAILESH SHAH	1 INE601U08192 1 INE601U08192	10,00,000	10,00,000
LISTED				10,00,000
LISTED	1 NIPUNA SHAILESH SHAH 1 DIPALI VIPULKUMAR SANGHVI	1 INE601U08192 1 INE601U08192	10,00,000	10,00,000
LISTED	1 SHACHII GAURAV MANIK	2 INE601U08192	10,00,000	20,00,000
LISTED	1 ARUNKUMAR DHANANJAY DAS	1 INE601U08192	10,00,000	10,00,000
LISTED	1 JAYSHREE PARESH VORA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 PRAKASH SHANTILAL DOSHI	1 INE601U08192	10,00,000	10,00,000

	<u></u>			
LISTED	1 RAMCHANDRA DOGIWAL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SATISH KUMAR.P .	1 INE601U08192	10,00,000	10,00,000
LISTED	1 DEEPA SATISH KUMAR .	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SHEETAL JIGNESH SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ASHLESHA ALKESHBHAI PATEL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 DIPTI SANZGIRI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 JANESH VASANT SANZGIRI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 PEENABEN DHIRAJLAL THAKKER	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RACHANA AKSHAY RANADE	1 INE601U08192	10,00,000	10,00,000
LISTED	1 DEEPTI KAPOOR	2 INE601U08192	10,00,000	20,00,000
LISTED	1 JAYDEEP MAHESH KOTECHA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RAJESH VINAYAK JOSHI	2 INE601U08192	10,00,000	20,00,000
LISTED	1 RAVI RAJ VASUDEV	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SHRINIVAS NAGABHUSHAN SHARMA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SANJEEV PRABHAKAR ATRE	1 INE601U08192	10,00,000	10,00,000
LISTED	1 GANESH VASANT RANE	1 INE601U08192	10,00,000	10,00,000
LISTED	1 GURUDATTA RAMCHANDRA SANTI .	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ERISSO FERNANDES .	1 INE601U08192	10,00,000	10,00,000
LISTED	1 DEEPTI AGARWAL .	1 INE601U08192	10,00,000	10,00,000
LISTED	1 JYOTHI AGARWAL .	1 INE601U08192	10,00,000	10,00,000
LISTED	1 UMA MAJUMDER .	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RAKESH NANUBHAI PATEL.	1 INE601U08192	10,00,000	
	1 SAKSHI DEVANG RAWAL			10,00,000
LISTED		3 INE601U08192	10,00,000	30,00,000
LISTED	1 AARATI GIRISHKUMAR PENDSE	1 INE601U08192	10,00,000	10,00,000
LISTED	1 KALAVATI SATYAPAL SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 HANSA KESHAVJI CHHEDA	2 INE601U08192	10,00,000	20,00,000
LISTED	1 SRIVATSA RAMAPRASAD	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SUDHA BISHWANATH AGRAWAL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 JIGNABEN MAYANKBHAI SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RAJENDRA KUMAR NAVNITLAL SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 FALGUNIBEN DHIRENDRA PATEL	2 INE601U08192	10,00,000	20,00,000
LISTED	1 GIRISHBHAI H PATEL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RAJNIKANT AMRITLAL MEHTA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 Dhakan Bhartesh Kantibhai	1 INE601U08192	10,00,000	10,00,000
LISTED	1 Karan M Soni	3 INE601U08192	10,00,000	30,00,000
LISTED	1 PRIYANSHI PARIKH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RAJESHWARI MUKUND DEO	1 INE601U08192	10,00,000	10,00,000
LISTED	1 PRATIMA BHUPENDRA ACHARYA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ANAR DEVESH JAYKRISHNA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 PRAKASH PRABHUDAS JETHWANI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 VIPUL JAYANTILAL SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 JYOTI PRAKASH JETHWANI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RENU SHARMA	1 INE601U08192	10.00.000	10,00,000
LISTED	1 ANURADHA GAURAV AGGARWAL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 KARUNA HARSHAWARDHAN VAKIL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SWATI PARESH VAKIL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 JAGRUTI VIPUL SHAH	2 INE601U08192	10,00,000	20,00,000
LISTED	1 POOJA M. MUDRAS	2 INE601U08192	10,00,000	20,00,000
LISTED	1 MANJULA VENKATAKRISHNA MOHAN	2 INE601U08192 2 INE601U08192	10,00,000	20,00,000
FIS LED	PRABHALA	2 IINE001000192	10,00,000	20,00,000
LICTED		2 DECOLUMN	10.00.000	20.00.000
LISTED	1 RAJESHKUMAR RAMSHANKAR SHROFF	2 INE601U08192	10,00,000	20,00,000
LIGHTE	1 A LAW TODAY A STORY	O DESCRIPTION OF	10.00.000	*****
LISTED	1 AJAY JORMAL MEHTA	2 INE601U08192	10,00,000	20,00,000
LISTED	1 PARVATI HIRALAL PANDEY .	1 INE601U08192	10,00,000	10,00,000
LISTED	1 MANISH DHIRAJLAL SHAH	2 INE601U08192	10,00,000	20,00,000
LISTED	1 VAISHALI R GHULE	1 INE601U08192	10,00,000	10,00,000
LISTED	1 NARINDER KAUR SETHI	2 INE601U08192	10,00,000	20,00,000
LISTED	1 OMPRAKASH REVANDAS BHAVSAR	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RITUL GODIKA	3 INE601U08192	10,00,000	30,00,000
LISTED	1 JYOTI RAJENDRA SHINGI	2 INE601U08192	10,00,000	20,00,000
LICEED	1 LAKSHMIPATHI MURALIDHARAN	1 INE601U08192	10,00,000	10,00,000
LISTED	1 Extragrammation metal Elibration	1 IIVL001000172	10,00,000	10,00,000
LISTED	1 SHALU MITTAL	2 INE601U08192	10,00,000	20,00,000

LICTED	1 DALVIMAD CINILA	2 INF 6011 109 102	10.00.000	20.00.000
LISTED	1 RAJ KUMAR SINHA	2 INE601U08192	10,00,000	20,00,000
LISTED	1 MANOJ NAROTAM MANGHNANI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 GOPALKRISHAN HANSRAJ SETHI	2 INE601U08192	10,00,000	20,00,000
LISTED LISTED	1 ABHIJEET PAREKH 1 PINAL NIPUN SHAH .	2 INE601U08192 10 INE601U08192	10,00,000	20,00,000
	1 BHADRESH VINAYAK JARIWALA .		10,00,000	1,00,00,000
LISTED LISTED	1 UPENDRABHAI THAKORBHAI DESAI	1 INE601U08192 1 INE601U08192	10,00,000	10,00,000
LISTED	1 HITESH LALITCHANDRA LAIWALA	1 INE601U08192	10,00,000	10,00,000
				10,00,000
LISTED LISTED	1 PRABHUDAS NARSHIBHAI GOHIL 1 KIRIT KUMAR MODI	1 INE601U08192 1 INE601U08192	10,00,000	10,00,000
LISTED	1 MANISHA JAYNESH DOSHI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 JAYNESH RASIKLAL DOSHI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ARCHANA JAYESH MEHTA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SARALA IJJATRAY MEHTA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 VIVEK NARAIN HINDUJA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 N M NARAYANAN AYYAPPAN	1 INE601U08192	10,00,000	10,00,000
LISTED	1 KASULA DEEPIKA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RAJEEV MANOHAR GUPTE	1 INE601U08192	10,00,000	10,00,000
LISTED	1 LEENA RAJEEV GUPTE	1 INE601U08192	10,00,000	10,00,000
LISTED	1 VIJAY NARAYAN AGRAWAL	2 INE601U08192	10,00,000	20,00,000
LISTED	1 SWETA GOEL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 CHETNABEN VINODKUMAR SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 PARUL PRAMOD DALLI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 NILA PRAMODCHANDRA SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 NAGAPPA G S	2 INE601U08192	10,00,000	20,00,000
LISTED	1 ANJALI GUPTA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RENUKABEN RAJENDRA DESAI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 DILIP CHANDULAL PARIKH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ANAND MOHAN SACHWANI	2 INE601U08192	10,00,000	20,00,000
LISTED	1 JAYESH KANTILAL DESAI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 BHARAT DAMODAR MEHTA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 JIGNA NIKHIL SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 DEEPAKBHAI G MODI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 KRUPA JATIN SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 GURUNG NARENDRA JAMBAHADUR	1 INE601U08192	10,00,000	10,00,000
LISTED	1 NEEMA NIMISH THAKORE	1 INE601U08192	10,00,000	10,00,000
LISTED	1 DARSHIT LALITMOHAN SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 DINA DARSHIT SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 FRAMROZ ASPI LANGRANA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 BANU ASPI LANGRANA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 PATTI KONDA MADHAVI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SUSHIL BHATLA	4 INE601U08192	10,00,000	40,00,000
LISTED	1 ARVIND VADHERA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 VIMAL KUMAR JAIN	3 INE601U08192	10,00,000	30,00,000
LISTED	1 RITESH KUMAR JAIN	3 INE601U08192	10,00,000	30,00,000
LISTED	1 KAMAL KUMAR JAIN	3 INE601U08192	10,00,000	30,00,000
LISTED	1 HARSH VARDHAN TEKRIWAL .	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SIDDHARTH TEKRIWAL .	1 INE601U08192	10,00,000	10,00,000
LISTED	1 PRAMOD HARLALKA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SMEETA BHURA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ANJALI MAKARAND GHARPURE	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SHAMALA SARANG LONKAR	1 INE601U08192	10,00,000	10,00,000
LISTED	1 CHINTAN DIPAKBHAI GANDHI	2 INE601U08192	10,00,000	20,00,000
LISTED	1 NITISHA GANDHI	2 INE601U08192	10,00,000	20,00,000
LISTED	1 VIBHA APOORVA SANGHVI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 MADHUKAR KATAKAM .	1 INE601U08192	10,00,000	10,00,000
LISTED	1 DRASHTI BHUMIL GALA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 KRISHA HITESH MEHTA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 AMITABEN ANILBHAI AGRAWAL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 KAPIL PANKAJBHAI JOSHI	1 INE601U08192	10,00,000	10,00,000
				10.00.000
LISTED	1 K MANAVALAN	1 INE601U08192	10,00,000	10,00,000
LISTED	1 BHARTI S SHAH	1 INE601U08192	10,00,000	10,00,000
				, ,

LISTED	1 DAMJIBHAI LAXMANBHAI VADODARIYA	5 INE601U08192	10,00,000	50,00,000
LISTED	1 NIRAV DAMJIBHAI PATEL	5 INE601U08192	10,00,000	50,00,000
LISTED	1 DISHA RAJUBHAI VAJIR	1 INE601U08192	10,00,000	10,00,000
LISTED	1 AMI HITESH VAJIR	1 INE601U08192 1 INE601U08192	10,00,000	10,00,000
LISTED	1 KAUSHIKA D VAJIR	1 INE601U08192	10,00,000	10,00,000
LISTED	1 KRUTI VIPULKUMAR VAJIR	1 INE601U08192	10,00,000	10,00,000
LISTED	1 NIDHI KUMAR NARANG	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SHAMSUNDAR NANDKISHOR BHATTAD	1 INE601U08192	10,00,000	10,00,000
			.,,	,,,,,,,
LISTED	1 AKSHAYKUMAR ANANTRAY GANDHI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ARCHANA ABHIJIT THOKADIWALA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 BASANT KAUR	1 INE601U08192	10,00,000	10,00,000
LISTED	1 PRAMODCHANDRA HIRALAL SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 KRUTI VIVEK SONI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 VAIBHAV HARSHAD SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 VISHRUTI BHARATBHAI SONI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 DIPANKAR SINHA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SHOBHA VIJAYKUMAR SHETH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 PRAGNA VIJAYBHAI PATEL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 NIDHI JAIN	1 INE601U08192	10,00,000	10,00,000
LISTED	1 MANJULA HIRALAL SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 HIRALAL HUKMICHAND SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SHUBHAM RAJESH BAJAJ	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SUJAT VALI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SHANTA RAMESH THAWANI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RAMESH UDHARAM THAWANI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 JANAVI PARIKH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 CHARMI JOGANI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 PRAGATI HIREN SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 JYOTSNA SURESHCHANDRA DOMADIYA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 DEBASHISH BISWAS	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SHEEMA BHATIA	3 INE601U08192	10,00,000	30,00,000
LISTED	1 VIJAYKUMAR DHARAMPAL GUPTA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SUNIL ARORA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 GEET HITENDRA SAMPAT	2 INE601U08192	10,00,000	20,00,000
LISTED	1 NILESH MANILAL SHAH	2 INE601U08192	10,00,000	20,00,000
LISTED	1 KHUSHI HETAL SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 KANAKAPURA SRINIVASA MURTHY VEENA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 NAVIN LAKHAMSHI CHHEDA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 POONAM SETH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 MICHELLE SALDANHA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 DAXA NILESH SHAH	2 INE601U08192	10,00,000	20,00,000
LISTED	1 HITESH JAIN	1 INE601U08192	10,00,000	10,00,000
LISTED	1 PRITI DHARMESH SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RAJINDER M SAHGAL	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SUHASINI SUBHASH KULAKARNI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 JAGRUTIBEN DILIPKUMAR KANERIYA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 BRIJESH YASHWANT SHAH	1 INE601U08192	10,00,000	10,00,000
LISTED	1 RADHIKA GAJANAN NAZRE	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SUSHILKUMAR DWARKADASS KHANNA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ARUNA SAXENA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 MEENAKSHI KAUL	2 INE601U08192	10,00,000	20,00,000
LISTED	1 ARVIND KUMAR MATHUR	2 INE601U08192	10,00,000	20,00,000
LISTED	1 SHILPA MANDEEP BHALLA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 SAJAL DASGUPTA	1 INE601U08192	10,00,000	10,00,000
LISTED	1 DARSHANA HARESH JHAVERI	1 INE601U08192	10,00,000	10,00,000
LISTED	1 ROOPA KALE	1 INE601U08192	10,00,000	10,00,000
LISTED	1 GRISHMABEN VIRALBHAI DESAI	1 INE601U08192	10,00,000	10,00,000

LISTED	1 DHANDAPANI SAIKUMAR	1	INE601U08192	10,00,000	10,00,000
LISTED	1 ISHA GUPTA		INE601U08192	10,00,000	10,00,000
LISTED	1 SAMPATRAO PANDURANG KOKATE	1	INE601U08192	10,00,000	10,00,000
LISTED	1 PRIYA SANJAYKUMAR CHOPRA	1	INE601U08192	10,00,000	10,00,000
LISTED	1 NIRAV NARENDRA SHAH	1	INE601U08192	10,00,000	10,00,000
LISTED	1 SUSHMABEN BIPINCHANDRA SHAH	1	INE601U08192	10,00,000	10,00,000
LISTED	1 BIPINCHANDRA NAVNITLAL SHAH	1	INE601U08192	10,00,000	10,00,000
LISTED	1 ANJANA B SHAH	1	INE601U08192	10,00,000	10,00,000
LISTED	1 BHOI RAOJIBHAI SHANABHAI	1	INE601U08192	10,00,000	10,00,000
LISTED	1 VANMALA GIRISH NANAVATI	5	INE601U08192	10,00,000	50,00,000
LISTED	1 G.RAMASUBRAMANIAN .	1	INE601U08192	10,00,000	10,00,000
LISTED	1 P. LAKSHMANAN .	2	INE601U08192	10,00,000	20,00,000
LISTED	1 DOSHI ALPA HARESH	1	INE601U08192	10,00,000	10,00,000
LISTED	1 MEHUL MOHANLAL VALIA	1	INE601U08192	10,00,000	10,00,000
LISTED	1 JAYASHRI PATIL	2	INE601U08192	10,00,000	20,00,000
LISTED	1 VISHAL VANDAN GOSALIA	1	INE601U08192	10,00,000	10,00,000
LISTED	1 PHIROOZEE SULM MARKER	1	INE601U08192	10,00,000	10,00,000
LISTED	1 BHARAT NATHALAL VAGHANI	2	INE601U08192	10,00,000	20,00,000
LISTED	1 NAVNITLAL KODARLAL SHAH	2	INE601U08192	10,00,000	20,00,000
LISTED	1 DINESHBHAI ARJANBHAI PANSURIYA	1	INE601U08192	10,00,000	10,00,000
LISTED	1 JAYESHBHAI ARJANBHAI PANSURIYA	1	INE601U08192	10,00,000	10,00,000
LISTED	1 KISHORBHAI ARJANBHAI PANSURIYA	1	INE601U08192	10,00,000	10,00,000
LISTED	1 KALPANA PARESH SHAH	1	INE601U08192	10,00,000	10,00,000
LISTED	1 BHAVIK C SHAH	10	INE601U08192	10,00,000	1,00,00,000
LISTED	1 ARCHANA BALDWA	1	INE601U08192	10,00,000	10,00,000
LISTED	1 K M GOWRAMMA	1	INE601U08192	10,00,000	10,00,000
LISTED	1 RAJESHWARI SIVAKUMAR	2	INE601U08192	10,00,000	20,00,000
LISTED	1 ABHINAV PRADEEP MISHRA	1	INE601U08192	10,00,000	10,00,000
LISTED	1 ROOPA SHUKLA	2	INE601U08192	10,00,000	20,00,000
LISTED	1 SHREE SATTAVIS DASHA PORWAD MANDAL	1	INE601U08192	10,00,000	10,00,000
LISTED	1 SHREE BOMBAY JAIN SWAYAMSEVAK MANDAL	1	INE601U08192	10,00,000	10,00,000
LISTED	1 BADA KHALSA CHARITIES OF KHETSYDASJI TRUST	2	INE601U08192	10,00,000	20,00,000
LISTED	1 PANJRAPOLE SANSTHA RAMPURA	6	INE601U08192	10,00,000	60,00,000
LISTED	1 BM PARIKH FOUNDATION TRUST		INE601U08192	10,00,000	10,00,000
LISTED	1 HDFC TRUSTEE COMPANY LTD A/C HDFC		INE601U08200	10,00,000	1,50,00,00,000
	FLOATING RATE DEBT FUND			.,,	_,_ ,, ,, ,, ,, ,,
LISTED	1 ICICI PRUDENTIAL REGULAR SAVINGS FUND	400	INE601U08200	10,00,000	40,00,00,000
LISTED	1 ICICI PRUDENTIAL SHORT TERM FUND	400	INE601U08200	10,00,000	40,00,00,000
LISTED	1 AXIS TREASURY ADVANTAGE FUND	850	INE601U08200	10,00,000	85,00,00,000
LISTED	1 AXIS MUTUAL FUND TRUSTEE LIMITED A/C AXIS MUTUAL FUND A/C AXIS ULTRA SHORT TERM FUND		INE601U08200	10,00,000	15,00,00,000
LISTED	1 ICICI PRUDENTIAL CREDIT RISK FUND	500	INE601U08200	10,00,000	50,00,00,000
LISTED	1 ICICI PRUDENTIAL MEDIUM TERM BOND FUND	200	INE601U08200	10,00,000	20,00,00,000
LISTED	1 ICICI PRUDENTIAL ALL SEASONS BOND FUND	300	INE601U08234	10,00,000	30,00,00,000
LISTED	1 ICICI PRUDENTIAL SAVINGS FUND	1000	INE601U08234	10,00,000	1,00,00,00,000
LISTED	1 ICICI PRUDENTIAL SHORT TERM FUND		INE601U08234	10,00,000	1,20,00,00,000
LISTED	1 ICICI PRUDENTIAL FLOATING INTEREST FUND	500	INE601U08234	10,00,000	50,00,00,000
LISTED	1 AXIS TREASURY ADVANTAGE FUND	600	INE601U08234	10,00,000	60,00,00,000

LISTED	1 AXIS MUTUAL FUND TRUSTEE LIMITED A/C	400	INE601U08234	10,00,000	40,00,00,000
	AXIS MUTUAL FUND A/C AXIS FLOATER FUND				
LISTED	1 Boon Investment And Trading Company Private Limited	10	INE601U08242	10,00,000	1,00,00,000
LISTED	1 CLEANTECH ENERGY SOLUTION PRIVATE LIMITED	2	INE601U08242	10,00,000	20,00,000
LISTED	1 KARMATEX APPARELS PRIVATE LIMITED	3	INE601U08242	10,00,000	30,00,000
LISTED	1 COPPER ROLLERS PVT LTD	2	INE601U08242	10,00,000	20,00,000
LISTED	1 GALENTIC PHARMA INDIA PVT LTD	7	INE601U08242	10,00,000	70,00,000
LISTED	1 JAYKAL EXPORTS PVT LTD		INE601U08242	10,00,000	50,00,000
LISTED	1 TRENDS HOLDINGS AND CONSULTANCY PVT LTD	2	INE601U08242	10,00,000	20,00,000
LISTED	1 INTERSIL (INDIA) PRIVATE LIMITED	5	INE601U08242	10,00,000	50,00,000
LISTED	1 SUN N SAND HOTEL PRIVATE LTD	25	INE601U08242	10,00,000	2,50,00,000
LISTED	1 SUN-N-SAND INVESTMETS AND FINANCE CO. PVT. LTD.	10	INE601U08242	10,00,000	1,00,00,000
LISTED	1 LAUNCHPAD FINTECH PVT LTD	1	INE601U08242	10,00,000	10,00,000
LISTED	1 INDIA GELATINE & CHEMICALS LTD	5	INE601U08242	10,00,000	50,00,000
LISTED	1 HARI ORGOCHEM PVT LTD	20	INE601U08242	10,00,000	2,00,00,000
LISTED	1 FREIGHT LINES (INDIA) PRIVATE LIMITED	1	INE601U08242	10,00,000	10,00,000
LISTED	1 PRACHETAS ADVISORY SERVICES PRIVATE LIMITED	1	INE601U08242	10,00,000	10,00,000
LISTED	1 PERIAR TRADING COMPANY PVT LTD	10	INE601U08242	10,00,000	1,00,00,000
LISTED	1 DILESH ROADLINES PVT LTD	20	INE601U08242	10,00,000	2,00,00,000
LISTED	1 SODIUM METAL PVT. LTD.	10	INE601U08242	10,00,000	1,00,00,000
LISTED	1 BALLYGUNGE WINDSOR PALACE RESIDENTS WELFARE ASSOCIATION	2	INE601U08242	10,00,000	20,00,000
LISTED	1 CORAL FREIGHT LINES PVT LTD	10	INE601U08242	10,00,000	1,00,00,000
LISTED	1 YASHVI PRINTPACK PRIVATE LIMITED	1	INE601U08242	10,00,000	10,00,000
LISTED	1 KANJALOCHANA FINSERVE PRIVATE LIMITED	14	INE601U08242	10,00,000	1,40,00,000
LISTED	1 SHRIRAM FOUNDRY PRIVATE LIMITED	10	INE601U08242	10,00,000	1,00,00,000
LISTED	1 UNIFIED VOICE COMMUNICATION PRIVATE LIMITED	5	INE601U08242	10,00,000	50,00,000
LISTED	1 ARK INDUSTRIAL PRODUCTS PVT LTD	1	INE601U08242	10,00,000	10,00,000
LISTED	1 ARK FLUID SYSTEM COMPONENTS PVT LTD	1	INE601U08242	10,00,000	10,00,000
LISTED	1 JANARDAN COLD STORAGE CO PVT LTD	20	INE601U08242	10,00,000	2,00,00,000
LISTED	1 SETRON SYNTHETICS PRIVATE	1	INE601U08242	10,00,000	10,00,000
LISTED	1 TRISTAR JEWELLERY EXPORTS PVT LTD	25	INE601U08242	10,00,000	2,50,00,000
LISTED	1 THE QUALITY IRON AND STEEL WORKS PRIVATE LIMITED	2	INE601U08242	10,00,000	20,00,000
LISTED	1 REGENCY NIRMAN LIMITED	65	INE601U08242	10,00,000	6,50,00,000
LISTED	1 KALPTARU MULTIPLIER LTD		INE601U08242	10,00,000	20,00,000
LISTED	1 TRADEMAX SOLUTIONS PRIVATE LIMITED	1	INE601U08242	10,00,000	10,00,000
LISTED	1 DAZZLE ROBOTICS PRIVATE	2	INE601U08242	10,00,000	20,00,000
LISTED	1 BADJATE STOCK BROKING PRIVATE LTD		INE601U08242	10,00,000	1,00,00,000
LISTED	1 AMOL CAPITAL MARKETS PVT. LTD.	1	INE601U08242	10,00,000	10,00,000
LISTED	1 MEHTA VAKIL & CO. PVT. LTD.	3	INE601U08242	10,00,000	30,00,000
LISTED	1 AXIOM SHARE BROKING PVT. LTD		INE601U08242	10,00,000	10,00,000

LISTED	1 MUNDRA MAHAVIRPRASAD RAMVALLABH	1 INE601U08242	10,00,000	10,00,000
	HUF			
LISTED	1 KISHORILAL A SARAOGI HUF	1 INE601U08242	10,00,000	10,00,000
LISTED	1 GAUTAM INDULAL SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SHAH GAURANG R	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MANEESH JAIN	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ZAVERI RUPESH PURUSHOTTAM	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ALAP RAMESHCHANDRA KAMDAR	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ABHISHEK RUNGTA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PRAKASH C BORA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 BHARATSINH NARANSINH UMAT	1 INE601U08242	10,00,000	10,00,000
LISTED	1 VIKAS V GUPTA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SANDEEP ARORA HUF	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SATHYAMURTHY HUF	1 INE601U08242	10,00,000	10,00,000
LISTED	1 KOTHANDARAMAN T P HUF	1 INE601U08242	10,00,000	10,00,000
LISTED	1 NAYAN KRISHANAVADAN BANKER	4 INE601U08242	10,00,000	40,00,000
LISTED	1 BRIJ JAGDISHBHAI SAGPARIYA HUF	3 INE601U08242	10,00,000	30,00,000
LISTED	1 BHAVYAKUMAR SHANTILAL SHAH HUF	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PARESH ARVIND BHATT	1 INE601U08242	10,00,000	10,00,000
LISTED	1 JAYESH PRAVINCHANDRA GOLWALA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 A B KUCHERIA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 B L KUCHERIA HUF	2 INE601U08242	10,00,000	20,00,000
LISTED	1 ROHIT BHOGILAL PATEL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 BHOGILAL NARSIDAS PATEL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ABHISHEKBHAI CHIRAGBHAI SHETH	2 INE601U08242	10,00,000	20,00,000
LISTED	1 SONAM HEMRAJ UDASI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 KIRIT SHASHIKANT MEHTA	2 INE601U08242	10,00,000	20,00,000
LISTED	1 CHINTAN P SHAH HUF	1 INE601U08242	10,00,000	10,00,000
LISTED	1 HITESH DAYALSINGH GOUR (HUF)	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PANDHARINATH BHAGOJI GUNJAL (HUF)	1 INE601U08242	10,00,000	10,00,000
LISTED	1 BIPINCHANDRA NAGARDAS MEHTA HUF	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MUKESH M MODY HUF	2 INE601U08242	10,00,000	20,00,000
LISTED	1 SAPARA KANTILAL BHIMJIBHAI HUF	1 INE601U08242	10,00,000	10,00,000
LISTED	1 UDAY SURESHCHANDRA DHARIA HUF	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SAGAR SHAILESH SHAH HUF	5 INE601U08242	10,00,000	50,00,000
LISTED	1 SHAH UMESH JAYANTILAL HUF	4 INE601U08242	10,00,000	40,00,000
LISTED	1 BHAVIN CHANDRAKANT GALA HUF	3 INE601U08242	10,00,000	30,00,000
LISTED	1 RAJAN C. DOSHI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MRUGESH HARNISHBHAI SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RAJIV ARVINDBHAI JOSHI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 VASANT JARIWALA HUF	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ROHIT J SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 JAYMIN J DALAL	2 INE601U08242	10,00,000	20,00,000
LISTED	1 SANDEEP BHARGAVA HUF	1 INE601U08242	10,00,000	10,00,000
LISTED	1 WALIA SUMEET MAHENDRA	2 INE601U08242	10,00,000	20,00,000
LISTED	1 THIRVINDER SINGH ANAND	4 INE601U08242	10,00,000	40,00,000
LISTED	1 K S AHUJA HUF	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SUDHIR T GOSAR HUF	1 INE601U08242	10,00,000	10,00,000
LISTED	1 AVIN R SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 VIJAYKUMAR BAKSHI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 JAIDEEP VERMA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PARRAG JAIIN NAINUTIA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 NITIN N CHAUDHARY HUF	1 INE601U08242	10,00,000	10,00,000
LISTED	1 NITIN SHANTILAL MEHTA HUF	1 INE601U08242	10,00,000	10,00,000
LISTED	1 H S SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MANAN HEMENDRA SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 BRIJ MAYUR SHAH HUF	1 INE601U08242	10,00,000	10,00,000
LISTED	1 VINEET AGARWAL & SONS HUF	2 INE601U08242	10,00,000	20,00,000
			,,000	-0,00,000

LISTED	1 VALLABHDAS DAYARAM THAKKAR (HUF)	1 INE601U08242	10,00,000	10,00,000
LISTED	1 KIRTI BHOGILAL MEHTA HUF	1 INE601U08242	10,00,000	10,00,000
LISTED	1 BHARAT NYALCHAND MEHTA HUF	1 INE601U08242	10,00,000	10,00,000
LISTED	1 HEMANT BHOGILAL MEHTA HUF	1 INE601U08242	10,00,000	10,00,000
LISTED	1 HITENDRA NYALCHAND MEHTA HUF	1 INE601U08242	10,00,000	10,00,000
LISTED	1 DARSHAN BHOGILAL MEHTA HUF	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SUHAS SHIVRAM PATWARDHAN HUF	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MITESH DOSHI HUF	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RAMAN KUMAR BEHAL HUF	1 INE601U08242	10,00,000	10,00,000
LISTED	1 CHANCHAL BHERULAL BHANDARI HUF	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ATUL ANANTRAI GANDHI HUF	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SHEKHAR TUKARAM MAHAJAN HUF	2 INE601U08242	10,00,000	20,00,000
LISTED	1 ATUL P PATEL HUF.	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RAKESH P UPADHYAYA HUF .	2 INE601U08242	10,00,000	20,00,000
LISTED	1 AJIT KAKUBHAI VAJANI (HUF) .	5 INE601U08242	10,00,000	50,00,000
LISTED	1 MADHUKANT L THAKKAR .	1 INE601U08242	10,00,000	10,00,000
LISTED	1 VIPUL HARIDAS KIKANI HUF	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ALAY JHAVERI HUF .	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MRUNAL JHAVERI HUF .	1 INE601U08242	10,00,000	10,00,000
LISTED	1 B K KARNANI HUF .	1 INE601U08242	10,00,000	10,00,000
LISTED	1 APURVA RATHI HUF	1 INE601U08242	10,00,000	10,00,000
LISTED	1 VIRENDRA MOHAN RATHI HUF	1 INE601U08242	10,00,000	10,00,000
LISTED	1 HASMUKH MANILAL MODY HUF	3 INE601U08242	10,00,000	30,00,000
LISTED	1 KALPESH PRAVINCHANDRA SHAH (HUF)	3 INE601U08242	10,00,000	30,00,000
LISTED	1 KRISHNA KUMAR RUNGTA HUF	1 INE601U08242	10,00,000	10,00,000
LISTED	1 JEORAJ BAFNA & SONS HUF	1 INE601U08242	10,00,000	10,00,000
LISTED	1 NILESH R SHAH (HUF) .	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ASHOK PUKHRAJ VARDHAN (HUF)	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ASHOK DARIGOUDA PATIL (HUF)	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PRAVEEN KUMAR SAH (HUF)	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MANISHKUMAR N JARIWALA (HUF)	1 INE601U08242	10,00,000	10,00,000
LISTED	1 GOVIND LAL DAGA HUF	1 INE601U08242	10,00,000	10,00,000
LISTED	1 NIRANJAN PRAGJI THAKKAR .	2 INE601U08242	10,00,000	20,00,000
LISTED	1 KAILASH CHANDRA MISHRA (HUF) .	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ALPESH KANTILAL PATEL HUF .	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PATEL YADUKANT MATILAL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 CHITRANJAN BABOOLAL SHAH HUF	1 INE601U08242	10,00,000	10,00,000
LISTED	1 JIGNESH BABOOLAL SHAH HUF	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SURESHCHANDRA RAMASARAN AGARWAL HUF	1 INE601U08242	10,00,000	10,00,000
LISTED	1 YOGESHKUMAR DALSUKHBHAI SHETH HUF	1 INE601U08242	10,00,000	10,00,000
LISTED	1 KETAN C. DAMANI (HUF)	1 INE601U08242	10,00,000	10,00,000
LISTED	1 DIPAK SHAMBHULAL SHAH - HUF	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RAJESH N JHAVERI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 NIKHIL JAVERILAL SHAH HUF .	1 INE601U08242	10,00,000	10,00,000
LISTED	1 GUNVANTLAL K SHAH HUF .	1 INE601U08242	10,00,000	10,00,000
LISTED	1 HIMANSHU VASANTRAY SHAH(HUF)	1 INE601U08242	10,00,000	10,00,000
LISTED	1 KARAMCHAND T BHAWNANI HUF	1 INE601U08242	10,00,000	10,00,000
LISTED	1 AJAY KUMAR MANSUKHANI HUF	4 INE601U08242	10,00,000	40,00,000
LISTED	1 JAYNESH R DOSHI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 JANAK GAUTAM BHAI NANAVATY	2 INE601U08242	10,00,000	20,00,000
LISTED	1 RAJESH DASHRATHBHAI SHAH HUF	1 INE601U08242	10,00,000	10,00,000
LISTED	1 HIREN DASHRATHBHAI SHAH HUF	1 INE601U08242	10,00,000	10,00,000
LISTED	1 DASHRATHBHAI RAMANLAL SHAH HUF	1 INE601U08242	10,00,000	10,00,000
LISTED	1 KIRAN K DAVE HUF	1 INE601U08242	10,00,000	10,00,000
LISTED	1 CHETAN RIKHAVDAS SHAH HUF .	2 INE601U08242	10,00,000	20,00,000
LISTED	1 DEEPAK G PATEL HUF .	1 INE601U08242	10,00,000	10,00,000

LISTED	1 PRAVINBHAI KARASANBHAI PATEL HUF	1 INE601U08242	10,00,000	10,00,000
LISTED	1 VIVEK BHARATBHAI SONI HUF	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SAMIR PRAVINLAL SHROFF H.U.F .	1 INE601U08242	10,00,000	10,00,000
LISTED	1 JAGDISH PRASAD GUPTA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 KIRAT R TURAKHIA (HUF)	1 INE601U08242	10,00,000	10,00,000
LISTED	1 AVANISH AJITBHAI FADIA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ADITYA NARIA (HUF)	1 INE601U08242	10,00,000	10,00,000
LISTED	1 VIJAY UMARSHI SHAH HUF	3 INE601U08242	10,00,000	30,00,000
LISTED	1 BHARAT NATHALAL VAGHANI (HUF)	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SHYAM KALAMBI HUF .	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RAJENDRA GUNDA HUF .	2 INE601U08242	10,00,000	20,00,000
LISTED	1 PARTH TECHNOCOMM LLP	1 INE601U08242	10,00,000	10,00,000
LISTED	1 KRISHNAMOORTHY VENKATESWARAN	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MINAL D MORARJI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 JANKHANA V VORA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 VIRAL PRADEEP DESAI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ASHOKKUMAR SITARAM SONTHALIA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RUCHI PARAG KADAKIA .	1 INE601U08242	10,00,000	10,00,000
LISTED	1 JEETENDRA KISHIN GEHI	3 INE601U08242	10,00,000	30,00,000
LISTED	1 BHARTI M LALA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 VARSHA NANAK SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ABHIRAM KASTUR SHETH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SOM THOMAS	2 INE601U08242	10,00,000	20,00,000
LISTED	1 PRAMODA ARVIND MODY	1 INE601U08242	10,00,000	10,00,000
LISTED	1 DEVEN ROMI KANAL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MOHAN ANAND GURBAXANI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 Mitesh Kantilal Motla	2 INE601U08242	10,00,000	20,00,000
LISTED	1 RACHNA SETH	2 INE601U08242	10,00,000	20,00,000
LISTED	1 CHANDRASHEKAR BHASKAR BHAVE	10 INE601U08242	10,00,000	1,00,00,000
LISTED	1 DR. AMITAV SHUKLA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PRIYA D GOSWAMI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MINAL ARJUN MARPHATIA	2 INE601U08242	10,00,000	20,00,000
LISTED	1 AJIT DATTATRYA GULAWANI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PARESH ARVIND BHATT	1 INE601U08242	10,00,000	10,00,000
LISTED	1 REENA MANECK HIRANANDANI	2 INE601U08242	10,00,000	20,00,000
LISTED	1 UPENDRA JAYANTILAL CHOKSI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MOHINI GORDHANDAS MATTA	10 INE601U08242	10,00,000	1,00,00,000
LISTED	1 RAMA SONI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 KULDEEP SINGH NANDA	5 INE601U08242	10,00,000	50,00,000
LISTED	1 VRUSHALI VINAYAK KULKARNI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 KALPANA ALAP KAMDAR	2 INE601U08242	10,00,000	20,00,000
LISTED	1 VIMLESH KUMAR SHARMA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SWARAJ SHARMA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ANAND R SHANBHAG	1 INE601U08242	10,00,000	10,00,000
LISTED	1 KEKI HORMASJI WADIA	9 INE601U08242	10,00,000	90,00,000
LISTED	1 PANKAJ SETHI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 NILESH BACHUBHAI TALATI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 CHANDRAKANTBHAI DAHYABHAI PATEL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ANIL LEKHRAJ KHOSLA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ALPA SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 NAYNA SAMIR MEHTA	3 INE601U08242	10,00,000	30,00,000
LISTED	1 ANKUR SAMIR MEHTA	2 INE601U08242	10,00,000	20,00,000
LISTED	1 SAGAR PRABODH SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PRAVIN BHAGWANDAS HARIBHAKTI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SACHCHIDANAND RAMKRISHNA	1 INE601U08242	10,00,000	10,00,000
LISTED	KOLWALKAR 1 BURJOR DARABSHA THANAWALA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ARTI SUKETU SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 CHHAYA H VAKHARIA	1 INE601U08242	10,00,000	10,00,000

v vammen	A MENNIED A GYVAY GRAGAY	d n m coa	*******	10.00.000	40.00.000
LISTED	1 TEJINDRA SHAH SINGH	4 INE601		10,00,000	40,00,000
LISTED	1 ANIL GEORGE		U08242	10,00,000	20,00,000
LISTED	1 SHAILA SAGAR SHAH		U08242	10,00,000	10,00,000
LISTED	1 DEVESH BIHARILAL SHETHNA		U08242	10,00,000	10,00,000
LISTED	1 NELLY ROSALINE DCUNHA		U08242	10,00,000	10,00,000
LISTED	1 SAVITA R NAGPAL	2 INE601	U08242	10,00,000	20,00,000
LISTED	1 DAISY K HODIWALLA	2 INE601	U08242	10,00,000	20,00,000
LISTED	1 KRISHNA HIREN THAKKAR	1 INE601	U08242	10,00,000	10,00,000
LISTED	1 SALVADOR TIAGO ALMEIDA	1 INE601	U08242	10,00,000	10,00,000
LISTED	1 BALLERINA MEYERS	1 INE601	U08242	10,00,000	10,00,000
LISTED	1 GOPALKRISHNA V PARADKAR	1 INE601	U08242	10,00,000	10,00,000
LISTED	1 SHAMEEM AMEEN MERCHANT	1 INE601	U08242	10,00,000	10,00,000
LISTED	1 POOJA AHUJA NAGPAL		U08242	10,00,000	20,00,000
LISTED	1 SAMEER SATISH PARANJPE		U08242	10,00,000	10,00,000
LISTED	1 SRINJOY CHOWDHURY		U08242	10,00,000	10,00,000
LISTED	1 NEESHIT DEEPAK SHAH		U08242	10,00,000	10,00,000
LISTED	1 SUJATA GOPALKRISHNA PARADKAR		U08242	10,00,000	10,00,000
					, ,
LISTED	1 SUPARNA VASANT PILLAI		U08242	10,00,000	10,00,000
LISTED	1 VASANT GOPINATH PILLAI		U08242	10,00,000	10,00,000
LISTED	1 MANJULA GOVINDBHAI PATEL		U08242	10,00,000	10,00,000
LISTED	1 SMITA UDAY ACHARYA		U08242	10,00,000	10,00,000
LISTED	1 SHRUTI ANUP SHAH	7 INE601		10,00,000	70,00,000
LISTED	1 PRADIPKUMAR JAGJIVAN SHAH	10 INE601		10,00,000	1,00,00,000
LISTED	1 AVANI SHAMIT PATEL	2 INE601	U08242	10,00,000	20,00,000
LISTED	1 KAMAL CYRUS MEHTA	1 INE601	U08242	10,00,000	10,00,000
LISTED	1 MUKESH KUMAR CHOUDHARY	2 INE601	U08242	10,00,000	20,00,000
LISTED	1 LALIT JIVANLAL GOKANI	1 INE601	U08242	10,00,000	10,00,000
LISTED	1 JYOTI RAJKUMAR NAGAR	3 INE601	U08242	10,00,000	30,00,000
LISTED	1 KAVITA SHISHIR NEVATIA	25 INE601	U08242	10,00,000	2,50,00,000
LISTED	1 SNEHA MALHAN	3 INE601	U08242	10,00,000	30,00,000
LISTED	1 KAMLESH SHANTILAL SONAWALA		U08242	10,00,000	10,00,000
LISTED	1 DEENA WAMAN DUKLE	10 INE601		10,00,000	1,00,00,000
LISTED	1 PRAKASHCHANDRA D TRIVEDI	4 INE601		10,00,000	40,00,000
LISTED	1 BHARAT LAXMICHAND NAGDA		U08242	10,00,000	20,00,000
LISTED	1 NAGDA MANJULA BHARAT		U08242	10,00,000	20,00,000
LISTED	1 NICOLE MARIA ANGELA DSOUZA	1 INE601		10,00,000	10,00,000
LISTED	1 ALOO NOEL TATA	10 INE601		10,00,000	1,00,00,000
LISTED	1 SHASHIDEVI PODDAR	1 INE601		10,00,000	10,00,000
LISTED	1 NOEL NAVAL TATA	10 INE601		10,00,000	1,00,00,000
LISTED	1 SWATI SHARMA		U08242	10,00,000	10.00.000
					.,,
LISTED	1 DWARKADAS HARIBHAI PATEL		U08242	10,00,000	10,00,000
LISTED	1 YESHA JAGAT MEHTA	1 INE601		10,00,000	10,00,000
LISTED	1 MEENAKUMARI SHAH		U08242	10,00,000	10,00,000
LISTED	1 BALACHANDRA M N	2 INE601		10,00,000	/ /
LISTED	1 MAHESHWARA REDDY N	1 INE601		10,00,000	10,00,000
LISTED	1 ANGELINA JOSEPH LIBEIRO		U08242	10,00,000	10,00,000
LISTED	1 PHANIRAJ A	1 INE601		10,00,000	10,00,000
LISTED	1 LAKSHMI VENKATRAMAN	1 INE601		10,00,000	10,00,000
LISTED	1 SONALI DUTT		U08242	10,00,000	10,00,000
LISTED	1 MAHESH SIDDHALING KHUDE		U08242	10,00,000	10,00,000
LISTED	1 KUNJAN NITIN MEHTA	1 INE601	U08242	10,00,000	10,00,000
LISTED	1 JACKLINE DIPESH SHAH	1 INE601	U08242	10,00,000	10,00,000
LISTED	1 GAUTAM INDULAL SHAH	3 INE601	U08242	10,00,000	30,00,000
LISTED	1 PRATIMA ATUL MAZUMDAR	1 INE601	U08242	10,00,000	10,00,000
LISTED	1 REKHA MANHARLAL DOSHIT	1 INE601		10,00,000	10,00,000
LISTED	1 HEMENDRA S SHAH		U08242	10,00,000	20,00,000
LISTED	1 GITA HEMENDRABHAI SHAH		U08242	10,00,000	20,00,000
LISTED	1 RAJESHWARI DIVAKARBHAI SHAH	1 INE601		10,00,000	10,00,000
LISTED	1 KULVINDER SHAH SINGH		U08242	10,00,000	40,00,000
LISTED	1 TEHMI ERUCH SETHNA		U08242	10,00,000	20,00,000
LISTED	1 MANJU DUMRA	16 INE601		10,00,000	1,60,00,000
LISTED	1 ZARIR RUSTOM JOSHI		U08242 U08242	10,00,000	1,00,00,000
					10,00,000
					10,00,000
LISTED LISTED	1 ROSHAN ZARIR JOSHI 1 SHIRIN RUSTOMJEE ANTIA	1 INE601	U08242 U08242 U08242	10,00,000 10,00,000 10,00,000	1

LISTED	1 FIROZE FARDOONJI KATRAK	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SHOBHA KATYAL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SHAILESH PURUSHOTTAM PATEL	2 INE601U08242	10,00,000	20,00,000
LISTED	1 KANADE SUMANGAL VINAYAK	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RAMKRISHNA GATTANI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SHEELA MOHAN	1 INE601U08242	10,00,000	10,00,000
LISTED	1 NEMMARA CHIDAMBARAM	1 INE601U08242	10,00,000	10,00,000
	PARAMESWARAN			
LISTED	1 HARICHHABEN MAHENDRA JOSHI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MIRA LAWRENCE	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ABHISHEK VIDYARTHI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 VARSHA JAGAT MEHTA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MEHERNOSH MINOO CONTRACTOR	3 INE601U08242	10,00,000	30,00,000
LISTED	1 NILOUFER BILIMORIA	2 INE601U08242	10,00,000	20,00,000
LISTED	1 PINKU DINESH KOTHARI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 S SHIVAKUMAR	2 INE601U08242	10,00,000	20,00,000
LISTED	1 LATA JULKA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MURZBAN D MEHTA	3 INE601U08242	10,00,000	30,00,000
LISTED	1 LALIT NARAINDAS BUGTANI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 LILA DHAR SHARMA	2 INE601U08242	10,00,000	20,00,000
LISTED	1 MANISH DINESH MEHTA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 CHANDULAL KALIDAS SHAH	2 INE601U08242	10,00,000	20,00,000
LISTED	1 VIKAS GUPTA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ROHIT PRADIP GHULE	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ANISH NAROTTAMDAS PARIKH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RESHMA ANISH PARIKH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 B A VENKATRAM	1 INE601U08242	10,00,000	10,00,000
LISTED	1 YOGESH KUMAR LUTHRA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 KRATI GUPTA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 KUL BHUSHAN OBEROI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 DARSHANA VIPUL PANCHOLI	1 INE601U08242	10,00,000	10,00,000
LISTED LISTED	1 NEHA SINGH 1 MITESH ARUNKUMAR SHAH	1 INE601U08242 2 INE601U08242	10,00,000	10,00,000
LISTED	1 SNEHAL SANJAY DAMLE	1 INE601U08242	10,00,000	20,00,000
LISTED	1 SUREKHABEN H PATEL	1 INE601U08242 1 INE601U08242	10,00,000	10,00,000
LISTED	1 BIGHNA NATH NAYAK	1 INE601U08242	10,00,000	10,00,000
LISTED	1 LIPIKA P SATRA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 AMI S BAJPAYEE	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PRIYANKA SANDEEP ARORA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RASHMI SINGHAL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 VILASH KISHORKUMAR SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 GAUTAM B A	2 INE601U08242	10,00,000	20,00,000
LISTED	1 ASHOK KUMAR SEHGAL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MANAV ATUL SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SURBHI SIRE VASAVADA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 TANAY ARORA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 NARENDRA LAVJIBHAI VASANI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RANI S	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SARANYA KANDASAMY	1 INE601U08242	10,00,000	10,00,000
LISTED	1 KAVITHA K	1 INE601U08242	10,00,000	10,00,000
LISTED	1 VS PRAKASH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SRINIVAS	2 INE601U08242	10,00,000	20,00,000
LISTED	1 SUGANTHAPRIYA S	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RANI J	3 INE601U08242	10,00,000	30,00,000
LISTED	1 DHIVYAPRIYA ILANGOVAN	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SARANYA GANESAN	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SUGANYA R C	2 INE601U08242	10,00,000	20,00,000
LISTED	1 HARINI SARANKAPANI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RAMASAMY ILANGO	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RAGHAVAN RANGANATHAN	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SHANMUGALAKSHMI	2 INE601U08242	10,00,000	20,00,000
LISTED	1 JYOTHI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 K THANGAM	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ATCHAYAA KULANDAI VADIVELU	1 INE601U08242	10,00,000	10,00,000

LISTED	1 V KAMALASUBRAMANIAN	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RAJASEKAR KALISAMY	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MURUGA BHOOPATHY RAJAN	1 INE601U08242	10,00,000	10,00,000
LISTED	1 R ABINAYA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 BALASUBRAMANIAN SASIKALA	2 INE601U08242	10,00,000	20,00,000
LISTED	1 KARTHIK	1 INE601U08242	10,00,000	10,00,000
LISTED	1 LAKSHMI PRIYA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 HEMAPRIYA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RAMDEV RAMDEV HARI SHOBANA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 NEDUNCHEZHIYAN ELAVARASI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SAI CHAITANYA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 JANARTHANAM	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MANOHARAN AANANDHI	1 INE601U08242	10,00,000	10,00,000
	PRIYADHARSHINI			
LISTED	1 DEVISHREE HARIKRISHNAN	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PRIYADHARSHINI RAMASUBBU	3 INE601U08242	10,00,000	30,00,000
LISTED	1 SARALA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ROOPPESH SARANKAPANI	2 INE601U08242	10,00,000	20,00,000
LISTED	1 PALANISWAMY RAJESH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 LALITHA	2 INE601U08242	10,00,000	20,00,000
LISTED	1 PARUL KOTHARI	2 INE601U08242	10,00,000	20,00,000
LISTED	1 MITA H MEHTA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PALLAVIBEN DILIPKUMAR SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 DILIPKUMAR CHUNILAL SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SANDEEP BHATIA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 NITA SRICHAND NARANG	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PARITOSH RAJNIKANT SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SANDEEP AGRAWAL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SANTOSH KUMAR AGRAWAL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 KAMALA BAHETY	1 INE601U08242	10,00,000	10,00,000
LISTED	1 NITINCHANDRA SHRIDHAR DIGHE	1 INE601U08242	10,00,000	10,00,000
LISTED	1 DILIP SWADI	5 INE601U08242	10,00,000	50,00,000
LISTED	1 SHAKUNTALA R. BAJAJ,	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MEHERNOSH FRAMROSE ASLI	2 INE601U08242	10,00,000	20,00,000
LISTED	1 RUPA HITESH TIMBADIA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 HIROO VISHNU MIRPURI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MALA MEHRA	5 INE601U08242	10,00,000	50,00,000
LISTED	1 NARESH TEJOOMAL NARANG	1 INE601U08242	10,00,000	10,00,000
LISTED	1 GANESH NEELKANTH KULKARNI	2 INE601U08242	10,00,000	20,00,000
LISTED	1 RAJENDRA JAYSUKHLAL DOSHI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 HARSHIL MAHESH BHANDARI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 DILIP PARIKH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MEHERWAN RAYOMAND DADACHANJI	1 INE601U08242	10,00,000	10,00,000
			,,	,,
LISTED	1 AMI APOORVA DOSHI	2 INE601U08242	10,00,000	20,00,000
LISTED	1 SMITA SHARAD MODY	1 INE601U08242	10,00,000	10,00,000
LISTED	1 KASHMIRA DARA UMRIGAR	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SHIVLAL NARSIDAS SEJPAL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 HARSHAD MURLIDHAR SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 GAURANG P JOSHI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SHILPA SAMEER MEHTA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 KIRTI TRIKAMDAS ASHAR	3 INE601U08242	10,00,000	30,00,000
LISTED	1 UTTARA ANIL SAKHARDANDE	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PRAFUL SARABHAI MEHTA	2 INE601U08242	10,00,000	20,00,000
LISTED	1 DESHPANDE DAYANAND SHANKAR	2 INE601U08242	10,00,000	20,00,000
LISTED	1 BHANSALI RAJESH RAMNIKLAL	5 INE601U08242	10,00,000	50,00,000
LISTED	1 SAMANT PRIYANKA PRASAD	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MEHTA SHIMONI AMIT	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ARONDEKAR TUSHAR VINAY	1 INE601U08242	10,00,000	10,00,000
LISTED	1 BHATIA NEHA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RASHNE DARA DARUWALLA	1 INE601U08242	10,00,000	10,00.000
LISTED LISTED	1 RASHNE DARA DARUWALLA 1 KUMAR T NAIK	1 INE601U08242 1 INE601U08242	10,00,000	10,00,000

LISTED	1 SHAILESH CHAMPAKLAL KABUTARWALA	1 INE601U08242	10,00,000	10,00,000
			.,,	,,
LISTED	1 VIJAY MOHAN GUPTA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 TARAMATI RAMESH SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 DILSHAD HOMIYAR SUBEDAR	3 INE601U08242	10,00,000	30,00,000
LISTED	1 PAULOMI DILIP AKRUWALA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SURENDRA LAXMAN KULKARNI	2 INE601U08242	10,00,000	20,00,000
LISTED	1 BHARATKUMAR K. TANNA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 DEEPAK AMRATLAL PAREKH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 DHIRAJBEN GOVINDBHAI TARPARA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 BHAVIN RASIKAL SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 E VIJAYA LAKSHMI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 KANCHANBEN A HARIA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PATEL RAMESHBHAI POPATBHAI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RUBY K DAVADA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 KAMALA RAMAKRISHNAN	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MAKARAND MADHUSUDAN GADGIL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 HARSH ROHIT MEHTA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 HARDIK ROHIT MEHTA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 VIREN CHANDRASINH MIRANI	2 INE601U08242	10,00,000	20,00,000
LISTED	1 USHA BATRA	3 INE601U08242	10,00,000	30,00,000
LISTED	1 ERUCH NOSHIR KAPADIA	2 INE601U08242	10,00,000	20,00,000
LISTED	1 TATA SIMONE NAVAL	10 INE601U08242	10,00,000	1,00,00,000
LISTED	1 SHOBHANA ACHYUT GODBOLE	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MEENA PRADIP SHAH	2 INE601U08242	10,00,000	20,00,000
LISTED	1 SHABBIR KANCHWALA	2 INE601U08242	10,00,000	20,00,000
LISTED	1 VIJAY LAXMI BHANDARI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SAGAR DUTTA	5 INE601U08242	10,00,000	50,00,000
LISTED	1 MEDHA MAHESH JAOKAR	2 INE601U08242	10,00,000	20,00,000
LISTED	1 PREMAL GOPALDAS VED	1 INE601U08242	10,00,000	10,00,000
LISTED	1 DEVENDRA UDESHI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 HARENDRA J THANAWALA	2 INE601U08242	10,00,000	20,00,000
LISTED	1 SMITA H THANAWALA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 HIMADRI MUKHERJEE	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MINATI MUKHERJEE	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MUNIRA J BANAJI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ASHWIN YARDI	1 INE601U08242 1 INE601U08242	10,00,000	10,00,000
LISTED LISTED	1 KANWALJIT SINGH 1 AJITA NIPUN SHAH	2 INE601U08242	10,00,000	10,00,000
LISTED	1 LALITA SUNIL MANGALORE	1 INE601U08242	10,00,000	20,00,000
LISTED	1 NIRMAL TANEJA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SAMEER H SAINANI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ANIL RAMCHANDRA NERLEKAR	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RAJESH VASUDEVAN	3 INE601U08242	10,00,000	30,00,000
LISTED	1 AJAY RAMASARAN SAXENA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 HARSH JAYESH DOSHI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RITA BALASUBRAMANIAN	2 INE601U08242	10,00,000	20,00,000
LISTED	1 CYRUS MEHER DUMASIA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RAGHUVEER TATTA	2 INE601U08242	10,00,000	20,00,000
LISTED	1 KRISHNA KUMAR SRINIVASAN	5 INE601U08242	10,00,000	50,00,000
LISTED	1 SAVITA PANDARINATH GUNJAL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PANDHRINATH BHAGOJI GUNJAL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SALONI SAURABH SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ISHITA SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 NISHI VASUDEVA	3 INE601U08242	10,00,000	30,00,000
LISTED	1 NAZIR JAMIL BALSARA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SWATI ROHIT MARU	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SAHANA RAO	1 INE601U08242	10,00,000	10,00,000
LISTED	1 GIRIDHAR SANJEEVI	6 INE601U08242	10,00,000	60,00,000
LISTED	1 MEHERANGIZ PERCYOUS KASAD	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ANIL KRISHNAJI KALE	1 INE601U08242	10,00,000	10,00,000
				10,00,000
LISTED	1 KALPANA PANKAJ SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED LISTED	1 KALPANA PANKAJ SHAH 1 SANDEEP SATISHKUMAR SHAH	2 INE601U08242	10,00,000	20,00,000

	Ī			
LISTED	1 SAMEER DULERAI MEHTA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 APARNA P KAMBLI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SMITA PRAFUL MEHTA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PANNA TRIKAMDAS ASHAR	3 INE601U08242	10,00,000	30,00,000
LISTED	1 MIHIR R GANDHI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RASHMI KARUNAKARAN	3 INE601U08242	10,00,000	30,00,000
LISTED	1 KALPIT BHATT	1 INE601U08242	10,00,000	10,00,000
LISTED	1 DARSHAN HIRALAL DESAI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 VIDHYAGAURI HIRALAL DESAI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 GIRVAN DINESHBHAI MEHTA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 DHRUVI SHARAD PATEL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RAHUL SINGH	2 INE601U08242	10,00,000	20,00,000
LISTED	1 TARA RAO	2 INE601U08242	10,00,000	20,00,000
LISTED	1 ANIL KASHINATH ARAS	1 INE601U08242	10,00,000	10,00,000
LISTED	1 BIBIYAN D'SILVA	3 INE601U08242	10,00,000	30,00,000
LISTED	1 ASHISH SETHI	2 INE601U08242	10,00,000	20,00,000
LISTED	1 AMITA KHANDELWAL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ARUN CHANDRASEN PORECHA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PRAVINA KISHORE PORECHA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SHASHANK ANANT VAIDYA	2 INE601U08242	10,00,000	20,00,000
LISTED	1 MADHAV WINDLASS	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SANGEETA NILESH PATEL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SHEFALI JIVESH SACHDEV	1 INE601U08242	10,00,000	10,00,000
LISTED	1 VASANT DAMODER GOKHALE	3 INE601U08242	10,00,000	30,00,000
LISTED	1 CHANDRAKANT NARSIDAS GHELANI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PRATIBHA C GHELANI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 GOOL PERVEZ TALATI	5 INE601U08242	10,00,000	50,00,000
LISTED	1 AVIMAY SOHRAB HAKIM	3 INE601U08242	10,00,000	30,00,000
LISTED	1 NAMRATA ASHOK KIRPALANI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 APARNA A CHOKSI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 KIRTIKUMAR C SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 VINAY HIRANATH DESHMANE	3 INE601U08242	10,00,000	30,00,000
LISTED	1 GOVIND LAL DAGA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SANDHYA SHARAD	1 INE601U08242	10,00,000	
			10,00,000	10,00,000
LISTED LISTED	1 MANDIRA SUSHILKUMAR DUTTA 1 RENU AGARWAL	2 INE601U08242 1 INE601U08242	10,00,000	20,00,000
	1 SHERNAZ KHURSHED DICK	5 INE601U08242		10,00,000
LISTED			10,00,000	50,00,000
LISTED LISTED	1 HENNA RAMESH CHACHLANI	1 INE601U08242 2 INE601U08242	10,00,000	10,00,000
	1 POONAM KAPADIA		10,00,000	20,00,000
LISTED	1 NRUPEN MADHVANI	1 INE601U08242	-,,	10,00,000
LISTED	1 NILESH MANILAL SHAH	4 INE601U08242	10,00,000	40,00,000
LISTED	1 DILIP JAYANTILAL SANGHVI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 DINA DILIPBHAI SANGHVI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 KAMINI HIREN AMIN	1 INE601U08242	10,00,000	10,00,000
LISTED	1 NICKY NIRAVBHAI BHOW	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PREMILABEN VIRENDRAKUMAR SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 HRUSHI ATULBHAI MEHTA	2 INE601U08242	10,00,000	20,00,000
LISTED	1 SHAILESH NATVARLAL GANDHI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 NITIN SHANTILAL MEHTA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RUCHIR HIRENBHAI BHATT	2 INE601U08242	10,00,000	20,00,000
LISTED	1 THAKAR MUKESH KANTILAL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 NAWAZ BAHADUR MODY	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SHASHIKALA TANDON	1 INE601U08242 1 INE601U08242	10,00,000	10,00,000
LISTED	1 REKHA MANHAR JARIWALA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 FARID LALJI KAZANI	9 INE601U08242	10,00,000	90,00,000
LISTED	1 RYAN MARIO VIEGAS	1 INE601U08242	10,00,000	10,00,000
LISTED	1 LISA VIEGAS	1 INE601U08242	10,00,000	10,00,000
LISTED				
	1 MINOCHER HORMUSJI SAGAR	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PRAVEEN PURUSHOTTAM KADLE	10 INE601U08242	10,00,000	1,00,00,000
LISTED	1 GURAZ H WANKADIA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 KIRTI JAMNADAS	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SUBIR PALIT	1 INE601U08242	10,00,000	10,00,000
LISTED	1 UMARANI SHIRISH VICHARE	1 INE601U08242	10,00,000	10,00,000

v vomen	10.170 (7.	т.	D.E. CO.IXXOOO. 12	10.00.000	40.00.000
LISTED	1 SAUMIL HARENDRA THANAWALA	1	INE601U08242	10,00,000	10,00,000
LISTED	1 S RAVISHANKAR	1	INE601U08242	10,00,000	10,00,000
LISTED	1 INDIRA NAGARAJAN	1	INE601U08242	10,00,000	10,00,000
LISTED	1 BHALCHANDRA GOKHALE		INE601U08242	10,00,000	10,00,000
LISTED	1 HARVINDER KAUR ANAND	4	INE601U08242	10,00,000	40,00,000
LISTED	1 ANSELM ZUJYA KOLI	1	INE601U08242	10,00,000	10,00,000
LISTED	1 SURYAKANTA RAJENDRA SHAH	1	INE601U08242	10,00,000	10,00,000
LISTED	1 ROSHAN MEHER DUMASIA	1	INE601U08242	10,00,000	10,00,000
LISTED	1 MEHUL HASMUKHRAY MEHTA	3	INE601U08242	10,00,000	30,00,000
LISTED	1 SHAHRUKH M DUMASIA	1	INE601U08242	10,00,000	10,00,000
LISTED	1 AJAY HASMUKHRAI MEHTA	3	INE601U08242	10,00,000	30,00,000
LISTED	1 YASHPAL PREMNATH KHANNA	1	INE601U08242	10,00,000	10,00,000
LISTED	1 SUDHA RAVINDRAN	2	INE601U08242	10,00,000	20,00,000
LISTED	1 SHAALINI MITTAL	_	INE601U08242	10,00,000	10,00,000
LISTED	1 DIANA KAVARRANA	1	INE601U08242	10,00,000	10,00,000
LISTED	1 KAIZAD M MEHTA	1	INE601U08242	10,00,000	10,00,000
LISTED	1 MONAZ KAIZAD MEHTA	1		10,00,000	10,00,000
LISTED	1 KASTURI MUKHERJEE	1	INE601U08242	10,00,000	10,00,000
LISTED	1 SHARAD NAGENDRA PATIL	1	INE601U08242	10,00,000	10,00,000
LISTED	1 ARUNA KIRIT MEHTA		INE601U08242	10,00,000	, , , , , , , , , , , , , , , , , , ,
LISTED					20,00,000
	1 KIRIT SHASHIKANT MEHTA		INE601U08242	10,00,000	20,00,000
LISTED	1 HARISHBHAI M PATEL	_	INE601U08242	10,00,000	1,50,00,000
LISTED	1 PARIMAL M GANDHI		INE601U08242	10,00,000	20,00,000
LISTED	1 POORNIMA MALLYA		INE601U08242	10,00,000	30,00,000
LISTED	1 ABHINAV GUPTA		INE601U08242	10,00,000	10,00,000
LISTED	1 ELIZABETH SHRIVASTAVA		INE601U08242	10,00,000	10,00,000
LISTED	1 LUKE DE NORONHA	1	INE601U08242	10,00,000	10,00,000
LISTED	1 PUNDALIK DINKAR KUDVA	1	INE601U08242	10,00,000	10,00,000
LISTED	1 ANIL SHRIPAD RAIRIKAR	1	INE601U08242	10,00,000	10,00,000
LISTED	1 REKHA ANIL RAIRIKAR	1	INE601U08242	10,00,000	10,00,000
LISTED	1 KAVITA VAKHARIA	1	INE601U08242	10,00,000	10,00,000
LISTED	1 DIVYA RAHUL SHARMA	1	INE601U08242	10,00,000	10,00,000
LISTED	1 LYNETTE PANJWANI	2	INE601U08242	10,00,000	20,00,000
LISTED	1 SHIRISH SHIVAJIRAO VICHARE	1	INE601U08242	10,00,000	10,00,000
LISTED	1 ARMAITY ADI BHABHA	1	INE601U08242	10,00,000	10,00,000
LISTED	1 PRAVIN NATVARLAL BHAGWATI	16	INE601U08242	10,00,000	1,60,00,000
LISTED	1 AANAL P BHAGWATI	13	INE601U08242	10,00,000	1,30,00,000
LISTED	1 KISHORE MOTICHAND ZAVERI	1	INE601U08242	10,00,000	10,00,000
LISTED	1 SHILPABEN KALPESHKUMAR DOSHI		INE601U08242	10,00,000	10,00,000
LISTED	1 NAOZER RUSI WANKADIYA	1	INE601U08242	10,00,000	10,00,000
LISTED	1 DEVANSH PIYUSH SHAH	4	INE601U08242	10,00,000	40,00,000
LISTED	1 NITIN HIRACHAND SHETH		INE601U08242	10,00,000	10,00,000
LISTED	1 MAUSAM YOGIN MEHTA	1	INE601U08242	10,00,000	10,00,000
LISTED	1 DIPIKA KARNANI	1	INE601U08242	10,00,000	10,00,000
LISTED	1 SUDHA BHAVE		INE601U08242	10,00,000	1,00,00,000
LISTED	1 M SUGANTHA PRIYA	_	INE601U08242	10,00,000	
			INE601U08242	, ,	10,00,000
LISTED	1 ARDESHIR MANECK PATEL			10,00,000	20,00,000
LISTED	1 FEROZA MANECK PATEL	_	INE601U08242	10,00,000	20,00,000
LISTED	1 VRINDA SURESH KINI		INE601U08242	10,00,000	10,00,000
LISTED	1 SMITA GADGIL		INE601U08242	10,00,000	10,00,000
LISTED	1 ADIL KEKI WADIA	_	INE601U08242	10,00,000	20,00,000
LISTED	1 RITA VERMA		INE601U08242	10,00,000	20,00,000
LISTED	1 GANGADHARAN BALACHANDRAN		INE601U08242	10,00,000	10,00,000
LISTED	1 KUNTAL SHAH		INE601U08242	10,00,000	20,00,000
LISTED	1 BIRENDRA GIRDHARILAL SAMPAT		INE601U08242	10,00,000	10,00,000
LISTED	1 RAVAL JWALA HARSHADBHAI	_	INE601U08242	10,00,000	10,00,000
LISTED	1 SAROJ NARAYAN SHINTRE		INE601U08242	10,00,000	10,00,000
LISTED	1 AMI V PARIKH	1	INE601U08242	10,00,000	10,00,000
				10 00 000	80,00,000
LISTED	1 SHILPA SURESH SHROFF	8	INE601U08242	10,00,000	00,00,000
	1 SHILPA SURESH SHROFF 1 SAPNA JAIN		INE601U08242 INE601U08242	10,00,000	20,00,000
LISTED		2			/ /
LISTED LISTED	1 SAPNA JAIN	2	INE601U08242	10,00,000	20,00,000
LISTED LISTED LISTED	1 SAPNA JAIN 1 SURESH KUMAR CHOUDHURY	2 1 1	INE601U08242 INE601U08242	10,00,000 10,00,000	20,00,000 10,00,000

LICTED	1 ANII KUMAD KOTHADI	1	DIEC011100242	10.00.000	10.00.000
LISTED	1 ANIL KUMAR KOTHARI		INE601U08242	10,00,000	10,00,000
LISTED	1 SANJAY MALLYA	_	INE601U08242	10,00,000	10,00,000
LISTED	1 RUPA MUKESH MODY	_	INE601U08242	10,00,000	10,00,000
LISTED	1 MUKESH MATHURADAS MODY	2	INE601U08242	10,00,000	20,00,000
LISTED	1 BERNADETTE NORONHA	1	INE601U08242	10,00,000	10,00,000
LISTED	1 BHARATI DILIP SHETH	1	INE601U08242	10,00,000	10,00,000
LISTED	1 VIPIN KHANNA	1	INE601U08242	10,00,000	10,00,000
LISTED	1 SONAL AJIT KAPADIA	_	INE601U08242	10,00,000	10,00,000
LISTED	1 CHANDRAKANT KANTILAL THAKKAR	_	INE601U08242	10,00,000	1,00,00,000
LIGILD		10	1112001000212	10,00,000	1,00,00,000
LISTED	1 KERSI RUSI MAKHANIA	1	INE601U08242	10,00,000	40,00,000
LISTED	1 MANISH DAWAR		INE601U08242	10,00,000	50,00,000
LISTED	1 BURJIS FEROZE CAMA	_	INE601U08242	10,00,000	20,00,000
LISTED	1 RAMILABEN HARISHBHAI PATEL	_	INE601U08242	10,00,000	1,00,00,000
LISTED	1 SINALI HEMEN CHOKSEY		INE601U08242	10,00,000	10,00,000
LISTED	1 SIMA MEHTA	1	INE601U08242	10,00,000	10,00,000
LISTED	1 PRATIK KUMAR MEHTA	1	INE601U08242	10,00,000	10,00,000
LISTED	1 SAKSHI BUBNA	5	INE601U08242	10,00,000	50,00,000
LISTED	1 DANDNAYAK DARSHANA	1	INE601U08242	10,00,000	10,00,000
LISTED	1 SUNIL RAMANLAL SHAH	3	INE601U08242	10,00,000	30,00,000
LISTED	1 ROOP KISHINCHAND KHEMANI	_	INE601U08242	10,00,000	10,00,000
LISTED	1 BHUMIKA J SHAH		INE601U08242	10,00,000	10,00,000
LISTED	1 JAYA AGARWAL	1	INE601U08242	10,00,000	10,00,000
	1 ASHISH AGARWAL	1			
LISTED			INE601U08242	10,00,000	10,00,000
LISTED	1 ALLURI APARNA		INE601U08242	10,00,000	10,00,000
LISTED	1 RIYA AJIT VAIDYA	_	INE601U08242	10,00,000	10,00,000
LISTED	1 ANURADHA SETHURAMAN		INE601U08242	10,00,000	20,00,000
LISTED	1 CHARAVAN RAJAGOPALAN	5	INE601U08242	10,00,000	50,00,000
LISTED	1 VATCHALA G	1	INE601U08242	10,00,000	10,00,000
LISTED	1 NITIN KANTILAL MODI	3	INE601U08242	10,00,000	30,00,000
LISTED	1 SHEETAL JIGAR CHHEDA	1	INE601U08242	10,00,000	10,00,000
LISTED	1 NAYANA RAJENDRA SHAH	1	INE601U08242	10,00,000	10,00,000
LISTED	1 NIMISH SUBHASH SHAH	3	INE601U08242	10,00,000	30,00,000
LISTED	1 MAMTA SANGHVI		INE601U08242	10,00,000	10,00,000
LISTED	1 DIPAK SANGHVI	-1	INE601U08242	10,00,000	20,00,000
LISTED	1 JANVI SANDEEP KOTHARI	_	INE601U08242	10,00,000	10,00,000
LISTED	1 AVANI SHALIN SHAH		INE601U08242	10,00,000	, ,
LISTED			INE601U08242	10,00,000	10,00,000
	1 VARGHESE MATHEW	3		, ,	30,00,000
LISTED	1 ARUSHI GUPTA	1	INE601U08242	10,00,000	10,00,000
LISTED	1 PRAGNA MATHURADAS MODY		INE601U08242	10,00,000	10,00,000
LISTED	1 REKHA MATHURDAS MODY	1	INE601U08242	10,00,000	10,00,000
LISTED	1 HEMENDRA SUNDERLAL SHAH	1	INE601U08242	10,00,000	10,00,000
LISTED	1 REKHA KISHOR SHAH	2	INE601U08242	10,00,000	20,00,000
LISTED	1 PATHIK KISHOR SHAH	1	INE601U08242	10,00,000	10,00,000
LISTED	1 MARU ROSEMARIE ILSE	2	INE601U08242	10,00,000	20,00,000
LISTED	1 KAMLESH RAMNIKLAL MEHTA	2	INE601U08242	10,00,000	20,00,000
LISTED	1 HARESH JETHANAND AHUJA	1	INE601U08242	10,00,000	10,00,000
LISTED	1 TARUN OHRI		INE601U08242	10,00,000	20,00,000
LISTED	1 PRADIP RASIKLAL PARIKH		INE601U08242	10,00,000	20,00,000
LISTED	1 SANJAY A NOTANI		INE601U08242	10,00,000	20,00,000
LISTED	1 ASHOK NATHMAL BAIRAGRA	_	INE601U08242	10,00,000	10,00,000
LISTED	1 RAJKUMAR NARAINADAS SAMAT	1		10,00,000	· · ·
					10,00,000
LISTED	1 RADHIKA TIPNIS		INE601U08242	10,00,000	10,00,000
LISTED	1 MEENA PARIMAL GANDHI	_	INE601U08242	10,00,000	30,00,000
LISTED	1 AJAYA DHIRUBHAI NAIK	_	INE601U08242	10,00,000	20,00,000
LISTED	1 LATA ARUN MALDE		INE601U08242	10,00,000	50,00,000
LISTED	1 AABHAAS MEHTA		INE601U08242	10,00,000	20,00,000
LISTED	1 SHLOK DESAI	1	INE601U08242	10,00,000	10,00,000
LISTED	1 ROHIT TALWAR	1	INE601U08242	10,00,000	10,00,000
LISTED	1 GEETA TAPULAL BHAMMAR	2	INE601U08242	10,00,000	20,00,000
LISTED	1 KRISHNAN A	2	INE601U08242	10,00,000	20,00,000
LISTED	1 SURESH CHANDRA DANI	1	INE601U08242	10,00,000	10,00,000
LISTED	1 SUDHABEN RAMESHCHANDRA DESAI		INE601U08242	10,00,000	10,00,000
LISTED	1 NAYAN SATISH SHAH		INE601U08242	10,00,000	60,00,000
	-1		2001000212	10,00,000	00,00,000

LISTED	1 JAY ATUL KOTADIA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SHIKHA CHORDIA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 HARJIVAN MULJIBHAI DARJI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 CHAMPABEN MANILAL CHANDARIA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MAHEK KANTILAL CHHEDA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 JAHANVI GAUTAM GUPTA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ZUBIN PESI MOHTA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SHAH SURESH SHANTILAL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SHAH ULKA SURESHBHAI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SALONI MUNSIF	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MANISHABEN DEEPAK PARIKH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PALAK PRIYANKKUMAR SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RAJESH CHACHRA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 VARSHA AHUJA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 POONAM MITTAL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 CHETANA UMESH SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 DINESHKUMAR KASHIPRASAD AGARWAL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 BEENADEVI CHUNILAL AGRAWAL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ALPA MEHUL DELIWALA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MEHUL NATVARLAL DELIWA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 BIKEN CHANDRAKANT GALA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SOM NATH KAPOOR	1 INE601U08242	10,00,000	10,00,000
LISTED	1 AMIT RAJAN DOSHI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PARMAR BUDHABHAI DESAIBHAI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RASHMIKA K. BERAWALA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ANILBHAI JAYANTILAL MANDERA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 HEENA MANDERA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SANTOSH VASANT PUROHIT	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SHAH KRISHNA MITULBHAI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MUKUNDBHAI BHAGWANDAS SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 NEETABEN D PATEL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MUNI PADMABEN HIMATLAL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PARUL DIPAKBHAI SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 LEENA MANILAL SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 VAIBHAV PARIKH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 UMANG MUKUNDRAI DESAI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MEENA CHANDRAKANT SAWANT	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MUKESHBHAI GORDHANBHAI PANCHAL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RAKESH CHAMPAKLAL KANADA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 NAYANABEN JITENDRA DESAI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 KASHVI MITULBHAI SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 TAHER SHABBIR RANGWALA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SHREYAS MOHATA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SUSHEEL KUMAR MOHATA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SHASHI MOHATA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PARUL RAVICHAND SANGHVI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SWAPNA ARUN MANKODI	5 INE601U08242	10,00,000	50,00,000
LISTED	1 DINESH SHANKAR MUKATI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SARITA NEERAJ SHARMA	2 INE601U08242	10,00,000	20,00,000
LISTED	1 BANGALORE K SATISH	4 INE601U08242	10,00,000	40,00,000
LISTED	1 GAURAV ABHAY GHEEWALA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PRITI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 UMA MUKATI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RAMA SATISH	2 INE601U08242	10,00,000	20,00,000
LISTED	1 MADHVI KEDIA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 NIRMAL MITHULAL GANDHI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 JINENDRA NARENDRA SURANA	4 INE601U08242	10,00,000	40,00,000
LISTED	1 PRATIMABEN JAYENDRABHAI PATEL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 GUGGILAM VENKATA NAGA VIJAYALAXMI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 VAKADA RAMA RATNAM	1 INE601U08242	10,00,000	10,00,000

			10.00.000	
LISTED	1 VENTRAPRAGADA RAGHAVA RAO	1 INE601U08242	10,00,000	10,00,000
LISTED	1 V SEETHA MAHALAKSHMI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 GUGGILAM BHAGAVAN ANURAGH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 BELABEN VIPULKUMAR SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 GOPALBHAI BABARBHAI PATEL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ASHOK PREMJI GANATRA	2 INE601U08242	10,00,000	20,00,000
LISTED	1 ANGANA MINESH SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 KALPESH SATEYENDRA JHAVERI	5 INE601U08242	10,00,000	50,00,000
LISTED	1 UTSAV HITENDRA PATEL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 VINAYAKUMAR VITHALRAO JOSHI	2 INE601U08242	10,00,000	20,00,000
LISTED	1 CHHAYABEN RANJITKUMAR DESAI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 HASVANTRAI CHANDULAL DESAI	1 INE601U08242	10,00,000	
		3 INE601U08242	· · · · · · · · · · · · · · · · · · ·	10,00,000
LISTED	1 HIREN NAVINCHANDRA SHAH		10,00,000	30,00,000
LISTED	1 SMITA RAJESH SHASTRI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 BHAGIRATHSINH T VAGHELA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MAYANKBHAI MAHENDRAKUMAR MEHTA	2 INE601U08242	10,00,000	20,00,000
			40.00.000	
LISTED	1 JAGAT RASIKLAL SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 HET HARSHVADAN SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 KALPESH BABUBHAI DALAL	9 INE601U08242	10,00,000	90,00,000
LISTED	1 SAURIN THAKORE	3 INE601U08242	10,00,000	30,00,000
LISTED	1 JIGNA JAGAT MODI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 BHASKAR KHATRI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SHOBHANA PARKASH LAKHANI	2 INE601U08242	10,00,000	20,00,000
LISTED	1 ROHIT J SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 VARSHA HEMENDRA MEHTA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 BHARAT SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PRAVIN RATILAL SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 AARTI BHARAT SHAH	2 INE601U08242	10,00,000	20,00,000
LISTED	1 HABIBA JAMALUDDIN MASALAWALLA	1 INE601U08242	10,00,000	10,00,000
LISTED	THADIDA SAMALODDIN MAGALAWALLA	1 11 12001 0 002 42	10,00,000	10,00,000
LISTED	1 RITU UPPAL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SHIVESH SINHA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RAMA SRIRANGARAJAN	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RAVI KRISHNAMURTHY	1 INE601U08242	10,00,000	10,00,000
				/ /
LISTED	1 JOHN MUKHOPADHAYA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 REENA SUDHIR NEVREKAR	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SARITA UDAYA SARNOBAT	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ARTI ARVINDBHAI SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 UMESH RAMAKRISHNA RAO	1 INE601U08242	10,00,000	10,00,000
LISTED	1 CLIFTON SALVADOR MENEZES	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RAVINDRA GAJANAN SALVI	2 INE601U08242	10,00,000	20,00,000
LISTED	1 RAJASI BOSE	2 INE601U08242	10,00,000	20,00,000
LISTED	1 SATISH K FOTEDAR	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ANURADHA RAO	1 INE601U08242	10,00,000	10,00,000
LISTED	1 LALIT KUMAR BARANWAL	4 INE601U08242	10,00,000	40,00,000
LISTED	1 AMIT ANAND ATHALYE	1 INE601U08242	10,00,000	10,00,000
LISTED	1 VISHWAS VIJAYVERGIYA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 VIRAF RUSSI MISTRY	1 INE601U08242	10,00,000	10,00,000
LISTED	1 DELNA KHURSHED PRINTER	1 INE601U08242	10,00,000	10,00,000
LISTED	1 VIJAY BAKSHI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 YAMINI BAKSHI	1 INE601U08242	10,00,000	
	1 Ravindra Kumar Rastogi		10,00,000	10,00,000
LISTED	·	1 INE601U08242		10,00,000
LISTED	1 Deepak Dadlani	1 INE601U08242	10,00,000	10,00,000
LISTED	1 Meenakshi Bhalla	1 INE601U08242	10,00,000	10,00,000
LISTED	1 Harshit H Thakker	2 INE601U08242	10,00,000	20,00,000
LISTED	1 Sudhir Talati	1 INE601U08242	10,00,000	10,00,000
LISTED	1 Geetanjali Mahesh Padoshi	2 INE601U08242	10,00,000	20,00,000
LISTED	1 Pragnesh Nareshchandra Mehta	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RAVI VIJ	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MANAV BHARGAVA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 GANESAN UMAPATHY	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SUDHA UMAPATHY	1 INE601U08242	10,00,000	10,00,000
			,,	10,00,000

LISTED	1 VIVEK MANGALICK	12 INE601U08242	10,00,000	1,20,00,000
LISTED	1 REKHA GARG	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SHIVANI RAO GARAPATY	1 INE601U08242	10,00,000	10,00,000
LISTED	1 G Mahesh Babu	2 INE601U08242	10,00,000	20,00,000
LISTED	1 BHUPENDRA M VORA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 HOOTOKSHI BURJOR THANAWALLA	2 INE601U08242	10,00,000	20,00,000
LISTED	1 BALAKICHENAN ANANDAMOURTY	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RAJEEV SARACHANDRAN NAIR	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RADHA VENKITACHALAM	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ANIL SINGH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 DILIP KUMAR KHAIRAJANI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 VANDANA RAMAMURTHY	2 INE601U08242	10,00,000	20,00,000
LISTED	1 SHARAT CHANDRA BHARGAVA	2 INE601U08242	10,00,000	20,00,000
LISTED	1 ASHA SINGH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 NANDINI VILAS BONDSE	2 INE601U08242	10,00,000	20,00,000
LISTED	1 CHANDRA BHARGAVA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SALIL SUDHIR MHETRE	2 INE601U08242	10,00,000	20,00,000
LISTED	1 SANGEETA K SHAH	5 INE601U08242	10,00,000	50,00,000
LISTED	1 LALIT KUMAR TIWARI	3 INE601U08242	10,00,000	30,00,000
LISTED	1 SUMAN RAMESH MUNDRA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MOHAN KRISHEN GADOO	1 INE601U08242	10,00,000	10,00,000
LISTED	1 GEETA SINGH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 KANAKALATA SWAIN	1 INE601U08242	10,00,000	10,00,000
LISTED	1 S ARUNA MOORTHY	1 INE601U08242	10,00,000	10,00,000
LISTED	1 KUSUM BAJPAI	2 INE601U08242	10,00,000	20,00,000
LISTED	1 PRREETI JAIIN NAINUTIA	2 INE601U08242	10,00,000	20,00,000
LISTED	1 YASH MOHAN PRASAD	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MEERA RAO	1 INE601U08242	10,00,000	10,00,000
LISTED	1 DONGARI PAVANI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SIKHA DUTTA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 Narendra Kantilal Shah	1 INE601U08242	10,00,000	10,00,000
LISTED	1 Shail Urmish Chudgar	15 INE601U08242	10,00,000	1,50,00,000
LISTED	1 ANUPAM MADAN PAREEK	2 INE601U08242	10,00,000	20,00,000
LISTED	1 SHARDA MADAN PAREEK	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MADANMOHAN HARINARAYAN PAREEK	1 INE601U08242	10,00,000	10,00,000
LISTED	1 AJAY NATVARLAL SHAH	5 INE601U08242	10,00,000	50,00,000
LISTED	1 VIJAY NATVARLAL SHAH	5 INE601U08242	10,00,000	50,00,000
LISTED	1 ANURAG MEHTA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 KRISHNAGIRI BALAJI RAO BHAVANI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RIYA AHUJA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MUKESH RUNGTA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 V THIAGARAJAN	1 INE601U08242	10,00,000	10,00,000
LISTED	1 JAMSHED DARA DAVUR	3 INE601U08242	10,00,000	30,00,000
LISTED	1 ALAY N SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 NIRMALA P TRIVEDI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 L KRISHNAN	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SANGEETA BHALLA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 VASANTHI GOPAL RAO	1 INE601U08242	10,00,000	10,00,000
LISTED	1 LAKSHMI SRINIVASAN	1 INE601U08242	10,00,000	10,00,000
LISTED	1 REKHA SINGH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ZEENOBIA K PRINTER	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PARVATHEESAM KANCHINADHAM	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RUCHIKA BANGA	2 INE601U08242	10,00,000	20,00,000
LISTED	1 RUKSHANA JAMSHED DAVUR	7 INE601U08242	10,00,000	70,00,000
LISTED	1 TAPAN DATTA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 GITALI DATTA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MANJULA FOTEDAR	1 INE601U08242	10,00,000	10,00,000
LISTED	1 JAMSHEED BURJOR BANAJI	2 INE601U08242	10,00,000	20,00,000
LISTED	1 BHALCHANDRA SADASHIV GOGATE	1 INE601U08242	10,00,000	10,00,000
LISTED	1 DILIP BHAGWANDAS MANGLANI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SHETH NEEPURVA MANOJ	1 INE601U08242	10,00,000	10,00,000
LISTED	1 JITENDER BHAGWANDAS MANGLANI	1 INE601U08242	10,00,000	10,00,000
		I I		

LISTED	1 PRAKASH RAGHAVENDRA RAO	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PRIYA YOGESH SHAH	2 INE601U08242	10,00,000	20,00,000
LISTED	1 SUHAS GAJANAN JAYAWANT	1 INE601U08242	10,00,000	10,00,000
LISTED	1 INDU PANDE	5 INE601U08242	10,00,000	50,00,000
LISTED	1 ANIL URS	2 INE601U08242	10,00,000	20,00,000
LISTED	1 SUDHA RATHOD	1 INE601U08242	10,00,000	10,00,000
LISTED	1 BIMAN DASGUPTA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SANTHANAM DORAISWAMY	2 INE601U08242	10,00,000	20,00,000
LISTED	1 SHYAM SINGH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SURYAKANT MATHURDAS MADLANI	1 INE601U08242	10,00,000	10,00,000
				, ,
LISTED	1 SUMAN SURYAKANT MADLANI	2 INE601U08242	10,00,000	20,00,000
LISTED	1 MARY SHERIEN NETTO	1 INE601U08242	10,00,000	10,00,000
LISTED	1 KAPILA AGRAWAL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ABHILASHA JAIN	3 INE601U08242	10,00,000	30,00,000
LISTED	1 KANUPRIYA SABHARWAL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 HIMANI SABHARWAL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SHRIKALA MOHANDAS ACHARYA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 CHIMANLAL RAMJIBHAI DEDHIA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SHERAZ J MALEGAMWALA	2 INE601U08242	10,00,000	20,00,000
LISTED	1 PRAKASH DEVIDAS BALGI	3 INE601U08242	10,00,000	30,00,000
LISTED	1 GOHIL PUSHPABEN DILIPSINH	2 INE601U08242	10,00,000	20,00,000
LISTED	1 DILIPKUMAR PREMJIBHAI MISTRY	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PARIZAD PORUS DEBOO	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MAYURI ASAR	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PRAVEEN KUMAR GARG	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ANKUR GARG	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RAJ BARUA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SUMITRA DANGRA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 YASMIN MEHERNOSH MALEGAMWALA	1 INE601U08242	10,00,000	10,00,000
Y YORKED	A A DA MAY CATED A GALLANGE AN OWARD	2 7775047700242	10.00.000	*****
LISTED	1 ARMIN SHERAZ MALEGAMWALA	2 INE601U08242	10,00,000	20,00,000
LISTED	1 ALKA DALMIA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 GOHIL BHAVIK JANAKSINH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MANJU MADHUSUDANAN	1 INE601U08242	10,00,000	10,00,000
LISTED LISTED	1 KESAVARAM B S 1 MEHERNOSH SHERAZ MALEGAMWALA	1 INE601U08242 1 INE601U08242	10,00,000	10,00,000
LISTED	I WEHERNOSH SHERAZ MALEGAMWALA	1 INE001008242	10,00,000	10,00,000
LISTED	1 KRISHNA KUMARI SHRIDHAR	1 INE601U08242	10,00,000	10,00,000
LISTED	1 GOHIL DILIPSINH RANJITSINH	5 INE601U08242	10,00,000	50,00,000
LISTED	1 GEETANJALI MOR	1 INE601U08242	10,00,000	10,00,000
LISTED	1 NANDA KUBER SAWANT	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SURAKSHA KHURANA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RAMA DINESH KHANDELWAL	2 INE601U08242	10,00,000	20,00,000
LISTED	1 KRISHAN GOPAL KHURANA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SAVITA MOR	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MANISHA JAYESH UPADHYAY	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PINKA ALPESH PATEL	3 INE601U08242	10,00,000	30,00,000
LISTED	1 RAJASHREE NAVIN MAHADEVIA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 HEMLAL BADHO MODI	4 INE601U08242	10,00,000	40,00,000
LISTED	1 UMA DIGAMBER BARNWAL	3 INE601U08242	10,00,000	30,00,000
LISTED	1 PRIYA MUKESHBHAI MODI	2 INE601U08242	10,00,000	20,00,000
LISTED	1 BHAVNA GAUTAM CHAINANI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SNEHA J SAGLANI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PRIYANKA NAROTTAM SWAMI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ANJU HARESH KATARA	3 INE601U08242	10,00,000	30,00,000
LISTED	1 RUKIBAI SHEWARAM	1 INE601U08242	10,00,000	10,00,000
LISTED	1 T S BALASUBRAMANIAN	1 INE601U08242	10,00,000	10,00,000
LISTED	1 LALITA JALAN	1 INE601U08242	10,00,000	10,00,000
LISTED	1 NAMRATA ASHOKKUMAR SONI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 GRISHMA SHAUNAK KHANDWALA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 DAKSHA NAVIN DOSHI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SUNITA NARAYAN CHANDNA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ASHWINI A MOHARIR	1 INE601U08242	10,00,000	10,00,000

LISTED	·	1 1			
	1 ARMIN HOSHANG SETHNA	3	INE601U08242	10,00,000	30,00,000
LISTED	1 NARESH HUNDRAJ LALWANI	1	INE601U08242	10,00,000	10,00,000
LISTED	1 SURESH S SHAH	1	INE601U08242	10,00,000	10,00,000
LISTED	1 HASMUKH KANTILAL SHAH			-,,	
			INE601U08242	10,00,000	10,00,000
LISTED	1 ILA HASMUKH SHAH	2	INE601U08242	10,00,000	20,00,000
LISTED	1 RICHA SWAMI	1	INE601U08242	10,00,000	10,00,000
LISTED	1 VINAYAK RAMAN SANE	1	INE601U08242	10,00,000	10,00,000
LISTED	1 DILIP C PUTHLI		INE601U08242	10,00,000	10,00,000
					· · ·
LISTED	1 DARSHITA DOSHI		INE601U08242	10,00,000	10,00,000
LISTED	1 VINAY SHIVLAL SEJPAL	1	INE601U08242	10,00,000	10,00,000
LISTED	1 INDIRA GERA	3	INE601U08242	10,00,000	30,00,000
LISTED	1 KAPIL S BAHRI	1	INE601U08242	10,00,000	10,00,000
LISTED	1 RAGURAMAN SESHADRI		INE601U08242	10,00,000	10,00,000
				, ,	, ,
LISTED	1 MINAKSHI SAINI		INE601U08242	10,00,000	20,00,000
LISTED	1 RAMESH LOGANATHAN		INE601U08242	10,00,000	20,00,000
LISTED	1 DEEPINDER KAUR RANDHAWA	1	INE601U08242	10,00,000	10,00,000
LISTED	1 RUCHIRA SHAH	5	INE601U08242	10,00,000	50,00,000
LISTED	1 GOVIND KUMAR SHAH	5	INE601U08242	10,00,000	50,00,000
LISTED	1 SAKSHI GOENKA		INE601U08242	10,00,000	10,00,000
	1 NITIN C RAWAL		INE601U08242	, ,	· ·
LISTED				10,00,000	10,00,000
LISTED	1 PRAVEEN KUMAR SAH		INE601U08242	10,00,000	10,00,000
LISTED	1 LALITHA VENKATRAMAN	1	INE601U08242	10,00,000	10,00,000
LISTED	1 PRADYUMN KUMAR SAH	1	INE601U08242	10,00,000	10,00,000
LISTED	1 BINA N DALAL	5	INE601U08242	10,00,000	50,00,000
LISTED	1 SHARAD KUMAR		INE601U08242	10,00,000	10,00,000
-				, ,	, ,
LISTED	1 KALIDAS MENON		INE601U08242	10,00,000	10,00,000
LISTED	1 RAVI BHATIA		INE601U08242	10,00,000	10,00,000
LISTED	1 KIRTI RAJMAL DAVADA	2	INE601U08242	10,00,000	20,00,000
LISTED	1 RATHI BHASKARAN PULLAT	1	INE601U08242	10,00,000	10,00,000
LISTED	1 AATMAN MANAN SHAH	5	INE601U08242	10,00,000	50,00,000
LISTED	1 RAJEEV BEHAL		INE601U08242	10,00,000	10,00,000
LISTED	1 SUNITA BEHAL		INE601U08242	10,00,000	10,00,000
LISTED	1 VIBHAVRI BHUTANI	11	INE601U08242	10,00,000	10,00,000
					<i>' '</i>
LISTED	1 TARU DUMRA		INE601U08242	10,00,000	1,00,00,000
LISTED LISTED		10			<i>' '</i>
LISTED	1 TARU DUMRA	10 1	INE601U08242	10,00,000	1,00,00,000
LISTED LISTED	1 TARU DUMRA 1 ARTI PARIN SHAH 1 VIVEK AVTAR	10 1 3	INE601U08242 INE601U08242 INE601U08242	10,00,000 10,00,000 10,00,000	1,00,00,000 10,00,000 30,00,000
LISTED LISTED LISTED	1 TARU DUMRA 1 ARTI PARIN SHAH 1 VIVEK AVTAR 1 DIYA GARWARE IBANEZ	10 1 3 10	INE601U08242 INE601U08242 INE601U08242 INE601U08242	10,00,000 10,00,000 10,00,000 10,00,000	1,00,00,000 10,00,000 30,00,000 1,00,00,000
LISTED LISTED LISTED LISTED	1 TARU DUMRA 1 ARTI PARIN SHAH 1 VIVEK AVTAR 1 DIYA GARWARE IBANEZ 1 VIKAS KASHINATH KULKARNI	10 1 3 10 1	INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	1,00,00,000 10,00,000 30,00,000 1,00,00,000 10,00,000
LISTED LISTED LISTED LISTED LISTED	1 TARU DUMRA 1 ARTI PARIN SHAH 1 VIVEK AVTAR 1 DIYA GARWARE IBANEZ 1 VIKAS KASHINATH KULKARNI 1 VINAYA SATISH MENON	10 1 3 10 1 1	INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	1,00,00,000 10,00,000 30,00,000 1,00,00,000 10,00,000 10,00,000
LISTED LISTED LISTED LISTED	1 TARU DUMRA 1 ARTI PARIN SHAH 1 VIVEK AVTAR 1 DIYA GARWARE IBANEZ 1 VIKAS KASHINATH KULKARNI	10 1 3 10 1 1	INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	1,00,00,000 10,00,000 30,00,000 1,00,00,000 10,00,000
LISTED LISTED LISTED LISTED LISTED	1 TARU DUMRA 1 ARTI PARIN SHAH 1 VIVEK AVTAR 1 DIYA GARWARE IBANEZ 1 VIKAS KASHINATH KULKARNI 1 VINAYA SATISH MENON	10 1 3 10 1 1	INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	1,00,00,000 10,00,000 30,00,000 1,00,00,000 10,00,000 10,00,000
LISTED LISTED LISTED LISTED LISTED LISTED LISTED	1 TARU DUMRA 1 ARTI PARIN SHAH 1 VIVEK AVTAR 1 DIYA GARWARE IBANEZ 1 VIKAS KASHINATH KULKARNI 1 VINAYA SATISH MENON 1 HARISH DHIRUBHAI THAKER	10 1 3 10 1 1 1 1	INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	1,00,00,000 10,00,000 30,00,000 1,00,00,000 10,00,000 10,00,000 10,00,000
LISTED	1 TARU DUMRA 1 ARTI PARIN SHAH 1 VIVEK AVTAR 1 DIYA GARWARE IBANEZ 1 VIKAS KASHINATH KULKARNI 1 VINAYA SATISH MENON 1 HARISH DHIRUBHAI THAKER 1 ANJANA AGRAWAL 1 ANUP KUMAR GUPTA	10 1 3 10 10 1 1 1 1	INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	1,00,00,000 10,00,000 30,00,000 1,00,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000
LISTED	1 TARU DUMRA 1 ARTI PARIN SHAH 1 VIVEK AVTAR 1 DIYA GARWARE IBANEZ 1 VIKAS KASHINATH KULKARNI 1 VINAYA SATISH MENON 1 HARISH DHIRUBHAI THAKER 1 ANJANA AGRAWAL 1 ANUP KUMAR GUPTA 1 SWATI SHAILESH SHAH	10 1 3 10 10 1 1 1 1 1 1	INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	1,00,00,000 10,00,000 30,00,000 1,00,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000
LISTED	1 TARU DUMRA 1 ARTI PARIN SHAH 1 VIVEK AVTAR 1 DIYA GARWARE IBANEZ 1 VIKAS KASHINATH KULKARNI 1 VINAYA SATISH MENON 1 HARISH DHIRUBHAI THAKER 1 ANJANA AGRAWAL 1 ANUP KUMAR GUPTA 1 SWATI SHAILESH SHAH 1 BABULAL DIYORA	10 1 3 10 1 1 1 1 1 1 1 1	INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	1,00,00,000 10,00,000 30,00,000 1,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000
LISTED	1 TARU DUMRA 1 ARTI PARIN SHAH 1 VIVEK AVTAR 1 DIYA GARWARE IBANEZ 1 VIKAS KASHINATH KULKARNI 1 VINAYA SATISH MENON 1 HARISH DHIRUBHAI THAKER 1 ANJANA AGRAWAL 1 ANUP KUMAR GUPTA 1 SWATI SHAILESH SHAH 1 BABULAL DIYORA 1 PUSHPA GATTANI	10 1 3 10 1 1 1 1 1 1 1 1 1	INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	1,00,00,000 10,00,000 30,00,000 1,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000
LISTED	1 TARU DUMRA 1 ARTI PARIN SHAH 1 VIVEK AVTAR 1 DIYA GARWARE IBANEZ 1 VIKAS KASHINATH KULKARNI 1 VINAYA SATISH MENON 1 HARISH DHIRUBHAI THAKER 1 ANJANA AGRAWAL 1 ANUP KUMAR GUPTA 1 SWATI SHAILESH SHAH 1 BABULAL DIYORA 1 VIJAYKUMAR AMRUTRAO SURVE	10 1 3 10 1 1 1 1 1 1 1 1 1 1	INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	1,00,00,000 10,00,000 30,00,000 1,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000
LISTED	1 TARU DUMRA 1 ARTI PARIN SHAH 1 VIVEK AVTAR 1 DIYA GARWARE IBANEZ 1 VIKAS KASHINATH KULKARNI 1 VINAYA SATISH MENON 1 HARISH DHIRUBHAI THAKER 1 ANJANA AGRAWAL 1 ANUP KUMAR GUPTA 1 SWATI SHAILESH SHAH 1 BABULAL DIYORA 1 PUSHPA GATTANI	10 1 3 10 1 1 1 1 1 1 1 1 1 1	INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	1,00,00,000 10,00,000 30,00,000 1,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000
LISTED	1 TARU DUMRA 1 ARTI PARIN SHAH 1 VIVEK AVTAR 1 DIYA GARWARE IBANEZ 1 VIKAS KASHINATH KULKARNI 1 VINAYA SATISH MENON 1 HARISH DHIRUBHAI THAKER 1 ANJANA AGRAWAL 1 ANUP KUMAR GUPTA 1 SWATI SHAILESH SHAH 1 BABULAL DIYORA 1 VIJAYKUMAR AMRUTRAO SURVE	10 1 3 10 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	1,00,00,000 10,00,000 30,00,000 1,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000
LISTED	1 TARU DUMRA 1 ARTI PARIN SHAH 1 VIVEK AVTAR 1 DIYA GARWARE IBANEZ 1 VIKAS KASHINATH KULKARNI 1 VINAYA SATISH MENON 1 HARISH DHIRUBHAI THAKER 1 ANJANA AGRAWAL 1 ANUP KUMAR GUPTA 1 SWATI SHAILESH SHAH 1 BABULAL DIYORA 1 PUSHPA GATTANI 1 VIJAYKUMAR AMRUTRAO SURVE 1 SUNITA DAHAT 1 GEETA PINAK MODI	10 1 3 10 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	1,00,00,000 10,00,000 30,00,000 1,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 20,00,000 20,00,000
LISTED	1 TARU DUMRA 1 ARTI PARIN SHAH 1 VIVEK AVTAR 1 DIYA GARWARE IBANEZ 1 VIKAS KASHINATH KULKARNI 1 VINAYA SATISH MENON 1 HARISH DHIRUBHAI THAKER 1 ANJANA AGRAWAL 1 ANUP KUMAR GUPTA 1 SWATI SHAILESH SHAH 1 BABULAL DIYORA 1 PUSHPA GATTANI 1 VIJAYKUMAR AMRUTRAO SURVE 1 SUNITA DAHAT 1 GEETA PINAK MODI 1 JAMILA JUZER AMIN	10 1 3 10 1 1 1 1 1 1 1 1 1 1 1 1 1	INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242 INE601U08242	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	1,00,00,000 10,00,000 30,00,000 1,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 20,00,000 20,00,000 10,00,000
LISTED	1 TARU DUMRA 1 ARTI PARIN SHAH 1 VIVEK AVTAR 1 DIYA GARWARE IBANEZ 1 VIKAS KASHINATH KULKARNI 1 VINAYA SATISH MENON 1 HARISH DHIRUBHAI THAKER 1 ANJANA AGRAWAL 1 ANUP KUMAR GUPTA 1 SWATI SHAILESH SHAH 1 BABULAL DIYORA 1 PUSHPA GATTANI 1 VIJAYKUMAR AMRUTRAO SURVE 1 SUNITA DAHAT 1 GEETA PINAK MODI 1 JAMILA JUZER AMIN 1 NIENAMARIANI	10 1 3 10 1 1 1 1 1 1 1 1 1 1 1 1 1	INE601U08242	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	1,00,00,000 10,00,000 30,00,000 1,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 20,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000
LISTED	1 TARU DUMRA 1 ARTI PARIN SHAH 1 VIVEK AVTAR 1 DIYA GARWARE IBANEZ 1 VIKAS KASHINATH KULKARNI 1 VINAYA SATISH MENON 1 HARISH DHIRUBHAI THAKER 1 ANJANA AGRAWAL 1 ANUP KUMAR GUPTA 1 SWATI SHAILESH SHAH 1 BABULAL DIYORA 1 PUSHPA GATTANI 1 VIJAYKUMAR AMRUTRAO SURVE 1 SUNITA DAHAT 1 GEETA PINAK MODI 1 JAMILA JUZER AMIN 1 SNEHAL MADHUKAR KULKARNI 1 SUNIDHI CHAUHAN	10 1 3 10 1 1 1 1 1 1 1 1 1 1 1 1 1	INE601U08242	10,00,000 10,00,000	1,00,00,000 10,00,000 30,00,000 1,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 20,00,000 10,00,000 10,00,000 10,00,000 20,00,000 10,00,000 20,00,000 20,00,000 20,00,000 20,00,000
LISTED	1 TARU DUMRA 1 ARTI PARIN SHAH 1 VIVEK AVTAR 1 DIYA GARWARE IBANEZ 1 VIKAS KASHINATH KULKARNI 1 VINAYA SATISH MENON 1 HARISH DHIRUBHAI THAKER 1 ANJANA AGRAWAL 1 ANUP KUMAR GUPTA 1 SWATI SHAILESH SHAH 1 BABULAL DIYORA 1 PUSHPA GATTANI 1 VIJAYKUMAR AMRUTRAO SURVE 1 SUNITA DAHAT 1 GEETA PINAK MODI 1 JAMILA JUZER AMIN 1 SNEHAL MADHUKAR KULKARNI 1 SUNIDHI CHAUHAN 1 HITESH SONIK	10 1 3 10 1 1 1 1 1 1 1 1 1 1 1 1 1	INE601U08242	10,00,000 10,00,000	1,00,00,000 10,00,000 10,00,000 1,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000
LISTED	1 TARU DUMRA 1 ARTI PARIN SHAH 1 VIVEK AVTAR 1 DIYA GARWARE IBANEZ 1 VIKAS KASHINATH KULKARNI 1 VINAYA SATISH MENON 1 HARISH DHIRUBHAI THAKER 1 ANJANA AGRAWAL 1 ANUP KUMAR GUPTA 1 SWATI SHAILESH SHAH 1 BABULAL DIYORA 1 PUSHPA GATTANI 1 VIJAYKUMAR AMRUTRAO SURVE 1 SUNITA DAHAT 1 GEETA PINAK MODI 1 JAMILA JUZER AMIN 1 SNEHAL MADHUKAR KULKARNI 1 SUNIDHI CHAUHAN 1 HITESH SONIK 1 SMITA MUKUND DOSHI	10 1 3 10 1 1 1 1 1 1 1 1 1 1 1 1 1	INE601U08242	10,00,000 10,00,000	1,00,00,000 10,00,000 30,00,000 1,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 20,00,000 10,00,000 10,00,000 10,00,000 20,00,000 10,00,000 20,00,000 20,00,000 20,00,000 20,00,000
LISTED	1 TARU DUMRA 1 ARTI PARIN SHAH 1 VIVEK AVTAR 1 DIYA GARWARE IBANEZ 1 VIKAS KASHINATH KULKARNI 1 VINAYA SATISH MENON 1 HARISH DHIRUBHAI THAKER 1 ANJANA AGRAWAL 1 ANUP KUMAR GUPTA 1 SWATI SHAILESH SHAH 1 BABULAL DIYORA 1 PUSHPA GATTANI 1 VIJAYKUMAR AMRUTRAO SURVE 1 SUNITA DAHAT 1 GEETA PINAK MODI 1 JAMILA JUZER AMIN 1 SNEHAL MADHUKAR KULKARNI 1 SUNIDHI CHAUHAN 1 HITESH SONIK	10 1 3 10 1 1 1 1 1 1 1 1 1 1 1 1 1	INE601U08242	10,00,000 10,00,000	1,00,00,000 10,00,000 10,00,000 1,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000
LISTED	1 TARU DUMRA 1 ARTI PARIN SHAH 1 VIVEK AVTAR 1 DIYA GARWARE IBANEZ 1 VIKAS KASHINATH KULKARNI 1 VINAYA SATISH MENON 1 HARISH DHIRUBHAI THAKER 1 ANJANA AGRAWAL 1 ANUP KUMAR GUPTA 1 SWATI SHAILESH SHAH 1 BABULAL DIYORA 1 PUSHPA GATTANI 1 VIJAYKUMAR AMRUTRAO SURVE 1 SUNITA DAHAT 1 GEETA PINAK MODI 1 JAMILA JUZER AMIN 1 SNEHAL MADHUKAR KULKARNI 1 SUNIDHI CHAUHAN 1 HITESH SONIK 1 SMITA MUKUND DOSHI 1 SHUCHI AGARWAL	10 1 3 10 1 1 1 1 1 1 1 1 1 1 1 1 1	INE601U08242	10,00,000 10,00,000	1,00,00,000 10,00,000
LISTED	1 TARU DUMRA 1 ARTI PARIN SHAH 1 VIVEK AVTAR 1 DIYA GARWARE IBANEZ 1 VIKAS KASHINATH KULKARNI 1 VINAYA SATISH MENON 1 HARISH DHIRUBHAI THAKER 1 ANJANA AGRAWAL 1 ANUP KUMAR GUPTA 1 SWATI SHAILESH SHAH 1 BABULAL DIYORA 1 PUSHPA GATTANI 1 VIJAYKUMAR AMRUTRAO SURVE 1 SUNITA DAHAT 1 GEETA PINAK MODI 1 JAMILA JUZER AMIN 1 SNEHAL MADHUKAR KULKARNI 1 SUNIDHI CHAUHAN 1 HITESH SONIK 1 SMITA MUKUND DOSHI 1 SHUCHI AGARWAL 1 GIRDHAR SINGH YADAV	10 1 3 10 1 1 1 1 1 1 1 1 1 1 1 2 2 1 1 1 1 1 1 1 1 1 1 1 1 1	INE601U08242	10,00,000 10,00,000	1,00,00,000 10,00,000
LISTED	1 TARU DUMRA 1 ARTI PARIN SHAH 1 VIVEK AVTAR 1 DIYA GARWARE IBANEZ 1 VIKAS KASHINATH KULKARNI 1 VINAYA SATISH MENON 1 HARISH DHIRUBHAI THAKER 1 ANJANA AGRAWAL 1 ANUP KUMAR GUPTA 1 SWATI SHAILESH SHAH 1 BABULAL DIYORA 1 PUSHPA GATTANI 1 VIJAYKUMAR AMRUTRAO SURVE 1 SUNITA DAHAT 1 GEETA PINAK MODI 1 JAMILA JUZER AMIN 1 SNEHAL MADHUKAR KULKARNI 1 SUNIDHI CHAUHAN 1 HITESH SONIK 1 SMITA MUKUND DOSHI 1 SHUCHI AGARWAL 1 GIRDHAR SINGH YADAV 1 CHITRANG PRADEEP OZA	10 1 3 10 1 1 1 1 1 1 1 1 1 1 1 2 2 1 1 1 1 1 1 1 1 1 1 1 1 1	INE601U08242	10,00,000 10,00,000	1,00,00,000 10,00,000 10,00,000 1,00,000 10,00,000
LISTED	1 TARU DUMRA 1 ARTI PARIN SHAH 1 VIVEK AVTAR 1 DIYA GARWARE IBANEZ 1 VIKAS KASHINATH KULKARNI 1 VINAYA SATISH MENON 1 HARISH DHIRUBHAI THAKER 1 ANJANA AGRAWAL 1 ANUP KUMAR GUPTA 1 SWATI SHAILESH SHAH 1 BABULAL DIYORA 1 PUSHPA GATTANI 1 VIJAYKUMAR AMRUTRAO SURVE 1 SUNITA DAHAT 1 GEETA PINAK MODI 1 JAMILA JUZER AMIN 1 SNEHAL MADHUKAR KULKARNI 1 SUNIDHI CHAUHAN 1 HITESH SONIK 1 SMITA MUKUND DOSHI 1 SHUCHI AGARWAL 1 GIRDHAR SINGH YADAV 1 CHITRANG PRADEEP OZA 1 BHAVEN JAGMOHAN BARAI	10 1 3 10 1 1 1 1 1 1 1 1 1 1 1 1 1	INE601U08242	10,00,000 10,00,000	1,00,00,000 10,00,000 10,00,000 1,00,000 10,00,000
LISTED	1 TARU DUMRA 1 ARTI PARIN SHAH 1 VIVEK AVTAR 1 DIYA GARWARE IBANEZ 1 VIKAS KASHINATH KULKARNI 1 VINAYA SATISH MENON 1 HARISH DHIRUBHAI THAKER 1 ANJANA AGRAWAL 1 ANUP KUMAR GUPTA 1 SWATI SHAILESH SHAH 1 BABULAL DIYORA 1 PUSHPA GATTANI 1 VIJAYKUMAR AMRUTRAO SURVE 1 SUNITA DAHAT 1 GEETA PINAK MODI 1 JAMILA JUZER AMIN 1 SNEHAL MADHUKAR KULKARNI 1 SUNIDHI CHAUHAN 1 HITESH SONIK 1 SMITA MUKUND DOSHI 1 SHUCHI AGARWAL 1 GIRDHAR SINGH YADAV 1 CHITRANG PRADEEP OZA 1 BHAVEN JAGMOHAN BARAI	10 1 3 10 1 1 1 1 1 1 1 1 1 1 1 1 1	INE601U08242	10,00,000 10,00,000	1,00,00,000 10,00,000
LISTED	1 TARU DUMRA 1 ARTI PARIN SHAH 1 VIVEK AVTAR 1 DIYA GARWARE IBANEZ 1 VIKAS KASHINATH KULKARNI 1 VINAYA SATISH MENON 1 HARISH DHIRUBHAI THAKER 1 ANJANA AGRAWAL 1 ANUP KUMAR GUPTA 1 SWATI SHAILESH SHAH 1 BABULAL DIYORA 1 PUSHPA GATTANI 1 VIJAYKUMAR AMRUTRAO SURVE 1 SUNITA DAHAT 1 GEETA PINAK MODI 1 JAMILA JUZER AMIN 1 SNEHAL MADHUKAR KULKARNI 1 SUNIDHI CHAUHAN 1 HITESH SONIK 1 SMITA MUKUND DOSHI 1 SHUCHI AGARWAL 1 GIRDHAR SINGH YADAV 1 CHITRANG PRADEEP OZA 1 BHAVEN JAGMOHAN BARAI	10 1 3 10 1 1 1 1 1 1 1 1 1 1 1 1 1	INE601U08242	10,00,000 10,00,000	1,00,00,000 10,00,000 10,00,000 1,00,000 10,00,000
LISTED	1 TARU DUMRA 1 ARTI PARIN SHAH 1 VIVEK AVTAR 1 DIYA GARWARE IBANEZ 1 VIKAS KASHINATH KULKARNI 1 VINAYA SATISH MENON 1 HARISH DHIRUBHAI THAKER 1 ANJANA AGRAWAL 1 ANUP KUMAR GUPTA 1 SWATI SHAILESH SHAH 1 BABULAL DIYORA 1 PUSHPA GATTANI 1 VIJAYKUMAR AMRUTRAO SURVE 1 SUNITA DAHAT 1 GEETA PINAK MODI 1 JAMILA JUZER AMIN 1 SNEHAL MADHUKAR KULKARNI 1 SUNIDHI CHAUHAN 1 HITESH SONIK 1 SMITA MUKUND DOSHI 1 SHUCHI AGARWAL 1 GIRDHAR SINGH YADAV 1 CHITRANG PRADEEP OZA 1 BHAVEN JAGMOHAN BARAI	10 1 3 10 1 1 1 1 1 1 1 1 1 1 1 1 1	INE601U08242	10,00,000 10,00,000	1,00,00,000 10,00,000
LISTED	1 TARU DUMRA 1 ARTI PARIN SHAH 1 VIVEK AVTAR 1 DIYA GARWARE IBANEZ 1 VIKAS KASHINATH KULKARNI 1 VINAYA SATISH MENON 1 HARISH DHIRUBHAI THAKER 1 ANJANA AGRAWAL 1 ANUP KUMAR GUPTA 1 SWATI SHAILESH SHAH 1 BABULAL DIYORA 1 PUSHPA GATTANI 1 VIJAYKUMAR AMRUTRAO SURVE 1 SUNITA DAHAT 1 GEETA PINAK MODI 1 JAMILA JUZER AMIN 1 SNEHAL MADHUKAR KULKARNI 1 SUNIDHI CHAUHAN 1 HITESH SONIK 1 SMITA MUKUND DOSHI 1 SHUCHI AGARWAL 1 GIRDHAR SINGH YADAV 1 CHITRANG PRADEEP OZA 1 BHAVEN JAGMOHAN BARAI 1 REKHA GOPAL CHOUDHARY 1 AVANI VISHAL DEDHIA	10 1 3 10 1 1 1 1 1 1 1 1 1 1 1 1 1	INE601U08242	10,00,000 10,00,000	1,00,00,000 10,00,000
LISTED	1 TARU DUMRA 1 ARTI PARIN SHAH 1 VIVEK AVTAR 1 DIYA GARWARE IBANEZ 1 VIKAS KASHINATH KULKARNI 1 VINAYA SATISH MENON 1 HARISH DHIRUBHAI THAKER 1 ANJANA AGRAWAL 1 ANUP KUMAR GUPTA 1 SWATI SHAILESH SHAH 1 BABULAL DIYORA 1 PUSHPA GATTANI 1 VIJAYKUMAR AMRUTRAO SURVE 1 SUNITA DAHAT 1 GEETA PINAK MODI 1 JAMILA JUZER AMIN 1 SNEHAL MADHUKAR KULKARNI 1 SUNIDHI CHAUHAN 1 HITESH SONIK 1 SMITA MUKUND DOSHI 1 SHUCHI AGARWAL 1 GIRDHAR SINGH YADAV 1 CHITRANG PRADEEP OZA 1 BHAVEN JAGMOHAN BARAI 1 REKHA GOPAL CHOUDHARY 1 AVANI VISHAL DEDHIA	10 1 3 10 1 1 1 1 1 1 1 1 1 1 1 1 1	INE601U08242	10,00,000 10,00,000	1,00,00,000 10,00,000
LISTED	1 TARU DUMRA 1 ARTI PARIN SHAH 1 VIVEK AVTAR 1 DIYA GARWARE IBANEZ 1 VIKAS KASHINATH KULKARNI 1 VINAYA SATISH MENON 1 HARISH DHIRUBHAI THAKER 1 ANJANA AGRAWAL 1 ANUP KUMAR GUPTA 1 SWATI SHAILESH SHAH 1 BABULAL DIYORA 1 PUSHPA GATTANI 1 VIJAYKUMAR AMRUTRAO SURVE 1 SUNITA DAHAT 1 GEETA PINAK MODI 1 JAMILA JUZER AMIN 1 SNEHAL MADHUKAR KULKARNI 1 SUNIDHI CHAUHAN 1 HITESH SONIK 1 SMITA MUKUND DOSHI 1 SHUCHI AGARWAL 1 GIRDHAR SINGH YADAV 1 CHITRANG PRADEEP OZA 1 BHAVEN JAGMOHAN BARAI 1 USHA JAGMOHAN BARAI 1 REKHA GOPAL CHOUDHARY 1 AVANI VISHAL DEDHIA 1 NIRMALA JAIN 1 KUSHI ABHAY SINGH	10 1 3 10 1 1 1 1 1 1 1 1 1 1 1 1 1	INE601U08242	10,00,000 10,00,000	1,00,00,000 10,00,000
LISTED	1 TARU DUMRA 1 ARTI PARIN SHAH 1 VIVEK AVTAR 1 DIYA GARWARE IBANEZ 1 VIKAS KASHINATH KULKARNI 1 VINAYA SATISH MENON 1 HARISH DHIRUBHAI THAKER 1 ANJANA AGRAWAL 1 ANUP KUMAR GUPTA 1 SWATI SHAILESH SHAH 1 BABULAL DIYORA 1 PUSHPA GATTANI 1 VIJAYKUMAR AMRUTRAO SURVE 1 SUNITA DAHAT 1 GEETA PINAK MODI 1 JAMILA JUZER AMIN 1 SNEHAL MADHUKAR KULKARNI 1 SUNIDHI CHAUHAN 1 HITESH SONIK 1 SMITA MUKUND DOSHI 1 SHUCHI AGARWAL 1 GIRDHAR SINGH YADAV 1 CHITRANG PRADEEP OZA 1 BHAVEN JAGMOHAN BARAI 1 REKHA GOPAL CHOUDHARY 1 AVANI VISHAL DEDHIA	10 1 3 10 1 1 1 1 1 1 1 1 1 1 1 1 1	INE601U08242	10,00,000 10,00,000	1,00,00,000 10,00,000

LISTED LISTED LISTED LISTED LISTED	1 RAVINDER NATH GUPTA 1 NAMITA GUPTA 1 VAISHALI JAYESH KARIYA	2 INE601U08242 1 INE601U08242 1 INE601U08242	10,00,000 10,00,000 10,00,000	20,00,000 10,00,000 10,00,000
LISTED LISTED	1 VAISHALI JAYESH KARIYA			/ /
LISTED		1 INE601U08242	10,00,000	10 00 000 1
				· · ·
ILISTED	1 JAYESH GUNVANTRAI KARIYA	2 INE601U08242	10,00,000	20,00,000
	1 GIRISH RAMANLAL DESAI	2 INE601U08242	10,00,000	20,00,000
LISTED	1 ANSUYA RAMANLAL DESAI	2 INE601U08242	10,00,000	20,00,000
LISTED	1 siddharth nandkishore bafna	1 INE601U08242	10,00,000	10,00,000
LISTED	1 Mithlesh Ashok Bansal	2 INE601U08242	10,00,000	20,00,000
LISTED	1 SHRIKANT KASHINATH DAMLE	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SHUBHADA SHRIKANT DAMLE	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SUCHET SARAN MATHUR	1 INE601U08242	10,00,000	10,00,000
LISTED	1 KARAN H VAKHARIA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RAJAN TANDON	1 INE601U08242	10,00,000	10,00,000
LISTED	1 HEMANT SASHIKANT MUNSHAW	2 INE601U08242	10,00,000	20,00,000
LISTED	1 KAPIL SHASHI CHOUDHARY	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ASHOKKUMAR MAHABIR BANSAL	2 INE601U08242	10,00,000	20,00,000
LISTED	1 ZOEB BHAI NAGPURWALA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ANIL SHAMRAO DANGE	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SUNDERLAL SIPANI	2 INE601U08242	10,00,000	20,00,000
LISTED	1 LATABEN BIPINCHANDRA SALOT	1 INE601U08242	10,00,000	10,00,000
LISTED	1 YOGESH GUPTA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 VIJAI KRISHNA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ALKA PURWAR	2 INE601U08242	10,00,000	20,00,000
LISTED	1 SONI KOUL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 BAPSY HOSHANG KHARAS	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SUSHIL KUMAR KANDOI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SUDHIR CHOPRA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 QUAID JOHAR ZOEBBHAI NAGPURWALA	1 INE601U08242	10,00,000	10,00,000
			.,,	.,,
LISTED	1 NANDKUMAR VAMAN BHAGWAT	1 INE601U08242	10,00,000	10,00,000
LISTED	1 YASH GOEL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 DOSOO FRAMROZE KHADIWALLA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SUBRATA GUPTA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 DEEPTI BANSAL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PRITHVIR BHALLA	2 INE601U08242	10,00,000	20,00,000
LISTED	1 STUTI BHANOT	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PRATIMA SANJAY CHOPRA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SHOUMIK DAS	2 INE601U08242	10,00,000	20,00,000
LISTED	1 ESHA KAHALI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RAMESH TEKCHAND CHHABRIA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MANISHA VIJAY TAMASKAR	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ANIL CHITALE	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ASHA CHITALE	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SAHIL HASANALI FIRASTA	1 INE601U08242	10.00.000	10,00,000
LISTED	1 AVNI DEEPAK THAKKAR	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RAHIL DEEPAK THAKKAR	2 INE601U08242	10,00,000	20,00,000
LISTED	1 PRADEEPKUMAR PANDURANG RAUT	2 INE601U08242	10,00,000	20,00,000
EW LED	I I MADELI KUMAK I AMDUKANG KAUT	Z IINE001000242	10,00,000	20,00,000
LISTED	1 RASILABEN HARIDAS KIKANI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 VARADARAJAN DEVIKA .	1 INE601U08242	10,00,000	
LISTED	1 PINKY JATIN DOSHI	1 INE601U08242 1 INE601U08242	10,00,000	10,00,000
LISTED	1 BHAVNA RAVINDRA SHAH	1 INE601U08242	10,00,000	
LISTED		1 INE601U08242	-,,	10,00,000
	1 MANGALDAS AMICHAND SHAH		10,00,000	10,00,000
LISTED	1 VASANTI DILIP VAIDYA	1 INE601U08242		10,00,000
LISTED	1 PUTTARAJU P GOWDA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 HARSHAD MOHANLAL MEHTA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RAJAS RATANCHAND DOSHI	5 INE601U08242	10,00,000	50,00,000
LISTED	1 MAYUR RAJAS DOSHI .	5 INE601U08242	10,00,000	50,00,000
LISTED	1 PUSHPADEVI O DHOOT .	2 INE601U08242	10,00,000	20,00,000
LISTED	1 KUNAL HARUN SHAH .	1 INE601U08242	10,00,000	10,00,000
	1 KUSUM MADHUKANT THAKKAR .	1 INE601U08242	10,00,000	10,00,000
LISTED	4 DANIZED REEDAMAZARY	0 DEC017700040	10.00.000	
LISTED LISTED LISTED	1 BANKER JEET NAYAN . 1 SHIMUL VIRENDRABHAI MAJMUDAR .	3 INE601U08242 2 INE601U08242	10,00,000	30,00,000 20,00,000

LISTED	1 LAXMIKANT HANUMANPRASAD	3 INE601U08242	10,00,000	30,00,000
210120	HARLALKA .	5 11 1200 10 002 12	10,00,000	20,00,000
LISTED	1 PAYAL AJAY KAPADIA .	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ANIL KUMAR SINGHAI .	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MAYA J KAMATH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 VASANTH NARSAPPA SUVARNA .	1 INE601U08242	10,00,000	10,00,000
LISTED	1 DIGANT Z HARIA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SRINIVAS PEDDADA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 TANUSHREE JAIN	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MAYANK R KHANDELWAL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 POORNIMA NAINESH SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PUNIT MODI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PRERITA RATNESH MITTAL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PRAGYA SINGHAL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ASHOK KUMAR DAMANI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MAHESHKUMAR MAGANLAL SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RONAK MAHESH SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PRACHI MUKESH DALAL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 KARISHMA RAJNIKANT SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 NITIN RAJNIKANT SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SHAH SADHNA RAJESH	2 INE601U08242	10,00,000	20,00,000
LISTED	1 MITUL RAJNIKANT SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MAITRI MITULKUMAR SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 HEENA BHAVESH SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SWARN DINESHCHANDRA PATEL	2 INE601U08242	10,00,000	20,00,000
LISTED	1 NILESH CHANDRAKANT MODI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 HASMUKH VELJI GOGRI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RUSHABH KAMLESH MEHTA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ASHISH ATMARAM PODDAR	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MANISH CHANDRAKANT PARIKH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 NILSHA PINAKIN SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PINAKIN VASANTLAL SHAH 1 HEMLATABEN DWARKADAS MORI	1 INE601U08242 1 INE601U08242	10,00,000	10,00,000
LISTED			10,00,000	10,00,000
LISTED LISTED	1 BHARAT K DESAI 1 JUGNU RAJIV DOSHI	1 INE601U08242 1 INE601U08242	10,00,000	10,00,000
LISTED	1 EKTA MAULIK SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MAULIK PRADIP SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 VISHA VISHAL SHAH	3 INE601U08242	10,00,000	30,00,000
LISTED	1 VISHAL AJAY SHAH	2 INE601U08242	10,00,000	20,00,000
LISTED	1 PRADIPKUMAR BABULAL SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ASHOK CHHAGANLAL SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RAMA PRADEEP SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ESWAR NAGARAJA MAKAM	1 INE601U08242	10,00,000	10,00,000
LISTED	1 KARNAM SNEHALATHA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ARATHI JAYARAM SHETTY	1 INE601U08242	10,00,000	10,00,000
LISTED	1 GOKARAM RAMKRISHNA BALAJI	8 INE601U08242	10,00,000	80,00,000
LISTED	1 ARVIND DAMODAR BHAYANI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 JANAKKUMAR THAKORLAL UPADHYAY	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MADHURIKA M AGARWAL	3 INE601U08242	10,00,000	30,00,000
LISTED	1 MUKESHKUMAR BALMUKUND AGARWAL	4 INE601U08242	10,00,000	40,00,000
			.,,	,,
LISTED	1 SHEHRNAZ KAIUMARZ SETHNA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 UTSAL HIRACHAND KARANI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 NAMITA KATARIA	2 INE601U08242	10,00,000	20,00,000
LISTED	1 VANDANA S GOKHALE	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SOPHIE MADHUKANT KOTHARI	2 INE601U08242	10,00,000	20,00,000
LISTED	1 ARTI SHEOPURI	5 INE601U08242	10,00,000	50,00,000
LISTED	1 SHIV KATARIA	2 INE601U08242	10,00,000	20,00,000
LISTED	1 HARBHAJAN SINGH NARANG	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MEERA BATRA	3 INE601U08242	10,00,000	30,00,000
LISTED	1 DHRUTI DOGRA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SIMRAN .	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SAKHI CHAUDHRY	1 INE601U08242	10,00,000	10,00,000

LISTED	1 DIPAK RAJNIKANT SOLANI	1 INE601U08242	10.00.000	10,00,000
LISTED	1 MAHABIR PRASAD BAJAJ	1 INE601U08242	10,00,000	10,00,000
LISTED	1 KASHMIRA FIROZE MISTRY	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PALLAWI RAJIV PODAR	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RAGINIBEN JAYNISHKUMAR KOTHARI	5 INE601U08242	10,00,000	50,00,000
				, ,
LISTED	1 NAINA JAYANT PARANJAPE	1 INE601U08242	10,00,000	10,00,000
LISTED	1 P P PADMA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 YAGNAPRASAD ACHARYA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 DHARMESH PRAVIN VAKIL	15 INE601U08242	10,00,000	1,50,00,000
LISTED	1 RADHA GOVIND KHATORIA	2 INE601U08242	10,00,000	20,00,000
LISTED	1 SARITA RAMNIK BAXI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MOHIT JAIN	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SWATI RANKA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 BHAVANA GUNVANTRAY PAREKH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 GUNVANTHRAY SHIVLAL PAREKH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ARUN SITARAM KEER	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MEGHA PRANAV CHANDAWALLA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 CHAMPABEN RAMESH BHATT	1 INE601U08242	10,00,000	10,00,000
LISTED LISTED	1 SHAILA SHYAMSUNDER GHATE 1 KANDARP SHASHIKANT PRAJAPATI	5 INE601U08242 1 INE601U08242	10,00,000	50,00,000
LISTED	1 RAJENDRA PRASAD KHAITAN	5 INE601U08242	10,00,000	10,00,000 50,00,000
LISTED	1 SHAKUNTALA DEVI RUNGTA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 JAYESH JAYENDRA MEHTA	2 INE601U08242	10,00,000	20,00,000
LISTED	1 ASHISH JAYENDRA MEHTA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 DIPTI JIGNESH PAREKH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SONAL ASHISH MEHTA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SONAL UMESH PAREKH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 YATIN HARKISHAN SHAH	2 INE601U08242	10,00,000	20,00,000
LISTED	1 DEEPAK HARKISHAN SHAH	2 INE601U08242	10,00,000	20,00,000
LISTED	1 PANNA YATIN SHAH	2 INE601U08242	10,00,000	20,00,000
LISTED	1 RANJANBEN P PAREKH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 TRUPTI SUDIP SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 JEORAJ JAIN	1 INE601U08242	10,00,000	10,00,000
LISTED	1 VANDANA JAIN	2 INE601U08242	10,00,000	20,00,000
LISTED	1 JAHAR BANERJEE	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ARJUN ROY	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ANJU KHANDELWAL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 JAGRUTI SUDHIR SANGHVI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RAJBALA SATISH SANGHVI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 G SREE RAMULU	1 INE601U08242	10,00,000	10,00,000
LISTED LISTED	1 SHIVANI SUNIL MEHTA 1 RANJANA NARENDRA BHANSALI	3 INE601U08242 1 INE601U08242	10,00,000	30,00,000
LISTED	1 RISHEN KR MUKHERJEE .	1 INE601U08242	10,00,000	10,00,000
LISTED	1 DEEPAK NARENDRA SHAH .	2 INE601U08242	10,00,000	20,00,000
LISTED	1 SUSANTA KUMAR CHAUDHURI .	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PRAKASH MOHANLAL SHAH .	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MYTHILI SAIRAM IYER .	1 INE601U08242	10,00,000	10,00,000
LISTED	1 UDAY PRAKASH SHAH .	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ASHVIN MANEKLAL PATEL	2 INE601U08242	10,00,000	20,00,000
LISTED	1 AMIT JAYANTILAL MODY	2 INE601U08242	10,00,000	20,00,000
LISTED	1 SUJATA SANJAY MUZUMDAR	2 INE601U08242	10,00,000	20,00,000
LISTED	1 MILIND M KULKARNI	2 INE601U08242	10,00,000	20,00,000
LISTED	1 SAVITA VISHNU SADEKAR	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ANUJA SHANKAR NADKARNI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 NEEPA ASHISH SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 KSHAMA HASMUKH SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 DIPTI KEYUR AJMERA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 LINA MUKUL DALAL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 NIRU ATUL DESAI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PIYUSH AMRITLAL OSWAL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 AARTI DEEPAK KHANDWALA	2 INE601U08242	10,00,000	20,00,000
LISTED LISTED	1 PREET NILESH SHAH 1 ADRIAN HENRY ALMEIDA	1 INE601U08242 1 INE601U08242	10,00,000	10,00,000
FIGIED	1 ADMAN HENKT ALWEIDA	1 IINEUU1 UU8242	10,00,000	10,00,000

			40.00.000	
LISTED	1 ASHA ADRIAN KULKARNI-ALMEIDA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ANILA RASHMIN MEHTA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SACHIN ASHOK PATIL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 CHANDRAKALA TARUN JAIN	2 INE601U08242	10,00,000	20,00,000
LISTED	1 TARUN JAYANTILAL JAIN	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ANAND NANJI SANGOI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 CHIRAG NANJI SANGOI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 JITA HEMANT SHAH	2 INE601U08242	10,00,000	20,00,000
LISTED	1 HARDIK SANDEEP SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RAMILA JAIN	2 INE601U08242	10,00,000	20,00,000
LISTED	1 DIGANTBHAI VENISHANKAR JOSHI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 CHANDNI HARDIK SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 KARUNA PRATIK SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 KUNTALBEN BIMALBHAI DANI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SURESH GORDHANDAS CHOKSEY	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ANKIT LILADHARBHAI SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 BHARAT VORILAL JAIN	2 INE601U08242	10,00,000	20,00,000
LISTED	1 POOJA BHARAT JAIN	2 INE601U08242	10,00,000	20,00,000
LISTED	1 DAKSH UTTAMKUMAR JAIN	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MANJU DEVI MOHANKA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 DARSHIT VIPULKUMAR SANGHVI	1 INE601U08242	10,00,000	.,,
LISTED	1 REKHA PRAKASH DOSHI	3 INE601U08242	10,00,000	10,00,000
				30,00,000
LISTED	1 SONALEE MILIND PARIKH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RAJABABU BHAGUBHAI GANDHI	1 INE601U08242	10,00,000	-,,
LISTED	1 ASHA RAJABABU GANDHI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 Ashokkumar Vithaldas Mehta	1 INE601U08242	10,00,000	10,00,000
LISTED	1 NILA NITIN KUVADIA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 NITIN NEMICHAND KUVADIA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 JANESH VASANT SANZGIRI	3 INE601U08242	10,00,000	30,00,000
LISTED	1 MADHUSUDHAN SIVAKUMAR	1 INE601U08242	10,00,000	10,00,000
LISTED	1 KAPIL CHATURVEDI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SUSHMITA GUPTA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 KEKI VIRAF DEHNUGARA	2 INE601U08242	10,00,000	20,00,000
LISTED	1 ADITYA MANYA JAIN	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ADISH MANYA JAIN	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MAMTA SINGHAI	3 INE601U08242	10,00,000	30,00,000
LISTED	1 KUNDPRABHA .	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ANITA JAIN	1 INE601U08242	10,00,000	10,00,000
LISTED	1 KAMLESH PRANLAL MEHTA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 HETAL DINESH MEHTA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RAVI RAJ VASUDEV	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SUSHIL JAIN	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SHIRISH SUDHAKAR UPASANI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RICHA NIRANJAN THAKKAR	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SHRIKANT SHIVRAM AVABHRAT	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PRAMILA NANDU GUPTA	5 INE601U08242	10,00,000	50,00,000
LISTED	1 NANDU HARIPRASAD GUPTA	5 INE601U08242	10,00,000	50,00,000
LISTED	1 KANAN TRIPATHY	2 INE601U08242	10,00,000	20,00,000
LISTED	1 SUMITRA MOHAPATRA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 GANESH VASANT RANE	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PADMINI SANDEEP KARKARE	1 INE601U08242 1 INE601U08242	10,00,000	10,00,000
				, ,
LISTED	1 JULIE CHIRAG SHAH .	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PURNIMA DUTTA .	2 INE601U08242	10,00,000	20,00,000
LISTED	1 SADHANA GANGADHAR KOLWALKAR .	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ZULIYA SANTOSH SHARMA .	1 INE601U08242	10,00,000	10,00,000
LISTED	1 DEEPAK RAMCHANDRA MAHAJAN .	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RADHA SUDHAKAR SHARMA .	2 INE601U08242	10,00,000	20,00,000
LISTED	1 CHAMPAKLAL KHIMJI CHHEDA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RUPAL VIRESH BHATT	1 INE601U08242	10,00,000	10,00,000
LISTED	1 HAMEN SURENDRA PATEL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RITA ATUL DESAI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 REHANABANU R SHAIKH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ASMITA UPENDRA SHAH	1 INE601U08242 1 INE601U08242	10,00,000	10,00,000
LIGIED	I ADMITA UFENDIA SHAH	1 IINDUUTUU0242	10,00,000	10,00,000

LISTED	1 NIZAMUDDIN GYASUDDIN SHAIKH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 NIPA KETAN DOSHI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SONIKA KETAN DOSHI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 JAYSHREE MANOJ KATARIA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 JAYNA HAMEN PATEL .	1 INE601U08242	10,00,000	10,00,000
LISTED	1 KEYUR VINODCHANDRA SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SONI JAYSHREE MAHENDRAKUMAR	2 INE601U08242	10,00,000	20,00,000
LISTED	1 SUCHITRA BANKERAIKA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ANIL CHHABILDAS SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 USHABEN NARENDRABHAI PARIKH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SUNIL AGARWAL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 GAUR GOPAL DAS	5 INE601U08242	10,00,000	50,00,000
LISTED	1 HARSHA ROMESH PATEL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 JAGRUTI BIMAL TANNA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 BABOOLAL JAWANMAL SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RANJANBEN BABOOLAL SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RENUKA JIGNESH SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MONIKA BHUPESHKUMAR JAIN	1 INE601U08242	10,00,000	10,00,000
LISTED	1 VRINDA SHETAL SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ANJU CHITRANJAN SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 JIGNESHKUMAR BABOOLAL SHAH	1 INE601U08242	10,00,000	
				10,00,000
LISTED	1 NARENDRA MANGALDAS PATEL	1 INE601U08242 1 INE601U08242	10,00,000	10,00,000
LISTED	1 MADHUBEN MAHENDRA PATEL		10,00,000	10,00,000
LISTED	1 VARSHA MAHESH VORA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 CHANDA DILIP HARIA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 DILIP RAJPAL HARIA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 JOYCE RAJA .	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MEHUL BHARAT JHAVERI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RINA JHAVERI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 NEHA N JHAVERI	2 INE601U08242	10,00,000	20,00,000
LISTED	1 SONAL SUBHASH PALI	2 INE601U08242	10,00,000	20,00,000
LISTED	1 KALPESHKUMAR KANUBHAI SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 KIRANCHANDRA HASMUKHLAL PARPANI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 VARSHA PARESH SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 NIKI DHIREN SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 NEHUL AJIT JHAVERI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 NIKET TEJAS DOSHI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 TEJASWINI VINAY ARONDEKAR	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SAILI AJIT PAVGI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PRAKASHKUMAR KANTILAL KANERIYA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ABHIK PAL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MILIND GANESH BHOLE	1 INE601U08242	10,00,000	10,00,000
LISTED	1 BIMAL KUMAR SARKAR	1 INE601U08242	10,00,000	10,00,000
LISTED	1 VIRENDER KUMAR KHURANA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 CHANDAR SUBRAMANIAM	1 INE601U08242	10,00,000	10,00,000
LISTED	1 TEJAS HARESH HAKANI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 NITABEN VAJENDRALAL SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RAJ KUMAR SINHA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MAMTA SINHA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 DINESH KUMAR KHAIRAJANI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 BHAVNABEN A DALAL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 KHUSHI KALPESH SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 HINA JAYESH DAMANIA	4 INE601U08242	10,00,000	40,00,000
LISTED	1 JAYESH VENILAL DAMANIA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PALLAVI VIJAY VORA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 DILIPKUMAR JETHALAL SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED				10,00,000
	1 WAMIKA BASU	1 INE601U08242	10,00,000	
LISTED	1 MANISHA JAYNESH DOSHI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 GOPAL SOMANI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 BHAKTI PRADIPKUMAR PANDYA	1 INE601U08242	10,00,000	10,00,000
LISTED LISTED	1 VIJAY KUMAR SRIVASTAV	1 INE601U08242	10,00,000	10,00,000
	1 KHEROON SHABBIR	1 INE601U08242	10,00,000	10 00 000

LISTED	1 ERASMO AUGUSTINE SEQUEIRA 1 ANAHITA CHOTHIA 1 REENA AJMANI 1 VILAS KRISHNAKUMAR BONDSE 1 SIDDHARTH KANUBHAI PATEL 1 NIPA MANISH VORA 1 VIPIN PALIWAL 1 MAMTA D PANDIT 1 KUNDANBALA HARSHADRAI MEHTA 1 SIDDHARTH DAHAT 1 USHA CHAUHAN 1 VIRENDRA SINGH 1 MINAKSHI SAINI	1 INE601U08242 1 INE601U08242 2 INE601U08242 1 INE601U08242 1 INE601U08242 1 INE601U08242 1 INE601U08242 1 INE601U08242 1 INE601U08242 1 INE601U08242 1 INE601U08242 3 INE601U08242	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	10,00,000 10,00,000 20,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000
LISTED	1 REENA AJMANI 1 VILAS KRISHNAKUMAR BONDSE 1 SIDDHARTH KANUBHAI PATEL 1 NIPA MANISH VORA 1 VIPIN PALIWAL 1 MAMTA D PANDIT 1 KUNDANBALA HARSHADRAI MEHTA 1 SIDDHARTH DAHAT 1 USHA CHAUHAN 1 VIRENDRA SINGH	2 INE601U08242 1 INE601U08242 1 INE601U08242 1 INE601U08242 1 INE601U08242 1 INE601U08242 1 INE601U08242 1 INE601U08242	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	20,00,000 10,00,000 10,00,000 10,00,000 10,00,000
LISTED	1 VILAS KRISHNAKUMAR BONDSE 1 SIDDHARTH KANUBHAI PATEL 1 NIPA MANISH VORA 1 VIPIN PALIWAL 1 MAMTA D PANDIT 1 KUNDANBALA HARSHADRAI MEHTA 1 SIDDHARTH DAHAT 1 USHA CHAUHAN 1 VIRENDRA SINGH	1 INE601U08242 1 INE601U08242 1 INE601U08242 1 INE601U08242 1 INE601U08242 1 INE601U08242 1 INE601U08242 1 INE601U08242	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	10,00,000 10,00,000 10,00,000 10,00,000
LISTED	1 SIDDHARTH KANUBHAI PATEL 1 NIPA MANISH VORA 1 VIPIN PALIWAL 1 MAMTA D PANDIT 1 KUNDANBALA HARSHADRAI MEHTA 1 SIDDHARTH DAHAT 1 USHA CHAUHAN 1 VIRENDRA SINGH	1 INE601U08242 1 INE601U08242 1 INE601U08242 1 INE601U08242 1 INE601U08242 1 INE601U08242 1 INE601U08242	10,00,000 10,00,000 10,00,000 10,00,000 10,00,000	10,00,000 10,00,000 10,00,000
LISTED LISTED LISTED LISTED LISTED LISTED LISTED LISTED LISTED	1 NIPA MANISH VORA 1 VIPIN PALIWAL 1 MAMTA D PANDIT 1 KUNDANBALA HARSHADRAI MEHTA 1 SIDDHARTH DAHAT 1 USHA CHAUHAN 1 VIRENDRA SINGH	1 INE601U08242 1 INE601U08242 1 INE601U08242 1 INE601U08242 1 INE601U08242	10,00,000 10,00,000 10,00,000 10,00,000	10,00,000 10,00,000
LISTED LISTED LISTED LISTED LISTED LISTED LISTED	1 VIPIN PALIWAL 1 MAMTA D PANDIT 1 KUNDANBALA HARSHADRAI MEHTA 1 SIDDHARTH DAHAT 1 USHA CHAUHAN 1 VIRENDRA SINGH	1 INE601U08242 1 INE601U08242 1 INE601U08242 1 INE601U08242	10,00,000 10,00,000 10,00,000	10,00,000
LISTED LISTED LISTED LISTED LISTED LISTED	1 MAMTA D PANDIT 1 KUNDANBALA HARSHADRAI MEHTA 1 SIDDHARTH DAHAT 1 USHA CHAUHAN 1 VIRENDRA SINGH	1 INE601U08242 1 INE601U08242 1 INE601U08242	10,00,000 10,00,000	
LISTED LISTED LISTED LISTED	1 KUNDANBALA HARSHADRAI MEHTA 1 SIDDHARTH DAHAT 1 USHA CHAUHAN 1 VIRENDRA SINGH	1 INE601U08242 1 INE601U08242	10,00,000	10 00 000
LISTED LISTED LISTED	1 SIDDHARTH DAHAT 1 USHA CHAUHAN 1 VIRENDRA SINGH	1 INE601U08242		10,00,000
LISTED LISTED LISTED	1 SIDDHARTH DAHAT 1 USHA CHAUHAN 1 VIRENDRA SINGH	1 INE601U08242		10,00,000
LISTED LISTED	1 USHA CHAUHAN 1 VIRENDRA SINGH		10,00,000	10,00,000
LISTED			10,00,000	30,00,000
		1 INE601U08242	10,00,000	10,00,000
LISTED		1 INE601U08242	10,00,000	10,00,000
LISTED	1 PANKTI SMITESH SHETH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SAHIL AJAY KEJRIWAL	4 INE601U08242	10,00,000	40,00,000
	1 JITENDRA CHANDRAKANT MEHTA	10 INE601U08242	10,00,000	1,00,00,000
	1 DEEPAK RAJMAL KOTHARI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MUKESH CHATURBHUJ LILANI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 BABOOLAL JAWANMAL SHAH	1 INE601U08242	10,00,000	10,00,000
	1 NERGISH ASPI LANGRANA	2 INE601U08242	10,00,000	20,00,000
LISTED	1 NEVILLE ASPI LANGRANA	2 INE601U08242	10,00,000	
		2 INE601U08242 2 INE601U08242	, ,	20,00,000
LISTED	1 JEHAN FRAMROZ LANGRANA		10,00,000	20,00,000
	1 VINOD SRINIVASAN	1 INE601U08242	10,00,000	10,00,000
	1 NEELAM PRASHANT CHITNIS	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MANOJ KUMAR JAISWAL .	3 INE601U08242	10,00,000	30,00,000
LISTED	1 BHARAT P DOSHI .	1 INE601U08242	10,00,000	10,00,000
	1 Y M SUGUNA .	1 INE601U08242	10,00,000	10,00,000
	1 MALINI .	1 INE601U08242	10,00,000	10,00,000
	1 SANJAY SAGAR	3 INE601U08242	10,00,000	30,00,000
	1 NUTAN SAGAR	2 INE601U08242	10,00,000	20,00,000
	1 JANGOO KHURSHED MISTRY .	1 INE601U08242	10,00,000	10,00,000
	1 INDER PREET SINGH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MANISHA BHAGAT	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PURVI JAIN	1 INE601U08242	10,00,000	10,00,000
LISTED	1 BHAVANA H DIYORA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RAJ VIPUL SHAH	3 INE601U08242	10,00,000	30,00,000
LISTED	1 LAXMI RAMESH MANJESHWAR	2 INE601U08242	10,00,000	20,00,000
LISTED	1 ARUN DAS BAIJAL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 KOMAL JIGNESH JUTHANI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 JAYANTILAL HARGOVINDDAS AJMERA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MAHESH AMBALAL PATEL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PRATIBHA MAHESH PATEL	1 INE601U08242	10,00,000	10,00,000
	1 RITESH NAVINCHANDRA MEHTA	1 INE601U08242	10,00,000	10,00,000
	1 BIJAL VAIBHAV SHAH	1 INE601U08242	10,00,000	10,00,000
	1 BIRAJ NIRANJAN VYAS	1 INE601U08242	10,00,000	10,00,000
	1 SHWETA P AGRAWAL	1 INE601U08242	10,00,000	10,00,000
	1 DEEPA NISHITH SHROFF	1 INE601U08242	10,00,000	10,00,000
LISTED	1 URMILA JAYESH SHAH	1 INE601U08242	10,00,000	10,00,000
	1 VIJAY RAMANLAL SHAH	1 INE601U08242	10,00,000	10,00,000
	1 NAYNABEN V SHAH	1 INE601U08242	10,00,000	10,00,000
	1 SAM GUSTAD HIRAMANECK	2 INE601U08242	10,00,000	20,00,000
	1 MEENABEN DILIPBHAI PATEL	1 INE601U08242 1 INE601U08242	10,00,000	10,00,000
LISTED	1 DIPAKKUMAR GUNVANTRAY PATEL		10,00,000	10,00,000
LISTED	1 MANISHABEN DIPAKKUMAR PATEL	1 INE601U08242	10,00,000	10,00,000
	1 KOMAL APURVA GHIYA	1 INE601U08242	10,00,000	10,00,000
	1 NARENDRAKUMAR RASIKLAL SHAH	1 INE601U08242	10,00,000	10,00,000
	1 JIGNESHKUMAR RASIKLAL SHAH	1 INE601U08242	10,00,000	10,00,000
	1 BHARAT CHHAGANLAL SONI	1 INE601U08242	10,00,000	10,00,000
	1 CHHAGANLAL NARSHIBHAI SONI	1 INE601U08242	10,00,000	10,00,000
	1 MANISHA VASANT MANJREKAR	1 INE601U08242	10,00,000	10,00,000
LISTED	1 CHARUSHEELA DINESHKUMAR KULKARNI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 USHMABEN VIKASHBHAI SHAH	1 INE601U08242	10,00,000	10,00,000

LISTED	1 FAREED GULAMABBAS KARACHIWALA	5 INE601U08242	10,00,000	50,00,000
LISTED	1 NITA RAJESH SHUKLA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 DHIREN VANUBHAI MEHTA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 BHANUKUMAR GIRDHARLAL FOZDAR	1 INE601U08242	10,00,000	10,00,000
LISTED	1 DRISH PURAV FOZDAR	1 INE601U08242	10,00,000	10,00,000
LISTED	1 DAIWIK PURAV FOZDAR	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PANKTI SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RAJENDRA HIMATLAL SALOT	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SANGITA DEVANG AMBANI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 DEEPA SAMIR SHROFF	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MIHIR DEVANG AMBANI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 REKHA GUPTA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SANTOSH GUPTA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MAMTA GUPTA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SUNITA AGARWAL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 KAVITA DEVI AGRAWAL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PADMAVATI RAMESHCHANDRA SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 KIRAT RAMANLAL TURAKHIA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PRITI KIRAT TURAKHIA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 NIRAV RAJESH PAREKH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 DINESHCHANDRA KADIYA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SHUSHILABEN KANUBHAI THAKKAR	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RISHI GOENKA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SNEH GIRISH THAKKAR	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SVAPNIL DHARMESH SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 VIMLA JAGDISH SHAHANI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ASHISH SRIVASTAVA	2 INE601U08242	10,00,000	20,00,000
LISTED	1 ROFINA MENEZES	1 INE601U08242	10,00,000	10,00,000
LISTED	1 BINA ANIL SOMAIYA .	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ANIL KANTILAL SOMAIYA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SWATI AGRAWAL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 VIMLA DEVI GUPTA	10 INE601U08242	10,00,000	1,00,00,000
LISTED	1 SUNDERESAN RAJENDRAN HEMAVATHY	1 INE601U08242	10,00,000	10,00,000
LISTED	1 GEET HITENDRA SAMPAT	1 INE601U08242	10,00,000	10,00,000
LISTED	1 NILESH MANILAL SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 CHANDRU KISHINCHAND VALIRAMANI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ANAND KUMAR NATHMAL GADODIA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 WANGCHUK LAMA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RAJIV PANDURANG GAIKWAD	1 INE601U08242	10,00,000	10,00,000
LISTED	1 JUNAID CHANDRU VALIRAMANI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 LINGADOORAI SANTHANAKKRUSHNAN HARI GOVINDH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 UJJWALA RAHUL BAXI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 BHARGAVI ARCHANA BATHULA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 LINGADORAI SANTHANA KRISHNAN SHEILA RANEE	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SACHI NILESH SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SANJAY KUMAR AIREN	1 INE601U08242	10,00,000	10,00,000
LISTED	1 TALUR POMPAPATHY PRABHUDEV	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ASHOK SURYASINH ANJARIA	2 INE601U08242	10,00,000	20,00,000
LISTED	1 DAXA NILESH SHAH	2 INE601U08242	10,00,000	20,00,000
LISTED	1 SMIT MODI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 HITESH JAIN	4 INE601U08242	10,00,000	40,00,000
LISTED	1 RANJANBEN MAHENDRABHAI MAKHIYAVIYA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ISHITA SUNIL MAVINKURVE	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RACHNA ASNANI	1 INE601U08242	10,00,000	10,00,000

LISTED	1 KEVAL KAMLESHBHAI SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SANDHYA KAMLESH SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 REKHA JOSHI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SHEETHAL ROSHELLE VEIGAS	1 INE601U08242	10,00,000	10,00,000
LISTED	1 LUCKY NANDY	5 INE601U08242	10,00,000	50,00,000
LISTED	1 FALGUNI HARNESHKUMAR MEHTA .	2 INE601U08242	10,00,000	20,00,000
LISTED	1 OM PRAKASH JAISWAL .	2 INE601U08242	10,00,000	20,00,000
LISTED	1 DHARMENDRA JASWANTLAL SHAH	2 INE601U08242	10,00,000	20,00,000
LISTED	1 RITI PANT 1 CHANDRAPRAKASH YOGENDRAPRATAP	1 INE601U08242	10,00,000	10,00,000
LISTED	SINGH	5 INE601U08242	10,00,000	50,00,000
LISTED	1 MALABIKA PATHAK	3 INE601U08242	10,00,000	30,00,000
LISTED	1 CHHAVI AGGARWAL	3 INE601U08242	10,00,000	30,00,000
LISTED	1 DAXA HASMUKH MEHTA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 VIPUL RAMESHCHANDRA SHAH	7 INE601U08242	10,00,000	70,00,000
LISTED	1 DARSHANA HARESH JHAVERI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 NEHA THIRANI BAGRI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PURVESH RAJNIKANT SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 R VAITHIANATHAN	1 INE601U08242	10,00,000	10,00,000
LISTED	1 MANJU VERMA	2 INE601U08242	10,00,000	20,00,000
LISTED	1 ANIL KUMAR VERMA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 KAVITA H KALWANI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ANIL KANTILAL SOMAIYA	3 INE601U08242	10,00,000	30,00,000
LISTED	1 BINA ANIL SOMAIYA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 HANSABEN GOVINDBHAI PATEL	1 INE601U08242	10,00,000	10,00,000
LISTED	1 AMEE MILIND KANUGA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 DHAVAL M TAILOR	1 INE601U08242	10,00,000	10,00,000
LISTED	1 PRATIK J AMIN	3 INE601U08242	10,00,000	30,00,000
LISTED	1 SHAKUNTLA PARIKH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 VANMALA GIRISH NANAVATI	3 INE601U08242	10,00,000	30,00,000
LISTED	1 JUGAL PARIKH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 KARISHMA PATHIK SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 DINAZ HUSHIDER MUNSHI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 DOSHI ALPA HARESH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 JAYESH V THAKKAR	1 INE601U08242	10,00,000	10,00,000
LISTED	1 FARIDA COOVER CONTRACTOR	1 INE601U08242	10,00,000	10,00,000
LISTED	1 CHANDAN SARKAR 1 SHUCHITA YAGNESH MEHTA	2 INE601U08242	10,00,000	20,00,000
LISTED LISTED	1 SHUCHITA YAGNESH MEHTA 1 B. KAMAKOTI .	1 INE601U08242 2 INE601U08242	10,00,000	20,00,000
LISTED	1 KULDIP BHATIA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 ARCHANA KIRAN ACHAREKAR	1 INE601U08242	10,00,000	10,00,000
LISTED	1 CHANDRAKANT RATANSHI CHHEDA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SONALI RAJESH THAKUR	1 INE601U08242	10,00,000	10,00,000
LISTED	1 KINNARI VISHAL GOSALIA	1 INE601U08242	10,00,000	10,00,000
LISTED	1 BHARAT NATHALAL VAGHANI	2 INE601U08242	10,00,000	20,00,000
LISTED	1 DARISIPUDI SATYAVATY	1 INE601U08242	10,00,000	10,00,000
LISTED	1 TARULATA MAHESH SHAH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SEEMA SHYAM KALAMBI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RAWI KUMAR PURI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 EKTA PURI PAREKH	1 INE601U08242	10,00,000	10,00,000
LISTED	1 SANDHYA RAWI PURI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 GUNTURI PADMAVATHI	1 INE601U08242	10,00,000	10,00,000
LISTED	1 RAJESH AMRATLAL SHAH	6 INE601U08242	10,00,000	60,00,000
LISTED	1 N R VENKATESAN	1 INE601U08242	10,00,000	10,00,000
LISTED	1 GURVINDER KAUR	5 INE601U08242	10,00,000	50,00,000
LISTED	1 SHREE BOMBAY JAIN SWAYAMSEVAK	1 INE601U08242	10,00,000	10,00,000
v vomer-	MANDAL	6 D.W.60(******	10.00.000	ZO 00 00 -
LISTED	1 MAHADEVI BIRLA GIRLS HIGH SCHOOL	6 INE601U08242	10,00,000	60,00,000
	EMPLOYEES PROVIDENT FUND			
LICTED	1 DEVC MEDICAL CTODES DUT LTD	2 INECO1100242	10.00.000	20.00.000
LISTED	1 DEYS MEDICAL STORES PVT LTD PROVIDENT FUND	2 INE601U08242	10,00,000	20,00,000
LISTED	1 P C MANGALICK PUBLIC CHARITABLE	4 INE601U08242	10,00,000	40,00,000
LIGIED	TRUST	TINEUU1 UU0242	10,00,000	40,00,000
	11(00)1			

LISTED	1 SHREE MODH VANIK SEVA SAMAJ	1	INE601U08242	10,00,000	10,00,000
LISTED	1 R.S.R.MOHOTA SPG.&WVG.MILLS	2	INE601U08242	10,00,000	20,00,000
	LTD.EMPLOYEES PROVIDENT FUND TRUST				
LISTED	1 SBI DFHI LIMITED		INE601U08259	10,00,000	25,00,00,000
LISTED	1 ADITYA BIRLA SUN LIFE TRUSTEE PRIVATE	1620	INE601U08259	10,00,000	1,62,00,00,000
	LIMITED A/C ADITYA BIRLA SUN LIFE LOW				
	DURATION FUND				
LISTED	1 ADITYA BIRLA SUN LIFE TRUSTEE PRIVATE	600	INE601U08259	10,00,000	60,00,00,000
LISTED	LIMITED A/C ADITYA BIRLA SUN LIFE	000	1112001000237	10,00,000	00,00,00,000
	SHORT TERM FUND				
LISTED	1 ADITYA BIRLA SUN LIFE TRUSTEE PRIVATE	250	INE601U08259	10.00.000	25,00,00,000
	LIMITED A/C ADITYA BIRLA SUN LIFE			, ,	, , ,
	SAVINGS FUND				
LISTED	1 ADITYA BIRLA SUN LIFE TRUSTEE PRIVATE	180	INE601U08259	10,00,000	18,00,00,000
	LIMITED A/C ADITYA BIRLA SUN LIFE				
	CREDIT RISK FUND				
LISTED	1 AXIS TREASURY ADVANTAGE FUND		INE601U08259	10,00,000	35,00,00,000
LISTED	1 AXIS MUTUAL FUND TRUSTEE LIMITED A/C	150	INE601U08259	10,00,000	15,00,00,000
	AXIS MUTUAL FUND A/C AXIS CREDIT RISK				
	FUND			40.00.000	= 0.00.00.00
LISTED	1 UTI-UNIT LINKED INSURANCE PLAN		INE601U08259	10,00,000	50,00,00,000
LISTED	1 UTI - REGULAR SAVINGS FUND		INE601U08259	10,00,000	25,00,00,000
LISTED	1 UTI - HYBRID EQUITY FUND		INE601U08259 INE601U08259	10,00,000	20,00,00,000
LISTED	1 UTI - RETIREMENT BENEFIT PENSION FUND	300	INE601008259	10,00,000	30,00,00,000
LISTED	1 UTI SHORT TERM INCOME FUND	600	INE601U08259	10,00,000	60,00,00,000
LISTED	1 BHAGWATI FILTERS PRIVATE LIMITED		INE601U08275	1,00,00,000	1,00,00,000
		•	11.2001000275	1,00,00,000	2,00,00,000
LISTED	1 BHAGWATI SPHEROCAST PVT LTD	1	INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 VAL ORGANICS PVT LTD	1	INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 SRI KUMARASWAMY MINERAL EXPORTS	2	INE601U08275	1,00,00,000	2,00,00,000
	PVT LTD				
LISTED	1 MAHESH VISHNU TRADE & CREDIT PVT.	1	INE601U08275	1,00,00,000	1,00,00,000
	LTD.				
LISTED	1 PROLINE EXPORTS PRIVATE LIMITED	1	INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 HARI ORGOCHEM PVT LTD	15	INE601U08275	1,00,00,000	15,00,00,000
LISTED	1 SERICULTURISTS CUM FARMERS SERVICE		INE601U08275	1,00,00,000	2,00,00,000
LISTED	CO OPERATIVE SOCIETY NIYAMITHA	2	1112001000273	1,00,00,000	2,00,00,000
	CO OF ENTITY E GOCILET I THE INTERNATION				
LISTED	1 BHAGWATI IMPEX PRIVATE LTD	1	INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 SARJEN SYSTEMS PRIVATE LIMITED		INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 EVEREST FOOD PRODUCTS PRIVATE	10	INE601U08275	1,00,00,000	10,00,00,000
	LIMITED				
LISTED	1 KUSUM SILICONES PRIVATE LIMITED	1	INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 AARTI INDUSTRIES LTD		INE601U08275	1,00,00,000	3,00,00,000
LISTED	1 AQUATIC REMEDIES LIMITED		INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 AQUATIC FORMULATIONS INDIA LTD	2	INE601U08275	1,00,00,000	2,00,00,000
LICTED	1 CAMADDAN CONVERTED COVILITO	1	INE6011109275	1.00.00.000	1,00,00,000
LISTED LISTED	1 SAMARPAN CONVERTERS PVT LTD 1 HPS GASES LIMITED		INE601U08275 INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 HYDERABAD RACE		INE601U08275	1,00,00,000	5,00,00,000
LISTED	1 INDCHEMIE HEALTH SPECIALITIES		INE601U08275	1,00,00,000	2,00,00,000
	PRIVATE	2	11.2001000213	1,00,00,000	2,00,00,000
LISTED	1 DHANUKA AGRITECH LIMITED	5	INE601U08275	1,00,00,000	5,00,00,000
LISTED	1 TEAM COMPUTERS PVT LTD		INE601U08275	1,00,00,000	2,00,00,000
LISTED	1 Gujarat JHM Hotels Ltd		INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 GOODSOME SALES PRIVATE LIMITED	1	INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 DILIP SWADI		INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 DHANO BULCHAND VASWANI	1	INE601U08275	1,00,00,000	1,00,00,000

LISTED LISTED LISTED LISTED	1 VIJAY THAKORDAS PARMAR 1 ARUN PROPERTIES LLP 1 MANOJKUMAR GIANCHAND DADLANI	1	INE601U08275 INE601U08275	1,00,00,000	1,00,00,000 1,00,00,000
	1 MANOJKUMAR GIANCHAND DADLANI	1	DIE COLLINO DE E		
LISTED			INE601U08275	1,00,00,000	1,00,00,000
	1 ASHWINA PIYUSH SHAH	1	INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 SONAL JAYESH SHAH	1	INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 NILAY PIYUSH SHAH	1	INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 ALPESH TRILOK PARIKH	1	INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 PARESH RANJIT KAPADIA	1	INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 H V KEDLAYA	1	INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 BHAVIK KIRAN SHAH	2	INE601U08275	1,00,00,000	2,00,00,000
LISTED	1 DILIP SWADI	1	INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 RISHAV MEHRA	2	INE601U08275	1,00,00,000	2,00,00,000
LISTED	1 NARENDRA SINGHANIA	1	INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 INDRA KALA KUNWAR	1	INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 PINGLE VENUGOPAL REDDY	1	INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 SUNIL SINGH	1	INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 RANJEET DHANO VASWANI	1	INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 RAJNI DHANO VASWANI	1	INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 SANDHYA WINDLASS	1	INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 MANJULA DHIRAJLAL PATEL	1	INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 VIMLA DHANO VASWANI	2	INE601U08275	1,00,00,000	2,00,00,000
LISTED	1 ARUN CHANDRASEN PORECHA	1	INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 PRAVINA KISHORE PORECHA	1	INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 APURVA KISHOR CHOKSI	1	INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 MICHELLE DESAI	3	INE601U08275	1,00,00,000	3,00,00,000
LISTED	1 BHARATI UMESH BANGERA	1	INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 RANJEEV CHANDRA DUBEY	1	INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 JYOTHI S GUREDDI	2	INE601U08275	1,00,00,000	2,00,00,000
LISTED	1 VAISHALI NIKHIL ZAVERI	1	INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 RAMA SATISH	1	INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 SUBHASH SHANKERLAL SHAH	1	INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 KALPESH BABUBHAI DALAL	1	INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 Akhil Awasthi	1	INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 JEEYANI ANUPAM PAREEK	1	INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 VIJAY RAMKRISHNA DEO	1	INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 ALKA VALIA	1	INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 ASHNI SANDIP SHAH	1	INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 PRATIBHA RAMESHCHAND BADJATE	1	INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 LYLA CYRUS GAZDER	1	INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 NIPUN HARIHAR BHATT	1	INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 VEDIKA BAJPAI	1	INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 SAVITA BHARAT JALAN	2	INE601U08275	1,00,00,000	2,00,00,000
LISTED	1 PUTTARAJU P GOWDA	1	INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 PALLAWI RAJIV PODAR		INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 RADHA GOVIND KHATORIA		INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 AKHIL RAMESH DHAM		INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 JAYESH NAVIN KHONA		INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 JANAK GAUTAMBHAI NANAVATY		INE601U08275	1,00,00,000	4,00,00,000
LISTED	1 RAMESHCHANDRA CHUNILAL SHAH		INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 ARUN DAS BAIJAL	1	INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 PREMLATA RAMANLAL TURAKHIA	1	INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 BHAVIK C SHAH		INE601U08275	1,00,00,000	1,00,00,000
LISTED	1 HINDUSTAN ZINC LIMITED	2500	INE601U08283	10,00,000	2,50,00,00,000
LISTED	1 AXIS MUTUAL FUND TRUSTEE LIMITED A/C AXIS MUTUAL FUND A/C AXIS REGULAR SAVER FUND	50	INE601U08291	10,00,000	5,00,00,000
LISTED	1 AXIS MUTUAL FUND TRUSTEE LIMITED A/C AXIS MUTUAL FUND A/C AXIS TRIPLE ADVANTAGE FUND	50	INE601U08291	10,00,000	5,00,00,000
LISTED	1 AXIS MUTUAL FUND TRUSTEE LTD. A/C AXIS MUTUAL FUND A/C AXIS BALANCED ADVANTAGE FUND	150	INE601U08291	10,00,000	15,00,00,000

LISTED	1 AXIS MUTUAL FUND TRUSTEE LIMITED A/C AXIS MUTUAL FUND A/C AXIS EQUITY	100	INE601U08291	10,00,000	10,00,00,000
	HYBRID FUND				
LISTED	1 UNION BANK OF INDIA (EMPLOYEES') PENSION FUND	200	INE909H08089	5,00,000	10,00,00,000
LISTED	1 BIBEKANANDA ROY	2	INE909H08097	5,00,000	10,00,000
LISTED	1 BIJALEE ROY	2	INE909H08097	5,00,000	10,00,000
LISTED	1 SAMARESH ROY	12	INE909H08097	5,00,000	60,00,000
LISTED	1 KRISHNA SAMARESH ROY	2	INE909H08097	5,00,000	10,00,000
LISTED	1 TATA MOTORS LIMITED SUPERANNUATION FUND	380	INE909H08097	5,00,000	19,00,00,000
LISTED	1 TATA MOTORS LIMITED PROVIDENT FUND	230	INE909H08097	5,00,000	11,50,00,000
LISTED	1 TATA MOTORS LIMITED GRATUITY FUND	80	INE909H08097	5,00,000	4,00,00,000
LISTED	1 THE TATA ENGINEERING AND LOCOMOTIVE CO. LTD EMPLOYEES PENSION FUND	40	INE909H08097	5,00,000	2,00,00,000
LISTED	1 NISHA TRIVEDI	2	INE909H08105	5,00,000	10,00,000
LISTED	1 TATA MOTORS LIMITED SUPERANNUATION FUND	216	INE909H08105	5,00,000	10,80,00,000
LISTED	1 TATA MOTORS LIMITED PROVIDENT FUND	100	INE909H08105	5,00,000	5,00,00,000
LISTED	1 TATA MOTORS LIMITED GRATUITY FUND	220	INE909H08105	5,00,000	11,00,00,000
LISTED	1 Avalokiteshvar Valinv Limited	100	INE909H08113	5,00,000	5,00,00,000
LISTED	1 KANGA FINANCIAL SERVICES PRIVATE LIMITED	6	INE909H08113	5,00,000	30,00,000
LISTED	1 GOPANI SECURITIES AND INVESTMENTS PRIVATE LIMITED	1	INE909H08113	5,00,000	5,00,000
LISTED	1 SOLARSON CHEMICALS TALOJA PVT LTD	1	INE909H08113	5,00,000	5,00,000
LISTED	1 ANANT SHREE SHOPPE PRIVATE LIMITED	2	INE909H08113	5,00,000	10,00,000
LISTED	1 AFCO INFRACON PVT LTD	2	INE909H08113	5,00,000	10,00,000
LISTED	1 AFCO FINCON PVT. LTD.		INE909H08113	5,00,000	10,00,000
LISTED	1 ANJALI NAVRANGPURA COOP HSG SOC LTD	1	INE909H08113	5,00,000	5,00,000
LISTED	1 LOVABLE LINGERIE LIMITED	10	INE909H08113	5,00,000	50,00,000
LISTED	1 EASTERN FINANCIERS LIMITED		INE909H08113	5,00,000	30,00,000
LISTED	1 BANG OVERSEAS LIMITED	20	INE909H08113	5,00,000	1,00,00,000
LISTED	1 CHANCE INVESTMENTS AND TRADING COMPANY PVT LTD	2	INE909H08113	5,00,000	10,00,000
LISTED	1 HEMANT TOOLS PVT LTD	2	INE909H08113	5,00,000	10,00,000
LISTED	1 MISRILALL MINES PRIVATE LIMITED	20	INE909H08113	5,00,000	1,00,00,000
LISTED	1 SNV HOLDINGS PRIVATE LIMITED	5	INE909H08113	5,00,000	25,00,000
LISTED	1 PICO CAPITAL PRIVATE LIMITED	9	INE909H08113	5,00,000	45,00,000
LISTED	1 WEALTH FIRST	1	INE909H08113	5,00,000	5,00,000
LISTED	1 LKP SECURITIES LIMITED	1	INE909H08113	5,00,000	5,00,000
LISTED	1 SHITAL CHAMPAKLAL BOGHANI	1	INE909H08113	5,00,000	5,00,000
LISTED	1 DILIP SHRIDHAR DEODHAR	1	INE909H08113	5,00,000	5,00,000
LISTED	1 DESAI PRANAV GIRIRAJBHAI	1	INE909H08113	5,00,000	5,00,000
LISTED	1 NIMISH PARIKH		INE909H08113	5,00,000	5,00,000
LISTED	1 ARUN SUBRAO PRABHU	2		5,00,000	10,00,000
LISTED LISTED	1 SUNIL MANIKANT KOTHARI HUF 1 SHYAMLAL JAIN HUF		INE909H08113 INE909H08113	5,00,000	35,00,000
LISTED	I SHYAMLAL JAIN HUF I HEMANT SUMATILAL KOTADIA HUF		INE909H08113	5,00,000 5,00,000	10,00,000 5,00,000
LISTED	1 NIKHIL JASUBHAI PARIKH HUF	1	INE909H08113	5,00,000	5,00,000
LISTED	1 KAMDAR PANKAJ	1	INE909H08113	5,00,000	5,00,000
LISTED	1 KIRITKUMAR MAGANLAL CHOKSI	2	INE909H08113	5,00,000	10,00,000
LISTED	1 KIMTI LAL JAIN	2	INE909H08113	5,00,000	10,00,000

LISTED	1 SURESHBHAI CHIMANLAL SHAH	10 INE909H08113	5.00,000	50,00,000
LISTED	1 PRADEEP DATTATRAYA KHEDKAR	1 INE909H08113	5,00,000	5,00,000
LISTED	1 CHETAN SURESHBHAI SHAH	5 INE909H08113	5,00,000	25,00,000
LISTED	1 ASHISH SURESHBHAI SHAH	5 INE909H08113	5,00,000	25,00,000
LISTED	1 HIMANSHU SHANTILAL CHOKSHI	2 INE909H08113	5,00,000	10,00,000
LISTED	1 JASHWANTLAL CHIMANLAL PATEL	1 INE909H08113	5,00,000	5,00,000
LISTED	1 PATEL VASANT JASHWANTLAL (HUF)	2 INE909H08113	5,00,000	10,00,000
LISTED	TATEL VASANT JASHWANTLAL (HOT)	2 11 12 10 11 10 11 13	3,00,000	10,00,000
LISTED	1 TAPAN JITENDRA (HUF)	1 INE909H08113	5,00,000	5,00,000
LISTED	1 PATEL JIGAR HARSHADBHAI (HUF)	1 INE909H08113	5,00,000	5,00,000
LISTED	1 ASHOK L KIRPALANI	1 INE909H08113	5,00,000	5,00,000
LISTED	1 JAYRAJ MAGANBHAI NAIK	2 INE909H08113	5,00,000	10,00,000
LISTED	1 PRANAV R NANAVATY	1 INE909H08113	5,00,000	5,00,000
LISTED	1 ANUP SHEWARAM GIYANANI	1 INE909H08113	5,00,000	5,00,000
LISTED	1 KIRIT AMRATLAL NAGDA	1 INE909H08113	5,00,000	5,00,000
LISTED	1 VENKATESH MAHESHWARI	1 INE909H08113	5,00,000	5,00,000
LISTED	1 BIRJU JITENDRA PATEL HUF	1 INE909H08113	5,00,000	5,00,000
LISTED	1 GOPAL JHUNJHUNWALA HUF	10 INE909H08113	5,00,000	50,00,000
LISTED	1 TUSHAR JHUNJHUNWALA HUF	10 INE909H08113	5,00,000	50,00,000
LISTED	1 MAHENDRABHAI AMRATLAL HAJI HUF	1 INE909H08113	5,00,000	5,00,000
			,,,,,,,	.,,
LISTED	1 THIRVINDER SINGH ANAND	2 INE909H08113	5,00,000	10,00,000
LISTED	1 SUDHIR T GOSAR HUF	2 INE909H08113	5,00,000	10,00,000
LISTED	1 SUNIL RAMLAL RAMRAKHIANI	2 INE909H08113	5,00,000	10,00,000
LISTED	1 DEVANG J DESAI	1 INE909H08113	5,00,000	5,00,000
LISTED	1 PRAVIN GAMBHIRCHAND SHAH	4 INE909H08113	5,00,000	20,00,000
LISTED	1 LILADHAR DHARAMSHI SHAH	1 INE909H08113	5,00,000	5,00,000
LISTED	1 BHAILAL G SHAH	2 INE909H08113	5,00,000	10,00,000
LISTED	1 HARESH SHEWARAM KATARA	2 INE909H08113	5,00,000	10,00,000
LISTED	1 VINAY G PUNJABI (HUF)	1 INE909H08113	5,00,000	5,00,000
LISTED	1 HEMANT PRAVIN SHAH HUF	4 INE909H08113	5,00,000	20,00,000
LISTED	1 KAMDAR PRADIP PRANLAL HUF	1 INE909H08113	5,00,000	5,00,000
LISTED	1 MAHENDRA JIVRAM JANI HUF	1 INE909H08113	5,00,000	5,00,000
LISTED	1 RAMESH RATILAL CHOKSEY - HUF	1 INE909H08113	5,00,000	5,00,000
LISTED	1 MUKESH MANEKLAL DALAL .	1 INE909H08113	5,00,000	5,00,000
LISTED	1 VIPIN KASTURLAL GANDHI (HUF)	1 INE909H08113	5,00,000	5,00,000
LISTED	1 KAMLESH JASHWANTLAL SHETH HUF	3 INE909H08113	5,00,000	15,00,000
LISTED	1 SANJAY GANESH GOKHALE HUF .	1 INE909H08113	5,00,000	5,00,000
LISTED	1 MADHUR ANEJA HUF .	1 INE909H08113	5,00,000	5,00,000
LISTED	1 JANAK HASMUKHLAL SHETH HUF .	8 INE909H08113	5,00,000	40,00,000
LISTED	1 PRAVINCHANDRA DAYACHAND JHAVERI	1 INE909H08113	5,00,000	5,00,000
LISTED	1 SUMIT NANDEDKAR HUF	1 INE909H08113	5,00,000	5,00,000
LISTED	1 AMIT NANDEDKAR HUF	1 INE909H08113	5,00,000	5,00,000
LISTED	1 NIMISH KIRITKUMAR PARIKH HUF	1 INE909H08113	5,00,000	5,00,000
LISTED	1 SHIV KUMAR JAIN HUF .	5 INE909H08113	5,00,000	25,00,000
LISTED	1 URVISH DAGLI HUF .	1 INE909H08113	5,00,000	5,00,000
LISTED	1 P.K. AJMERA	1 INE909H08113	5,00,000	5,00,000
LISTED	1 SHAH SHAILESH KANTILAL HUF .	1 INE909H08113	5,00,000	5,00,000
LISTED	1 PARIKH PAPER AGENCIES LLP	3 INE909H08113	5,00,000	15,00,000
LISTED	1 RGP EXPORTS LLP	2 INE909H08113	5,00,000	10,00,000
LISTED	1 DEVARSONS TRADEIN LLP	30 INE909H08113	5,00,000	1,50,00,000
LISTED	1 PRAGDAS MATHURADAS (BOMBAY) LLP	2 INE909H08113	5,00,000	10,00,000
LISTED	1 ARPIT AUTO LIMITED LIABILITY PARTNERSHIP	2 INE909H08113	5,00,000	10,00,000
LISTED	1 DARSHAN BHUPEN SHAH	1 INE909H08113	5,00,000	5,00,000
LISTED	1 ANITA KUNJAN THAKOR	3 INE909H08113	5,00,000	15,00,000
LISTED	1 ROOZBEH FARAMROZ SHROFF	1 INE909H08113	5,00,000	5,00,000
LISTED	1 RAJNIKANT CHHOTALAL SHAH	1 INE909H08113	5,00,000	5,00,000
LISTED	1 NEELU S SITLANI	1 INE909H08113	5,00,000	5,00,000
LISTED	1 NAYANA JASWANT ZAVERI	1 INE909H08113	5,00,000	5,00,000
LISTED	1 Ashadevi Rameshkumar Poddar	20 INE909H08113	5,00,000	1,00,00,000

v vomen	da b u b u	10	D. TERRO A STATE A STA	- 00 000 I	
LISTED	1 Sangeeta Pramodkumar Poddar		INE909H08113	5,00,000	50,00,000
LISTED	1 Sohrab Erach Dastur		INE909H08113	5,00,000	5,00,000
LISTED	1 ASHA PURANMALKA	_	INE909H08113	5,00,000	5,00,000
LISTED	1 DIPTY R GOSWAMI	_	INE909H08113	5,00,000	5,00,000
LISTED	1 DEEPAK KESHAV PATWARDHAN		INE909H08113	5,00,000	5,00,000
LISTED	1 SANDHYA VIKASBHAI DHRUVE	2	INE909H08113	5,00,000	10,00,000
LISTED	1 SHASHI NANDA	2	INE909H08113	5,00,000	10,00,000
LISTED	1 MINA RANI BOSE	2	INE909H08113	5,00,000	10,00,000
LISTED	1 JABAL C LASHKARI	1	INE909H08113	5,00,000	5,00,000
LISTED	1 KULDEEP SINGH NANDA	10	INE909H08113	5,00,000	50,00,000
LISTED	1 KARISHMA ANUP GIYANANI	1	INE909H08113	5,00,000	5,00,000
LISTED	1 KIRAN TULSIANI	1	INE909H08113	5,00,000	5,00,000
LISTED	1 ANKAN BISWAS	_	INE909H08113	5,00,000	15,00,000
LISTED	1 FERNANDO RUI NAVARRO MENEZES		INE909H08113	5,00,000	5,00,000
LISTED	1 SHWETA NIRAJ MEHTA		INE909H08113	5,00,000	10,00,000
LISTED	1 ABAN K .RAGINA		INE909H08113	5,00,000	10,00,000
LISTED	1 SANJIV KUMAR BHARGAVA	_	INE909H08113	5,00,000	
		_			5,00,000
LISTED	1 JAMSHED S DABOO		INE909H08113	5,00,000	10,00,000
LISTED	1 HIMANSHU BANSILAL VAIDYA		INE909H08113	5,00,000	5,00,000
LISTED	1 R VEDASAGAR	_	INE909H08113	5,00,000	10,00,000
LISTED	1 VANDANA MASALDAN	_	INE909H08113	5,00,000	20,00,000
LISTED	1 SOUNDARAM RAJENDRAN	_	INE909H08113	5,00,000	20,00,000
LISTED	1 RAMESH KUMAR NAIR	2	INE909H08113	5,00,000	10,00,000
LISTED	1 MANOJ RACHWANI	1	INE909H08113	5,00,000	5,00,000
LISTED	1 MAYUR MUKUNDBHAI DESAI	8	INE909H08113	5,00,000	40,00,000
LISTED	1 SURBHI BAJORIA	40	INE909H08113	5,00,000	2,00,00,000
LISTED	1 SHAIVAL MAYURBHAI DESAI	2	INE909H08113	5,00,000	10,00,000
LISTED	1 SWATI MUKUNDBHAI DESAI	1	INE909H08113	5,00,000	5,00,000
LISTED	1 PRATIBHA SUDHIR GHAG	1	INE909H08113	5,00,000	5,00,000
LISTED	1 PRITI CHANDRAKANT GANDHI	1	INE909H08113	5,00,000	5,00,000
LISTED	1 PHIROZE BYRAMSHAW ILLAVA	4	INE909H08113	5,00,000	20,00,000
LISTED	1 PREETI SHAH	_	INE909H08113	5,00,000	5,00,000
LISTED	1 PALLAVI SATYADEV MAYOR		INE909H08113	5,00,000	30,00,000
LISTED	1 AJAY MAYOR	_	INE909H08113	5,00,000	30,00,000
LISTED	1 MIRABEN JAGATBHAI PALKHIWALA	_	INE909H08113	5,00,000	15,00,000
LISTED	1 KHUSHRU H KANGA		INE909H08113	5,00,000	5,00,000
LISTED	1 DEEPALI DILIP KALE	_	INE909H08113	5,00,000	5,00,000
LISTED	1 ZAHRA UMID BUDHWANI		INE909H08113	5,00,000	5,00,000
LISTED	1 ZAYEEDA UMID BUDHWANI		INE909H08113	5,00,000	10,00,000
LISTED	1 SAMINDRA NARAYAN MITRA		INE909H08113	5.00.000	5,00,000
		_	INE909H08113	- , ,	
LISTED	1 GOOL SHAPUR BROACHA			5,00,000	25,00,000
LISTED	1 BHARATKUMAR CHUNILAL SHAH	_	INE909H08113	5,00,000	5,00,000
LISTED	1 ZOHAIR ZOEB CHINWALA		INE909H08113	5,00,000	10,00,000
LISTED	1 BAGYALAKSHMI	_	INE909H08113	5,00,000	5,00,000
LISTED	1 SRINIVASAN G		INE909H08113	5,00,000	5,00,000
LISTED	1 MOHINI MOHAN VARDE	_	INE909H08113	5,00,000	10,00,000
LISTED	1 VARDE MOHAN SHANKAR	_	INE909H08113	5,00,000	5,00,000
LISTED	1 N P ACHUTHAN	_	INE909H08113	5,00,000	5,00,000
LISTED	1 LINA PRANAV DESAI		INE909H08113	5,00,000	5,00,000
LISTED	1 PRABHA GURURAJ DHARWADKAR		INE909H08113	5,00,000	5,00,000
LISTED	1 SANTOSH KUMAR ONKARLAL	1	INE909H08113	5,00,000	5,00,000
l	KHANDELWAL				
LISTED	1 SUDHA RANJAN PRASAD	1	INE909H08113	5,00,000	5,00,000
LISTED	1 BIBEKANANDA ROY	2	INE909H08113	5,00,000	10,00,000
LISTED	1 BIJALEE ROY	2	INE909H08113	5,00,000	10,00,000
LISTED	1 RAMESH DIPCHAND VORA	_	INE909H08113	5,00,000	5,00,000
LISTED	1 RAMESH BABU SHARMA		INE909H08113	5,00,000	10,00,000
LISTED	1 NEELA RAJIV DALVI		INE909H08113	5,00,000	10,00,000
		_	INE909H08113	5,00,000	10,00,000
LISTED	1ISTIDIP B PATEL	- ',		2,00,000	10,00,000
LISTED	1 SUDIP B PATEL 1 SUBPATA DASCUPTA	_			20.00.000
LISTED	1 SUBRATA DASGUPTA	4	INE909H08113	5,00,000	20,00,000
LISTED LISTED	1 SUBRATA DASGUPTA 1 NOSHIR KAIKHSHROO HARDA	4	INE909H08113 INE909H08113	5,00,000 5,00,000	20,00,000
LISTED LISTED LISTED	1 SUBRATA DASGUPTA 1 NOSHIR KAIKHSHROO HARDA 1 KUMUD SANGHAVI CHAWARE	4 4	INE909H08113 INE909H08113 INE909H08113	5,00,000 5,00,000 5,00,000	20,00,000 5,00,000
LISTED LISTED	1 SUBRATA DASGUPTA 1 NOSHIR KAIKHSHROO HARDA	4 4 1 4	INE909H08113 INE909H08113	5,00,000 5,00,000	20,00,000

LISTED LISTED LISTED LISTED LISTED LISTED LISTED	1 SHAH VASUDEV CHAMPAKLAL 1 SULOCHANA PATIL 1 ANUSHREE KAPIL SAXENA	1	INE909H08113 INE909H08113	5,00,000 5,00,000	20,00,000 5,00,000
LISTED LISTED	1 ANUSHREE KAPIL SAXENA	1			5,00,000
LISTED		1	INE909H08113	5,00,000	5,00,000
	1 KUMISHA R SHAH	1	INE909H08113	5,00,000	5,00,000
LISTED	1 JAYA HEMANT GANDHI	1	INE909H08113	5,00,000	5,00,000
DISTED	1 SUNIL CHANDRAKANT PAREKH	2	INE909H08113	5,00,000	10,00,000
LISTED	1 V SHANKAR	90	INE909H08113	5,00,000	4,50,00,000
LISTED	1 AMI ASHESH SHAH	1	INE909H08113	5,00,000	5,00,000
LISTED	1 RAMESH C. VORA	1	INE909H08113	5,00,000	5,00,000
LISTED	1 SIDHARTHA JAIN	1	INE909H08113	5,00,000	5,00,000
LISTED	1 VISHAKHA HARI BHAGVAT		INE909H08113	5,00,000	5,00,000
LISTED	1 NAYAN N SHAH	5	INE909H08113	5,00,000	25,00,000
LISTED	1 VINAY SHIVLAL SEJPAL	1	INE909H08113	5,00,000	5,00,000
LISTED	1 DIPALI GAUTAM SURA	1	INE909H08113	5,00,000	5,00,000
LISTED	1 GANESH NEELKANTH KULKARNI	3	INE909H08113	5,00,000	15,00,000
LISTED	1 HIRALAL HUKMICHAND SHAH	1	INE909H08113	5,00,000	5,00,000
LISTED	1 GAUTAM KIRTIKAR SURA	1	INE909H08113	5,00,000	5,00,000
LISTED	1 SHYAMAL LAXMIKANT RUPAREL	1	INE909H08113	5,00,000	5,00,000
LISTED	1 RATILAL D PATEL	1	INE909H08113	5,00,000	5,00,000
LISTED	1 SUBRAMANIAN NILAKANTAN	•	INE909H08113	5,00,000	5,00,000
LISTED	1 BHARAT R DESAI		INE909H08113	5,00,000	5,00,000
LISTED	1 GUPTA PRAMODKUMAR UMASHANKAR	1	INE909H08113	5,00,000	5,00,000
LISTED	1 RAJADHYAKSHA REKHA DIGAMBAR	2	INE909H08113	5,00,000	10.00.000
LISTED	1 SWAMI ARUNA NAROTTAMKUMAR	1	INE909H08113	5,00,000	5,00,000
LISTED	1 SURRINDAR SINGH	1	INE909H08113	5,00,000	5,00,000
LISTED	1 ANUPAMA ANISH BAHL		INE909H08113	5,00,000	20,00,000
LISTED	1 GORE ATUL JANARDAN	3	INE909H08113	5,00,000	15,00,000
LISTED	1 VINAYAK RAMAN SANE	1	INE909H08113	5,00,000	5,00,000
LISTED	1 MADHURI SHRIKANT WARERKAR	2	INE909H08113	5,00,000	10,00,000
LISTED	1 SEEMA VINAYAK SANE	1	INE909H08113	5,00,000	5,00,000
LISTED	1 HARVINDER KAUR	3	INE909H08113	5,00,000	15,00,000
LISTED	1 ACHYUT SHRIDHAR GODBOLE	1	INE909H08113	5,00,000	5,00,000
LISTED	1 ISHWAR R KHANDWALA	10	INE909H08113	5,00,000	50,00,000
LISTED	1 NITIN ISHWARLAL CONTRACTOR	2	INE909H08113	5,00,000	10,00,000
LISTED	1 ARCHANA ASHOK PUROHIT		INE909H08113	5,00,000	5,00,000
LISTED	1 SNEHALATA VIBHAKAR SUKHATANKAR	1	INE909H08113	5,00,000	5,00,000
LISTED	1 SAMIR SALIM BUDHWANI	2	INE909H08113	5,00,000	10,00,000
LISTED	1 SALIM ABDUL BUDHWANI		INE909H08113	5,00,000	5,00,000
LISTED	1 SHARMIN SALIM BUDHWANI		INE909H08113	5,00,000	10,00,000
LISTED	1 RUMI M BEHRAMKAMDIN		INE909H08113	5,00,000	5,00,000
LISTED	1 LALITHA KAUL	1	INE909H08113	5,00,000	5,00,000
LISTED	1 MAHAFRID FARHAD BILLIMORIA	1	INE909H08113	5,00,000	5,00,000
LISTED	1 JYOTIBEN SUDIPBHAI PATEL	2	INE909H08113	5,00,000	10,00,000
LISTED	1 KALYANI NANDEDKAR	1	INE909H08113	5,00,000	5,00,000
LISTED	1 SHUBHADA V JOSHI	1	INE909H08113	5,00,000	5,00,000
LISTED	1 JYOTIBEN V PATEL	2	INE909H08113	5,00,000	10,00,000
LISTED	1 HEMA DHARMESH TRIVEDI	1	INE909H08113	5,00,000	5,00,000
LISTED	1 BARFIWALA JAYSHREE D	1	INE909H08113	5,00,000	5,00,000
LISTED	1 ABHIMANYU KHEDKAR	2	INE909H08113	5,00,000	10,00,000
LISTED	1 RAJAM KRISHNAN	1	INE909H08113	5,00,000	5,00,000
LISTED	1 KRISHNA SAMARESH ROY	2	INE909H08113	5,00,000	10,00,000
LISTED	1 SANJAY NARESHCHANDRA DALAL		INE909H08113	5,00,000	5,00,000
LISTED	1 MRS JYOTI GIRISH TALSANIA	1	INE909H08113	5,00,000	5,00,000
LISTED	1 GOLANI RANIBEN MURLIDHAR	1	INE909H08113	5,00,000	5,00,000
LISTED	1 ASHOK KUMAR SYAL	1	INE909H08113	5,00,000	5,00,000
LISTED	1 LAKSHMI RAJAGOPAL	1	INE909H08113	5,00,000	5,00,000
LISTED	1 AMBALAL MATHURBHAI PATEL	2	INE909H08113	5,00,000	10,00,000
LISTED	1 TARABEN AMBALAL PATEL	1	INE909H08113	5,00,000	5,00,000
LISTED	1 BINA A SHAH	•	INE909H08113	5,00,000	10,00,000
LISTED	1 RUBY JAL KHARAS	2	INE909H08113	5,00,000	10,00,000
LISTED	1 LAL CHAND RAM YADAV	1	INE909H08113 INE909H08113	5,00,000 5,00,000	5,00,000

LICERT	4 ANTI MAGUNATU ADAG	1 0	DIEGONIOGI 12	5 00 000	40.00.000
LISTED	1 ANIL KASHINATH ARAS		INE909H08113	5,00,000	10,00,000
LISTED	1 BHARATI K CHANDIRAMANI	1	INE909H08113	5,00,000	5,00,000
LISTED	1 KALPANA TUSHAR VORA	2	INE909H08113	5,00,000	10,00,000
LISTED	1 RAJAN MANUBHAI DESAI	2	INE909H08113	5,00,000	10,00,000
LISTED	1 DIVYESH GORDHANBHAI PATEL	-	INE909H08113	5,00,000	10,00,000
LISTED	1 KHUSHI JAYRAJ NAIK		INE909H08113	5,00,000	5,00,000
					, ,
LISTED	1 NALINI SHAILESH KAPADIA		INE909H08113	5,00,000	40,00,000
LISTED	1 ANIL KOHLI	10	INE909H08113	5,00,000	50,00,000
LISTED	1 NAJOO FAREDOON MODI	3	INE909H08113	5,00,000	15,00,000
LISTED	1 PARUL PRANAV NANAVATY	3	INE909H08113	5,00,000	15,00,000
LISTED	1 SHEETAL SUNIL SHAH	4	INE909H08113	5,00,000	20,00,000
LISTED	1 NEVILLE CYRUS NARIMAN		INE909H08113	5,00,000	,
					10,00,000
LISTED	1 ARUN SUBRAO PRABHU	_	INE909H08113	5,00,000	15,00,000
LISTED	1 SURAJA ARUN PRABHU	3	INE909H08113	5,00,000	15,00,000
LISTED	1 DINESHCHANDRA BHIKHALAL SOLANKI	1	INE909H08113	5,00,000	5,00,000
LISTED	1 SONIA PREM DARYANANI	2	INE909H08113	5,00,000	10,00,000
LISTED	1 DEVAL CHETANBHAI SHAH	3	INE909H08113	5,00,000	15,00,000
-		-			
LISTED	1 RIDDHIMA BAHL		INE909H08113	5,00,000	20,00,000
LISTED	1 POOJA PURANMALKA		INE909H08113	5,00,000	5,00,000
LISTED	1 PRATIMA NARINDERSINGH JAMWAL		INE909H08113	5,00,000	10,00,000
LISTED	1 KRUTI HIMANSHU CHOKSHI	2	INE909H08113	5,00,000	10,00,000
LISTED	1 MIRAL CHETANBHAI SHAH	1	INE909H08113	5,00,000	5,00,000
LISTED	1 ANUP SHEWARAM GIYANANI	1	INE909H08113	5,00,000	5,00,000
LISTED	1 ADITYA GARG		INE909H08113	5,00,000	10,00,000
LISTED	1 INDIRA HARSHAD MEHTA		INE909H08113	5,00,000	
				- , ,	5,00,000
LISTED	1 VRINDA SURESH KINI		INE909H08113	5,00,000	10,00,000
LISTED	1 GAJENDRA SAMPAT	1	INE909H08113	5,00,000	5,00,000
LISTED	1 VINAYAK RAMAN SANE	2	INE909H08113	5,00,000	10,00,000
LISTED	1 VINAYAK RAMAN SANE	1	INE909H08113	5,00,000	5,00,000
LISTED	1 DEVANG J DESAI	2	INE909H08113	5,00,000	10,00,000
LISTED	1 LUBAINA NAZIR BHATRI		INE909H08113	5,00,000	5,00,000
LISTED	1 TARA RAJAGOPALAN		INE909H08113	5,00,000	5,00,000
-					· · ·
LISTED	1 RAJUL JANAK DALAL		INE909H08113	5,00,000	10,00,000
LISTED	1 KUPPA YAGNANARAYANA		INE909H08113	5,00,000	5,00,000
LISTED	1 PUNIL INDRAVADAN PARIKH	2	INE909H08113	5,00,000	10,00,000
LISTED	1 BOMI ERACH DOSABHOY	1	INE909H08113	5,00,000	5,00,000
LISTED	1 TUSHAR JHUNJHUNWALA	5	INE909H08113	5,00,000	25,00,000
LISTED	1 MUKESH AGARWAL		INE909H08113	5,00,000	2,00,00,000
LISTED	1 SHOBHANA YOGESHBHAI SHAH	_	INE909H08113	5,00,000	5,00,000
LISTED	1 RAJENDRA MANGILAL SHINGI		INE909H08113	5,00,000	5,00,000
LISTED	1 RASHMI RAJENDRA SHINGI	1	INE909H08113	5,00,000	5,00,000
LISTED	1 NAND KISHORE KURIL	2	INE909H08113	5,00,000	10,00,000
LISTED	1 AMISHI NIMISH UNADKAT	2	INE909H08113	5,00,000	10,00,000
LISTED	1 AKASH AMIT SHAH	1	INE909H08113	5,00,000	5,00,000
LISTED	1 PADMINI JAYANT BASRUR		INE909H08113	5,00,000	10,00,000
LISTED	1 ALKABA BHUPENDRASINH JADEJA		INE909H08113	5,00,000	10,00,000
			INE909H08113		, ,
LISTED	1 ASHOKKUMAR PARSHOTTAMDAS		T11901160113	5,00,000	10,00,000
L	CHOKSHI				
LISTED	1 FALGUN NIRUBHAI DESAI	_	INE909H08113	5,00,000	5,00,000
LISTED	1 NAYNABEN V SHAH	1	INE909H08113	5,00,000	5,00,000
LISTED	1 KALPESH BABUBHAI DALAL	2	INE909H08113	5,00,000	10,00,000
LISTED	1 KHUSHBOO BHASKERBHAI DAXINI	1	INE909H08113	5,00,000	5,00,000
LISTED	1 KUMUD P MEHTA	_	INE909H08113	5,00,000	5,00,000
LISTED	1 KASHMIRA UDAY GURJAR		INE909H08113	5,00,000	· · ·
					10,00,000
LISTED	1 MADHAVI AJAY PHATAK		INE909H08113	5,00,000	10,00,000
LISTED	1 HIMANSHU UDAYKUMAR MEHTA		INE909H08113	5,00,000	5,00,000
LISTED	1 CHETAN AMRATLAL SHAH	1	INE909H08113	5,00,000	5,00,000
LISTED	1 JAYSHRI SUDHIR GOSAR	1	INE909H08113	5,00,000	5,00,000
LISTED	1 PARAG VILAS TAMHANE	1	INE909H08113	5,00,000	5,00,000
LISTED	1 RAJASI BOSE		INE909H08113	5,00,000	5,00,000
LISTED	1 SADHANA JAIN		INE909H08113	5,00,000	5,00,000
LISTED	1 SHARDUL V VAZE 1 ASHOK D ALATE	_	INE909H08113 INE909H08113	5,00,000 5,00,000	5,00,000 5,00,000
LISTED					

LISTED	1 Aazam Ahmedi Kothawala	1 INE909H08113	5,00,000	5,00,000
LISTED	1 Komal Somani	2 INE909H08113	5,00,000	10,00,000
LISTED	1 Ajay Mahendra Jani	1 INE909H08113	5,00,000	5,00,000
LISTED	1 Ramesh Padmanabhan	6 INE909H08113	5,00,000	30,00,000
LISTED	1 PIYUSH CHANDRAKANT PANJUANI	2 INE909H08113	5,00,000	10,00,000
LISTED	1 DEEPAK PUNDALIK AMALNERKAR	1 INE909H08113	5,00,000	5,00,000
LISTED	1 SAVITABEN DASHARATHBHAI PATEL	1 INE909H08113	5,00,000	5,00,000
LISTED	1 SURYABEN RASIKBHAI PATEL	1 INE909H08113	5,00,000	5,00,000
LISTED	1 VISHAL VISHNU BHAVE	1 INE909H08113	5,00,000	5,00,000
LISTED	1 KEMPALINGAIAH VENKATESH	1 INE909H08113	5,00,000	5,00,000
LISTED	1 BHAVESH RAJANIKANT DALAL	3 INE909H08113	5,00,000	15,00,000
LISTED	1 GEETA RATNAKAR GHANEKAR	1 INE909H08113	5,00,000	5,00,000
LISTED	1 Manisha Hiren Shah	1 INE909H08113	5,00,000	5,00,000
LISTED	1 SHYAMALA S R	1 INE909H08113	5,00,000	5,00,000
LISTED	1 SUNIL SHAMRAO BHANDARE	1 INE909H08113	5,00,000	5,00,000
LISTED	1 KALAVATHY V	1 INE909H08113	5,00,000	5,00,000
LISTED	1 BISHAM RUGHU MALKANI	1 INE909H08113	5,00,000	5,00,000
LISTED	1 SHRIPAD GURUDAS NARVEKAR	1 INE909H08113	5,00,000	5,00,000
LISTED	1 ARTI HEGDE	10 INE909H08113	5,00,000	50,00,000
LISTED	1 NIRUPABEN MAHENDRAKUMAR DAVE	2 INE909H08113	5,00,000	10,00,000
LISTED	1 SANJAY JAYANT SHAH	3 INE909H08113	5,00,000	15,00,000
LISTED	1 PREETI VISHAL PUNJABI	1 INE909H08113	5,00,000	5,00,000
LISTED	1 VIDYADHAR MORESHWAR SANE	1 INE909H08113	5,00,000	5,00,000
LISTED	1 PRAKASH MAHABAL HEGDE	1 INE909H08113	5,00,000	5,00,000
LISTED	1 SHEROO ARDESHIR AMARIA	1 INE909H08113	5,00,000	5,00,000
LISTED	1 PUSHPA MAYUR SHAH	1 INE909H08113	5,00,000	5,00,000
LISTED	1 SUNDAR KRISHNAN	2 INE909H08113	5,00,000	10,00,000
LISTED	1 ANIKET MADHUSUDAN BHIDE	1 INE909H08113	5,00,000	5,00,000
LISTED	1 PUNJABI CHANDRA GIRDHARI	2 INE909H08113	5,00,000	10,00,000
LISTED	1 ASHOK NARAIANDAS NASTA	1 INE909H08113	5,00,000	5,00,000
LISTED	1 DEEPTI NAVEEN DODWANI	1 INE909H08113	5,00,000	5,00,000
LISTED	1 MEERA GAJANAN ACHARYA	1 INE909H08113	5,00,000	5,00,000
LISTED	1 CHANDRI L SOMAYA	1 INE909H08113	5,00,000	5,00,000
LISTED	1 LAXMI ANIL LOBO	1 INE909H08113	5,00,000	5,00,000
LISTED	1 MOHAN SHANKAR VARDE	1 INE909H08113	5,00,000	5,00,000
LISTED	1 GIRDHARI MANGHANMAL PUNJABI	2 INE909H08113	5,00,000	10,00,000
LISTED	1 SONALI DEEPAK NANDE	1 INE909H08113	5,00,000	5,00,000
LISTED	1 KRISHNA VITHOBA VAST	1 INE909H08113	5,00,000	5,00,000
LISTED	1 DEVEN D SALGAONKAR	3 INE909H08113	5,00,000	15,00,000
LISTED	1 MANISH SUKHLAL SHAH	1 INE909H08113	5,00,000	5,00,000
LISTED	1 NACHIKET VIBHAKAR SUKHTANKAR	1 INE909H08113	5,00,000	5,00,000
LIGEED	4 WHA DINA AMIDINDON DENGAMA	1 10150001100112	5.00.000	7.00.000
LISTED	1 KHADIJA NURUDDIN BENGALI	1 INE909H08113	5,00,000	5,00,000
LISTED	1 SHABBIR NURUDDIN BENGALI	1 INE909H08113	5,00,000	5,00,000
LISTED	1 DINESH BAPU SALGAONKAR	5 INE909H08113	5,00,000	25,00,000
LISTED LISTED	1 TAUFIQ ALLARAKHA QURESHI 1 GEETIKA VARDE QURESHI	2 INE909H08113 1 INE909H08113	5,00,000	10,00,000
	,		5,00,000	5,00,000
LISTED LISTED	1 MILIND SHASHIKANT WANDREKAR 1 BEENA EKNATH BHANDEKAR	1 INE909H08113	5,00,000	5,00,000 5,00,000
LISTED	1 RITA KETAN GANGAR	1 INE909H08113 1 INE909H08113	5,00,000 5,00,000	5,00,000
LISTED	1 RATI DHANJISHAW BHUREKHAN	3 INE909H08113	5,00,000	
LISTED	1 AMEY S GHANGURDE	1 INE909H08113	5,00,000	15,00,000 5,00,000
LISTED	1 MADHUSUDAN VAMAN BHIDE	2 INE909H08113	5,00,000	10,00,000
LISTED	1 SAMEER GAJANAN ACHARYA	1 INE909H08113	5,00,000	5,00,000
LISTED	1 KAMLA RIJHUMAL THUTHIJA	2 INE909H08113	5,00,000	10,00,000
LISTED	1 REVANT NANDGAONKAR	1 INE909H08113	5,00,000	5,00,000
LISTED	1 MAANASI MADHAV NANDGAONKAR	1 INE909H08113	5,00,000	5,00,000
LISTED	1 MAANASI MADHAV NANDGAONKAR	1 INE909H08113	5,00,000	5,00,000
LISTED	1 NEETA SANJAY SHAH	1 INE909H08113	5,00,000	5,00,000
LISTED	1 HANOZ MINOO MISTRY	1 INE909H08113	5,00,000	5,00,000
LISTED	1 CHANDULAL NANCHAND SHAH	1 INE909H08113	5,00,000	5,00,000

LISTED	1 KANTA GHANSHAM SOMAYA	1 INE909H08113	5,00,000	5,00,000
LISTED	1 KAMAL CHANDER LALWANI	1 INE909H08113	5,00,000	5,00,000
LISTED	1 PUSHPA CHANDER LALWANI	1 INE909H08113	5,00,000	5,00,000
LISTED	1 DEEPAK NIRMAL RAMCHAND	1 INE909H08113	5,00,000	5,00,000
LISTED	1 NIRMAL RAMCHAND JADHWANI	1 INE909H08113	5,00,000	5,00,000
LISTED	1 ASHA DEEPAK RAMCHAND	1 INE909H08113	5,00,000	5,00,000
LISTED	1 SITU NIRMAL JADHWANI	1 INE909H08113	5,00,000	5,00,000
LISTED	1 BHARATCHANDRA NANCHAND SHAH	1 INE909H08113	5,00,000	5,00,000
LISTED	1 ASHWINI A MOHARIR	1 INE909H08113	5,00,000	5,00,000
LISTED	1 NARESH HUNDRAJ LALWANI	1 INE909H08113	5,00,000	5,00,000
LISTED	1 VIJAY RAMANLAL KHAMBATI	1 INE909H08113	5,00,000	5,00,000
LISTED	1 ROHINI DINESH SHAH	2 INE909H08113	5,00,000	10,00,000
LISTED	1 HASMUKH KANUBHAI SHAH	2 INE909H08113	5,00,000	10,00,000
LISTED	1 SHUBHANGI SURESH MENGLE	3 INE909H08113	5,00,000	15,00,000
LISTED	1 SHAKUNTALA JETHRA	1 INE909H08113	5,00,000	5,00,000
LISTED	1 OMPRAKASH ASSANDAS LALWANI	1 INE909H08113	5,00,000	5,00,000
LISTED	1 SRIPRIYA SUBRAMANIAM	2 INE909H08113	5,00,000	10,00,000
-			5,00,000	
LISTED	1 MEERA GAJANAN ACHARYA	1 INE909H08113		5,00,000
LISTED	1 SUJATA CHITTARANJAN BHAVE	1 INE909H08113	5,00,000	5,00,000
LISTED	1 ARTI ATUL JAIN	1 INE909H08113	5,00,000	5,00,000
LISTED	1 MONISHA SURESH SHROFF	10 INE909H08113	5,00,000	50,00,000
LISTED	1 VIKRAM RAIZADA	10 INE909H08113	5,00,000	50,00,000
LISTED	1 PILOO LALKAKA	2 INE909H08113	5,00,000	10,00,000
LISTED	1 PRABODH AGRAWAL	28 INE909H08113	5,00,000	1,40,00,000
LISTED	1 NAVNIT H PAREKH	1 INE909H08113	5,00,000	5,00,000
LISTED	1 HANSA N PAREKH	1 INE909H08113	5,00,000	5,00,000
LISTED	1 MONIKA JAIN	3 INE909H08113	5,00,000	15,00,000
LISTED	1 SHRIMATI GANGWAL	3 INE909H08113	5,00,000	15,00,000
LISTED	1 DIVATIA MANJARIKABEN	4 INE909H08113	5,00,000	20,00,000
LISTED	1 HETAL KOTHARI	8 INE909H08113	5,00,000	40,00,000
LISTED	1 S N VARADARAJAN	2 INE909H08113	5,00,000	10,00,000
LISTED	1 D PUSHPA VARADARAJAN	1 INE909H08113	5,00,000	5,00,000
LISTED	1 MINA MAHENDRA KAPADIA	1 INE909H08113	5,00,000	5,00,000
LISTED	1 NEENA LILADHAR PAREKH	4 INE909H08113	5,00,000	20,00,000
LISTED	1 ANURADHA BHADRESH SONI	6 INE909H08113	5,00,000	30,00,000
LISTED	1 MANISHA HEMANT KOTADIA	2 INE909H08113	5,00,000	10,00,000
LISTED	1 MILIND HARIDAS MERCHANT	3 INE909H08113	5,00,000	15,00,000
LISTED	1 P PAVITHRA	1 INE909H08113	5,00,000	5,00,000
LISTED	1 HIMJA JAGDISH PAREKH	1 INE909H08113	5,00,000	5,00,000
LISTED	1 ANIRUDH BINANI	1 INE909H08113	5,00,000	5,00,000
LISTED	1 PRAGATI BINANI	1 INE909H08113	5,00,000	5,00,000
LISTED	1 NAINA RAMESH CHOKSEY	1 INE909H08113	5,00,000	5,00,000
LISTED	1 MAHENDRA CHIMANLAL SHAH	2 INE909H08113	5,00,000	10,00,000
		 	, , ,	
LISTED LISTED	1 MAHESH MOTI LALWANI . 1 SHREYA ANEJA .	2 INE909H08113 1 INE909H08113	5,00,000 5,00,000	10,00,000
			- , ,	5,00,000
LISTED	1 KAVITHA BISALE RAO .	2 INE909H08113	5,00,000	10,00,000
LISTED	1 MOHANLAL TULSIDAS BHATIA .	1 INE909H08113	5,00,000	5,00,000
LISTED	1 MOORTHY VARADHARAJAN	5 INE909H08113	5,00,000	25,00,000
LISTED	1 HIRAL D KOTHARI	2 INE909H08113	5,00,000	10,00,000
LISTED	1 JAYANTKUMAR KESHAVLAL SHAH	2 INE909H08113	5,00,000	10,00,000
LISTED	1 ASHOK JAYANTILAL MEHTA	1 INE909H08113	5,00,000	5,00,000
LISTED	1 VARSHA MAHESH GANDHI	1 INE909H08113	5,00,000	5,00,000
LISTED	1 HEENA HIRACHAND KARANI	1 INE909H08113	5,00,000	5,00,000
LISTED	1 KAMLESH JASVANTLAL SHETH	1 INE909H08113	5,00,000	5,00,000
LISTED	1 ZARINE PERCY DARUWALLA	1 INE909H08113	5,00,000	5,00,000
LISTED	1 AVINASH CHANDRA SANGAL	1 INE909H08113	5,00,000	5,00,000
LISTED	1 SUPRIYA S BHIWANDKAR	1 INE909H08113	5,00,000	5,00,000
LISTED	1 NAYANA KAMLESH SHETH	1 INE909H08113	5,00,000	5,00,000
LISTED	1 ANIL VASANT PATIL	1 INE909H08113	5,00,000	5,00,000
LISTED	1 PRAKASH KACHARU BORKAR	1 INE909H08113	5,00,000	5,00,000
LISTED	1 BHARATI TAHIL MIRCHANDANI	4 INE909H08113	5,00,000	20,00,000
LISTED	1 MRIDULA NILESH JOSHI	1 INE909H08113	5,00,000	5,00,000

LISTED	1 PRASAD PURUSHOTTAM SAHASRABUDHE	1 INE909H08113	5,00,000	5,00,000
LISTED	1 GAUTAM SHRINIWAS KHARE	1 INE909H08113	5,00,000	5,00,000
LISTED	1 AVAN VIRAPH VANDREWALLA	1 INE909H08113	5,00,000	5,00,000
LISTED	1 KISHORKUMAR SHOUNAK SABNIS	1 INE909H08113	5,00,000	5,00,000
LISTED	1 DEEPALI AMAR SHAH	1 INE909H08113	5,00,000	5,00,000
LISTED	1 KALA KUMAR MIRAJKAR	1 INE909H08113	5,00,000	5,00,000
LISTED	1 MANASEE BHARAT PUNJANI	1 INE909H08113	5,00,000	5,00,000
LISTED	1 KALPANA DINESHKUMAR SHAH	1 INE909H08113	5,00,000	5,00,000
LISTED	1 NEHA NARESH MASRANI	4 INE909H08113	5,00,000	20,00,000
LISTED	1 ZARRIN KHUSHROO DHOLOO	1 INE909H08113	5,00,000	5,00,000
LISTED	1 JAMSHED JEHANGIR KHURSIGARA	1 INE909H08113	5,00,000	5,00,000
LISTED	1 PRADIP NARAYAN GARDE	1 INE909H08113	5,00,000	5,00,000
LISTED	1 DARSHAN PRADIP GARDE	1 INE909H08113	5,00,000	5,00,000
LISTED	1 VIJAY BHIKAJI VAIDYA	1 INE909H08113	5,00,000	5,00,000
LISTED	1 JAYSHREE SATISH JAYA	1 INE909H08113	5,00,000	5,00,000
LISTED	1 SMITA NEELKANTH JOSHI	1 INE909H08113	5,00,000	5,00,000
LISTED	1 DIVIYA KUMARI .	3 INE909H08113	5,00,000	15,00,000
LISTED	1 DHRUTI AMRISH VAIDYA	1 INE909H08113	5,00,000	5,00,000
LISTED	1 SAMPADA SHRIPAD PHATAK	1 INE909H08113	5,00,000	5,00,000
LISTED	1 JAYESH CHAMPAKLAL SHAH	3 INE909H08113	5,00,000	15,00,000
LISTED	1 RAVINDRA DINKAR CHAUDHARI	1 INE909H08113	5,00,000	5,00,000
LISTED	1 DILIP GOVIND GURJAR	1 INE909H08113	5,00,000	5,00,000
LISTED	1 POOJA SANJAY GOKHALE	2 INE909H08113	5,00,000	10,00,000
LISTED	1 NEETA GIRISH WARTY	1 INE909H08113	5,00,000	5,00,000
LISTED LISTED	1 SATCHIDANAND SURESH SHEVDE 1 URMILA ANANT PATWARDHAN	1 INE909H08113 2 INE909H08113	5,00,000	5,00,000
LISTED	1 MITA VINODRAI SHAH	3 INE909H08113	5,00,000	10,00,000
LISTED	1 VIDYA SHRIKANT INAMDAR	1 INE909H08113	5,00,000 5,00,000	15,00,000 5,00,000
LISTED	1 SUMATI RAMESH LABRE	1 INE909H08113	5,00,000	5,00,000
LISTED	1 VIRAPH ERUCH VANDREWALLA	1 INE909H08113	5,00,000	5,00,000
LISTED	1 SUBHASH SITARAM GODHA	1 INE909H08113	5,00,000	5,00,000
LISTED	1 ANITA UDAY BHADBHADE	1 INE909H08113	5,00,000	5,00,000
LISTED	1 DHANANJAY RAMCHANDRA MOHARIR	1 INE909H08113	5,00,000	5,00,000
LISTED	1 ASHWINI SURYAKANT RANGNEKAR	1 INE909H08113	5,00,000	5,00,000
LISTED	1 VIJAYALAKSHMI RAGHAVENDRA KAULGUD	1 INE909H08113	5,00,000	5,00,000
LISTED	1 FALGUNI NAVINCHANDRA PAREKH	1 INE909H08113	5.00.000	5,00,000
LISTED	1 PROACHEE DARA MODY	2 INE909H08113	5,00,000	10,00,000
LISTED	1 MINAL MANISH SOHONI	1 INE909H08113	5,00,000	5,00,000
LISTED	1 MADHURI MADAN SAHASRABUDHE	1 INE909H08113	5,00,000	5,00,000
LISTED	1 VASUNDHARA RAMDAS GAJEWAR	1 INE909H08113	5,00,000	5,00,000
LISTED	1 AMIT PRAVINCHANDRA KANAKIA	7 INE909H08113	5,00,000	35,00,000
LISTED	1 DEEPA AMIT KANAKIA	1 INE909H08113	5,00,000	5,00,000
LISTED	1 ADIL DINSHAWJI BOKDAWALA .	1 INE909H08113	5,00,000	5,00,000
LISTED	1 MEENA NARESH PATEL	1 INE909H08113	5,00,000	5,00,000
LISTED	1 INDU RAMESH RACHH	1 INE909H08113	5,00,000	5,00,000
LISTED	1 DARSHANA HASMUKH MODY	9 INE909H08113	5,00,000	45,00,000
LISTED	1 AMISHA HIMANSHU MODY	6 INE909H08113	5,00,000	30,00,000
LISTED	1 SAKINA MUKHTAR DALAL	1 INE909H08113	5,00,000	5,00,000
LISTED	1 VIBHOOTI ATUL JAIN	1 INE909H08113	5,00,000	5,00,000
LISTED	1 KAMAL ARVINDKUMAR DESAI .	1 INE909H08113	5,00,000	5,00,000
LISTED	1 ARUN CHUNILAL GANDHI	1 INE909H08113		5,00,000
LISTED	1 SNEHALATA MANOHAR DESHMUKH	2 INE909H08113	5,00,000	10,00,000
LISTED LISTED	1 JAYANTHI RAMAN .	1 INE909H08113 1 INE909H08113	5,00,000	5,00,000
LISTED	1 KERSI BAHADUR WADIA 1 PAYAL SHAILESH KAPADIA	1 INE909H08113 1 INE909H08113	5,00,000 5,00,000	5,00,000 5,00,000
LISTED	1 PRATIBHA RUSTAGI	2 INE909H08113	5,00,000	· · · · · · · · · · · · · · · · · · ·
LISTED	1 DALJIT LILARAM MIRCHANDANI	14 INE909H08113	5,00,000	10,00,000 70,00,000
LISTED	1 AVINASH PURSHOTTAM LIMAYE	2 INE909H08113	5,00,000	10,00,000
LISTED	1 SIDHARTHA JAIN	1 INE909H08113	5,00,000	5,00,000
שמושו	1 SHIV KUMAR JAIN			, ,
LISTED	HISHIV KUMAR IAIN	2 INE909H08113	5,00,000	10,00,000

LISTED	1 DIPAK THAKORLAL PASSAWALA	2	INE909H08113	5,00,000	10,00,000
LISTED	1 NANDKUMAR SHANKAR GODBOLE	2	INE909H08113	5,00,000	10,00,000
LISTED	1 SUBRAMANYAN RAJAGOPAL	1	INE909H08113	5,00,000	5,00,000
LISTED	1 VASANTLAL LALLUBHAI SHAH	1	INE909H08113	5,00,000	5,00,000
LISTED	1 PRABHAKAR GANESH THATTE	1	INE909H08113	5,00,000	5,00,000
LISTED	1 MOXABEN DILIPKUMAR TRIVEDI	1	INE909H08113	5,00,000	5,00,000
LISTED	1 JYOTI RAJENDRA SHINGI	6	INE909H08113	5,00,000	30,00,000
LISTED	1 VIRESH CHANDRA MITAL	1	INE909H08113	5,00,000	5,00,000
LISTED	1 SRINIVASAN GOURI SHANKER	1	INE909H08113	5,00,000	5,00,000
LISTED	1 BANWARI LAL BOHRA	2	INE909H08113	5,00,000	10,00,000
LISTED	1 TRYAMBAK PANDURANG KULKARNI	2	INE909H08113	5,00,000	10,00,000
LISTED	1 MIKEN PANKAJ AJMERA	1	INE909H08113	5,00,000	5,00,000
LISTED	1 GEETA RAJAN KOTHARI	1	INE909H08113	5,00,000	5,00,000
LISTED	1 URVASHI JAGDISH PAREKH	2	INE909H08113	5,00,000	10,00,000
LISTED	1 POOJA SUKETU MOTLA	1	INE909H08113	5,00,000	5,00,000
LISTED	1 BHARAT DAMODAR MEHTA	1	INE909H08113	5,00,000	5,00,000
LISTED	1 YASHWANT RAMANLAL SHAH	1	INE909H08113	5,00,000	5,00,000
LISTED	1 HETAL ALOK KOTHARI	2	INE909H08113	5,00,000	10,00,000
LISTED	1 SAURIN NARESHCHANDRA DALAL	1	INE909H08113	5,00,000	5,00,000
LISTED	1 YAZDI GHISTA	1	INE909H08113	5,00,000	5,00,000
LISTED	1 VIRAPH E DARUWALA	1	INE909H08113	5,00,000	5,00,000
LISTED	1 VARSHA FULSHANKER BHATT	1	INE909H08113	5,00,000	5,00,000
LISTED	1 SHABNAM AMIN RAJWANI	1	INE909H08113	5,00,000	5,00,000
LISTED	1 GAURAV KISHORE RACHWANI	1	INE909H08113	5,00,000	5,00,000
LISTED	1 KISHORE DHARAMDAS RACHWANI	1	INE909H08113	5,00,000	
LISTED		1	INE909H08113		5,00,000
	1 SUNALI MANEKLAL SHAH	1		5,00,000	5,00,000
LISTED	1 NILABEN ANUBHAI PATEL	1	INE909H08113	5,00,000	5,00,000
LISTED	1 YOGINI BHARGAV JOSHI	1	INE909H08113	5,00,000	5,00,000
LISTED	1 KALPANA S CHOKSHI	1	INE909H08113	5,00,000	5,00,000
LISTED	1 D MELLO VICTOR TIMOTHY	1	INE909H08113	5,00,000	5,00,000
LISTED	1 S PADMAVATHI		INE909H08113	5,00,000	10,00,000
LISTED	1 MAHESH MASRUBHAI DESAI	1	INE909H08113	5,00,000	5,00,000
LISTED	1 SHAILESHBHAI KANTILAL SHAH .	2	INE909H08113	5,00,000	10,00,000
LISTED	1 PRATIXABEN SHAILESHBHAI SHAH .		INE909H08113	5,00,000	15,00,000
LISTED	1 SUNIL SOOD	10	INE909H08113	5,00,000	50,00,000
LISTED	1 ADITYA P TRIPATHI	1	INE909H08113	5,00,000	5,00,000
LISTED	1 GEETA HARENDRA DESAI	1	INE909H08113	5,00,000	5,00,000
LISTED	1 PARIN AJITKUMAR SHAH	1	INE909H08113	5,00,000	5,00,000
LISTED	1 CHARU HARSHVADAN MEHTA	1	INE909H08113	5,00,000	5,00,000
LISTED	1 HARSHVADAN NAVNITLAL MEHTA	2	INE909H08113	5,00,000	10,00,000
LISTED	1 SHUCHITA YAGNESH MEHTA	1	INE909H08113	5,00,000	5,00,000
LISTED	1 NIRANJANA PRAVINCHANDRA DOSHI	2	INE909H08113	5,00,000	10,00,000
LISTED	1 PERVEZ MANECKSHAW TAVADIA	1	INE909H08113	5,00,000	5,00,000
LISTED	1 NATIONAL ASSOCIATION FOR BLIND	7	INE909H08113	5,00,000	35,00,000
	EMPLOYEES PROVIDENT FUND				
LISTED	1 DHAMPUR SUGAR MILLS PROVIDENT FUND	3	INE909H08113	5,00,000	15,00,000
LISTED	1 THE BELSUND SUGAR CO LIMITED	2	INE909H08113	5,00,000	10,00,000
	EMPLOYEES NEW PROVIDENT FUND				
LISTED	1 MANUGRAPH INDUSTRIES LIMITED	2	INE909H08113	5,00,000	10,00,000
	EXECUTIVES SUPERANNUATION FUND				
LISTED	1 TRUSTEES NAFFAR CHANDRA JUTE MILLS	1	INE909H08113	5,00,000	5,00,000
]	EMPLOYEES PROVIDENT FUND				
LISTED	1 NEUTRAL GLASS AND ALLIED INDUSTRIES	1	INE909H08113	5,00,000	5,00,000
	LIMITED GRATUITY FUND				, , , ,
LISTED	1 BATA INDIA LIMITED EMPLOYEES	14	INE909H08113	5,00,000	70,00,000
					-,,
	STATUTORY PROVIDENT FUND				

LISTED	1 TATA INTERNATIONAL LIMITED	4	INE909H08113	5,00,000	20,00,000
LISTED	PROVIDENT FUND 1 EASTERN MANUFACTURING CO LTD	4	INE909H08113	5,00,000	20,00,000
	WORKERS PROVIDENT FUND			.,,	
LISTED	1 DUTRON PLASTICS LIMITED OFFICERS PROVIDENT FUND	2	INE909H08113	5,00,000	10,00,000
LISTED	1 DUTRON PLASTICS LIMITED GRATUITY	2	INE909H08113	5,00,000	10,00,000
	FUND			2,00,000	,,,,,,,
LISTED	1 DUTRON POLYMERS LIMITED GRATUITY	1	INE909H08113	5,00,000	5,00,000
LISTED	FUND 1 NIPPON POLYMERS PVT LTD GRATUITY	2	INE909H08113	5,00,000	10,00,000
LISTED	FUND	_	INE SOSTION 13	3,00,000	10,00,000
LISTED	1 KANORIA EMPLOYEES PROVIDENT FUND	1	INE909H08113	5,00,000	5,00,000
LISTED	TRUST 1 TATA SPONGE IRON LIMITED EMPLOYEES	- 1	INE909H08113	5,00,000	20,00,000
LISTED	PROVIDENT FUND TRUST	4	IIVE909H08113	3,00,000	20,00,000
LISTED	1 TEXMACO LIMITED EMPLOYEES	2	INE909H08113	5,00,000	10,00,000
	PROVIDENT FUND				
LISTED	1 THE CHAMPDANY INDUSTRIES LTD 100 PERCENT EOU EMP PROVIDEND FUND	2	INE909H08113	5,00,000	10,00,000
	FERCENT EOU EMF FROVIDEND FUND				
LISTED	1 RAMKORI GOENKA CHARITY TRUST	2	INE909H08113	5,00,000	10,00,000
LISTED	1 DELPHI TVS DIESEL SYSTEMS EMPLOYEES	2	INE909H08113	5,00,000	10,00,000
LISTED	PROVIDENTFUND 1 RAMESHWARA JUTE MILLS WORKERS	2.	INE909H08113	5,00,000	10,00,000
LIGILD	PROVIDENT FUND TRUST	_	INE OFFICE TO	3,00,000	10,00,000
LISTED	1 DBC PORT LOGISTICS LIMITED EMPLOYEES GRATUITY FUND	1	INE909H08113	5,00,000	5,00,000
LISTED	1 GEO MILLER AND CO PRIVATE LIMITED	1	INE909H08113	5,00,000	5,00,000
	EMPLOYEES PROVIDENT FUND				, ,
LISTED	1 HAKAMCHAND VAKHATRAM	1	INE909H08113	5,00,000	5,00,000
LISTED	PHILANTHROPIC TRUST 1 TATA TECHNOLOGIES (INDIA) LTD	10	INE909H08113	5 00 000	50,00,000
LISTED	SUPERANNUATION FUND	10	INE909H08113	5,00,000	50,00,000
LISTED	1 PENSION AND PROVIDENT FUND OF	20	INE909H08113	5,00,000	1,00,00,000
	CENTURY TEXTILES AND INDUSTRIES LTD				
LISTED	1 INDIAN POTASH LIMITED STAFF	3	INE909H08113	5.00.000	15,00,000
	PROVIDENT FUND			1,11,111	.,,
LISTED	1 THE PROVIDENT FUND OF THE INDIAN	9	INE909H08113	5,00,000	45,00,000
	STEEL AND WIRE PRODUCTS LTD				
LISTED	1 CALEDONIAN JUTE MILLS CO LTD JUTE	2	INE909H08113	5,00,000	10,00,000
	MILL WORKERS PROVIDENT FUND				
LISTED	1 THE GANGES MFG CO LIMITED MILL	3	INE909H08113	5,00,000	15,00,000
LISTED	WORKERS PROVIDENT FUND	3	INLE JOJII IOO 113	3,00,000	15,00,000
LISTED	1 PARSA JAYANTH AASTHA FAMILY TRUST	4	INE909H08113	5,00,000	20,00,000
LISTED	1 SAVITRIDEVI VISHVANATH MANSINGHKA	1	INE909H08113	5,00,000	5,00,000
LISTED	1 SHRI VISHWANATH MANSINGHKA	3	INE909H08113	5,00,000	15,00,000
LISTED	1 J P SARIA SONS .		INE909H08121	5,00,000	10,00,000
LISTED	1 ANKIT AGARWAL	2	INE909H08121	5,00,000	10,00,000
LISTED	1 Trustees Union Bank of India Employees	200	INE909H08121	5,00,000	10,00,00,000
LISTED	Provident Fund 1 RAGHUKUL SHIKSHAN NIDHI	3	INE909H08121	5,00,000	15,00,000
LISTED	1 ALEMBIC GLASS INDUSTRIES LTD PF		INE909H08121	5,00,000	15,00,000
	TRUST				
LISTED	1 CONCAST INDIA PVT LTD EMPLOYEES		INE909H08121	5,00,000	10,00,000

LISTED	1 SUTTON AND SONS (I) PVT LTD PROVIDENT FUND	1	INE909H08121	5,00,000	5,00,000
LISTED	1 PFIZER LIMITED EMPLOYEES PROVIDENT	10	INE909H08121	5,00,000	50,00,000
LISTED	FUND 1 ALEMBIC PHARMACEUTICALS LIMITED	25	INE909H08121	5,00,000	1,25,00,000
	PROVIDENT FUND				
LISTED	1 NATIONAL CENTRE FOR THE PERFORMING ARTS EMPLOYEES PROVIDENT FUND	2	INE909H08121	5,00,000	10,00,000
LISTED	1 FORTIS HEALTHCARE LTD PROVIDENT FUND TRUST	20	INE909H08121	5,00,000	1,00,00,000
LISTED	1 THE TRIBUNE EMPLOYEES GRATUITY FUND TRUST	8	INE909H08121	5,00,000	40,00,000
LISTED	1 PATEL ENGINEERING CO. LTD. PROVIDENT FUND	4	INE909H08121	5,00,000	20,00,000
LISTED	1 UNITED INDIA INSURANCE COMPANY (EMPLOYEES) PENSION FUND	200	INE909H08121	5,00,000	10,00,00,000
LISTED	1 CADBURY INDIA STAFF GRATUITY FUND	6	INE909H08121	5,00,000	30,00,000
LISTED	1 GARWARE-WALL ROPES EMPLOYEES PROVIDENT FUND	6	INE909H08121	5,00,000	30,00,000
LISTED	1 TRUSTEES PROVIDENT FUND OF THE EMPLOYEES OF THE UGAR SUGAR WORKS LTD	6	INE909H08121	5,00,000	30,00,000
LISTED	1 TRUSTEES CENTRAL BANK OF INDIA EMPLOYEES PENSION FUND	250	INE909H08139	10,00,000	25,00,00,000
LISTED	1 CANARA BANK STAFF PROVIDENT FUND	30	INE909H08139	10,00,000	3,00,00,000
LISTED	1 FRISSION ENTERPRISE PVT LTD	1	INE909H08147	10,00,000	10,00,000
LISTED	1 BRACKNELL INVESTMENTS PVT. LTD.	3	INE909H08147	10,00,000	30,00,000
LISTED	1 SUDEEP KUMAR LOHIA	1	INE909H08147	10,00,000	10,00,000
LISTED	1 MANJULA PARIKH	1	INE909H08147	10,00,000	10,00,000
LISTED	1 SUREKHA NARAIN	2	INE909H08147	10,00,000	20,00,000
LISTED	1 SUDHA BHARAT		INE909H08147	10,00,000	10,00,000
LISTED	1 MURARILAL SHARMA		INE909H08147	10,00,000	10,00,000
LISTED	1 GOPALAN S R		INE909H08147	10,00,000	10,00,000
LISTED	1 SHOBA RAMAKRISHNAN	1	INE909H08147	10,00,000	10,00,000
LISTED LISTED	1 BHAVANA KRISHNAN 1 DEEPIKA BAHETI	1 1	INE909H08147 INE909H08147	10,00,000	10,00,000
LISTED	1 MURARILAL KANDOI		INE909H08147	10,00,000	50,00,000
LISTED	1 VANDANA KANDOI	5	INE909H08147	10,00,000	50,00,000
LISTED	1 DAVID RASQUINHA	1	INE909H08147	10,00,000	10,00,000
LISTED	1 LAVITA SHARMA		INE909H08147	10,00,000	10,00,000
LISTED	1 KRISHNA KANT SHARMA		INE909H08147	10,00,000	10,00,000
LISTED	1 SIVARAM THAILYALBAGUM RAMALINGAM		INE909H08147	10,00,000	10,00,000
LISTED	1 NAYAN YOGESH DIORA	1	INE909H08147	10,00,000	10,00,000
LISTED	1 TRUSTEES CENTRAL BANK OF INDIA		INE909H08147	10,00,000	12,60,00,000
LISTED	EMPLOYEES PROVIDENT FUND 1 PUNE ZILLA MADHYAWARTI SAHAKARI BANK MARYADITPROVIDENT FUND	4	INE909H08147	10,00,000	40,00,000
LISTED	1 PROVIDENT FUND OF GOODYEAR INDIA LIMITED	1	INE909H08147	10,00,000	10,00,000
LISTED	1 S H KELKAR AND CO LTD EMPLOYEES PROVIDENT FUND	3	INE909H08147	10,00,000	30,00,000
LISTED	1 HONEYWELL AUTOMATION INDIA LTD EMPLOYEES PROVIDENT FUND	10	INE909H08147	10,00,000	1,00,00,000
LISTED	1 ST JAMES SCHOOL EMPLOYEES PROVIDENT FUND	2	INE909H08147	10,00,000	20,00,000
LISTED	1 PROVIDENT FUND OF TATA STEEL LIMITED	90	INE909H08147	10,00,000	9,00,00,000

LISTED	1 BHARAT ELECTRONICS LTD PROVIDENT	30	INE909H08147	10,00,000	3,00,00,000
LISTED	FUND I 1 KIRLOSKAR BROTHERS LTD STAFF MEMBERS PROVIDENT FUND	5	INE909H08147	10,00,000	50,00,000
LISTED	1 HDFC BANK LIMITED COVERED EMPLOYEES PROVIDENT FUND TRUST	250	INE909H08147	10,00,000	25,00,00,000
LISTED	1 TRUSTEES OF JEMCO EMPLOYEES PROVIDENT FUND	1	INE909H08147	10,00,000	10,00,000
LISTED	1 ENAM INVESTMENT & SERVICES PVT LTD	100	INE909H08154	10,00,000	10,00,00,000
LISTED	1 BALKRISHNA INDUSTRIES LIMITED	20	INE909H08154	10,00,000	2,00,00,000
LISTED	1 UV HITECH PVT LTD	2	INE909H08154	10,00,000	20,00,000
LISTED	1 HARIKRIPA MERCANTILE PRIVATE LIMITED	1	INE909H08154	10,00,000	10,00,000
LISTED	1 KOTHARI SUGARS AND CHEMICALS LIMITED	30	INE909H08154	10,00,000	3,00,00,000
LISTED	1 RANI SATI TRADING AND INVESTMENT COMPANY PRIVATE LIMITED	2	INE909H08154	10,00,000	20,00,000
LISTED	1 MEHTA VAKIL & CO. PVT. LTD.	4	INE909H08154	10,00,000	40,00,000
LISTED	1 R G AGARWAL	1	INE909H08154	10,00,000	10,00,000
LISTED	1 ATUL J. GORE	1	INE909H08154	10,00,000	10,00,000
LISTED	1 ANISH BAHL		INE909H08154	10,00,000	50,00,000
LISTED	1 THIRVINDER SINGH ANAND		INE909H08154	10,00,000	10,00,000
LISTED LISTED	1 PIYUSH NAVINCHANDRA MODY HUF 1 BHARAT PURSHOTTAM PALAN - HUF		INE909H08154 INE909H08154	10,00,000	10,00,000
LISTED LISTED	1 VIPUL SHASHIKANT KAMANI (HUF) . 1 PRAVEEN PRAKASHCHANDRA MODY HUF .		INE909H08154 INE909H08154	10,00,000	10,00,000 40,00,000
LISTED	TRAVELNI KAKASHCHANDRA MODI HUL.	-1	1112/0/1100134	10,00,000	40,00,000
LISTED	1 PRAKASH VITTAL KAMATH HUF .		INE909H08154	10,00,000	10,00,000
LISTED	1 DHANANJAY SAPRE	1	INE909H08154	10,00,000	10,00,000
LISTED	1 POLLY BHIKHAJI PATEL	1	INE909H08154	10,00,000	10,00,000
LISTED	1 PHIROZE BYRAMSHAW ILLAVA		INE909H08154	10,00,000	10,00,000
LISTED LISTED	1 DEEPALI DILIP KALE 1 SUDIP B PATEL		INE909H08154 INE909H08154	10,00,000	10,00,000
LISTED	1 PRENITA AGGARWAL		INE909H08154	10,00,000	20,00,000
LISTED	1 JYOTIBEN KARTIK CHAWALA		INE909H08154	10,00,000	10,00,000
LISTED	1 KIRIT M CHOKSI		INE909H08154	10,00,000	30,00,000
LISTED	1 KIRITKUMAR MAGANLAL CHOKSI		INE909H08154	10,00,000	10,00,000
LISTED	1 SHANTABAI JAYNARAYAN GANDHI		INE909H08154	10,00,000	20,00,000
LISTED	1 BHAKTI GOTHI	3	INE909H08154	10,00,000	30,00,000
LISTED	1 JYOTIBEN SUDIPBHAI PATEL	1	INE909H08154	10,00,000	10,00,000
LISTED	1 POOJA AGARWAL	1	INE909H08154	10,00,000	10,00,000
LISTED	1 CHITALIA GIRISH KAMALSHI	2	INE909H08154	10,00,000	20,00,000
LISTED	1 SAROJA RAMCHANDRAN		INE909H08154	10,00,000	10,00,000
LISTED	1 KSHITEJ DINESH BAHL		INE909H08154	10,00,000	50,00,000
LISTED	1 NIKITA AMISH SHAH		INE909H08154	10,00,000	40,00,000
LISTED	1 TRUPTI CHIRAG SHAH		INE909H08154	10,00,000	80,00,000
LISTED	1 NEELAM SONI		INE909H08154	10,00,000	20,00,000
LISTED	1 SMITA AGARWAL		INE909H08154	10,00,000	20,00,000
LISTED	1 PATEL JAYANTILAL SHAMJIBHAI		INE909H08154	10,00,000	10,00,000
LISTED LISTED	1 AMRAT KUMARI		INE909H08154 INE909H08154	10,00,000	10,00,000
LISTED	1 ANJALI JAIN 1 SAISRI INKOLLU		INE909H08154	10,00,000	10,00,000
LISTED	1 MOHAN RAO YADLAPALLI		INE909H08154	10,00,000	30,00,000
LISTED	1 SUHAS KESHAVLAL SHAH		INE909H08154	10,00,000	10,00,000
LISTED	1 SAMEER ALI	1	INE909H08154	10,00,000	10,00,000
LISTED	1 NAMRATA ASHOKKUMAR SONI	1	INE909H08154	10,00,000	10,00,000
LISTED	1 ANURADHA JAMBAVALIKAR		INE909H08154	10,00,000	10,00,000
LISTED	1 KIRAN VISANJI SHAH	1	INE909H08154	10,00,000	10,00,000
LISTED	1 MUNNA ASGAR ALI	1	INE909H08154	10,00,000	10,00,000
LISTED	1 MAMATA MOHAN SHENOY		INE909H08154	10,00,000	10,00,000

LISTED	1 ILA MANOJ SHAH	1	INE909H08154	10,00,000	10,00,000
LISTED	1 MANOJ VINAYCHANDRA SHAH		INE909H08154	10,00,000	10,00,000
LISTED	1 CHANDRALEKHA ARUN ROONGTA	2	INE909H08154	10,00,000	20,00,000
LISTED	1 SURBHI BAJORIA	35	INE909H08154	10,00,000	3,50,00,000
LISTED	1 P C BALASUBRAMANIAN	1	INE909H08154	10,00,000	10,00,000
LISTED	1 AKANKSHA SUNIL GOENKA .	1	INE909H08154	10,00,000	10,00,000
LISTED	1 NAINI BOSE D .	2	INE909H08154	10,00,000	20,00,000
LISTED	1 ILA RAJEEV DALAL	1	INE909H08154	10,00,000	10,00,000
LISTED	1 SANJAY GANESH GOKHALE	1	INE909H08154	10,00,000	10,00,000
LISTED	1 MELANIE FERNANDEZ	1	INE909H08154	10,00,000	10,00,000
LISTED	1 JAYSHREE SATISH JAYA	1	INE909H08154	10,00,000	10,00,000
LISTED	1 SARASWATHY RAMAIYER	1	INE909H08154	10,00,000	10,00,000
LISTED	1 APARNA YASHAVANT CHOUDHARY	1	INE909H08154	10,00,000	10,00,000
LISTED	1 SHRIHARI PURUSHOTTAM DAVARE	1	INE909H08154	10,00,000	10,00,000
LISTED	1 VIKAS R CHITRE	1	INE909H08154	10,00,000	10,00,000
LISTED	1 HARSHBHAI NAVNITLAL SHODHAN .	1	INE909H08154	10,00,000	10,00,000
LISTED	1 HASMUKH MANILAL MODY	3	INE909H08154	10,00,000	30,00,000
LISTED	1 SUDHANSHU NAGPAL	1	INE909H08154	10,00,000	10,00,000
LISTED	1 JAY SHREE KOTHARI	1	INE909H08154	10,00,000	10,00,000
LISTED	1 ANURADHA AKHIL SAVANT	1	INE909H08154	10,00,000	10,00,000
LISTED	1 JAYESH JAYENDRA MEHTA	1	INE909H08154	10,00,000	10,00,000
LISTED	1 ASHISH JAYENDRA MEHTA	1	INE909H08154	10,00,000	10,00,000
LISTED	1 LAJUL JAYESH MEHTA		INE909H08154	10,00,000	10,00,000
LISTED	1 AKSHAY GAUTAM DAFTARY		INE909H08154	10,00,000	2,00,00,000
LISTED	1 NAIMISH R DAVE		INE909H08154	10,00,000	30,00,000
LISTED	1 ANJALI GIRISH BAKRE		INE909H08154	10,00,000	50,00,000
LISTED	1 GAUTAM VINOD DAFTARY	20	INE909H08154	10,00,000	2,00,00,000
LISTED	1 SNEHLATA PRATAP SHAH	1	INE909H08154	10,00,000	10,00,000
LISTED	1 USHA BANSAL	1	INE909H08154	10,00,000	10,00,000
LISTED	1 KEKI VIRAF DEHNUGARA	1	INE909H08154	10,00,000	10,00,000
LISTED	1 SUDHAKAR RAJENDRAN	1	INE909H08154	10,00,000	10,00,000
LISTED	1 DALJIT LILARAM MIRCHANDANI	6	INE909H08154	10,00,000	60,00,000
LISTED	1 RITA ATUL DESAI	1	INE909H08154	10,00,000	10,00,000
LISTED	1 DEEPIKA JAIKISHAN RATHI .		INE909H08154	10,00,000	20,00,000
LISTED	1 SEEMA PRAVEEN MODY	10	INE909H08154	10,00,000	1,00,00,000
LISTED	1 JYOTI RAJENDRA SHINGI	2	INE909H08154	10,00,000	20,00,000
LISTED	1 MANOJ NAROTAM MANGHNANI	1	INE909H08154	10,00,000	10,00,000
LISTED	1 GEETIKA GOPALKRISHAN SETHI	1	INE909H08154	10,00,000	10,00,000
LISTED LISTED	1 YOGESH BHURA 1 VINAYAK MAHADEV SATHE		INE909H08154 INE909H08154	10,00,000	20,00,000
		1			10,00,000
LISTED LISTED	1 HAVOVI R KARANJIA 1 RATAN P DHAMODIWALA		INE909H08154 INE909H08154	10,00,000	20,00,000
LISTED	1 PERVIN BEHRAM MISTRY	1	INE909H08154	10,00,000	10,00,000
LISTED	1 RAJESH RAJAGOPALAN	1	INE909H08154	10,00,000	10,00,000
LISTED	1 MEENA MONDAL		INE909H08154	10,00,000	10,00,000
LISTED	1 AGRO TECH FOODS PROVIDENT FUND		INE909H08154	10,00,000	50,00,000
LIGILED	TAGRO ILCITIOODS PROVIDENT FUND	3	11127071100134	10,00,000	30,00,000
LISTED	1 TATA INTERNATIONAL LIMITED	3	INE909H08154	10.00.000	30,00,000
LIGILID	PROVIDENT FUND	3	11.127071100134	10,00,000	30,00,000
LISTED	1 SARALKUNJ TRUST	5	INE909H08154	10,00,000	50,00,000
LISTED	1 UTTAM VALUE STEELS LIMITED		INE909H08154	10,00,000	50,00,000
LISTED	EMPLOYEES PROVIDENT FUND TRUST	3	11127071100154	10,00,000	30,00,000
	LIVII LOTELSTROVIDENTTOND TROST				
LISTED	1 TATA MOTORS LIMITED PROVIDENT FUND	100	INE909H08154	10,00,000	10,00,00,000
				,,	,,,
LISTED	1 THE TATA ENGINEERING AND	2	INE909H08154	10,00,000	20,00,000
	LOCOMOTIVE CO. LTD EMPLOYEES				, ,
	PENSION FUND				
LISTED	1 GANNON DUNKERLEY AND CO LTD	2	INE909H08154	10,00,000	20,00,000
	PROVIDENT FUND	_		, , , , , , ,	-,,
LISTED	1 TRUSTEE GOODYEAR INDIA LTD FACTORY	2	INE909H08154	10,00,000	20,00,000
1	PROVIDENT FUND			• 1	, ,
LISTED	1 INDIAN REGISTER OF SHIPPING STAFF	26	INE909H08154	10,00,000	2,60,00,000
	PROVIDENT FUND		1		, , , , , ,

LISTED	1 SHYAM MANI	3	INE909H08162	10,00,000	30,00,000
LISTED	1 TATA MOTORS LIMITED PROVIDENT FUND	200	INE909H08162	10,00,000	20,00,00,000
LISTED	1 THE TATA ENGINEERING AND	20	INE909H08162	10,00,000	2,00,00,000
	LOCOMOTIVE CO. LTD EMPLOYEES				
LISTED	PENSION FUND 1 UNIVERSAL MEDICARE PVT LTD	50	INE909H08170	10,00,000	5,00,00,000
LISTED	1 P H FINANCIAL & INVESTMENT		INE909H08170	10,00,000	1,00,00,000
LISTED	CONSULTANT PRIVATELTD	10	INE9091108170	10,00,000	1,00,00,000
LISTED	1 GARODIA TRAXIM PVT LTD	3	INE909H08170	10,00,000	30,00,000
LISTED	1 BINOY PODDAR		INE909H08170	10,00,000	10,00,000
LISTED	1 HDFC TRUSTEE COMPANY LIMITED A/C		INE909H08170	10,00,000	26,50,00,000
	HDFC LOW DURATION FUND				-,,,
LISTED	1 SURESH NARAINDAS VASWANI	1	INE909H08170	10,00,000	10,00,000
LISTED	1 SHASHI SANGAL	1	INE909H08170	10,00,000	10,00,000
LISTED	1 TATA MEMORIAL CENTRE CONTRIBUTORY	20	INE909H08170	10,00,000	2,00,00,000
	PROVIDENT FUND				
LISTED	1 C C S O PROVIDENT FUND TRUST	5	INE909H08170	10,00,000	50,00,000
LISTED	1 CMRI PROVIDENT FUND		INE909H08170	10,00,000	40,00,000
LISTED	1 BELLE VUE CLINIC PROVIDENT FUND	2	INE909H08170	10,00,000	20,00,000
LISTED	1 PRATT MEMORIAL SCHOOL EMPLOYEES PROVIDENT FUND	1	INE909H08170	10,00,000	10,00,000
LISTED	1 S H KELKAR AND CO LTD EMPLOYEE'S GRATUITY FUND	3	INE909H08170	10,00,000	30,00,000
LISTED	1 THE LAKSHMI VILAS BANK LIMITED EMPLOYEES PROVIDENT FUND	10	INE909H08170	10,00,000	1,00,00,000
LISTED	1 UNITED INDIA INSURANCE COMPANY LIMITED EMPLOYEES PROVIDENT FUND	100	INE909H08170	10,00,000	10,00,00,000
LISTED	1 THE LAKSHMI VILAS BANK LIMITED EMPLOYEES GRATUITY FUND	8	INE909H08170	10,00,000	80,00,000
LISTED	1 THE LAKSHMI VILAS BANK LIMITED (EMPLOYEES) PENSION FUND	20	INE909H08170	10,00,000	2,00,00,000
LISTED	1 CHHATTISGARH STATE ELECTRICITY BOARD (CSEB) PROVIDENT FUND TRUST	25	INE909H08170	10,00,000	2,50,00,000
LISTED	1 CHHATTISGARH STATE ELECTRICITY BOARD GRATUITYAND PENSION FUND TRUST	40	INE909H08170	10,00,000	4,00,00,000
LISTED	1 MAHADEVI BIRLA GIRLS HIGH SCHOOL EMPLOYEES PROVIDENT FUND	1	INE909H08170	10,00,000	10,00,000
LISTED	1 UNITED INDIA INSURANCE COMPANY (EMPLOYEES) PENSION FUND	300	INE909H08170	10,00,000	30,00,00,000
LISTED	1 UNITED INDIA INSURANCE COMPANY LTD EMPLOYEES GRATUITY FUND	80	INE909H08170	10,00,000	8,00,00,000
LISTED	1 TITAN INDUSTRIES GRATUITY FUND	20	INE909H08170	10,00,000	2,00,00,000
LISTED	1 SHAPOORJI PALLONJI AND COMPANY	30	INE909H08170	10,00,000	3,00,00,000
23.512.2	PRIVATE LIMITED GROUP EMPLOYEES PROVIDENT FUND	50		10,00,000	2,00,00,000
LISTED	1 G O SHAH FAMILY INVESTMENT COMPANY PVT LTD	1	INE909H08188	10,00,000	10,00,000
LISTED	1 AAROHAN HOLDINGS AND ADVISORS PRIVATE LIMITED	1	INE909H08188	10,00,000	10,00,000
LISTED	1 STAKEHOLDERS EMPOWERMENT SERVICES	1	INE909H08188	10,00,000	10,00,000
LISTED	1 MEATTLES PRIVATE LIMITED.	8	INE909H08188	10,00,000	80,00,000
LISTED	1 SMARTLINK HOLDINGS LIMITED	30	INE909H08188	10,00,000	3,00,00,000

LISTED	1 KRUNAL TRADING AND INVESTMENT PVT	3	INE909H08188	10,00,000	30,00,000
LISTED	LTD 1 SERUM INSTITUTE OF INDIA PVT LTD	75	INE909H08188	10,00,000	7,50,00,000
LISTED	1 NAHAR CAPITAL AND FINANCIAL	20	INE909H08188	10,00,000	2,00,00,000
r rames	SERVICES LTD		D. W. COOL VOOL CO	10.00.000	10.00.000
LISTED	1 AFCO INFRACON PVT LTD		INE909H08188	10,00,000	10,00,000
LISTED	1 WOODSIDE FASHIONS LTD.		INE909H08188	10,00,000	1,00,00,000
LISTED LISTED	1 DILESH ROADLINES PVT LTD 1 CHACKOSONS CHEMICALS PVT LTD		INE909H08188 INE909H08188	10,00,000 10,00,000	1,00,00,000
LISTED	1 ASIATIC GASES LIMITED		INE909H08188	10,00,000	30,00,000 1,00,00,000
LISTED	1 AJ MILL STORE AGENCY PRIVATE LIMITED		INE909H08188	10,00,000	40,00,000
LISTED	1 TRADEMAX SOLUTIONS PRIVATE LIMITED	1	INE909H08188	10,00,000	10,00,000
LISTED	1 MEHTA VAKIL & CO. PVT. LTD.	3	INE909H08188	10,00,000	30,00,000
LISTED	1 MANUBHAI KUVERJI SHAH HUF	2	INE909H08188	10,00,000	20,00,000
LISTED	1 PRAKASH SUMATILAL KOTADIA (HUF)	1	INE909H08188	10,00,000	10,00,000
LISTED	1 RUPESH AJITKUMAR VORA HUF	1	INE909H08188	10,00,000	10,00,000
LISTED	1 S K CHAUDHARI		INE909H08188	10,00,000	10,00,000
LISTED	1 MUKESH JAYANTILAL SHAH		INE909H08188	10,00,000	10,00,000
LISTED	1 MINESH SHAH	1	INE909H08188	10,00,000	10,00,000
LISTED	1 ASIM JINDAL HUF	1	INE909H08188	10,00,000	10,00,000
LISTED	1 SUNIL LONDHE HUF	1	INE909H08188	10,00,000	10,00,000
LISTED	1 HARMANBHAI TULSIBHAI PATEL (HUF)	1	INE909H08188	10,00,000	10,00,000
LISTED	1 JASHWANT HIMATLAL KAMDAR HUF .	1	INE909H08188	10,00,000	10,00,000
LISTED	1 NITIN P MEHTA	1	INE909H08188	10,00,000	10,00,000
LISTED	1 GOOCH KUMAR AND SONS HUF		INE909H08188	10,00,000	10,00,000
LISTED	1 RAKESH RAMNIWAS SHAH HUF .		INE909H08188	10,00,000	10,00,000
LISTED	1 KETUL SURESH SHAH (HUF)		INE909H08188	10,00,000	10,00,000
LISTED	1 RAMESHKUMAR KEVALDAS PATEL HUF	1	INE909H08188	10,00,000	10,00,000
LISTED	1 ARPIT AUTO LIMITED LIABILITY PARTNERSHIP	1	INE909H08188	10,00,000	10,00,000
LISTED	1 VINAY MOHANBHAI DESAI	2	INE909H08188	10,00,000	20,00,000
LISTED	1 MANOJ SHEKHAR DOLLI		INE909H08188	10,00,000	10,00,000
LISTED	1 SHRUTI JIGAR SHAH		INE909H08188	10,00,000	10,00,000
LISTED	1 AVANTIKA GOPIKRISHNA SHENOY		INE909H08188	10,00,000	20,00,000
LISTED	1 SHREEDHAR GURURAJ ARCHIK	1	INE909H08188	10,00,000	10,00,000
LISTED	1 RACHNA SETH	1	INE909H08188	10,00,000	10,00,000
LISTED	1 DHARMESH ARVINDBHAI PARIKH	1	INE909H08188	10,00,000	10,00,000
LISTED	1 KULDEEP SINGH NANDA	2	INE909H08188	10,00,000	20,00,000
LISTED	1 SABINA ANOOP SAKRANEY	1	INE909H08188	10,00,000	10,00,000
LISTED	1 SUNIL CHAVAN	2	INE909H08188	10,00,000	20,00,000
LISTED	1 SANGEETA SANDIP SHAH	1	INE909H08188	10,00,000	10,00,000
LISTED	1 SHRUTI ANUP SHAH		INE909H08188	10,00,000	40,00,000
LISTED	1 NEVILLE TATA		INE909H08188	10,00,000	2,00,00,000
LISTED	1 NEVIL CHAMPAKBHAI ZAVERI		INE909H08188	10,00,000	10,00,000
LISTED	1 ALOO NOEL TATA		INE909H08188	10,00,000	1,50,00,000
LISTED	1 NOEL NAVAL TATA		INE909H08188	10,00,000	3,00,00,000
LISTED	1 VINAYA SUDHAKAR		INE909H08188	10,00,000	10,00,000
LISTED	1 JAYASHRI ARUN KEER		INE909H08188	10,00,000	10,00,000
LISTED	1 SAMIR BANERJEE		INE909H08188	10,00,000	10,00,000
LISTED	1 AMAL THAKORE		INE909H08188	10,00,000	10,00,000
LISTED	1 USHA JAGDISH TEJUJA		INE909H08188	10,00,000	10,00,000
LISTED	1 RAKESH RANJAN DUBEY		INE909H08188	10,00,000	10,00,000
LISTED	1 VANITA DE NORONHA		INE909H08188	10,00,000	10,00,000
LISTED	1 VIDYA PARAMESWARAN		INE909H08188	10,00,000	10,00,000
LISTED	1 SAILESH S SHENOI		INE909H08188	10,00,000	10,00,000
LISTED	1 JAIN ASHOK MANILAL 1 RUSTOM ADI HAVEWALLA		INE909H08188 INE909H08188	10,00,000	20,00,000 10,00,000

Y YOMED	A CAMPETAL AND ALL CANADA AND ADVICE	1	D. ITTO O. O. V. O.	10.00.000	10.00.00
LISTED	1 SHREEKANT VASANTLAL MEHTA		INE909H08188	10,00,000	10,00,000
LISTED	1 ARMAITY SAROSH PAGDIWALLA		INE909H08188	10,00,000	10,00,000
LISTED	1 BADAL DILIPKUMAR GORASIA		INE909H08188	10,00,000	10,00,000
LISTED	1 SNEHAL BADAL GORASIA		INE909H08188	10,00,000	10,00,000
LISTED	1 NANDAKUMAR B		INE909H08188	10,00,000	10,00,000
LISTED	1 BINAIFER ASPI KOLAH	1	INE909H08188	10,00,000	10,00,000
LISTED	1 NAYAN KRISHNAVADAN BANKER	1	INE909H08188	10,00,000	10,00,000
LISTED	1 ASHA ANILKUMAR DESAI	1	INE909H08188	10,00,000	10,00,000
LISTED	1 BHANUBEN KISHANBHAI SHETH	1	INE909H08188	10,00,000	10,00,000
LISTED	1 MANJULA RAJA GOPAL	1	INE909H08188	10,00,000	10,00,000
LISTED	1 B. RAJAGOPAL	1	INE909H08188	10,00,000	10,00,000
LISTED	1 JAYNARAYAN D GANDHI	1	INE909H08188	10,00,000	10,00,000
LISTED	1 G ANANTHARAMAN	1	INE909H08188	10,00,000	10,00,000
LISTED	1 TATA SIMONE NAVAL	30	INE909H08188	10,00,000	3,00,00,000
LISTED	1 HUZAAN NAOZER DALAL	1	INE909H08188	10,00,000	10,00,000
LISTED	1 PRADEEP SHANKER MATHUR		INE909H08188	10,00,000	10,00,000
LISTED	1 HIMADRI MUKHERJEE		INE909H08188	10,00,000	10,00,000
LISTED	1 MINATI MUKHERJEE		INE909H08188	10,00,000	10,00,000
LISTED	1 GUNVANTLAL KUVARJIBHAI SAPRA		INE909H08188	10,00,000	10,00,000
LISTED	1 ABHIJIT ARAVIND GAJENDRAGADKAR	_	INE909H08188	10,00,000	30,00,000
LISTED	1 ABIIBII AKAVIND GAJENDKAGADKAK	3	INE3031106166	10,00,000	30,00,000
LISTED	1 NEELA DEB	2	INE909H08188	10,00,000	20,00,000
			INE909H08188		
LISTED	1 DARIUS R DALAL			10,00,000	10,00,000
LISTED	1 ANJALI GHOSH		INE909H08188	10,00,000	10,00,000
LISTED	1 ASHOKBHAI VITTALDAS PATEL	_	INE909H08188	10,00,000	20,00,000
LISTED	1 DEVIKA HARSHADBHAI KOTADIYA		INE909H08188	10,00,000	10,00,000
LISTED	1 SHANTI LAL PARAKH		INE909H08188	10,00,000	10,00,000
LISTED	1 TARA RAO		INE909H08188	10,00,000	30,00,000
LISTED	1 ABHA BHANDARI		INE909H08188	10,00,000	20,00,000
LISTED	1 CYRUS MEHLI MANCHERJI		INE909H08188	10,00,000	10,00,000
LISTED	1 SHERNAZ CYRUS MANCHERJI		INE909H08188	10,00,000	10,00,000
LISTED	1 BHAMA V		INE909H08188	10,00,000	10,00,000
LISTED	1 ANKITA ANAND SHENOY	1	INE909H08188	10,00,000	10,00,000
LISTED	1 MAHENDRA SWARUP	1	INE909H08188	10,00,000	10,00,000
LISTED	1 SANJAY RAMBHAJ GARG	1	INE909H08188	10,00,000	10,00,000
LISTED	1 VISPY KEKI DALAL	1	INE909H08188	10,00,000	10,00,000
LISTED	1 LUKE DE NORONHA	1	INE909H08188	10,00,000	10,00,000
LISTED	1 SIDDHARTH BHATT	1	INE909H08188	10,00,000	10,00,000
LISTED	1 SUNIT KUMAR BASU	1	INE909H08188	10,00,000	10,00,000
LISTED	1 LYNETTE PANJWANI	1	INE909H08188	10,00,000	10,00,000
LISTED	1 SABINA ANOOP SAKRANEY	2	INE909H08188	10,00,000	20,00,000
LISTED	1 SURESH MADHAV KINI	1	INE909H08188	10,00,000	10,00,000
LISTED	1 ANEETA RAGHUNATH MHAPSEKAR		INE909H08188	10,00,000	10,00,000
LISTED	1 DEEPIKA BAHETI		INE909H08188	10,00,000	10,00,000
LISTED	1 ARVIND GAJANAN PATANKAR		INE909H08188	10,00,000	10,00,000
LISTED	1 SUBRAMANIAN VISWANATHAN		INE909H08188	10,00,000	10,00,000
LISTED	1 BHARATI CHANDRAKANT SHAH		INE909H08188	10,00,000	1,00,00,000
LISTED	1 SHEKAR L AMIN		INE909H08188	10,00,000	20.00.000
LISTED	1 SHANTILAL POPATLAL VORA		INE909H08188	10,00,000	10,00,000
LISTED	1 JYOTI JAYANT GOGTE	_	INE909H08188	10,00,000	10,00,000
LISTED	1 RAJAGOPAL NARAYAN		INE909H08188	10,00,000	10,00,000
		_			-,,
LISTED	1 WYNETTA KURIAN		INE909H08188	10,00,000	10,00,000
LISTED	1 SRINIVASAN.A		INE909H08188	10,00,000	10,00,000
LISTED	1 AMIT KUMAR SOOD		INE909H08188	10,00,000	20,00,000
LISTED	1 K S RAGHUNANDANA		INE909H08188	10,00,000	20,00,000
LISTED	1 SWATI SHARAD SHETH		INE909H08188	10,00,000	10,00,000
LISTED	1 KRITTIKA DHANESH RAHEJA		INE909H08188	10,00,000	10,00,000
LISTED	1 VAIBHAV DHANESH RAHEJA		INE909H08188	10,00,000	10,00,000
LISTED	1 MUKESH MANGALDAS SHAH	1	INE909H08188	10,00,000	10,00,000
LISTED	1 CHANDRAVADAN AMBALAL DOSHI	1	INE909H08188	10,00,000	10,00,000
LISTED	1 RAJESH GUPTA	3	INE909H08188	10,00,000	30,00,000
LISTED	1 AASHIR MINESH SHAH	1	INE909H08188	10,00,000	10,00,000
LISTED	1 NAYNABEN V SHAH		INE909H08188	10,00,000	10,00,000
LIGILL		1	1112/0/1100100	10,00,000	

LISTED	1 MANOJIT ROY	1 INEQUALIO9199	10,00,000	10.00.000
LISTED	1 Pratibha Jhota	1 INE909H08188 2 INE909H08188	10,00,000	10,00,000 20,00,000
LISTED	1 Bimal Arunbhai Shukla	2 INE909H08188	10,00,000	/ /
LISTED	1 Aditya Sanghi	1 INE909H08188	10,00,000	20,00,000 10,00,000
LISTED	1 SUJOY DATTA	2 INE909H08188	10,00,000	20,00,000
LISTED	1 KISHOR CHAND KATOCH	1 INE909H08188	10,00,000	10,00,000
LISTED	1 ARUN KUMAR SARKAR	1 INE909H08188	10,00,000	10,00,000
LISTED	1 ANUPAM MADAN PAREEK	1 INE909H08188	10,00,000	10,00,000
LISTED	1 LYNN MANU PARPIA	1 INE909H08188		10,00,000
LISTED	1 CHANDNI AVIN SHAH	1 INE909H08188	10,00,000	
LISTED	1 HEMINI JOSHI	1 INE909H08188	10,00,000	10,00,000
LISTED	1 VIOLET DSA	2 INE909H08188	10,00,000	10,00,000 20,00,000
LISTED	1 VIDYA UNNIKRISHNAN	1 INE909H08188	10,00,000	10,00,000
LISTED	1 LEKSHMAN VENUGOPAL	1 INE909H08188	10,00,000	10,00,000
	1 SEEMA GARG	1 INE909H08188	10,00,000	10,00,000
LISTED			, ,	/ /
LISTED	1 AJOY KUMAR JHA	1 INE909H08188	10,00,000	10,00,000
LISTED	1 GRISHMA PRASAD	1 INE909H08188	10,00,000	10,00,000
LISTED	1 SHRUTI RAVI AGRAWAL	1 INE909H08188	10,00,000	10,00,000
LISTED	1 KRITI R AGRAWAL	1 INE909H08188	10,00,000	10,00,000
LISTED	1 NAYAN TULSIDAS SHAH	1 INE909H08188	10,00,000	10,00,000
LISTED	1 RAJNI NARAYAN BHUTA	1 INE909H08188	10,00,000	10,00,000
LISTED	1 K V RANGASWAMI	3 INE909H08188	10,00,000	30,00,000 50,00,000
LISTED	1 REKHA GUPTA	5 INE909H08188	10,00,000	50,00,000
LISTED	1 URBAN WALTER SERRAO	2 INE909H08188	10,00,000	20,00,000
LISTED	1 RITU SHARMA	1 INE909H08188	10,00,000	10,00,000
LISTED	1 MANJUSHA MAKARAND SHETE .	1 INE909H08188	10,00,000	10,00,000
LISTED	1 DINESH KUMAR GUPTA .	3 INE909H08188	10,00,000	30,00,000
LISTED	1 PADMAJA ARYASOMAYAJULA .	1 INE909H08188	10,00,000	10,00,000
LISTED	1 AVINASH CHANDRA SANGAL	1 INE909H08188	10,00,000	10,00,000
LISTED	1 NARAYAN CHINTAMAN JOSHI	1 INE909H08188	10,00,000	10,00,000
LISTED	1 DIVIYA KUMARI .	1 INE909H08188	10,00,000	10,00,000
LISTED	1 RUDY DARA BILLIMORIA	1 INE909H08188	10,00,000	10,00,000
LISTED	1 URMILA ANANT PATWARDHAN	1 INE909H08188	10,00,000	10,00,000
LISTED	1 DARA HORMUSJI MASTER	1 INE909H08188	10,00,000	10,00,000
LISTED	1 AMIT PRAVINCHANDRA KANAKIA	2 INE909H08188	10,00,000	20,00,000
LISTED	1 AMIT PRAVINCHANDRA KANAKIA	1 INE909H08188	10,00,000	10,00,000
LISTED	1 DEEPA AMIT KANAKIA	1 INE909H08188	10,00,000	10,00,000
LISTED	1 SANJANA SANJU BANIYA	2 INE909H08188	10,00,000	20,00,000
LISTED	1 KALPANA YOGESH SHAH	1 INE909H08188	10,00,000	10,00,000
LISTED	1 YOGESH RAMANLAL SHAH	1 INE909H08188	10,00,000	10,00,000
LISTED	1 NASIMBANU J SINDHI	1 INE909H08188	10,00,000	10,00,000
LISTED	1 DEVANG HARISHBHAI SUKHADIA	1 INE909H08188	10,00,000	10,00,000
LISTED	1 MAHENDRA R DAVE	1 INE909H08188	10,00,000	10,00,000
LISTED	1 ALKA ASHOK CHOKSEY	2 INE909H08188	10,00,000	20,00,000
LISTED	1 K SRINIVASAN	1 INE909H08188	10,00,000	10,00,000
LISTED LISTED	1 SANKARAN RAMASWAMY	1 INE909H08188 5 INE909H08188	10,00,000	10,00,000
	1 UMA MANISH BUCH		10,00,000	50,00,000
LISTED	1 SWATI MODI	1 INE909H08188 1 INE909H08188	10,00,000	10,00,000
LISTED	1 SANTOSH DHAYAL		10,00,000	10,00,000
LISTED	1 URVASHI JAGDISH PAREKH	1 INE909H08188	10,00,000	10,00,000
LISTED	1 NAVANIL BISWAS	1 INE909H08188	10,00,000	10,00,000
LISTED	1 KAMINI PRATIKBHAI SHAH	1 INE909H08188	10,00,000	10,00,000
LISTED	1 FERSHOGER JAL GUARD	1 INE909H08188	10,00,000	10,00,000
LISTED	1 KETAN BABULAL DIYORA	1 INE909H08188	10,00,000	10,00,000
LISTED	1 ROSHNI FIRDOSH DARUWALLA	1 INE909H08188	10,00,000	10,00,000
LISTED	1 MANISHA VINAYAK SATHE	1 INE909H08188	10,00,000	10,00,000
LISTED	1 KANCHAN LATA GARG	1 INE909H08188	10,00,000	10,00,000
LISTED	1 PANKAJKUMAR CHANDRASHANKAR JOSHI	1 INE909H08188	10,00,000	10,00,000
LISTED	1 VERA CYRUS BAGWADIA	2 INE909H08188	10,00,000	20,00,000
LISTED	1 HEMANGINI HARMANBHAI PATEL	1 INE909H08188	10,00,000	10,00,000
LISTED	1 KUSUM GUPTA	1 INE909H08188	10,00,000	10,00,000
LISTED	1 PRAKASH PANTHAM	1 INE909H08188	10,00,000	10,00,000
	1 SUDESHNA MUKHOPADHYAY	1 INE909H08188	10,00,000	10,00,000

LISTED	1 TRUSTEES NAFFAR CHANDRA JUTE MILLS	1	INE909H08188	10,00,000	10,00,000
	EMPLOYEES PROVIDENT FUND				
LISTED	1 THE CHAMPDANY PROVIDENT FUND	1	INE909H08188	10,00,000	10,00,000
LISTED	1 AGI EMPLOYEES PROVIDENT FUND TRUST	1	INE909H08188	10,00,000	10,00,000
LISTED	1 INDIAN REGISTER OF SHIPPING STAFF PROVIDENT FUND	7	INE909H08188	10,00,000	70,00,000
LISTED	1 HDFC BANK LIMITED COVERED EMPLOYEES PROVIDENT FUND TRUST	250	INE909H08196	10,00,000	25,00,00,000
LISTED	1 DIAMOND VINIMAY PVT LTD	5	INE909H08204	10,00,000	50,00,000
LISTED	1 PIYUSH PREMCHANDRA GUPTA HUF		INE909H08204	10,00,000	10,00,000
LISTED	1 ABHIJIT A GAJENDRAGADKAR HUF	3	INE909H08204	10,00,000	30,00,000
LISTED	1 GUPTA SAURABH VEDPRAKASH HUF	1	INE909H08204	10,00,000	10,00,000
LISTED	1 RAJ KUMAR AGGARWAL (HUF) .	1	INE909H08204	10,00,000	10,00,000
LISTED	1 RAMESH RAMPRAKASH DHAM (HUF) .	1	INE909H08204	10,00,000	10,00,000
LISTED	1 FUTURE GENERALI INDIA INSURANCE CO LTD	93	INE909H08204	10,00,000	9,30,00,000
LISTED	1 PRATHAMA U P GRAMIN BANK	100	INE909H08204	10,00,000	10,00,00,000
LISTED	1 NAGPURKAR SUDHAKAR S	1	INE909H08204	10,00,000	10,00,000
LISTED	1 AMAR SAMIR KOTHARI	1	INE909H08204	10,00,000	10,00,000
LISTED	1 MANJUNATH DAMODAR NAYAK		INE909H08204	10,00,000	10,00,000
LISTED	1 SOUNDARAM RAJENDRAN		INE909H08204	10,00,000	10,00,000
LISTED LISTED	1 DEOKI NANDAN SARAF 1 T S EASWARAN		INE909H08204 INE909H08204	10,00,000	10,00,000
LISTED	1 HUSEINI VASANWALA	1	INE909H08204	10,00,000	10,00,000
LISTED	1 HEMLATA JOSHI	1	INE909H08204	10,00,000	10,00,000
LISTED	1 DEEPALI POTDAR	1	INE909H08204	10,00,000	10,00,000
LISTED	1 VIVEK CHANDRAKANT GADKARI	1	INE909H08204	10,00,000	10,00,000
LISTED	1 PRADIP KUMAR CHATTOPADHYAY	1	INE909H08204	10,00,000	10,00,000
LISTED	1 RAKESH YADRAM SINGHAL	1	INE909H08204	10,00,000	10,00,000
LISTED	1 RAVI VITHAL RAO	1	INE909H08204	10,00,000	10,00,000
LISTED	1 KUSUM RATANLAL KANDOI	1	INE909H08204	10,00,000	10,00,000
LISTED	1 NAVIN NEELAYA BANGERA	1	INE909H08204	10,00,000	10,00,000
LISTED	1 VANDANA SABHARWAL	1	INE909H08204	10,00,000	10,00,000
LISTED	1 SUNITA NAYAK		INE909H08204	10,00,000	10,00,000
LISTED	1 ANITA NAVIN BANGERA	2	INE909H08204	10,00,000	20,00,000
LISTED	1 KALPANA DINESHKUMAR SHAH	1	INE909H08204	10,00,000	10,00,000
LISTED	1 DINESHKUMAR VITHALDAS SHAH	1	INE909H08204	10,00,000	10,00,000
LISTED LISTED	1 DARA SORABJI MODY 1 HETAL PARTH MEHTA	1	INE909H08204 INE909H08204	10,00,000	10,00,000
LISTED	1 PRAVEEN MODY		INE909H08204 INE909H08204	10,00,000	20,00,000
LISTED	1 SANDIP BASU		INE909H08204	10,00,000	50,00,000
LISTED	1 MEENA SUHAS KOKAD		INE909H08204	10,00,000	10,00,000
LISTED	1 SUSAN MASTER		INE909H08204	10,00,000	10,00,000
LISTED	1 JAYABEN PRAVINCHANDRA SHAH		INE909H08204	10,00,000	10,00,000
LISTED	1 WIN-MEDICARE LTD EMP PF	5	INE909H08204	10,00,000	50,00,000
LISTED	1 GUJARAT GUARDIAN LIMITED EMPLOYEES PROVIDENT FUND	1	INE909H08204	10,00,000	10,00,000
LISTED	1 PUNE ZILLA MADHYAWARTI SAHAKARI BANK MARYADITPROVIDENT FUND	5	INE909H08204	10,00,000	50,00,000
LISTED	1 ALLAHABAD KSHETRIYA GRAMIN BANK EPF TRUST	2	INE909H08204	10,00,000	20,00,000
LISTED	1 SANOFI INDIA LTD PROVIDENT FUND	25	INE909H08204	10,00,000	2,50,00,000
LISTED	1 ICB LTD EMPLOYEES PROVIDENT FUND	10	INE909H08204	10,00,000	1,00,00,000
LISTED	1 EMPLOYEES PROVIDENT FUND TRUST DCM SHRIRAM INDUSTRIES LIMITED	5	INE909H08204	10,00,000	50,00,000

LISTED	1 NATIONAL INSTITUTE OF TECHNOLOGY	20	INE909H08204	10,00,000	2,00,00,000
LISTED	ROURKELA 1 ALEMBIC PHARMACEUTICALS LIMITED	1	INE909H08204	10,00,000	10,00,000
LISTED	PROVIDENT FUND 1 NEOSYM INDUSTRY LIMITED EMPLOYEES	5	INE909H08204	10,00,000	50,00,000
	PROVIDENT FUND				
LISTED	1 UNITED INDIA INSURANCE COMPANY LIMITED EMPLOYEES PROVIDENT FUND	50	INE909H08204	10,00,000	5,00,00,000
LISTED	1 TATA CHEMICALS LIMITED PROVIDENT FUND	3	INE909H08204	10,00,000	30,00,000
LISTED	1 CHHATTISGARH STATE ELECTRICITY BOARD GRATUITYAND PENSION FUND TRUST	30	INE909H08204	10,00,000	3,00,00,000
LISTED	1 BHARATIYA VIDYA BHAVAN STAFF CONTRIBUTORY PROVIDENT FUND	10	INE909H08204	10,00,000	1,00,00,000
LISTED	1 VOLTAS LIMITED MANAGERIAL STAFF GRATUITY FUND	20	INE909H08204	10,00,000	2,00,00,000
LISTED	1 UNITED INDIA INSURANCE COMPANY (EMPLOYEES) PENSION FUND	100	INE909H08204	10,00,000	10,00,00,000
LISTED	1 AMINES AND PLASTICIZERS LTD EMPLOYEES PROVIDENT FUND	1	INE909H08204	10,00,000	10,00,000
LISTED	1 APOLLO TYRES LTD OFFICERS PROVIDENT FUND	3	INE909H08204	10,00,000	30,00,000
LISTED	1 TITAN INDUSTRIES GRATUITY FUND	5	INE909H08204	10,00,000	50,00,000
LISTED	1 GARWARE-WALL ROPES EMPLOYEES PROVIDENT FUND	3	INE909H08204	10,00,000	30,00,000
LISTED	1 NIIT LTD EMPLOYEES PROVIDENT FUND TRUST	5	INE909H08204	10,00,000	50,00,000
LISTED	1 THE GANGES MFG CO LIMITED MILL WORKERS PROVIDENT FUND	3	INE909H08204	10,00,000	30,00,000
LISTED	1 STATE BANK OF INDIA EMPLOYEES PENSION FUND	50	INE909H08204	10,00,000	5,00,00,000
LISTED	1 PRASAD PRODUCTIONS PVT LTD	50	INE909H08212	10,00,000	5,00,00,000
LISTED	1 SERUM INSTITUTE OF INDIA PVT LTD	50	INE909H08212	10,00,000	5,00,00,000
LISTED	1 TIPSONS FINANCIAL SERVICES PVT LTD	3	INE909H08212	10,00,000	30,00,000
LISTED	1 FREIGHT LINES (INDIA) PRIVATE LIMITED	3	INE909H08212	10,00,000	30,00,000
LISTED	1 SEVAK PUBLICATIONS PVT LTD	1	INE909H08212	10,00,000	10,00,000
LISTED	1 SWITZER INSTRUMENT PRIVATE	9	INE909H08212	10,00,000	90,00,000
LISTED	1 INDFOS INDUSTRIES PRIVATE	9	INE909H08212	10,00,000	90,00,000
LISTED	1 METTA FOUNDATION	1	INE909H08212	10,00,000	10,00,000
LISTED	1 ASHOK KUMAR BHOTIKA HUF	1	INE909H08212	10,00,000	10,00,000
LISTED	1 SHAH SUNIL CHANDRAKANT HUF	1	INE909H08212	10,00,000	10,00,000
LISTED	1 ASHVIN KANTILAL SHAH HUF	1	INE909H08212	10,00,000	10,00,000
LISTED	1 CHETAN SHANTILAL SANGHVI	1	INE909H08212	10,00,000	10,00,000
LISTED	1 VIPEN SHAMLAL HOON HUF	1	INE909H08212	10,00,000	10,00,000
LISTED	1 ABHISHEK MAHESHWARI HUF	2	INE909H08212	10,00,000	20,00,000
LISTED	1 THAKKAR MAHESH NATWARLAL	1	INE909H08212	10,00,000	10,00,000
LISTED	1 HARSHAD RAMANLAL MODI (HUF)	2	INE909H08212	10,00,000	20,00,000
LISTED LISTED	1 RAM AVTAR GUPTA	1	INE909H08212	10,00,000	10,00,000
	1 NAGPURKAR SUDHAKAR S	2	INE909H08212	10,00,000	20,00,000
LISTED	1 DAMINI P SHAH	1	INE909H08212	10,00,000	10,00,000
LISTED LISTED	1 SALONI KHARE 1 TARUN AIYAR	1	INE909H08212 INE909H08212	10,00,000	10,00,000
		1			10,00,000
LISTED LISTED	1 MAYUR SHANTIBHAI AMIN 1 SURESH NARAINDAS VASWANI	1	INE909H08212 INE909H08212	10,00,000 10,00,000	10,00,000
LISTED	1 N KRISHNAN	1	INE909H08212 INE909H08212	10,00,000	10,00,000
LISTED	1 SARLA BAPNA	1	INE909H08212	10,00,000	10,00,000

	1 RAJIV GAJANAN VAIDYA	2	INE909H08212	10,00,000	20,00,000
LISTED LISTED	1 SUSHMA JAIN		INE909H08212	10,00,000	10,00,000
LISTED	1 SANJEEV KUMAR		INE909H08212	10.00,000	2,00,00,000
LISTED	1 ALPA ASHVIN SHAH		INE909H08212	10,00,000	10,00,000
LISTED	1 VARSHA CHANDRAKANT SHAH	5	INE909H08212	10,00,000	50,00,000
LISTED	1 AISHA MOIN SULEMAN	6	INE909H08212	10,00,000	60,00,000
LISTED	1 PRAVIN JESHINGLAL SHAH	1	INE909H08212	10,00,000	10,00,000
LISTED	1 SANGITA JHA	1	INE909H08212	10,00,000	10,00,000
LISTED	1 VISHAKHA KAUSHIK SHAH	1	INE909H08212	10,00,000	10,00,000
LISTED	1 SAMEER H SAINANI	2	INE909H08212	10,00,000	20,00,000
LISTED	1 MONIKA SHARMA	1	INE909H08212	10,00,000	10,00,000
LISTED	1 PARESH BIPINBHAI PATEL	1	INE909H08212	10,00,000	10,00,000
LISTED	1 JAYANT GOYAL	2	INE909H08212	10,00,000	20,00,000
LISTED	1 DINESHKUMAR I VAGHANI	1	INE909H08212	10,00,000	10,00,000
LISTED	1 SUBRAMANYAN SIVAKAMI	1	INE909H08212	10,00,000	10,00,000
LISTED	1 SHRIKANT KRISHNAJI KULKARNI	1	INE909H08212	10,00,000	10,00,000
LISTED	1 MITA DEBASIS MITRAROY	2	INE909H08212	10,00,000	20,00,000
LISTED	1 ANEETA RAGHUNATH MHAPSEKAR	1	INE909H08212	10,00,000	10,00,000
LISTED	1 ARUNA RAMESH SANGHAVI	1	INE909H08212	10,00,000	10,00,000
LISTED	1 SUDHABEN RAMESHCHANDRA DESAI	1	INE909H08212	10,00,000	10,00,000
LISTED	1 NEERAJKUMAR P SHARMA	1	INE909H08212	10,00,000	10,00,000
LISTED	1 INDU MISHRA	2		10,00,000	20,00,000
LISTED	1 LINABEN KAMLESHBHAI VORA	1	INE909H08212	10,00,000	10,00,000
LISTED	1 ALOK KUMAR	2	INE909H08212	10,00,000	20,00,000
LISTED	1 GYANESHWAR PRASAD BHARGAVA	1	INE909H08212	10,00,000	10,00,000
LISTED	1 MANAV BHARGAVA	1	INE909H08212	10,00,000	10,00,000
LISTED	1 SURINDER DHIR	1	INE909H08212	10,00,000	10,00,000
LISTED	1 REKHA GARG	1	INE909H08212	10,00,000	10,00,000
LISTED	1 BHUPENDER SINGH DADWAL	1	INE909H08212	10,00,000	10,00,000
LISTED	1 HARSHITA KHATRI	1	INE909H08212	10,00,000	10,00,000
LISTED	1 KANTA SHARMA	1	INE909H08212	10,00,000	10,00,000
LISTED	1 ANISHA AGARWAL	1	INE909H08212	10,00,000	10,00,000
LISTED	1 DAGADE MANDAKINI JAGNNATH	1	INE909H08212	10,00,000	10,00,000
LISTED	1 KANGAN MITTAL	1	INE909H08212	10,00,000	10,00,000
LISTED	1 RUCHI SETHI	1	INE909H08212	10,00,000	10,00,000
LISTED	1 JAYESH GUNVANTRAI KARIYA	1	INE909H08212	10,00,000	10,00,000
LISTED	1 BHAKTA PRIYA DEVINENI	10	INE909H08212	10,00,000	1,00,00,000
LISTED	1 NAINA DEVI JHUNJHUNWALA	1	INE909H08212	10,00,000	10,00,000
LISTED	1 RAMCHANDRA RAJU MANTHENA	1	INE909H08212	10,00,000	10,00,000
LISTED	1 DHANISHTA SHARMA	1	INE909H08212	10,00,000	10,00,000
LISTED	1 BHARATI TAHIL MIRCHANDANI	1	INE909H08212	10,00,000	10,00,000
LISTED	1 GAUTAM SHRINIWAS KHARE	1	INE909H08212	10,00,000	10,00,000
LISTED	1 AVAN VIRAPH VANDREWALLA	1	INE909H08212	10,00,000	10,00,000
LISTED	1 MELANIE FERNANDEZ	1	INE909H08212	10,00,000	10,00,000
LISTED	1 SURENDRA NATH AGARWAL	1	INE909H08212	10,00,000	10,00,000
LISTED	1 NANDKUMAR VISHWANATH SHERKAR	1	INE909H08212	10,00,000	10,00,000
LISTED	1 ANAND KUMAR	1	INE909H08212	10,00,000	10,00,000
LISTED	1 NEETA NARENDRA SHAH		INE909H08212	10,00,000	10,00,000
LISTED	1 RITU ASEEM NIRULA	3	INE909H08212	10,00,000	30,00,000
LISTED	1 MANJULA GOVINDBHAI SARDHARA	1	INE909H08212	10,00,000	10,00,000
LISTED	1 TUSAR MOHATA	1	INE909H08212	10,00,000	10,00,000
LISTED	1 MONIKA NUWAL	1	INE909H08212	10,00,000	10,00,000
LISTED	1 VAIBHAV KETAN SANGHVI	1	INE909H08212	10,00,000	10,00,000
LISTED	1 ASHOK RATILAL CHOKSEY	2	INE909H08212	10,00,000	20,00,000
LISTED	1 ALKA ASHOK CHOKSEY	1	INE909H08212	10,00,000	10,00,000
LISTED	1 JAYANTHRAM A P	1	INE909H08212	10,00,000	10,00,000
LISTED	1 REVATHI.	1	INE909H08212	10,00,000	10,00,000
LISTED	1 PARAM PREET SINGH	1	INE909H08212	10,00,000	10,00,000
LISTED	1 DHAVAL MAHENDRABHAI SHAH	1	INE909H08212	10,00,000	10,00,000
LISTED	1 MALLIKA RAHOUL SHAH	1	INE909H08212	10,00,000	10,00,000
LISTED	1 SHACHI NITINBHAI LAKADAWALA	1	INE909H08212	10,00,000	10,00,000
LISTED	1 TIRUPUR RAJAMANICKAM SIVASANKARI	1	INE909H08212	10,00,000	10,00,000
	I			* *	1

LISTED	1 DEEPAK RAJMAL KOTHARI		INE909H08212	10,00,000	10,00,000
LISTED	1 WIN-MEDICARE LTD EMP PF		INE909H08212	10,00,000	60,00,000
LISTED	1 TATA HOUSING DEVELOPMENT CO. LTD. EMPLOYEES PROVIDENT FUND		INE909H08212	10,00,000	40,00,000
LISTED	1 THE INDIAN IRON AND STEEL COMPANY LIMITED WORKS PROVIDENT FUND		INE909H08212	10,00,000	4,00,00,000
LISTED	1 GLOSTER JUTE MILLS LTD EMPLOYEES PROVIDENT FUND	8	INE909H08212	10,00,000	80,00,000
LISTED	1 HINDUSTHAN CHARITY TRUST PROVIDENT FUND INSTITUTION	5	INE909H08212	10,00,000	50,00,000
LISTED	1 BATA INDIA LIMITED EMPLOYEES STATUTORY PROVIDENT FUND	5	INE909H08212	10,00,000	50,00,000
LISTED	1 RINL EMPLOYEES SUPERANNUATION BENEFIT FUND TRUST	24	INE909H08212	10,00,000	2,40,00,000
LISTED	1 BOWREAH JUTE MILL EMPLOYEES PROVIDENT FUND	3	INE909H08212	10,00,000	30,00,000
LISTED	1 VISAKHAPATNAM STEEL PROJECT EMPLOYEES PROVIDENT FUND TRUST	124	INE909H08212	10,00,000	12,40,00,000
LISTED	1 GUJARAT STATE FERTILIZERS AND CHEMICALS LTD EMPLOYEES PROVIDENT FUND TRUST	45	INE909H08212	10,00,000	4,50,00,000
LISTED	1 SOUTHCO EMPLOYEES PROVIDENT FUND TRUST	17	INE909H08212	10,00,000	1,70,00,000
LISTED	1 ASEB EMPLOYEES PENSION FUND INVESTMENT TRUST	20	INE909H08212	10,00,000	2,00,00,000
LISTED	1 EMPLOYEES PROVIDENT FUND TRUST DCM SHRIRAM INDUSTRIES LIMITED	17	INE909H08212	10,00,000	1,70,00,000
LISTED	1 ALEMBIC PHARMACEUTICALS LIMITED PROVIDENT FUND	10	INE909H08212	10,00,000	1,00,00,000
LISTED	1 CHHATTISGARH STATE ELECTRICITY BOARD GRATUITYAND PENSION FUND TRUST	50	INE909H08212	10,00,000	5,00,00,000
LISTED	1 MAZAGON DOCK LTD OPERATIVES PROVIDENT FUND	30	INE909H08212	10,00,000	3,00,00,000
LISTED	1 FORTIS HEALTHCARE LTD PROVIDENT FUND TRUST	5	INE909H08212	10,00,000	50,00,000
LISTED	1 THE ASSEMBLY OF GOD CHURCH SCHOOL STAFF PROVIDENT FUND	2	INE909H08212	10,00,000	20,00,000
LISTED	1 ST THOMAS DAY SCHOOL EMPLOYEES PROVIDENT FUND	1	INE909H08212	10,00,000	10,00,000
LISTED	1 PRATT MEMORIAL SCHOOL EMPLOYEES GRATUITY FUND	1	INE909H08212	10,00,000	10,00,000
LISTED	1 GODREJ AND BOYCE MFG CO LTD EMPLOYEES GRATUITY FUND	5	INE909H08212	10,00,000	50,00,000
LISTED	1 INSTITUTE OF ECONOMIC GROWTH EMPLOYEES PROVIDENT FUND TRUST	2	INE909H08212	10,00,000	20,00,000
LISTED	1 VOLTAS MANAGERIAL STAFF PROVIDENT FUND	40	INE909H08212	10,00,000	4,00,00,000
LISTED	1 VOLTAS LIMITED EMPLOYEES SUPERANNUATION SCHEME	10	INE909H08212	10,00,000	1,00,00,000
LISTED	1 BLUE STAR EMPLOYEES PROVIDENT FUND	6	INE909H08212	10,00,000	60,00,000
LISTED	1 BHORUKA PROVIDENT FUND TRUST	2	INE909H08212	10,00,000	20,00,000
LISTED	1 HOUSING DEVELOPMENT FINANCE CORPORATION LTD -PROVIDENT FUND		INE909H08212	10,00,000	70,00,000
LISTED	1 TRANSCORP PROVIDENT FUND TRUST	1	INE909H08212	10,00,000	10,00,000

LISTED	1	STAFF PROVIDENT FUND OF PIRAMAL	4	INE909H08212	10,00,000	40,00,000
		HEALTHCARE LIMITED				
LISTED	1	SANDVIK ASIA LIMITED PROVIDENT FUND	9	INE909H08212	10,00,000	90,00,000
LISTED	1	MAFATLAL GAGALBHAI AND SONS AND	4	INE909H08212	10,00,000	40,00,000
		THE ASSOCIATED CONCERNS EMPLOYEES PROVIDENT FUND				
LICTED	1		2	DIE000H00212	10.00.000	20.00.000
LISTED		GANNON DUNKERLEY AND CO LTD PROVIDENT FUND		INE909H08212	10,00,000	30,00,000
LISTED	1	BHARAT ELECTRONICS LTD PROVIDENT FUND I	90	INE909H08212	10,00,000	9,00,00,000
LISTED	1	BHARAT ELECTRONICS LIMITED PROVIDENT FUND	20	INE909H08212	10,00,000	2,00,00,000
LISTED	1	TITAN WATCHES PROVIDENT FUND	41	INE909H08212	10,00,000	4,10,00,000
LISTED	1	THE BOARD OF TRUSTEES IPIRTIECPF		INE909H08212	10,00,000	10,00,000
LISTED	1	J N MARSHALL PVT LTD EMPLOYEES	3	INE909H08212	10,00,000	30,00,000
		PROVIDENT FUND				
LISTED	1	TITAN WATCHES SUPERANNUATION FUND	15	INE909H08212	10,00,000	1,50,00,000
LISTED	1	TITAN INDUSTRIES GRATUITY FUND	38	INE909H08212	10,00,000	3,80,00,000
LISTED	1	INDIAN POTASH LIMITED STAFF PROVIDENT FUND	13	INE909H08212	10,00,000	1,30,00,000
LISTED	1	CALYON BANK STAFF PROVIDENT FUND	11	INE909H08212	10,00,000	1,10,00,000
LISTED	1	TATA CONSULTANCY SERVICES EMPLOYEES GRATUITY FUND	500	INE909H08212	10,00,000	50,00,00,000
LISTED	1	INDIAN EXPLOSIVES LIMITED PROVIDENT FUND	1	INE909H08212	10,00,000	10,00,000
LISTED	1	PIRAMAL PHARMA LIMITED EMPLOYEES PROVIDENT FUND TRUST	2	INE909H08212	10,00,000	20,00,000
LISTED	7442		60137			59,53,80,00,000
Total						
UNLISTED	1	TMF HOLDINGS LIMITED	2000	INE601U08028	10,00,000	2,00,00,00,000
UNLISTED	1	TMF HOLDINGS LIMITED	1000	INE601U08036	10,00,000	1,00,00,00,000
UNLISTED	1	TMF HOLDINGS LIMITED	1000	INE601U08069	10,00,000	1,00,00,00,000
UNLISTED Total	3		4000			4,00,00,00,000
Grand Total	7445		64137			63,53,80,00,000

	State	ement showing		rs Finance Limited ings attended by	Directors for F.Y 2	2021-22			1
Type of	Date of the meeting	Mr. Nasser	Mrs. Vedika	Mr. P. S.	Mrs. Varsha	Mr. P.B .	Mr. Shyam	Mr. Samrat	1
	Date of the meeting			1			1 '		
Meeting		Munjee,	Bhandarkar,	Jayakumar,	Purandare,	Balaji, Non	Mani, Non	Gupta,	
		Independent	Independent	Independent	Independent,	Executive	Executive	Managing	
		Director and	Director	Director	Additional	Director	Director	Director &	
			Director	Director			Director		
		Chairman			Director (w.e.f.			CEO	
					June 16, 2021)				
									1
BOARD	A = :!! 42, 2024	Dunnant	Dunnant	Dunnant		Dunnant	Dunnant	Dunnant	
MEETING	April 12, 2021	Present	Present	Present	- -	Present	Present	Present	-
	April 30, 2021	Present	Present	Present	_	Present	Present	Present	1
	May 11, 2021	Present	Present	Present	_	Present	Present	Present	
	June 18, 2021	Present	Present	Present	Present	Present	Present	Present	1
	July 20, 2021	Present	Present	Present	Present	Present	Present	Present	†
	† - ·	1	+		+				1
	September 7, 2021	Present	Present	Present	Present	Present	Present	Present	4
	October 20, 2021	Present	Present	Present	Present	Present	Present	Present	
	November 12, 2021	Present	Present	Present	Present	Present	Present	Present	
	January 25, 2022	Present	Present	Present	Present	Present	Present	Present	1
	February 11, 2022	Present	Present	Present	Present	Present	Present	Present	†
	' ' ' 	 			+		 		-
	February 25, 2022	Present	Present	Present	Present	Present	Present	Present	1
	March 2, 2022	Present	Present	Present	Present	Present	Present	Present	
	March 21, 2022	Present	LOA	Present	Present	Present	Present	Present	1
	Total Held	13	13	13	13	13	13	13	1
	Entitled to attend	13	13	13	10	13	13	13	1
	Attended	13	12	13	10	13	13	13	1
									1
Type of	Date of the meeting	Mr. Nasser	Mrs. Vedika	Mr. P. S.	Mrs. Varsha	Mr. P.B .	Mr. Shyam	Mr. Samrat	
Meeting		Munjee,	Bhandarkar,	Jayakumar,	Purandare,	Balaji, Non	Mani, Non	Gupta,	
ŭ		Independent	Independent	Independent	Independent,	Executive	Executive	Managing	
		1 -	I -	1 '			1	1	
		Director and	Director	Director	Additional	Director	Director	Director &	
		Chairman			Director (w.e.f.		1	CEO	1
					June 16, 2021)				
AUDIT									1
COMMITTEE	April 9, 2021	_	Present	Present		Present		_	
	April 30, 2021	_	Present	Present	_	Present	_	_]
	May 11, 2021	_	Present	Present		Present	_	_	
	July 20, 2021	_	Present	Present	Present	Present	Present		1
	 ' '	_	Present	Present	LOA	Present	Present	_	†
	August 23, 2021			+	+				-
	September 7, 2021	_	Present	Present	Present	Present	Present	_	1
	October 18, 2021	_	Present	Present	Present	Present	Present	_	
	December 14, 2021		Present	Present	Present	Present			1
	 		Present	Present	Present	Present	-		†
	January 25, 2022		+				 -	- -	-
	February 25, 2022	_	Present	Present	Present	Present		_	1
	March 21, 2022	_	LOA	Present	Present	Present	l _	_	
	Total Held		11	11	11	11	11		1
	Entitled to attend		11	11	8	11	4		1
	Attended		10	11	7	11	4		1
]
Type of	Date of the meeting	Mr. Nasser	Mrs. Vedika	Mr. P. S.	Mrs. Varsha	Mr. P.B .	Mr. Shyam	Mr. Samrat	
Meeting		Munjee,	Bhandarkar,	Jayakumar,	Purandare,	Balaji, Non	Mani, Non	Gupta,	
		Independent	Independent	Independent	Independent,	Executive	Executive	Managing	
		1 -	1 -	1 -					
		Director and	Director	Director	Additional	Director	Director	Director &	
		Chairman			Director (w.e.f.			CEO	
					June 16, 2021)				
NDC.	4 - 21 20 2024	Barrant	D			Barrent			-
NRC	April 30, 2021	Present	Present	 -	 -	Present	Present	 - -	1
	May 11, 2021	Present	Present	 -		Present	Present		1
	November 12, 2021	Present	Present	Present		Present	Present		1
	March 4, 2022	Present	Present	Present		Present	Present		
	Total Held	4	4	4	<u> </u>	4	4		1
	Entitled to attend	4	4	2		4	4		1
	Attended	4	4	2	1	4	4		1
	Attenueu	-	-			7	1		1
Type of	Date of the meeting	Mr. Nasser	Mrs. Vedika	Mr. P. S.	Mrs. Varsha	Mr. P.B .	Mr. Shyam	Mr. Samrat	Ms. R
Meeting		Munjee,	Bhandarkar,	Jayakumar,	Purandare,	Balaji, Non	Mani, Non	Gupta,	Ganga
-		Independent	Independent	Independent	Independent,	Executive	Executive	Managing	Group
		1 -	1 -	1 -			1		1 .
		Director and	Director	Director	Additional	Director	Director	Director &	CFO
		Chairman			Director (w.e.f.			CEO	
					June 16, 2021)				
ALCO	June 18, 2021	_	Present	Present	Present	Present	Present	Present	Pres
	September 29, 2021	_	Present	Present	Present	Present	Present	Present	Pres
	December 17, 2021		_	Present	Present	Present	Present	Present	LC
	March 21, 2022			Present	Present	Present	Present	Present	Pres
			4	4	4	4	4	4	4
	Total Held								
	Total Held Entitled to attend		2	4	4	4	4	4	
				4 4	4 4	4	4	4 4	3

Type of Meeting	Date of the meeting	Mr. Nasser Munjee, Independent Director and Chairman	Mrs. Vedika Bhandarkar, Independent Director	Mr. P. S. Jayakumar, Independent Director	Mrs. Varsha Purandare, Independent, Additional Director (w.e.f. June 16, 2021)	Mr. P.B . Balaji, Non Executive Director	Mr. Shyam Mani, Non Executive Director	Mr. Samrat Gupta, Managing Director & CEO
RMC	June 18, 2021	_	Present	Present	Present	Present	Present	Present
	September 29, 2021	_	Present	Present	Present	Present	Present	Present
	December 17, 2021	_	_	Present	Present	Present	Present	Present
	March 21, 2022	_	_	Present	Present	Present	Present	Present
	Total Held		4	4	4	4	4	4
	Entitled to attend		2	4	4	4	4	4
	Attended		2	4	4	4	4	4
T f	Data of the marking	NA: Nassau	NAme Madille	Mar. D. C	Name Manaka	M- D D	NA: Chira	NA: Causant
Type of Meeting	Date of the meeting	Mr. Nasser Munjee, Independent Director and Chairman	Mrs. Vedika Bhandarkar, Independent Director	Mr. P. S. Jayakumar, Independent Director	Mrs. Varsha Purandare, Independent, Additional Director (w.e.f. June 16, 2021)	Mr. P.B . Balaji, Non Executive Director	Mr. Shyam Mani, Non Executive Director	Mr. Samrat Gupta, Managing Director & CEO
ITSC	August 23, 2021		Present	Present	LOA	Present	Present	-
	February 1, 2022	_	riesent	LOA	Present	Present	Present	 -
	Total Held	_	2	2	2	2	2	
	Entitled to attend		1	1	2	2	2	
	Attended		1	1	1	2	2	
Type of Meeting	Date of the meeting	Mr. Nasser Munjee, Independent Director and	Mrs. Vedika Bhandarkar, Independent Director	Mr. P. S. Jayakumar, Independent Director	Mrs. Varsha Purandare, Independent, Additional	Mr. P.B . Balaji, Non Executive Director	Mr. Shyam Mani, Non Executive Director	Mr. Samrat Gupta, Managing Director &
		Chairman			Director (w.e.f. June 16, 2021)			CEO
SRC	October 20, 2021	_	_	Present	_	_	Present	Present
	March 4, 2022	_	_	Present	_	_	Present	Present
	Total Held			2			2	2
	Entitled to attend Attended			2			2	2
Type of Meeting	Date of the meeting	Mr. Nasser Munjee, Independent Director and Chairman	Mrs. Vedika Bhandarkar, Independent Director	Mr. P. S. Jayakumar, Independent Director	Mrs. Varsha Purandare, Independent, Additional Director (w.e.f. June 16, 2021)	Mr. P.B . Balaji, Non Executive Director	Mr. Shyam Mani, Non Executive Director	Mr. Samrat Gupta, Managing Director & CEO
CSR	September 6, 2021	Present	Present				Present	Present
_	March 21, 2022	Present			_		Present	Present
	Total Held	2	2		<u> </u>	_	2	2
	Entitled to attend	2	1				2	2
	Attended	2	1				2	2
Type of Meeting	Date of the meeting	Mr. Nasser Munjee, Independent Director and Chairman	Mrs. Vedika Bhandarkar, Independent Director	Mr. P. S. Jayakumar, Independent Director	Mrs. Varsha Purandare, Independent, Additional Director (w.e.f. June 16, 2021)	Mr. P.B . Balaji, Non Executive Director	Mr. Shyam Mani, Non Executive Director	Mr. Samrat Gupta, Managing Director & CEO
ID Meeting	March 21, 2022	Present	Present	Present	Present	_		_
	Total Held	1	1	1	1			
	Entitled to attend	1	1	1	1			
	Attended	1	1	1	1			

For TATA MOTORS FINANCE LIMITED

VINAY LAVANNIS Company Secretary Membership No: A7911